
‚¸Ýğ³ž=³¼ýýş¹¾ğ³ž²

Í„=ÚÂÎ=ÓflÔÌÛÒfl=Â=pÜ~êé=qÉäÉÅçããìåáÅ~íáçåë=çÑ=bìêçéÉ=iáãáíÉÇ=
‚ÂÈ˜Î„Á=ÌÚÁ=ÚÌ=VMPpe=ÒÛÍÍÌÔÙ˜Î„ÚflÁ=ÓÔÌÒ=ÚÁÒ=ÌÛÒÁ˜‚„ÁÒ=
flÓflÁÚÂÒ„ÁÒ=ËflÁ=ÚÁÒ=ÈÌÁÓ„Ò=Òı„ÚÁË„Ò=‚ÁflÚflÏ„ÁÒ=ÚÂÒ=Ì‚Â·ÁflÒ=NVVVLRL„ËK
Ò½žÞ=×ˇ¹ˇð˙½ğ=ŠÐšĆ¦¼Þ³ž=fåíÉêåÉí=ý×−¹š˝½š=Þˇ=Ł¹š˝½š=˚Þˇ=ˇÞ½˝ł¹ˇ¾−=½ž²=
ˇ¼¦šÞ½Ðð¸²=Š¸Ýğ³ž²=³¼ýýş¹¾ğ³ž²W
ÜííéWLLïïïKëÜ~êéJãçÄáäÉKÅçã



„Ð³ˇłğł¸ N

„Ð³ˇłğł¸
Ò¼ł₣ˇ¹ž½¸¹Ðˇ=łÐˇ=½−=Þ˚−=³ˇ²=PdLrjqp=½žÝ˚¾ğÞ−I=VMPpeK

Ò₣š½Ðð˙=ýš=fl¼½ş=½−Þ=ÌŠžłş=ı¹¸³ž²
fl¼½ş²=−=ÌŠžłş²=ı¹¸³ž²=³₣šŠÐ˙³½žðš=×¹−³šð½Ðð˙=łÐˇ=Þˇ=³ˇ²=
Ł−ž¦¸³šÐ=Þˇ=łÞğ¹˝³š½š=½Ð²=Š¼Þˇ½ş½ž½š²=ðˇÐ=½Ð²=ÝšÐ½−¼¹ł˝š²=½−¼=
½žÝš¾ćÞ−¼=³ˇ²I=ł¹¸ł−¹ˇ=ðˇÐ=ˇ×−½šÝš³ýˇ½Ðð˙K

ÒÂÍ„Á˜ÒÂ
≥ Òˇ²=³¼ÞÐ³½−Ćýš=Þˇ=ð¹ˇ½¸³š½š=₣ğ¹Ð³½˙=̌ Þ½˝ł¹ˇ¾ˇ=̌ ×ş=şÝˇ=½ˇ=

³žýˇÞ½Ðð˙=ŠšŠ−ý˚Þˇ=×−¼=×š¹Ð˚₣−Þ½ˇÐ=³½ž=³¼³ðš¼¸=³ˇ²K=Û×ş=
−¹Ð³ý˚Þš²=³¼Þ¦¸ðš²I=ý×−¹š˝=Þˇ=₣ˇ¦−ĆÞ=¸=Þˇ=½¹−×−×−Ðž¦−ĆÞ=
ŠšŠ−ý˚Þˇ=³š=−×−ÐˇŠ¸×−½š=žÝšð½¹−ÞÐð¸=³¼³ðš¼¸=
ˇ×−¦¸ðš¼³ž²K=·Ðˇ=½−=Ýşł−=ˇ¼½şI=ŠšÞ=ˇÞˇÝˇýŁ˙Þ−¼ýš=ðˇý˝ˇ=
š¼¦ĆÞž=łÐˇ=ˇ×ćÝšÐˇ=¸=ˇ₣¹¸³½š¼³ž=ŠšŠ−ý˚ÞğÞI=ğ²=³¼Þ˚×šÐˇ=
š˝½š=ýž=×¹−ŁÝš×şýšÞž²=₣¹¸³ž²I=š×Ð³ðš¼¸²I=ŁÝˇŁćÞI=
ˇÞ½Ððˇ½˙³½ˇ³ž²=ý×ˇ½ˇ¹˝ˇ²I=₣¹¸³ž²=ýš½˙=½ž=Ý¸þž=½ž²=
ðˇ¦−¹Ð³ý˚Þž²=ŠÐ˙¹ðšÐˇ²=Žğ¸²=½ž²=ý×ˇ½ˇ¹˝ˇ²=š˝½š=
−×−Ðˇ³Š¸×−½š=˙ÝÝž²=ˇÐ½˝ˇ²K

≥ ‚šÞ=ˇÞˇÝˇýŁ˙Þ−¼ýš=ðˇý˝ˇ=š¼¦ĆÞžI=˚ýýš³ˇ=¸=˙ýš³ˇI=łÐˇ=
−Ðð−Þ−ýÐð˚²=ˇ×ćÝšÐš²=¸=ŠÐšðŠÐð¸³šÐ²=½¹˝½ğÞ=ˇ×ş=½ž=₣¹¸³ž=
ˇ¼½−Ć=½−¼=×¹−İşÞ½−²=ðˇÐ=½ğÞ=ÝšÐ½−¼¹łÐćÞ=½−¼I=ş×ğ²=ðÝ−×¸=
ˇ¹Ð¦ýćÞ=×Ð³½ğ½ÐðćÞ=ðˇ¹½ćÞI=ˇ×ćÝšÐˇ=¸=½¹−×−×−˝ž³ž=
ˇ×−¦žðš¼ý˚ÞğÞ=ŠšŠ−ý˚ÞğÞI=ðÝ×K

≥ ⁄Ýš²=−Ð=š×ğÞ¼ý˝š²=š½ˇÐ¹šÐćÞ=ðˇÐL¸=×¹−İşÞ½ğÞ=ˇ×−½šÝ−ĆÞ=
šý×−¹Ðð˙=³¸ýˇ½ˇ=ðˇÐL¸=ðˇ½ˇ½š¦˚Þ½ˇ=³¸ýˇ½ˇ=½ğÞ=̌ Þ½˝³½−Ð₣ğÞ=
ðˇ½ş₣ğÞK

≥ ÌÐ=ˇ×šÐð−Þ˝³šÐ²=½ž²=−¦şÞž²=šÞŠ˚₣š½ˇÐ=Þˇ=ŠÐˇ¾˚¹−¼Þ=ˇ×ş=
ˇ¼½˚²=×−¼=×ˇ¹−¼³Ð˙Ž−Þ½ˇÐ=³½−Þ=ÌŠžłş=ı¹¸³ž²K
ÌÐ=×Ýž¹−¾−¹˝š²=×−¼=×š¹Ðł¹˙¾−Þ½ˇÐ=³š=ˇ¼½ş=½−Þ=ÌŠžłş=
ı¹¸³ž²=šÞŠ˚₣š½ˇÐ=Þˇ=ˇÝÝ˙þ−¼Þ=₣ğ¹˝²=×¹−šÐŠ−×−˝ž³žK

≥ Ì¹Ð³ý˚Þš²=ˇ×ş=½Ð²=ÝšÐ½−¼¹ł˝š²=×−¼=×š¹Ðł¹˙¾−Þ½ˇÐ=³š=ˇ¼½ş=
½−Þ=ÌŠžłş=ı¹¸³ž²=šÞŠ˚₣š½ˇÐ=Þˇ=ýžÞ=¼×−³½ž¹˝Ž−Þ½ˇÐ=̌ ×ş=şÝˇ=
½ˇ=Š˝ð½¼ˇK

≥ ‚šÞ=ˇÞˇÝˇýŁ˙Þ−¼ýš=ðˇý˝ˇ=š¼¦ĆÞž=łÐˇ=×š¹Ðš₣şýšÞ−I=
×Ýž¹−¾−¹˝š²I=ðÝ×K=×−¼=˚₣−¼Þ=Ýž¾¦š˝=ˇ×ş=½−=Š˝ð½¼−K

≥ „˝ÞˇÐ=×Ð¦ˇÞşI=×š¹Ð³½ˇ³Ðˇð˙I=Þˇ=×ˇ¹−¼³Ðˇ³½−ĆÞ=³½žÞ=−¦şÞž=
ýš¹Ðð˙=ýˇĆ¹ˇ=̧ =¾ğ½šÐÞ˙=éáñÉäëK=Óˇ¹ˇðˇÝ−ĆýšI=³žýšÐć³½š=ş½Ð=
ˇ¼½ş=ŠšÞ=š×ž¹š˙ŽšÐ=ðˇý˝ˇ=ˇ×ş=½Ð²=ÝšÐ½−¼¹ł˝š²=¸=½žÞ=
ˇ×şŠ−³žK

ÓÞš¼ýˇ½Ðð˙=ŠÐðˇÐćýˇ½ˇ
ÒĆý¾ğÞˇ=ýš=½žÞ=Ð³₣Ć−¼³ˇ=Þ−ý−¦š³˝ˇ=×š¹˝=×Þš¼ýˇ½ÐðćÞ=
ŠÐðˇÐğý˙½ğÞI=ž=ˇÞˇ×ˇ¹ˇłğł¸I=½¹−×−×−˝ž³ž=ðˇÐ=₣¹¸³ž=¼ÝÐð−Ć=
×−¼=×¹−³½ˇ½šĆš½ˇÐ=ˇ×ş=½ž=Þ−ý−¦š³˝ˇ=×š¹˝=×Þš¼ýˇ½ÐðćÞ=
ŠÐðˇÐğý˙½ğÞ=Eý−¼³Ðð¸I=¾ğ½−ł¹ˇ¾˝š²I=ðÝ×KF=š×Ð½¹˚×š½ˇÐ=ýşÞ−Þ=
łÐˇ=×¹−³ğ×Ðð¸=¸=ÐŠÐğ½Ðð¸=₣¹¸³žK=„˙Þ=−=₣¹¸³½ž²=ŠšÞ=š˝ÞˇÐ=
ð˙½−₣−²=šð½š½ˇý˚ÞğÞ=×Þš¼ýˇ½ÐðćÞ=ŠÐðˇÐğý˙½ğÞ=¸=Šš=ŠÐˇ¦˚½šÐ=
¹ž½¸=˚łð¹Ð³ž=ˇ×ş=½−Þ=ð˙½−₣−=½ğÞ=×Þš¼ýˇ½ÐðćÞ=ŠÐðˇÐğý˙½ğÞ=
łÐˇ=ˇÞˇ×ˇ¹ˇłğł¸I=½¹−×−×−˝ž³ž=¸=₣¹¸³ž=ˇÞ½Ðł¹˙¾ğÞ=×−¼=
ŠžýÐ−¼¹ł¸¦žðˇÞ=¸=½¹−×−×−Ð¸¦žðˇÞ=ðˇ½D=ˇ¼½ş=½−Þ=½¹ş×−I=½ş½š=
ž=ˇÞˇ×ˇ¹ˇłğł¸I=½¹−×−×−˝ž³ž=ðˇÐ=₣¹¸³ž=½−¼=¼ÝÐð−Ć=¦šğ¹š˝½ˇÐ=
ş½Ð=ˇÞ½Ð½˝¦š½ˇÐ=³½ž=Þ−ý−¦š³˝ˇ=×š¹˝=×Þš¼ýˇ½ÐðćÞ=ŠÐðˇÐğý˙½ğÞ=
ðˇÐ=×ˇ¹˚₣š½ˇÐ=³½−Þ=ÐŠÐ−ð½¸½ž=×Þš¼ýˇ½ÐðćÞ=ŠÐðˇÐğý˙½ğÞ=½−=
ŠÐðˇ˝ğýˇ=˚łš¹³ž²=ˇ×ˇÐ½¸³šğÞ=̌ ×−Žžý˝ğ³ž²K=·Ðˇ=½−=Ýşł−=̌ ¼½şI=
³¼ÞÐ³½˙½ˇÐ=ž=ˇ×−¾¼ł¸=×ˇ¹˙Þ−ýž²=₣¹¸³ž²=½−¼=¼ÝÐð−Ć=×−¼=
×¹−³½ˇ½šĆš½ˇÐ=ˇ×ş=×Þš¼ýˇ½Ðð˙=ŠÐðˇÐćýˇ½ˇK

Úˇ=táåÇçïë=ˇ×−½šÝ−ĆÞ=³¸ýˇ=ðˇ½ˇ½š¦˚Þ=½ž²=jáÅêçëçÑí=
`çêéçê~íáçå=³½Ð²=ÂÓfl=ðˇÐL¸=³š=˙ÝÝš²=₣ć¹š²K



O „Ð³ˇłğł¸
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5,600,754 5,414,796 5,657,420 5,416,797 5,659,569
5,710,784 5,778,338

CP8 PATENT



„Ð³ˇłğł¸ P

Ú−=×¹−İşÞ=ˇ¼½ş=˚₣šÐ=ˇŠšÐ−Š−½ž¦š˝=ˇ×ş=½žÞ=jmbdJQ=sáëì~ä=m~íÉåí=mçêíÑçäáç=
iáÅÉåëÉ=łÐˇ=×¹−³ğ×Ðð¸=ðˇÐ=ýž=šý×−¹Ðð¸=₣¹¸³ž=ˇ×ş=½−Þ=ðˇ½ˇÞˇÝğ½¸=łÐˇ=EˇF=
ðğŠÐð−×−˝ž³ž=Ł˝Þ½š−=³Ćý¾ğÞˇ=ýš=½−=jmbdJQ=sáÇÉç=pí~åÇ~êÇ=E?jmbdJQ=
sáÇÉç?F=ðˇÐL¸=EŁF=ˇ×−ðğŠÐð−×−˝ž³ž=jmbdJQ=sáÇÉç=½−=−×−˝−=˚₣šÐ=
ðğŠÐð−×−Ðž¦š˝=ˇ×ş=½−Þ=ðˇ½ˇÞˇÝğ½¸=³½ˇ=×Ýˇ˝³Ðˇ=×¹−³ğ×Ðð¸²=ðˇÐ=ýž=
šý×−¹Ðð¸²=Š¹ˇ³½ž¹Ðş½ž½ˇ²=ðˇÐL¸=ˇ×−ð½¸¦žðš=ˇ×ş=˚ÞˇÞ=ˇŠšÐ−Š−½žý˚Þ−=
×ˇ¹−₣˚ˇ=Ł˝Þ½š−K=‚šÞ=×ˇ¹˚₣š½ˇÐ=−Ć½š=¼×−Þ−š˝½ˇÐ=ðˇý˝ˇ=˙ŠšÐˇ=łÐˇ=ðˇý˝ˇ=˙ÝÝž=
₣¹¸³žK=Ó¹ş³¦š½š²=×Ýž¹−¾−¹˝š²=ý×−¹−ĆÞ=Þˇ=Š−¦−ĆÞ=ˇ×ş=½žÞ=jmbd=i^K=
„×Ð³ðš¾¦š˝½š=½žÞ=Ð³½−³šÝ˝Šˇ=ÜííéWLLïïïKãéÉÖä~KÅçãK

Ú−=×¹−İşÞ=˚₣šÐ=ˇŠšÐ−Š−½ž¦š˝=ˇ×ş=½žÞ=jmbdJQ=póëíÉãë=m~íÉåí=mçêíÑçäáç=
iáÅÉåëÉ=łÐˇ=ðğŠÐð−×−˝ž³ž=Ł˝Þ½š−=³Ćý¾ğÞˇ=ýš=½−=jmbdJQ=póëíÉãë=pí~åÇ~êÇI=
šð½ş²=š˙Þ=ˇ×ˇÐ½š˝½ˇÐ=×¹ş³¦š½ž=˙ŠšÐˇ=ðˇÐ=ðˇ½ˇŁ−Ý¸=ŠÐðˇÐğý˙½ğÞ=łÐˇ=½žÞ=
ðğŠÐð−×−˝ž³ž=³₣š½Ðð˙=ýš=EˇF=ŠšŠ−ý˚Þˇ=ˇ×−¦žðš¼ý˚Þˇ=¸=ˇÞ½Ðł¹ˇýý˚Þˇ=³š=
¾¼³Ðð˙=ý˚³ˇ=½ˇ=−×−˝ˇ=š˝ÞˇÐ=×Ýž¹ğý˚Þˇ=³š=ý˝ˇ=Ł˙³ž=½˝½Ý−=×¹−²=½˝½Ý−=ðˇÐL¸=EŁF=
ŠšŠ−ý˚Þˇ=½ˇ=−×−˝ˇ=ˇ×−½šÝ−ĆÞ=Ł−¸¦šÐˇ=³š=ý˝ˇ=Ł˙³ž=½˝½Ý−=×¹−²=½˝½Ý−=ðˇÐ=
ýš½ˇŠ˝Š−Þ½ˇÐ=³½−Þ=½šÝÐðş=₣¹¸³½ž=łÐˇ=ýşÞÐýž=ˇ×−¦¸ðš¼³ž=ðˇÐL¸=₣¹¸³žK=
Ú˚½−Ðš²=×¹ş³¦š½š²=˙ŠšÐš²=ý×−¹−ĆÞ=Þˇ=Š−¦−ĆÞ=ˇ×ş=½žÞ=jmbd=i^I=ii`K=
„×Ð³ðš¾¦š˝½š=½žÞ=Ð³½−³šÝ˝Šˇ=ÜííéWLLïïïKãéÉÖä~KÅçã=łÐˇ=×¹ş³¦š½š²=
×Ýž¹−¾−¹˝š²K

jmbd=i~óÉêJP=½š₣Þ−Ý−ł˝ˇ=ðğŠÐð−×−˝ž³ž²=ý−¼³Ðð¸²=ˇŠšÐ−Š−½žý˚Þž=ˇ×ş=½Ð²=
cê~ìåÜçÑÉê=ffp=ðˇÐ=qÜçãëçåK

ı¹¸³Ðýš²=ÈšÐ½−¼¹ł˝š²=ðˇÐ=Û×ž¹š³˝š²
Ú−=½žÝ˚¾ğÞ−=³ˇ²=×¹−³¾˚¹šÐ=½ˇ=×ˇ¹ˇð˙½ğ=₣ˇ¹ˇð½ž¹Ð³½Ðð˙W
≥ ËÝ¸³šÐ²=sáÇÉçK=Í×−¹š˝½š=Þˇ=³¼Þ−ýÐÝš˝½š=ðˇÐ=½ˇ¼½ş₣¹−Þˇ=Þˇ=
ŁÝ˚×š½š=−=˚Þˇ²=½−Þ=˙ÝÝ−=³½Ð²=−¦şÞš²=³ˇ²K

≥ ÷ł₣¹ğýˇ=×ˇÐ₣Þ˝ŠÐˇ=ðˇÐ=š¾ˇ¹ý−ł˚²=Pa=g~î~∑=ýš=š×Ð½ˇ₣¼Þ½¸=
ł¹ˇ¾ÐðćÞK=Í×−¹š˝½š=̌ ðşýž=Þˇ=?ðˇ½šŁ˙³š½š?=ŠÐ˙¾−¹ˇ=×ˇÐ₣Þ˝ŠÐˇ=
ðˇÐ=š¾ˇ¹ý−ł˚²=½ž²=sçÇ~ÑçåÉ=ý˚³ğ=½−¼=ãçÄáäÉ=fåíÉêåÉíK

≥ „Þ³ğýˇ½ğý˚Þž=Ğž¾Ðˇð¸=ŁÐÞ½š−ð˙ýš¹ˇ=łÐˇ=½ž=Ý¸Ğž=
¾ğ½−ł¹ˇ¾ÐćÞ=ðˇÐ=îáÇÉç=ÅäáéëK

≥ ÈšÐ½−¼¹ł˝ˇ=łÐˇ=½žÞ=ˇÞ˙łÞğ³ž=ðˇÐ=½ž=ŠžýÐ−¼¹ł˝ˇ=ýžÞ¼ý˙½ğÞ=pjpK
≥ ÍžÞĆýˇ½ˇ=jjp=EjìäíáãÉÇá~=jÉëë~ÖáåÖ=pÉêîáÅÉëF=łÐˇ=½žÞ=

×¹−³ˇ¹ý−ł¸=½−¼=½žÝš¾ćÞ−¼=³ˇ²=ýš=×−ÝÝ−Ć²=½¹ş×−¼²K
≥ bã~áä=łÐˇ=ˇ×−³½−Ý¸=ý˚₣¹Ð=PMM=h_=ðˇÐ=Ý¸Ğž=ýžÞĆýˇ½−²=ýš=

³¼Þžýý˚Þˇ=ˇ¹₣š˝ˇK

≥ ÷ł₣¹ğý−=t^m=ÄêçïëÉê=łÐˇ=×¹ş³Łˇ³ž=³½Ð²=×Ýž¹−¾−¹˝š²=½−¼=
ãçÄáäÉ=fåíÉêåÉíK

≥ Ú−¼²=×¹−³ğ×Ðð−Ć²=³ˇ²=¸₣−¼²=ðˇÐ=îáÇÉç=ð−¼Š−¼Þ˝³ýˇ½−²K=
Í×−¹š˝½š==Þˇ=₣¹ž³Ðý−×−Ð¸³š½š=½−¼²=̧ ₣−¼²=̧ =½ˇ=̌ ¹₣š˝ˇ=îáÇÉç=
Åäáé=×−¼=˚₣š½š=ðˇ½šŁ˙³šÐ=ğ²=¸₣−=¸=îáÇÉç=Åäáé=
ð−¼Š−¼Þ˝³ýˇ½−²K

≥ flÞˇ×ˇ¹ˇłğł¸=ý−¼³Ðð¸²=×−¼=ý×−¹š˝=Þˇ=ˇÞˇ×ˇ¹˙łšÐ=ˇ¹₣š˝ˇ=
¸₣−¼=½ž²=ý−¹¾¸²=jmPI=^^`=ðˇÐ=^^`+K

≥ flÞˇ×ˇ¹ˇłğł¸=½ğÞ=ˇ¹₣š˝ğÞ=¸₣−¼=ðˇÐ=îáÇÉç=Åäáé=×−¼=˚₣š½š=
?ðˇ½šŁ˙³šÐ?K

≥ ÈšÐ½−¼¹ł˝ˇ=ž₣−ł¹˙¾ž³ž²=¾ğÞ¸²=łÐˇ=½žÞ=ˇÞˇ×ˇ¹ˇłğł¸=ðˇÐ=
½žÞ=ž₣−ł¹˙¾ž³ž=¾ğÞž½ÐðćÞ=ˇ×−³×ˇ³ý˙½ğÞK

≥ ÊĆ¹ˇ=ˇ³Ć¹ýˇ½ž²=³ĆÞŠš³ž²=_äìÉíççíÜÃ=łÐˇ=½žÞ=š×Ðð−ÐÞğÞ˝ˇ=
ðˇÐ=½ž=ýš½ˇ¾−¹˙=ŠšŠ−ý˚ÞğÞ=ýš=ŠÐ˙¾−¹š²=³¼³ðš¼˚²K=
Í×−¹š˝½š=Þˇ=ýš½ˇ¾˚¹š½š=¾ğ½−ł¹ˇ¾˝š²I=̧ ₣−¼²=ðˇÐ=îáÇÉç=Åäáéë=
³š=½žÝ˚¾ğÞˇ=ýš=₣ˇ¹ˇð½ž¹Ð³½Ðð˙=l_buK

≥ ÊĆ¹ˇ=¼×˚¹¼¦¹ğÞ=łÐˇ=½žÞ=š×Ðð−ÐÞğÞ˝ˇ=ŠšŠ−ý˚ÞğÞK=Í×−¹š˝½š=
Þˇ=ýš½ˇ¾˚¹š½š=¾ğ½−ł¹ˇ¾˝š²I=¸₣−¼²=ðˇÐ=îáÇÉç=Åäáéë=³š=
½žÝ˚¾ğÞˇ=ýš=₣ˇ¹ˇð½ž¹Ð³½Ðð˙=l_buK

≥ ÈšÐ½−¼¹ł˝ˇ=³¼ł₣¹−ÞÐ³ý−Ć=ŠšŠ−ý˚ÞğÞ=łÐˇ=½žÞ=šÞžý˚¹ğ³ž=
½ğÞ=ðˇ½ˇ₣ğ¹¸³šğÞ=½ž²=È˝³½ˇ²=„×ˇ¾ćÞ=ýš=½−=fåíÉêåÉíK

≥ ÈšÐ½−¼¹ł˝ˇ=₣¹−Þ−ŠÐˇł¹˙ýýˇ½−²=łÐˇ=½ž=ŠžýÐ−¼¹ł˝ˇ=ðˇÐ=½žÞ=
ˇ×−³½−Ý¸=ðˇ½ˇ₣ğ¹¸³šğÞ=₣¹−Þ−ŠÐˇł¹˙ýýˇ½−²=ýš=¹¼¦ý˝³šÐ²=
šÐŠ−×−˝ž³ž²K

≥ ÷þ−Š−²=sáÇÉçK=Í×−¹š˝½š=Þˇ=³¼ÞŠ˚³š½š=½−=½žÝ˚¾ğÞş=³ˇ²=³š=
˙ÝÝš²=³¼³ðš¼˚²I=ş×ğ²=½žÝšş¹ˇ³ž=¸=îáÇÉçI=ðˇÐ=Þˇ=
×¹−Ł˙ÝÝš½š=ŠšŠ−ý˚Þˇ=g~î~∑I=¾ğ½−ł¹ˇ¾˝š²=¸=îáÇÉç=ÅäáéëK

≥ Íš=½žÞ=šÞ³ğýˇ½ğý˚Þž=¾ğ½−ł¹ˇ¾Ðð¸=ýž₣ˇÞ¸=ý×−¹š˝½š=Þˇ=
³ˇ¹ć³š½š=ðš˝ýšÞˇ=ðˇÐ=ł¹ˇýýÐð−Ć²=ðğŠÐð−Ć²=ðˇÐ=Þˇ=
ŠžýÐ−¼¹ł¸³š½š=ðğŠÐð−Ć²=noK

≥ Û×−Š−₣¸=ð˙¹½ˇ²=ýÞ¸ýž²=ãáåápa∑I=ž=−×−˝ˇ=š×šð½š˝ÞšÐ=½Ð²=
Š¼Þˇ½ş½ž½š²=³ĆÞŠš³ž²=ýš=˚ÞˇÞ=¼×−Ý−łÐ³½¸I=
₣¹ž³Ðý−×−ÐćÞ½ˇ²=½žÞ=ð˙¹½ˇ=ýÞ¸ýž²K
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Óš¹Ðš₣şýšÞˇ

„Ð³ˇłğł¸ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK N
Ú−=ÚžÝ˚¾ğÞş=³ˇ² KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK T
ÏšðÐÞćÞ½ˇ² KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK U

Ú−×−¦˚½ž³ž=½ž²=Ë˙¹½ˇ²=pfj=ðˇÐ=½ž²=Í×ˇ½ˇ¹˝ˇ² KKK NN
fl¾ˇ˝¹š³ž=½ž²=Ë˙¹½ˇ²=pfj=ðˇÐ=½ž²=Í×ˇ½ˇ¹˝ˇ² KKKKKKK NO
Ùş¹½Ð³ž=½ž²=Í×ˇ½ˇ¹˝ˇ² KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NP
Ú−×−¦˚½ž³ž=½ž²=Ë˙¹½ˇ²=ÍÞ¸ýž² KKKKKKKKKKKKKKKKKKKKKKKKKKKKK NQ
fl¾ˇ˝¹š³ž=½ž²=Ë˙¹½ˇ²=ÍÞ¸ýž² KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NQ
ÒĆÞŠš³ž=½ğÞ=Ò½š¹š−¾ğÞÐðćÞ=Ù−¹ž½ćÞ=
flð−¼³½ÐðćÞ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NR
„Þš¹ł−×−˝ž³ž=ðˇÐ=fl×šÞš¹ł−×−˝ž³ž=½−¼=
ÚžÝš¾ćÞ−¼ ³ˇ² KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NR
ËÝš˝Šğýˇ=½−¼=ÓÝžð½¹−Ý−ł˝−¼ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NR
„ÞŠš˝þšÐ²=−¦şÞž² KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NS
¿Þ−Ðłýˇ=½−¼=½žÝš¾ćÞ−¼=³ˇ² KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NT

ÈšÐ½−¼¹ł˝š²=ÓÝ−¸łž³ž² KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NV
ı¹¸³ž=ýš=½žÞ=−¦şÞž=³½žÞ=ðˇÞ−ÞÐð¸=¦˚³ž KKKKKKKKKKKKKKK NV

ÈšÐ½−¼¹ł˝š²=ÙğÞž½Ðð¸²=ËÝ¸³ž²LËÝ¸³ž²=sáÇÉç KKKKKKKKKKKKKKKK OM
Ó¹ˇłýˇ½−×−˝ž³ž=ý˝ˇ²=ÙğÞž½Ðð¸²=ËÝ¸³ž² KKKKKKKKKKKKKK OM
Úˇ₣š˝ˇ=ËÝ¸³ž KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK ON
„×ˇÞ˙ðÝž³ž KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK ON
fl×˙Þ½ž³ž=ý˝ˇ²=ÙğÞž½Ðð¸²=ËÝ¸³ž² KKKKKKKKKKKKKKKKKKKKKKKKKK ON
ÍšÞ−Ć=ËÝ¸³šğÞ=EÙğÞž½Ðð¸=ðÝ¸³žF KKKKKKKKKKKKKKKKKKKKKKKKKK OO
Ó¹ˇłýˇ½−×−˝ž³ž=ý˝ˇ²=ËÝ¸³ž²=sáÇÉç KKKKKKKKKKKKKKKKKKKKKKK OR
fl×˙Þ½ž³ž=³š=ý˝ˇ=ËÝ¸³ž=sáÇÉç KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK OS

ÍšÞ−Ć=ËÝ¸³šğÞ=EËÝ¸³ž=sáÇÉçF KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK OS
„Ð³ˇłğł¸=ıˇ¹ˇð½¸¹ğÞ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK OV

flÝÝˇł¸=½ž²=·Ýć³³ˇ²=„Ð³ˇłğł¸² KKKKKKKKKKKKKKKKKKKKKKKKKKKKK PM
flÝÝˇł¸=½ž²=Íš¦şŠ−¼=„Ð³ˇłğł¸² KKKKKKKKKKKKKKKKKKKKKKKKKKKKK PM
Ú−=ÈšþÐðş=ý−¼ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK PM
ı¹¸³ž=Ó¹−½Ć×ğÞ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK PN

ı¹¸³ž=½−¼=ÍšÞ−Ć KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK PO
ËĆ¹Ð−=ýšÞ−Ć KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK PO
ÓÝ¸ð½¹ˇ=Ò¼Þ½şýš¼³ž² KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK PP

È˝³½ˇ=„×ˇ¾ćÞ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK PQ
flÝÝˇł¸=³šÐ¹˙²=−Þ−ý˙½ğÞ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK PQ
flÝÝˇł¸=½ž²=È˝³½ˇ²=×−¼=„ý¾ˇÞ˝Žš½ˇÐ KKKKKKKKKKKKKKKKKKKKKKK PQ
„×ÐÝ−ł¸=½ž²=ÍÞ¸ýž²=fl×−¦¸ðš¼³ž² KKKKKKKKKKKKKKKKKKKKKKKKK PQ
ÚˇþÐÞşýž³ž=½ğÞ=Ëˇ½ˇ₣ğ¹¸³šğÞ=È˝³½ˇ²=
„×ˇ¾ćÞ= KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK PR
Ó¹−³¦¸ðž=Î˚ˇ²=„×ˇ¾¸² KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK PR
Ó¹−Ł−Ý¸=Èš×½−ýš¹šÐćÞ=³½Ð²=„×ˇ¾˚²=ý−¼ KKKKKKKKKKKKKK PR
flÞ½Ðł¹ˇ¾¸=Ëˇ½ˇ₣ğ¹¸³šğÞ=È˝³½ˇ²=„×ˇ¾ćÞ=ýš½ˇþĆ=
Ë˙¹½ˇ²=pfj= ðˇÐ=Ò¼³ðš¼¸² KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK PR
„Ć¹š³ž=ÌÞşýˇ½−² KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK PS
ËÝ¸³ž=ˇ×ş=½ž=È˝³½ˇ=„×ˇ¾ćÞ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK PS
„×šþš¹łˇ³˝ˇ=Ëˇ½ˇ₣ğ¹¸³šğÞ=½ž²=È˝³½ˇ²=
„×ˇ¾ćÞ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK PS
flÞ½Ð³½−˝₣ž³ž=◊₣−¼=Ë−¼Š−¼Þ˝³ýˇ½−²=¸=sáÇÉç=`äáé=
Ë−¼Š−¼Þ˝³ýˇ½−²=³š=ð˙¦š=Ëˇ½ˇ₣ć¹ž³ž KKKKKKKKKKKKKKKKKKK PT
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‚Ðˇł¹ˇ¾¸=Ëˇ½ˇ₣ğ¹¸³šğÞ=½ž²=È˝³½ˇ²=„×ˇ¾ćÞ KKKKKKKPT
‚Ðˇ₣š˝¹Ð³ž=Ëˇ½žł−¹˝ˇ² KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKPT
Ìý˙Šš²=š×ˇ¾ćÞ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKPU
Ëˇ½˙³½ˇ³ž=ÍÞ¸ýž² KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKPV
È˝³½ˇ=Úˇ₣š˝ˇ²=ËÝ¸³ž² KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKPV
fl×−³½−Ý¸=ý˝ˇ²=Ëˇ½ˇ₣ć¹ž³ž²=È˝³½ˇ²=„×ˇ¾ćÞ KKKKKKKKPV
È¸Ğž=ý˝ˇ²=Ëˇ½ˇ₣ć¹ž³ž²=È˝³½ˇ²=„×ˇ¾ćÞ KKKKKKKKKKKKKKKPV
fl×−³½−Ý¸=ÍžÞĆýˇ½−²=ÙğÞž½Ðð−Ć=fl×−³×˙³ýˇ½−²=¸=
ÍžÞĆýˇ½−²=sáÇÉç=`äáé=ı¹ž³Ðý−×−ÐćÞ½ˇ²=ý˝ˇ=
‚ÐšĆ¦¼Þ³ž=ˇ×ş=½ž=È˝³½ˇ=„×ˇ¾ćÞ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKQM
Ò¼ł₣¹−ÞÐ³ýş²=Ëˇ½ˇ₣ğ¹¸³šğÞ=È˝³½ˇ²=„×ˇ¾ćÞ=ýš=
ˇ¼½˚²=×−¼=¼×˙¹₣−¼Þ=³½−=fåíÉêåÉí KKKKKKKKKKKKKKKKKKKKKKKKKKKKKQM

Ùğ½−ł¹ˇ¾Ðð¸=Íž₣ˇÞ¸ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKQN
È¸Ğž=Ùğ½−ł¹ˇ¾ÐćÞ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKQN
„łł¹ˇ¾¸=sáÇÉç=`äáéë KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKQO
ı¹¸³ž=½−¼=ÍšÞ−Ć=„×ÐÝ−łćÞ=ýš=½žÞ=Ì¦şÞž=³½ž=
Ê˚³ž=Ó¹−Ł−Ý¸² KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKQO
Ë−ÐÞ˚²=ÈšÐ½−¼¹ł˝š²=łÐˇ=½ž=ÈšÐ½−¼¹ł˝ˇ=
Ùğ½−ł¹ˇ¾Ðð¸² Íž₣ˇÞ¸²=ðˇÐ=½ž=ÈšÐ½−¼¹ł˝ˇ=
sáÇÉç KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKQO
ÈšÐ½−¼¹ł˝š²=Ùğ½−ł¹ˇ¾Ðð¸²=Íž₣ˇÞ¸² KKKKKKKKKKKKKKKKKKKKKKQR
ÈšÐ½−¼¹ł˝š²=‡ÐÞ½š−ð˙ýš¹ˇ² KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKQT

ÍžÞĆýˇ½ˇ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKQV
pjp KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKQV
jjp KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKQV
bã~áä KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKQV
‚žýÐ−¼¹ł˝ˇ=Î˚−¼=ÍžÞĆýˇ½−² KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKRM
Ô¼¦ý˝³šÐ²=ÍžÞ¼ý˙½ğÞ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKRS

sçÇ~ÑçåÉ=äáîÉ> KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKSM
Óš¹Ð¸łž³ž=³š=ý˝ˇ=ÒšÝ˝Šˇ=t^m KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKSN

Í−¼³Ðð¸ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKSP
flÞˇ×ˇ¹ˇłğł¸=Í−¼³Ðð¸² KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKSP

Ú−=¼ÝÐðş=ý−¼ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKSR
Ùğ½−ł¹ˇ¾˝š² KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKSR
◊₣−Ð=C=Ë−¼Š−¼Þ˝³ýˇ½ˇ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKSS
sáÇÉçë KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKST
¿ÝÝˇ=÷łł¹ˇ¾ˇ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKST
Ë−ÐÞ˙=ÍšÞ−Ć=„×ÐÝ−łćÞ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKSU
ÓˇÐ₣Þ˝ŠÐˇ=C=„¾ˇ¹ý−ł˚² KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKTN
Ó¹ş½¼×ˇ=Ëš˝ýšÞˇ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKTN
Ëˇ½˙³½ˇ³ž=ÍÞ¸ýž² KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKTN

‚Ðˇ³ð˚Šˇ³ž KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKTO
ÓˇÐ₣Þ˝ŠÐˇ=C=„¾ˇ¹ý−ł˚² KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKTO
Ô¼¦ý˝³šÐ² KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKTQ
qs=C=sáÇÉç KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKTS

fl½Ž˚Þ½ˇ=C=„¹łˇÝš˝ˇ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKUM
Âýš¹−ÝşłÐ− KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKUM
Ï¼×Þž½¸¹Ðˇ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKUP
fl¹Ð¦ý−ýž₣ˇÞ¸ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKUQ
Â₣−ł¹˙¾ž³ž=ÙğÞ¸² KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKUR
Òˇ¹ğ½¸² KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKUS
bJ_ççâ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKUT
ı¹−Þşýš½¹− KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKUU
„¹łˇ³˝š² KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKUU
Óˇłðş³ýÐˇ=›¹ˇ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKVM
flÞ½˝³½¹−¾ž=Í˚½¹ž³ž KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKVM
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Òžýš˝ğ³ž=„þşŠğÞ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK VM
‡−¸¦šÐˇ=ÚžÝš¾ćÞ−¼ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK VN

„¾ˇ¹ý−ł˚²=pfj KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK VO
Ô¼¦ý˝³šÐ² KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK VP

Ó¹−¾˝Ý KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK VP
ÔĆ¦ýÐ³ž=½ž²=Ì¦şÞž² KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK VT
Ô¼¦ý˝³šÐ²=◊₣−¼ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NMM
Âýš¹−ýžÞ˝ˇ=C=›¹ˇ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NMM
ÔĆ¦ýÐ³ž=·Ýć³³ˇ² KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NMN
Ô¼¦ý˝³šÐ²=ËÝ¸³šğÞ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NMO
Ô¼¦ý˝³šÐ²=ËÝ¸³šğÞ=sáÇÉç KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NMS
fl³¾˙ÝšÐˇ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NMT
„×ˇÞˇ¾−¹˙=Ô¼¦ý˝³šğÞ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NMU

fl¹₣š˝−=ËÝ¸³šğÞ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NMV
Íš½¹ž½˚²=ËÝ¸³šğÞ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NMV
Íš½¹ž½¸²=‚šŠ−ý˚ÞğÞ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NMV
Ëş³½−²=ËÝ¸³šğÞ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NNM

Ò¼ÞŠš³Ðýş½ž½ˇ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NNN
_äìÉíççíÜ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NNN
Û×˚¹¼¦¹š² KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NNP
Ô¼¦ý˝³šÐ²=‚Ðð½Ć−¼ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NNQ
ÈšÐ½−¼¹ł˝ˇ=³š=×½¸³ž KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NNR
Ô¼¦ý˝³šÐ²=fåíÉêåÉí KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NNR
Ë˙¹½ˇ=ÍÞ¸ýž² KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NNS

ÒĆÞŠš³ž=½−¼=VMPpe=ýš=½−Þ=Û×−Ý−łÐ³½¸=Òˇ² KKKKKKKKKKKKKKKKKKK NNU
fl×ˇÐ½¸³šÐ²=Ò¼³½¸ýˇ½−² KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NNU
ÍşÞ½šý=PdLdpj KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NNU
e~åÇëÉí=j~å~ÖÉê KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NNV

„łðˇ½˙³½ˇ³ž=È−łÐ³ýÐð−Ć KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NNV
Òžýš˝ğ³ž KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NNV

flÞ½Ðýš½ć×Ð³ž=Ó¹−ŁÝžý˙½ğÞ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NOM
Û×−Šš˝þšÐ²=fl³¾ˇÝš˝ˇ²=ðˇÐ=⁄¹−Ð=ı¹¸³ž² KKKKKKKKKKKKKKKKKKKKKKKKK NOO

ÌÔÌÁ=ıÔÂÒÂÒ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NOO
Ó„ÔÁ‡flÈÈÌÎ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NOR
ÓÔÌÙÛÈflÏ„ÁÒ=Òı„ÚÁËfl=Í„=ÚÂ=ıÔÂÒÂ=Ò„=
ÌıÂÍflÚfl KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NOR
p^o KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NOR
ÓÈÂÔÌÙÌÔÁ„Ò=Òı„ÚÁËfl=Í„=ÚÂÎ=flÓÌÔÔÁˆÂ=
„ÏÌÓÈÁÒÍÌÛ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NOS
ÓÔÌÙÛÈflÏ„ÁÒ=·Áfl=ıÔÂÒÂ=ÒÚÁÒ=ÂÓfl KKKKKKKKKKKKKKKKKKKKK NOT

Úš₣ÞÐð˙=ıˇ¹ˇð½ž¹Ð³½Ðð˙=ðˇÐ=Ó¹−ˇÐ¹š½Ðð˙=ˇþš³−¼˙¹ KKKKK NOV
Úš₣ÞÐð˙=ıˇ¹ˇð½ž¹Ð³½Ðð˙ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NOV
Ó¹−ˇÐ¹š½Ðð˙=ˇþš³−¼˙¹ KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NOV

„¼¹š½¸¹Ð− KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NPM
È˝³½ˇ=½ğÞ=ÈšÐ½−¼¹łÐćÞ=ÍšÞ−Ć KKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKKK NPO



Ú−=ÚžÝ˚¾ğÞş=³ˇ² T

Ú−=ÚžÝ˚¾ğÞş=³ˇ²
Óˇ¹ˇðˇÝ−ĆýšI=šÝ˚łþ½š=×¹−³šð½Ðð˙=½ˇ=×ˇ¹ˇð˙½ğK=Ú−=×Ý¸¹š²=
×ˇð˚½−=×ˇ¹˙Š−³ž²=½−¼=½žÝš¾ćÞ−¼=³ˇ²=×¹˚×šÐ=Þˇ=×š¹Ð˚₣šÐ=½ˇ=
šþ¸²W

≥ ÚžÝ˚¾ğÞ−=Pd=ErjqpFLdpj=VMMLNUMMLNVMMLdmop
≥ Í×ˇ½ˇ¹˝ˇ=ÁşÞ½ğÞ=ÈÐ¦˝−¼
≥ Ë˙Ý¼ýýˇ=Í×ˇ½ˇ¹˝ˇ²
≥ Ù−¹½Ð³½¸=šÞˇÝÝˇ³³şýšÞ−¼=¹šĆýˇ½−²=E^`F
≥ Ò½š¹š−¾ğÞÐð˙=Ù−¹ž½˙=flð−¼³½Ðð˙
≥ ÌŠžłş²=ı¹¸³ž²
≥ ·¹¸ł−¹−²=ÌŠžłş²=÷Þˇ¹þž²
≥ `aJolj
≥ Ë˙¹½ˇ=ýÞ¸ýž²=ãáåápa∑
≥ ËˇÝćŠÐ−=sáÇÉç
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ÏšðÐÞćÞ½ˇ² V

NK flð−¼³½Ððş
OK ÓÝ¸ð½¹ˇ=ÓÝ−¸łž³ž²=EÓÝ¸ð½¹ˇ=‡˚Ý−¼²FW

a=b=c=d Íš½ˇðÐÞ−ĆÞ=½−=Š¹−ý˚ˇ=łÐˇ=½−=
ýˇ¹ð˙¹Ð³ýˇ=šÞş²=³½−Ð₣š˝−¼=½−¼=
ýšÞ−Ć=ðÝ×K

ÓÝ¸ð½¹ˇ=Ł˚Ý−¼²
„×˙ÞğLË˙½ğW=

„ý¾ˇÞ˝ŽšÐ=½Ð²=ðˇ½ˇ₣ğ¹¸³šÐ²=½ž²=
È˝³½ˇ²=„×ˇ¾ćÞ=³½žÞ=ðˇ½˙³½ˇ³ž=
ˇÞˇý−Þ¸²K

fl¹Ð³½š¹ş=×Ý¸ð½¹−=
Ł˚Ý−¼²W=

„ý¾ˇÞ˝ŽšÐ=½ˇ=šÐ³š¹₣şýšÞˇ=ýžÞĆýˇ½ˇ=
³½žÞ=ðˇ½˙³½ˇ³ž=ˇÞˇý−Þ¸²K

‚šþ˝=×Ý¸ð½¹−=Ł˚Ý−¼²W= „ý¾ˇÞ˝ŽšÐ=½−=ýžÞÐˇ˝−=¸=
šŁŠ−ýˇŠÐˇ˝−=žýš¹−ÝşłÐ−=³½žÞ=
ðˇ½˙³½ˇ³ž=ˇÞˇý−Þ¸²K

PK ËšÞ½¹Ððş=×Ý¸ð½¹−W „ý¾ˇÞ˝ŽšÐ=½−=ËĆ¹Ð−=ýšÞ−Ć=³½žÞ=
ðˇ½˙³½ˇ³ž=ˇÞˇý−Þ¸²=ðˇÐ=šð½šÝš˝=
½Ð²=ÝšÐ½−¼¹ł˝š²K

QK fl¹Ð³½š¹ş=ÓÝ¸ð½¹−=
„Ý˚ł₣−¼W
A

„ð½šÝš˝=½ž=ÝšÐ½−¼¹ł˝ˇ=×−¼=
šý¾ˇÞ˝Žš½ˇÐ=ð˙½ğ=ˇ¹Ð³½š¹˙=³½žÞ=
−¦şÞžK
„ý¾ˇÞ˝ŽšÐ=½−=ÍšÞ−Ć=ÍžÞ¼ý˙½ğÞ=
³½žÞ=ðˇ½˙³½ˇ³ž=ˇÞˇý−Þ¸²K

RK ÓÝ¸ð½¹−=fl×−³½−Ý¸²L
„×ˇÞ˙ðÝž³ž²W
D

Ó¹ˇłýˇ½−×−Ðš˝=¸=ˇ×−Š˚₣š½ˇÐ=
ðÝ¸³šÐ²I=šý¾ˇÞ˝ŽšÐ=½−=ˇ¹₣š˝−=
ðÝ¸³šğÞ=³½žÞ=ðˇ½˙³½ˇ³ž=
ˇÞˇý−Þ¸²K

SK ÓÝ¸ð½¹−=Ò¼Þ½şýš¼³ž²W
S

flÞ−˝łšÐ=½−=ýšÞ−Ć=³¼Þ½−ýšĆ³šğÞ=
ć³½š=Þˇ=ˇ×−ð½¸³š½š=×¹ş³Łˇ³ž=
³½Ð²=š¾ˇ¹ý−ł˚²=×−¼=š×Ð¦¼ýš˝½šK

TK ÓÝ¸ð½¹−=½žÝš¾ğÞž½¸W
G

ÓÐ˚³½š=ðˇÐ=ð¹ˇ½¸³½š=×Ðš³ý˚Þ−=łÐˇ=Þˇ=
³¼ÞŠš¦š˝½š=ýš=½−=Ë˚Þ½¹−=
ÚžÝš¾ğÞž½¸=Ešþˇ¹½˙½ˇÐ=ˇ×ş=½žÞ=
ð˙¹½ˇ=pfjFK

UK ÓÝ¸ð½¹−=* LpÜáÑíW
P

„ÞˇÝÝ˙³³šÐ=½−Þ=½Ć×−=½ğÞ=
₣ˇ¹ˇð½¸¹ğÞ=ýš½ˇþĆ=½š³³˙¹ğÞ=
š×ÐÝ−łćÞW=^ÄÅI=^_`I=NOP=ðˇÐ=~ÄÅ=
³½žÞ=−¦şÞž=šÐ³ˇłğł¸²=ðšÐý˚Þ−¼K
ÓÐ˚³½š=³½žÞ=ðˇ½˙³½ˇ³ž=ˇÞˇý−Þ¸²=
łÐˇ=Þˇ=šÐ³˙łš½š=mI=\I=J=¸=*K
ÓÐ˚³½š=ðˇÐ=ð¹ˇ½¸³½š=×Ðš³ý˚Þ−=
³½žÞ=ðˇ½˙³½ˇ³ž=ˇÞˇý−Þ¸²=łÐˇ=Þˇ=
ðÝšÐŠć³š½š=½−=×Ýžð½¹−ÝşłÐ−K

VK ‡−ž¦ž½Ðð¸=Ùğ½−ł¹ˇ¾Ðð¸=Íž₣ˇÞ¸=E„³ğ½š¹Ðð¸=Ùğ½−ł¹ˇ¾Ðð¸=
Íž₣ˇÞ¸F

NMK ËĆ¹Ðˇ=Ì¦şÞž
NNK ÍÐð¹ş¾ğÞ−=Eş½ˇÞ=ž=−¦şÞž=Ł¹˝³ðš½ˇÐ=³½ž=¦˚³ž=×¹−Ł−Ý¸²F
NOK ‚šþ˝=ÓÝ¸ð½¹−=„Ý˚ł₣−¼W

C
„ð½šÝš˝=½ž=ÝšÐ½−¼¹ł˝ˇ=×−¼=
šý¾ˇÞ˝Žš½ˇÐ=ð˙½ğ=ŠšþÐ˙=³½žÞ=−¦şÞžK
Ó¹ş³Łˇ³ž=³½−=?sçÇ~ÑçåÉ=äáîÉ>?=ýš=
½−=˙Þ−Ðłýˇ=½−¼=×¹−ł¹˙ýýˇ½−²=
×š¹Ð¸łž³ž²=³½žÞ=ðˇ½˙³½ˇ³ž=
ˇÞˇý−Þ¸²K

NPK ÓÝ¸ð½¹−=Úš¹ýˇ½Ð³ý−Ć=
ðˇÐ=„Þš¹ł−×−˝ž³ž²L
fl×šÞš¹ł−×−˝ž³ž²W
F

Úš¹ýˇ½˝ŽšÐ=ý˝ˇ=ðÝ¸³ž=ðˇÐ=
šÞš¹ł−×−Ðš˝Lˇ×šÞš¹ł−×−Ðš˝=½−=
½žÝ˚¾ğÞ−K

NQK ÓÝ¸ð½¹−=‚Ðˇł¹ˇ¾¸²L
„×Ð³½¹−¾¸²W
U

‚Ðˇł¹˙¾šÐ=½−¼²=₣ˇ¹ˇð½¸¹š²=
ˇ¹Ð³½š¹˙=ˇ×ş=½−=Š¹−ý˚ˇI=
š×Ð³½¹˚¾šÐ=³½žÞ=×¹−žł−ĆýšÞž=
−¦şÞžI=ðÝ×K

NRK ÓÝ¸ð½¹−=ý−¼³Ðð¸²W
E

„ý¾ˇÞ˝ŽšÐ=½−=ÍšÞ−Ć=Í−¼³Ðð¸²=
³½žÞ=ðˇ½˙³½ˇ³ž=ˇÞˇý−Þ¸²K

NSK ÓÝžð½¹−ÝşłÐ−



NM ÏšðÐÞćÞ½ˇ²

NTK ÓÝ¸ð½¹−=@LÒÐğ×žÝşW
R

„ý¾ˇÞ˝ŽšÐ=½žÞ=−¦şÞž=³¼ýŁşÝğÞ=³½žÞ=
−¦şÞž=šÐ³ˇłğł¸²=ðšÐý˚Þ−¼K
ÓÐ˚³½š=ðˇÐ=ð¹ˇ½¸³½š=×Ðš³ý˚Þ−=łÐˇ=
šÞˇÝÝˇł¸=½ğÞ=łÝğ³³ćÞ=³½žÞ=−¦şÞž=
šÐ³ˇłğł¸²=ðšÐý˚Þ−¼K
„Þš¹ł−×−Ðš˝=ðˇÐ=ˇ×šÞš¹ł−×−Ðš˝=½−=
¾Ýˇ²Lšþğ½š¹Ððş=¾ğ½Ð³ýş=³½ž=
ÝšÐ½−¼¹ł˝ˇ=¾ğ½−ł¹ˇ¾Ðð¸²=ýž₣ˇÞ¸²K
ÓÐ˚³½š=ðˇÐ=ð¹ˇ½¸³½š=×Ðš³ý˚Þ−=³½žÞ=
ðˇ½˙³½ˇ³ž=ˇÞˇý−Þ¸²=łÐˇ=šÞˇÝÝˇł¸=
ýš½ˇþĆ=½ğÞ=¹¼¦ý˝³šğÞ=½−¼=Ó¹−¾˝Ý=
×−¼=šÞš¹ł−×−Ð¸¦žðš=×Ð−=×¹ş³¾ˇ½ˇ=
ðˇÐ=½−¼=Ó¹−¾˝Ý=ÒÐğ×žÝşK

NUK ÍÐð¹ş¾ğÞ−
NVK Ùğ½−ł¹ˇ¾Ðð¸=Íž₣ˇÞ¸=E„þğ½š¹Ðð¸=Ùğ½−ł¹ˇ¾Ðð¸=Íž₣ˇÞ¸F
OMK Ë˙Ý¼ýýˇ=Í×ˇ½ˇ¹˝ˇ²
ONK „Þ³ğýˇ½ğý˚Þž=Ëš¹ˇ˝ˇW Ó¹−šÐŠ−×−˝ž³žW=ÍžÞ=ðˇÝĆ×½š½š=½−=

š×˙Þğ=ý˚¹−²=½−¼=½žÝš¾ćÞ−¼=ýš=½−=
₣˚¹Ð=³ˇ²=ş½ˇÞ=½−=₣¹ž³Ðý−×−Ðš˝½š=łÐˇ½˝=
ý×−¹š˝=Þˇ=š×ž¹š˙³šÐ=½žÞ=ˇ×şŠ−³ž=
½ž²=šÞ³ğýˇ½ğý˚Þž²=ðš¹ˇ˝ˇ²K

OOK Ùğ²=ðÐÞž½−ĆW ı¹ž³Ðý−×−Ðš˝½ˇÐ=ğ²=¾Ýˇ²=¸=ğ²=
šþğ½š¹Ððş²=¾ğ½Ð³ýş²=³½ž=ÝšÐ½−¼¹ł˝ˇ=
¾ğ½−ł¹ˇ¾Ðð¸²=ýž₣ˇÞ¸²K

OPK ÊĆ¹ˇ=Û×˚¹¼¦¹ğÞW Ò½˚ÝÞšÐ=ðˇÐ=ÝˇýŁ˙ÞšÐ=ŠšŠ−ý˚Þˇ=
ý˚³ğ=¼×˚¹¼¦¹ğÞK

OQK Ò½š¹š−¾ğÞÐð˙=ž₣š˝ˇ
ORK ÍÐð¹¸=È¼₣Þ˝ˇW ı¹ž³Ðý−×−Ðš˝½ˇÐ=łÐˇ=½−=Šš˝ð½ž=

¾ş¹½Ð³ž²=ý×ˇ½ˇ¹˝ˇ²I=Ùğ²=
³¼ýŁ˙Þ½−²=ðˇÐ=Ùğ²=ðˇ½˙³½ˇ³ž²K

OSK ÓÝš¼¹Ðð˙=×Ý¸ð½¹ˇ
EVLWFW

Efl¼½˙=½ˇ=ŠĆ−=×Ý¸ð½¹ˇ=ÝšÐ½−¼¹ł−ĆÞ=
ˇÞ˙×−Šˇ=ş½ˇÞ=ž=−¦şÞž=Ł¹˝³ðš½ˇÐ=³½ž=
¦˚³ž=×¹−Ł−Ý¸²KF
Íš½ˇðÐÞš˝=½−=ýˇ¹ðˇ¹Ð³ý˚Þ−=³½−Ð₣š˝−=
š×˙Þğ=¸=ð˙½ğK
ÓÐ˚³½š=³½žÞ=ðˇ½˙³½ˇ³ž=̌ Þˇý−Þ¸²=̧ =ðˇ½˙=
½ž=ŠÐ˙¹ðšÐˇ=ý˝ˇ²=ðÝ¸³ž²=łÐˇ=ˇ¼þ¸³š½š=¸=
Þˇ=ýšÐć³š½š=½žÞ=˚Þ½ˇ³ž=½−¼=ˇð−¼³½Ðð−ĆK

OTK ÓÝ¸ð½¹−=ýšÞ−ĆW
X

„ð½šÝš˝=½ž=ÝšÐ½−¼¹ł˝ˇ=×−¼=šý¾ˇÞ˝Žš½ˇÐ=
ð˙½ğ=ˇ¹Ð³½š¹˙=³½žÞ=−¦şÞžI=ýš=½žÞ=
−¦şÞž=³½ž=¦˚³ž=×¹−Ł−Ý¸²K

OUK ÓÝ¸ð½¹−=Ùğ½−ł¹ˇ¾Ðð¸²=
ýž₣ˇÞ¸²W
Y

„ý¾ˇÞ˝ŽšÐ=½−=ËĆ¹Ð−=ÍšÞ−Ć=ş½ˇÞ=
×Ðš³½š˝=³½žÞ=ðˇ½˙³½ˇ³ž=̌ Þˇý−Þ¸²=ðˇÐ=
šð½šÝš˝=½ž=ýˇ¹ðˇ¹Ð³ý˚Þž=ÝšÐ½−¼¹ł˝ˇI=
ýš=½žÞ=−¦şÞž=³½ž=¦˚³ž=×¹−Ł−Ý¸²K
ÓÐ˚³½š=ðˇÐ=ð¹ˇ½¸³½š=×Ðš³ý˚Þ−=łÐˇ=Þˇ=
šÞš¹ł−×−Ð¸³š½š=½ž=¾ğ½−ł¹ˇ¾Ðð¸=ýž₣ˇÞ¸K
ÓÐ˚³½š=ðˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=ýÐˇ²=šÐŠ−×−˝ž³ž²=
šÐ³š¹₣şýšÞž²=ðÝ¸³ž²=łÐˇ=Þˇ=̌ ×ˇÞ½¸³š½š=³½žÞ=
ðÝ¸³žI=ýš=½žÞ=−¦şÞž=³½ž=¦˚³ž=×¹−Ł−Ý¸²K

OVK ÓÝ¸ð½¹−=ˇðĆ¹ğ³ž²W
Z

„ð½šÝš˝=½ž=ÝšÐ½−¼¹ł˝ˇ=×−¼=
šý¾ˇÞ˝Žš½ˇÐ=ð˙½ğ=ŠšþÐ˙=³½žÞ=−¦şÞžI=
ýš=½žÞ=−¦şÞž=³½ž=¦˚³ž=×¹−Ł−Ý¸²K
ÓÐ˚³½š=ðˇÐ=ð¹ˇ½¸³½š=×Ðš³ý˚Þ−=³½žÞ=
ˇÞˇý−Þ¸=łÐˇ=Þˇ=ˇÞ˙ĞšÐ=½−=¾ğ²=ðÐÞž½−ĆK
Í×−¹š˝½š=Þˇ=ˇÝÝ˙þš½š=½ˇ=₣¹ćýˇ½ˇ=
½−¼=¾ğ½Ð³ý−Ć=×Ð˚Ž−Þ½ˇ²=V=̧ =W=ş½ˇÞ=
½−=¾ğ²=ðÐÞž½−Ć=š˝ÞˇÐ=ˇÞˇýý˚Þ−K
ÓÐ˚³½š=ðˇÐ=ð¹ˇ½¸³½š=×Ðš³ý˚Þ−=łÐˇ=Þˇ=
ˇ×−¹¹˝Ğš½š=ý˝ˇ=šÐ³š¹₣şýšÞž=ðÝ¸³žK
ÓÐ˚³½š=ðˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=ýÐˇ²=šÐŠ−×−˝ž³ž²=
šÐ³š¹₣şýšÞž²=ðÝ¸³ž²=łÐˇ=Þˇ=³½š˝Ýš½š=½−Þ=
½şÞ−=ˇ×ˇ³₣−Ýžý˚Þ−¼=³½−Þ=ðˇÝ−ĆÞ½ˇI=ýš=
½žÞ=−¦şÞž=³½ž=¦˚³ž=×¹−Ł−Ý¸²K
ÓÐ˚³½š=łÐˇ=Þˇ=½š¹ýˇ½˝³š½š=½žÞ=ðÝ¸³žI=
ýš=½žÞ=−¦şÞž=³½ž=¦˚³ž=×¹−Ł−Ý¸²K



ÏšðÐÞćÞ½ˇ² NN

Ú−×−¦˚½ž³ž=½ž²=Ë˙¹½ˇ²=pfj=ðˇÐ=½ž²=Í×ˇ½ˇ¹˝ˇ²
NK ÒĆ¹š½š=ðˇÐ=̌ ¾ˇÐ¹˚³š½š=½−=ð˙Ý¼ýýˇ=½ž²=ý×ˇ½ˇ¹˝ˇ²=E FK

OK ÒĆ¹š½š=½žÞ=ð˙¹½ˇ=pfj=³½žÞ=¼×−Š−₣¸=ð˙¹½ˇ²=pfjK

PK Ë¹ˇ½¸³½š=½žÞ=ý×ˇ½ˇ¹˝ˇ=̊ ½³Ð=ć³½š=−Ð=ýš½ˇÝÝÐð˚²=š×ˇ¾˚²=½ž²=
ý×ˇ½ˇ¹˝ˇ²=Þˇ=ð−Ð½−ĆÞ=×¹−²=½ˇ=ð˙½ğI=³Ć¹š½š=½−¼²=−Šžł−Ć²=
½−¼=š×˙Þğ=½ý¸ýˇ½−²=½ž²=ý×ˇ½ˇ¹˝ˇ²=³½žÞ=¼×−Š−₣¸=½ž²=
ý×ˇ½ˇ¹˝ˇ²=E FI=ðˇÐ=³½ž=³¼Þ˚₣šÐˇ=šÐ³˙łš½š=½žÞ=ý×ˇ½ˇ¹˝ˇ=
E FK

QK Ú−×−¦š½¸³½š=×˙ÝÐ=½−=ð˙Ý¼ýýˇ=½ž²=ý×ˇ½ˇ¹˝ˇ²K

Òžýš˝ğ³ž
≥ ‡šŁˇÐğ¦š˝½š=ş½Ð=₣¹ž³Ðý−×−Ðš˝½š=ýşÞ−Þ=ð˙¹½š²=pfj=½ğÞ=PsK
≥ ‡šŁˇÐğ¦š˝½š=ş½Ð=₣¹ž³Ðý−×−Ðš˝½š=½žÞ=ý×ˇ½ˇ¹˝ˇ=×−¼=

×š¹ÐÝˇýŁ˙Þš½ˇÐ=³½−=Łˇ³Ððş=šþ−×ÝÐ³ýş=EukJN_qTMFK

PMK Ë˙Ý¼ýýˇ=Û×−Š−₣¸²=Ë˙¹½ˇ²=ÍÞ¸ýž²
PNK ÷þ−Š−²=sáÇÉçLÛ×−Š−₣¸=Ò½š¹š−¾ğÞÐðćÞ=Ù−¹ž½ćÞ=flð−¼³½ÐðćÞ=
POK „þğ½š¹Ðð¸=Û×−Š−₣¸W ı¹ž³Ðý−×−Ðš˝½ˇÐ=łÐˇ=½ž=³ĆÞŠš³ž=

½−¼=¾−¹½Ð³½¸=¸=½−¼=ðˇÝğŠ˝−¼=
ýš½ˇ¾−¹˙²=ŠšŠ−ý˚ÞğÞ=rp_K

1

2

Ë˙¹½ˇ=pfj

4

3
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fl¾ˇ˝¹š³ž=½ž²=Ë˙¹½ˇ²=pfj=ðˇÐ=½ž²=Í×ˇ½ˇ¹˝ˇ²
NK ‡šŁˇÐğ¦š˝½š=ş½Ð=½−=½žÝ˚¾ğÞ−=š˝ÞˇÐ=šÞš¹ł−×−Ðžý˚Þ−=ðˇÐ=ş½Ð=

−=¾−¹½Ð³½¸²=ðˇÐ=½ˇ=˙ÝÝˇ=ˇþš³−¼˙¹=˚₣−¼Þ=ˇ×−³¼ÞŠš¦š˝K=
ÒĆ¹š½š=ðˇÐ=ˇ¾ˇÐ¹˚³š½š=½−=ð˙Ý¼ýýˇ=½ž²=ý×ˇ½ˇ¹˝ˇ²K

OK flÞˇ³žðć³½š=½žÞ=ý×ˇ½ˇ¹˝ˇ=̌ ×ş=½žÞ=×¹−šþ−₣¸=ðˇÐ=̌ ¾ˇÐ¹˚³½š=
½žÞ=ˇ×ş=½−=½žÝ˚¾ğÞ−K

PK Ë¹ˇ½¸³½š= =šÝˇ¾¹˙=×¹−²=½ˇ=ð˙½ğ=ðˇ¦ć²=³Ć¹š½š=½žÞ=
ð˙¹½ˇ=pfj=˚þğ=ˇ×ş=½žÞ=¼×−Š−₣¸=½ž²=ð˙¹½ˇ²=pfj=E FK=

fl×ş¹¹ÐĞž=½ž²=Í×ˇ½ˇ¹˝ˇ²
Â=³¼³ðš¼¸=½¹−¾−Š−½š˝½ˇÐ=ˇ×ş=½žÞ=ý×ˇ½ˇ¹˝ˇK=Óˇ¹ˇðˇÝ−ĆýšI=
ŠÐˇŁ˙³½š=½ˇ=×ˇ¹ˇð˙½ğ=³½−Ð₣š˝ˇ=×−¼=ˇ¾−¹−ĆÞ=³½žÞ=ˇ×ş¹¹ÐĞž=
½ž²=ý×ˇ½ˇ¹˝ˇ²=×¹−ðšÐý˚Þ−¼=Þˇ=×¹−³½ˇ½˚Ğš½š=½−=×š¹ÐŁ˙ÝÝ−ÞW
≥ Óˇ¹ˇŠć³½š=łÐˇ=ˇÞˇðĆðÝğ³ž=½ž=ýš½ˇ₣šÐ¹Ð³ý˚Þž=ý×ˇ½ˇ¹˝ˇ=

³½−=ð˚Þ½¹−=ˇ×−ð−ýÐŠ¸²=ˇ×−¹¹Ðýý˙½ğÞ=½ž²=×š¹Ð−₣¸²=³ˇ²I=
³½−=ðˇ½˙³½žýˇ=ˇł−¹˙²=¸=³½−=ð˚Þ½¹−=šþ¼×ž¹˚½ž³ž²=
×šÝˇ½ćÞK

≥ ÍžÞ=šð¦˚½š½š=½žÞ=ý×ˇ½ˇ¹˝ˇ=³š=ˇÞ−Ðð½˚²=¾Ýşłš²I=ýžÞ=½žÞ=
×š½˙½š=ý˚³ˇ=³š=Þš¹ş=ðˇÐ=ýžÞ=½žÞ=ˇ×−¹¹˝×½š½š=³½ˇ=ð−ÐÞ˙=
−ÐðÐˇð˙=ˇ×−¹¹˝ýýˇ½ˇK

1

2



ÏšðÐÞćÞ½ˇ² NP

Ùş¹½Ð³ž=½ž²=Í×ˇ½ˇ¹˝ˇ²
Êˇ=×¹˚×šÐ=Þˇ=¾−¹½˝³š½š=½žÞ=ý×ˇ½ˇ¹˝ˇ=½−¼Ý˙₣Ð³½−Þ=łÐˇ=NQM=
Ýš×½˙=×¹ÐÞ=₣¹ž³Ðý−×−Ð¸³š½š=łÐˇ=×¹ć½ž=¾−¹˙=½−=½žÝ˚¾ğÞş=³ˇ²K

ı¹¸³ž=½−¼=Ù−¹½Ð³½¸
NK flÞ−˝þ½š=½−=ð˙Ý¼ýýˇ=½ž²=šþğ½š¹Ðð¸²=¼×−Š−₣¸²=ðˇÐ=

³¼ÞŠ˚³½š=½−=¾−¹½Ð³½¸=³½žÞ=šþğ½š¹Ðð¸=š×ˇ¾¸=×−¼=Ł¹˝³ðš½ˇÐ=
³½−=ð˙½ğ=ý˚¹−²=½−¼=½žÝš¾ćÞ−¼=×Ð˚Ž−Þ½ˇ²=½ˇ=ŠĆ−=̇ ð¹ˇ=×−¼=
š×Ð³žýˇ˝Þ−Þ½ˇÐ=ýš=½ˇ=Ł˚Ýž=ðˇÐ=³¼ÞŠ˚³½š=½−=˙ÝÝ−=˙ð¹−=³š=
ý˝ˇ=×¹˝Žˇ=^`K

Â=ýÐð¹¸=Ý¼₣Þ˝ˇ=ˇÞ˙ŁšÐK
Ú¼×Ððş²=₣¹şÞ−²=¾ş¹½Ð³ž²W=Óš¹˝×−¼=NQM=Ýš×½˙

Òžýš˝ğ³ž
≥ Ì=₣¹şÞ−²=¾ş¹½Ð³ž²=šÞŠ˚₣š½ˇÐ=Þˇ=ŠÐˇ¾˚¹šÐI=ˇÞ˙Ý−łˇ=ýš=½žÞ=

ðˇ½˙³½ˇ³ž=½ž²=ý×ˇ½ˇ¹˝ˇ²=¸=ˇÞ˙Ý−łˇ=ýš=½Ð²=ŠÐ˙¾−¹š²=
³¼Þ¦¸ðš²K=EŁÝ˚×š=?Í×ˇ½ˇ¹˝ˇ?=³½ž=³šÝ˝Šˇ NOOKF

fl×−³ĆÞŠš³ž=½−¼=Ù−¹½Ð³½¸
⁄½ˇÞ=−Ý−ðÝž¹ğ¦š˝=ž=¾ş¹½Ð³žI=ž=ýÐð¹¸=Ý¼₣Þ˝ˇ=³Ł¸ÞšÐK
NK fl×−³¼ÞŠ˚³½š=½−=¾−¹½Ð³½¸=ˇ×ş=½žÞ=×¹˝Žˇ=ðˇÐI=³½ž=³¼Þ˚₣šÐˇI=

ˇ×−³¼ÞŠ˚³½š=½−Þ=ˇð¹−Š˚ð½ž=½−¼=¾−¹½Ð³½¸=ˇ×ş=½−=
½žÝ˚¾ğÞ−K

OK ËÝš˝³½š=½−=ð˙Ý¼ýýˇK

Òžýš˝ğ³ž
≥ Íž=₣¹ž³Ðý−×−Ðš˝½š=ýž=šłðšð¹Ðý˚Þ−¼²=¾−¹½Ð³½˚²I=ðˇ¦ć²=

ý×−¹š˝=Þˇ=×¹−ðˇÝ˚³−¼Þ=ŁÝ˙Łš²=³½−=½žÝ˚¾ğÞ−=ýš=
ˇ×−½˚Ýš³ýˇ=Þˇ=ˇð¼¹ğ¦š˝=ž=šłłĆž³žI=Šš˝½š=?Í×ˇ½ˇ¹˝ˇ?=³½ž=
³šÝ˝Šˇ NOO=łÐˇ=×š¹Ð³³ş½š¹š²=Ýš×½−ý˚¹šÐš²K

Ùş¹½Ð³ž=ýš=ı¹¸³ž=½−¼=Ù−¹½Ð³½¸=fl¼½−ðÐÞ¸½−¼
Ì=×¹−ˇÐ¹š½Ððş²=¾−¹½Ð³½¸²=ˇ¼½−ðÐÞ¸½−¼=½¹−¾−Š−½š˝=½−=
½žÝ˚¾ğÞ−=ýš=¹šĆýˇ=ˇ×ş=½−Þ=ˇÞˇ×½¸¹ˇ=½−¼=ˇ¼½−ðÐÞ¸½−¼K

÷ÞŠšÐþž=Ò½˙¦ýž²=Ùş¹½Ð³ž²=Í×ˇ½ˇ¹˝ˇ²
Â=½¹˚₣−¼³ˇ=³½˙¦ýž=¾ş¹½Ð³ž²=½ž²=ý×ˇ½ˇ¹˝ˇ²=šý¾ˇÞ˝Žš½ˇÐ=³½žÞ=
š×˙Þğ=ŠšþÐ˙=×Ýš¼¹˙=½ž²=ðĆ¹Ðˇ²=−¦şÞž²K

ÍÐð¹¸=Ý¼₣Þ˝ˇ



NQ ÏšðÐÞćÞ½ˇ²

ıˇýžÝ¸=Í×ˇ½ˇ¹˝ˇ=ðˇ½˙=½ž=ı¹¸³ž
⁄½ˇÞ=ž=ý×ˇ½ˇ¹˝ˇ=̌ ¹₣˝³šÐ=Þˇ=šþˇÞ½Ýš˝½ˇÐI=̌ ð−Ćłš½ˇÐ=̊ Þˇ=ž₣ž½Ððş=
³¸ýˇ=ðˇÐ=½−=³ĆýŁ−Ý−=? ?=šý¾ˇÞ˝Žš½ˇÐ=³½žÞ=ðĆ¹Ðˇ=−¦şÞžK
⁄½ˇÞI=šÞć=₣¹ž³Ðý−×−Ðš˝½š=½−=½žÝ˚¾ğÞ−I=̌ ð−Ć³š½š=½žÞ=ž₣ž½Ðð¸=
×¹−šÐŠ−×−˝ž³ž=₣ˇýžÝ¸²=ý×ˇ½ˇ¹˝ˇ²I=³¼ÞŠ˚³½š=½−=¾−¹½Ð³½¸=³ˇ²=
½−=³¼Þ½−ýş½š¹−=Š¼Þˇ½şK=„˙Þ=³¼Þš₣˝³š½š=Þˇ=₣¹ž³Ðý−×−Ðš˝½š=½−=
½žÝ˚¾ğÞ−I=šÞŠš₣−ý˚Þğ²=Þˇ=ýž=ÝšÐ½−¼¹ł¸³šÐ=³ğ³½˙K

Ú−×−¦˚½ž³ž=½ž²=Ë˙¹½ˇ²=ÍÞ¸ýž²
NK fl×šÞš¹ł−×−Ð¸³½š=½−=½žÝ˚¾ğÞ−K
OK flÞ−˝þ½š=½−=ð˙Ý¼ýýˇ=½ž²=¼×−Š−₣¸²=½ž²=ð˙¹½ˇ²=ýÞ¸ýž²=ðˇÐ=

Ł˙Ý½š=ý˚³ˇ=½žÞ=ð˙¹½ˇ=ýš=½žÞ=×Ýš¼¹˙=½ž²=š½Ðð˚½ˇ²=Þˇ=ŁÝ˚×šÐ=
×¹−²=½ˇ=š×˙ÞğK

PK Ú−×−¦š½¸³½š=½žÞ=ð˙¹½ˇ=ýÞ¸ýž²=½šÝš˝ğ²=ý˚³ˇ=³½žÞ=
¼×−Š−₣¸=ý˚₣¹Ð=Þˇ=ˇð−¼³½š˝=½−=ðÝÐðK

QK ËÝš˝³½š=½−=ð˙Ý¼ýýˇK

Òžýš˝ğ³ž
≥ ‡šŁˇÐğ¦š˝½š=ş½Ð=½−=½žÝ˚¾ğÞ−=š˝ÞˇÐ=ˇ×šÞš¹ł−×−Ðžý˚Þ−=×¹ÐÞ=

½−×−¦š½¸³š½š=½žÞ=ð˙¹½ˇ=ýÞ¸ýž²K
≥ ‡šŁˇÐğ¦š˝½š=ş½Ð=˚₣š½š=šÐ³˙łšÐ=½žÞ=ð˙¹½ˇ=³½ž=³ğ³½¸=

ðˇ½šĆ¦¼Þ³ž=ðˇÐ=×Ýš¼¹˙K
≥ ÍžÞ=ˇÞ−˝łš½š=½−=ð˙Ý¼ýýˇ=½ž²=ð˙¹½ˇ²=ýÞ¸ýž²=ş½ˇÞ=ˇ¼½¸=

ŠÐˇý−¹¾ćÞš½ˇÐ=¸=ş½ˇÞ=šłł¹˙¾−Þ½ˇÐ=³D=ˇ¼½¸=ŠšŠ−ý˚ÞˇK=Â=
ð˙¹½ˇ=ý×−¹š˝=Þˇ=¼×−³½š˝=ˇÞš×ˇÞş¹¦ğ½š²=ŁÝ˙Łš²K

≥ Ù¼Ý˙³³š½š=½Ð²=ð˙¹½š²=ýÞ¸ýž²=ýˇð¹Ð˙=ˇ×ş=ýÐð¹˙=×ˇÐŠÐ˙K

Ò¼ýŁ−¼Ý¸
≥ Êˇ=Šš˝½š=½Ð²=×ˇ¹ˇð˙½ğ=šÞŠš˝þšÐ²=ş½ˇÞ=₣¹ž³Ðý−×−Ðš˝½š=½žÞ=

ð˙¹½ˇ=ýÞ¸ýž²W
W „ý¾ˇÞ˝Žš½ˇÐ=ş½ˇÞ=˚₣šÐ=½−×−¦š½ž¦š˝=ž=ð˙¹½ˇK

W „ý¾ˇÞ˝Žš½ˇÐ=ş½ˇÞ=ž=ð˙¹½ˇ=š˝ÞˇÐ=ðˇ½š³½¹ˇýý˚Þž=¸=ŠšÞ=
ý×−¹š˝=Þˇ=₣¹ž³Ðý−×−Ðž¦š˝K

W „ý¾ˇÞ˝Žš½ˇÐ=ðˇ½˙=½žÞ=̌ Þ˙łÞğ³ž=̧ =šłł¹ˇ¾¸=½ž²=ð˙¹½ˇ²K

W „ý¾ˇÞ˝Žš½ˇÐ=ş½ˇÞ=ž=ð˙¹½ˇ=ŠÐˇý−¹¾ćÞš½ˇÐK

fl¾ˇ˝¹š³ž=½ž²=Ë˙¹½ˇ²=ÍÞ¸ýž²
NK flÞ−˝þ½š=½−=ð˙Ý¼ýýˇ=½ž²=¼×−Š−₣¸²=½ž²=ð˙¹½ˇ²=ýÞ¸ýž²=ðˇÐ=

×Ð˚³½š=šÝˇ¾¹˙=½žÞ=ð˙¹½ˇ=łÐˇ=Þˇ=ŁłšÐ=×¹−²=½ˇ=˚þğK=
fl¾ˇÐ¹˚³½š=½žÞ=ð˙¹½ˇ=ðˇÐ=ðÝš˝³½š=½−=ð˙Ý¼ýýˇK

Òžýš˝ğ³ž
≥ ‡šŁˇÐğ¦š˝½š=ş½Ð=½−=½žÝ˚¾ğÞ−=š˝ÞˇÐ=ˇ×šÞš¹ł−×−Ðžý˚Þ−=×¹ÐÞ=

ˇ¾ˇÐ¹˚³š½š=½žÞ=ð˙¹½ˇ=ýÞ¸ýž²K
≥ ÍžÞ=ˇ¾ˇÐ¹š˝½š=½žÞ=ð˙¹½ˇ=ýÞ¸ýž²=ş½ˇÞ=ˇ¼½¸=ŠÐˇý−¹¾ćÞš½ˇÐ=

¸=ş½ˇÞ=šłł¹˙¾−Þ½ˇÐ=³D=ˇ¼½¸=ŠšŠ−ý˚ÞˇK

„ÞŠš˝þšÐ²=Í×ˇ½ˇ¹˝ˇ² Ò½˙¦ýž=Ùş¹½Ð³ž²

ÓÝ¸¹ž²=¾ş¹½Ð³ž=½ž²=ý×ˇ½ˇ¹˝ˇ²

Ò¼ÞÐ³½˙½ˇÐ=¾ş¹½Ð³ž=½ž²=ý×ˇ½ˇ¹˝ˇ²

fl×ˇÐ½š˝½ˇÐ=¾ş¹½Ð³ž=½ž²=ý×ˇ½ˇ¹˝ˇ²

¿ŠšÐˇ



ÏšðÐÞćÞ½ˇ² NR

ÒĆÞŠš³ž=½ğÞ=Ò½š¹š−¾ğÞÐðćÞ=Ù−¹ž½ćÞ=flð−¼³½ÐðćÞ
NK flÞ−˝þš½š=½−=ð˙Ý¼ýýˇ=½ž²=¼×−Š−₣¸²=½ğÞ=Ò½š¹š−¾ğÞÐðćÞ=

Ù−¹ž½ćÞ=flð−¼³½ÐðćÞK

OK Ò¼ÞŠ˚³½š=½ˇ=Ò½š¹š−¾ğÞÐð˙=Ù−¹ž½˙=flð−¼³½Ðð˙K

„Þš¹ł−×−˝ž³ž=ðˇÐ=fl×šÞš¹ł−×−˝ž³ž=½−¼=
ÚžÝš¾ćÞ−¼ ³ˇ²
·Ðˇ=Þˇ=šÞš¹ł−×−Ð¸³š½š=¸=Þˇ=ˇ×šÞš¹ł−×−Ð¸³š½š=½−=½žÝ˚¾ğÞ−I=
×Ð˚³½š=ðˇÐ=ð¹ˇ½¸³½š=½−=F=łÐˇ=×š¹˝×−¼=O=Šš¼½š¹şÝš×½ˇK

„Ð³ˇłğł¸=½−¼=ËğŠÐð−Ć=mfk
ÍşÝÐ²=¦˚³š½š=½−=½žÝ˚¾ğÞ−=³š=ÝšÐ½−¼¹ł˝ˇ=¦ˇ=³ˇ²=Žž½ž¦š˝=Þˇ=
šÐ³˙łš½š=½−Þ=ðğŠÐðş=mfk=EmÉêëçå~ä=fÇÉåíáÑáÅ~íáçå=kìãÄÉêF=ðˇÐ=
½−Þ=ðğŠÐðş=ðÝšÐŠćýˇ½−²=½ž²=³¼³ðš¼¸²I=š¾ş³−Þ=˚₣š½š=
šÞš¹ł−×−Ð¸³šÐ=½Ð²=³₣š½Ðð˚²=¹¼¦ý˝³šÐ²K

NK „Ð³˙łš½š=½−Þ=ðğŠÐðş=ÔÁÎK
Ì=ðğŠÐðş²=mfk=ˇ×−½šÝš˝½ˇÐ=ˇ×ş=Q=˚ğ²=U=Ğž¾˝ˇK

OK ÓÐ˚³½š= K

Òžýš˝ğ³ž
≥ „˙Þ=×Ýžð½¹−Ý−ł¸³š½š=ÝˇÞ¦ˇ³ý˚Þˇ=½−Þ=ðğŠÐðş=mfk=½¹šÐ²=

¾−¹˚²=ŠÐˇŠ−₣Ðð˙I=ž=ð˙¹½ˇ=pfj=ðÝšÐŠćÞš½ˇÐK=‚š˝½š=
?„Þš¹ł−×−˝ž³žLfl×šÞš¹ł−×−˝ž³ž=½−¼=ËğŠÐð−Ć=mfk?=³½ž=
³šÝ˝Šˇ NMTK

≥ „˙Þ=ŠšÞ=˚₣−¼Þ=šÐ³ˇ₣¦š˝=−Ð=¹¼¦ý˝³šÐ²=½−¼=¹−Ý−łÐ−Ć=¦ˇ=
šý¾ˇÞÐ³½š˝=ž=−¦şÞž=šÐ³ˇłğł¸²=žýš¹−ýžÞ˝ˇ²=ðˇÐ=ć¹ˇ²=
E³šÝK NMMFK

flÞ½Ðł¹ˇ¾¸=⁄ÝğÞ=½ğÞ=Ëˇ½ˇ₣ğ¹¸³šğÞ=½ž²=È˝³½ˇ²=„×ˇ¾ćÞ=ˇ×ş=
½žÞ=Ë˙¹½ˇ=pfj
⁄½ˇÞ=½−×−¦š½¸³š½š=½žÞ=ð˙¹½ˇ=pfj=³½−=½žÝ˚¾ğÞş=³ˇ²=łÐˇ=
×¹ć½ž=¾−¹˙=ðˇÐ=þšðÐÞ¸³š½š=½žÞ=š¾ˇ¹ý−ł¸=½ž²=È˝³½ˇ²=„×ˇ¾ćÞI=
¦ˇ=š¹ğ½ž¦š˝½š=š˙Þ=¦˚Ýš½š=Þˇ=ˇÞ½Ðł¹˙Ğš½š=½Ð²=ðˇ½ˇ₣ğ¹¸³šÐ²=
½ž²=È˝³½ˇ²=„×ˇ¾ćÞ=×−¼=×š¹Ð˚₣−Þ½ˇÐ=³½žÞ=ð˙¹½ˇ=pfjK=
flð−Ý−¼¦¸³½š=½Ð²=−Šžł˝š²=½ž²=−¦şÞž²=¸=×¹ˇłýˇ½−×−Ð¸³½š=½žÞ=
ˇÞ½Ðł¹ˇ¾¸=ˇ¹łş½š¹ˇ=₣¹ž³Ðý−×−ÐćÞ½ˇ²=½−=ýšÞ−Ć=È˝³½ˇ²=
„×ˇ¾ćÞ=ğ²=šþ¸²W

?„×ˇ¾˚²?=→=?‚Ðˇ₣š˝¹Ð³ž=š×ˇ¾ćÞ?=→=?flÞ½Ðł¹ˇ¾¸=⁄ÝğÞ?
NK „×ÐÝ˚þ½š=?fl×ş=pfj=³š=Ò¼³ðš¼¸?K

ËÝš˝Šğýˇ=½−¼=ÓÝžð½¹−Ý−ł˝−¼
Í×−¹š˝½š=Þˇ=ðÝšÐŠć³š½š=½−=×Ýžð½¹−ÝşłÐ−=łÐˇ=Þˇ=ˇ×−½¹˚Ğš½š=
½−=ðˇ½˙=Ý˙¦−²=×˙½žýˇ=½ğÞ=×Ý¸ð½¹ğÞK

ËÝš˝Šğýˇ=ÓÝžð½¹−Ý−ł˝−¼
NK ÓÐ˚³½š=ðˇÐ=ð¹ˇ½¸³½š=½−=P=³½žÞ=ðˇ½˙³½ˇ³ž=ˇÞˇý−Þ¸²K

·Ðˇ=Þˇ=þšðÝšÐŠć³š½š=×Ð˚³½š=ðˇÐ=ð¹ˇ½¸³½š=½−=PK

Ò¼ýŁ−¼Ý¸
≥ ÌÐ=ˇ¹Ð¦ý−˝=˚ð½ˇð½ž²=ˇÞ˙łðž²=ENNOI=ðÝ×KF=ý×−¹−ĆÞ=Þˇ=

šÐ³ˇ₣¦−ĆÞ=ðˇÐ=Þˇ=ðÝž¦−ĆÞ=ˇÞšþ˙¹½ž½ˇ=ˇ×ş=½−=ðÝš˝Šğýˇ=½−¼=
×Ýžð½¹−Ý−ł˝−¼K



NS ÏšðÐÞćÞ½ˇ²

„ÞŠš˝þšÐ²=−¦şÞž²

NK L W Á³₣Ć²=ÝˇýŁˇÞşýšÞ−¼=³¸ýˇ½−²L„ð½ş²=
šýŁ˚ÝšÐˇ²=½−¼=ŠÐð½Ć−¼

W Pd=ErjqpFLdmop

W dpjLdmop

W Óš¹Ðˇłğł¸=šð½ş²=½−¼=ŠÐð½Ć−¼

OK W ÈšÐ½−¼¹ł˝ˇ=lÑÑJäáåÉ

PK W flÞ½ˇÝÝˇł¸=ŠšŠ−ý˚ÞğÞ=ýš=šþğ½š¹Ðð¸=³¼³ðš¼¸

QK L W ÒĆÞŠš³ž=ýš=½−=ŠÐˇð−ýÐ³½¸=x×¹ˇłýˇ½−×−Ð¸¦žðšL
š×Ðð−ÐÞğÞš˝z

RK L W ËÝ¸³ž=ÙğÞ¸²=xšÐ³š¹₣şýšÞžL³š=šþ˚ÝÐþžz

SK L L W ÈšÐ½−¼¹ł˝ˇ=š×Ðð−ÐÞğÞ˝ˇ²=ðÝ¸³ž²=îáÇÉç=šÞš¹ł¸=
x¾ğÞ¸=ðˇÐ=îáÇÉçL¾ğÞ¸LîáÇÉçz

TK L W „ÐŠ−×−Ð¸³šÐ²=xł¹ˇ×½ş=ý¸Þ¼ýˇ=ðˇÐ=ý¸Þ¼ýˇ=
×−Ý¼ý˚³ğÞLbã~áäz

UK W ?ÙğÞž½K=ËÝ¸³šÐ²?=−Ð=šð½¹−×˚²=˚₣−¼Þ=−¹Ð³½š˝=
³½žÞ=š×ÐÝ−ł¸=?Ó˙Þ½ˇ?

VK L L W fl¼½şýˇ½š²=šÐŠ−×−Ð¸³šÐ²=t^mLlq^=xšÐŠ−×−˝ž³ž=
t^mLˇ¼½şýˇ½ž=šÐŠ−×−˝ž³ž=lq^Lˇ¼½şýˇ½š²=
šÐŠ−×−Ð¸³šÐ²=t^m=ðˇÐ=lq^z

NMK W Ë˙¹½ˇ=ýÞ¸ýž²=½−×−¦š½¸¦žðš

NNK L L L L W
Ëˇ½˙³½ˇ³ž=³ĆÞŠš³ž²
xËˇÝćŠÐ−=rp_LflÞ½ˇÝÝˇł¸=×Ýž¹−¾−¹ÐćÞ=ýš=
¼×˚¹¼¦¹žLfl³Ć¹ýˇ½ž=¹Ć¦ýÐ³ž=_äìÉíççíÜ=
xšÞš¹ł−×−Ðžý˚Þ−=E³½žÞ=ˇÞˇý−Þ¸=¸=šð½ş²=ˇ×ş=
½žÞ=ˇÞˇý−Þ¸FLˇÞ½ˇÝÝˇł¸=×Ýž¹−¾−¹ÐćÞL
š×Ðð−ÐÞğÞ˝ˇ=ýš=½−=ˇð−¼³½Ððş=_äìÉíççíÜzz

NOK L W „¾ˇ¹ý−ł¸=g~î~∑=xšð½šÝš˝½ˇÐE˚ł₣¹ğý−FL³š=
ˇÞˇ³½−Ý¸=Ełð¹ÐFz

Óš¹Ð−₣¸=šÞŠš˝þšğÞ

‚šþ˝=×Ý¸ð½¹−=
šÝ˚ł₣−¼

fl¹Ð³½š¹ş=×Ý¸ð½¹−=
šÝ˚ł₣−¼

ËšÞ½¹Ððş=
×Ý¸ð½¹−



ÏšðÐÞćÞ½ˇ² NT

NPK W „ý¾ˇÞ˝Žš½ˇÐ=ý˝ˇ=ˇ³¾ˇÝ¸²=³šÝ˝Šˇ=t^m

NQK L L L L W
ÔĆ¦ýÐ³ž=³Ðğ×žÝ−ĆLŠşÞž³ž²=x³Ðğ×žÝşLˇĆþž³ž=
˚Þ½ˇ³ž²LŠşÞž³ž=šÞš¹ł−×−Ðžý˚ÞžL³Ðğ×žÝş=ðˇÐ=
ŠşÞž³ž=šÞš¹ł−×−Ðžý˚Þž=LˇĆþž³ž=˚Þ½ˇ³ž²=ðˇÐ=
ŠşÞž³ž=šÞš¹ł−×−Ðžý˚Þžz

NRK L L W ÈšÐ½−¼¹ł˝ˇ=ž₣š˝−¼=xž₣š˝−=½žÝš¾ćÞ−¼Lž₣š˝−=
šÞš¹łşL³˝łˇ³ž=ýÐð¹−¾ćÞ−¼z

NSK EËˇý˝ˇ=−¦şÞžFL L L L L W
Ú¹˚₣−Þ=×¹−¾˝Ý=xËˇÞ−ÞÐðşLÒ¼Þ˙Þ½ž³žL
‚¹ˇ³½ž¹Ðş½ž½ˇLfl¼½−ð˝Þž½−Lflð−¼³½ÐðşL
ÒÐğ×žÝşz

NTK W „×˝×šŠ−=Í×ˇ½ˇ¹˝ˇ²

NUK W Ú−=¾ğ²=½−¼=ðÐÞž½−Ć=ˇÞ˙ŁšÐ

NVK W Ëˇ¦žýš¹ÐÞş=þ¼×Þž½¸¹Ð=šÞš¹łş

OMK L W Ëˇ½ˇ₣ć¹ž³ž=₣¹−Þ−ŠÐˇł¹˙ýýˇ½−²=šÞš¹ł¸=xýšL
₣ğ¹˝²=¼×šÞ¦ĆýÐ³žz

ONK W Úˇ=„þš¹₣şýšÞˇ=×š¹Ð˚₣−¼Þ=ýž=³½ˇÝý˚Þˇ=
ýžÞĆýˇ½ˇ=xł¹ˇ×½ş=ý¸Þ¼ýˇL×−Ý¼ý˚³ˇLbã~áäz

OOK W „ÐŠ−×−˝ž³ž=ýžÞĆýˇ½−²=½žÝš¾ğÞž½¸

OPK W ËÝš˝Šğýˇ=½žÝš¾ćÞ−¼=šÞš¹łş

OQK W ËÝš˝Šğýˇ=×Ýžð½¹−Ý−ł˝−¼=šÞš¹łş

ORK LEðšÞşFW ÔĆ¦ýÐ³ž=¼×˚¹¼¦¹ž²=xšÞš¹łşLýž=šÞš¹łşz

OSK : Í¼³½Ðð¸=ÝšÐ½−¼¹ł˝ˇ=¹¼¦ýÐ³ý˚Þž=³½−=?„Þš¹łş?

¿Þ−Ðłýˇ=½−¼=½žÝš¾ćÞ−¼=³ˇ²
Í×−¹š˝½š=Þˇ=ˇÞ−˝þš½š=½−=½žÝ˚¾ğÞş=³ˇ²=³½Ð²=×ˇ¹ˇð˙½ğ=½¹šÐ²=
¦˚³šÐ²W=³½žÞ=ðˇÞ−ÞÐð¸=¦˚³žI=³½ž=¦˚³ž=ˇ¼½−¾ğ½−ł¹˙¾ž³ž²=ðˇÐ=
³½ž=¦˚³ž=×¹−Ł−Ý¸²K

ËˇÞ−ÞÐð¸=¦˚³ž=E F
NK flÞ−˝þ½š=½−=½žÝ˚¾ğÞş=³ˇ²=ý˚₣¹Ð=ž=−¦şÞž=Þˇ=³½ˇýˇ½¸³šÐ=³½ž=

¦˚³ž=×−¼=Šš˝₣ÞšÐ=ž=šÐðşÞˇK



NU ÏšðÐÞćÞ½ˇ²

Ê˚³ž=ˇ¼½−¾ğ½−ł¹˙¾ž³ž²=E F
OK Óš¹Ð³½¹˚Ğ½š=½žÞ=−¦şÞž=NUMŒ=ŠšþÐş³½¹−¾ˇK

ı¹ž³Ðý−×−Ð¸³½š=ˇ¼½¸=½ž=¦˚³ž=łÐˇ=Þˇ=½¹ˇŁ¸þš½š=½−=
×−¹½¹˚½−=³ˇ²=ýš=½žÞ=šþğ½š¹Ðð¸=¾ğ½−ł¹ˇ¾Ðð¸=ýž₣ˇÞ¸K
ÍžÞ=×š¹Ð³½¹˚Ğš½š=ˇ¹Ð³½š¹ş³½¹−¾ˇ=½žÞ=−¦şÞžI=ðˇ¦ć²=
ˇ¼½ş=ý×−¹š˝=Þˇ=½ž²=×¹−þšÞ¸³šÐ=ŽžýÐ˙K

Ê˚³ž=×¹−Ł−Ý¸²=E F
PK ËÝš˝³½š=½žÞ=ðĆ¹Ðˇ=−¦şÞž=×¹−²=½−=×Ýžð½¹−ÝşłÐ−K

Òžýš˝ğ³ž
≥ ÌÐ=ÝšÐ½−¼¹ł˝š²=½ğÞ=×Ý¸ð½¹ğÞ=V=ðˇÐ=W=ˇÞ½Ð³½¹˚¾−Þ½ˇÐ=ş½ˇÞ=

ž=−¦şÞž=Ł¹˝³ðš½ˇÐ=³š=¦˚³ž=×¹−Ł−Ý¸²K
≥ Ú−=×Ýžð½¹−ÝşłÐ−=ŠšÞ=ý×−¹š˝=Þˇ=₣¹ž³Ðý−×−Ðž¦š˝=ş½ˇÞ=ž=
−¦şÞž=Ł¹˝³ðš½ˇÐ=³½ž=¦˚³ž=×¹−Ł−Ý¸²K

≥ Ó¹−³˚þš½š=Þˇ=ýžÞ=ýš½ˇ¾˚¹š½š=½−=½žÝ˚¾ğÞ−=ýš=½žÞ=−¦şÞž=
½−×−¦š½žý˚Þž=³½ž=¦˚³ž=×¹−Ł−Ý¸²I=ðˇ¦ć²=ð˙½Ð=½˚½−Ð−=ý×−¹š˝=
Þˇ=×¹−þšÞ¸³šÐ=ŽžýÐ˙=³½žÞ=−¦şÞžK



ÈšÐ½−¼¹ł˝š²=ÓÝ−¸łž³ž² NV

ÈšÐ½−¼¹ł˝š²=ÓÝ−¸łž³ž²

ı¹¸³ž=ýš=½žÞ=−¦şÞž=³½žÞ=ðˇÞ−ÞÐð¸=¦˚³ž
Â=×¹ş³Łˇ³ž=³š=şÝš²=½Ð²=š¾ˇ¹ý−ł˚²=×¹ˇłýˇ½−×−Ðš˝½ˇÐ=ˇ×ş=½−=
ËĆ¹Ð−=ýšÞ−ĆK=·Ðˇ=Þˇ=ˇÞ−˝þš½š=½−=ËĆ¹Ð−=ýšÞ−Ć=×Ð˚³½š=½−=
ðšÞ½¹Ððş=×Ý¸ð½¹−=E F=³½žÞ=ðˇ½˙³½ˇ³ž=ˇÞˇý−Þ¸²K

·Ðˇ=Þˇ=šððÐÞ¸³š½š=½Ð²=š¾ˇ¹ý−ł˚²=¦ˇ=×¹˚×šÐ=Þˇ=ýˇ¹ð˙¹š½š=½ˇ=
³½−Ð₣š˝ˇ=½−¼=ýšÞ−Ć=ðˇÐ=Þˇ=š×ÐÝ˚þš½šK=·Ðˇ=Þˇ=š×ÐÝ˚þš½š=˚Þˇ=
³½−Ð₣š˝−=½−¼=ýšÞ−Ć=Ešý¾ˇÞ˝Žš½ˇÐ=³š=šÐ³ˇłğłÐð˙FI=ýš½ˇðÐÞ¸³½š=
½−=Š¹−ý˚ˇ=₣¹ž³Ðý−×−ÐćÞ½ˇ²=½ˇ=×Ý¸ð½¹ˇ=aI=bI=c=ðˇÐ=d=ðˇÐ=
³½ž=³¼Þ˚₣šÐˇ=×Ð˚³½š= =łÐˇ=Þˇ=š×ÐÝ˚þš½šK

Òš=−¹Ð³ý˚Þš²=ŠÐˇŠÐðˇ³˝š²I=¦ˇ=₣¹šÐˇ³½š˝=Þˇ=×Ð˚³š½š=˚Þˇ=ˇ×ş=½ˇ=
×Ý¸ð½¹ˇ=šÝ˚ł₣−¼=Ešý¾ˇÞ˝Ž−Þ½ˇÐ=ý˚³ˇ=³š=ˇłðĆÝš²FI=½ˇ=−×−˝ˇ=
šý¾ˇÞ˝Ž−Þ½ˇÐ=ð˙½ğ=ˇ¹Ð³½š¹˙=ðˇÐ=ŠšþÐ˙=³½žÞ=−¦şÞžK=ÓÐ˚³½š=½−=
ˇÞ½˝³½−Ð₣−=×Ý¸ð½¹−=šÝ˚ł₣−¼=EA=¸=CFK
·Ðˇ=Þˇ=š×Ð³½¹˚Ğš½š=³½žÞ=×¹−žł−ĆýšÞž=−¦şÞžI=×Ð˚³½š=½−=Ššþ˝=
×Ý¸ð½¹−=šÝ˚ł₣−¼=š˙Þ=ˇ¼½ş=šý¾ˇÞ˝ŽšÐ=½žÞ=˚ÞŠšÐþž=Ó˝³ğK=·Ðˇ=Þˇ=
ðÝš˝³š½š=½−=ËĆ¹Ð−=ýšÞ−ĆI=×Ð˚³½š=½−=Ššþ˝=×Ý¸ð½¹−=šÝ˚ł₣−¼=š˙Þ=
ˇ¼½ş=šý¾ˇÞ˝ŽšÐ=½žÞ=˚ÞŠšÐþž=÷þ−Š−²K

Ë˙¦š=šÞş½ž½ˇ=³š=ˇ¼½ş=½−Þ=−Šžłş=₣¹¸³ž²=þšðÐÞ˙=ýš=ý˝ˇ=Ý˝³½ˇ=
½ğÞ=³½−Ð₣š˝ğÞ=Ešý¾ˇÞ˝Ž−Þ½ˇÐ=ýš=×Ý˙łÐˇ=ł¹ˇ¾¸F=×−¼=×¹˚×šÐ=Þˇ=
š×ÐÝ˚þš½š=×¹ÐÞ=šð½šÝ˚³š½š=½ž=ŠÐˇŠÐðˇ³˝ˇ=×−¼=×š¹Ðł¹˙¾š½ˇÐK=
„×ÐÝ˚þ½š=ð˙¦š=³½−Ð₣š˝−=łÐˇ=Þˇ=ˇ×−ðˇÝĆĞš½š=½žÞ=š×şýšÞž=
−ý˙Šˇ=³½−Ð₣š˝ğÞ=ˇ×ş=ş×−¼=×¹˚×šÐ=Þˇ=š×ÐÝ˚þš½šK=flÞ−˝þ½š=½ˇ=
³½−Ð₣š˝ˇ=½ž²=¼×−šÞş½ž½ˇ²=ˇ¾−Ć=×¹−žł−¼ý˚Þğ²=ˇÞ−˝þš½š=½ˇ=
³½−Ð₣š˝ˇ=×−¼=×ˇ¹−¼³Ð˙Ž−Þ½ˇÐ=³½žÞ=ðĆ¹Ðˇ=šÞş½ž½ˇK

Óˇ¹˙ŠšÐłýˇW
?„×ˇ¾˚²?=→=?È˝³½ˇ=„×ˇ¾ćÞ?=→=?Ó¹−³¦K=k˚ˇ²=„×K?

ı¹¸³ž=ýš=½žÞ=−¦şÞž=³½ž=¦˚³ž=×¹−Ł−Ý¸²
Úˇ=ŠÐˇ¦˚³Ðýˇ=×Ý¸ð½¹ˇ=³½ž=¦˚³ž=×¹−Ł−Ý¸²=½ž²=−¦şÞž²=š˝ÞˇÐ=VI=
WI=XI=Y=ðˇÐ=ZK
·Ðˇ=Þˇ=ˇÞ−˝þš½š=½−=ËĆ¹Ð−=ýšÞ−ĆI=×Ð˚³½š=Y=³½žÞ=ðˇ½˙³½ˇ³ž=
ˇÞˇý−Þ¸²K

·Ðˇ=Þˇ=š×ÐÝ˚þš½š=˚Þˇ=ˇÞ½Ððš˝ýšÞ−=½−¼=ýšÞ−Ć=Eˇ×šÐð−Þ˝Žš½ˇÐ=
ý˚³ˇ=³š=šÐ³ˇłğłÐð˙FI=×Ð˚³½š=V=¸=W=ðˇÐ=×Ð˚³½š=Y=łÐˇ=Þˇ=½−=
š×ÐÝ˚þš½šK

Òš=−¹Ð³ý˚Þš²=ŠÐˇŠÐðˇ³˝š²I=¦ˇ=₣¹šÐˇ³½š˝=Þˇ=×Ð˚³š½š=˚Þˇ=ˇ×ş=½ˇ=
×Ý¸ð½¹ˇ=šÝ˚ł₣−¼=Eˇ×šÐð−Þ˝Ž−Þ½ˇÐ=ý˚³ˇ=³š=ˇłðĆÝš²FI=½ˇ=−×−˝ˇ=
šý¾ˇÞ˝Ž−Þ½ˇÐ=³½−=ð˙½ğ=ˇ¹Ð³½š¹ş=ðˇÐ=ŠšþÐş=ý˚¹−²=½ž²=−¦şÞž²K=
Ú−=̌ ¹Ð³½š¹ş=×Ý¸ð½¹−=šÝ˚ł₣−¼=š˝ÞˇÐ=½−=X=ðˇÐ=½−=Ššþ˝=×Ý¸ð½¹−=
šÝ˚ł₣−¼=š˝ÞˇÐ=½−=ZK

ÌÐ=ÝšÐ½−¼¹ł˝š²=½ğÞ=×Ýš¼¹ÐðćÞ=×Ý¸ð½¹ğÞ=³½ž=ÝšÐ½−¼¹ł˝ˇ=
¾ğ½−ł¹ˇ¾Ðð¸²=ýž₣ˇÞ¸²=š˝ÞˇÐ=−Ð=šþ¸²W
VLWW Íšł˚¦¼Þ³žLÒý˝ð¹¼Þ³ž

XW „×ÐÝK

YW È¸Ğž
ZW „ÞˇÝÝ˙³³šÐ=ýš½ˇþĆ=½ğÞ=ÝšÐ½−¼¹łÐćÞ=½ž²=

¾ğ½−ł¹ˇ¾Ðð¸²=ýž₣ˇÞ¸²=ðˇÐ=½ž²=ŁÐÞ½š−ð˙ýš¹ˇ²K



OM ÈšÐ½−¼¹ł˝š²=ÙğÞž½Ðð¸²=ËÝ¸³ž²LËÝ¸³ž²=sáÇÉç

ÈšÐ½−¼¹ł˝š²=ÙğÞž½Ðð¸²=ËÝ¸³ž²LËÝ¸³ž²=
sáÇÉç

Ó¹ˇłýˇ½−×−˝ž³ž=ý˝ˇ²=ÙğÞž½Ðð¸²=ËÝ¸³ž²
NK „Ð³˙łš½š=½−Þ=ðğŠÐðş=×š¹Ð−₣¸²=ðˇÐ=½−Þ=ˇ¹Ð¦ýş=½žÝš¾ćÞ−¼=

×−¼=¦˚Ýš½š=Þˇ=ðˇÝ˚³š½š=ðˇÐ=×Ð˚³½š=D=łÐˇ=Þˇ=ðˇÝ˚³š½šK
„˙Þ=×Ýžð½¹−Ý−ł¸³š½š=ÝˇÞ¦ˇ³ý˚Þ−=̌ ¹Ð¦ýşI=×Ð˚³½š=U=łÐˇ=
Þˇ=ŠÐˇł¹˙Ğš½š=½−Þ=ˇ¹Ð¦ýş=ˇ¹Ð³½š¹˙=ˇ×ş=½−=Š¹−ý˚ˇK

ËÝ¸³šÐ²=÷ð½ˇð½ž²=flÞ˙łðž²
NK „Ð³˙łš½š=½−Þ=ˇ¹Ð¦ýş=NNO=EŠÐš¦Þ¸²=ˇ¹Ð¦ýş²=˚ð½ˇð½ž²=

ˇÞ˙łðž²F=₣¹ž³Ðý−×−ÐćÞ½ˇ²=½−=×Ýžð½¹−ÝşłÐ−=ðˇÐ=×Ð˚³½š=D=
łÐˇ=Þˇ=ðˇÝ˚³š½šK

Òžýš˝ğ³ž
≥ ÌÐ=ðÝ¸³šÐ²=˚ð½ˇð½ž²=ˇÞ˙łðž²=šÞŠ˚₣š½ˇÐ=Þˇ=ýžÞ=š˝ÞˇÐ=

Š¼Þˇ½şÞ=Þˇ=×¹ˇłýˇ½−×−Ðž¦−ĆÞ=³š=şÝˇ=½ˇ=Š˝ð½¼ˇ=ðÐÞž½¸²=
½žÝš¾ğÞ˝ˇ²=ş½ˇÞ=₣¹ž³Ðý−×−Ð−ĆÞ½ˇÐ=³¼łðšð¹Ðý˚Þš²=
¼×ž¹š³˝š²=ŠÐð½Ć−¼=ðˇÐL¸=ÝšÐ½−¼¹ł˝š²=½−¼=½žÝš¾ćÞ−¼K=·Ðˇ=
×š¹Ð³³ş½š¹š²=×Ýž¹−¾−¹˝š²I=š×Ðð−ÐÞğÞ¸³½š=ýš=½−Þ=×ˇ¹−₣˚ˇ=
¼×ž¹š³ÐćÞK

≥ Í×−¹š˝½š=Þˇ=₣¹ž³Ðý−×−Ð¸³š½š=ˇ¼½ş=½−Þ=ˇ¹Ð¦ýş=˚ð½ˇð½ž²=
ˇÞ˙łðž²=łÐˇ=Þˇ=×¹ˇłýˇ½−×−Ð¸³š½š=ýÐˇ=ðÝ¸³ž=˚ð½ˇð½ž²=
ˇÞ˙łðž²=³š=−×−ÐˇŠ¸×−½š=₣ć¹ˇI=ýš=¸=₣ğ¹˝²=ð˙¹½ˇ=pfj=
½−×−¦š½žý˚Þž=³½−=½žÝ˚¾ğÞ−I=š¾D=ş³−Þ=Ł¹˝³ðš³½š=šÞ½ş²=
šýŁ˚ÝšÐˇ²=šÞş²=ŠÐð½Ć−¼=PdLdpjK

‚Ðš¦Þš˝²=ËÝ¸³šÐ²
NK ÓÐ˚³½š=ðˇÐ=ð¹ˇ½¸³½š=½−=Q=ý˚₣¹Ð=Þˇ=šý¾ˇÞÐ³½š˝=˚Þˇ=+=

E×¹ş¦šýˇ=ŠÐš¦ÞćÞ=ðÝ¸³šğÞFK
OK „Ð³˙łš½š=½−Þ=ðğŠÐðş=₣ć¹ˇ²I=ˇð−Ý−¼¦−ĆýšÞ−=ˇ×ş=½−Þ=

ðğŠÐðş=×š¹Ð−₣¸²=E₣ğ¹˝²=½−=ˇ¹₣Ððş=ýžŠ˚ÞF=ðˇÐ=½−Þ=ˇ¹Ð¦ýş=
½žÝš¾ćÞ−¼=ðˇÐ=×Ð˚³½š=D=łÐˇ=Þˇ=ðˇÝ˚³š½šK

Ó¹−³¦¸ðž=„Þş²=Ëˇ½ˇ₣ğ¹žý˚Þ−¼=fl¹Ð¦ý−Ć=ÚžÝš¾ćÞ−¼=³½ž=
È˝³½ˇ=„×ˇ¾ćÞ
NK fl¾−Ć=×Ýžð½¹−Ý−ł¸³š½š=½−Þ=ˇ¹Ð¦ýş=½žÝš¾ćÞ−¼I=×Ð˚³½š=

x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?fl×−¦¸ðK=fl¹Ð¦ý−Ć?K
·Ðˇ=Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½ž=ŠžýÐ−¼¹ł˝ˇ=ý˝ˇ²=Þ˚ˇ²=
ðˇ½ˇ₣ć¹ž³ž²I=Šš˝½š=?Ó¹−³¦¸ðž=Î˚ˇ²=„×ˇ¾¸²?=³½ž=
³šÝ˝Šˇ PRK

„ý¾˙ÞÐ³ž=¸=fl×şð¹¼Ğž=Ú−¼=fl¹Ð¦ý−Ć=Í−¼=³½žÞ=Ì¦şÞž=½−¼=
ËˇÝ−ĆýšÞ−¼=Ò¼ÞŠ¹−ýž½¸
NK Íš½˙=½žÞ=×Ýžð½¹−Ýşłž³ž=šÞş²=̌ ¹Ð¦ý−Ć=½žÝš¾ćÞ−¼I=×Ð˚³½š=

x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?„ý¾˙ÞÐ³ž=fl¹Ð¦ý−Ć?=¸=?fl×şð¹K=
fl¹Ð¦ý−Ć?K

Ó¹ˇłýˇ½−×−˝ž³ž=ðÝ¸³ž²=₣¹ž³Ðý−×−ÐćÞ½ˇ²=½ž=Ý˝³½ˇ=š×ˇ¾ćÞ=
³½ž=¦˚³ž=×¹−Ł−Ý¸²=½ž²=−¦şÞž²
NK ÓÐ˚³½š=YK

OK „×ÐÝ˚þ½š=?„×ˇ¾˚²?K

PK „×ÐÝ˚þ½š=?È˝³½ˇ=š×ˇ¾ćÞ?K

QK „×ÐÝ˚þ½š=½žÞ=ðˇ½ˇ₣ć¹ž³ž=×−¼=¦˚Ýš½š=Þˇ=ðˇÝ˚³š½šK

RK „×ÐÝ˚þ½š=½−Þ=ˇ¹Ð¦ýş=½žÝš¾ćÞ−¼K

SK „×ÐÝ˚þš½š=?ËÝ¸³ž?=łÐˇ=Þˇ=ðˇÝ˚³š½šK
·Ðˇ=½−Þ=½š¹ýˇ½Ð³ýş=ýÐˇ²=ðÝ¸³ž²I=×Ð˚³½š=ZK



ÈšÐ½−¼¹ł˝š²=ÙğÞž½Ðð¸²=ËÝ¸³ž²LËÝ¸³ž²=sáÇÉç ON

Úˇ₣š˝ˇ=ËÝ¸³ž
Í×−¹š˝½š=Þˇ=ðˇ½ˇ₣ğ¹¸³š½š=łÐˇ=½ˇ₣š˝ˇ=ðÝ¸³ž=˚ğ²=ðˇÐ=U=
ˇ¹Ð¦ý−Ć²=½žÝš¾ćÞ−¼=ˇ×ş=½ž=ýÞ¸ýž=È˝³½ˇ²=„×ˇ¾ćÞ=EýÞ¸ýž=
Ò¼³ðš¼¸²=ðˇÐ=Ë˙¹½ˇ²=pfjFK=Í×−¹š˝½š=Þˇ=ðˇÝ˚³š½š=½−¼²=
ˇ¹Ð¦ý−Ć²=₣¹ž³Ðý−×−ÐćÞ½ˇ²=½ˇ=ˇ¹Ð¦ýž½Ðð˙=×Ý¸ð½¹ˇ=EG=˚ğ²=
OFK=Ì=ˇ¹Ð¦ýş²=½žÝš¾ćÞ−¼=½−¼=Ë˚Þ½¹−¼=½žÝš¾ğÞž½¸=š˝ÞˇÐ=
ˇÞ½Ð³½−Ð₣Ð³ý˚Þ−²=³½−=×Ý¸ð½¹−=GK

·Ðˇ=×š¹Ð³³ş½š¹š²=Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½ž=¹Ć¦ýÐ³ž=½ž²=
Ý˝³½ˇ²=½ˇ₣š˝ˇ²=ðÝ¸³ž²I=Šš˝½š=?È˝³½ˇ=Úˇ₣š˝ˇ²=ËÝ¸³ž²?=³½ž=
³šÝ˝Šˇ PVK

NK ·Ðˇ=Þˇ=ðˇÝ˚³š½š=˚ÞˇÞ=ˇ¹Ð¦ýş=₣¹ž³Ðý−×−ÐćÞ½ˇ²=½ž=
ÝšÐ½−¼¹ł˝ˇ=½ˇ₣š˝ˇ²=ðÝ¸³ž²I=×Ð˚³½š=ðˇÐ=ð¹ˇ½¸³½š=×Ðš³ý˚Þ−=
˚Þˇ=ˇ×ş=½ˇ=ˇ¹Ð¦ýž½Ðð˙=×Ý¸ð½¹ˇ=EG=˚ğ²=OFK
Ì=ˇ¹Ð¦ýş²=½žÝš¾ćÞ−¼=×−¼=š˝ÞˇÐ=ˇ×−¦žðš¼ý˚Þ−²=³½ž=Ý˝³½ˇ=
½ˇ₣š˝ˇ²=ðÝ¸³ž²=ðˇÝš˝½ˇÐK

„×ˇÞ˙ðÝž³ž
Í×−¹š˝½š=Þˇ=ð˙Þš½š=š×ˇÞ˙ðÝž³ž=ˇ¹Ð¦ýćÞ=ˇ×ş=½−=ˇ¹₣š˝−=
ðÝ¸³šğÞK=„×ÐÝ˚þ½š=̌ ×ş=ý˝ˇ=³¼łðšð¹Ðý˚Þž=ðˇ½žł−¹˝ˇ=̧ =?⁄Ýš²=−Ð=
ËÝ¸³šÐ²?K=Ë˙¦š=ý˝ˇ=ˇ×ş=½Ð²=ðˇ½žł−¹˝š²=×š¹Ð˚₣šÐ=˚ğ²=ðˇÐ=PM=
ˇ¹Ð¦ý−Ć²I=³½ž=Ý˝³½ˇ=?⁄Ýš²=−Ð=ËÝ¸³šÐ²?=×š¹Ð˚₣−Þ½ˇÐ=˚ğ²=VM=
ˇ¹Ð¦ý−˝K
NK ÓÐ˚³½š=D=³½žÞ=ðˇ½˙³½ˇ³ž=ˇÞˇý−Þ¸²K

OK „×ÐÝ˚þ½š=ý˝ˇ=ˇ×ş=½Ð²=ðˇ½žł−¹˝š²=?⁄Ýš²=−Ð=ËÝ¸³šÐ²?I=
?ËÝž¦˚Þ½š²=fl¹Ð¦ý−˝?I=?flÞˇ×˙Þ½K=ËÝ¸³šÐ²?=¸=?„Ð³š¹₣şýšÞš²?K
·Ðˇ=šÞˇÝÝˇł¸=ýš½ˇþĆ=½ğÞ=ˇ¹₣š˝ğÞI=×Ð˚³½š=c=¸=dK

PK Íˇ¹ð˙¹š½š=½−Þ=ˇ¹Ð¦ýş=½žÝš¾ćÞ−¼=×−¼=¦˚Ýš½š=Þˇ=
ðˇÝ˚³š½šK

QK ÓÐ˚³½š=D=łÐˇ=Þˇ=š×ˇÞˇðˇÝ˚³š½š=½−Þ=ˇ¹Ð¦ýşK

fl×˙Þ½ž³ž=ý˝ˇ²=ÙğÞž½Ðð¸²=ËÝ¸³ž²
ÍşÝÐ²=ˇÞÐ₣ÞšĆ³šÐ=ý˝ˇ=šÐ³š¹₣şýšÞž=ðÝ¸³žI=½−=½žÝ˚¾ğÞ−=
ð−¼Š−¼Þ˝ŽšÐK

NK ÓÐ˚³½š=DI= =¸=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?fl×˙Þ½K?=łÐˇ=Þˇ=
ˇ×ˇÞ½¸³š½š=³½žÞ=ðÝ¸³žK
◊=×Ð˚³½š=−×−Ð−Š¸×−½š=×Ý¸ð½¹−=šð½ş²=½ğÞ=FI=U=ðˇÐ=
xfl×ˇ³₣Kz=ş½ˇÞ=š˝ÞˇÐ=šÞš¹ł−×−Ðžý˚Þž=ž=ÝšÐ½−¼¹ł˝ˇ=?fl×˙Þ½K=
ð˙¦š=ÓÝ¸ð½K?K=„Þš¹ł−×−Ð¸³½š=½ž=ÝšÐ½−¼¹ł˝ˇ=fl×˙Þ½ž³ž²=ýš=
Ë˙¦š=ÓÝ¸ð½¹−=³½−=×¹−¾˝Ý=ð˙¦š=½¹ş×−¼=ÝšÐ½−¼¹ł˝ˇ²=
E³šÝK VTFK

Ò¼ýŁ−¼Ý¸
≥ „˙Þ=˚₣š½š=šłł¹ˇ¾š˝=³½žÞ=¼×ž¹š³˝ˇ=flÞˇłÞć¹Ð³ž²=ËÝ¸³ž²=

E`ifF=ðˇÐ=½−=Š˝ð½¼−=½−¼=ðˇÝ−ĆÞ½−²=ýš½ˇŠ˝ŠšÐ=½−Þ=ˇ¹Ð¦ýş=
½žÝš¾ćÞ−¼I=½ş½š=−=ˇ¹Ð¦ýş²=½−¼=ðˇÝ−ĆÞ½−²=¦ˇ=šý¾ˇÞÐ³½š˝=
³½žÞ=−¦şÞžK=„˙Þ=−=̌ ¹Ð¦ýş²=ðˇÐ=½−=şÞ−ýˇ=½−¼=ðˇÝ−ĆÞ½−²=š˝ÞˇÐ=
ˇ×−¦žðš¼ý˚Þˇ=³½ž=È˝³½ˇ=„×ˇ¾ćÞI=½ş½š=³½žÞ=−¦şÞž=½−¼=
½žÝš¾ćÞ−¼=¦ˇ=šý¾ˇÞÐ³½š˝=−=ˇ¹Ð¦ýş²=ˇÝÝ˙=ðˇÐ=½−=şÞ−ýˇ=½−¼=
ðˇÝ−ĆÞ½−²K

≥ „˙Þ=×¹şðšÐ½ˇÐ=łÐˇ=̊ ÞˇÞ=×š¹Ð−¹Ð³ý˚Þ−=̌ ¹Ð¦ýşI=³½žÞ=−¦şÞž=¦ˇ=
šý¾ˇÞÐ³½š˝=½−=ý¸Þ¼ýˇ=?fl×şð¹K=ˇ¹Ð¦ý−Ć?K

≥ ⁄½ˇÞ=Š˚₣š³½š=ýÐˇ=ðÝ¸³ž=ˇ×ş=˚Þˇ=˙½−ý−=½−¼=−×−˝−¼=½ž=
¾ğ½−ł¹ˇ¾˝ˇ=˚₣š½š=ðˇ½ˇ₣ğ¹¸³šÐ=³½ž=È˝³½ˇ=„×ˇ¾ćÞI=½ş½š=ž=
¾ğ½−ł¹ˇ¾˝ˇI=½−=şÞ−ýˇ=ðˇÐ=−=ˇ¹Ð¦ýş²=½žÝš¾ćÞ−¼=ˇ¼½−Ć=½−¼=
ˇ½şý−¼=šý¾ˇÞ˝Ž−Þ½ˇÐ=³½žÞ=−¦şÞžK



OO ÈšÐ½−¼¹ł˝š²=ÙğÞž½Ðð¸²=ËÝ¸³ž²LËÝ¸³ž²=sáÇÉç

fl×˙Þ½ž³ž=ýÐˇ²=ðÝ¸³ž²=ýš=½žÞ=−¦şÞž=³½ž=¦˚³ž=×¹−Ł−Ý¸²
NK ÓÐ˚³½š=X=¸=Y=łÐˇ=Þˇ=ˇ×ˇÞ½¸³š½š=½žÞ=ðÝ¸³žK

·Ðˇ=½−Þ=½š¹ýˇ½Ð³ýş=ýÐˇ²=ðÝ¸³ž²I=×Ð˚³½š=ZK
·Ðˇ=Þˇ=ˇ×−¹¹˝Ğš½š=½žÞ=šÐ³š¹₣şýšÞž=ðÝ¸³žI=×Ð˚³½š=ðˇÐ=
ð¹ˇ½¸³½š=½−=ZK

fl×ş¹¹ÐĞž=ýÐˇ²=„Ð³š¹₣şýšÞž²=ËÝ¸³ž²
NK ÓÐ˚³½š=F=ş½ˇÞ=½−=½žÝ˚¾ğÞ−=ð−¼Š−¼Þ˝ŽšÐ=łÐˇ=Þˇ=

ˇ×−¹¹˝Ğš½š=ý˝ˇ=ðÝ¸³ž=½žÞ=−×−˝ˇ=ŠšÞ=¦˚Ýš½š=Þˇ=
ˇ×ˇÞ½¸³š½šK

„Þžý˚¹ğ³ž=½−¼=ËˇÝ−ĆÞ½−²=ş½Ð=š˝³½š=fl×ˇ³₣−Ýžý˚Þ−²
NK ÓÐ˚³½š=xfl×ˇ³₣Kz=šÞć=½−=½žÝ˚¾ğÞ−=ð−¼Š−¼Þ˝ŽšÐ=łÐˇ=Þˇ=

³½š˝Ýš½š=˚ÞˇÞ=½şÞ−=ˇ×ˇ³₣−Ýžý˚Þ−¼=³½−Þ=ðˇÝ−ĆÞ½ˇK

ÍšÞ−Ć=ËÝ¸³šğÞ=EÙğÞž½Ðð¸=ðÝ¸³žF
Ú−=½žÝ˚¾ğÞş=³ˇ²=ŠÐˇ¦˚½šÐ=×¹ş³¦š½š²=ÝšÐ½−¼¹ł˝š²=×−¼=
ý×−¹−ĆÞ=Þˇ=₣¹ž³Ðý−×−Ðž¦−ĆÞ=ş½ˇÞ=ýÐˇ=ðÝ¸³ž=š˝ÞˇÐ=³š=šþ˚ÝÐþžK

ÔĆ¦ýÐ³ž=½ž²=÷Þ½ˇ³ž²=½−¼=flð−¼³½Ðð−Ć
Í×−¹š˝½š=Þˇ=¹¼¦ý˝³š½š=½žÞ=˚Þ½ˇ³ž=½−¼=ˇð−¼³½Ðð−Ć=EðˇÐ=½žÞ=
˚Þ½ˇ³ž=½ğÞ=¾−¹ž½ćÞ=ˇð−¼³½ÐðćÞI=š˙Þ=˚₣−¼Þ=³¼ÞŠš¦š˝F=³š=
×˚Þ½š=š×˝×šŠˇK
NK ÓÐ˚³½š=V=¸=W=łÐˇ=Þˇ=šý¾ˇÞ˝³š½š=½žÞ=−¦şÞž=÷Þ½ˇ³ž²=

flð−¼³½Ðð−ĆK

OK ÓÐ˚³½š=V=E¸=aLdF=łÐˇ=Þˇ=̌ ¼þ¸³š½š=½žÞ=̊ Þ½ˇ³ž=½ž²=ðÝ¸³ž²=
¸=×Ð˚³½š=W=E¸=bLcF=łÐˇ=Þˇ=ýšÐć³š½š=½žÞ=˚Þ½ˇ³žK

PK ÓÐ˚³½š= =š˙Þ=ž=˚Þ½ˇ³ž=˚₣šÐ=¹¼¦ýÐ³½š˝=³½−=š×˝×šŠ−=×−¼=
š×Ð¦¼ýš˝½šK

Ò¼ýŁ−¼Ý¸
≥ Ò½ž=¦˚³ž=½ž²=−¦şÞž²=×¹−Ł−Ý¸²I=×Ð˚³½š=X=¸=Y=łÐˇ=Þˇ=

šý¾ˇÞÐ³½š˝=½−=ýšÞ−Ć=ðÝ¸³šğÞK
≥ Ò½ž=¦˚³ž=×¹−Ł−Ý¸²=½ž²=−¦şÞž²I=₣¹ž³Ðý−×−Ð¸³½š=½−=V=¸=W=
łÐˇ=Þˇ=̌ ¼þ¸³š½š=̧ =Þˇ=šÝˇ½½ć³š½š=½žÞ=̊ Þ½ˇ³ž=½−¼=̌ ð−¼³½Ðð−ĆK=
ÌÐ=ÝšÐ½−¼¹ł˝š²=ˇ¼½ćÞ=½ğÞ=×Ý¸ð½¹ğÞ=š˝ÞˇÐ=ˇÞ½˝³½¹−¾š²=³½ž=
¦˚³ž=×¹−Ł−Ý¸²K

„Þš¹ł−×−˝ž³ž=ðˇÐ=ˇ×šÞš¹ł−×−˝ž³ž=½ğÞ=ž₣š˝ğÞ
Í×−¹š˝½š=Þˇ=ýÐÝ¸³š½š=ˇ×ş=½ˇ=ýšł˙¾ğÞˇ=×−¼=Ł¹˝³ð−Þ½ˇÐ=³½Ð²=
×Ýš¼¹˚²=½−¼=½žÝš¾ćÞ−¼=ş½ˇÞ=ˇ¼½ş=š˝ÞˇÐ=ˇÞ−Ðð½şK

NK Ëˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=ý˝ˇ²=ðÝ¸³ž²=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=
?Íšł˙¾ğÞ−=„Þš¹łş?K

Ê˚³ž=ý˝ˇ²=ËÝ¸³ž²=³š=flÞˇý−Þ¸
fl¼½¸=ž=ÝšÐ½−¼¹ł˝ˇ=³˙²=š×Ð½¹˚×šÐ=Þˇ=ŠÐˇ₣šÐ¹Ð³½š˝½š=½ˇ¼½ş₣¹−Þˇ=
ŠĆ−=ðÝ¸³šÐ²K=„˙Þ=¦˚Ýš½š=Þˇ=×¹ˇłýˇ½−×−Ð¸³š½š=ýÐˇ=ŠšĆ½š¹ž=
ðÝ¸³ž=šÞć=³¼Þ−ýÐÝš˝½š=̧ Šž=ýš=ð˙×−Ð−ÞI=ý×−¹š˝½š=Þˇ=¦˚³š½š=½žÞ=
½¹˚₣−¼³ˇ=³¼Þ−ýÐÝ˝ˇ=³š=ˇÞˇý−Þ¸=łÐˇ=Þˇ=ðˇÝ˚³š½š=˚ÞˇÞ=˙ÝÝ−=
ˇ¹Ð¦ýşK



ÈšÐ½−¼¹ł˝š²=ÙğÞž½Ðð¸²=ËÝ¸³ž²LËÝ¸³ž²=sáÇÉç OP

Ó¹ˇłýˇ½−×−˝ž³ž=‚šĆ½š¹ž²=ËÝ¸³ž²=ðˇ½˙=½ž=‚Ð˙¹ðšÐˇ=ý˝ˇ²=
ËÝ¸³ž²
NK Ëˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=ý˝ˇ²=ðÝ¸³ž²I=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=

?flÞˇý−Þ¸?K
Â=½¹˚₣−¼³ˇ=ðÝ¸³ž=½˝¦š½ˇÐ=³š=ˇÞˇý−Þ¸K

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?ËÝ¸³ž=Î˚−¼=fl¹Ð¦K?K

PK „Ð³˙łš½š=½−Þ=ˇ¹Ð¦ýş=½žÝš¾ćÞ−¼=×−¼=¦˚Ýš½š=Þˇ=ðˇÝ˚³š½š=
½ˇ¼½ş₣¹−Þˇ=ðˇÐI=³½ž=³¼Þ˚₣šÐˇI=×Ð˚³½š=DK

Ò¼ýŁ−¼Ý¸
≥ Í×−¹š˝½šI=š×˝³ž²I=ˇÞ½˝=Þˇ=šð½šÝ˚³š½š=½−=Ł¸ýˇ=NI=Þˇ=

×¹ˇłýˇ½−×−Ð¸³š½š=ý˝ˇ=ŠšĆ½š¹ž=ðÝ¸³ž=×Ýžð½¹−Ý−łćÞ½ˇ²=½−Þ=
ˇ¹Ð¦ýş=½žÝš¾ćÞ−¼=ðˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=½ž²=½¹˚₣−¼³ˇ²=ðÝ¸³ž²K

Ó¹ş³Łˇ³ž=½−¼=ýšÞ−Ć=pjpLjjp=ðˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=ý˝ˇ²=ðÝ¸³ž²
NK Ëˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=ý˝ˇ²=ðÝ¸³ž²I=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=

?ÍžÞĆýˇ½ˇ?K
Û×˙¹₣−¼Þ=−Ð=×ˇ¹ˇð˙½ğ=š×ÐÝ−ł˚²W=?‚žýÐ−¼¹ł˝ˇ=jžÞĆý?=łÐˇ=
Þˇ=ŠžýÐ−¼¹ł¸³š½š=˚Þˇ=ý¸Þ¼ýˇ=pjp=¸=jjpI=¸=
?„Ð³š¹₣şýšÞˇ?I=?Ò½ˇÝý˚Þˇ?I=¸=?Ó¹ş₣šÐ¹ˇ?=łÐˇ=×¹ş³Łˇ³ž=
³½−Þ=ˇÞ½˝³½−Ð₣−=¾˙ðšÝ−K=·Ðˇ=Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½ˇ=
pjpI=Šš˝½š=?pjp?=ðˇÐ=?jjp?=³½ž=³šÝ˝Šˇ QVK

flÞˇý−Þ¸=ËÝ¸³šğÞ
fl¼½¸=ž=¼×ž¹š³˝ˇ=³˙²=šÐŠ−×−Ðš˝=łÐˇ=ý˝ˇ=ŠšĆ½š¹ž=šÐ³š¹₣şýšÞž=
ðÝ¸³ž=šÞć=˚₣š½š=¸Šž=ý˝ˇ=ðÝ¸³ž=³š=šþ˚ÝÐþžK

NK Ëˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=ý˝ˇ²=ðÝ¸³ž²=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=
?flÞˇýK=C=fl×˙Þ½K?=łÐˇ=Þˇ=ˇ×ˇÞ½¸³š½š=³½ž=ŠšĆ½š¹ž=ðÝ¸³žK
Â=×¹ć½ž=ðÝ¸³ž=½˝¦š½ˇÐ=³š=ˇÞˇý−Þ¸=ðˇÐ=ý×−¹š˝½š=½ć¹ˇ=Þˇ=
ˇ×ˇÞ½¸³š½š=³½ž=ŠšĆ½š¹ž=ðÝ¸³žK

Òžýš˝ğ³ž
≥ „˙Þ=¦˚Ýš½š=Þˇ=₣¹ž³Ðý−×−Ð¸³š½š=½žÞ=¼×ž¹š³˝ˇ=flÞˇý−Þ¸²=

ËÝ¸³ž²I=¦ˇ=₣¹šÐˇ³½š˝=Þˇ=¹¼¦ý˝³š½š=½ž=ÝšÐ½−¼¹ł˝ˇ=?flÞˇý−Þ¸=
ËÝ¸³K?=³½žÞ=š×ÐÝ−ł¸=?„Þš¹łş?=E³šÝK NMPFK

≥ Â=¼×ž¹š³˝ˇ=flÞˇý−Þ¸²=ËÝ¸³ž²=šÞŠ˚₣š½ˇÐ=Þˇ=ýžÞ=š˝ÞˇÐ=
ŠÐˇ¦˚³Ðýž=³š=şÝˇ=½ˇ=Š˝ð½¼ˇK=·Ðˇ=×š¹Ð³³ş½š¹š²=×Ýž¹−¾−¹˝š²I=
š×Ðð−ÐÞğÞ¸³½š=ýš=½−Þ=×ˇ¹−₣˚ˇ=¼×ž¹š³ÐćÞK

≥ „˙Þ=ŠšÞ=š×Ð¦¼ýš˝½š=Þˇ=̌ ×ˇÞ½¸³š½š=³½ž=ŠšĆ½š¹ž=ðÝ¸³ž=×Ð˚³½š=
x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?fl×ˇ³₣−Ýžý˚Þ−?=³½−=Ł¸ýˇ NK=„˙Þ=
š×ÐÝ˚þš½š=?fl×ş¹¹ÐĞž?=ž=ŠšĆ½š¹ž=ðÝ¸³ž=ˇ×−¦žðšĆš½ˇÐ=³½−=
ˇ¹₣š˝−=ðÝ¸³šğÞ=ğ²=ˇÞˇ×˙Þ½ž½ž=ðÝ¸³žK

ËÝ¸³ž=Ò¼ÞŠÐ˙³ðšĞž²
Â=ËÝ¸³ž=³¼ÞŠÐ˙³ðšĞž²=š˝ÞˇÐ=ý˝ˇ=ðÝ¸³ž=ýš=×š¹Ð³³ş½š¹−¼²=ˇ×ş=
O=³¼ýýš½˚₣−Þ½š²K=Í×−¹š˝½š=Þˇ=³¼ý×š¹ÐÝ˙Łš½š=˚ğ²=ðˇÐ=R=
³¼ýýš½˚₣−Þ½š²=³š=ý˝ˇ=ðÝ¸³ž=³¼ÞŠÐ˙³ðšĞž²K

Ó¹ˇłýˇ½−×−˝ž³ž=ý˝ˇ²=ËÝ¸³ž²=Ò¼ÞŠÐ˙³ðšĞž²
Êˇ=×¹˚×šÐ=Þˇ=̊ ₣š½š=ý˝ˇ=šÞš¹ł¸=ðÝ¸³ž=ðˇÐ=ý˝ˇ=ŠšĆ½š¹ž=ðÝ¸³ž=³š=
ˇÞˇý−Þ¸K

NK Ëˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=ý˝ˇ²=ðÝ¸³ž²I=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=
?Ó−ÝÝ−˝=³¼Þ−ýÐÝK?K

OK „×ÐÝ˚þ½š=?Ò¼ÞŠÐ˙³ðK=⁄Ý−Ð?=łÐˇ=Þˇ=³¼ýýš½˙³₣š½š=³½žÞ=ðÝ¸³ž=
³¼ÞŠÐ˙³ðšĞž²K

PK ÓÐ˚³½š=F=łÐˇ=Þˇ=½š¹ýˇ½˝³š½š=½žÞ=ðÝ¸³ž=³¼ÞŠÐ˙³ðšĞž²K



OQ ÈšÐ½−¼¹ł˝š²=ÙğÞž½Ðð¸²=ËÝ¸³ž²LËÝ¸³ž²=sáÇÉç

Òžýš˝ğ³ž
≥ Â=¼×ž¹š³˝ˇ=ðÝ¸³ž²=³¼ÞŠÐ˙³ðšĞž²=šÞŠ˚₣š½ˇÐ=Þˇ=ýžÞ=š˝ÞˇÐ=

ŠÐˇ¦˚³Ðýž=³š=şÝˇ=½ˇ=Š˝ð½¼ˇK=·Ðˇ=×š¹Ð³³ş½š¹š²=×Ýž¹−¾−¹˝š²I=
š×Ðð−ÐÞğÞ¸³½š=ýš=½−Þ=×ˇ¹−₣˚ˇ=¼×ž¹š³ÐćÞK

≥ Ò½−=Ł¸ýˇ=OI=˚₣š½š=½Ð²=×ˇ¹ˇð˙½ğ=šÞˇÝÝˇð½Ðð˚²=š×ÐÝ−ł˚²=łÐˇ=
½žÞ=ËÝ¸³ž=³¼ÞŠÐ˙³ðšĞž²W
≥ ·Ðˇ=Þˇ=¦˚³š½š=şÝ−¼²=½−¼²=³¼ýýš½˚₣−Þ½š²=³š=ˇÞˇý−Þ¸I=

š×ÐÝ˚þ½š=?flÞˇý−Þ¸=⁄ÝğÞ?K
≥ ·Ðˇ=Þˇ=¦˚³š½š=şÝ−¼²=½−¼²=³¼ýýš½˚₣−Þ½š²=³š=ˇÞˇý−Þ¸=

šð½ş²=ˇ¼½−Ć=½ž²=½¹˚₣−¼³ˇ²=ðÝ¸³ž²I=š×ÐÝ˚þ½š=?ÁŠÐğ½Ðð¸?K
≥ ·Ðˇ=Þˇ=½š¹ýˇ½˝³š½š=½žÞ=ðÝ¸³ž=ýš=şÝ−¼²=½−¼²=³¼ýýš½˚₣−Þ½š²I=

š×ÐÝ˚þ½š=?Úš¹ýK=„Þš¹łćÞ?=¸=?Úš¹ýK=flÞˇý−ÞćÞ?K
≥ ·Ðˇ=Þˇ=ˇ×−¹¹˝Ğš½š=½žÞ=×¹−³¦¸ðž=Þ˚ğÞ=³¼ýýš½š₣şÞ½ğÞ=

³½žÞ=½¹˚₣−¼³ˇ=³¼ÞŠÐ˙³ðšĞžI=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=
?fl×ş¹¹ÐĞž?I=¸=ý×−¹š˝½š=Þˇ=³½š˝Ýš½š=½şÞ−=ˇ×ˇ³₣−Ýžý˚Þ−¼=
š×ÐÝ˚ł−Þ½ˇ²=?fl×ˇ³₣−Ýžý˚Þ−?K

Ó¹−³¦¸ðž=Î˚ğÞ=Ò¼ýýš½š₣şÞ½ğÞ=³š=ý˝ˇ=ËÝ¸³ž=Ò¼ÞŠÐ˙³ðšĞž²
NK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?ËÝ¸³ž=Î˚−¼=fl¹Ð¦K?K
OK „Ð³˙łš½š=½−Þ=̌ ¹Ð¦ýş=½žÝš¾ćÞ−¼=×−¼=¦˚Ýš½š=Þˇ=³¼ý×š¹ÐÝ˙Łš½š=

³½žÞ=ðÝ¸³ž=³¼ÞŠÐ˙³ðšĞž²=ðˇÐ=×Ð˚³½š=D=łÐˇ=Þˇ=ðˇÝ˚³š½šK
PK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ó−ÝÝ−˝=³¼Þ−ýÐÝK?K
QK „×ÐÝ˚þ½š=?Ò¼ÞŠÐ˙³ðK=⁄Ý−Ð?=łÐˇ=Þˇ=³¼ýýš½˙³₣š½š=³½žÞ=ðÝ¸³ž=

³¼ÞŠÐ˙³ðšĞž²K
„˙Þ=¦˚Ýš½š=Þˇ=×¹−³¦˚³š½š=ðÐ=˙ÝÝ−¼²=³¼ýýš½˚₣−Þ½š²I=
š×ˇÞˇÝ˙Łš½š=½ˇ=Ł¸ýˇ½ˇ=N=˚ğ²=QK

Úš¹ýˇ½Ð³ýş²=½ž²=ËÝ¸³ž²=ýš=˚Þˇ=Ò¼ýýš½˚₣−Þ½ˇ=³½žÞ=ËÝ¸³ž=
Ò¼ÞŠÐ˙³ðšĞž²
NK Ëˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=ý˝ˇ²=ðÝ¸³ž²=³¼ÞŠÐ˙³ðšĞž²I=ýˇ¹ð˙¹š½š=½−=

˙½−ý−=×−¼=¦˚Ýš½š=Þˇ=ˇ×−³¼ÞŠ˚³š½š=ˇ×ş=½žÞ=ðÝ¸³ž=
³¼ÞŠÐ˙³ðšĞž²K

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Úš¹ýˇ½K=ËÝ¸³ž²?K

Ó¹ˇłýˇ½−×−˝ž³ž=ÁŠÐğ½Ðð¸²=Ò¼Þ−ýÐÝ˝ˇ=ýš=÷ÞˇÞ=ˇ×ş=½−¼²=
Ò¼ýýš½˚₣−Þ½š²
„˙Þ=¦˚Ýš½š=Þˇ=˚₣š½š=ýÐˇ=ÐŠÐğ½Ðð¸=³¼Þ−ýÐÝ˝ˇ=ýš=ð˙×−Ð−Þ=ˇ×ş=
½−¼²=³¼ýýš½˚₣−Þ½š²I=ý×−¹š˝½š=Þˇ=š×ÐÝ˚þš½š=½−=³¼ýýš½˚₣−Þ½ˇ=
ˇ×ş=½ž=Ý˝³½ˇ=³¼ÞŠÐ˙³ðšĞž²=ðˇÐ=Þˇ=¦˚³š½š=½−¼²=¼×şÝ−Ð×−¼²=
³¼ýýš½˚₣−Þ½š²=³š=ˇÞˇý−Þ¸K
NK Ëˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=ý˝ˇ²=ðÝ¸³ž²=³¼ÞŠÐ˙³ðšĞž²=š×ÐÝ˚þ½š=½−=

˙½−ý−=ýš=½−=−×−˝−=¦˚Ýš½š=Þˇ=³¼Þ−ýÐÝ¸³š½šK
OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ó−ÝÝ−˝=³¼Þ−ýÐÝK?K
PK „×ÐÝ˚þ½š=?ÁŠÐğ½Ðð¸?K
QK ⁄½ˇÞ=½šÝšÐć³š½š=½žÞ=ÐŠÐğ½Ðð¸=³¼Þ−ýÐÝ˝ˇI=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=

ýˇ¹ð˙¹š½š=?Ó−ÝÝ−˝=³¼Þ−ýÐÝK?K
RK „×ÐÝ˚þ½š=?Ò¼ÞŠÐ˙³ðK=⁄Ý−Ð?=łÐˇ=Þˇ=š×Ð³½¹˚Ğš½š=³½žÞ=ðÝ¸³ž=

³¼ÞŠÐ˙³ðšĞž²K

Ò˝łˇ³ž=½−¼=ÍÐð¹−¾ćÞ−¼
NK Ëˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=ý˝ˇ²=ðÝ¸³ž²=×Ð˚³½š=xÒÐğ×žÝşzK

·Ðˇ=Þˇ=₣¹ž³Ðý−×−Ð¸³š½š=×˙ÝÐ=½−=ýÐð¹ş¾ğÞ−I=×Ð˚³½š=xÍž=
ÒÐğ×KzK



ÈšÐ½−¼¹ł˝š²=ÙğÞž½Ðð¸²=ËÝ¸³ž²LËÝ¸³ž²=sáÇÉç OR

Ó¹ˇłýˇ½−×−˝ž³ž=ý˝ˇ²=ËÝ¸³ž²=sáÇÉç
Òžýš˝ğ³ž
≥ ı¹ž³Ðý−×−Ð¸³½š=ˇ¼½¸=½ž=ÝšÐ½−¼¹ł˝ˇ=ýš=½žÝ˚¾ğÞˇ=×−¼=˚₣−¼Þ=

šÞš¹ł−×−Ðžý˚Þž=½ž=ÝšÐ½−¼¹ł˝ˇ=ðÝ¸³ž²=îáÇÉçK
≥ Ó¹ÐÞ=₣¹ž³Ðý−×−Ð¸³š½š=ˇ¼½¸=½ž=ÝšÐ½−¼¹ł˝ˇ=ŁšŁˇÐğ¦š˝½š=ş½Ð=ž=

ý×ˇ½ˇ¹˝ˇ=š˝ÞˇÐ=×Ý¸¹ğ²=¾−¹½Ð³ý˚Þž=ðˇÐ=ş½Ð=¼×˙¹₣šÐ=Š¼Þˇ½ş=
³¸ýˇ=Ý¸Ğž²K

≥ „Þš¹ł−×−Ð¸³½š=½ˇ=ýšł˙¾ğÞˇ=¸=₣¹ž³Ðý−×−Ð¸³½š=˚Þˇ=³š½=
Ò½š¹š−¾ğÞÐðćÞ=Ù−¹ž½ćÞ=flð−¼³½ÐðćÞ=š¾−ŠÐˇ³ý˚Þˇ=ýš=
ŠÐˇðş×½ž=¸=˚Þˇ=ðÐ½=Ü~åÇëÑêÉÉ=˚½³Ð=ć³½š=Þˇ=ýÐÝ˙½š=ðˇ¦ć²=
ð−Ð½˙½š=³½žÞ=−¦şÞž=½ž²=ðÝ¸³ž²=îáÇÉç=³½žÞ=ðĆ¹Ðˇ=−¦şÞžK

„ÞŠš˝þšÐ²=Ëˇ½˙³½ˇ³ž²
NK ‡−ž¦ž½Ðð¸=−¦şÞž=łÐˇ=½žÞ=šÐðşÞˇ=³ˇ²
OK ı¹şÞ−²=×−¼=˚₣šÐ=×ˇ¹˚Ý¦šÐ

PK ËĆ¹Ðˇ=−¦şÞž=łÐˇ=½žÞ=−¦şÞž=½−¼=³¼Þ−ýÐÝ−ĆÞ½ˇ

QK ⁄Þ−ýˇ=¸=ˇ¹Ð¦ýş²=½žÝš¾ćÞ−¼=³¼Þ−ýÐÝ−ĆÞ½ˇ

Ó¹ˇłýˇ½−×−˝ž³ž=ý˝ˇ²=ËÝ¸³ž²=sáÇÉç
NK „Ð³˙łš½š=½−Þ=ðğŠÐðş=½ž²=×š¹Ð−₣¸²=ðˇÐ=½−Þ=½žÝš¾ğÞÐðş=

ˇ¹Ð¦ýş=×−¼=¦˚Ýš½š=Þˇ=ðˇÝ˚³š½šK
OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þš½š=?ËÝ¸³ž=sáÇÉç?=¸=×Ð˚³½š=ðˇÐ=

ð¹ˇ½¸³½š=½−=D=łÐˇ=Þˇ=ðˇÝ˚³š½šK
„˙Þ=×Ýžð½¹−Ý−ł¸³š½š=ÝˇÞ¦ˇ³ý˚Þ−=̌ ¹Ð¦ýşI=×Ð˚³½š=U=łÐˇ=
Þˇ=ŠÐˇł¹˙Ğš½š=½−Þ=ˇ¹Ð¦ýş=ˇ¹Ð³½š¹˙=ˇ×ş=½−=Š¹−ý˚ˇK
⁄½ˇÞ=ł˝ÞšÐ=ž=³ĆÞŠš³ž=½ž²=ł¹ˇýý¸²I=ž=šÐðşÞˇ=½−¼=
ðˇÝ−ĆýšÞ−¼=³¼ÞŠ¹−ýž½¸=šý¾ˇÞ˝Žš½ˇÐ=³½−=š×˙Þğ=ý˚¹−²=½ž²=
−¦şÞž²=ðˇÐ=ž=ŠÐð¸=³ˇ²=³½žÞ=ð˙½ğ=ˇ¹Ð³½š¹¸=×Ýš¼¹˙K

Ò¼ýŁ−¼Ý¸
≥ „˙Þ=−=ðˇÝ−ĆýšÞ−²=³¼ÞŠ¹−ýž½¸²=ŠšÞ=̊ ₣šÐ=šÞš¹ł−×−Ð¸³šÐ=³½−=

½žÝ˚¾ğÞş=½−¼=½ž=ÝšÐ½−¼¹ł˝ˇ=ðÝ¸³ž²=îáÇÉçI=ý×−¹š˝½š=Þˇ=
×Ð˚³š½š=½−=F=ðˇÐ=Þˇ=šÐ³˙łš½š=×˙ÝÐ=½−Þ=ˇ¹Ð¦ýş=½žÝš¾ćÞ−¼=
łÐˇ=Þˇ=×¹ˇłýˇ½−×−Ð¸³š½š=ý˝ˇ=¾ğÞž½Ðð¸=ðÝ¸³žK

≥ ⁄½ˇÞ=½š¹ýˇ½Ð³½š˝=ž=ðÝ¸³ž=šý¾ˇÞ˝Žš½ˇÐ=½−=ðş³½−²=½ž²=
½šÝš¼½ˇ˝ˇ²=ðÝ¸³ž²K
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OS ÈšÐ½−¼¹ł˝š²=ÙğÞž½Ðð¸²=ËÝ¸³ž²LËÝ¸³ž²=sáÇÉç

fl×˙Þ½ž³ž=³š=ý˝ˇ=ËÝ¸³ž=sáÇÉç
ÍşÝÐ²=ˇÞÐ₣ÞšĆ³šÐ=ý˝ˇ=šÐ³š¹₣şýšÞž=ðÝ¸³žI=½−=½žÝ˚¾ğÞ−=
ð−¼Š−¼Þ˝ŽšÐK
NK ÓÐ˚³½š=D=łÐˇ=Þˇ=̌ ×ˇÞ½¸³š½š=³½žÞ=ðÝ¸³ž=ýš=îáÇÉç=̧ =×Ð˚³½š=

x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?fl×şð¹¼Ğž=¾ğ½−ł¹ˇ¾˝ˇ²?=łÐˇ=Þˇ=
ˇ×ˇÞ½¸³š½š=ýşÞ−=ýš=¾ğÞ¸K

Ò¼ýŁ−¼Ý¸
≥ ⁄½ˇÞ=½š¹ýˇ½Ð³½š˝=ž=ðÝ¸³žI=½−=ðş³½−²=½ž²=ðÝ¸³ž²=šý¾ˇÞ˝Žš½ˇÐK
≥ „˙Þ=˚₣š½š=šłł¹ˇ¾š˝=³½žÞ=¼×ž¹š³˝ˇ=flÞˇłÞć¹Ð³ž²=ËÝ¸³ž²=

E`ifF=ðˇÐ=½−=Š˝ð½¼−=½−¼=ðˇÝ−ĆÞ½−²=ýš½ˇŠ˝ŠšÐ=½−Þ=ˇ¹Ð¦ýş=
½žÝš¾ćÞ−¼I=½ş½š=−=ˇ¹Ð¦ýş²=½−¼=ðˇÝ−ĆÞ½−²=¦ˇ=šý¾ˇÞÐ³½š˝=
³½žÞ=−¦şÞžK=„˙Þ=−=̌ ¹Ð¦ýş²=ðˇÐ=½−=şÞ−ýˇ=½−¼=ðˇÝ−ĆÞ½−²=š˝ÞˇÐ=
ˇ×−¦žðš¼ý˚Þˇ=³½ž=È˝³½ˇ=„×ˇ¾ćÞI=½ş½š=³½žÞ=−¦şÞž=¦ˇ=
šý¾ˇÞÐ³½š˝=½−=şÞ−ýˇ=½−¼=ðˇÝ−ĆÞ½−²K

fl×ş¹¹ÐĞž=„Ð³š¹₣şýšÞž²=ËÝ¸³ž²
NK ÓÐ˚³½š=F=ş½ˇÞ=½−=½žÝ˚¾ğÞ−=ð−¼Š−¼Þ˝ŽšÐ=łÐˇ=Þˇ=

ˇ×−¹¹˝Ğš½š=ý˝ˇ=ðÝ¸³ž=½žÞ=−×−˝ˇ=ŠšÞ=¦˚Ýš½š=Þˇ=
ˇ×ˇÞ½¸³š½šK

„Þžý˚¹ğ³ž=½−¼=ËˇÝ−ĆÞ½−²=ş½Ð=‚šÞ=š˝³½š=‚Ðˇ¦˚³Ðý−²
NK ÓÐ˚³½š=xfl×ˇ³₣Kz=ş½ˇÞ=½−=½žÝ˚¾ğÞ−=ð−¼Š−¼Þ˝ŽšÐ=łÐˇ=Þˇ=

³½š˝Ýš½š=˚ÞˇÞ=½şÞ−=ˇ×ˇ³₣−Ýžý˚Þ−¼=łÐˇ=Þˇ=šÞžýš¹ć³š½š=
½−Þ=ðˇÝ−ĆÞ½ˇ=ş½Ð=ŠšÞ=ý×−¹š˝½š=Þˇ=ˇ×ˇÞ½¸³š½š=³½žÞ=ðÝ¸³žK

ÍšÞ−Ć=ËÝ¸³šğÞ=EËÝ¸³ž=sáÇÉçF
Ò˝łˇ³ž=½−¼=ÍÐð¹−¾ćÞ−¼
NK Ëˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=ý˝ˇ²=ðÝ¸³ž²=îáÇÉç=×Ð˚³½š=xÒÐğ×žÝşzK

·Ðˇ=Þˇ=₣¹ž³Ðý−×−Ð¸³š½š=×˙ÝÐ=½−=ýÐð¹ş¾ğÞ−I=×Ð˚³½š=xÍž=
ÒÐğ×KzK

„ÞˇÝÝˇł¸=„ÐðşÞğÞ
Í×−¹š˝½š=Þˇ=šÞˇÝÝ˙³³š½š=½Ð²=šÐðşÞš²=ˇ×ş=½žÞ=ðĆ¹Ðˇ=ðˇÐ=½ž=
Ł−ž¦ž½Ðð¸=−¦şÞžK
NK Ëˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=ý˝ˇ²=ðÝ¸³ž²=îáÇÉç=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=

š×ÐÝ˚þ½š=?„ÞˇÝÝˇł¸=šÐðşÞğÞ?K

Ò¼ýŁ−¼Ý¸
≥ Í×−¹š˝½š=š×˝³ž²=Þˇ=šÞˇÝÝ˙³³š½š=šÐðşÞš²=ýš½ˇþĆ=½ž²=ðĆ¹Ðˇ²=

ðˇÐ=½ž²=Ł−ž¦ž½Ðð¸²=−¦şÞž²=×Ð˚Ž−Þ½ˇ²= =ðˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=
ýÐˇ²=ðÝ¸³ž²=îáÇÉçK

flÝÝˇł¸=½ž²=Ð„ðşÞˇ²=³ˇ²
NK Ëˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=ý˝ˇ²=ðÝ¸³ž²=îáÇÉç=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=

š×ÐÝ˚þ½š=?Ùğ½−K=ˇ×ş=Ùğ½−K=jž₣K?K

OK „×ÐÝ˚þ½š=ˇ×ş=?„³ğ½K=Ùğ½K=Íž₣K?I=?„þğ½K=Ùğ½K=Íž₣K?=¸=
?„ÞˇÝÝˇð½Ðð¸=„ÐðşÞˇ?K
?„³ğ½K=Ùğ½K=Íž₣K?W Â=šÐðşÞˇ=ˇ×ş=½ž=Ł−ž¦ž½Ðð¸=

¾ğ½−ł¹ˇ¾Ðð¸=ýž₣ˇÞ¸=šý¾ˇÞ˝Žš½ˇÐ=
ðˇÐ=³½˚ÝÞš½ˇÐ=³½−=³¼Þ−ýÐÝž½¸K

?„þğ½K=Ùğ½K=Íž₣K?W Â=šÐðşÞˇ=ˇ×ş=½ž=¾ğ½−ł¹ˇ¾Ðð¸=
ýž₣ˇÞ¸=šý¾ˇÞ˝Žš½ˇÐ=ðˇÐ=³½˚ÝÞš½ˇÐ=
³½−=³¼Þ−ýÐÝž½¸K

?„ÞˇÝÝˇð½Ðð¸=„ÐðşÞˇ?W Â=¾ğ½−ł¹ˇ¾Ðð¸=ýž₣ˇÞ¸=
ˇ×šÞš¹ł−×−Ðš˝½ˇÐ=ðˇÐ=
₣¹ž³Ðý−×−Ðš˝½ˇÐ=ž=šÐðşÞˇ=×−¼=
š×ÐÝ˚þˇ½š=ýš=½žÞ=š×ÐÝ−ł¸=
?„ÞˇÝÝˇð½Ðð¸=„ÐðşÞˇ?=¸=?Ô¼¦ýK=
ËÝ¸³ž²=sáÇÉç?K

Ò¼ýŁ−¼Ý¸
≥ Í×−¹š˝½š=š×˝³ž²=Þˇ=šÞˇÝÝ˙³³š½š=½žÞ=šÐðşÞˇ=×−¼=

šý¾ˇÞ˝Žš½ˇÐ=³½−Þ=³¼Þ−ýÐÝž½¸=×Ð˚Ž−Þ½ˇ²=c=¸=d=ðˇ½˙=½ž=
ŠÐ˙¹ðšÐˇ=ýÐˇ²=ðÝ¸³ž²=îáÇÉçK



ÈšÐ½−¼¹ł˝š²=ÙğÞž½Ðð¸²=ËÝ¸³ž²LËÝ¸³ž²=sáÇÉç OT

ı¹¸³ž=½ž²=ÝšÐ½−¼¹ł˝ˇ²=−×½Ðð−Ć=òççã
Ú−=−×½Ððş=òççã=³˙²=š×Ð½¹˚×šÐ=Þˇ=ýšłš¦ĆÞš½š=½ž=¾ğ½−ł¹ˇ¾˝ˇ=
ýš=ýšłˇÝĆ½š¹ž=ðˇ¦ˇ¹ş½ž½ˇI=ý˚³ğ=½ž²=×¹ˇłýˇ½Ðð¸²=
ÝšÐ½−¼¹ł˝ˇ²=òççã=½ğÞ=−×½ÐðćÞ=¾ˇðćÞK=Ú−=−×½Ððş=òççã=
₣¹ž³Ðý−×−Ðš˝½ˇÐ=˚ğ²=½−=š×˝×šŠ−=òççã=x×OzK=flÞ=ž=ýšł˚¦¼Þ³ž=
¼×š¹Łˇ˝ÞšÐ=½−=x×OzI=₣¹ž³Ðý−×−Ðš˝½ˇÐ=ž=Ğž¾Ðˇð¸=ýšł˚¦¼Þ³ž=łÐˇ=
Þˇ=ýšłš¦ĆÞšÐ=×š¹Ð³³ş½š¹−K
NK Ëˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=ý˝ˇ²=ðÝ¸³ž²=îáÇÉç=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=

š×ÐÝ˚þ½š=?„Þš¹łK=Ì×½K=wççã?K
OK ÓÐ˚³½š=a=¸=bK

„Þš¹ł−×−˝ž³ž=ðˇÐ=ˇ×šÞš¹ł−×−˝ž³ž=½ğÞ=ž₣š˝ğÞ
Í×−¹š˝½š=Þˇ=ýÐÝ¸³š½š=ˇ×ş=½ˇ=ýšł˙¾ğÞˇ=×−¼=Ł¹˝³ð−Þ½ˇÐ=³½Ð²=
×Ýš¼¹˚²=½−¼=½žÝš¾ćÞ−¼=ş½ˇÞ=ˇ¼½ş=š˝ÞˇÐ=ˇÞ−Ðð½şK

NK Ëˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=ý˝ˇ²=ðÝ¸³ž²=îáÇÉç=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=
š×ÐÝ˚þ½š=?Íšł˙¾ğÞ−=„Þš¹łş?K

Òžýš˝ğ³ž
≥ Òš=˚Þˇ=¦−¹¼ŁćŠš²=×š¹ÐŁ˙ÝÝ−ÞI=˝³ğ²=Þˇ=ýžÞ=ý×−¹˚³š½š=Þˇ=

³¼Þš₣˝³š½š=ýÐˇ=ðÝ¸³ž=¸=Þˇ=×¹ˇłýˇ½−×−Ð¸³š½š=ýÐˇ=ðÝ¸³ž=ýš=
ðˇÝ¸=ˇð¹şˇ³žK=Òˇ²=³¼ÞÐ³½˙ýš=Þˇ=₣¹ž³Ðý−×−Ð¸³š½š=½ˇ=
Ò½š¹š−¾ğÞÐð˙=Ù−¹ž½˙=flð−¼³½Ðð˙K

≥ Íš=ˇ¼½¸=½žÞ=š×ÐÝ−ł¸=ý×−¹š˝=Þˇ=¼×˙¹þ−¼Þ=ŠÐˇð−×˚²=š˙Þ=
ˇ¼þ¸³š½š=½žÞ=˚Þ½ˇ³ž=½−¼=ˇð−¼³½Ðð−ĆK=Ò¼ÞÐ³½˙½ˇÐ=Þˇ=
ýšÐć³š½š=½žÞ=̊ Þ½ˇ³ž=³½−=̌ ð−¼³½Ððş=̧ =Þˇ=₣¹ž³Ðý−×−Ð¸³š½š=½ˇ=
Ò½š¹š−¾ğÞÐð˙=Ù−¹ž½˙=flð−¼³½Ðð˙K

Ô¼¦ý˝³šÐ²=ËÝ¸³šğÞ=sáÇÉç

ÔĆ¦ýÐ³ž=½ž²=Ó−Ðş½ž½ˇ²=½ž²=„Ð³š¹₣şýšÞž²=¸=½ž²=„þš¹₣şýšÞž²=
„ÐðşÞˇ²
Í×−¹š˝½š=Þˇ=¹¼¦ý˝³š½š=½žÞ=×−Ðş½ž½ˇ=½ž²=šÐðşÞˇ²=½−¼=
³¼Þ−ýÐÝž½¸=×−¼=ðˇÝ˚³ˇ½š=¸=³ˇ²=ð˙Ýš³šK

NK Ëˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=ý˝ˇ²=ðÝ¸³ž²=îáÇÉç=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=
š×ÐÝ˚þ½š=?Ô¼¦ýK=ËÝ¸³ž²=sáÇÉç?K

OK „×ÐÝ˚þ½š=?Ó−Ðş½ž½ˇ=šÐ³š¹₣K=¾ğ½−ł¹K?=¸=?Ó−Ðş½ž½ˇ=šþš¹₣K=
¾ğ½−ł¹K?K

PK „×ÐÝ˚þ½š=?ËˇÞ−ÞÐð¸?I=?Ó−Ðş½ž½ˇ=„ÐðşÞK?=◊=?·¹¸ł−¹ˇ=Ëˇ¹˚?K
?ËˇÞ−ÞÐð¸?W= ı¹ž³Ðý−×−Ðš˝½ˇÐ=ž=ðˇÞ−ÞÐð¸=

×−Ðş½ž½ˇK
?Ó−Ðş½ž½ˇ=„ÐðşÞK?W Â=×−Ðş½ž½ˇ=½−¼=¾ˇð−Ć=˚₣šÐ=

×¹−½š¹ˇÐş½ž½ˇ=˚ÞˇÞ½Ð=½−¼=¹¼¦ý−Ć=
ˇÞˇÞ˚ğ³ž²=½ğÞ=ðˇ¹˚K

?·¹¸ł−¹ˇ=Ëˇ¹˚?W Ì=¹¼¦ýş²=ˇÞˇÞ˚ğ³ž²=½ğÞ=ðˇ¹˚=
˚₣šÐ=×¹−½š¹ˇÐş½ž½ˇ=˚ÞˇÞ½Ð=½ž²=
×−Ðş½ž½ˇ²K



OU ÈšÐ½−¼¹ł˝š²=ÙğÞž½Ðð¸²=ËÝ¸³ž²LËÝ¸³ž²=sáÇÉç

„Þš¹ł−×−˝ž³ž=¸=fl×šÞš¹ł−×−˝ž³ž=Ùğ½Ð³ý−Ć
Í×−¹š˝½š=Þˇ=šÞš¹ł−×−Ð¸³š½š=¸=Þˇ=ˇ×šÞš¹ł−×−Ð¸³š½š=½−=
¾ğ½Ð³ýş=½ž²=−¦şÞž²=³ˇ²K
NK Ëˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=ý˝ˇ²=ðÝ¸³ž²=îáÇÉç=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=

š×ÐÝ˚þ½š=?Ô¼¦ýK=ËÝ¸³ž²=sáÇÉç?K

OK „×ÐÝ˚þ½š=?Ùğ½Ð³ýş²?K

PK „×ÐÝ˚þ½š=ˇ×ş=?Ó˙Þ½ˇ=ˇÞ−Ðð½ş²?I=?Ó˙Þ½ˇ=ðÝšÐ³½ş²?=¸=?˜²=
ËˇÞ−ÞK=ÔĆ¦ýK?K
„˙Þ=š×ÐÝ˚þš½š=?Ó˙Þ½ˇ=ˇÞ−Ðð½ş²?I=−=¾ğ½Ð³ýş²=½ž²=−¦şÞž²=
¦ˇ=š˝ÞˇÐ=×˙Þ½ˇ=šÞš¹łş²=ðˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=ýÐˇ²=ðÝ¸³ž²=îáÇÉçK
„˙Þ=š×ÐÝ˚þš½š=?˜²=ËˇÞ−ÞK=ÔĆ¦ýK?I=½ş½š=−=¾ğ½Ð³ýş²=¦ˇ=
³Ł¸³šÐ=ˇÞ˙Ý−łˇ=ýš=½Ð²=¹¼¦ý˝³šÐ²=×−¼=˚₣−¼Þ=ł˝ÞšÐ=łÐˇ=½−=
Ùğ½Ð³ýş=E³šÝK VVFK

ÔĆ¦ýÐ³ž=½ž²=÷ð¦š³ž²=sáÇÉç
NK Ëˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=ý˝ˇ²=ðÝ¸³ž²=îáÇÉç=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=

š×ÐÝ˚þ½š=?Ô¼¦ýK=ËÝ¸³ž²=sáÇÉç?K

OK „×ÐÝ˚þ½š=?÷ð¦š³ž?K

PK ÓÐ˚³½š=a=¸=bK

Ëˇ½−×½¹Ðð¸=„ÐðşÞˇ
Ëˇ½˙=½žÞ=ŠÐ˙¹ðšÐˇ=ýÐˇ=ðÝ¸³ž²=îáÇÉçI=ý×−¹š˝½š=Þˇ=̌ Þ½Ð³½¹˚Ğš½š=
½žÞ=šÐðşÞˇ=³ˇ²=³½ž=Ł−ž¦ž½Ðð¸=−¦şÞžK
NK Ëˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=ý˝ˇ²=ðÝ¸³ž²=îáÇÉç=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=

š×ÐÝ˚þ½š=?Ô¼¦ýK=ËÝ¸³ž²=sáÇÉç?K

OK „×ÐÝ˚þ½š=?Ëˇ½−×½¹Ðð¸=šÐðşÞˇ?K

PK „×ÐÝ˚þ½š=?„Þš¹łş?=¸=?Íž=šÞš¹łş?K

flÝÝˇł¸=½ž²=„ÐðşÞˇ²=½ž²=‡−ž¦ž½Ðð¸²=Ùğ½−ł¹ˇ¾Ðð¸²=Íž₣ˇÞ¸²=
³š=ýÐˇ=„ÞˇÝÝˇð½Ðð¸=„ÐðşÞˇ
Ëˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=ýÐˇ=ðÝ¸³ž²=îáÇÉçI=ý×−¹š˝½š=Þˇ=ˇÝÝ˙þš½š=½žÞ=
šÐðşÞˇ=×−¼=šý¾ˇÞ˝Žš½ˇÐ=³½−Þ=ðˇÝ−ĆÞ½ˇ=ˇÞ˙ýš³ˇ=³½žÞ=šÐðşÞˇ=
½ž²=Ł−ž¦ž½Ðð¸²=¾ğ½−ł¹ˇ¾Ðð¸²=ýž₣ˇÞ¸²=ðˇÐ=ýÐˇ²=šÞˇÝÝˇð½Ðð¸²=
šÐðşÞˇ²=¸=Þˇ=šý¾ˇÞ˝³š½š=ýÐˇ=šÐðşÞˇ=ˇ×ş=½ˇ=ˇ×−¦žðš¼ý˚Þˇ=
ˇ¹₣š˝ˇ=¾ğ½−ł¹ˇ¾ÐćÞ=ðˇ¦ć²=Ł˙Žš½š=ýÐˇ=ðÝ¸³ž=³š=ˇÞˇý−Þ¸K
NK Ëˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=ý˝ˇ²=ðÝ¸³ž²=îáÇÉç=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=

š×ÐÝ˚þ½š=?Ô¼¦ýK=ËÝ¸³ž²=sáÇÉç?K

OK „×ÐÝ˚þ½š=?„ÞˇÝÝˇð½Ðð¸=„ÐðşÞˇ?=¸=?Ùğ½−ł¹K=flÞˇý−Þ¸²?K

PK „×ÐÝ˚þš½š=?Ó¹−¹¼¦K=Ùğ½−ł¹K?=¸=?ÌÐ=Ùğ½−ł¹K=Í−¼?K



„Ð³ˇłğł¸=ıˇ¹ˇð½¸¹ğÞ OV

„Ð³ˇłğł¸=ıˇ¹ˇð½¸¹ğÞ
·Ðˇ=Þˇ=šÐ³˙łš½š=₣ˇ¹ˇð½¸¹š²=ş½ˇÞ=ŠžýÐ−¼¹łš˝½š=ðˇ½ˇ₣ğ¹¸³šÐ²=
È˝³½ˇ²=„×ˇ¾ćÞI=ł¹ˇ×½˙=ýžÞĆýˇ½ˇ=¸=ýžÞĆýˇ½ˇ=×−Ý¼ý˚³ğÞ=
ðÝ×KI=×Ð˚³½š=½ˇ=ˇÞ½˝³½−Ð₣ˇ=×Ý¸ð½¹ˇK

Ò½ž=ý˚¦−Š−=šÐ³ˇłğł¸²=ýš=×−ÝÝˇ×Ý¸=×˝š³ž=×Ý¸ð½¹ğÞI=×Ð˚³½š=
š×ˇÞšÐÝžýý˚Þˇ=ð˙¦š=×Ý¸ð½¹−=ý˚₣¹Ð=Þˇ=šý¾ˇÞÐ³½š˝=−=
₣ˇ¹ˇð½¸¹ˇ²=×−¼=¦˚Ýš½šK=·Ðˇ=×ˇ¹˙ŠšÐłýˇI=×Ð˚³½š=½−=H=ý˝ˇ=
¾−¹˙=łÐˇ=Þˇ=šý¾ˇÞÐ³½š˝=½−=ł¹˙ýýˇ=^=¸=ŠĆ−=¾−¹˚²=łÐˇ=Þˇ=
šý¾ˇÞÐ³½š˝=½−=ł¹˙ýýˇ=_K

Ó˝Þˇðˇ²=ıˇ¹ˇð½¸¹ğÞ
ÓÐ˚Ž−Þ½ˇ²=ð˙¦š=×Ý¸ð½¹−I=−Ð=₣ˇ¹ˇð½¸¹š²=ˇÝÝ˙Ž−¼Þ=ýš=½žÞ=
×ˇ¹ˇð˙½ğ=³šÐ¹˙K=Â=³šÐ¹˙=ŠÐˇ¾˚¹šÐ=ˇÞ˙Ý−łˇ=ýš=½žÞ=š×ÐÝšłý˚Þž=
łÝć³³ˇK

„ÝÝžÞÐð˙

ÓÝ¸ð½¹− Ëš¾ˇÝˇ˝−Ð=
ıˇ¹ˇð½¸¹š²

=ÓšŽ−˝=
ıˇ¹ˇð½¸¹š² fl¹Ð¦ý−˝

G .=E½šÝš˝ˇJF=,=EðşýýˇF=-=E×ˇĆÝˇF=; !
’=Eˇ×ş³½¹−¾−²F=@ :1 N

H fl‡·¿^_`O ˇŁł˙~ÄÅO O

I ‚„‰÷abcP ŠšŽ˚ÇÉÑP P

J ÂÊÁ◊ÿ¯defQ ž¦Ð¸˝İfiÖÜáQ Q

K ËÈÍghiR ðÝýàâäR R

L ÎÏÌ⁄jklS Þþ−şãåçS S

M ÓÔÒmnopT ×¹³²éèêëT T

N ÚÛÙ‹˘qrsU ½¼¾ĆŞ˛íìîU U

O ıˆ˜›tuvwV ₣ĞğćïñóòV V

Q EðšÞşF=+ = < > € £ $ ¥ % & 0 M

P „ÞˇÝÝ˙³³šÐ=½−Þ=½Ć×−=½ğÞ=₣ˇ¹ˇð½¸¹ğÞ=ýš½ˇþĆ=½š³³˙¹ğÞ=
š×ÐÝ−łćÞW=^ÄÅI=^_`I=NOP=ðˇÐ=~ÄÅK

R

. , ? ! : ; - + # ∗
@ ' " ( ) _ & € £ $
% / ˜ < > § = \ | ¥
¿ ¡ ^ [  ] {  } ¤ Å Ä
Æ å ä æ à Ç É è é ì
Ñ ñ Ö Ø ö ø ò ß Ü ü
ù ∆ Φ Γ Λ Ω Π Ψ Σ Θ
Ξ           =EðšÞşF ↵

G-O:

Q
ÓÐ˚³½š=ðˇÐ=ð¹ˇ½¸³½š=łÐˇ=Þˇ=šÐ³˙łš½š=½−¼²=
ˇ¹Ð¦ý−Ć²=NJV=ðˇÐ=MK

P: ÓÐ˚³½š=ðˇÐ=ð¹ˇ½¸³½š=×Ðš³ý˚Þ−=½−=×Ý¸ð½¹−=
łÐˇ=šÞˇÝÝˇł¸=ýš½ˇþĆ=½ž²=ýš¦şŠ−¼=
šÐ³ˇłğł¸²=ðšÐý˚Þ−¼=ýš=×−ÝÝˇ×Ý¸=×˝š³ž=
×Ý¸ð½¹ğÞ=ðˇÐ=½ž²=ýš¦şŠ−¼=šÐ³ˇłğł¸²=ÚVK

R: ÓÐ˚³½š=ðˇÐ=ð¹ˇ½¸³½š=×Ðš³ý˚Þ−=łÐˇ=Þˇ=
šý¾ˇÞÐ³½š˝=ž=−¦şÞž=·Ýć³³ˇ²=„Ð³ˇłğł¸²K

ÓÝ¸ð½¹− Ëš¾ˇÝˇ˝−Ð=
ıˇ¹ˇð½¸¹š²

=ÓšŽ−˝=
ıˇ¹ˇð½¸¹š² fl¹Ð¦ý−˝



PM „Ð³ˇłğł¸=ıˇ¹ˇð½¸¹ğÞ

flÝÝˇł¸=½ž²=·Ýć³³ˇ²=„Ð³ˇłğł¸²
NK Ò½žÞ=−¦şÞž=šÐ³ˇłğł¸²=ðšÐý˚Þ−¼=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=

?·Ýć³³ˇ=„Ð³ˇłğłK?K

OK „×ÐÝ˚þ½š=½ž=łÝć³³ˇ=×−¼=š×Ð¦¼ýš˝½šK

flÝÝˇł¸=½ž²=Íš¦şŠ−¼=„Ð³ˇłğł¸²
Í˚¦−Š−²=„Ð³ˇłğł¸²=ËšÐý˚Þ−¼=qV
Â=ý˚¦−Š−²=šÐ³ˇłğł¸²=ðšÐý˚Þ−¼=qV=š×Ð½¹˚×šÐ=½ž=ł¹¸ł−¹ž=ðˇÐ=
šĆð−Ýž=šÐ³ˇłğł¸=ðšÐý˚Þ−¼K

NK Ò½žÞ=−¦şÞž=šÐ³ˇłğł¸²=ðšÐý˚Þ−¼=×Ð˚³½š=ðˇÐ=ð¹ˇ½¸³½š=
×Ðš³ý˚Þ−=½−=P=łÐˇ=Þˇ=šÞš¹ł−×−Ð¸³š½š=½ž=ý˚¦−Š−=
šÐ³ˇłğł¸²=qVK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Í˚¦K=„Ð³ˇłğł¸²?K

PK „×ÐÝ˚þ½š=½ž=ý˚¦−Š−=šÐ³ˇłğł¸²=E^ÄÅI=^_`I=NOPI=~ÄÅFK

QK ÓÐ˚³½š=ð˙¦š=×Ý¸ð½¹−=ý˝ˇ=¾−¹˙=łÐˇ=½−=ł¹˙ýýˇ=×−¼=¦˚Ýš½š=Þˇ=
šÐ³˙łš½š=ðˇÐ=½−=−×−˝−=ˇÞ½Ð³½−Ð₣š˝=³½−=³¼łðšð¹Ðý˚Þ−=
×Ý¸ð½¹−K
·Ðˇ=Þˇ=šÐ³˙łš½š=½ž=Ý˚þž=?Óć²?I=×Ð˚³½š=M=O=MK

RK „˙Þ=ž=Ý˚þž=×−¼=šý¾ˇÞ˝Žš½ˇÐ=ŠšÞ=š˝ÞˇÐ=ˇ¼½¸=×−¼=¦˚Ýš½šI=
×Ð˚³½š=a=¸=b=ý˚₣¹Ð=Þˇ=ýˇ¹ð˙¹š½š=½ž=³ğ³½¸=Ý˚þžK

SK ÓÐ˚³½š= =łÐˇ=Þˇ=š×ÐÝ˚þš½š=½ž=Ý˚þžK

Òžýš˝ğ³ž
≥ „˙Þ=ž=³ğ³½¸=Ý˚þž=ŠšÞ=šý¾ˇÞ˝Žš½ˇÐ=³½−=Ł¸ýˇ=RI=šÐ³˙łš½š=½ž=

³ğ³½¸=Ý˚þž=þˇÞ˙=ˇ¾−Ć=×¹−žł−¼ý˚Þğ²=š×Ð³½¹˚Ğš½š=³½ž=
ý˚¦−Š−=šÐ³ˇłğł¸²=ðšÐý˚Þ−¼=ýš=×−ÝÝˇ×Ý¸=×˝š³ž=×Ý¸ð½¹ğÞK

Ò¼ýŁ−¼Ý¸
≥ „˙Þ=×Ð˚³š½š=Q=ˇÞ½˝=½−¼=Ł¸ýˇ½−²=SI=šÐ³˙łš½ˇÐ=ðšÞş=

ŠÐ˙³½žýˇ=ýš½˙=½žÞ=š×ÐÝšłý˚Þž=Ý˚þžK

ÒĆýŁ−Ýˇ=ðˇÐ=Òžýš˝ˇ=Ò½˝þž²
NK Ò½žÞ=−¦şÞž=šÐ³ˇłğł¸²=ðšÐý˚Þ−¼=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=

?Ó¹−³¦K=Ò¼ýŁşÝ−¼?K

OK „×ÐÝ˚þ½š=½−=³ĆýŁ−Ý−=×−¼=š×Ð¦¼ýš˝½šK

Ú−=ÈšþÐðş=ý−¼
Í×−¹š˝½š=Þˇ=ŠžýÐ−¼¹ł¸³š½š=½ž=ŠÐð¸=³ˇ²=Ý˝³½ˇ=Ý˚þšğÞ=łÐˇ=½ž=
ý˚¦−Š−=šÐ³ˇłğł¸²=ðšÐý˚Þ−¼=ÚVK
NK Ò½žÞ=−¦şÞž=šÐ³ˇłğł¸²=ðšÐý˚Þ−¼I=³½ž=ý˚¦−Š−=šÐ³ˇłğł¸²=

ðšÐý˚Þ−¼=ÚVI=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ú−=ÈšþÐðş=ý−¼?K

OK „×ÐÝ˚þ½š=?Ó¹−³¦¸ðž=Þ˚ˇ²=Ý˚þž²?=ðˇÐ=šÐ³˙łš½š=ý˝ˇ=Þ˚ˇ=Ý˚þžK

„×šþš¹łˇ³˝ˇ=ý˝ˇ²=Ý˚þž²=³½ž=Ý˝³½ˇ
NK Ò½žÞ=−¦şÞž=šÐ³ˇłğł¸²=ðšÐý˚Þ−¼I=³½ž=ý˚¦−Š−=šÐ³ˇłğł¸²=

ðšÐý˚Þ−¼=ÚVI=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ú−=ÈšþÐðş=ý−¼?K

OK Íˇ¹ð˙¹š½š=½ž=Ý˚þž=×−¼=š×Ð¦¼ýš˝½šK

PK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?„×šþš¹łˇ³˝ˇ?K

QK „×šþš¹łˇ³½š˝½š=½ž=Ý˚þžK



„Ð³ˇłğł¸=ıˇ¹ˇð½¸¹ğÞ PN

ı¹¸³ž=Ó¹−½Ć×ğÞ
⁄½ˇÞ=šÐ³˙łš½š=₣ˇ¹ˇð½¸¹š²I=ý×−¹š˝½š=Þˇ=₣¹ž³Ðý−×−Ð¸³š½š=½Ð²=
¾¹˙³šÐ²=×−¼=˚₣−¼Þ=ðˇ½ˇ₣ğ¹ž¦š˝=³½ˇ=Ó¹ş½¼×ˇ=Ëš˝ýšÞˇK

·Ðˇ=×š¹Ð³³ş½š¹š²=Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½ž=ŠžýÐ−¼¹ł˝ˇ=
×¹ş½¼×ğÞ=ðšÐý˚ÞğÞI=Šš˝½š=?Ó¹−³¦¸ðž=Ù¹˙³šğÞ=³š=Ó¹ş½¼×ˇ=
Ëš˝ýšÞˇ?=³½ž=³šÝ˝Šˇ TNK

NK Ò½žÞ=−¦şÞž=šÐ³ˇłğł¸²=ðšÐý˚Þ−¼=ýš½ˇðÐÞ¸³½š=½−=Š¹−ý˚ˇ=
³½ž=¦˚³ž=×−¼=¦˚Ýš½š=Þˇ=šÐ³˙łš½š=½−=×¹ş½¼×−K

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?„ÐŠÐð˚²=Ô¼¦ýK?K

PK „×ÐÝ˚þ½š=?„Ð³ˇłK=Ó¹−½Ć×−¼?K

QK „×ÐÝ˚þ½š=½−=×¹ş½¼×−=ðš˝ýšÞ−=×−¼=š×Ð¦¼ýš˝½šK

flÞ½Ðł¹ˇ¾¸I=fl×−ð−×¸=ðˇÐ=„×ÐðşÝÝž³ž=ËšÐý˚Þ−¼
NK Ò½žÞ=−¦şÞž=šÐ³ˇłğł¸²=ðšÐý˚Þ−¼I=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=

?„ÐŠÐð˚²=Ô¼¦ýK?K

OK „×ÐÝ˚þ½š=?flÞ½Ðł¹ˇ¾¸?=¸=?fl×−ð−×¸?K

PK Íš½ˇðÐÞ¸³½š=½−=Š¹−ý˚ˇ=³½−=×¹ć½−=ł¹˙ýýˇ=×−¼=¦ˇ=
ˇÞ½Ðł¹ˇ¾š˝=¸=¦ˇ=ˇ×−ð−×š˝=ðˇÐI=ðˇ½ş×ÐÞI=×Ð˚³½š= K

QK Íš½ˇðÐÞ¸³½š=½−=Š¹−ý˚ˇ=³½−=½šÝš¼½ˇ˝−=ł¹˙ýýˇ=łÐˇ=Þˇ=
ýˇ¹ð˙¹š½š=½žÞ=×š¹Ð−₣¸=ðˇÐI=ðˇ½ş×ÐÞI=×Ð˚³½š= K

RK Íš½ˇðÐÞ¸³½š=½−=Š¹−ý˚ˇ=³½−=³žýš˝−=×−¼=¦˚Ýš½š=Þˇ=
š×Ðð−ÝÝ¸³š½š=½ˇ=ł¹˙ýýˇ½ˇK

SK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?„ÐŠÐð˚²=Ô¼¦ýK?K

TK „×ÐÝ˚þ½š=?„×ÐðşÝÝž³ž?K



PO ı¹¸³ž=½−¼=ÍšÞ−Ć

ı¹¸³ž=½−¼=ÍšÞ−Ć

ËĆ¹Ð−=ýšÞ−Ć

NK ÓÐ˚³½š= =³½žÞ=ðˇ½˙³½ˇ³ž=ˇÞˇý−Þ¸²K
„ý¾ˇÞ˝Žš½ˇÐ=½−=ËĆ¹Ð−=ýšÞ−ĆK

OK ÓÐ˚³½š=aI=bI=c=¸=d=łÐˇ=Þˇ=ýˇ¹ð˙¹š½š=½−=ýšÞ−Ć=×−¼=
š×Ð¦¼ýš˝½š=ðˇÐI=³½ž=³¼Þ˚₣šÐˇI=×Ð˚³½š= =łÐˇ=×¹ş³Łˇ³ž=³½ž=
ÝšÐ½−¼¹ł˝ˇ=×−¼=³ˇ²=šÞŠÐˇ¾˚¹šÐK
·Ðˇ=Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½Ð²=š×ÐÝ−ł˚²=½−¼=ýšÞ−ĆI=Šš˝½š=
?È˝³½ˇ=½ğÞ=ÈšÐ½−¼¹łÐćÞ=ÍšÞ−Ć?=³½ž=³šÝ˝Šˇ NPOK

ı¹¸³ž=½−¼=ýšÞ−Ć=ýš=½žÞ=−¦şÞž=³½ž=¦˚³ž=×¹−Ł−Ý¸²
NK Ô¼¦ý˝³½š=½−=½žÝ˚¾ğÞ−=³½ž=¦˚³ž=×¹−Ł−Ý¸²=½ž²=−¦şÞž²K

OK ÓÐ˚³½š=Y=łÐˇ=Þˇ=šý¾ˇÞÐ³½š˝=½−=ËĆ¹Ð−=ýšÞ−ĆK

PK ÓÐ˚³½š=V=̧ =W=łÐˇ=Þˇ=ðÐÞ¸³š½š=½−=Š¹−ý˚ˇ=×˙Þğ=̧ =ð˙½ğI=ýš½˙=
×Ð˚³½š=X=¸=YK
ÓÐ˚³½š=Z=łÐˇ=š×Ð³½¹−¾¸=³½−=ËĆ¹Ð−=ýšÞ−ĆK
Ì=Š¹−ý˚ˇ²=ýš½ˇðÐÞš˝½ˇÐ=ýš=½−Þ=˝ŠÐ−=½¹ş×−=ş×ğ²=ðˇÐ=³½žÞ=
ðˇÞ−ÞÐð¸=¦˚³ž=½ž²=−¦şÞž²=₣¹ž³Ðý−×−ÐćÞ½ˇ²=½−=V=ðˇÐ=WK
·Ðˇ=×š¹Ð³³ş½š¹š²=Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½ž=ÝšÐ½−¼¹ł˝ˇ=
ˇ¼½ćÞ=½ğÞ=×Ý¸ð½¹ğÞI=Šš˝½š=½ž=³šÝ˝Šˇ NMK



ı¹¸³ž=½−¼=ÍšÞ−Ć PP

ÓÝ¸ð½¹ˇ=Ò¼Þ½şýš¼³ž²
Í×−¹š˝½š=Þˇ=ýš½ˇŁš˝½š=³½ˇ=ýšÞ−Ć=×Ð˚Ž−Þ½ˇ²= =ðˇÐ=½ˇ=
ˇ¹Ð¦ýž½Ðð˙=×Ý¸ð½¹ˇ=łÐˇ=½−Þ=ˇÞ½˝³½−Ð₣−=ˇ¹Ð¦ýş=³½−=ËĆ¹Ð−=
ýšÞ−ĆK=·Ðˇ=ˇ¹Ð¦ý−Ć²=ˇ×ş=½−=NM=ğ²=½−=NOI=×Ð˚³½š= =ðˇÐ=P=
ENMFI=Q=ENNF=¸=R=ENOFK=‚š˝½š=?È˝³½ˇ=½ğÞ=ÈšÐ½−¼¹łÐćÞ=
ÍšÞ−Ć?=³½ž=³šÝ˝Šˇ NPOK

ÌÐ=³¼Þ½−ýšĆ³šÐ²=×ˇ¹−¼³Ð˙Ž−Þ½ˇÐ=³½Ð²=ðš¾ˇÝ˝Šš²=ˇ¼½−Ć=½−¼=
−Šžł−Ć=₣¹¸³ž²K

Óˇ¹ˇŠš˝łýˇ½ˇW Íš½˙Łˇ³ž=³½−=‡−ž¦ž½Ððş=ÍšÞ−Ć=?sáÇÉçë?=
Ej=SJQF=ı¹ž³Ðý−×−ÐćÞ½ˇ²=ÓÝ¸ð½¹ˇ=
Ò¼Þ½şýš¼³ž²
ÓÐ˚³½š= =L=JK

Íš½˙Łˇ³ž=³½−=‡−ž¦ž½Ððş=ÍšÞ−Ć=?ÌÝÐðş?=
Ej=TJNNJOF=ı¹ž³Ðý−×−ÐćÞ½ˇ²=ÓÝ¸ð½¹ˇ=
Ò¼Þ½şýš¼³ž²
ÓÐ˚³½š= =M=Q=HK

Íš½˙Łˇ³ž=³½−=‡−ž¦ž½Ððş=ÍšÞ−Ć=?‚şÞž³ž?=
Ej=NOJPJQF=ı¹ž³Ðý−×−ÐćÞ½ˇ²=ÓÝ¸ð½¹ˇ=
Ò¼Þ½şýš¼³ž²
ÓÐ˚³½š= =R=I=JK

Òžýš˝ğ³ž
≥ Úˇ=×Ý¸ð½¹ˇ=³¼Þ½şýš¼³ž²=ÝšÐ½−¼¹ł−ĆÞ=ýşÞ−Þ=łÐˇ=½ˇ=½¹˝ˇ=

×¹ć½ˇ=š×˝×šŠˇ=½−¼=ýšÞ−ĆK



PQ È˝³½ˇ=„×ˇ¾ćÞ

È˝³½ˇ=„×ˇ¾ćÞ
Ò½ž=È˝³½ˇ=„×ˇ¾ćÞ=ý×−¹š˝½š=Þˇ=ˇ×−¦žðšĆ³š½š=½−¼²=ˇ¹Ð¦ý−Ć²=
½žÝš¾ćÞ−¼=ðˇÐ=½Ð²=ŠÐš¼¦ĆÞ³šÐ²=Éã~áä=½ğÞ=¾˝ÝğÞ=³ˇ²I=½ğÞ=ýšÝćÞ=
½ž²=−Ðð−ł˚ÞšÐˇ²=ðˇÐ=½ğÞ=³¼Þš¹łˇ½ćÞ=³ˇ²K

Ò½−=½žÝ˚¾ğÞş=³ˇ²=ý×−¹−ĆÞ=Þˇ=ˇ×−¦žðš¼½−ĆÞ=˚ğ²=ðˇÐ=RMM=
ðˇ½ˇ₣ğ¹¸³šÐ²K=Òš=ý˝ˇ=È˝³½ˇ=„×ˇ¾ćÞI=ý×−¹š˝½š=Þˇ=
ˇ×−¦žðšĆ³š½š=½ˇ=×ˇ¹ˇð˙½ğ=³½−Ð₣š˝ˇW

Ò½−Ð₣š˝ˇ=×−¼=fl×−¦žðšĆ−Þ½ˇÐ=³½ž=ÍÞ¸ýž=½−¼=ÚžÝš¾ćÞ−¼

Ò½−Ð₣š˝ˇ=×−¼=fl×−¦žðšĆ−Þ½ˇÐ=³½ž=ÍÞ¸ýž=pfj=Ešþˇ¹½˙½ˇÐ=ˇ×ş=
½žÞ=ð˙¹½ˇ=pfjF

flÝÝˇł¸=³šÐ¹˙²=−Þ−ý˙½ğÞ
?„×ˇ¾˚²?=→=?Ô¼¦ý˝³šÐ²?=→=?Í−¹¾¸=−Þşýˇ½−²?
NK „×ÐÝ˚þ½š=?⁄Þ−ýˇ=„×ćÞ¼ý−?=¸=?„×ćÞ¼ý−=⁄Þ−ýˇ?K

flÝÝˇł¸=½ž²=È˝³½ˇ²=×−¼=„ý¾ˇÞ˝Žš½ˇÐ
?„×ˇ¾˚²?=→=?Ô¼¦ý˝³šÐ²?=→=?Ê˚³ž=„×ˇ¾ćÞ?
NK „×ÐÝ˚þ½š=?Ò¼³ðš¼¸?=¸=?pfj?K

„×ÐÝ−ł¸=½ž²=ÍÞ¸ýž²=fl×−¦¸ðš¼³ž²
?„×ˇ¾˚²?=→=?Ô¼¦ý˝³šÐ²?=→=?fl×K=Î˚ğÞ=„×ˇ¾K=³š?
NK „×ÐÝ˚þ½š=ˇ×ş=?Ò¼³ðš¼¸?I=?pfj?=¸=?„×ÐÝK=×¹ÐÞ=½žÞ=ˇ×−¦¸ðK?K

Ò¼ýŁ−¼Ý¸
≥ ?„×ÐÝK=×¹ÐÞ=½žÞ=ˇ×−¦¸ðK?=³ˇ²=×¹−½¹˚×šÐ=Þˇ=š×ÐÝ˚łš½š=½ž=

ýÞ¸ýž=ð˙¦š=¾−¹˙=×−¼=ˇ×−¦žðšĆš½š=ý˝ˇ=Þ˚ˇ=ðˇ½ˇ₣ć¹ž³žK

⁄Þ−ýˇ ˚ğ²=ðˇÐ=NS=₣ˇ¹ˇð½¸¹š²

„×ćÞ¼ý− ˚ğ²=ðˇÐ=NS=₣ˇ¹ˇð½¸¹š²

ÚžÝ˚¾ğÞ− ˚ğ²=ðˇÐ=P=ˇ¹Ð¦ý−˝=½žÝš¾ćÞ−¼=E˚ğ²=ðˇÐ=
PO=Ğž¾˝ˇ=−=ðˇ¦˚Þˇ²F

‚ÐšĆ¦K=bã~áä ˚ğ²=ðˇÐ=P=ŠÐš¼¦ĆÞ³šÐ²=bã~áä=E˚ğ²=ðˇÐ=
NOU=₣ˇ¹ˇð½¸¹š²=−=ðˇ¦˚Þˇ²F

Ëˇ½žł−¹˝ˇ NS=ðˇ½žł−¹˝š²

ÌŠş²=C=fl¹Ð¦ýş² ˚ğ²=ðˇÐ=SQ=₣ˇ¹ˇð½¸¹š²

ÓşÝž ˚ğ²=ðˇÐ=SQ=₣ˇ¹ˇð½¸¹š²

Î−ýş²L‚¸ý−² ˚ğ²=ðˇÐ=SQ=₣ˇ¹ˇð½¸¹š²

Úˇ₣¼Š¹K=ËğŠÐðş² ˚ğ²=ðˇÐ=OM=₣ˇ¹ˇð½¸¹š²

ıć¹ˇ ˚ğ²=ðˇÐ=PO=₣ˇ¹ˇð½¸¹š²

Òžýš˝ğ³ž ˚ğ²=ðˇÐ=ORS=₣ˇ¹ˇð½¸¹š²

Âýš¹K=·˚ÞÞž³ž² Ežýš¹−ýžÞ˝ˇF

Ùğ½−ł¹ˇ¾˝ˇ EşÞ−ýˇ=ˇ¹₣š˝−¼F

=Ej=UJNF flÞ½Ð³½K=ÚşÞ−¼L
sáÇÉç

EşÞ−ýˇ=ˇ¹₣š˝−¼F

Í¼³½Ððş E„Þš¹łş=¸=Íž=šÞš¹łşF

⁄Þ−ýˇ ˚ğ²=ðˇÐ=NS=₣ˇ¹ˇð½¸¹š²

ÚžÝ˚¾ğÞ− ˚ğ²=ðˇÐ=O=ˇ¹Ð¦ý−˝=½žÝš¾ćÞ−¼=E˚ğ²=ðˇÐ=
PO=Ğž¾˝ˇ=−=ðˇ¦˚Þˇ²F

‚ÐšĆ¦K=bã~áä ˚ğ²=NOU=₣ˇ¹ˇð½¸¹š²=E¸=₣ğ¹˝²=
ŠÐšĆ¦¼Þ³ž=bã~áäF

Ëˇ½žł−¹˝ˇ ˚ğ²=ðˇÐ=NS=ðˇ½žł−¹˝š²

=Ej=UJUJNF

=Ej=UJUJOF

=Ej=UJUJPF



È˝³½ˇ=„×ˇ¾ćÞ PR

ÚˇþÐÞşýž³ž=½ğÞ=Ëˇ½ˇ₣ğ¹¸³šğÞ=È˝³½ˇ²=„×ˇ¾ćÞ=

Í×−¹š˝½š=Þˇ=ˇÝÝ˙þš½š=½žÞ=³šÐ¹˙=½ğÞ=ðˇ½ˇ₣ğ¹¸³šğÞ=½ž²=
È˝³½ˇ²=„×ˇ¾ćÞ=³š=ˇÝ¾ˇŁž½Ðð¸=³šÐ¹˙=¸=ˇÞ˙=ðˇ½žł−¹˝ˇK

?„×ˇ¾˚²?=→=?Ô¼¦ý˝³šÐ²?=→=?ÚˇþÐÞşýž³ž=š×ˇ¾ćÞ?
NK „×ÐÝ˚þ½š=?flÝ¾ˇŁž½Ðð˙?=¸=?Íš=Ëˇ½žł−¹˝ˇ?K

Ó¹−³¦¸ðž=Î˚ˇ²=„×ˇ¾¸²
Í×−¹š˝½š=Þˇ=š×ÐÝ˚þš½š=š˝½š=½ž=ýÞ¸ýž=½−¼=½žÝš¾ćÞ−¼=š˝½š=½ž=
ýÞ¸ýž=½ž²=ð˙¹½ˇ²=pfj=łÐˇ=Þˇ=ˇ×−¦žðšĆ³š½š=½ž=Þ˚ˇ=
ðˇ½ˇ₣ć¹ž³žK=·Ðˇ=Þˇ=ˇÝÝ˙þš½š=½Ð²=¦˚³šÐ²I=Šš˝½š=?„×ÐÝ−ł¸=½ž²=
ÍÞ¸ýž²=fl×−¦¸ðš¼³ž²?=³½ž=³šÝ˝Šˇ PQK

Ú−=×Ý¸¦−²=½ğÞ=ˇ¹Ð¦ýćÞ=½žÝš¾ćÞ−¼=×−¼=ý×−¹š˝½š=Þˇ=
ˇ×−¦žðšĆ³š½š=³½žÞ=ð˙¹½ˇ=pfj=šþˇ¹½˙½ˇÐ=̌ ×ş=½ž=₣ğ¹ž½Ððş½ž½˙=
½ž²K=„×Ðð−ÐÞğÞ¸³½š=ýš=½−Þ=×ˇ¹−₣˚ˇ=¼×ž¹š³ÐćÞ=³ˇ²=łÐˇ=
×Ýž¹−¾−¹˝š²K
?„×ˇ¾˚²?=→=?È˝³½ˇ=„×ˇ¾ćÞ?=→=?Ó¹−³¦K=k˚ˇ²=„×K?
„˙Þ=š×ÐÝ˚þš½š=?„×ÐÝK=×¹ÐÞ=½žÞ=ˇ×−¦¸ðK?=łÐˇ=½ž=ýÞ¸ýž=×−¼=¦ˇ=
₣¹ž³Ðý−×−Ðž¦š˝I=½ş½š=ý×−¹š˝½š=Þˇ=š×ÐÝ˚þš½š=ˇÞ˙ýš³ˇ=³½ž=?Ò½ž=
ýÞ¸ýž=Ò¼³ðK?=ðˇÐ=½ž=?Ò½ž=ýÞ¸ýž=pfj?K
NK „×ÐÝ˚þ½š=½−=×šŠ˝−=×−¼=¦˚Ýš½š=Þˇ=³¼ý×Ýž¹ć³š½š=ðˇÐ=

šÐ³˙łš½š=½ž=³₣š½Ðð¸=×Ýž¹−¾−¹˝ˇK

OK ÓÐ˚³½š=xfl×−¦¸ðKz=ş½ˇÞ=½šÝšÐć³š½šK

Ò¼ýŁ−¼Ý¸
≥ ·Ðˇ=Þˇ=ŠžýÐ−¼¹ł¸³š½š=ýÐˇ=ðˇ½ˇ₣ć¹ž³žI=¦ˇ=×¹˚×šÐ=Þˇ=

³¼ý×Ýž¹ć³š½š=½−¼Ý˙₣Ð³½−Þ=˚Þˇ=ˇ×ş=½ˇ=×šŠ˝ˇ=E?⁄Þ−ýˇ?I=
?„×ćÞ¼ý−?I=?ÚžÝ˚¾ğÞ−?=¸=?‚ÐšĆ¦K=bã~áä?=łÐˇ=½ž=ýÞ¸ýž=½ž²=
³¼³ðš¼¸²=ðˇÐ=?⁄Þ−ýˇ?I=?ÚžÝ˚¾ğÞ−?=¸=?‚ÐšĆ¦K=bã~áä?=łÐˇ=½ž=
ýÞ¸ýž=½ž²=ð˙¹½ˇ²=pfjFK

Ó¹−Ł−Ý¸=Èš×½−ýš¹šÐćÞ=³½Ð²=„×ˇ¾˚²=ý−¼
Í×−¹š˝½š=Þˇ=ðˇ½ˇ₣ğ¹¸³š½š=ðˇÐ=Þˇ=š×šþš¹łˇ³½š˝½š=½ž=ŠÐð¸=³ˇ²=
š×ˇ¾¸=ş×ğ²=ðˇÐ=½Ð²=˙ÝÝš²=ðˇ½ˇ₣ğ¹¸³šÐ²=½ž²=È˝³½ˇ²=„×ˇ¾ćÞK

?„×ˇ¾˚²?=→=?Ò½−Ð₣K=„×ˇ¾K=Í−¼?

flÞ½Ðł¹ˇ¾¸=Ëˇ½ˇ₣ğ¹¸³šğÞ=È˝³½ˇ²=„×ˇ¾ćÞ=ýš½ˇþĆ=
Ë˙¹½ˇ²=pfj= ðˇÐ=Ò¼³ðš¼¸²
?„×ˇ¾˚²?=→=?‚Ðˇ₣š˝¹Ð³ž=š×ˇ¾ćÞ?=→=?flÞ½Ðł¹ˇ¾¸=⁄ÝğÞ?
NK „×ÐÝ˚þ½š=ˇ×ş=?fl×ş=pfj=³š=Ò¼³ðš¼¸?=¸=?fl×ş=Ò¼³ðš¼¸=³š=

pfj?K

Òžýš˝ğ³ž
≥ ⁄½ˇÞ=½−×−¦š½¸³š½š=½žÞ=ð˙¹½ˇ=pfj=³½−=½žÝ˚¾ğÞş=³ˇ²=łÐˇ=

×¹ć½ž=¾−¹˙=ðˇÐ=þšðÐÞ¸³š½š=½žÞ=š¾ˇ¹ý−ł¸=½ž²=È˝³½ˇ²=
„×ˇ¾ćÞI=¦ˇ=šý¾ˇÞÐ³½š˝=̌ ¼½şýˇ½ˇ=ž=−¦şÞž=š×ÐŁšŁˇ˝ğ³ž²=ðˇÐ=
¦ˇ=š¹ğ½ž¦š˝½š=š˙Þ=¦˚Ýš½š=Þˇ=×¹−₣ğ¹¸³š½š=¸=ş₣Ð=³½žÞ=
ˇÞ½Ðł¹ˇ¾¸K=Ì=ˇ¹Ð¦ýş²=½ğÞ=ðˇ½ˇ₣ğ¹¸³šğÞ=È˝³½ˇ²=„×ˇ¾ćÞ=
×−¼=ý×−¹−ĆÞ=Þˇ=ˇÞ½Ðł¹ˇ¾−ĆÞ=šþˇ¹½˙½ˇÐ=ˇ×ş=½ž=
₣ğ¹ž½Ððş½ž½ˇ=½ž²=ð˙¹½ˇ²=pfjK

≥ „˙Þ=−=ŠÐˇ¦˚³Ðý−²=₣ć¹−²=ýÞ¸ýž²=ŠšÞ=š×ˇ¹ðš˝=łÐˇ=½žÞ=
ˇ×−¦¸ðš¼³ž=şÝğÞ=½ğÞ=ðˇ½ˇ₣ğ¹¸³šğÞI=ž=ˇÞ½Ðł¹ˇ¾¸=Šš=
ý×−¹š˝=Þˇ=−Ý−ðÝž¹ğ¦š˝K

Ej=UJUJQF
=Ej=UJRF

=Ej=UJVJNF



PS È˝³½ˇ=„×ˇ¾ćÞ

„Ć¹š³ž=ÌÞşýˇ½−²
?„×ˇ¾˚²?=→=?È˝³½ˇ=„×ˇ¾ćÞ?
NK „Ð³˙łš½š=½ˇ=×¹ć½ˇ=ł¹˙ýýˇ½ˇ=½−¼=−Þşýˇ½−²K

Úˇ=ˇ×−½šÝ˚³ýˇ½ˇ=½ž²=ˇÞˇŽ¸½ž³ž²=šý¾ˇÞ˝Ž−Þ½ˇÐ=³š=
ˇÝ¾ˇŁž½Ðð¸=³šÐ¹˙K

Ò¼ýŁ−¼Ý¸
≥ Í×−¹š˝½š=Þˇ=š×ÐÝ˚þš½š=½ž=¦˚³ž=½ğÞ=„×ˇ¾ćÞI=?Ò¼³ðš¼¸?=¸=

?pfj?I=×¹ÐÞ=ˇ×ş=½žÞ=ˇÞˇŽ¸½ž³žK

ËÝ¸³ž=ˇ×ş=½ž=È˝³½ˇ=„×ˇ¾ćÞ
?„×ˇ¾˚²?=→=?È˝³½ˇ=„×ˇ¾ćÞ?
NK Íˇ¹ð˙¹š½š=½žÞ=ðˇ½ˇ₣ć¹ž³ž=×−¼=š×Ð¦¼ýš˝½š=ðˇÐ=×Ð˚³½š=DK

Ò¼ýŁ−¼Ý¸
≥ „˙Þ=˚₣−¼Þ=ðˇ½ˇ₣ğ¹ž¦š˝=×š¹Ð³³ş½š¹−Ð=ˇ¹Ð¦ý−˝I=ýˇ¹ð˙¹š½š=

½−Þ=ˇ¹Ð¦ýş=½žÝš¾ćÞ−¼=×−¼=¦˚Ýš½š=ýš½˙=½−=Ł¸ýˇ=N=ðˇÐ=×Ð˚³½š=
DK

≥ Í×−¹š˝½š=ˇðşýž=Þˇ=ðˇÝ˚³š½š=ˇ×ş=½žÞ=−¦şÞž=Ýš×½−ýš¹šÐćÞ=
½ž²=È˝³½ˇ²=„×ˇ¾ćÞK=Ò½žÞ=−¦şÞž=Ýš×½−ýš¹šÐćÞI=š×ÐÝ˚þ½š=½−Þ=
ˇ¹Ð¦ýş=½žÝš¾ćÞ−¼=×−¼=¦˚Ýš½š=ðˇÐ=×Ð˚³½š=DK

„×šþš¹łˇ³˝ˇ=Ëˇ½ˇ₣ğ¹¸³šğÞ=½ž²=È˝³½ˇ²=„×ˇ¾ćÞ
?„×ˇ¾˚²?=→=?È˝³½ˇ=„×ˇ¾ćÞ?
NK Íˇ¹ð˙¹š½š=½žÞ=ðˇ½ˇ₣ć¹ž³ž=×−¼=¦˚Ýš½š=Þˇ=

š×šþš¹łˇ³½š˝½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?„×šþš¹łˇ³˝ˇ?K

PK flÝÝ˙þ½š=½Ð²=×Ýž¹−¾−¹˝š²K

QK ÓÐ˚³½š=xfl×−¦¸ðKz=ş½ˇÞ=½šÝšÐć³š½šK

Ó¹−³¦¸ðž=ýÐˇ²=ÍÐð¹−ł¹ˇ¾˝ˇ²=³š=ýÐˇ=Ëˇ½ˇ₣ć¹ž³ž
?„×ˇ¾˚²?=→=?È˝³½ˇ=„×ˇ¾ćÞ?
NK Íˇ¹ð˙¹š½š=½žÞ=ðˇ½ˇ₣ć¹ž³ž=×−¼=š×Ð¦¼ýš˝½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?„×šþš¹łˇ³˝ˇ?K

PK „×ÐÝ˚þ½š=?Ùğ½−ł¹ˇ¾˝ˇ?K

QK „×ÐÝ˚þ½š=?flÞ½Ð³½K=Ùğ½−ł¹K?K

RK „×ÐÝ˚þ½š=½ž=¾ğ½−ł¹ˇ¾˝ˇ=×−¼=š×Ð¦¼ýš˝½šK

SK ÓÐ˚³½š=xfl×−¦¸ðKz=ş½ˇÞ=½šÝšÐć³š½šK

Òžýš˝ğ³ž
≥ „˙Þ=ŠÐˇł¹˙Ğš½š=ˇ×ş=½ž=ýÞ¸ýž=½ž²=³¼³ðš¼¸²=ý˝ˇ=

¾ğ½−ł¹ˇ¾˝ˇI=¦ˇ=ŠÐˇł¹ˇ¾š˝=ðˇÐ=ž=ˇÞ½˝³½−Ð₣ž=ýÐð¹−ł¹ˇ¾˝ˇ=
¾ğ½−ł¹ˇ¾˝ˇ²K



È˝³½ˇ=„×ˇ¾ćÞ PT

flÞ½Ð³½−˝₣ž³ž=◊₣−¼=Ë−¼Š−¼Þ˝³ýˇ½−²=¸=sáÇÉç=`äáé=
Ë−¼Š−¼Þ˝³ýˇ½−²=³š=ð˙¦š=Ëˇ½ˇ₣ć¹ž³ž
?„×ˇ¾˚²?=→=?È˝³½ˇ=„×ˇ¾ćÞ?
NK Íˇ¹ð˙¹š½š=½žÞ=ðˇ½ˇ₣ć¹ž³ž=×−¼=š×Ð¦¼ýš˝½šK
OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?„×šþš¹łˇ³˝ˇ?K
PK „×ÐÝ˚þ½š=?flÞ½Ð³½K=ÚşÞ−¼LsáÇÉç?K
QK „×ÐÝ˚þ½š=?·Ðˇ=ËÝ¸³ž=ÙğÞ¸²?I=?·Ðˇ=ËÝ¸³ž=sáÇÉç?=¸=?·Ðˇ=Î˚−=

Í¸Þ¼ýˇ?K
RK „×ÐÝ˚þ½š=?flÞ½Ð³½−˝₣K=ÚşÞ−¼?=¸=?flÞ½Ð³½−˝₣K=sáÇÉç?K

⁄½ˇÞ=š×ÐÝ˚þš½š=?flÞ½Ð³½−˝₣K=sáÇÉç?I=ýš½ˇŁš˝½š=³½−=Ł¸ýˇ=TK
SK „×ÐÝ˚þ½š=?Ó¹−¹¼¦ýÐ³ýK=◊₣−Ð?=¸=?ÌÐ=◊₣−Ð=j−¼?K
TK „×ÐÝ˚þ½š=½−Þ=¸₣−=¸=½−=îáÇÉç=Åäáé=ð−¼Š−¼Þ˝³ýˇ½−²=×−¼=

š×Ð¦¼ýš˝½šK
UK ÓÐ˚³½š=xfl×−¦¸ðKz=ş½ˇÞ=½šÝšÐć³š½šK

‚Ðˇł¹ˇ¾¸=Ëˇ½ˇ₣ğ¹¸³šğÞ=½ž²=È˝³½ˇ²=„×ˇ¾ćÞ
‚Ðˇł¹ˇ¾¸=⁄ÝğÞ=½ğÞ=Ëˇ½ˇ₣ğ¹¸³šğÞ=„×ˇ¾ćÞ
?„×ˇ¾˚²?=→=?‚Ðˇ₣š˝¹Ð³ž=š×ˇ¾ćÞ?=→=?‚Ðˇł¹K=Ëˇ½ˇ₣ğ¹¸³K?
NK „×ÐÝ˚þ½š=?Ëˇ½ˇ₣ğ¹K=Ò¼³ðš¼¸²?=¸=?Ëˇ½ˇ₣ğ¹¸³šÐ²=pfj?K

OK „Ð³˙łš½š=½−Þ=ðğŠÐðş=³¼³ðš¼¸²K
Ì=×¹−š×ÐÝšłý˚Þ−²=ðğŠÐðş²=³¼³ðš¼¸²=š˝ÞˇÐ=?VVVV?K=·Ðˇ=
Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½žÞ=ˇÝÝˇł¸=½−¼=ðğŠÐð−Ć=
³¼³ðš¼¸²I=Šš˝½š=?flÝÝˇł¸=ËğŠÐð−Ć=Ò¼³ðš¼¸²?=³½ž=
³šÝ˝Šˇ NMUK

‚Ðˇł¹ˇ¾¸=ý˝ˇ²=Ëˇ½ˇ₣ć¹ž³ž²=„×ˇ¾¸²
?„×ˇ¾˚²?=→=?È˝³½ˇ=„×ˇ¾ćÞ?
NK Íˇ¹ð˙¹š½š=½žÞ=ðˇ½ˇ₣ć¹ž³ž=×−¼=š×Ð¦¼ýš˝½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?‚Ðˇł¹ˇ¾¸?K

‚Ðˇ₣š˝¹Ð³ž=Ëˇ½žł−¹˝ˇ²
·Ðˇ=ð˙¦š=ðˇ½žł−¹˝ˇ=ý×−¹š˝½š=Þˇ=−¹˝³š½š=ŠÐˇ¾−¹š½Ðð−Ć²=¸₣−¼²=
ð−¼Š−¼Þ˝³ýˇ½−²K=„˙Þ=ŠšÞ=ˇÝÝ˙þš½š=½−Þ=¸₣−=ð−¼Š−¼Þ˝³ýˇ½−²=
ý˝ˇ²=ðˇ½žł−¹˝ˇ²=¦ˇ=₣¹ž³Ðý−×−Ðš˝½ˇÐ=−=¸₣−²=ð−¼Š−¼Þ˝³ýˇ½−²=
×−¼=˚₣š½š=ˇÞ½Ð³½−Ð₣¸³šÐ=³½−=ýšÞ−Ć=Ó¹−¾˝ÝK

?„×ˇ¾˚²?=→=?‚Ðˇ₣š˝¹K=Ëˇ½žłK?
NK Íˇ¹ð˙¹š½š=½žÞ=ðˇ½žł−¹˝ˇ=×−¼=š×Ð¦¼ýš˝½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?flÞ½Ð³½K=ÚşÞ−¼LsáÇÉç?K

PK „×ÐÝ˚þ½š=?·Ðˇ=ËÝ¸³ž=ÙğÞ¸²?I=?·Ðˇ=ËÝ¸³ž=sáÇÉç?=¸=?·Ðˇ=Î˚−=
Í¸Þ¼ýˇ?K

QK „×ÐÝ˚þ½š=?flÞ½Ð³½−˝₣K=ÚşÞ−¼?=¸=?flÞ½Ð³½−˝₣K=sáÇÉç?K
⁄½ˇÞ=š×ÐÝ˚þš½š=?flÞ½Ð³½−˝₣K=sáÇÉç?I=ýš½ˇŁš˝½š=³½−=Ł¸ýˇ=SK

RK „×ÐÝ˚þ½š=?Ó¹−¹¼¦ýÐ³ýK=◊₣−Ð?=¸=?ÌÐ=◊₣−Ð=j−¼?K

SK „×ÐÝ˚þ½š=½−Þ=¸₣−=¸=½−=îáÇÉç=Åäáé=ð−¼Š−¼Þ˝³ýˇ½−²=×−¼=
¦˚Ýš½šK
·Ðˇ=Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½žÞ=š×ÐÝ−ł¸=šÞş²=¸₣−¼=
ð−¼Š−¼Þ˝³ýˇ½−²=¸=šÞş²=îáÇÉç=Åäáé=ð−¼Š−¼Þ˝³ýˇ½−²I=Šš˝½š=
±flÞ½Ð³½−˝₣ž³ž=šÞş²=◊₣−¼=Ë−¼Š−¼Þ˝³ýˇ½−²≤=¸=
?flÞ½Ð³½−˝₣ž³ž=šÞş²=fl¹₣š˝−¼=sáÇÉç=`äáé=Ë−¼Š−¼Þ˝³ýˇ½−²?=
³½ž=³šÝ˝Šˇ VQK=

Òžýš˝ğ³ž
≥ Í×−¹š˝½š=Þˇ=š×šþš¹łˇ³½š˝½š=ýşÞ−=½ˇ=−Þşýˇ½ˇ=½ğÞ=

ðˇ½žł−¹ÐćÞ=×−¼=š˝ÞˇÐ=ˇ×−¦žðš¼ý˚Þˇ=³½žÞ=ð˙¹½ˇ=pfjK=‚šÞ=
ý×−¹š˝½š=Þˇ=š×šþš¹łˇ³½š˝½š=½Ð²=¹¼¦ý˝³šÐ²=¸₣−¼=
ð−¼Š−¼Þ˝³ýˇ½−²=¸=îáÇÉç=ð−¼Š−¼Þ˝³ýˇ½−²K

=Ej=UJVJPF

=Ej=UJPF



PU È˝³½ˇ=„×ˇ¾ćÞ

„×šþš¹łˇ³˝ˇ=½−¼=ÌÞşýˇ½−²=Ëˇ½žł−¹˝ˇ²
Í×−¹š˝½š=Þˇ=š×šþš¹łˇ³½š˝½š=½ˇ=−Þşýˇ½ˇ=½ğÞ=ðˇ½žł−¹ÐćÞ=×−¼=
¦ˇ=̌ Þ½Ð³½−Ð₣¸³š½š=³½Ð²=ðˇ½ˇ₣ğ¹¸³šÐ²=½ž²=È˝³½ˇ²=„×ˇ¾ćÞK=Ëˇ½D=
ˇ¹₣¸ÞI=ˇÝÝ˙þ½š=½ž=È˝³½ˇ=„×ˇ¾ćÞ=×−¼=šý¾ˇÞ˝Žš½ˇÐ=E³šÝK PQFK
?„×ˇ¾˚²?=→=?‚Ðˇ₣š˝¹K=Ëˇ½žłK?
NK Íˇ¹ð˙¹š½š=½−=şÞ−ýˇ=ðˇ½žł−¹˝ˇ²=×−¼=š×Ð¦¼ýš˝½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?„×šþK=ÌÞşýˇ½−²?K

PK flÝÝ˙þ½š=½−=şÞ−ýˇK

Ìý˙Šš²=š×ˇ¾ćÞ
Í×−¹š˝½š=Þˇ=ŠžýÐ−¼¹ł¸³š½š=ý˝ˇ=Ý˝³½ˇ=łÐˇ=Þˇ=³½˚ÝÞš½š=½−=˝ŠÐ−=
ý¸Þ¼ýˇ=³š=ý˝ˇ=−ý˙Šˇ=×ˇ¹ˇÝž×½ćÞ=½ˇ¼½ş₣¹−ÞˇK=Í×−¹š˝½š=Þˇ=
ðˇ½ˇ₣ğ¹¸³š½š=˚ğ²=ðˇÐ=R=−ý˙Šš²K

‚žýÐ−¼¹ł˝ˇ=ý˝ˇ²=Î˚ˇ²=È˝³½ˇ²=ÍžÞ¼ý˙½ğÞ
?„×ˇ¾˚²?=→=?Ìý˙Šš²=š×ˇ¾ćÞ?=→=?Ó¹−³¦¸ðž=Þ˚ˇ²=−ý˙Šˇ²?=
NK „Ð³˙łš½š=½−=şÞ−ýˇ=½ž²=−ý˙Šˇ²K

Ú−=Þ˚−=şÞ−ýˇ=−ý˙Šˇ²=šý¾ˇÞ˝Žš½ˇÐ=ýš½˙=½žÞ=½šÝš¼½ˇ˝ˇ=
−ý˙Šˇ=½ž²=−¦şÞž²=È˝³½ˇ²=Ìý˙ŠğÞK

Ó¹−³¦¸ðž=Óˇ¹ˇÝž×½ćÞ=³š=ý˝ˇ=Ìý˙Šˇ=
Í×−¹−ĆÞ=Þˇ=ðˇ½ˇ₣ğ¹ž¦−ĆÞ=˚ğ²=ðˇÐ=OM=×ˇ¹ˇÝ¸×½š²=³š=ð˙¦š=
Ý˝³½ˇK

?„×ˇ¾˚²?=→=?Ìý˙Šš²=š×ˇ¾ćÞ?
NK „×ÐÝ˚þ½š=½−=şÞ−ýˇ=−ý˙Šˇ²=×−¼=š×Ð¦¼ýš˝½šK

OK „×ÐÝ˚þ½š=?flÞ½Ð³½−˝₣K=Þ˚ˇ²=ðˇ½ˇ₣ć¹K?K=

PK „×ÐÝ˚þ½š=½žÞ=ðˇ½ˇ₣ć¹ž³ž=×−¼=š×Ð¦¼ýš˝½šK
„ý¾ˇÞ˝Žš½ˇÐ=ž=−¦şÞž=Ýš×½−ýš¹šÐćÞK

QK „×ÐÝ˚þ½š=½−Þ=ˇ¹Ð¦ýş=½žÝš¾ćÞ−¼=¸=½ž=ŠÐšĆ¦¼Þ³ž=bã~áä=×−¼=
š×Ð¦¼ýš˝½šK

Ò¼ýŁ−¼Ý¸
≥ „˙Þ=½¹−×−×−Ð¸³š½š=½žÞ=ðˇ½ˇ₣ć¹ž³ž=×−¼=˚₣š½š=

ˇÞ½Ð³½−Ð₣¸³šÐ=³š=ý˝ˇ=−ý˙ŠˇI=¦ˇ=₣¹šÐˇ³½š˝=Þˇ=š×ˇÞˇÝ˙Łš½š=
½žÞ=ˇÞ½Ð³½−˝₣ž³ž=³½žÞ=−ý˙ŠˇK=ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=
?„×ˇÞˇÞ½Ð³½K=ðˇ½ˇ₣ć¹K?=³½−=Ł¸ýˇ=OK

≥ ·Ðˇ=Þˇ=ŠÐˇł¹˙Ğš½š=ý˝ˇ=ðˇ½ˇ₣ć¹ž³ž=ˇ×ş=½žÞ=−ý˙ŠˇI=×Ð˚³½š=
x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?‚Ðˇł¹ˇ¾¸=ðˇ½ˇ₣ć¹K?=³½−=Ł¸ýˇ=OK

≥ ·Ðˇ=Þˇ=ŠÐˇł¹˙Ğš½š=ý˝ˇ=−ý˙ŠˇI=ýˇ¹ð˙¹š½š=½−=şÞ−ýˇ=−ý˙Šˇ²=
ðˇÐ=×Ð˚³½š=x„×ÐÝKzI=³½ž=³¼Þ˚₣šÐˇ=š×ÐÝ˚þ½š=?‚Ðˇł¹ˇ¾¸?=³½−=
Ł¸ýˇ=NK

fl×−³½−Ý¸=ÍžÞĆýˇ½−²=ı¹ž³Ðý−×−ÐćÞ½ˇ²=½ž=È˝³½ˇ=ÍžÞ¼ý˙½ğÞ
?„×ˇ¾˚²?=→=?Ìý˙Šš²=š×ˇ¾ćÞ?
NK Íˇ¹ð˙¹š½š=½−=şÞ−ýˇ=−ý˙Šˇ²=×−¼=š×Ð¦¼ýš˝½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?‚žýK=ÍžÞĆýˇ½−²?K

PK „×ÐÝ˚þ½š=½−Þ=½Ć×−=ýžÞĆýˇ½−²=×−¼=š×Ð¦¼ýš˝½šK
·Ðˇ=×¹ş³¦š½š²=ŠÐˇŠÐðˇ³˝š²I=Šš˝½š=?‚žýÐ−¼¹ł˝ˇ=Î˚−¼=
ÍžÞĆýˇ½−²?=³½ž=³šÝ˝Šˇ RMK=

=Ej=UJSF



È˝³½ˇ=„×ˇ¾ćÞ PV

Ëˇ½˙³½ˇ³ž=ÍÞ¸ýž²
fl¼½¸=ž=ÝšÐ½−¼¹ł˝ˇ=³ˇ²=Ł−ž¦˙=Þˇ=šÝ˚ł₣š½š=½ž=ýÞ¸ýž=×−¼=
₣¹ž³Ðý−×−Ðš˝½ˇÐ=ˇ×ş=½ž=È˝³½ˇ=„×ˇ¾ćÞK

?„×ˇ¾˚²?=→=?‚Ðˇ₣š˝¹Ð³ž=š×ˇ¾ćÞ?=→=?Ëˇ½˙³½ˇ³ž=ÍÞ¸ýž²?

È˝³½ˇ=Úˇ₣š˝ˇ²=ËÝ¸³ž²
Ò½ž=Ý˝³½ˇ=½ˇ₣š˝ˇ²=ðÝ¸³ž²I=ý×−¹š˝½š=Þˇ=ðˇ½ˇ₣ğ¹¸³š½š=˚ğ²=ðˇÐ=
U=ˇ¹Ð¦ý−Ć²=½žÝš¾ćÞ−¼=E³šÝK ONFK

„Ð³ˇłğł¸=Ëˇ½ˇ₣ğ¹¸³šğÞ=½ž²=È˝³½ˇ²=„×ˇ¾ćÞ=³½ž=È˝³½ˇ=
Úˇ₣š˝ˇ²=ËÝ¸³ž²
?„×ˇ¾˚²?=→=?È˝³½ˇ=„×ˇ¾ćÞ?
NK „×ÐÝ˚þ½š=½žÞ=ðˇ½ˇ₣ć¹ž³ž=×−¼=š×Ð¦¼ýš˝½šK

OK „×ÐÝ˚þ½š=½−Þ=ˇ¹Ð¦ýş=½žÝš¾ćÞ−¼=×−¼=š×Ð¦¼ýš˝½šK

PK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ó¹−³¦K=Úˇ₣K=ËÝ¸³K?K

QK „×ÐÝ˚þ½š=½ž=¦˚³ž=×−¼=š×Ð¦¼ýš˝½šK

Ò¼ýŁ−¼Ý¸
≥ Úˇ=šÞÞ˚ˇ=ˇ¹Ð¦ýž½Ðð˙=×Ý¸ð½¹ˇ=ˇÞ½Ð³½−Ð₣−ĆÞ=³½−¼²=ˇ¹Ð¦ý−Ć²=

½ž²=Ý˝³½ˇ²K

„×šþš¹łˇ³˝ˇ=È˝³½ˇ²=Úˇ₣š˝ˇ²=ËÝ¸³ž²
?„×ˇ¾˚²?=→=?È˝³½ˇ=Úˇ₣K=ËÝ¸³?
NK Íˇ¹ð˙¹š½š=½žÞ=ðˇ½ˇ₣ć¹ž³ž=×−¼=¦˚Ýš½š=Þˇ=

š×šþš¹łˇ³½š˝½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?„×ˇÞˇÞ½Ð³½−˝₣ž³ž?=
E¸ ?flÞ½Ð³½−˝₣ž³ž?FK

fl×−³½−Ý¸=ý˝ˇ²=Ëˇ½ˇ₣ć¹ž³ž²=È˝³½ˇ²=„×ˇ¾ćÞ
?„×ˇ¾˚²?=→=?È˝³½ˇ=„×ˇ¾ćÞ?
NK Íˇ¹ð˙¹š½š=½žÞ=ðˇ½ˇ₣ć¹ž³ž=×−¼=š×Ð¦¼ýš˝½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?fl×−³½K=„×ˇ¾¸²?K

PK „×ÐÝ˚þ½š=?˜²=Í¸Þ¼ýˇ?I=?Íš=_äìÉíççíÜ?=¸=?Íš=Û×˚¹¼¦¹š²?K
·Ðˇ=Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½ž=ŠžýÐ−¼¹ł˝ˇ=šÞş²=
ýžÞĆýˇ½−²=Šš˝½š=½−=?‚žýÐ−¼¹ł˝ˇ=Î˚−¼=ÍžÞĆýˇ½−²?=³½ž=
³šÝ˝Šˇ RMK
·Ðˇ=Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½Ð²=¹¼¦ý˝³šÐ²=ˇ³Ć¹ýˇ½−¼=
_äìÉíççíÜ=Šš˝½š=?_äìÉíççíÜ?=³½ž=³šÝ˝Šˇ NNNK=
·Ðˇ=Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½Ð²=¹¼¦ý˝³šÐ²=Û×š¹Ć¦¹ğÞ=
Šš˝½š=?Û×˚¹¼¦¹š²?=³½ž=³šÝ˝Šˇ NNPK

È¸Ğž=ý˝ˇ²=Ëˇ½ˇ₣ć¹ž³ž²=È˝³½ˇ²=„×ˇ¾ćÞ
⁄½ˇÞ=½−=½žÝ˚¾ğÞ−=ÝˇýŁ˙ÞšÐ=ý˝ˇ=ðˇ½ˇ₣ć¹ž³ž=È˝³½ˇ²=„×ˇ¾ćÞI=
šý¾ˇÞ˝Žš½ˇÐ=˚Þˇ=ý¸Þ¼ýˇ=š×ÐŁšŁˇ˝ğ³ž²=³½žÞ=ðˇ½˙³½ˇ³ž=
ˇÞˇý−Þ¸²K
NK ÓÐ˚³½š=xÎˇÐzK

Â=Ýž¾¦š˝³ˇ=ðˇ½ˇ₣ć¹ž³ž=ˇ×−¦žðšĆš½ˇÐ=³½ž=È˝³½ˇ=„×ˇ¾ćÞK=
ÓÐ˚³½š=x⁄₣Ðz=łÐˇ=ˇ×ş¹¹ÐĞžK

Ò¼ýŁ−¼Ý¸
≥ ·Ðˇ=Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½žÞ=šÐ³ˇłğł¸=¹¼¦ý˝³šğÞ=

¼×˚¹¼¦¹ğÞ=¸=ˇ³Ć¹ýˇ½ž²=³ĆÞŠš³ž²=_äìÉíççíÜI=Šš˝½š=
?Ò¼ÞŠš³Ðýş½ž½ˇ?=³½ž=³šÝ˝Šˇ NNNK

=Ej=UJVJOF

=Ej=UJQF



QM È˝³½ˇ=„×ˇ¾ćÞ

fl×−³½−Ý¸=ÍžÞĆýˇ½−²=ÙğÞž½Ðð−Ć=fl×−³×˙³ýˇ½−²=
¸=ÍžÞĆýˇ½−²=sáÇÉç=`äáé=ı¹ž³Ðý−×−ÐćÞ½ˇ²=ý˝ˇ=
‚ÐšĆ¦¼Þ³ž=ˇ×ş=½ž=È˝³½ˇ=„×ˇ¾ćÞ
?„×ˇ¾˚²?=→=?È˝³½ˇ=„×ˇ¾ćÞ?
NK „×ÐÝ˚þ½š=½žÞ=ðˇ½ˇ₣ć¹ž³ž=×−¼=š×Ð¦¼ýš˝½š=ýˇŽ˝=ýš=½−Þ=

ˇ¹Ð¦ýş=½žÝš¾ćÞ−¼=¸=½ž=ŠÐšĆ¦¼Þ³ž=bã~áä=×−¼=¦˚Ýš½š=Þˇ=
₣¹ž³Ðý−×−Ð¸³š½šK

OK Íˇ¹ð˙¹š½š=½−Þ=ˇ¹Ð¦ýş=½žÝš¾ćÞ−¼=¸=½ž=ŠÐšĆ¦¼Þ³ž=bã~áä=
×−¼=š×Ð¦¼ýš˝½šK

PK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?‚žýK=ÍžÞĆýˇ½−²?K=

QK „×ÐÝ˚þ½š=?ÙğÞž½Ððş=ý¸Þ¼ýˇ?=¸=?Í¸Þ¼ýˇ=îáÇÉç?K
·Ðˇ=×¹ş³¦š½š²=ŠÐˇŠÐðˇ³˝š²I=Šš˝½š=?‚žýÐ−¼¹ł˝ˇ=Î˚−¼=
ÍžÞĆýˇ½−²?=³½ž=³šÝ˝Šˇ RMK

Ò¼ł₣¹−ÞÐ³ýş²=Ëˇ½ˇ₣ğ¹¸³šğÞ=È˝³½ˇ²=„×ˇ¾ćÞ=ýš=
ˇ¼½˚²=×−¼=¼×˙¹₣−¼Þ=³½−=fåíÉêåÉí
Â=ÝšÐ½−¼¹ł˝ˇ=³¼ł₣¹−ÞÐ³ý−Ć=ŠšŠ−ý˚ÞğÞ=š˝ÞˇÐ=ý˝ˇ=¼×ž¹š³˝ˇ=
ŠÐð½Ć−¼=×−¼=³ˇ²=š×Ð½¹˚×šÐ=Þˇ=ˇ×−¦žðšĆ³š½š=½Ð²=ðˇ½ˇ₣ğ¹¸³šÐ²=
½ž²=È˝³½ˇ²=„×ˇ¾ćÞ=×−¼=¼×˙¹₣−¼Þ=³½ž=ýÞ¸ýž=³¼³ðš¼¸²I=³½−=
ŠÐˇð−ýÐ³½¸=fåíÉêåÉíK=Úˇ=ŠšŠ−ý˚Þˇ=½ž²=ð˙¹½ˇ²=pfj=ŠšÞ=¦ˇ=
ˇ×−¦žðš¼½−ĆÞK=„łł¹ˇ¾š˝½š=³š=ý˝ˇ=¼×ž¹š³˝ˇ=³¼ł₣¹−ÞÐ³ý−Ć=
š×Ðð−ÐÞğÞćÞ½ˇ²=ýš=½−=ð˚Þ½¹−=¼×ž¹š³ÐćÞ=½−¼=ŠÐð½Ć−¼=³ˇ²K

Ò¼ł₣¹−ÞÐ³ýş²=È˝³½ˇ²=„×ˇ¾ćÞ
?„×ˇ¾˚²?=→=?Ò¼ł₣¹−ÞÐ³ýş²?=
NK „×ÐÝ˚þ½š=?Ò¼ł₣¹−ÞÐ³ýş²=½ć¹ˇ>?=łÐˇ=½−=³¼ł₣¹−ÞÐ³ýş=½ğÞ=

ŠšŠ−ý˚ÞğÞK

Òžýš˝ğ³ž
≥ Â=š×ÐÝ−ł¸=?Ò¼ł₣¹−ÞÐ³ýş²=½ć¹ˇ>?=ŠšÞ=š˝ÞˇÐ=ŠÐˇ¦˚³Ðýž=̌ Þ=ŠšÞ=

š˝ÞˇÐ=šÞš¹ł¸=ž=ÔĆ¦ýÐ³ž=½−¼=Ò¼ł₣¹−ÞÐ³ý−ĆK

Ó¹−Ł−Ý¸=½−¼=fl¹₣š˝−¼=Ëˇ½ˇł¹ˇ¾¸² =
?„×ˇ¾˚²?=→=?Ò¼ł₣¹−ÞÐ³ýş²?
NK „×ÐÝ˚þš½š=?Ó¹−Ł−Ý¸=ˇ¹₣š˝−¼?K

Ô¼¦ý˝³šÐ²=³¼ł₣¹−ÞÐ³ý−Ć
?„×ˇ¾˚²?=→=?Ò¼ł₣¹−ÞÐ³ýş²?=→=?Ô¼¦ý˝³šÐ²=³¼ł₣¹−ÞÐ³ý−Ć?
NK „×ÐÝ˚þš½š=½−Þ=š×Ð¦¼ýž½ş=Ý−łˇ¹Ðˇ³ýş=¸=½žÞ=š×ÐÝ−ł¸=

?‚žýÐ−¼¹ł˝ˇ=Î˚−¼?=łÐˇ=½žÞ=šÐ³ˇłğł¸=½ğÞ=×ˇ¹ˇð˙½ğ=
¹¼¦ý˝³šğÞK
?⁄Þ−ýˇ=Ó¹−¾˝Ý?W ⁄Þ−ýˇ=×¹−¾˝Ý=³¼ł₣¹−ÞÐ³ý−Ć=

EÍ−ÞˇŠÐðş=şÞ−ýˇF
?⁄Þ−ýˇ=pÉêîÉê?W ‚ÐšĆ¦¼Þ³ž=ŠÐˇð−ýÐ³½¸
?Úˇ¼½ş½ž½ˇ=ı¹¸³½ž?W Â=½ˇ¼½ş½ž½ˇ=₣¹¸³½ž=łÐˇ=

½ˇ¼½−×−˝ž³ž
?ËğŠK=Ó¹ş³Łˇ³ž²?W ËğŠÐðş²=×¹ş³Łˇ³ž²=łÐˇ=

½ˇ¼½−×−˝ž³ž
?ÓÝž¹šþ−Ć³Ð−?W „×ÐÝ˚łšÐ=½Ð²=¹¼¦ý˝³šÐ²=mêçñó=łÐˇ=

³¼ł₣¹−ÞÐ³ýşK
?⁄Þ−ýˇ=Ł˙³ž²=š×ˇ¾ćÞ?W Ú−=şÞ−ýˇ=½ž²=Ł˙³ž²=ŠšŠ−ý˚ÞğÞ=

½ž²=È˝³½ˇ²=„×ˇ¾ćÞ=³½−=
ŠÐˇð−ýÐ³½¸

Òžýš˝ğ³ž
≥ ÌÐ=¹¼¦ý˝³šÐ²=³¼ł₣¹−ÞÐ³ý−Ć=̊ ₣−¼Þ=̧ Šž=×¹ˇłýˇ½−×−Ðž¦š˝=³½−=

½žÝ˚¾ğÞş=³ˇ²I=ˇÞ˙Ý−łˇ=ýš=½−Þ=×ˇ¹−₣˚ˇ=¼×ž¹š³ÐćÞK=ÿ³ğ²=
˚₣−¼Þ=½š¦š˝=×š¹Ð−¹Ð³ý−˝=³½žÞ=×¹−Ł−Ý¸I=ŠÐˇł¹ˇ¾¸I=
ˇÞ½Ðł¹ˇ¾¸=¸=½¹−×−×−˝ž³ž=ˇ¼½ćÞ=½ğÞ=¹¼¦ý˝³šğÞK=
„×Ðð−ÐÞğÞ¸³½š=ýš=½−Þ=×ˇ¹−₣˚ˇ=¼×ž¹š³ÐćÞ=³ˇ²=łÐˇ=
×Ýž¹−¾−¹˝š²K

=Ej=UJTF

=Ej=UJTJNF

=Ej=UJTJOF

=Ej=UJTJPF



Ùğ½−ł¹ˇ¾Ðð¸=Íž₣ˇÞ¸ QN

Ùğ½−ł¹ˇ¾Ðð¸=Íž₣ˇÞ¸
Ú−=½žÝ˚¾ğÞş=³ˇ²=ŠÐˇ¦˚½šÐ=ý˝ˇ=šÞ³ğýˇ½ğý˚Þž=Ğž¾Ðˇð¸=
¾ğ½−ł¹ˇ¾Ðð¸=ýž₣ˇÞ¸=ýš=½žÞ=−×−˝ˇ=ý×−¹š˝½š=Þˇ=½¹ˇŁ¸þš½š=
¾ğ½−ł¹ˇ¾˝š²=ðˇÐ=Þˇ=ł¹˙Ğš½š=îáÇÉç=ÅäáéëI=ş×−¼=ðÐ=ˇÞ=Ł¹˝³ðš³½šK=
fl¼½ş=½−=ðš¾˙ÝˇÐ−=þšðÐÞ˙=ýš=½Ð²=Łˇ³Ðð˚²=ÝšÐ½−¼¹ł˝š²=ðˇÐ=½Ð²=
ˇ×ˇÐ½−ĆýšÞš²=ŠÐˇŠÐðˇ³˝š²=łÐˇ=½ž=Ý¸ĞžI=½žÞ=̌ ×−¦¸ðš¼³ž=ðˇÐ=½žÞ=
ˇ×−³½−Ý¸=¾ğ½−ł¹ˇ¾ÐćÞ=ðˇÐ=îáÇÉç=ÅäáéëI=ðˇÐ=³¼Þš₣˝ŽšÐ=ýš=½Ð²=
ð−ÐÞ˚²=ðˇÐ=ý−ÞˇŠÐð˚²=ÝšÐ½−¼¹ł˝š²=½ž²=¾ğ½−ł¹ˇ¾Ðð¸²=ýž₣ˇÞ¸²=
ðˇÐ=½ž²=Ý¸Ğž²=Ł˝Þ½š−K

È¸Ğž=Ùğ½−ł¹ˇ¾ÐćÞ
?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?
NK ÓÐ˚³½š= =łÐˇ=Þˇ=½¹ˇŁ¸þš½š=½ž=¾ğ½−ł¹ˇ¾˝ˇK

flð−Ćłš½ˇÐ=−=¸₣−²=½−¼=ðÝš˝³½¹−¼=ðˇÐ=³½žÞ=−¦şÞž=
×¹−Ł˙ÝÝš½ˇÐ=ž=¾ğ½−ł¹ˇ¾˝ˇ=×−¼=½¹ˇŁ¸þˇ½šK

OK ÓÐ˚³½š=xfl×−¦¸ðKzK
ÌÐ=¾ğ½−ł¹ˇ¾˝š²=×−¼=˚₣š½š=½¹ˇŁ¸þšÐ=ˇ×−¦žðšĆ−Þ½ˇÐ=³½−=
ÛÝÐðş=ý−¼K
·Ðˇ=Þˇ=ˇð¼¹ć³š½šI=×Ð˚³½š=xflðĆ¹ğ³žzK
·Ðˇ=Þˇ=³½š˝Ýš½š=½ž=¾ğ½−ł¹ˇ¾˝ˇ=×−¼=˚₣š½š=½¹ˇŁ¸þšÐ=×Ð˚³½š=

=³½−=Ł¸ýˇ=O=ðˇÐ=š×ÐÝ˚þ½š=?˜²=Í¸Þ¼ýˇ?=ˇ×ş=½žÞ=š×ÐÝ−ł¸=
ˇ×−³½−Ý¸²K

Òžýš˝ğ³ž
≥ ÓÐ˚³½š=Y=ˇÞ½˝=łÐˇ= =³½ž=¦˚³ž=×¹−Ł−Ý¸²=½ž²=−¦şÞž²K
≥ ⁄½ˇÞ=ž=ŁÐÞ½š−ð˙ýš¹ˇ=š˝ÞˇÐ=šÞš¹ł−×−Ðžý˚ÞžI=×Ð˚³½š=x„×ÐÝKz=

ðˇÐ=š×ÐÝ˚þ½š=?Ùğ½−ł¹K=Íž₣ˇÞ¸?I=¸=×Ð˚³½š=c=¸=Z=Eýš=½žÞ=
−¦şÞž=³½ž=¦˚³ž=×¹−Ł−Ý¸²F=łÐˇ=Þˇ=ýš½ˇŁš˝½š=³½ž=ÝšÐ½−¼¹ł˝ˇ=
¾ğ½−ł¹ˇ¾Ðð¸²=ýž₣ˇÞ¸²K

≥ „˙Þ=×¹−³×ˇ¦¸³š½š=Þˇ=³½š˝Ýš½š=ý˝ˇ=¾ğ½−ł¹ˇ¾˝ˇ=ýš=×−ÝĆ=
ýšł˙Ý−=ý˚łš¦−²=ˇ¹₣š˝−¼I=½−=ý˚łš¦−²=½ž²=¾ğ½−ł¹ˇ¾˝ˇ²=¦ˇ=
×¹−³ˇ¹ý−³½š˝=ć³½š=Þˇ=š˝ÞˇÐ=Š¼Þˇ½¸=ž=ˇ×−³½−Ý¸=½ž²=ýš=
ý¸Þ¼ýˇK=Â=¾ğ½−ł¹ˇ¾˝ˇ=ýš=½−=ˇ¹₣Ððş=ý˚łš¦−²=ˇ×−¦žðšĆš½ˇÐ=
³½−=ÛÝÐðş=ý−¼K

Ò¼ýŁ−¼Ý¸
≥ Í×−¹š˝½š=Þˇ=šÞš¹ł−×−Ð¸³š½š=½žÞ=¾ğ½−ł¹ˇ¾Ðð¸=ýž₣ˇÞ¸=

×Ð˚Ž−Þ½ˇ²=ðˇÐ=ð¹ˇ½ćÞ½ˇ²=½−=YK=fl×Ý˙=×Ð˚³½š=½−=Y=łÐˇ=
Þˇ=½¹ˇŁ¸þš½š=¾ğ½−ł¹ˇ¾˝š²I=ðˇÐ=Þˇ=ˇ¹₣˝³š½š=ðˇÐ=Þˇ=
³½ˇýˇ½¸³š½š=½žÞ=šłł¹ˇ¾¸K

≥ Í×−¹š˝½š=Þˇ=ðÝšÐŠć³š½š=½žÞ=š³½˝ˇ³ž=×Ð˚Ž−Þ½ˇ²=D=¸=
×Ð˚Ž−Þ½ˇ²=Y=ðˇ½˙=½−=¸ýÐ³¼=×¹ÐÞ=½¹ˇŁ¸þš½š=ýÐˇ=
¾ğ½−ł¹ˇ¾˝ˇ=¸=šłł¹˙Ğš½š=˚Þˇ=îáÇÉç=ÅäáéK

fl¼½−¾ğ½−ł¹˙¾ž³ž
Í×−¹š˝½š=Þˇ=Łł˙Ýš½š=¾ğ½−ł¹ˇ¾˝š²=½−¼=šˇ¼½−Ć=³ˇ²I=
ð−Ð½˙Ž−Þ½ˇ²=½žÞ=ðĆ¹Ðˇ=−¦şÞžK

?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?
NK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?„³ğ½K=¾ğ½−ł¹K=ýž₣ˇÞ¸?K

◊=×Ð˚³½š=P=³½ž=ÝšÐ½−¼¹ł˝ˇ=šÐð−Þ−³ð−×˝−¼K
OK ÓÐ˚³½š= =łÐˇ=Þˇ=½¹ˇŁ¸þš½š=½ž=¾ğ½−ł¹ˇ¾˝ˇK
PK ÓÐ˚³½š=xfl×−¦¸ðKzK

Â=¾ğ½−ł¹ˇ¾˝ˇ=×−¼=̊ ₣š½š=½¹ˇŁ¸þšÐ=̌ ×−¦žðšĆš½ˇÐ=³½−=ÛÝÐðş=
ý−¼K
·Ðˇ=Þˇ=š×Ð³½¹˚Ğš½š=³½žÞ=šþğ½š¹Ðð¸=¾ğ½−ł¹ˇ¾Ðð¸=ýž₣ˇÞ¸=
×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?„þğ½K=¾ğ½−ł¹K=ýž₣ˇÞ¸?=¸=
×Ð˚³½š=P=³½ž=ÝšÐ½−¼¹ł˝ˇ=šÐð−Þ−³ð−×˝−¼K

·Ðˇ=Þˇ=½¹ˇŁ¸þš½š=ýÐˇ=¾ğ½−ł¹ˇ¾˝ˇ=³½ž=¦˚³ž=Ó−¹½¹˚½−=ý−¼
Í×−¹š˝½š=Þˇ=½¹ˇŁ¸þš½š=½−=×−¹½¹˚½−=³ˇ²=ýš=½žÞ=šþğ½š¹Ðð¸=
¾ğ½−ł¹ˇ¾Ðð¸=ýž₣ˇÞ¸K

NK Óš¹Ð³½¹˚Ğš½š=½žÞ=ðĆ¹Ðˇ=−¦şÞž=NUMŒ=ŠšþÐş³½¹−¾ˇ=ˇ×ş=½žÞ=
ðˇÞ−ÞÐð¸=¦˚³žK

OK ÓÐ˚³½š=Y=³½žÞ=×ÝˇİÞ¸=×Ýš¼¹˙=½−¼=½žÝš¾ćÞ−¼K
Òžýš˝ğ³ž
≥ ÍžÞ=×š¹Ð³½¹˚Ğš½š=½žÞ=ðĆ¹Ðˇ=−¦şÞž=ˇ¹Ð³½š¹ş³½¹−¾ˇK=„˙Þ=

ð˙Þš½š=ð˙½Ð=½˚½−Ð−I=½−=½žÝ˚¾ğÞ−=ý×−¹š˝=Þˇ=×ˇ¹−¼³Ð˙³šÐ=
Š¼³ÝšÐ½−¼¹ł˝ˇK

=Ej=RF



QO Ùğ½−ł¹ˇ¾Ðð¸=Íž₣ˇÞ¸

÷þ−Š−²=ˇ×ş=½ž=ÈšÐ½−¼¹ł˝ˇ=Ùğ½−ł¹ˇ¾Ðð¸²=Íž₣ˇÞ¸²=³½ž=Ê˚³ž=
Ó¹−Ł−Ý¸²
NK ÓÐ˚³½š=ðˇÐ=ð¹ˇ½¸³½š=½−=Z=³½ž=¦˚³ž=×¹−Ł−Ý¸²K

„łł¹ˇ¾¸=sáÇÉç=`äáéë
Í×−¹š˝½š=Þˇ=ł¹˙Ğš½š=îáÇÉç=Åäáéë=ýš=½−=½žÝ˚¾ğÞş=³ˇ²K=
Í×−¹š˝½š=Þˇ=₣¹ž³Ðý−×−Ð¸³š½š=š×˝³ž²=ˇ¼½¸=½ž=ÝšÐ½−¼¹ł˝ˇ=
ˇðşýž=ðˇÐ=ş½ˇÞ=ž=−¦şÞž=Ł¹˝³ðš½ˇÐ=³½ž=¦˚³ž=×¹−Ł−Ý¸²K

„łł¹ˇ¾¸=sáÇÉç=`äáéë
?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?
Â=×¹−š×Ð³ðş×ž³ž=šý¾ˇÞ˝Žš½ˇÐ=³½žÞ=−¦şÞžK
NK ÓÐ˚³½š= K

ÓÐ˚³½š=Y=³½ž=¦˚³ž=×¹−Ł−Ý¸²=½ž²=−¦şÞž²K

OK ·Ðˇ=Þˇ=ŠÐˇðşĞš½š=½žÞ=šłł¹ˇ¾¸I=×Ð˚³½š= K

PK „×ÐÝ˚þ½š=?fl×−¦¸ðš¼³ž?K
Ú−=îáÇÉç=Åäáé=ˇ×−¦žðšĆš½ˇÐ=³½ž=¦˚³ž=Ú−=¼ÝÐðş=ý−¼K
„˙Þ=¦˚Ýš½š=Þˇ=ð˙Þš½š=×¹−š×Ð³ðş×ž³ž=×¹ÐÞ=½žÞ=
ˇ×−¦¸ðš¼³žI=š×ÐÝ˚þ½š=?Ó¹−š×Ð³ðş×ž³ž?K
·Ðˇ=Þˇ=³½š˝Ýš½š=½−=îáÇÉç=ÅäáéI=š×ÐÝ˚þ½š=?fl×−¦¸ðK=C=
fl×−³½−Ý¸?K=Ò½ž=³¼Þ˚₣šÐˇ=š×ÐÝ˚þ½š=½−Þ=½¹ş×−=ˇ×−³½−Ý¸²=
×−¼=¦˚Ýš½šK=·Ðˇ=×¹ş³¦š½š²=ŠÐˇŠÐðˇ³˝š²I=Šš˝½š=?‚žýÐ−¼¹ł˝ˇ=
Î˚−¼=ÍžÞĆýˇ½−²?=³½ž=³šÝ˝Šˇ RMK

Òžýš˝ğ³ž
≥ Í×−¹š˝½š=Þˇ=³½š˝Ýš½š=½ˇ=îáÇÉç=Åäáéë=ýşÞ−Þ=š˙Þ=̊ ₣š½š=š×ÐÝ˚þšÐ=

?·Ðˇ=fl×−³½K=ÍžÞK?=łÐˇ=½ž=ŠÐ˙¹ðšÐˇ=šłł¹ˇ¾¸²K=·Ðˇ=
Ýš×½−ý˚¹šÐš²I=Šš˝½š=?„×ÐÝ−ł¸=‚Ð˙¹ðšÐˇ²=ðˇÐ=Íšł˚¦−¼²=
„łł¹ˇ¾¸²?=³½ž=³šÝ˝Šˇ QTK

ı¹¸³ž=½−¼=ÍšÞ−Ć=„×ÐÝ−łćÞ=ýš=½žÞ=Ì¦şÞž=³½ž=
Ê˚³ž=Ó¹−Ł−Ý¸²
NK ÓÐ˚³½š=XK

Ú−=ÍšÞ−Ć=„×ÐÝ−łćÞ=šý¾ˇÞ˝Žš½ˇÐ=ł¹ˇ¾Ðð˙K

OK ÓÐ˚³½š=V=̧ =W=łÐˇ=Þˇ=ýˇ¹ð˙¹š½š=½žÞ=š×ÐÝ−ł¸=×−¼=¦˚Ýš½š=ðˇÐ=
ýš½˙=×Ð˚³½š=Y==łÐˇ=Þˇ=ð˙Þš½š=½žÞ=š×ÐÝ−ł¸=³ˇ²K

Ë−ÐÞ˚²=ÈšÐ½−¼¹ł˝š²=łÐˇ=½ž=ÈšÐ½−¼¹ł˝ˇ=
Ùğ½−ł¹ˇ¾Ðð¸² Íž₣ˇÞ¸²=ðˇÐ=½ž=ÈšÐ½−¼¹ł˝ˇ=sáÇÉç
ı¹¸³ž=½ž²=ÈšÐ½−¼¹ł˝ˇ²=ˆž¾Ðˇð−Ć=wççã

ÔĆ¦ýÐ³ž=„×Ð×˚Š−¼=wççã
NK Ò½ž=ÝšÐ½−¼¹ł˝ˇ=šÐð−Þ−³ð−×˝−¼=×Ð˚³½š=a=¸=bK



Ùğ½−ł¹ˇ¾Ðð¸=Íž₣ˇÞ¸ QP

„Þš¹ł−×−˝ž³ž=½−¼=−×½Ðð−Ć=òççã
Ú−=−×½Ððş=òççã=³ˇ²=š×Ð½¹˚×šÐ=Þˇ=ýšłš¦ĆÞš½š=½ž=¾ğ½−ł¹ˇ¾˝ˇ=
ýš=ýšłˇÝĆ½š¹ž=ðˇ¦ˇ¹ş½ž½ˇI=ý˚³ğ=½ž²=×¹ˇłýˇ½Ðð¸²=
ÝšÐ½−¼¹ł˝ˇ²=òççã=½ğÞ=−×½ÐðćÞ=¾ˇðćÞK=Ú−=−×½Ððş=òççã=
₣¹ž³Ðý−×−Ðš˝½ˇÐ=˚ğ²=½−=š×˝×šŠ−=òççã=x×OzK=flÞ=ž=ýšł˚¦¼Þ³ž=
¼×š¹Łˇ˝ÞšÐ=½−=x×OzI=ž=Ğž¾Ðˇð¸=ýšł˚¦¼Þ³ž=₣¹ž³Ðý−×−Ðš˝½ˇÐ=łÐˇ=
Þˇ=ýšłš¦ĆÞšÐ=×š¹Ð³³ş½š¹−K
?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?=→=x„×ÐÝKz=→=?Ô¼¦ý˝³šÐ²?=→=?Ì×½Ððş=
wççã?
NK „×ÐÝ˚þ½š=?„Þš¹ł−×−˝ž³ž?K

„×ÐÝ˚þ½š=?fl×šÞš¹ł−×−˝ž³ž?=łÐˇ=Þˇ=ˇ×šÞš¹ł−×−Ð¸³š½šK
„˙Þ=š×ÐÝ˚þš½š=?fl×šÞš¹ł−×−˝ž³ž?I=ý×−¹š˝½š=Þˇ=
₣¹ž³Ðý−×−Ð¸³š½š=ýşÞ−Þ=½ž=ÝšÐ½−¼¹ł˝ˇ=Ğž¾Ðˇð−Ć=òççãK

OK ÓÐ˚³½š=a=¸=bK
⁄½ˇÞ=½−=½žÝ˚¾ğÞ−=š×Ð³½¹˚ĞšÐ=³½žÞ=ðˇ½˙³½ˇ³ž=ˇÞˇý−Þ¸²I=−Ð=
¹¼¦ý˝³šÐ²=òççã=š×ˇÞ˚¹₣−Þ½ˇÐ=³½žÞ=×¹−š×ÐÝšłý˚Þž=¹Ć¦ýÐ³žK

Ó¹−³ˇ¹ý−ł¸=½ž²=÷ð¦š³ž²
?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?=→=x„×ÐÝKz=→=?÷ð¦š³ž?
NK ÓÐ˚³½š=a=EÙğ½šÐÞ¸F=¸=b=EÒð−Ć¹ˇFK

W=EÒð−Ć¹ˇ=→=ËˇÞ−ÞÐð¸=→=Ùğ½šÐÞ¸F

⁄½ˇÞ=½−=½žÝ˚¾ğÞ−=š×Ð³½¹˚ĞšÐ=³½žÞ=ðˇ½˙³½ˇ³ž=ˇÞˇý−Þ¸²I=−Ð=
¹¼¦ý˝³šÐ²=¾ğ½šÐÞş½ž½ˇ²=š×ˇÞ˚¹₣−Þ½ˇÐ=³½žÞ=×¹−š×ÐÝšłý˚Þž=
¹Ć¦ýÐ³žK

Ùğ²=ðÐÞž½−Ć

flÝÝˇł¸=ðˇ½˙³½ˇ³ž²=ÝšÐ½−¼¹ł˝ˇ²=Ý¼₣Þ˝ˇ²=ðÐÞž½−Ć
Ô¼¦ý˝³½š=½ž=Ý¼₣Þ˝ˇ=ðÐÞž½−Ć=ˇÞ˙Ý−łˇ=ýš=½Ð²=ˇÞ˙łðš²=³ˇ²K

?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?=→=x„×ÐÝKz=→=?ÈšÐ½−¼¹ł˝š²?=→=?Ùğ²=
ËÐÞž½−Ć?=→=?„Þš¹łKLfl×šÞš¹łK?
NK „×ÐÝ˚þ½š=½ž=ÝšÐ½−¼¹ł˝ˇ=×−¼=š×Ð¦¼ýš˝½šK

?„Þš¹łş?=E FW Ú−=¾ğ²=š˝ÞˇÐ=×˙Þ½ˇ=ˇÞˇýý˚Þ−K
?fl¼½şýˇ½−?=E FW Ú−=¾ğ²=ˇÞ˙ŁšÐ=š˙Þ=½−=½žÝ˚¾ğÞ−=

ˇÞÐ₣ÞšĆ³šÐ=ş½Ð=Ł¹˝³ðš³½š=³š=³ð−½šÐÞş=
×š¹ÐŁ˙ÝÝ−ÞK

?ıˇýžÝş²=Ùğ½Ð³ýK?=E F=EÝšÐ½−¼¹ł˝ˇ=¾ğ½−ł¹ˇ¾Ðð¸²=
ýž₣ˇÞ¸²=ýşÞ−FW

„×ÐÝ˚þš½š=ˇ¼½¸=½ž=ÝšÐ½−¼¹ł˝ˇ=łÐˇ=
ð−Þ½ÐÞ¸=Ý¸ĞžK

?Íž=šÞš¹łş?W Ú−=¾ğ²=š˝ÞˇÐ=×˙Þ½ˇ=³Łž³½şK
Â=šð˙³½−½š=˚ÞŠšÐþž=šý¾ˇÞ˝Žš½ˇÐ=³½žÞ=−¦şÞžK=„×ÐÝ˚þ½š
?Íž=šÞš¹łş?=łÐˇ=Þˇ=½žÞ=ˇ×šÞš¹ł−×−Ð¸³š½šK

flÝÝˇł¸=₣¹ćýˇ½−²=¾ğ½Ð³ý−Ć
Í×−¹š˝½š=Þˇ=½¹ˇŁ¸þš½š=ý˝ˇ=¾ğ½−ł¹ˇ¾˝ˇ=³š=ŠÐ˙¾−¹š²=
ÝšÐ½−¼¹ł˝š²=₣¹ćýˇ½−²K
?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?=→=x„×ÐÝKz=→=?ÈšÐ½−¼¹ł˝š²?=→=?Ùğ²=
ËÐÞž½−Ć?=→=?ı¹ćýˇ=Ùğ½Ð³ý−Ć?
NK „×ÐÝ˚þ½š=½−=₣¹ćýˇ=¾ğ½Ð³ý−Ć=×−¼=š×Ð¦¼ýš˝½šK

ı¹ćýˇ½ˇ=¾ğ½Ð³ý−ĆW Èš¼ðşLËşððÐÞ−LË˝½¹ÐÞ−LÓ¹˙³ÐÞ−L
Í×ÝšL‡Ð−Ýš½˝LflÞ−Ðð½ş=Í×Ýš

ı¹¸³ž=½−¼=ı¹−Þ−ŠÐˇðş×½ž
?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?=→=x„×ÐÝKz=→ ?ÈšÐ½−¼¹ł˝š²?=→=
?ı¹−Þ−ŠÐˇðş×½ž²?
NK „×ÐÝ˚þ½š=?„Þš¹łş?=¸=?Íž=šÞš¹łş?K

Ú−=? ?=šý¾ˇÞ˝Žš½ˇÐ=³½žÞ=−¦şÞž=š˙Þ=š×ÐÝ˚þ½š=?„Þš¹łş?K



QQ Ùğ½−ł¹ˇ¾Ðð¸=Íž₣ˇÞ¸

„ÞˇÝÝˇł¸=ýš½ˇþĆ=½ž²=ÈšÐ½−¼¹ł˝ˇ²=Ùğ½−ł¹ˇ¾Ðð¸²=Íž₣ˇÞ¸²=ðˇÐ=
½ž²=ÈšÐ½−¼¹ł˝ˇ²=sáÇÉç
Í×−¹š˝½š=Þˇ=ˇÝÝ˙þš½š=ýš½ˇþĆ=½ž²=ÝšÐ½−¼¹ł˝ˇ²=¾ğ½−ł¹ˇ¾Ðð¸²=
ýž₣ˇÞ¸²=ðˇÐ=ŁÐÞ½š−ð˙ýš¹ˇ²=×Ð˚Ž−Þ½ˇ²=c=¸=dI=¸=Z=Eş½ˇÞ=ž=
−¦şÞž=Ł¹˝³ðš½ˇÐ=³½ž=¦˚³ž=×¹−Ł−Ý¸²FK
„×ÐÝ˚þ½š=½žÞ=ðˇ½˙ÝÝžÝž=š×ÐÝ−ł¸K

?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?=→=x„×ÐÝKz=→ ?‡ÐÞ½š−ð˙ýš¹ˇ?
?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?=→=x„×ÐÝKz=→ ?Ùğ½−ł¹K=Íž₣ˇÞ¸?

„×ÐÝ−ł¸=½ž²=Ó−Ðş½ž½ˇ²=Ùğ½−ł¹ˇ¾˝ˇ²=¸=sáÇÉç
„×ÐÝ˚þ½š=½žÞ=ðˇ½˙ÝÝžÝž=š×ÐÝ−ł¸K

?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?=→=x„×ÐÝKz=→ ?Ó−Ðş½K=Ùğ½−ł¹K?
?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?=→=x„×ÐÝKz=→ ?Ó−Ðş½ž½ˇ=ÚˇÐÞ˝ˇ²?
NK „×ÐÝ˚þ½š=½žÞ=×−Ðş½ž½ˇ=¾ğ½−ł¹ˇ¾˝ˇ²=¸=îáÇÉç=×−¼=

š×Ð¦¼ýš˝½šK
W Ó−ÝĆ=ÛĞžÝ¸
W ÛĞžÝ¸
W ËˇÞ−ÞÐð¸

Òžýš˝ğ³ž
≥ ⁄³−=ðˇÝĆ½š¹ž=×−Ðş½ž½ˇ=š×ÐÝ˚þš½šI=½ş³−=ýšłˇÝĆ½š¹−=¦ˇ=š˝ÞˇÐ=

½−=ý˚łš¦−²=ˇ¹₣š˝−¼K

„×ÐÝ−ł¸=½ž²=ÍÞ¸ýž²=fl×−¦¸ðš¼³ž²
„×ÐÝ˚þ½š=½žÞ=ðˇ½˙ÝÝžÝž=š×ÐÝ−ł¸K

?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?=→=x„×ÐÝKz=→ ?Ô¼¦ý˝³šÐ²?=→=?fl×−¦¸ðK=
Þ˚ğÞ=¾ğ½−ł¹K?
?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?=→=x„×ÐÝKz=→ ?Ô¼¦ý˝³šÐ²?=→=?fl×−¦K=
Î˚ğÞ=sáÇÉç?
NK „×ÐÝ˚þ½š=½ž=¦˚³ž=×−¼=š×Ð¦¼ýš˝½š=ˇ×ş=?Ò½ž=ýÞK=³¼³ðK?I=?Ò½žÞ=

Ë˙¹½ˇ=ÍÞ¸ýž²?=¸=?„×ÐÝK=×¹−=½ž²=ˇ×−¦K?K

Òžýš˝ğ³ž
≥ „˙Þ=š×ÐÝ˚þš½š=?„×ÐÝK=×¹−=½ž²=̌ ×−¦K?I=š×ÐÝ˚łš½š=½ž=¦˚³ž=ð˙¦š=

¾−¹˙=×−¼=ˇ×−¦žðšĆš½šK

Ô¼¦ý˝³šÐ²=š³½˝ˇ³ž²
?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?=→=x„×ÐÝKz=→=?ÈšÐ½−¼¹ł˝š²?=→=
?„³½˝ˇ³ž?
NK „×ÐÝ˚þš½š=½žÞ=š×ÐÝ−ł¸=×−¼=š×Ð¦¼ýš˝½šK

W fl¼½şýˇ½ž=„³½˝ˇ³ž
W ıšÐ¹−ðK=„³½˝ˇ³ž
W Ë−Þ½ÐÞ¸=È¸Ğž

fl¼½şýˇ½ž=ˇ×−¦¸ðš¼³ž
Í×−¹š˝½š=Þˇ=š×ÐÝ˚þš½š=½žÞ=ˇ¼½şýˇ½ž=ˇ×−¦¸ðš¼³ž=ðˇÐ=½ğÞ=
îáÇÉç=Åäáé=½ğÞ=¾ğ½−ł¹ˇ¾ÐćÞK
?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?=→=x„×ÐÝKz=→ ?Ô¼¦ý˝³šÐ²?=→=?fl¼½şýK=
fl×−¦¸ðK?
NK „×ÐÝ˚þ½š=?„Þš¹łş?=¸=?Íž=šÞš¹łş?K

fl¼½şýˇ½ž=˚Þˇ¹þž
Í×−¹š˝½š=Þˇ=¹¼¦ý˝³š½š=½−=½žÝ˚¾ğÞ−=Þˇ=þšðÐÞ¸³šÐ=ˇ¼½şýˇ½ˇ=
³½žÞ=š¾ˇ¹ý−ł¸=½ž²=¾ğ½−ł¹ˇ¾Ðð¸²=ýž₣ˇÞ¸²=ˇÝÝ˙Ž−Þ½ˇ²=³½ž=
¦˚³ž=×¹−Ł−Ý¸²=½ž²=−¦şÞž²K

?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?=→=x„×ÐÝKz=→=?Ô¼¦ý˝³šÐ²?=→=?fl¼½şýˇ½ž=
˚Þˇ¹þž?
NK „×ÐÝ˚þ½š=?„Þš¹łş?=¸=?Íž=šÞš¹łş?K

ı¹¸³ž=½ž²=ÈšÐ½−¼¹ł˝ˇ²=‡−ž¦š˝ˇ²
?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?=→=x„×ÐÝKz=→ ?‡−¸¦šÐˇ?



Ùğ½−ł¹ˇ¾Ðð¸=Íž₣ˇÞ¸ QR

Ë−ÐÞ˙=ÓÝ¸ð½¹ˇ=Ò¼Þ½şýš¼³ž²
„˙Þ=¼×˙¹₣−¼Þ=×−ÝÝˇ×Ý˚²=š×ÐÝ−ł˚²I=̌ ¼½˚²=̌ ÝÝ˙Ž−¼Þ=ð˙¦š=¾−¹˙=
×−¼=×Ð˚Žš½š=˚Þˇ=ˇ×ş=½ˇ=×ˇ¹ˇð˙½ğ=×Ý¸ð½¹ˇK

Òžýš˝ğ³ž
≥ Â=š×ÐÝ−ł¸=?flÝÝ˙þšÐ=Ì¦şÞž?=š˝ÞˇÐ=ŠÐˇ¦˚³Ðýž=³½žÞ=

?Ó¹−š×Ð³ðş×ž³ž?=×¹ÐÞ=½žÞ=ˇ×−¦¸ðš¼³ž=½−¼=îáÇÉç=ÅäáéK=‚š˝½š=
?„łł¹ˇ¾¸=sáÇÉç=`äáéë?=³½ž=³šÝ˝Šˇ QOK

ÈšÐ½−¼¹ł˝š²=Ùğ½−ł¹ˇ¾Ðð¸²=Íž₣ˇÞ¸²
„×ÐÝ−ł¸=½−¼=Íšł˚¦−¼²=Ùğ½−ł¹ˇ¾˝ˇ²
Í×−¹š˝½š=Þˇ=š×ÐÝ˚þš½š=½−=ý˚łš¦−²=½ğÞ=¾ğ½−ł¹ˇ¾ÐćÞK=⁄Ýš²=−Ð=
¾ğ½−ł¹ˇ¾˝š²=×−¼=Ý¸¾¦žðˇÞ=ˇ×−¦žðšĆ−Þ½ˇÐ=³½−=¾−¹ý˙=gmbdK
?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?=→=x„×ÐÝKz=→ ?Í˚łš¦−²=Ùğ½−ł¹K?
NK „×ÐÝ˚þ½š=½−=ý˚łš¦−²=×−¼=š×Ð¦¼ýš˝½šK

E„þğ½š¹Ðð¸=Ùğ½−ł¹ˇ¾Ðð¸=Íž₣ˇÞ¸F
NRPS × OMQU=ð−¼ð˝Šš²LNOMM × NSMM=ð−¼ð˝Šš²L
VSM × NOUM=ð−¼ð˝Šš²LTSU × NMOQ=ð−¼ð˝Šš²L
QUM × SQM=ð−¼ð˝Šš²LOQM × POM=ð−¼ð˝Šš²L
NOM × NSM=ð−¼ð˝Šš²

E„³ğ½š¹Ðð¸=Ùğ½−ł¹ˇ¾Ðð¸=Íž₣ˇÞ¸F
OQM=×=POM=ð−¼ðð˝Šš²LNOM=×=NSM=ð−¼ðð˝Šš²

Ùğ½−ł¹ˇ¾Ðð¸=Íž₣ˇÞ¸ ‡ÐÞ½š−ð˙ýš¹ˇ

G Íšł˚¦¼Þ³ž=ÍšłKL„Ýˇ₣K

H ÷ð¦š³ž

I fl¼½şýˇ½ž=„³½˝ˇ³ž

J fl×−¦žðšĆ³š½š=½Ð²=Î˚š²=
Ùğ½−ł¹ˇ¾˝š²=³½−

fl×−¦žðšĆ³š½š=½ˇ=Î˚ˇ=
sáÇÉçë=³½−

K Í˚łš¦−²=Ùğ½−ł¹K

L „×ÐÝ−ł¸=³ðžÞ¸² ÍÐð¹ş¾ğÞ−=„Þš¹łşL
Íž=šÞš¹łş

M Ó−Ðş½K=Ùğ½−ł¹K Ó−Ðş½ž½ˇ=ÚˇÐÞ˝ˇ²

N ı¹−Þ−ŠÐˇðş×½ž²=„Þš¹łş²LÍž=„Þš¹łş²

O flÝÝˇł¸=₣¹ćýˇ½−²=¾ğ½ş²=
Eş½ˇÞ=½−=¾ğ²=š˝ÞˇÐ=ˇÞ−Ðð½şF

P flÝÝˇł¸=„³ğ½š¹Ðð¸²L
„þğ½š¹Ðð¸²=¾ğ½−ł¹ˇ¾Ðð¸²=ýž₣ˇÞ¸²

Q flÝÝ˙ŽšÐ=„Ðð−Þ−³ðş×Ð− flÝÝ˙þšÐ=Ì¦şÞž

R Ùğ²=ðÐÞž½−Ć=„Þš¹łşLÍž=šÞš¹łş



QS Ùğ½−ł¹ˇ¾Ðð¸=Íž₣ˇÞ¸

„×ÐÝ−ł¸=½ž²=³ðžÞ¸²
Í×−¹š˝½š=Þˇ=š×ÐÝ˚þš½š=½žÞ=ðˇ½˙ÝÝžÝž=³ðžÞ¸=ş½ˇÞ=½¹ˇŁ˙½š=ý˝ˇ=
¾ğ½−ł¹ˇ¾˝ˇK
?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?=→=x„×ÐÝKz=→=?ÈšÐ½−¼¹ł˝š²?=→=?ÒðžÞ¸?=
NK „×ÐÝ˚þ½š=½ž=³ðžÞ¸=×−¼=š×Ð¦¼ýš˝½šK

ÌÐ=×ˇ¹ˇð˙½ğ=−ð½ć=ÝšÐ½−¼¹ł˝š²=š˝ÞˇÐ=ŠÐˇ¦˚³Ðýš²W
?fl¼½şýˇ½−?=E FW Ó¹−³ˇ¹ý−³ý˚Þž=ˇ¼½şýˇ½ˇ=³½−=

×š¹ÐŁ˙ÝÝ−ÞK=
?ÎĆ₣½ˇ?=E FW Ëˇ½˙ÝÝžÝž=łÐˇ=Þ¼₣½š¹ÐÞ¸=

¾ğ½−ł¹˙¾ž³žK
?Ò×−¹?=E FW Ëˇ½˙ÝÝžÝž=łÐˇ=ðÐÞž½˙=ˇÞ½Ððš˝ýšÞˇK
?ıˇ¹ˇð½¸¹š²?=E FW Ëˇ½˙ÝÝžÝž=łÐˇ=¦˚ýˇ½ˇ=ýš=ýšł˙Ýž=

ˇÞ½˝¦š³žI=ş×ğ²=½−=ðš˝ýšÞ−K
?‰ğ˙ðÐ?=E FW Ëˇ½˙ÝÝžÝ−=łÐˇ=ðÐÞž½˙=ˇÞ½Ððš˝ýšÞˇ=³š=

ð−Þ½ÐÞ¸=ˇ×ş³½ˇ³žK
?ËşÞ½¹ˇ=³½−Þ=¸ÝÐ−?=E FW

Ëˇ½˙ÝÝžÝ−=łÐˇ=½žÞ=ˇ×−¾¼ł¸=½ž²=
³ð˝ˇ³ž²=½ğÞ=ˇÞ½ÐðšÐý˚ÞğÞ=ðşÞ½¹ˇ=³š=
¾ğ²K

?Ó−¹½¹˚½−?=E FW Ëˇ½˙ÝÝžÝ−=łÐˇ=˚Þˇ=×−¹½¹˚½−K
?Ó−¹½¹˚½−=³½−=³ð−½K?=E FW

Ëˇ½˙ÝÝžÝ−=łÐˇ=˚Þˇ=×−¹½¹˚½−=³š=
š³ğ½š¹Ððş=₣ć¹−=¸=³š=₣ˇýžÝş=
¾ğ½Ð³ýşK

„×ÐÝ−ł¸=½ğÞ=š¾¾˚=šÐðşÞˇ²
Í×−¹š˝½š=Þˇ=½¹ˇŁ¸þš½š=ýÐˇ=¾ğ½−ł¹ˇ¾˝ˇ=ýš=šÐŠÐð˙=š¾¾˚K

?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?=→=x„×ÐÝKz=→=?ÈšÐ½−¼¹ł˝š²?=→=?„¾¾˚=
¾ğ½−ł¹K=ýž₣ˇÞ¸²?=
NK „×ÐÝ˚þš½š=½ˇ=š¾¾˚=×−¼=š×Ð¦¼ýš˝½šK

ÌÐ=×ˇ¹ˇð˙½ğ=×˚Þ½š=ÝšÐ½−¼¹ł˝š²=š˝ÞˇÐ=ŠÐˇ¦˚³Ðýš²W
?Íž=šÞš¹łş?W Ú−=š¾¾˚=½ž²=¾ğ½−ł¹ˇ¾Ðð¸²=ýž₣ˇÞ¸²=

ˇð¼¹ćÞš½ˇÐK

?pÉéá~?W ‚žýÐ−¼¹łš˝=ýÐˇ=šÐðşÞˇ=ýš=½şÞ−=ëÉéá~K
?Í−Þş₣¹ğý−?W ‚žýÐ−¼¹łš˝=ýÐˇ=ýˇ¼¹şˇ³×¹ž=šÐðşÞˇK
?fl¹Þž½Ððş?W ‚žýÐ−¼¹łš˝=ýÐˇ=ˇ¹Þž½Ðð¸=šÐðşÞˇK
?Òð˝½³−?W ‚žýÐ−¼¹łš˝=ýÐˇ=³ðÐˇł¹ˇ¾žý˚Þž=

šÐðşÞˇ=ýš=ˇ×−½¼×ğý˚Þ−=½−=
×š¹˝ł¹ˇýýˇ=½ğÞ=ˇÞ½ÐðšÐý˚ÞğÞK

Òžýš˝ğ³ž
≥ ‚šÞ=ý×−¹š˝½š=Þˇ=₣¹ž³Ðý−×−Ð¸³š½š=½ž=ÝšÐ½−¼¹ł˝ˇ=„¾¾˚=

Ùğ½−ł¹ˇ¾Ðð¸²=Íž₣ˇÞ¸²=łÐˇ=¾ğ½−ł¹ˇ¾˝š²=ýšłˇÝĆ½š¹š²=ˇ×ş=
QUM=×=SQM=ð−¼ð˝Šš²K

Ò¼Þš₣¸²=È¸Ğž
Û×˙¹₣−¼Þ=ŠÐ˙¾−¹−Ð=½¹ş×−Ð=łÐˇ=Þˇ=½¹ˇŁ¸þš½š=³¼Þš₣şýšÞš²=
¾ğ½−ł¹ˇ¾˝š²K
?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?=→=x„×ÐÝKz=→ ?ÈšÐ½−¼¹ł˝š²?=→=?Ò¼Þš₣¸²=
È¸Ğž?
NK „×ÐÝ˚þ½š=½ž=ÝšÐ½−¼¹ł˝ˇ=×−¼=š×Ð¦¼ýš˝½šK

‚Ðˇ½˝¦šÞ½ˇÐ=−Ð=×ˇ¹ˇð˙½ğ=ÝšÐ½−¼¹ł˝š²=³¼Þš₣−Ć²=Ý¸Ğž²W
?Íž=šÞš¹łş?W ÌÐ=³¼Þš₣şýšÞš²=Ý¸ĞšÐ²=ˇð¼¹ćÞ−Þ½ˇÐK
?Q=Ùğ½−ł¹ˇ¾˝š²?L?V=Ùğ½−ł¹ˇ¾˝š²?=E L FW

Ú¹ˇŁ˙=Q=¸=V=³¼Þš₣şýšÞš²=¾ğ½−ł¹ˇ¾˝š²K
fl¾−Ć=š×ÐÝ˚þš½š=ˇ¼½¸=½ž=ÝšÐ½−¼¹ł˝ˇI=
š×ÐÝ˚þ½š=˚ÞˇÞ=ˇ×ş=½−¼²=×˚Þ½š=½Ć×−¼²=
½ˇ₣Ć½ž½ˇ²=¸=?ıšÐ¹−ð˝Þž½ž?K

?Û×˚¹¦š³ž?=E FW Ò¼¹¹˙×½šÐ=½Ð²=³¼Þš₣şýšÞš²=¾ğ½−ł¹ˇ¾˝š²=
³š=ý˝ˇ=šÞÐˇ˝ˇ=ŠžýÐ−¼¹łćÞ½ˇ²=ý˝ˇ=
³¼ÞŠ¼ˇ³ý˚Þž=¾ğ½−ł¹ˇ¾˝ˇK
Íš½˙=½žÞ=š×ÐÝ−ł¸=̌ ¼½¸²=½ž²=ÝšÐ½−¼¹ł˝ˇ²I=
š×ÐÝ˚þ½š=?·¹¸ł−¹ž?=¸=?ËˇÞ−ÞÐð¸?K

?Ò¼Þš₣¸²?=E FW Ú¹ˇŁ˙=V=³¼Þš₣şýšÞš²=¾ğ½−ł¹ˇ¾˝š²=³š=
ŠÐ˙¾−¹ˇ=š×˝×šŠˇ=₣¹ćýˇ½−²=ðˇÐ=
¾ğ½šÐÞş½ž½ˇ²K
Íš½˙=½žÞ=š×ÐÝ−ł¸=̌ ¼½¸²=½ž²=ÝšÐ½−¼¹ł˝ˇ²I=
š×ÐÝ˚þ½š=?·¹¸ł−¹ž?=¸=?ËˇÞ−ÞÐð¸?K



Ùğ½−ł¹ˇ¾Ðð¸=Íž₣ˇÞ¸ QT

Òžýš˝ğ³ž
≥ „˙Þ=š×ÐÝ˚þš½š=?ıšÐ¹−ð˝Þž½ž?=łÐˇ=Þˇ=×¹ˇłýˇ½−×−Ð¸³š½š=

³¼Þš₣¸=Ý¸Ğž=¾ğ½−ł¹ˇ¾ÐćÞI=×Ð˚³½š= =¸=Y=Eş½ˇÞ=ž=
−¦şÞž=Ł¹˝³ðš½ˇÐ=³½ž=¦˚³ž=×¹−Ł−Ý¸²F=₣šÐ¹−ð˝Þž½ˇ=³½žÞ=
½ˇ₣Ć½ž½ˇ=×−¼=¦˚Ýš½šK

≥ ⁄½ˇÞ=−Ð=ÝšÐ½−¼¹ł˝š²=ı¹−Þ−ŠÐˇðş×½ž²=ðˇÐ=Ò¼Þš₣¸²=È¸Ğž=
š˝ÞˇÐ=šÞš¹ł−×−Ðžý˚Þš²=½ˇ¼½ş₣¹−ÞˇI=³½žÞ=−¦şÞž=šý¾ˇÞ˝Žš½ˇÐ=
ž=˚ÞŠšÐþž=? ?=E×K₣K=łÐˇ=?Q=Ùğ½−ł¹ˇ¾˝š²?FK

≥ ‚šÞ=ý×−¹š˝½š=Þˇ=₣¹ž³Ðý−×−Ð¸³š½š=½ž=ÝšÐ½−¼¹ł˝ˇ=Ò¼Þš₣¸²=
È¸Ğž=łÐˇ=ýšł˚¦ž=¾ğ½−ł¹ˇ¾ÐćÞ=ýšłˇÝĆ½š¹ˇ=ˇ×ş=TSU=×=NMOQ=
ð−¼ð˝Šš²K=ÌÐ=ÝšÐ½−¼¹ł˝š²=?V=Ùğ½−ł¹ˇ¾˝š²?I=?Û×˚¹¦š³ž?=ðˇÐ=
?Ó−ÝĆ=·¹¸ł−¹ž?=łÐˇ=?Q=Ùğ½−ł¹ˇ¾˝š²?=ŠšÞ=š˝ÞˇÐ=ŠÐˇ¦˚³Ðýš²=
łÐˇ=ýšł˚¦ž=¾ğ½−ł¹ˇ¾ÐćÞ=ýšłˇÝĆ½š¹ˇ=ˇ×ş=QUM=×=SQM=
ð−¼ð˝Šš²K

„×ÐÝ−ł¸=šÞş²=ÓÝˇÐ³˝−¼
Í×−¹š˝½š=Þˇ=š×ÐÝ˚þš½š=˚Þˇ=×Ýˇ˝³Ð−=̌ ×ş=×¹−¹¼¦ýÐ³ý˚Þˇ=³₣˚ŠÐˇ=
¸=ˇ×ş=½−=¾˙ðšÝ−=?ÌÐ=Ùğ½−ł¹K=Í−¼?K

?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?=→=x„×ÐÝKz=→ ?ÈšÐ½−¼¹ł˝š²?=→=?Ó¹−³¦K=
ÓÝˇÐ³˝−¼?
NK „×ÐÝ˚þ½š=?Ó¹−¹¼¦ýK=ÓÝˇ˝³Ðˇ?=¸=?ÌÐ=Ùğ½−ł¹K=Í−¼?K

OK „×ÐÝ˚þ½š=½−=×Ýˇ˝³Ð−=×−¼=š×Ð¦¼ýš˝½šK
Ú−=š×ÐÝšłý˚Þ−=×Ýˇ˝³Ð−=š×ÐŁšŁˇÐćÞš½ˇÐ=³½žÞ=−¦şÞžK

PK ÓÐ˚³½š= K

Òžýš˝ğ³ž
≥ ÌÐ=¾ğ½−ł¹ˇ¾˝š²=×−¼=š˝ÞˇÐ=ýšłˇÝĆ½š¹š²=̌ ×ş=OQM=xtz=×=POM=xez=

ð−¼ð˝Šš²=ŠšÞ=ý×−¹−ĆÞ=Þˇ=₣¹ž³Ðý−×−Ðž¦−ĆÞK

ı¹¸³ž=½ž²=ÓÝ¸¹−¼²=Ì¦şÞž²
Í×−¹š˝½š=Þˇ=šý¾ˇÞ˝³š½š=½žÞ=×¹−š×Ð³ðş×ž³ž=³š=×Ý¸¹ž=−¦şÞž=
₣ğ¹˝²=Þˇ=šý¾ˇÞ˝Žš½ˇÐ=ž=×š¹Ð−₣¸=½ğÞ=×Ý¸ð½¹ğÞ=šÝ˚ł₣−¼=ðˇÐ=½ğÞ=
šÞŠš˝þšğÞK

?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?=→=x„×ÐÝKz=→ ?Ô¼¦ý˝³šÐ²?
NK „×ÐÝ˚þ½š=?ÓÝ¸¹š²=„Ðð−Þ−³ðK?K

·Ðˇ=Þˇ=š×Ð³½¹˚Ğš½š=³½−=ðˇÞ−ÞÐðş=šÐð−Þ−³ðş×Ð−I=š×ÐÝ˚þ½š=
?ËˇÞ−ÞK=„Ðð−Þ−³ðK?K

„×ÐÝ−ł¸=½−¼=◊₣−¼=ËÝš˝³½¹−¼
?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?=→=x„×ÐÝKz=→ ?Ô¼¦ý˝³šÐ²?=→=?◊₣−²=
ËÝš˝³½¹−¼?
NK „×ÐÝ˚þ½š=½−Þ=¸₣−=ðÝš˝³½¹−¼=ˇ×ş=P=×¹−¹¼¦ýÐ³ý˚Þˇ=ý−½˝ŁˇK

Òžýš˝ğ³ž
≥ ·Ðˇ=½ž=Ò¼Þš₣¸=È¸Ğž=₣¹ž³Ðý−×−Ðš˝½ˇÐ=˚Þˇ²=þš₣ğ¹Ð³½ş²=¸₣−²=

ðÝš˝³½¹−¼I=−=−×−˝−²=ŠšÞ=ý×−¹š˝=Þˇ=ˇÝÝˇ₣¦š˝=
₣¹ž³Ðý−×−ÐćÞ½ˇ²=½Ð²=×¹−ˇÞˇ¾š¹şýšÞš²=¹¼¦ý˝³šÐ²K

≥ Ì=¸₣−²=ðÝš˝³½¹−¼=×ˇ¹ˇý˚ÞšÐ=šÞš¹łş²=ˇðşýž=ðˇÐ=š˙Þ=ž=
?·šÞÐð¸=˚Þ½ˇ³ž=¾ğÞ¸²?=E³šÝK VPF=š˝ÞˇÐ=¹¼¦ýÐ³ý˚Þž=³½−=
?ÒÐğ×žÝş?=łÐˇ=Þˇ=ˇ×−½¹ˇ×š˝=ž=ýž=šþ−¼³Ð−Š−½žý˚Þž=₣¹¸³žK

ÈšÐ½−¼¹ł˝š²=‡ÐÞ½š−ð˙ýš¹ˇ²
„×ÐÝ−ł¸=‚Ð˙¹ðšÐˇ²=ðˇÐ=Íšł˚¦−¼²=„łł¹ˇ¾¸²
?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?=→=x„×ÐÝKz=→=?‚Ð˙¹ðKLÍ˚łK=šłł¹ˇ¾¸²?
NK „×ÐÝ˚þ½š=?·Ðˇ=fl×−³½K=ÍžÞ?=¸=?Íšł˙Ý−=sáÇÉç?K

?·Ðˇ=fl×−³½K=ÍžÞ?W Óš¹Ð−¹˝ŽšÐ=½−=ý˚łš¦−²=łÐˇ=½žÞ=
ˇ×−³½−Ý¸=ýžÞĆýˇ½−²=̌ Þ˙Ý−łˇ=ýš=
½−Þ=×ˇ¹−₣˚ˇ=ŠÐð½Ć−¼K

?Íšł˙Ý−=sáÇÉç?W ÈÐłş½š¹−=ˇ×ş=PM=Ýš×½˙K=
Ešþˇ¹½˙½ˇÐ=ˇ×ş=½ž=₣ğ¹ž½Ððş½ž½ˇ=
½ž²=ýÞ¸ýž²F

OK „×ÐÝ˚þ½š=?Íšł˙Ý−En`fcF?=¸=?ÍÐð¹ş=EpìÄn`fcF?=ý˚łš¦−²=
¾ğ½−ł¹ˇ¾˝ˇ²=łÐˇ=?·Ðˇ=fl×−³½K=ÍžÞ?=ðˇÐ=?nsd^EPÖéF?I=
?nsd^E~ëÑF?I=?Íšł˙Ý−En`fcF?=¸=?ÍÐð¹şEpìÄn`fcF?=ý˚łš¦−²=
¾ğ½−ł¹ˇ¾˝ˇ²=łÐˇ=½−=?Íšł˙Ý−=sáÇÉç?K



QU Ùğ½−ł¹ˇ¾Ðð¸=Íž₣ˇÞ¸

Òžýš˝ğ³ž
≥ „˙Þ=š×ÐÝ˚þš½š=?·Ðˇ=fl×−³½K=ÍžÞ?=łÐˇ=½ž=ŠÐ˙¹ðšÐˇ=šłł¹ˇ¾¸²I=½−=

ý˚łš¦−²=½−¼=ˇ¹₣š˝−¼=×š¹Ð−¹˝Žš½ˇÐ=ˇÞ˙Ý−łˇ=ýš=½−Þ=×ˇ¹−₣˚ˇ=
¼×ž¹š³ÐćÞK

≥ Ú−=ý¸Þ¼ýˇ=?fl×−¦¸ðK=C=fl×−³½−Ý¸?=ŠšÞ=šý¾ˇÞ˝Žš½ˇÐ=ýš½˙=½žÞ=
šłł¹ˇ¾¸=³½ž=ÝšÐ½−¼¹ł˝ˇ=Íšł˙Ý−¼=sáÇÉçK

„łł¹ˇ¾¸=sáÇÉç=`äáéë=ýš=◊₣−
·Ðˇ=Þˇ=ł¹˙Ğš½š=˚Þˇ=îáÇÉç=Åäáé=ýš=¸₣−=¦ˇ=×¹˚×šÐ=Þˇ=˚₣š½š=
šÞš¹ł−×−Ð¸³šÐ=½−=ýÐð¹ş¾ğÞ−K

?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?=→=x„×ÐÝKz=→ ?Ô¼¦ý˝³šÐ²?=
→=?ÍÐð¹ş¾ğÞ−?
NK „×ÐÝ˚þ½š=?„Þš¹łş?=¸=?Íž=šÞš¹łş?K

Òžýš˝ğ³ž
≥ Ú−=ýÐð¹ş¾ğÞ−=š˝ÞˇÐ=¸Šž=šÞš¹ł−×−Ðžý˚Þ−=³½žÞ=

×¹−š×ÐÝšłý˚Þž=¹Ć¦ýÐ³žK=„×ÐÝ˚þ½š=?Íž=šÞš¹łş?=łÐˇ=Þˇ=
ł¹˙Ğš½š=˚Þˇ=îáÇÉç=Åäáé=₣ğ¹˝²=¸₣−K

≥ Ú−=ý˚łš¦−²=ˇ¹₣š˝−¼=łÐˇ=½−=îáÇÉç=Åäáé=ý×−¹š˝=Þˇ=ýšÐğ¦š˝=š˙Þ=
ŠšÞ=šłł¹ˇ¾š˝=½ˇ¼½ş₣¹−Þˇ=ðˇÐ=−=¸₣−²K

ËğŠÐð−×−˝ž³ž=sáÇÉç
?Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸?=→=x„×ÐÝKz=→ ?Ô¼¦ý˝³šÐ²?=→=?ËğŠÐð−×K=
sáÇÉç?
NK „×ÐÝ˚þ½š=½−=ðˇ½˙ÝÝžÝ−=¾−¹ý˙K



ÍžÞĆýˇ½ˇ QV

ÍžÞĆýˇ½ˇ
Ú−=½žÝ˚¾ğÞş=³ˇ²=š×Ð½¹˚×šÐ=Þˇ=³½š˝Ýš½š=ðˇÐ=Þˇ=Ý˙Łš½š=ðš˝ýšÞ−I=
jjp=ðˇÐ=bã~áäK

pjp
Â=ÝšÐ½−¼¹ł˝ˇ=pjp=³˙²=š×Ð½¹˚×šÐ=Þˇ=³½˚ÝÞš½š=ł¹ˇ×½˙=ýžÞĆýˇ½ˇ=
ýšł˚¦−¼²=̊ ğ²=ðˇÐ=TSR=₣ˇ¹ˇð½¸¹š²K=„˙Þ=³½š˝Ýš½š=̊ Þˇ=ý¸Þ¼ýˇ=ýš=
×š¹Ð³³ş½š¹−¼²=ˇ×ş=NSM=₣ˇ¹ˇð½¸¹š²I=½ş½š=ˇ¼½ş=₣ğ¹˝Žš½ˇÐ=³š=
×š¹Ð³³ş½š¹ˇ=½ý¸ýˇ½ˇK

jjp
Â=ÝšÐ½−¼¹ł˝ˇ=jjp=³˙²=š×Ð½¹˚×šÐ=Þˇ=ÝˇýŁ˙Þš½š=ðˇÐ=Þˇ=³½˚ÝÞš½š=
ýžÞĆýˇ½ˇ=×−Ý¼ý˚³ğÞ=₣ğ¹ž½Ððş½ž½ˇ²=˚ğ²=ðˇÐ=PMM h_=ýš=
³¼Þžýý˚Þš²=¾ğ½−ł¹ˇ¾˝š²I=¸₣−¼²=¸=îáÇÉç=ÅäáéëK

bã~áä
Â=ÝšÐ½−¼¹ł˝ˇ=bã~áä=³˙²=š×Ð½¹˚×šÐ=Þˇ=³½š˝Ýš½š=ýžÞĆýˇ½ˇ=
ýšł˚¦−¼²=˚ğ²=ðˇÐ=PMM h_K

Òžýš˝ğ³ž
≥ Ì¹Ð³ý˚Þš²=ÝšÐ½−¼¹ł˝š²=jjp=šÞŠ˚₣š½ˇÐ=Þˇ=ýžÞ=š˝ÞˇÐ=

ŠÐˇ¦˚³Ðýš²=×˙Þ½−½šI=×¹˙łýˇ=×−¼=šþˇ¹½˙½ˇÐ=ˇ×ş=½−=Š˝ð½¼ş=
³ˇ²K=·Ðˇ=×š¹Ð³³ş½š¹š²=×Ýž¹−¾−¹˝š²I=š×Ðð−ÐÞğÞ¸³½š=ýš=½−Þ=
×ˇ¹−₣˚ˇ=¼×ž¹š³ÐćÞK

≥ Ú−=ý˚łÐ³½−=ý˚łš¦−²=½−¼=ýžÞĆýˇ½−²=ŠÐˇ¾˚¹šÐ=šþˇ¹½ćýšÞ−=
ˇ×ş=½Ð²=¹¼¦ý˝³šÐ²=×−¼=˚₣šÐ=×¹ˇłýˇ½−×−Ð¸³šÐ=−=×ˇ¹−₣˚ˇ²=
¼×ž¹š³ÐćÞK

NK ÓšŠ˝−=×ˇ¹ˇÝ¸×½ž

OK ÓšŠ˝−=ýžÞĆýˇ½−²
PK ÷ÞŠšÐþž=ˇ×−³½−Ý¸²

QK „ÞŠš˝þšÐ²=³¼Þžýý˚ÞğÞ=Eˇ×ş=ˇ¹Ð³½š¹˙W=šÐðşÞˇI=¸₣−²I=îáÇÉç=
ÅäáéI=˙ÝÝˇF

=Ej=QF

3

2

1

4



RM ÍžÞĆýˇ½ˇ

‚žýÐ−¼¹ł˝ˇ=Î˚−¼=ÍžÞĆýˇ½−²
EpjpLjjpF
A=→=?‚žýÐ−¼¹ł˝ˇ=ýžÞĆýˇ½−²?=→=?Í¸Þ¼ýˇ?
Ebã~áäF
A=→=?‚žýÐ−¼¹ł˝ˇ=ýžÞĆýˇ½−²?=→=?bã~áä?
NK „×ÐÝ˚þ½š=½−=×šŠ˝−=ŠÐšĆ¦¼Þ³ž²K

OK „×ÐÝ˚þš½š=½žÞ=š×Ð¦¼ýž½¸=ý˚¦−Š−=łÐˇ=Þˇ=šÐ³˙łš½š=½ž=
ŠÐšĆ¦¼Þ³žK

PK ·Ðˇ=½−=jjpI=šÐ³˙łš½š=¸=š×ÐÝ˚þ½š=½ž=ŠÐšĆ¦¼Þ³ž=bã~áä=¸=½−Þ=
ˇ¹Ð¦ýş=½žÝš¾ćÞ−¼=ˇ×ş=½ž=È˝³½ˇ=„×ˇ¾ćÞK=·Ðˇ=½−=pjpI=
šÐ³˙łš½š=½−Þ=ˇ¹Ð¦ýş=½žÝš¾ćÞ−¼K=·Ðˇ=½−=bã~áäI=šÐ³˙łš½š=¸=
š×ÐÝ˚þ½š=ýÐˇ=ŠÐšĆ¦¼Þ³ž=bã~áäK
≥ ·Ðˇ=Þˇ=×¹−³¦˚³½š=×−ÝÝˇ×Ý˚²=ŠÐš¼¦ĆÞ³šÐ²=bã~áä=¸=

½žÝš¾ğÞÐð−Ć²=ˇ¹Ð¦ý−Ć²I=ýˇ¹ð˙¹š½š=½−=×šŠ˝−=½−¼=
ˇ×−Š˚ð½žI=×Ð˚³½š=x„×ÐÝKzI=š×ÐÝ˚þ½š=?„×šþš¹łK=
fl×−Ššð½ćÞ?I=³½ž=³¼Þ˚₣šÐˇ=š×ÐÝ˚þ½š=?Ó¹−³¦K=„×ˇ¾¸²?K=
„Ð³˙łš½š=¸=š×ÐÝ˚þ½š=½ž=ŠÐšĆ¦¼Þ³ž=bã~áä=¸=½−Þ=ˇ¹Ð¦ýş=
½žÝš¾ćÞ−¼=ˇ×ş=½žÞ=¼×˙¹₣−¼³ˇ=È˝³½ˇ=„×ˇ¾ćÞK

≥ ·Ðˇ=Þˇ=ˇÝÝ˙þš½š=½−Þ=½Ć×−=ˇ×−Ššð½ćÞI=×Ð˚³½š=x„×ÐÝKzI=
š×ÐÝ˚þ½š=?„×šþš¹łK=fl×−Ššð½ćÞ?=ðˇÐ=ýˇ¹ð˙¹š½š=½−Þ=
š×Ð¦¼ýž½ş=̌ ×−Š˚ð½žK=ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?flÝÝˇł¸=
³š=ÓÔÌÒ?I=?flÝÝˇł¸=³š=``?=¸=?flÝÝˇł¸=³š=_``?K

≥ ·Ðˇ=Þˇ=×¹−³¦˚³š½š=˚Þˇ=¦˚ýˇI=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=
?Ó¹−³¦K=Ê˚ýˇ½−²?K=

QK Ú−×−¦š½¸³½š=½−=Š¹−ý˚ˇ=³½−=×šŠ˝−=½−¼=ýžÞĆýˇ½−²K

RK „Ð³˙łš½š=½−=ý¸Þ¼ýˇK

SK Íˇ¹ð˙¹š½š=½žÞ=˚ÞŠšÐþž=?fl×−³½−Ý¸?=³½žÞ=ð˙½ğ=ˇ¹Ð³½š¹¸=
łğÞ˝ˇ=½ž²=−¦şÞž²K=ÓÐ˚³½š= =ðˇÐ=š×ÐÝ˚þ½š=?fl×−³½−Ý¸=
ÍžÞĆýˇ½−²?K
Íš½˙=½žÞ=ˇ×−³½−Ý¸=½−¼=ýžÞĆýˇ½−²I=½−=ý¸Þ¼ýˇ=
ýš½ˇ¾˚¹š½ˇÐ=³½−=¾˙ðšÝ−=Ò½ˇÝý˚ÞˇK

Ò¼ýŁ−¼Ý¸
≥ ·Ðˇ=Þˇ=³½š˝Ýš½š=½−=˝ŠÐ−=ý¸Þ¼ýˇ=³š=ý˝ˇ=−ý˙Šˇ=×ˇ¹ˇÝž×½ćÞI=

š×ÐÝ˚þ½š=?„×ÐÝ−ł¸=−ý˙Šˇ²?=³½−=Ł¸ýˇ=PI=³½žÞ=³¼Þ˚₣šÐˇ=
š×ÐÝ˚þ½š=½−=şÞ−ýˇ=½ž²=−ý˙Šˇ²=×−¼=š×Ð¦¼ýš˝½šK=·Ðˇ=
×š¹Ð³³ş½š¹š²=×Ýž¹−¾−¹˝š²=³₣š½Ðð˙=ýš=½ž=ŠžýÐ−¼¹ł˝ˇ=Ý˝³½ˇ²=
ýžÞ¼ý˙½ğÞI=Šš˝½š=?‚žýÐ−¼¹ł˝ˇ=ý˝ˇ²=Î˚ˇ²=È˝³½ˇ²=
ÍžÞ¼ý˙½ğÞ?=³½ž=³šÝ˝Šˇ PUK

Ó¹−³¦¸ðž=šÞş²=päáÇÉ=pÜçï
NK Ò½−=Ł¸ýˇ=R=³½ž=?‚žýÐ−¼¹ł˝ˇ=Î˚−¼=ÍžÞĆýˇ½−²?I=×Ð˚³½š=

x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ó¹−³¦¸ðž=päáÇÉ?K
„˙Þ=¦˚Ýš½š=Þˇ=×¹−³¦˚³š½š=×š¹Ð³³ş½š¹ˇ=ëäáÇÉëI=š×ÐÝ˚þ½š=
?Ó¹−³¦¸ðž=ëäáÇÉ=ýš½˙?=¸=?Ó¹−³¦¸ðž=ëäáÇÉ=×¹ÐÞ?K

OK „Ð³˙łš½š=½−=ý¸Þ¼ýˇK
flÞ=š×Ð¦¼ýš˝½š=Þˇ=¹¼¦ý˝³š½š=½žÞ=ŠÐ˙¹ðšÐˇ=½−¼=ð˙¦š=ëäáÇÉI=
ýˇ¹ð˙¹š½š=½−=ŠÐ˙ðšÞ−=ˇÞ˙ýš³ˇ=³½ˇ=ëäáÇÉëK=ÓÐ˚³½š=x„×ÐÝKz=
ðˇÐ=š×ÐÝ˚þš½š=?‚Ð˙¹ðšÐˇ=ëäáÇÉ?I=ðˇÐ=ýš½˙=š×ÐÝ˚þš½š=½žÞ=
š×Ð¦¼ýž½¸=ŠÐ˙¹ðšÐˇK

Ò¼ýŁ−¼Ý¸
≥ Í×−¹š˝½š=Þˇ=ŠžýÐ−¼¹ł¸³š½š=ýžÞĆýˇ½ˇ=ýšł˚¦−¼²=˚ğ²=ðˇÐ=

PMM h_K=Ë˙¦š=ëäáÇÉ=ý×−¹š˝=Þˇ=×š¹Ð˚₣šÐ=ý˝ˇ=¾ğ½−ł¹ˇ¾˝ˇ=¸LðˇÐ=
˚Þˇ=ˇ¹₣š˝−=¸₣−¼=¸=îáÇÉç=ÅäáéK

=Ej=QJNF



ÍžÞĆýˇ½ˇ RN

„×Ð³ĆÞˇĞž=‚šŠ−ý˚ÞğÞ=ˇ×ş=Ú−=¼ÝÐðş=ý−¼
NK Ò½−=Ł¸ýˇ=R=³½ž=?‚žýÐ−¼¹ł˝ˇ=Î˚−¼=ÍžÞĆýˇ½−²?=³½ž=

³šÝ˝Šˇ RMI=ýˇ¹ð˙¹š½š=½žÞ=˚ÞŠšÐþž=?„ÐðşÞˇ?I=?◊₣−²?=¸=
?‡˝Þ½š−?=³½−=ð˙½ğ=ý˚¹−²=½ž²=−¦şÞž²=ðšÞ½¹Ðð˙I=ðˇÐ=³½ž=
³¼Þ˚₣šÐˇ=×Ð˚³½š= K

OK „×ÐÝ˚þ½š==?fl×−¦K=Ùğ½−ł¹K?I=?fl×−¦žðš¼ý˚Þ−Ð=¸₣−Ð?=¸=
?fl×−¦žðš¼ý˚Þˇ=Ł˝Þ½š−?K

PK „×ÐÝ˚þ½š=½−=ˇ¹₣š˝−=×−¼=š×Ð¦¼ýš˝½šK
„˙Þ=¦˚Ýš½š=Þˇ=½¹ˇŁ¸þš½š=Þ˚š²=¾ğ½−ł¹ˇ¾˝š²I=Þˇ=
ž₣−ł¹ˇ¾¸³š½š=¸₣−¼²=¸=Þˇ=ł¹˙Ğš½š=îáÇÉç=ÅäáéëI=š×ÐÝ˚þ½š=
?È¸Ğž=Ùğ½−ł¹ˇ¾˝ˇ?I=?„łł¹ˇ¾¸=¸₣−¼?=¸=?„łł¹ˇ¾¸=sáÇÉç?K
≥ ⁄½ˇÞ=š×Ð³¼Þ˙×½š½š=̌ ¹₣š˝ˇ=gmbdI=š×ÐÝ˚þ½š=½žÞ=ðˇ½˙ÝÝžÝž=

š×ÐÝ−ł¸=ˇÝÝˇł¸²=ýšł˚¦−¼²I=ðˇ¦ć²=½−=ý˚łÐ³½−=ý˚łš¦−²=
ýžÞĆýˇ½−²=łÐˇ=ˇ×−³½−Ý¸=×−Ðð˝ÝšÐ=ˇÞ˙Ý−łˇ=ýš=½−Þ=
×ˇ¹−₣˚ˇ=¼×ž¹š³ÐćÞK

„×Ð³ĆÞˇĞž=ý˝ˇ²=Ëˇ½ˇ₣ć¹ž³ž²=È˝³½ˇ²=„×ˇ¾ćÞ
NK Ò½−=Ł¸ýˇ=RI=³½ž=?‚žýÐ−¼¹ł˝ˇ=Î˚−¼=ÍžÞĆýˇ½−²?=³½ž=

³šÝ˝Šˇ RMI=ýˇ¹ð˙¹š½š=½žÞ=˚ÞŠšÐþž=?¿ÝÝˇ?=³½žÞ=ð˙½ğ==ŠšþÐ˙=
łğÞ˝ˇ=½ž²=−¦şÞž²K=ÓÐ˚³½š= =ðˇÐ=š×ÐÝ˚þ½š=?„×Ð³ĆÞˇĞž=
š×ˇ¾¸²?K

OK „×ÐÝ˚þ½š=½žÞ=ðˇ½ˇ₣ć¹ž³ž=×−¼=š×Ð¦¼ýš˝½šK
„˙Þ=¦˚Ýš½š=Þˇ=š×ÐÝ˚þš½š=½ž=ŠÐð¸=³ˇ²=ðˇ½ˇ₣ć¹ž³ž=È˝³½ˇ²=
„×ˇ¾ćÞI=š×ÐÝ˚þ½š=?Ò½−Ð₣K=„×ˇ¾K=Í−¼?K

„×Ð³ĆÞˇĞž=ý˝ˇ²=Ëˇ½ˇ₣ć¹ž³ž²=ı¹−Þ−ŠÐˇł¹˙ýýˇ½−²
NK Ò½−=Ł¸ýˇ=RI=³½ž=?‚žýÐ−¼¹ł˝ˇ=Î˚−¼=ÍžÞĆýˇ½−²?=³½ž=³šÝ˝Šˇ RMI=

ýˇ¹ð˙¹š½š=½žÞ=˚ÞŠšÐþž=?¿ÝÝˇ?=³½žÞ=ð˙½ğ==ŠšþÐ˙=łğÞ˝ˇ=½ž²=
−¦şÞž²K=ÓÐ˚³½š= =ðˇÐ=š×ÐÝ˚þ½š=?„×Ð³ĆÞˇĞž=³¼Þ˙Þ½ž³ž²?K

OK „×ÐÝ˚þ½š=½žÞ=žý˚¹ˇ=×−¼=×š¹ÐÝˇýŁ˙ÞšÐ=½Ð²=ðˇ½ˇ₣ğ¹¸³šÐ²=
₣¹−Þ−ŠÐˇł¹˙ýýˇ½−²=×−¼=¦˚Ýš½š=Þˇ=š×Ð³¼Þ˙Ğš½šK

PK „×ÐÝ˚þ½š=½žÞ=ðˇ½ˇ₣ć¹ž³ž=₣¹−Þ−ŠÐˇł¹˙ýýˇ½−²=×−¼=š×Ð¦¼ýš˝½šK

Íš½ˇð˝Þž³ž=¸=fl¾ˇ˝¹š³ž=Ò¼Þžýý˚ÞğÞ
NK Ò½−=Ł¸ýˇ=R=³½−=?‚žýÐ−¼¹ł˝ˇ=Î˚−¼=ÍžÞĆýˇ½−²?=³½ž=

³šÝ˝Šˇ RMI=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þš½š=½žÞ=ˇÞ½˝³½−Ð₣ž=
š×ÐÝ−ł¸=ŠÐˇł¹ˇ¾¸²=łÐˇ=½−=ð˙¦š=š×Ð³¼Þˇ×½şýšÞ−K

ı¹¸³ž=½ğÞ=„×ÐÝ−łćÞ=fl×−³½−Ý¸²
Í×−¹š˝½š=Þˇ=₣¹ž³Ðý−×−Ð¸³š½š=½Ð²=š×ÐÝ−ł˚²=ˇ×−³½−Ý¸²=
ýžÞ¼ý˙½ğÞ=łÐˇ=ð˙¦š=½Ć×−=ýžÞĆýˇ½−²K
NK Íˇ¹ð˙¹š½š=½žÞ=˚ÞŠšÐþž=?fl×−³½−Ý¸?=ð˙½ğ=ˇ¹Ð³½š¹˙=³½žÞ=

−¦şÞžI=ýš½˙=×Ð˚³½š= =ðˇÐ=š×ÐÝ˚þš½š=?Ô¼¦ý˝³šÐ²=
jžÞ¼ý˙½ğÞ?K
≥ ?flÞˇ¾−¹˙=flÞ˙łÞğ³ž²?=E?„Þš¹łş?I=?Íž=šÞš¹łş?F=EjjpFW=

„×ÐŁšŁˇÐćÞšÐ=š˙Þ=¦ˇ=ˇ×−³½ˇÝš˝=¸=ş₣Ð=ý˝ˇ=ˇÞˇ¾−¹˙=×−¼=¦ˇ=
šÐŠ−×−Ðš˝=½−Þ=ˇ×−³½−Ý˚ˇ=ş½Ð=˚₣šÐ=ŠÐˇŁˇ³½š˝=½−=ý¸Þ¼ýˇK

≥ ?flÞˇ¾−¹˙=Óˇ¹˙Š−³ž²?=E?„Þš¹łş?I=?Íž=šÞš¹łş?F=EpjpL
jjpFW=„Þš¹ł−×−Ðš˝=¸=ˇ×šÞš¹ł−×−Ðš˝=½žÞ=flÞˇ¾−¹˙=
Óˇ¹˙Š−³ž²=łÐˇ=½žÞ=š×Ð½¼₣¸=ˇ×−³½−Ý¸=½−¼=ýžÞĆýˇ½−²=
³½−Þ=×ˇ¹ˇÝ¸×½žK

≥ ?›¹ˇ=È¸þž²?=E?Í˚łÐ³½ž?I=?PM=Ýš×½˙?I=?N=ć¹ˇ?I=?S=ć¹š²?I=
?N=žý˚¹ˇ?I=?N=šŁŠ−ý˙Šˇ?F=EpjpLjjpFW=Ì¹˝ŽšÐ=½žÞ=›¹ˇ=
È¸þž²=ý˚₣¹Ð=½žÞ=−×−˝ˇ=˚Þˇ=ý¸Þ¼ýˇ=¦ˇ=×ˇ¹ˇý˚ÞšÐ=
ˇ×−¦žðš¼ý˚Þ−=³½−=ŠÐˇð−ýÐ³½¸K

≥ ?Ó¹−½š¹ˇÐş½ž½ˇ?=E?ÛĞžÝ¸?I=?ËˇÞ−ÞÐð¸?I=?ıˇýžÝ¸?FW=
„ð₣ğ¹š˝=×¹−½š¹ˇÐş½ž½š²=³½ˇ=ýžÞĆýˇ½ˇ=×−¼=ŠžýÐ−¼¹łš˝½šK

≥ ?›¹ˇ=Óˇ¹˙Š−³ž²?=E?Ëˇý˝ˇ=ðˇ¦¼³½˚¹ž³ž?I=?PM=Ýš×½˙?I=?N=
ć¹ˇ?I=?S=ć¹š²?I=?N=žý˚¹ˇ?I=?N=šŁŠ−ý˙Šˇ?F=EpjpLjjpFW=
Ô¼¦ý˝ŽšÐ=½−=₣¹−ÞÐðş=ŠÐ˙³½žýˇ=×¹ÐÞ=½žÞ=×ˇ¹˙Š−³ž=½−¼=
ýžÞĆýˇ½−²K



RO ÍžÞĆýˇ½ˇ

OK Íˇ¹ð˙¹š½š=½žÞ=˚ÞŠšÐþž=?fl×−³½−Ý¸?=³½žÞ=ð˙½ğ=ˇ¹Ð³½š¹¸=
łğÞ˝ˇ=½ž²=−¦şÞž²K=ÓÐ˚³½š= =ðˇÐ=š×ÐÝ˚þ½š=?fl×−³½−Ý¸=
ÍžÞĆýˇ½−²?K
Íš½˙=½žÞ=ˇ×−³½−Ý¸=½−¼=ýžÞĆýˇ½−²I=½−=ý¸Þ¼ýˇ=
ýš½ˇ¾˚¹š½ˇÐ=³½−=¾˙ðšÝ−=Ò½ˇÝý˚ÞˇK

Òžýš˝ğ³ž
≥ Ú−=½¹˚₣−Þ=ý˚łš¦−²=ýžÞĆýˇ½−²=×−¼=šý¾ˇÞ˝Žš½ˇÐ=ðˇ½˙=½ž=

ŠÐ˙¹ðšÐˇ=ŠžýÐ−¼¹ł˝ˇ²=½−¼=ýžÞĆýˇ½−²=š˝ÞˇÐ=×¹−³šłłÐ³½ÐðşK
≥ „˙Þ=˚Þˇ=ý¸Þ¼ýˇ=ŠšÞ=ý×−¹š˝=Þˇ=ˇ×−³½ˇÝš˝=łÐˇ=ð˙×−Ð−=Ýşł−I=

½ş½š=½−=ý¸Þ¼ýˇ=×ˇ¹ˇý˚ÞšÐ=³½ˇ=„þš¹₣şýšÞˇ=ðˇÐ=³½žÞ=
ðˇ½˙³½ˇ³ž=ˇÞˇý−Þ¸²=šý¾ˇÞ˝Žš½ˇÐ=½−=? ?K

Ò¼ýŁ−¼Ý¸
≥ ·Ðˇ=Þˇ=̌ ×−¦žðšĆ³š½š=½−=ý¸Þ¼ýˇ=₣ğ¹˝²=Þˇ=½−=³½š˝Ýš½šI=×Ð˚³½š=

x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?fl×−¦K=³½ˇ=Ó¹ş₣K?=³½−=Ł¸ýˇ=R=
?‚žýÐ−¼¹ł˝ˇ=Î˚−¼=ÍžÞĆýˇ½−²?=³½ž=³šÝ˝Šˇ RMK

≥ Í×−¹š˝½š=Þˇ=³½š˝Ýš½š=½ˇ=×ˇ¹ˇð˙½ğ=³½−Ð₣š˝ˇ=ğ²=³¼Þžýý˚Þˇ=
³½ˇ=ýžÞĆýˇ½ˇ=×−Ý¼ý˚³ğÞK=Èš×½−ý˚¹šÐš²=ˇÞˇ¾˚¹−Þ½ˇÐ=³½Ð²=
×ˇ¹ˇð˙½ğ=šÞş½ž½š²K
≥ ‚šŠ−ý˚Þˇ=ˇ×ş=Ú−=¼ÝÐðş=ý−¼
≥ Ëˇ½ˇ₣ć¹ž³ž=È˝³½ˇ²=„×ˇ¾ćÞ
≥ fl¹₣š˝−=Eðˇ½ˇ₣ć¹ž³ž=₣¹−Þ−ŠÐˇł¹˙ýýˇ½−²=×−¼=˚₣šÐ=

ŠžýÐ−¼¹łž¦š˝=³½−=Âýš¹−ÝşłÐ−I=ðˇ½ˇ₣ć¹ž³ž=È˝³½ˇ²=
š×ˇ¾ćÞF=ðÝ×K

≥ Í×−¹š˝½š=ˇðşýž=Þˇ=₣¹ž³Ðý−×−Ð¸³š½š=½žÞ=š×ÐÝ−ł¸=×¹−½Ć×ğÞ=
łÐˇ=Þˇ=³¼Þ¦˚³š½š=˚Þˇ=ý¸Þ¼ýˇK=·Ðˇ=Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=
½ž=₣¹¸³ž=ˇ¼½¸²=½ž²=š×ÐÝ−ł¸²I=Šš˝½š=?ı¹¸³ž=Ó¹−½Ć×ğÞ?=³½ž=
³šÝ˝Šˇ PNK

fl×−³½−Ý¸=ÍžÞĆýˇ½−²=ˇ×ş=½ˇ=Ó¹ş₣šÐ¹ˇ
A=→=?Ó¹ş₣šÐ¹ˇ?
NK „×ÐÝ˚þ½š=½žÞ=ðˇ¹½˚Ýˇ=×−¼=¦˚Ýš½šI=pjpLjjp=¸=bJã~áäK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?„×šþK=C=fl×−³½K?K

PK Ú¹−×−×−Ð¸³½š=½−=ý¸Þ¼ýˇI=š˙Þ=₣¹šÐ˙Žš½ˇÐK

QK Íˇ¹ð˙¹š½š=½žÞ=˚ÞŠšÐþž=?fl×−³½−Ý¸?=³½žÞ=ð˙½ğ=ˇ¹Ð³½š¹¸=
łğÞ˝ˇ=½ž²=−¦şÞž²K=ÓÐ˚³½š= =ðˇÐ=š×ÐÝ˚þ½š=?fl×−³½−Ý¸=
ÍžÞĆýˇ½−²?K

fl×−³½−Ý¸=šÞş²=ÍžÞĆýˇ½−²=ÙğÞž½Ðð−Ć=fl×−³×˙³ýˇ½−²=¸=šÞş²=
ÍžÞĆýˇ½−²=sáÇÉç=`äáé
Í×−¹š˝½š=Þˇ=ł¹˙Ğš½š=˚Þˇ=¾ğÞž½Ððş=ˇ×ş³×ˇ³ýˇ=¸=˚Þˇ=îáÇÉç=
Åäáé=šÞć=ŠžýÐ−¼¹łš˝½š=˚Þˇ=Þ˚−=ý¸Þ¼ýˇK=

„×ÐÝ˚þ½š=½žÞ=ðˇ½˙ÝÝžÝž=š×ÐÝ−ł¸K=
A=→=?‚žýÐ−¼¹ł˝ˇ=ýžÞĆýˇ½−²?=→=?ÙğÞž½Ððş=ý¸Þ¼ýˇ?
A=→=?‚žýÐ−¼¹ł˝ˇ=ýžÞĆýˇ½−²?=→=?Í¸Þ¼ýˇ=îáÇÉç?
NK ÓÐ˚³½š= =łÐˇ=Þˇ=þšðÐÞ¸³šÐ=ž=ž₣−ł¹˙¾ž³žK

OK ÓÐ˚³½š= =łÐˇ=Þˇ=³½ˇýˇ½¸³šÐ=ž=ž₣−ł¹˙¾ž³žK

PK „×ÐÝ˚þ½š=?fl×−Š−₣¸?=łÐˇ=Þˇ=½−=š×Ð³¼Þ˙Ğš½š=³½−=Þ˚−=ý¸Þ¼ýˇK
Ú−=̌ ¹₣š˝−=ˇ×−¦žðšĆš½ˇÐ=³½−Þ=̌ Þ½˝³½−Ð₣−=¾˙ðšÝ−=Ò½−=¼ÝÐðş=
ý−¼K
·Ðˇ=×¹ş³¦š½š²=ŠÐˇŠÐðˇ³˝š²I=Šš˝½š=?‚žýÐ−¼¹ł˝ˇ=Î˚−¼=
ÍžÞĆýˇ½−²?=³½ž=³šÝ˝Šˇ RMK

=Ej=QJPF

=Ej=QJNJOF=Ej=QJNJPF



ÍžÞĆýˇ½ˇ RP

flÞ˙łÞğ³ž=ÍžÞ¼ý˙½ğÞ
Úˇ=ýžÞĆýˇ½ˇ=×−¼=ÝˇýŁ˙Þš½š=ˇ×−¦žðšĆ−Þ½ˇÐ=³½ˇ=„Ð³š¹₣şýšÞˇK
A=→=?„Ð³š¹₣şýšÞˇ?
NK „×ÐÝ˚þ½š=½−=ý¸Þ¼ýˇ=×−¼=¦˚Ýš½š=Þˇ=Šš˝½šK

fl×−¦¸ðš¼³ž=½−¼=fl¹Ð¦ý−Ć=ÚžÝš¾ćÞ−¼=šÞş²=fl×−³½−Ý˚ˇ=³½ž=
È˝³½ˇ=„×ˇ¾ćÞ
A=→=?„Ð³š¹₣şýšÞˇ?
NK Íˇ¹ð˙¹š½š=½−=ý¸Þ¼ýˇ=ˇ×ş=½−=−×−˝−=¦˚Ýš½š=Þˇ=

ˇ×−¦žðšĆ³š½š=½−Þ=ˇ¹Ð¦ýş=½žÝš¾ćÞ−¼=¸=½ž=ŠÐšĆ¦¼Þ³ž=
bã~áäK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?fl×−¦¸ðK=ŠÐšĆ¦¼Þ³ž²?K
„ý¾ˇÞ˝Žš½ˇÐ=ž=−¦şÞž=Þ˚ˇ²=ðˇ½ˇ₣ć¹ž³ž²=½ž²=È˝³½ˇ²=
„×ˇ¾ćÞ=×−¼=×š¹ÐÝˇýŁ˙ÞšÐ=½−Þ=½žÝš¾ğÞÐðş=ˇ¹Ð¦ýşK=·Ðˇ=
Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½ž=ŠžýÐ−¼¹ł˝ˇ=ý˝ˇ²=Þ˚ˇ²=
ðˇ½ˇ₣ć¹ž³ž²=³½ž=È˝³½ˇ=„×ˇ¾ćÞ=Šš˝½š=?Ó¹−³¦¸ðž=Î˚ˇ²=
„×ˇ¾¸²?=³½ž=³šÝ˝Šˇ PRK

ËÝ¸³ž=½−¼=fl¹Ð¦ý−Ć=ÚžÝš¾ćÞ−¼=šÞş²=fl×−³½−Ý˚ˇ=×−¼=
Óš¹Ð˚₣š½ˇÐ=³š=˚Þˇ=Í¸Þ¼ýˇ
A=→=?„Ð³š¹₣şýšÞˇ?
NK Íˇ¹ð˙¹š½š=½−=ý¸Þ¼ýˇ=×−¼=×š¹ÐÝˇýŁ˙ÞšÐ=½−Þ=½žÝš¾ğÞÐðş=

ˇ¹Ð¦ýş=×−¼=¦˚Ýš½š=Þˇ=ðˇÝ˚³š½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?ËÝ¸³ž=ˇ×−³½−Ý˚ˇ?K

È¸Ğž=šÞş²=Í−ÞˇŠÐð−Ć=jjp
A=→=?„Ð³š¹₣şýšÞˇ?
NK Íˇ¹ð˙¹š½š=½žÞ=šÐŠ−×−˝ž³ž=ýžÞĆýˇ½−²=E F=×−¼=¦˚Ýš½š=Þˇ=

?ðˇ½šŁ˙³š½š?K

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ùş¹½ğ³ž?K

Ò¼ýŁ−¼Ý¸
≥ Í×−¹š˝½š=Þˇ=?ðˇ½šŁ˙³š½š?=×š¹Ð³³ş½š¹ˇ=ýžÞĆýˇ½ˇ=

½ˇ¼½ş₣¹−ÞˇK=‚š˝½š=?È¸Ğž=Ó−ÝÝˇ×ÝćÞ=jjp?K

È¸Ğž=Ó−ÝÝˇ×ÝćÞ=jjp
A=→=?„Ð³š¹₣şýšÞˇ?
NK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?„ÐŠÐð˚²?K

OK „×ÐÝ˚þ½š=?Ó−ÝÝˇ×Ý¸=š×ÐÝ−ł¸?K

PK „×ÐÝ˚þ½š=½žÞ=šÐŠ−×−˝ž³ž=ýžÞĆýˇ½−²=×−¼=š×Ð¦¼ýš˝½šI=×Ð˚³½š=
x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?„×ÐÝ−ł¸?=¸=?„×ÐÝ−ł¸=⁄ÝğÞ?K

QK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ùş¹½ğ³ž?K
Úˇ=š×ÐÝšłý˚Þˇ=ýžÞĆýˇ½ˇ=ÝˇýŁ˙Þ−Þ½ˇÐ=½ˇ¼½ş₣¹−ÞˇK



RQ ÍžÞĆýˇ½ˇ

fl×˙Þ½ž³ž=³š=˚Þˇ=Í¸Þ¼ýˇ=¸=³š=⁄Ýš²=½Ð²=‚Ðš¼¦ĆÞ³šÐ²
A=→=?„Ð³š¹₣şýšÞˇ?
NK Íˇ¹ð˙¹š½š=½−=ý¸Þ¼ýˇ=½−¼=ˇ×−³½−Ý˚ˇ=³½−Þ=−×−˝−=¦˚Ýš½š=

Þˇ=ˇ×ˇÞ½¸³š½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?fl×˙Þ½ž³ž?=¸=?fl×˙Þ½ž³ž=şÝğÞ?K

PK „×ÐÝ˚þ½š=?fl×˙Þ½ž³ž?=¸=?fl×˙Þ½ž³ž=ýš=Ð³½−¹Ððş?K

QK „Ð³˙łš½š=½−=ý¸Þ¼ýˇK

RK Íˇ¹ð˙¹š½š=½žÞ=˚ÞŠšÐþž=?fl×−³½−Ý¸?=³½žÞ=ð˙½ğ=ˇ¹Ð³½š¹¸=
łğÞ˝ˇ=½ž²=−¦şÞž²K=ÓÐ˚³½š= =ðˇÐ=š×ÐÝ˚þ½š=?fl×−³½−Ý¸=
ÍžÞĆýˇ½−²?K

Ó¹−ć¦ž³ž=šÞş²=ÍžÞĆýˇ½−²
A=→=?„Ð³š¹₣şýšÞˇ?
NK Íˇ¹ð˙¹š½š=½−=ý¸Þ¼ýˇ=×−¼=¦˚Ýš½š=Þˇ=×¹−ğ¦¸³š½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ó¹−ć¦ž³ž?K

PK „ð½šÝ˚³½š=½ˇ=Ł¸ýˇ½ˇ=N=˚ğ²=S=³½ž=?‚žýÐ−¼¹ł˝ˇ=Î˚−¼=
ÍžÞĆýˇ½−²?=³½ž=³šÝ˝Šˇ RMK

ÚˇþÐÞşýž³ž=ÍžÞ¼ý˙½ğÞ=³½ž=È˝³½ˇ
A=→=?„Ð³š¹₣şýšÞˇ?
NK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?„ÐŠÐð˚²?K

OK „×ÐÝ˚þ½š=?ÚˇþÐÞşýž³ž?K

PK „×ÐÝ˚þ½š=½−Þ=½Ć×−=½ˇþÐÞşýž³ž²=×−¼=š×Ð¦¼ýš˝½šK



ÍžÞĆýˇ½ˇ RR

ËÝš˝Šğýˇ=ðˇÐ=ÏšðÝš˝Šğýˇ=½ğÞ=ÍžÞ¼ý˙½ğÞ
A=→=?„Ð³š¹₣şýšÞˇ?
NK Íˇ¹ð˙¹š½š=½−=ý¸Þ¼ýˇ=×−¼=¦˚Ýš½š=Þˇ=ðÝšÐŠć³š½š=¸=Þˇ=

þšðÝšÐŠć³š½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?„ÐŠÐð˚²?K

PK „×ÐÝ˚þ½š=?ËÝš˝Šğýˇ?=¸=?ÏšðÝš˝Šğýˇ?K



RS ÍžÞĆýˇ½ˇ

Ô¼¦ý˝³šÐ²=ÍžÞ¼ý˙½ğÞ
·šÞÐð˚²=Ô¼¦ý˝³šÐ²
A=→=?Ô¼¦ý˝³šÐ²=jžÞ¼ý˙½ğÞ?=→=?·šÞÐð˚²=Ô¼¦ý˝³šÐ²?
NK „×ÐÝ˚þ½š=½−=³½−Ð₣š˝−=×−¼=¦˚Ýš½š=Þˇ=¹¼¦ý˝³š½šK

≥ ?È¸Ğž=ˇ×ş=½−=³×˝½Ð?W
Ô¼¦ý˝ŽšÐ=½−=₣¹şÞ−=Ý¸Ğž²=½ğÞ=ýžÞ¼ý˙½ğÞ=³½žÞ=×š¹Ð−₣¸=
½−¼=−Ððš˝−¼=³ˇ²=ŠÐð½Ć−¼K

?Ó˙Þ½ˇ=Ý¸Ğž?W= ¿ýš³ž=Ý¸Ğž=ýžÞ¼ý˙½ğÞ=ˇ×ş=½−=
ŠÐˇð−ýÐ³½¸K

?Ó˙Þ½ˇ=ˇÞˇŁ−Ý¸?W= flÞˇŁ˙ÝÝšÐ=½ž=Ý¸Ğž=½ğÞ=
ýžÞ¼ý˙½ğÞK

≥ ?È¸Ğž=×š¹Ðˇłğł¸²K?W
Ô¼¦ý˝ŽšÐ=½−=₣¹şÞ−=Ý¸Ğž²=½ğÞ=ýžÞ¼ý˙½ğÞ=ş½ˇÞ=Ł¹˝³ðš³½š=
³š=×š¹Ðˇłğł¸=šð½ş²=½−¼=−Ððš˝−¼=ŠÐð½Ć−¼=³ˇ²K

?Ó˙Þ½ˇ=Ý¸Ğž?W= ¿ýš³ž=Ý¸Ğž=ýžÞ¼ý˙½ğÞ=ˇ×ş=½−=
ŠÐˇð−ýÐ³½¸K

?Ó˙Þ½ˇ=ˇÞˇŁ−Ý¸?W= flÞˇŁ˙ÝÝšÐ=½ž=Ý¸Ğž=½ğÞ=
ýžÞ¼ý˙½ğÞK

≥ ?flÞˇ¾−¹˙=Óˇ¹˙Š−³ž²?W
„Þš¹ł−×−Ðš˝=¸=ˇ×šÞš¹ł−×−Ðš˝=½žÞ=flÞˇ¾−¹˙=Óˇ¹˙Š−³ž²K

≥ ?flÞˇ¾−¹˙=flÞ˙łÞğ³ž²?W
„Þš¹ł−×−Ðš˝=¸=ˇ×šÞš¹ł−×−Ðš˝=½žÞ=flÞˇ¾−¹˙=flÞ˙łÞğ³ž²K

≥ ?›¹ˇ=È¸þž²?W
Û×−ŠžÝćÞšÐ=½Ð²=žý˚¹š²=ðˇÐ=ć¹š²=×−¼=ý×−¹š˝=Þˇ=
×ˇ¹ˇýš˝ÞšÐ=˚Þˇ=ý¸Þ¼ýˇ=×−¼=³½˚ÝÞš½š=³½−=ð˚Þ½¹−=
ýžÞ¼ý˙½ğÞ=₣ğ¹˝²=Þˇ=×ˇ¹ˇŠ−¦š˝=³½−Þ=×ˇ¹ˇÝ¸×½žK=Ëˇ½˙=
½ž=ŠÐ˙¹ðšÐˇ=ˇ¼½¸²=½ž²=×š¹ÐşŠ−¼I=½−=ð˚Þ½¹−=ýžÞ¼ý˙½ğÞ=
¦ˇ=×¹−³×ˇ¦š˝=³¼Þš₣ć²=Þˇ=×ˇ¹ˇŠć³šÐ=³½−Þ=×ˇ¹ˇÝ¸×½ž=
½−=ý¸Þ¼ýˇK

≥ ?fl×−³½K=flÞˇ¾K=Óˇ¹˙ŠK?W
„×ÐŁšŁˇÐćÞšÐ=š˙Þ=¦ˇ=ˇ×−³½ˇÝš˝=¸=ş₣Ð=ý˝ˇ=ˇÞˇ¾−¹˙=×−¼=
¦ˇ=šÐŠ−×−Ðš˝=½−Þ=ˇ×−³½−Ý˚ˇ=ş½Ð=˚₣š½š=Ý˙ŁšÐ=˚Þˇ=jjpL
pjpK

≥ ?fl×−ŠšÐð½K=ˇÞ˙łÞğ³ž²?W
„Þš¹ł−×−Ðš˝=¸=ˇ×šÞš¹ł−×−Ðš˝=½žÞ=fl×−³½−Ý¸=flÞˇ¾−¹˙²=
flÞ˙łÞğ³ž²=ş½ˇÞ=ˇ×ˇÐ½ž¦š˝=ˇ×ş=½−Þ=×ˇ¹ˇÝ¸×½ž=Þˇ=
šÞžýš¹ć³šÐ=½−Þ=ˇ×−³½−Ý¸=łÐˇ=½žÞ=ˇÞ˙łÞğ³ž=½−¼=
ýžÞĆýˇ½−²K

≥ ?Û×−ł¹ˇ¾¸?W
flÞ−˝łšÐ=½žÞ=−¦şÞž=šÐ³ˇłğł¸²=½ž²=¼×−ł¹ˇ¾¸²K

≥ ?fl¼½şýˇ½ž=ŠÐˇł¹ˇ¾¸?W
‚Ðˇł¹˙¾šÐ=ˇ¼½şýˇ½ˇ=½ç=×Ð−=×ˇÝÐş=ý¸Þ¼ýˇ=ˇ×ş=½−¼²=
¾ˇð˚Ý−¼²=?„Ð³š¹₣şýšÞˇ?I=?Ò½ˇÝý˚Þˇ?=¸=ðˇÐ=½−¼²=Š¼−=
E„Ð³š¹₣şýšÞˇ=ðˇÐ=Ò½ˇÝý˚ÞˇFI=ş½ˇÞ=ˇ¼½−˝=łšý˝³−¼ÞK

≥ ?fl¼½şýˇ½ž=š×ˇÞˇ×−³½−Ý¸?W
„×Ð₣šÐ¹š˝=Þˇ=³½š˝ÝšÐ=þˇÞ˙=ý˚₣¹Ð=Š¼−=¾−¹˚²=˚Þˇ=ý¸Þ¼ýˇ=
pjpLjjp=×−¼=ˇ×˚½¼₣š=Þˇ=³½ˇÝš˝=Eš×ÐÝ−ł¸=?„Þš¹łş?=¸=
?Íž=šÞš¹łş?FK

≥ ?Ó¹−Ł−Ý¸=Ý˝³½ˇ²=ýžÞ¼ý˙½ğÞ?W
„ÞˇÝÝ˙³³šÐ=½ž=Ý˝³½ˇ=½−¼=ł¹ˇýýˇ½−ðÐŁğ½˝−¼=ýš½ˇþĆ=
?Ó¹−Ł−Ý¸=ý˝ˇ²=ł¹ˇýý¸²?=ðˇÐ=?Ó¹−Ł−Ý¸=ŠĆ−=ł¹ˇýýćÞ?K

=Ej=QJVF
=Ej=QJVJNF



ÍžÞĆýˇ½ˇ RT

Ô¼¦ý˝³šÐ²=pjp
A=→=?Ô¼¦ý˝³šÐ²=jžÞ¼ý˙½ğÞ?=→=?Ô¼¦ý˝³šÐ²=pjp?
NK „×ÐÝ˚þ½š=½−=³½−Ð₣š˝−=×−¼=¦˚Ýš½š=Þˇ=¹¼¦ý˝³š½šK

≥ ?Ë˚Þ½¹−=ýžÞ¼ý˙½ğÞ?W
„Ð³˙łš½š=½−Þ=ˇ¹Ð¦ýş=½−¼=ð˚Þ½¹−¼=ýžÞ¼ý˙½ğÞK

„˙Þ=¦˚Ýš½š=Þˇ=šÐ³˙łš½š=½−Þ=ðğŠÐðş=₣ć¹ˇ²=³š=˚ÞˇÞ=
ŠÐš¦Þ¸=ˇ¹Ð¦ýş=ðÝ¸³ž²=×Ð˚³½š=ðˇÐ=ð¹ˇ½¸³½š=Q=ý˚₣¹Ð=
Þˇ=šý¾ˇÞÐ³½š˝=½−=³ĆýŁ−Ý−=+K

≥ ?Í−¹¾¸?W
„×ÐÝ˚þ½š=½ž=ý−¹¾¸=ýžÞĆýˇ½−²=×−¼=¦˚Ýš½š=Þˇ=
₣¹ž³Ðý−×−Ð¸³š½š=ş½ˇÞ=ŠžýÐ−¼¹łš˝½š=˚Þˇ=Þ˚−=ý¸Þ¼ýˇK

≥ ?‚ÐˇŠ¹−ý¸=ˇ×˙Þ½ž³ž²?W
fl×−Š˚₣š½ˇÐ=¸=ˇ×−¹¹˝×½šÐ=½žÞ=š×ÐÝ−ł¸=ž=ŠÐˇŠ¹−ý¸=
ˇ×˙Þ½ž³ž²=Þˇ=š˝ÞˇÐ=̋ ŠÐˇ=ýš=½ž=ŠÐˇŠ¹−ý¸=̌ ×−³½−Ý¸²I=ş½ˇÞ=
ÝˇýŁ˙Þš½š=½−=ý¸Þ¼ýˇ=ˇ×˙Þ½ž³ž²=łÐˇ=½−=ý¸Þ¼ý˙=³ˇ²K

≥ ?‡šÝ½Ð³½−×−˝ž³ž?W
⁄½ˇÞ=¹¼¦ýÐ³½š˝=³š=?„Þš¹łş?=E×¹−š×ÐÝ−ł¸FI=−Ð=
₣ˇ¹ˇð½¸¹š²=ŠÐ×Ý−Ć=ÄóíÉI=ş×ğ²=š˝ÞˇÐ=−Ð=š¼¹ğ×ˇİð−˝=
₣ˇ¹ˇð½¸¹š²=ýš=½şÞ−I=ýš½ˇ½¹˚×−Þ½ˇÐ=³š=₣ˇ¹ˇð½¸¹š²=
ý−Þ−Ć=ÄóíÉ=ðˇÐ=ˇ×−³½˚ÝÝ−Þ½ˇÐK

⁄½ˇÞ=¹¼¦ýÐ³½š˝=³š=?Íž=šÞš¹łş?I=−Ð=₣ˇ¹ˇð½¸¹š²=ŠÐ×Ý−Ć=
ÄóíÉ=ˇ×−³½˚ÝÝ−Þ½ˇÐ=³½ž=ý−¹¾¸=×−¼=šý¾ˇÞ˝Ž−Þ½ˇÐK
Óˇ¹ˇðˇÝ−ĆýšI=³žýšÐć³½š=ş½Ð=šÞŠ˚₣š½ˇÐ=Þˇ=₣¹šğ¦š˝½š=
ŠÐ×Ý˙=łÐˇ=½−¼²=₣ˇ¹ˇð½¸¹š²=ŠÐ×Ý−Ć=ÄóíÉ=³š=̊ Þˇ=pjp=ş½ˇÞ=
˚₣š½š=¹¼¦ý˝³šÐ=½ž=‡šÝ½Ð³½−×−˝ž³ž=³š=?Íž=šÞš¹łş?K

Ô¼¦ý˝³šÐ²=jjp
A=→=?Ô¼¦ý˝³šÐ²=jžÞ¼ý˙½ğÞ?=→=?Ô¼¦ý˝³šÐ²=jjp?
NK „×ÐÝ˚þ½š=½−=³½−Ð₣š˝−=×−¼=¦˚Ýš½š=Þˇ=¹¼¦ý˝³š½šK

≥ ?È−łˇ¹Ðˇ³ý−˝=jjp?W
„×ÐÝ˚þ½š=½−Þ=š×Ð¦¼ýž½ş=Ý−łˇ¹Ðˇ³ýş=¸=š×ÐÝ˚þ½š=
?‚žýÐ−¼¹ł˝ˇ=Î˚−¼?=łÐˇ=½žÞ=šÐ³ˇłğł¸=½ğÞ=×ˇ¹ˇð˙½ğ=
¹¼¦ý˝³šğÞK
?⁄Þ−ýˇ=Ó¹−¾˝Ý?W ⁄Þ−ýˇ=×¹−¾˝Ý=jjp=EÍ−ÞˇŠÐðş=

şÞ−ýˇF

?ÓÝž¹šþ−Ć³Ð−?W ÔĆ¦ýÐ³ž=mêçñó=łÐˇ=jjp

?roi=„¾šŠ¹K=pÉêîÉê?W b¾šŠ¹Ððş²=ëÉêîÉê=Íjp
≥ ?‚Ð˙¹ðšÐˇ=ëäáÇÉ?W

Ì¹˝ŽšÐ=½ž=ŠÐ˙¹ðšÐˇ=½−¼=ëäáÇÉK

≥ ?Í˚łÐ³½−=ý˚łš¦−²=ýžÞĆýK?W
Ô¼¦ý˝ŽšÐ=½−=ý˚łÐ³½−=ý˚łš¦−²=½−¼=ýžÞĆýˇ½−²=×−¼=
×¹şðšÐ½ˇÐ=Þˇ=ˇ×−³½ˇÝš˝=ðˇÐ=ðˇ¦Ð³½˙=ˇŠĆÞˇ½ž=½žÞ=
ˇ×−³½−Ý¸=ýžÞ¼ý˙½ğÞ=jjp=×−¼=¼×š¹Łˇ˝Þ−¼Þ=ˇ¼½ş=½−=
ý˚łš¦−²K

≥ ?ÈšÐ½−¼¹ł˝ˇ=ŠžýÐ−¼¹ł˝ˇ²?W
⁄½ˇÞ=š˝ÞˇÐ=¹¼¦ýÐ³ý˚Þ−=³š=?„ÝšĆ¦š¹−?I=ý×−¹š˝½š=Þˇ=
š×Ð³¼Þ˙Ğš½š=³½−=ý¸Þ¼ýˇ=ˇ¹₣š˝ˇ=−×−Ð−¼Š¸×−½š=¾−¹ý˙K=
⁄½ˇÞ=š˝ÞˇÐ=¹¼¦ýÐ³ý˚Þ−=³š=?Óš¹Ð−¹Ð³ý˚Þ−?I=ý×−¹š˝½š=Þˇ=
š×Ð³¼Þ˙Ğš½š=ýşÞ−=ˇ¹₣š˝ˇ=³¼łðšð¹Ðý˚ÞğÞ=¾−¹ý˙=ðˇÐ=
ýžÞĆýˇ½ˇ=³¼łðšð¹Ðý˚Þ−¼=ýšł˚¦−¼²K=Â=¹Ć¦ýÐ³ž=
?Óš¹Ð−¹Ð³ý˚Þ−?=˚₣šÐ=×¹−½š¹ˇÐş½ž½ˇ=³š=³₣˚³ž=ýš=½ž=
¹Ć¦ýÐ³ž=?Í˚łÐ³½−=ý˚łš¦−²=ýžÞĆýK?K

=Ej=QJVJOF =Ej=QJVJPF



RU ÍžÞĆýˇ½ˇ

Ô¼¦ý˝³šÐ²=bã~áä
A=→=?Ô¼¦ý˝³šÐ²=jžÞ¼ý˙½ğÞ?=→=?Ô¼¦ý˝³šÐ²=bã~áä?
NK „×ÐÝ˚þ½š=½−=³½−Ð₣š˝−=×−¼=¦˚Ýš½š=Þˇ=¹¼¦ý˝³š½šK

≥ ?È−łˇ¹Ðˇ³ý−˝=bã~áä?W
„×ÐÝ˚þ½š=½−Þ=š×Ð¦¼ýž½ş=Ý−łˇ¹Ðˇ³ýş=¸=š×ÐÝ˚þ½š=
?‚žýÐ−¼¹ł˝ˇ=Î˚−¼?=łÐˇ=½žÞ=šÐ³ˇłğł¸=½ğÞ=×ˇ¹ˇð˙½ğ=
¹¼¦ý˝³šğÞK
?⁄Þ−ýˇ=È−łˇ¹Ðˇ³ý−Ć?W ⁄Þ−ýˇ=Ý−łˇ¹Ðˇ³ý−Ć=bã~áä=

EÍ−ÞˇŠÐðş=şÞ−ýˇF

?‚Ðˇð−ýÐ³½¸²=mlmP?W ⁄Þ−ýˇ=ŠÐˇð−ýÐ³½¸I=½ˇ¼½ş½ž½ˇ=
₣¹¸³½žI=ðğŠÐðş²=×¹ş³Łˇ³ž²=
ðˇÐ=ˇ¹Ð¦ýş²=¦Ć¹ˇ²=łÐˇ=
ŠÐˇð−ýÐ³½¸=mlmP

?‚Ðˇð−ýÐ³½¸²=pjqm?W ⁄Þ−ýˇ=ŠÐˇð−ýÐ³½¸I=½ˇ¼½ş½ž½ˇ=
₣¹¸³½žI=ðğŠÐðş²=×¹ş³Łˇ³ž²I=
ˇ¹Ð¦ýş²=¦Ć¹ˇ²=łÐˇ=pjqm=
ŠÐˇð−ýÐ³½¸=ðˇÐ=pjqm=÷Ýšł₣−²=
½ˇ¼½ş½ž½ˇ²

?Òžýš˝−=Ó¹ş³Łˇ³ž²?W Òžýš˝−=×¹ş³Łˇ³ž²=łÐˇ=½−=bã~áä

?‚ÐšĆ¦¼Þ³ž=bã~áä?W ‚ÐšĆ¦¼Þ³ž=bã~áä

≥ ?‚Ð˙³½žýˇ=Ý¸Ğž²?W
Ô¼¦ý˝ŽšÐ=½−=ŠÐ˙³½žýˇ=ýš½ˇþĆ=½ğÞ=Ý¸ĞšğÞK

≥ ?Í˚łÐ³½−=ý˚łš¦−²=ýžÞĆýK?W
Ô¼¦ý˝ŽšÐ=½−=ý˚łÐ³½−=ý˚łš¦−²=½−¼=ýžÞĆýˇ½−²=×−¼=
×¹şðšÐ½ˇÐ=Þˇ=ˇ×−³½ˇÝš˝=ðˇÐ=ðˇ¦Ð³½˙=ˇŠĆÞˇ½ž=½žÞ=
ˇ×−³½−Ý¸=ýžÞ¼ý˙½ğÞ=bã~áä=×−¼=¼×š¹Łˇ˝Þ−¼Þ=ˇ¼½ş=½−=
ý˚łš¦−²K

„ð×−ý×¸=Ë¼Ğ˚Ýž²
Í×−¹š˝½š=Þˇ=Ý˙Łš½š=ýžÞĆýˇ½ˇ=šð×−ý×¸²=ð¼Ğ˚Ýž²=¸=łšÞÐð˙=
ýžÞĆýˇ½ˇ=ş×ğ²=ŠšÝ½˝ˇ=×¹şłÞğ³ž²=ðˇÐ¹−Ć=¸=ŠšÝ½˝ˇ=
ð¼ðÝ−¾−¹˝ˇ²K=fl¼½˚²=−Ð=×Ýž¹−¾−¹˝š²=ýš½ˇŠ˝Š−Þ½ˇÐ=³š=
³¼ÞŠ¹−ýž½˚²=³¼łðšð¹Ðý˚ÞğÞ=×š¹Ð−₣ćÞ=½−¼=ŠÐð½Ć−¼K
Â=ÝšÐ½−¼¹ł˝ˇ=ˇ¼½¸=šÞŠ˚₣š½ˇÐ=Þˇ=ýžÞ=š˝ÞˇÐ=ŠÐˇ¦˚³Ðýž=³š=şÝˇ=½ˇ=
Š˝ð½¼ˇ=ðÐÞž½¸²=½žÝš¾ğÞ˝ˇ²K=·Ðˇ=×š¹Ð³³ş½š¹š²=×Ýž¹−¾−¹˝š²I=
š×Ðð−ÐÞğÞ¸³½š=ýš=½−Þ=×ˇ¹−₣˚ˇ=¼×ž¹š³ÐćÞK

„Þš¹ł−×−˝ž³žLfl×šÞš¹ł−×−˝ž³ž=„ð×−ý×¸²=Ë¼Ğ˚Ýž²
A=→=?Ô¼¦ý˝³šÐ²=jžÞ¼ý˙½ğÞ?=→=?„ð×−ý×¸=Ë¼Ğ˚Ýž²? →=
?„Þš¹łKLfl×šÞš¹łK?
NK „×ÐÝ˚þ½š=?„Þš¹łş?=¸=?Íž=šÞš¹łş?K

flÞ˙łÞğ³ž=ÍžÞ¼ý˙½ğÞ=„ð×−ý×¸²=Ë¼Ğ˚Ýž²
A=→=?Ô¼¦ý˝³šÐ²=jžÞ¼ý˙½ğÞ?=→=?„ð×−ý×¸=Ë¼Ğ˚Ýž²?=→=
?flÞ˙łÞğ³ž=ÍžÞ¼ýK?
NK „×ÐÝ˚þ½š=½−=ˇÞ½Ððš˝ýšÞ−=×−¼=š×Ð¦¼ýš˝½šK

OK Íš½ˇðÐÞž¦š˝½š=³½žÞ=−¦şÞž=łÐˇ=Þˇ=ŠÐˇŁ˙³š½š=½−=ý¸Þ¼ýˇK

PK ÓÐ˚³½š=xÓ˝³ğzK

=Ej=QJVJQF =Ej=QJVJRF



ÍžÞĆýˇ½ˇ RV

ÔĆ¦ýÐ³ž=·Ýć³³ˇ²=łÐˇ=ÍžÞĆýˇ½ˇ=„ð×−ý×¸²=Ë¼Ğ˚Ýž²
A=→=?Ô¼¦ý˝³šÐ²=jžÞ¼ý˙½ğÞ?=→=?„ð×−ý×¸=Ë¼Ğ˚Ýž²?=→=
?Ô¼¦ý˝³šÐ²?=→=?·Ýć³³ˇ?
„ý¾ˇÞ˝Žš½ˇÐ=ž=½¹˚₣−¼³ˇ=łÝć³³ˇK

NK ÓÐ˚³½š= K

OK ÓÐ˚³½š= =łÐˇ=Þˇ=šÝ˚łþš½šK

PK ÓÐ˚³½š=xfl×−¦¸ðKzK

„łł¹ˇ¾¸=³½žÞ=Û×ž¹š³˝ˇ=„ð×−ý×¸²=Ë¼Ğ˚Ýž²
„×ÐÝ˚þ½š=½ž=³šÝ˝Šˇ=ˇ×ş=½−=ý¸Þ¼ýˇ=šð×−ý×¸²=ð¼Ğ˚Ýž²=×−¼=
¦˚Ýš½šK
A=→=?Ô¼¦ý˝³šÐ²=jžÞ¼ý˙½ğÞ?=→=?„ð×−ý×¸=Ë¼Ğ˚Ýž²?=→=
?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ýK=ÊšýK=ÓÝž¹K? → x„×ÐÝKz
NK „×ÐÝ˚þ½š=?Ó¹−³¦KLfl¾ˇ˝¹š³ž?K

OK „×ÐÝ˚þ½š=½ž=³šÝ˝Šˇ=×−¼=š×Ð¦¼ýš˝½šK

PK ÓÐ˚³½š=xfl×−¦¸ðKzK

Ò¼ýŁ−¼Ý¸
≥ „˙Þ=ž=³šÝ˝Šˇ=×−¼=š×Ð¦¼ýš˝½š=ŠšÞ=×š¹ÐÝˇýŁ˙Þš½ˇÐ=³½ž=Ý˝³½ˇ=

×−¼=šý¾ˇÞ˝Žš½ˇÐ=³½−=Ł¸ýˇ=OI=š×ÐÝ˚þ½š=?‚žýÐ−¼¹łK=Ê˚ýK?=³½−=
Ł¸ýˇ=N=ðˇÐI=³½ž=³¼Þ˚₣šÐˇI=šÐ³˙łš½š=½−Þ=ðğŠÐðş=¦˚ýˇ½−²=łÐˇ=
Þˇ=×¹−³½š¦š˝=ž=³šÝ˝ŠˇK=·Ðˇ=×š¹Ð³³ş½š¹š²=×Ýž¹−¾−¹˝š²=
³₣š½Ðð˙=ýš=½−Þ=ðğŠÐðş=¦˚ýˇ½−²I=š×Ðð−ÐÞğÞ¸³½š=ýš=½−Þ=
×ˇ¹−₣˚ˇ=¼×ž¹š³ÐćÞK

ÓÝž¹−¾−¹˝ˇ=Ë¼Ğ˚Ýž²
Â=ÓÝž¹−¾−¹˝ˇ=Ë¼Ğ˚Ýž²=š˝ÞˇÐ=˚Þˇ=ý¸Þ¼ýˇ=×−¼=³½˚ÝÞ−¼Þ=−Ð=
¾−¹š˝²=ŠÐð½ĆğÞ=³½−¼²=³¼ÞŠ¹−ýž½˚²=ý˝ˇ²=³¼łðšð¹Ðý˚Þž²=
×š¹Ð−₣¸²K
⁄½ˇÞ=ÝˇýŁ˙Þš½š=ý˝ˇ=ÓÝž¹−¾−¹˝ˇ=Ë¼Ğ˚Ýž²I=½−=ý¸Þ¼ýˇ=EðğŠÐðş²=
×š¹Ð−₣¸²F=šý¾ˇÞ˝Žš½ˇÐ=³½žÞ=ðˇ½˙³½ˇ³ž=ˇÞˇý−Þ¸²K

„Þš¹ł−×−˝ž³žLfl×šÞš¹ł−×−˝ž³ž=ÓÝž¹−¾−¹˝ˇ²=Ë¼Ğ˚Ýž²
A →=?Ô¼¦ý˝³šÐ²=jžÞ¼ý˙½ğÞ?=→=?ÓÝž¹K=Ë¼Ğ˚Ýž²?
NK „×ÐÝ˚þ½š=?„Þš¹łş?=¸=?Íž=šÞš¹łş?K

Òžýš˝ğ³ž
≥ Â=ÝšÐ½−¼¹ł˝ˇ=ˇ¼½¸=šÞŠ˚₣š½ˇÐ=Þˇ=ýžÞ=š˝ÞˇÐ=ŠÐˇ¦˚³Ðýž=³š=şÝˇ=

½ˇ=Š˝ð½¼ˇ=ðÐÞž½¸²=½žÝš¾ğÞ˝ˇ²K=·Ðˇ=×š¹Ð³³ş½š¹š²=
×Ýž¹−¾−¹˝š²I=š×Ðð−ÐÞğÞ¸³½š=ýš=½−Þ=×ˇ¹−₣˚ˇ=¼×ž¹š³ÐćÞK

≥ „˙Þ=ž=ÓÝž¹−¾−¹˝ˇ=Ë¼Ğ˚Ýž²=̊ ₣šÐ=¹¼¦ýÐ³½š˝=³½−=?„Þš¹łş?I=¦ˇ=
ýšÐğ¦š˝=−=₣¹şÞ−²=ˇÞˇý−Þ¸²K

=Ej=QJVJSF



SM sçÇ~ÑçåÉ=äáîÉ>

sçÇ~ÑçåÉ=äáîÉ>
Ú−=½žÝ˚¾ğÞş=³ˇ²=˚₣šÐ=¸Šž=×¹−³ˇ¹ý−³½š˝=ðˇ½˙ÝÝžÝˇ=łÐˇ=½žÞ=
×¹ş³Łˇ³ž=³½žÞ=¼×ž¹š³˝ˇ=sçÇ~ÑçåÉ=äáîÉ>=ðˇÐ=½−=ãçÄáäÉ=
áåíÉêåÉí*K

Ú−=sçÇ~ÑçåÉ=äáîÉ>=š˝ÞˇÐ=ý˝ˇ=Þ˚ˇ=×ĆÝž=½−¼=ãçÄáäÉ=áåíÉêåÉí=×−¼=³ˇ²=
šÐ³˙łšÐ=³š=̊ Þˇ=Þ˚−=ðş³ý−=½ž²=×Ýž¹−¾−¹˝ˇ²I=½ğÞ=×ˇÐ₣ÞÐŠÐćÞI=½ž²=
ý−¼³Ðð¸²=ðˇÐ=½ğÞ=¼×ž¹š³ÐćÞK

„×šÐŠ¸=½−=½žÝ˚¾ğÞş=³ˇ²=₣¹ž³Ðý−×−Ðš˝=½−=PdI=̊ ₣šÐ=̊ Þˇ=³Ć³½žýˇ=
½−=−×−˝−=š˝ÞˇÐ=×−ÝĆ=×Ð−=ł¹¸ł−¹−=ˇ×ş=×¹−žł−ĆýšÞ−¼²=½¹ş×−¼²=
Ý¸Ğž²=×Ýž¹−¾−¹ÐćÞ=ý˚³ğ=ðÐÞž½−ĆK=„×˝³ž²I=ž=³ĆÞŠš³ž=š˝ÞˇÐ=
D×˙Þ½−½š=šÞš¹ł¸D=łšł−Þş²=×−¼=³žýˇ˝ÞšÐ=ş½Ð=ŠšÞ=₣¹šÐ˙Žš½ˇÐ=
×Ý˚−Þ=Þˇ=×š¹Ðý˚Þš½š=łÐˇ=½žÞ=ðÝ¸³ž=³ĆÞŠš³ž²K=ı¹šćÞš³½š=
ýşÞ−Þ=łÐˇ=½ˇ=ŠšŠ−ý˚Þˇ=×−¼=ÝˇýŁ˙Þš½š=¸=³½˚ÝÞš½š=ðˇÐ=ş₣Ð=łÐˇ=
ş³ž=ć¹ˇ=×ˇ¹ˇý˚Þš½š=³¼ÞŠšŠšý˚Þ−ÐK
* „˙Þ=ˇÞ½Ðýš½ğ×˝Žš½š=×¹−ŁÝ¸ýˇ½ˇ=ýš=½ž=³ĆÞŠš³¸=³ˇ²=

×ˇ¹ˇðˇÝ−Ćýš=š×Ðð−ÐÞğÞ¸³½š=ýš=½žÞ=Û×−³½¸¹Ðþž=ÓšÝˇ½ćÞ=
½ž²=sçÇ~ÑçåÉK

Ú−=½žÝ˚¾ğÞş=³ˇ²=ŠÐˇ¦˚½šÐ=˚ÞˇÞ=t^m=ÄêçïëÉê=×−¼=
₣¹ž³Ðý−×−Ðš˝½ˇÐ=łÐˇ=½−=³š¹¾˙¹Ð³ýˇ=³½−=jçÄáäÉ=fåíÉêåÉíI=ˇ×ş=
ş×−¼=ý×−¹š˝½š=Þˇ=ˇ×−ð½¸³š½š=₣¹¸³Ðýš²=×Ýž¹−¾−¹˝š²K=ÌÐ=
³šÝ˝Šš²=˚₣−¼Þ=³₣šŠÐˇ³½š˝=Þˇ=×¹−Ł˙ÝÝ−Þ½ˇÐ=ðˇÞ−ÞÐð˙=³š=˚Þˇ=
ðÐÞž½ş=½žÝ˚¾ğÞ−K

ËĆ¹Ð−=ýšÞ−Ć
?sçÇ~ÑçåÉ=äáîÉ>?=→=?sçÇ~ÑçåÉ=äáîÉ>?
„ý¾ˇÞ˝Žš½ˇÐ=ž=³šÝ˝Šˇ=¼×ž¹š³ÐćÞ=sçÇ~ÑçåÉ=äáîÉ>K
?sçÇ~ÑçåÉ=äáîÉ>?=→=?„Ð³˙łš½š=roi?
„ý¾ˇÞ˝Žš½ˇÐ=ž=−¦şÞž=šÐ³ˇłğł¸²=roiI=×−¼=³ˇ²=š×Ð½¹˚×šÐ=Þˇ=
ýš½ˇŁš˝½š=³š=ý˝ˇ=³šÝ˝ŠˇK
?sçÇ~ÑçåÉ=äáîÉ>?=→=?ÒšÝÐŠ−Šš˝ð½š²?
‚š˝½š=³šÝ˝Šˇ SNK
?sçÇ~ÑçåÉ=äáîÉ>?=→=?„Ð³š¹₣şýK„ÐŠ−×−Ð¸³K?
„ý¾ˇÞ˝Ž−Þ½ˇÐ=−Ð=šÐŠ−×−Ð¸³šÐ²=t^m=mìëÜK
?sçÇ~ÑçåÉ=äáîÉ>?=→=?fl×−¦¸ðš¼³ž=ÒšÝ˝ŠğÞ?
„ý¾ˇÞ˝Ž−Þ½ˇÐ=½ˇ=ˇ×−¦žðš¼ý˚Þˇ=³½ÐłýÐş½¼×ˇK
?sçÇ~ÑçåÉ=äáîÉ>?=→=?Á³½−¹Ððş?
„ý¾ˇÞ˝Žš½ˇÐ=½−=Ð³½−¹Ððş=ýš=½Ð²=³šÝ˝Šš²=×−¼=š×Ð³ðš¾¦¸ðˇ½š=
×¹ş³¾ˇ½ˇK
?sçÇ~ÑçåÉ=äáîÉ>?=→=?Ô¼¦ý˝³šÐ²=_êçïëÉê?
‚š˝½š=½ž=³šÝ˝Šˇ SNK

=Ej=OF

ÐñïóáñìïãÞ ãéá ôï



sçÇ~ÑçåÉ=äáîÉ> SN

Óš¹Ð¸łž³ž=³š=ý˝ˇ=ÒšÝ˝Šˇ=t^m
≥ a=b=c=dW

Íš½ˇð˝Þž³ž=½ğÞ=ýˇ¹ðˇ¹Ð³ý˚ÞğÞ=³½−Ð₣š˝ğÞ=³½žÞ=
−¦şÞžK

≥ W „ð½šÝš˝=½žÞ=š×ÐÝ−ł¸=×−¼=šý¾ˇÞ˝Žš½ˇÐ=³½ž=ý˚³ž=
½ž²=ð˙½ğ=×Ýš¼¹˙²=½ž²=−¦şÞž²K

≥ AW ÏšðÐÞ˙=½−=ýšÞ−Ć=š×ÐÝ−łćÞ=½−¼=ÄêçïëÉêK

≥ CW „×ÐÝ˚łšÐ=ý˝ˇ=šÞ˚¹łšÐˇ=×−¼=šý¾ˇÞ˝Žš½ˇÐ=³½žÞ=ð˙½ğ=
ŠšþÐ˙=×Ýš¼¹˙=½ž²=−¦şÞž²K
ı¹ž³Ðý−×−Ðš˝½ˇÐ=łÐˇ=½ž=³ĆÞŠš³ž=ýš=½−=?sçÇ~ÑçåÉ=
äáîÉ>?=ˇÞ−˝ł−Þ½ˇ²=½−Þ=ÄêçïëÉêK

≥ F E³½ÐłýÐˇ˝−=×˙½žýˇFW
÷þ−Š−²=ˇ×ş=½−Þ=ÄêçïëÉêK

E×Ð˚³½š=ðˇÐ=ð¹ˇ½¸³½š=×Ðš³ý˚Þ−FW
fl×šÞš¹ł−×−Ðš˝=½−=½žÝ˚¾ğÞ−K

„×šþš¹łˇ³˝ˇ=ÒšÝÐŠ−ŠšÐð½ćÞ
?sçÇ~ÑçåÉ=äáîÉ>?=→=?ÒšÝÐŠ−Šš˝ð½š²?
NK „×ÐÝ˚þ½š=½žÞ=roi=×−¼=š×Ð¦¼ýš˝½š=ðˇÐ=×Ð˚³½š=x„×ÐÝKzK

Í×−¹š˝½š=Þˇ=š×šþš¹łˇ³½š˝½š=½ž=Ý˝³½ˇ=ýš=½−¼²=
ÒšÝÐŠ−Šš˝ð½š²=₣¹ž³Ðý−×−ÐćÞ½ˇ²=½Ð²=šþ¸²=š×ÐÝ−ł˚²W
?¿Þ−Ðłýˇ?W= „×ÐÝ˚þ½š=˚Þˇ=³šÝÐŠ−Šš˝ð½žK
?Èš×½−ýK?W „ý¾ˇÞ˝ŽšÐ=ˇÞˇÝ¼½Ðð˚²=

×Ýž¹−¾−¹˝š²=łÐˇ=½ž=³šÝ˝Šˇ=t^mK
?fl×−³½K=³šÝ˝Šˇ²?W Ò½˚ÝÞšÐ=½ž=ŠÐšĆ¦¼Þ³ž=roi=³½−¼²=

×ˇ¹ˇÝ¸×½š²K
?Î˚−?W ‚žýÐ−¼¹łš˝=Þ˚−¼²=¾ˇð˚Ý−¼²=¸=

³šÝÐŠ−Šš˝ð½š²K
?Íš½−Þ−ýˇ³˝ˇ?W Íš½−Þ−ý˙ŽšÐ=³šÝÐŠ−Šš˝ð½š²K

?„×šþš¹łˇ³˝ˇ=roi?W „×šþš¹ł˙Žš½ˇÐ=½ž=ŠÐšĆ¦¼Þ³ž=roi=
½−¼=³šÝÐŠ−Šš˝ð½žK

?Íš½ˇð˝Þž³ž?W Íš½ˇðÐÞš˝=½−¼²=ÒšÝÐŠ−Šš˝ð½š²=³š=
ý˝ˇ=˙ÝÝž=½−×−¦š³˝ˇK

?‚Ðˇł¹ˇ¾¸?W ‚Ðˇł¹˙¾šÐ=˚Þˇ=³šÝÐŠ−Šš˝ð½žK
?‚Ðˇł¹ˇ¾¸=şÝğÞ?W ‚Ðˇł¹˙¾šÐ=şÝ−¼²=½−¼²=

³šÝÐŠ−Šš˝ð½š²K

Ô¼¦ý˝³šÐ²=_êçïëÉê
?sçÇ~ÑçåÉ=äáîÉ>?=→=?Ô¼¦ý˝³šÐ²=_êçïëÉê?

?Í˚łš¦−²=ł¹ˇýý˙½K?W Ì¹˝ŽšÐ=½−=ý˚łš¦−²=ł¹ˇýýˇ½−³šÐ¹˙²=
½−¼=ÄêçïëÉêK

?‡¸ýˇ=ðĆÝÐ³ž²?W Ô¼¦ý˝ŽšÐ=½žÞ=½ˇ₣Ć½ž½ˇ=ðĆÝÐ³ž²K
?Óˇ¹ˇ×−ý×¸=³ĆÞŠš³ž²?W

„Þš¹ł−×−Ðš˝=¸=ˇ×šÞš¹ł−×−Ðš˝=½žÞ=
šÐŠ−×−˝ž³ž=½−¼=ˇ×−³½−Ý˚ˇK

?`ççâáÉë?W Ô¼¦ý˝ŽšÐ=½Ð²=š×ÐÝ−ł˚²=½ğÞ=ÅççâáÉëK
?È¸ĞšÐ²?W fl×šÞš¹ł−×−Ðš˝=½ž=Ý¸Ğž=ŠšŠ−ý˚ÞğÞ=

ˇ×ş=¾ğ½−ł¹ˇ¾˝š²L¸₣−¼²L
ˇÞ½Ððš˝ýšÞˇK

?fl³¾˙ÝšÐˇ?W Ô¼¦ý˝ŽšÐ=½−=š×˝×šŠ−=×¹−½¹−×¸²=
ˇ³¾ˇÝš˝ˇ²K

?t^m=mìëÜ?W Ô¼¦ý˝ŽšÐ=š˙Þ=₣¹šÐ˙Žš³½š=
š×ÐŁšŁˇ˝ğ³ž=łÐˇ=ýžÞĆýˇ½ˇ=éìëÜK

?È¸Ğž=³š?W Ô¼¦ý˝ŽšÐ=½žÞ=½−×−¦š³˝ˇ=Ý¸Ğž²K

=Ej=OJPF

=Ej=OJTF



SO sçÇ~ÑçåÉ=äáîÉ>

ÌÐ=„×ÐÝ−ł˚²=½−¼=_êçïëÉê
Í×−¹š˝½š=Þˇ=₣¹ž³Ðý−×−Ð¸³š½š=ŠÐ˙¾−¹š²=š×ÐÝ−ł˚²=łÐˇ=½−Þ=t^m=
ÄêçïëÉêK
C=→=x„×ÐÝKz

?„×ÐÝ−ł¸?W= „×ÐÝ˚łšÐ=ý˝ˇ=³šÝ˝Šˇ=t^mK
?fl¹₣Ðð¸=ÒšÝ˝Šˇ?W Íš½˙Łˇ³ž=³½žÞ=ˇ¹₣Ðð¸=³šÝ˝ŠˇK
?ÒšÝÐŠ−Šš˝ð½š²?W ‚š˝½š=½ž=³šÝ˝Šˇ SNK
?Ò¸ýˇÞ³ž=³šÝ˝Šˇ²?W Íˇ¹ð˙¹šÐ=½žÞ=š×ÐÝšłý˚Þž=³šÝ˝Šˇ=

t^mK
?fl×−¦¸ðK=½−¼=³¼ÞŠ˚³ý−¼?W

Ù−¹½ćÞšÐ=½ˇ=ŠšŠ−ý˚Þˇ=½ž²=
³¼ÞŠšŠšý˚Þž²=t^m=³šÝ˝Šˇ²K

?fl×−¦¸ðK=ˇÞ½ÐðšÐý˚ÞğÞ?W
fl×−¦žðšĆšÐ=ˇÞ½Ððš˝ýšÞˇ=ˇ×ş=½Ð²=
³šÝ˝Šš²=t^mK

?„Ð³˙łš½š=roi?W Ó˙šÐ=³½žÞ=³šÝ˝Šˇ=t^m=½ž²=
ŠÐšĆ¦¼Þ³ž²=roi=×−¼=̊ ₣š½š=šÐ³˙łšÐK

?Ó¹ş³Łˇ³ž=³½−=Ð³½−¹Ððş?W
„ý¾ˇÞ˝ŽšÐ=½−=Ð³½−¹Ððş=½ğÞ=
×š¹Ðžł¸³šğÞ=³ˇ²K

?Ó¹−ć¦ž³ž?W= Íš½ˇŁˇ˝ÞšÐ=³½žÞ=š×şýšÞž=³šÝ˝Šˇ=̌ ×ş=
½Ð²=³šÝ˝Šš²=×−¼=šý¾ˇÞ˝³½žðˇÞ=¸ŠžK

?Î˚ˇ=¾ş¹½ğ³ž=³šÝ˝Šˇ²?W flÞˇÞšćÞšÐ=½ž=³šÝ˝Šˇ=t^m=łÐˇ=½ž=
Ý¸Ğž=Þ˚ğÞ=×Ýž¹−¾−¹ÐćÞK

?„ÐŠÐð˚²?W „ý¾ˇÞ˝ŽšÐ=½ˇ=×¹−žłý˚Þˇ=ýšÞ−ĆK
?÷þ−Š−²?W ÷þ−Š−²=ˇ×ş=½−Þ=ÄêçïëÉêK

ÌÐ=Ó¹−žłý˚Þš²=„×ÐÝ−ł˚²
C=→=x„×ÐÝKz=→=?„ÐŠÐð˚²?

?fl×−¦¸ðš¼³ž=ÒšÝ˝ŠğÞ?W„ý¾ˇÞ˝Ž−Þ½ˇÐ=½ˇ=ˇ×−¦žðš¼ý˚Þˇ=
³½ÐłýÐş½¼×ˇK

?fl×−¦¸ðK=³šÝ˝Šˇ²?W fl×−¦žðšĆšÐ=½ž=³šÝ˝Šˇ=t^m=ğ²=
½−×Ððş=ˇ¹₣š˝−K

?fl×−³½K=³šÝ˝Šˇ²?W Ò½˚ÝÞšÐ=½ž=ŠÐšĆ¦¼Þ³ž=roi=ðˇÐ=½−Þ=
½˝½Ý−=³½−¼²=ˇ×−Š˚ð½š²K

?Èš×½−ý˚¹šÐš²?W „ý¾ˇÞ˝ŽšÐ=ˇÞˇÝ¼½Ðð˚²=
×Ýž¹−¾−¹˝š²=łÐˇ=½ž=³šÝ˝Šˇ=t^mK

?‚šŠ−ý˚Þˇ=Óš¹Ðžłž½¸?W„×šþš¹łˇ³˝ˇ=½ğÞ=ŠšŠ−ý˚ÞğÞ=½−¼=
ÄêçïëÉêK=Í×−¹š˝½š=Þˇ=ŠÐˇł¹˙Ğš½š=
½ž=ýÞ¸ýž=Å~ÅÜÉLÅççâáÉëLÐ³½−¹ÐðşK

?flÞˇŽ¸½K=½ž²=ÒšÝ˝Šˇ²?W flÞˇŽž½˙=³¼łðšð¹Ðý˚Þš²=Ý˚þšÐ²=³½ž=
³šÝ˝Šˇ=t^mK

?flÞ½Ðł¹ˇ¾¸=ËšÐý˚Þ−¼?W flÞ½Ðł¹˙¾šÐ=½−=ðš˝ýšÞ−=½ž²=
Ð³½−³šÝ˝Šˇ²K

?Ô¼¦ý˝³šÐ²=_êçïëÉê?W „ý¾ˇÞ˝ŽšÐ=½ˇ=ýšÞ−Ć=¹¼¦ý˝³šğÞK
?„×ˇÞšð˝ÞK=_êçïëÉê?W „×ˇÞšððÐÞš˝=½−Þ=ÄêçïëÉêK
?Óš¹˝?W „ý¾ˇÞ˝ŽšÐ=×Ýž¹−¾−¹˝š²=³₣š½Ðð˙=ýš=

½−Þ=ÄêçïëÉêK



Í−¼³Ðð¸ SP

Í−¼³Ðð¸

flÞˇ×ˇ¹ˇłğł¸=Í−¼³Ðð¸²
Í×−¹š˝½š=Þˇ=ˇÞˇ×ˇ¹˙łš½š=ˇ¹₣š˝ˇ=¸₣−¼=½ž²=ý−¹¾¸²=jmPI=^^`=
ðˇÐ=^^`+=ýš=½žÞ=flÞˇ×ˇ¹ˇłğł¸=Í−¼³Ðð¸²K=Ëˇ½˙=½žÞ=
ˇÞˇ×ˇ¹ˇłğł¸=ˇ¹₣š˝ğÞ=¸₣−¼=³½−=×ˇ¹ˇ³ð¸ÞÐ−I=ý×−¹š˝½š=Þˇ=
₣¹ž³Ðý−×−Ð¸³š½š=ðˇÐ=˙ÝÝˇ=ýšÞ−ĆK

flÞˇ×ˇ¹ˇłğł¸=fl¹₣š˝ğÞ=◊₣−¼
?Í−¼³Ðð¸?=→=?Â=ý−¼³Ðð¸=ý−¼?
NK „×ÐÝ˚þ½š=?⁄Ýž=ž=Í−¼³Ðð¸?=¸=½ž=Ý˝³½ˇ=ˇÞˇ×ˇ¹ˇłğł¸²=×−¼=

š×Ð¦¼ýš˝½šK

OK „×ÐÝ˚þ½š=½−=ˇ¹₣š˝−=×−¼=š×Ð¦¼ýš˝½šK
·Ðˇ=Þˇ=ŠÐˇðşĞš½š=×¹−³ğ¹ÐÞ˙=½žÞ=ˇÞˇ×ˇ¹ˇłğł¸I=×Ð˚³½š= K
·Ðˇ=Þˇ=³½ˇýˇ½¸³š½š=šÞ½šÝć²=½žÞ=ˇÞˇ×ˇ¹ˇłğł¸=×Ð˚³½š=
xÓ˝³ğzK

Òžýš˝ğ³ž
≥ Êˇ=š¹ğ½ž¦š˝½š=š˙Þ=¦˚Ýš½š=Þˇ=ˇÞˇ×ˇ¹˙ł−Þ½ˇÐ=−Ð=¸₣−Ð=¸=ş₣ÐI=
ş½ˇÞ=šÞš¹ł−×−Ð¸³š½š=½−=×¹−¾˝Ý=ÒÐğ×žÝşK

≥ ·Ðˇ=Þˇ=ˇÞˇ×ˇ¹˙łš½š=½−=½šÝš¼½ˇ˝−=ˇ¹₣š˝−=š×ÐÝ˚þ½š=?ÚšÝš¼½K=
ý−¼³Ððş=ð−ýý˙½Ð?K=Â=?Ú¹˚₣−¼³ˇ=ˇÞˇ×ˇ¹ˇłğł¸?=šý¾ˇÞ˝Žš½ˇÐ=
ş½ˇÞ=½−=ˇ¹₣š˝−=ˇÞˇ×ˇ¹˙łš½ˇÐK

Ò¼ýŁ−¼Ý¸
≥ Í×−¹š˝½š=Þˇ=š×Ð³½¹˚Ğš½š=³½žÞ=−¦şÞž=½−¼=ËĆ¹Ð−¼=ýšÞ−Ć=ðˇ½˙=

½ž=ŠÐ˙¹ðšÐˇ=ˇÞˇ×ˇ¹ˇłğł¸²=šÞş²=ˇ¹₣š˝−¼=³½−=×ˇ¹ˇ³ð¸ÞÐ−K
≥ Í×−¹š˝½š=Þˇ=ŠžýÐ−¼¹ł¸³š½š=½žÞ=×¹−³ğ×Ðð¸=³ˇ²=Ý˝³½ˇ=

ˇÞˇ×ˇ¹ˇłğł¸²=×ˇ¹ˇ¦˚½−Þ½ˇ²=ýşÞ−=½ˇ=ˇ¹₣š˝ˇ=×−¼=
š×Ð¦¼ýš˝½š=E³šÝK SQFK

≥ Í×−¹š˝½š=Þˇ=¹¼¦ý˝³š½š=½−Þ=¸₣−=³½−=Ł¸ýˇ==OK=ÓÐ˚³½š=x„×ÐÝKz=
ðˇÐ=š×ÐÝ˚þ½š=?÷Ýšł₣−²=ÚşÞ−¼?K=„×ÐÝ˚þ½š=?ËˇÞ−ÞÐðş?I=?_~ëë?I=
?pìêêçìåÇ?=¸=?pìêêçìåÇ=_~ëë?K

≥ Í×−¹š˝½š=Þˇ=š×ÐÝ˚þš½š=½−=ý−½˝Ł−=̌ Þˇ×ˇ¹ˇłğł¸²=³½−=Ł¸ýˇ=OK=
ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Í−½˝Ł−=flÞˇ×ˇ¹K?K
?ËˇÞ−ÞÐðş?W flÞˇ×ˇ¹˙ł−Þ½ˇÐ=şÝˇ=½ˇ=ˇ¹₣š˝ˇ=šÞş²=

š×ÐÝšłý˚Þ−¼=¾ˇð˚Ý−¼=ý˝ˇ=¾−¹˙=ðˇÐ=³½ž=
³¼Þ˚₣šÐˇ=ž=ˇÞˇ×ˇ¹ˇłğł¸=³½ˇýˇ½˙K

?„×ˇÞ˙ÝžĞž?W Ò¼Þš₣˝ŽšÐ=½žÞ=ˇÞˇ×ˇ¹ˇłğł¸=³½−=
š×ÐÝšłý˚Þ−=¾˙ðšÝ−K

?„×ˇÞ˙ÝžĞž=⁄ÝğÞ?W
flÞˇ×ˇ¹˙ł−Þ½ˇÐ=şÝˇ=½ˇ=ˇ¹₣š˝ˇ=šÞş²=
š×ÐÝšłý˚Þ−¼=¾ˇð˚Ý−¼K

?Ú¼₣ˇ˝−?W flÞˇ×ˇ¹˙ł−Þ½ˇÐ=½ˇ=ˇ¹₣š˝ˇ=šÞş²=
š×ÐÝšłý˚Þ−¼=¾ˇð˚Ý−¼=ýš=½¼₣ˇ˝ˇ=³šÐ¹˙K

≥ Í×−¹š˝½š=Þˇ=šÝ˚ł₣š½š=½žÞ=flÞˇ×ˇ¹ˇłğł¸=Í−¼³Ðð¸²=
₣¹ž³Ðý−×−ÐćÞ½ˇ²=½ˇ=×ˇ¹ˇð˙½ğ=×Ý¸ð½¹ˇW
aLbW=fl¼þ˙ÞšÐ=¸=ýšÐćÞšÐ=½žÞ=˚Þ½ˇ³žK
b=E×Ð˚³½š=ðˇÐ=ð¹ˇ½¸³½š=×Ðš³ý˚Þ−FW=Ò˝łˇ³žK

dW=Íš½˙Łˇ³ž=³½−=š×şýšÞ−=ˇ¹₣š˝−K

cW=„×Ð³½¹˚¾šÐ=³½žÞ=ˇ¹₣¸=½−¼=½¹˚₣−Þ½−²=ˇ¹₣š˝−¼K
d=E×Ð˚³½š=ðˇÐ=ð¹ˇ½¸³½š=×Ðš³ý˚Þ−FW=·¹¸ł−¹ž=×¹−ć¦ž³žK

c=E×Ð˚³½š=ðˇÐ=ð¹ˇ½¸³½š=×Ðš³ý˚Þ−FW=„×Ð³½¹−¾¸K

FW=flÞˇ×ˇ¹˙łšÐ=½−=ˇ¹₣š˝−=³½−=×ˇ¹ˇ³ð¸ÞÐ−K

=Ej=PF



SQ Í−¼³Ðð¸

flÞˇŽ¸½ž³ž=šÞş²=fl¹₣š˝−¼=·Ðˇ=flÞˇ×ˇ¹ˇłğł¸
?Í−¼³Ðð¸?=→=?Â=ý−¼³Ðð¸=ý−¼?
NK „×ÐÝ˚þ½š=?⁄Ýž=ž=Í−¼³Ðð¸?=¸=½ž=Ý˝³½ˇ=ˇÞˇ×ˇ¹ˇłğł¸²=×−¼=

š×Ð¦¼ýš˝½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?flÞˇŽ¸½ž³ž?K

PK „Ð³˙łš½š=½ˇ=×¹ć½ˇ=ł¹˙ýýˇ½ˇ=½−¼=½˝½Ý−¼K
Úˇ=ˇ×−½šÝ˚³ýˇ½ˇ=½ž²=ˇÞˇŽ¸½ž³ž²=šý¾ˇÞ˝Ž−Þ½ˇÐ=ýš=
ˇÝ¾ˇŁž½Ðð¸=³šÐ¹˙=ðˇÐ=½−=ˇ¹₣š˝−=×−¼=³¼ý×˝×½šÐ=ýˇ¹ð˙¹š½ˇÐK

Ó¹−³¦¸ðž=fl¹₣š˝−¼=³½ž=È˝³½ˇ=flÞˇ×ˇ¹ˇłğł¸²
Í×−¹š˝½š=Þˇ=ŠžýÐ−¼¹ł¸³š½š=ý˝ˇ=Ý˝³½ˇ=ˇÞˇ×ˇ¹ˇłğł¸²=
ðˇ½ˇ₣ğ¹ćÞ½ˇ²=³D=ˇ¼½¸=½ˇ=ˇ¹₣š˝ˇ=×−¼=š×Ð¦¼ýš˝½šK

?Í−¼³Ðð¸?=→=?Â=ý−¼³Ðð¸=ý−¼?=→=?⁄Ýž=ž=Í−¼³Ðð¸?
NK Íˇ¹ð˙¹š½š=½−=̌ ¹₣š˝−=×−¼=¦˚Ýš½š=Þˇ=×¹−³¦˚³š½š=³½ž=Ý˝³½ˇ=

ˇÞˇ×ˇ¹ˇłğł¸²K

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ó¹−³¦K=È˝³½K=flÞˇ×?K
„ý¾ˇÞ˝Ž−Þ½ˇÐ=−Ð=Ý˝³½š²=ˇÞˇ×ˇ¹ˇłğł¸²K=·Ðˇ=Ýš×½−ý˚¹šÐš²=
³₣š½Ðð˙=ýš=½žÞ=×¹−³¦¸ðž=ý˝ˇ²=Ý˝³½ˇ²=ˇÞˇ×ˇ¹ˇłğł¸²=Šš˝½š=
?Ó¹−³¦¸ðž=ý˝ˇ²=Î˚ˇ²=È˝³½ˇ²=flÞˇ×ˇ¹ˇłğł¸²?K

PK „×ÐÝ˚þ½š=½−=¾˙ðšÝ−=×−¼=š×Ð¦¼ýš˝½šK
Ú−=ˇ¹₣š˝−=×−¼=˚₣š½š=ýˇ¹ð˙¹šÐ=³½−=Ł¸ýˇ=N=ˇ×−¦žðšĆš½ˇÐK
·Ðˇ=Þˇ=ŠÐˇł¹˙Ğš½š=ˇ¹₣š˝ˇ=ˇ×ş=½ž=Ý˝³½ˇ=ˇÞˇ×ˇ¹ˇłğł¸²I=
ýˇ¹ð˙¹š½š=½−=ˇ¹₣š˝−==ðˇÐ=×Ð˚³½š=x„×ÐÝKzK
Ò½ž=³¼Þ˚₣šÐˇI=š×ÐÝ˚þ½š=?‚Ðˇł¹K=ˇ×ş=È˝³½ˇ?K

Ó¹−³¦¸ðž=ý˝ˇ²=Î˚ˇ²=È˝³½ˇ²=flÞˇ×ˇ¹ˇłğł¸²
?Í−¼³Ðð¸?=→=?Â=ý−¼³Ðð¸=ý−¼?
NK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ó¹−³¦K=Î˚ˇ²=È˝³½K?K

OK „Ð³˙łš½š=½−=şÞ−ýˇ=×−¼=š×Ð¦¼ýš˝½š=łÐˇ=½ž=Ý˝³½ˇ=
ˇÞˇ×ˇ¹ˇłğł¸²K

PK ÓÐ˚³½š= K

Òžýš˝ğ³ž
≥ ·Ðˇ=Þˇ=ŠÐˇł¹˙Ğš½š=½ž=Ý˝³½ˇ=ˇÞˇ×ˇ¹ˇłğł¸²I=ýˇ¹ð˙¹š½š=½ž=

Ý˝³½ˇ=ˇÞˇ×ˇ¹ˇłğł¸²=ðˇÐ=×Ð˚³½š=x„×ÐÝKzK=Ò½ž=³¼Þ˚₣šÐˇ=
š×ÐÝ˚þ½š=?‚Ðˇł¹ˇ¾¸=È˝³½ˇ²?K

È¸Ğž=ý−¼³ÐðćÞ=ˇ¹₣š˝ğÞ
?Í−¼³Ðð¸?=→=?Óš¹Ð¸łK=³š=ý−¼³K=ðˇ½˙³½K?
„ý¾ˇÞ˝Žš½ˇÐ=ž=³šÝ˝Šˇ=Ý¸Ğž²=ˇ¹₣š˝ğÞ=ý−¼³Ðð¸²K

Òžýš˝ğ³ž
≥ fl¼½¸=ž=¼×ž¹š³˝ˇ=ŠšÞ=š˝ÞˇÐ=ŠÐˇ¦˚³Ðýž=ˇ×ş=−¹Ð³ý˚Þ−¼²=

×ˇ¹−₣š˝²=¼×ž¹š³ÐćÞK=·Ðˇ=×š¹Ð³³ş½š¹š²=×Ýž¹−¾−¹˝š²I=
×ˇ¹ˇðˇÝ−Ćýš=š×Ðð−ÐÞğÞ¸³½š=ýš=½−Þ=×ˇ¹−₣˚ˇ=¼×ž¹š³ÐćÞK

=Ej=PJPF



Ú−=¼ÝÐðş=ý−¼ SR

Ú−=¼ÝÐðş=ý−¼
Ò½−=¼ÝÐðş=ý−¼=×š¹Ð˚₣−Þ½ˇÐ=ŠÐ˙¾−¹ˇ=ŠšŠ−ý˚Þˇ=¾ğ½−ł¹ˇ¾ÐćÞI=
¸₣ğÞ=ðˇÐ=îáÇÉç=ÅäáéK=flðşýž=³½−=ýšÞ−Ć=?Ú−=¼ÝÐðş=ý−¼?=
×š¹ÐÝˇýŁ˙Þ−Þ½ˇÐ=ðˇÐ=¾¹˙³šÐ²=ðšÐý˚Þ−¼=×−¼=₣¹ž³Ðý−×−Ð−ĆÞ½ˇÐ=
³¼₣Þ˙=³š=ýžÞĆýˇ½ˇ=ðˇ¦ć²=ðˇÐ=ŠÐš¼¦ĆÞ³šÐ²=t^m=½Ð²=−×−˝š²=
ý×−¹š˝½š=Þˇ=₣¹ž³Ðý−×−Ð¸³š½š=łÐˇ=Ý¸Ğž=ˇ¹₣š˝ğÞK=Í×−¹š˝½š=
ˇðşýž=Þˇ=ýš½ˇŠć³š½š=¾ğ½−ł¹ˇ¾˝š²I=ŠšŠ−ý˚Þˇ=¸₣−¼=ðˇÐ=îáÇÉç=
Åäáé=ý˚³ğ=¼×˚¹¼¦¹ğÞ=¸=½ž²=ˇ³Ć¹ýˇ½ž²=½š₣Þ−Ý−ł˝ˇ²=_äìÉíççíÜ=
³š=½žÝ˚¾ğÞˇ=ýš=₣ˇ¹ˇð½ž¹Ð³½Ðð˙=l_buK

Ùğ½−ł¹ˇ¾˝š²
Í×−¹š˝½š=Þˇ=ŠÐˇ₣šÐ¹Ð³½š˝½š=½Ð²=¾ğ½−ł¹ˇ¾˝š²=×−¼=Łł˙Žš½š=ýš=
½žÞ=Ğž¾Ðˇð¸=¾ğ½−ł¹ˇ¾Ðð¸=ýž₣ˇÞ¸=¸=½Ð²=šÐðşÞš²=×−¼=
?ðˇ½šŁ˙Žš½š?=ˇ×ş=ŠÐ˙¾−¹š²=Ð³½−³šÝ˝Šš²=½−¼=ãçÄáäÉ=fåíÉêåÉíK=
Í×−¹š˝½š=Þˇ=ˇ×−¦žðšĆ³š½š=¾ğ½−ł¹ˇ¾˝š²=³½ˇ=šþ¸²=¾−¹ý˙W=
gmbdI=mkdI=t_jm=ðˇÐ=dfcK

Ó¹−Ł−Ý¸=Ùğ½−ł¹ˇ¾ÐćÞ
?Ú−=¼ÝÐðş=ý−¼?=→=?Ùğ½−ł¹ˇ¾˝š²?
NK ÓÐ˚³½š=d=łÐˇ=Þˇ=šý¾ˇÞÐ³½š˝=ž=Ý˝³½ˇ=ˇ×ş=½žÞ=ð˙¹½ˇ=ýÞ¸ýž²=

ðˇÐ=c=łÐˇ=š×Ð³½¹−¾¸=³½ž=ýÞ¸ýž=½ž²=³¼³ðš¼¸²K

OK „×ÐÝ˚þ½š=½−=ˇ¹₣š˝−=×−¼=¦˚Ýš½š=Þˇ=Šš˝½šK
Â=š×ÐÝšłý˚Þž=¾ğ½−ł¹ˇ¾˝ˇ=šý¾ˇÞ˝Žš½ˇÐ=³½žÞ=−¦şÞžK

ı¹¸³ž=Ùğ½−ł¹ˇ¾ÐćÞ=ğ²=ÙşÞ½−
?Ú−=¼ÝÐðş=ý−¼?=→=?Ùğ½−ł¹ˇ¾˝š²?
NK Íˇ¹ð˙¹š½š=½−=ˇ¹₣š˝−=×−¼=¦˚Ýš½š=Þˇ=₣¹ž³Ðý−×−Ð¸³š½š=ğ²=

¾şÞ½−K

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?ÔĆ¦ýK=ğ²=ÙşÞ½−?K

fl×−¦¸ðš¼³ž=Í˝ˇ²=Ùğ½−ł¹ˇ¾˝ˇ²=³½Ð²=Ëˇ½ˇ₣ğ¹¸³šÐ²=½ž²=È˝³½ˇ²=
„×ˇ¾ćÞ
Í×−¹š˝½š=Þˇ=₣¹ž³Ðý−×−Ð¸³š½š=ˇ¼½¸=½žÞ=š×ÐÝ−ł¸=ýşÞ−Þ=łÐˇ=½Ð²=
¾ğ½−ł¹ˇ¾˝š²=×−¼=̊ ₣š½š=̌ ×−¦žðšĆ³šÐ=³½ž=ýÞ¸ýž=½ž²=³¼³ðš¼¸²K
?Ú−=¼ÝÐðş=ý−¼?=→=?Ùğ½−ł¹ˇ¾˝š²?
NK Íˇ¹ð˙¹š½š=½−=̌ ¹₣š˝−=×−¼=¦˚Ýš½š=Þˇ=×¹−³¦˚³š½š=³½ž=È˝³½ˇ=

„×ˇ¾ćÞK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ó¹−³¦K=³š=„×ˇ¾˚²?K
·Ðˇ=Þˇ=ˇÞ½Ððˇ½ˇ³½¸³š½šI=š×ÐÝ˚þ½š=½ˇ=ŠšŠ−ý˚Þˇ=×−¼=¦˚Ýš½š=
Þˇ=ˇ×−¦žðšĆ³š½šK
·Ðˇ=ˇ×−¦¸ðš¼³ž=ğ²=Þ˚ˇ=ðˇ½ˇ₣ć¹ž³žI=š×ÐÝ˚þ½š=?˜²=Î˚ˇ=
„×ˇ¾¸?K
·Ðˇ=Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½žÞ=šÐ³ˇłğł¸=šÞş²=−Þşýˇ½−²I=
Šš˝½š=?Ó¹−³¦¸ðž=Î˚ˇ²=„×ˇ¾¸²?=³½ž=³šÝ˝Šˇ=PRK

„×šþš¹łˇ³˝ˇ=Ùğ½−ł¹ˇ¾ÐćÞ
?Ú−=¼ÝÐðş=ý−¼?=→=?Ùğ½−ł¹ˇ¾˝š²?
NK Íˇ¹ð˙¹š½š=½−Þ=ˇ¹Ð¦ýş=×−¼=¦˚Ýš½š=Þˇ=š×šþš¹łˇ³½š˝½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?„×šþš¹łK=Ùğ½−ł¹K?K

PK „×ÐÝ˚þ½š=½žÞ=š×ÐÝ−ł¸=×−¼=š×Ð¦¼ýš˝½šK

Òžýš˝ğ³ž
≥ Â=?„×šþš¹łK=Ùğ½−ł¹K?=ý×−¹š˝=Þˇ=ýžÞ=š˝ÞˇÐ=ŠÐˇ¦˚³Ðýž=

ˇÞ˙Ý−łˇ=ýš=½žÞ=×¹ğ½ş½¼×ž=¾ğ½−ł¹ˇ¾˝ˇ=ðˇÐ=½žÞ=×¹−³½ˇ³˝ˇ=
×Þš¼ýˇ½ÐðćÞ=ŠÐðˇÐğý˙½ğÞ=×−¼=šÞŠš₣−ý˚Þğ²=ŠÐˇ¦˚½šÐK

=Ej=SF

Ej=SJNF



SS Ú−=¼ÝÐðş=ý−¼

Ó¹−³ˇ¹ý−ł¸=½−¼=Íšł˚¦−¼²
Í×−¹š˝½š=Þˇ=×¹−³ˇ¹ýş³š½š=½ž=¾ğ½−ł¹ˇ¾˝ˇ=³½−=ðˇ½˙ÝÝžÝ−=
ý˚łš¦−²I=ˇÞ˙Ý−łˇ=ýš=½ž=³ðžÞ¸K
?Ú−=¼ÝÐðş=ý−¼?=→=?Ùğ½−ł¹ˇ¾˝š²?
NK Íˇ¹ð˙¹š½š=½−=ˇ¹₣š˝−=³½−=−×−˝−=¦˚Ýš½š=Þˇ=×¹−³ˇ¹ýş³š½š=

½−=ý˚łš¦−²K

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?flÝÝˇł¸=Íšł˚¦−¼²?K

PK „×ÐÝ˚þ½š=½žÞ=š×ÐÝ−ł¸=×−¼=š×Ð¦¼ýš˝½šK

Òžýš˝ğ³ž
≥ Â=?flÝÝˇł¸=Íšł˚¦−¼²?=ý×−¹š˝=Þˇ=ýžÞ=š˝ÞˇÐ=ŠÐˇ¦˚³Ðýž=

ˇÞ˙Ý−łˇ=ýš=½žÞ=×¹ğ½ş½¼×ž=¾ğ½−ł¹ˇ¾˝ˇ=ðˇÐ=½žÞ=×¹−³½ˇ³˝ˇ=
×Þš¼ýˇ½ÐðćÞ=ŠÐðˇÐğý˙½ğÞ=×−¼=šÞŠš₣−ý˚Þğ²=ŠÐˇ¦˚½šÐK

Ò¼ýŁ−¼Ý¸
≥ ·Ðˇ=̇ ÝÝˇ=ýšÞ−Ć=š×ÐÝ−łćÞI=Šš˝½š=?Ë−ÐÞ˙=ÍšÞ−Ć=„×ÐÝ−łćÞ?=³½ž=

³šÝ˝Šˇ SUK

È¸Ğž=fl¹₣š˝ğÞ=Ùğ½−ł¹ˇ¾˝ˇ²=Eaçïåäç~ÇF
?Ú−=¼ÝÐðş=ý−¼?=→=?Ùğ½−ł¹ˇ¾˝š²?=→=?È¸Ğž=˙ÝÝğÞ?
„ý¾ˇÞ˝Žš½ˇÐ=ž=³šÝ˝Šˇ=Ý¸Ğž²=ˇ¹₣š˝ğÞ=¾ğ½−ł¹ˇ¾˝ˇ²K

◊₣−Ð=C=Ë−¼Š−¼Þ˝³ýˇ½ˇ
Â=ŠÐˇ₣š˝¹Ð³ž=½ğÞ=ˇ¹₣š˝ğÞ=¸₣−¼=×−¼=˚₣š½š=?ðˇ½šŁ˙³šÐ?=ðˇÐ=½ğÞ=
ˇ¹₣š˝ğÞ=^jo=×−¼=˚₣š½š=ž₣−ł¹ˇ¾¸³šÐ=ýš=½ž=ÝšÐ½−¼¹ł˝ˇ=
Â₣−ł¹˙¾ž³ž²=ÙğÞ¸²=ł˝Þš½ˇÐ=³½−=ýšÞ−Ć=?◊₣−Ð=C=Ë−¼Š−¼Þ˝³ý?K=
ÌÐ=×¹−š×ÐÝšłý˚Þ−Ð=¸₣−Ð=ð−¼Š−¼Þ˝³ýˇ½−²=ŠšÞ=×š¹Ð˚₣−Þ½ˇÐ=³½−=
ýšÞ−Ć=?◊₣−Ð=C=Ë−¼Š−¼Þ˝³ý?=ÍşÞ−=½ˇ=̌ ¹₣š˝ˇ=̧ ₣−¼=×−¼=ý×−¹−ĆÞ=
Þˇ=ˇÞˇ×ˇ¹ˇ₣¦−ĆÞ=³½−=½žÝ˚¾ğÞ−=ˇ×−¦žðšĆ−Þ½ˇÐ=³½−=ýšÞ−Ć=
?◊₣−Ð=C=Ë−¼Š−¼Þ˝³ýK?K

flÞˇ×ˇ¹ˇłğł¸=fl¹₣š˝ğÞ=◊₣−¼
?Ú−=¼ÝÐðş=ý−¼?=→=?◊₣−Ð=C=Ë−¼Š−¼Þ˝³ýK?
NK ÓÐ˚³½š=d=łÐˇ=Þˇ=šý¾ˇÞÐ³½š˝=ž=Ý˝³½ˇ=ˇ×ş=½žÞ=ð˙¹½ˇ=ýÞ¸ýž²=

ðˇÐ=c=łÐˇ=š×Ð³½¹−¾¸=³½ž=ýÞ¸ýž=½ž²=³¼³ðš¼¸²K

OK „×ÐÝ˚þ½š=½−=ˇ¹₣š˝−=×−¼=¦˚Ýš½š=Þˇ=ˇÞˇ×ˇ¹˙łš½šK
·Ðˇ=Þˇ=³½ˇýˇ½¸³š½š=½žÞ=ˇÞˇ×ˇ¹ˇłğł¸I=×Ð˚³½š= K

Òžýš˝ğ³ž
≥ Â=̌ Þˇ×ˇ¹ˇłğł¸=ý×−¹š˝=Þˇ=ýžÞ=š˝ÞˇÐ=ŠÐˇ¦˚³Ðýž=łÐˇ=−¹Ð³ý˚Þˇ=

ˇ¹₣š˝ˇ=¸₣−¼K

ı¹¸³ž=½ğÞ=fl¹₣š˝ğÞ=◊₣−¼=ğ²=◊₣−¼²=Ë−¼Š−¼Þ˝³ýˇ½−²
?Ú−=¼ÝÐðş=ý−¼?=→=?◊₣−Ð=C=Ë−¼Š−¼Þ˝³ýK?
NK Íˇ¹ð˙¹š½š=½−=ˇ¹₣š˝−=×−¼=¦˚Ýš½š=Þˇ=₣¹ž³Ðý−×−Ð¸³š½š=ğ²=

¸₣−=ð−¼Š−¼Þ˝³ýˇ½−²K

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?ÔĆ¦ýK=ğ²=Ë−¼ŠK?K

Òžýš˝ğ³ž
≥ Úˇ=ý−¼³Ðð˙=ˇ¹₣š˝ˇ=½Ć×−¼=^jo=ŠšÞ=ý×−¹−ĆÞ=Þˇ=
₣¹ž³Ðý−×−Ðž¦−ĆÞ=ğ²=¸₣−Ð=ð−¼Š−¼Þ˝³ýˇ½−²K

Ò¼ýŁ−¼Ý¸
≥ ·Ðˇ=̇ ÝÝˇ=ýšÞ−Ć=š×ÐÝ−łćÞI=Šš˝½š=?Ë−ÐÞ˙=ÍšÞ−Ć=„×ÐÝ−łćÞ?=³½ž=

³šÝ˝Šˇ SUK

È¸Ğž=fl¹₣š˝ğÞ=◊₣−¼
?Ú−=¼ÝÐðş=ý−¼?=→=?◊₣−Ð=C=Ë−¼Š−¼Þ˝³ýK?=→=?È¸Ğž=˙ÝÝğÞ?
„ý¾ˇÞ˝Žš½ˇÐ=ž=³šÝ˝Šˇ=Ý¸Ğž²=ˇ¹₣š˝ğÞ=¸₣−¼K

=Ej=SJOF



Ú−=¼ÝÐðş=ý−¼ ST

sáÇÉçë
Í×−¹š˝½š=Þˇ=ŠÐˇ₣šÐ¹Ð³½š˝½š=½ˇ=îáÇÉç=Åäáéë=×−¼=˚₣š½š=½¹ˇŁ¸þšÐ=
ýš=½ž=ŁÐÞ½š−ð˙ýš¹ˇ=¸=×−¼=˚₣š½š=ðˇ½šŁ˙³šÐ=ˇ×ş=Ð³½−³šÝ˝Šš²=
½−¼=ãçÄáäÉ=fåíÉêåÉíK

flÞˇ×ˇ¹ˇłğł¸=fl¹₣š˝ğÞ=sáÇÉç=`äáé
?Ú−=¼ÝÐðş=ý−¼?=→=?sáÇÉçë?
NK ÓÐ˚³½š=d=łÐˇ=Þˇ=šý¾ˇÞÐ³½š˝=ž=Ý˝³½ˇ=ˇ×ş=½žÞ=ð˙¹½ˇ=ýÞ¸ýž²=

ðˇÐ=c=łÐˇ=š×Ð³½¹−¾¸=³½ž=ýÞ¸ýž=½ž²=³¼³ðš¼¸²K

OK „×ÐÝ˚þ½š=½−=ˇ¹₣š˝−=×−¼=¦˚Ýš½š=Þˇ=ˇÞˇ×ˇ¹˙łš½šK

PK ÓÐ˚³½š= K
·Ðˇ=Þˇ=ŠÐˇðşĞš½š=×¹−³ğ¹ÐÞ˙=½žÞ=ˇÞˇ×ˇ¹ˇłğł¸I=×Ð˚³½š= K
·Ðˇ=Þˇ=³¼Þš₣˝³š½š=×Ð˚³½š=×˙ÝÐ= K
·Ðˇ=Þˇ=³½ˇýˇ½¸³š½š=šÞ½šÝć²=½žÞ=ˇÞˇ×ˇ¹ˇłğł¸I=×Ð˚³½š=
xÓ˝³ğzK

ı¹¸³ž=šÞş²=sáÇÉç=`äáé=ğ²=sáÇÉç=Ë−¼Š−¼Þ˝³ýˇ½−²
Í×−¹š˝½š=Þˇ=¹¼¦ý˝³š½š=½−=îáÇÉç=Åäáé=³ˇ²=Þˇ=̌ Þˇ×ˇ¹˙łš½ˇÐ=ş½ˇÞ=
ð−¼Š−¼Þ˝ŽšÐ=½−=½žÝ˚¾ğÞ−K

?Ú−=¼ÝÐðş=ý−¼?=→=?sáÇÉçë?
NK Íˇ¹ð˙¹š½š=½−=îáÇÉç=Åäáé=×−¼=š×Ð¦¼ýš˝½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?ÔĆ¦ýK=Ë−¼ŠK=sáÇÉç?K

Ò¼ýŁ−¼Ý¸
≥ ·Ðˇ=̇ ÝÝˇ=ýšÞ−Ć=š×ÐÝ−łćÞI=Šš˝½š=?Ë−ÐÞ˙=ÍšÞ−Ć=„×ÐÝ−łćÞ?=³½ž=

³šÝ˝Šˇ SUK

È¸Ğž=sáÇÉç=ˇ¹₣š˝ğÞ=`äáé
?Ú−=¼ÝÐðş=ý−¼?=→=?sáÇÉçë?=→=?È¸Ğž=˙ÝÝğÞ?
„ý¾ˇÞ˝Žš½ˇÐ=ž=³šÝ˝Šˇ=Ý¸Ğž²=ˇ¹₣š˝ğÞ=îáÇÉç=ÅäáéK

¿ÝÝˇ=÷łł¹ˇ¾ˇ
Ì¹Ð³ý˚Þ−Ð=½Ć×−Ð=ˇ¹₣š˝ğÞ=ˇ×−¦žðšĆ−Þ½ˇÐ=³½−=¾˙ðšÝ−=¿ÝÝˇ=
÷łł¹ˇ¾ˇ=½−¼=½žÝš¾ćÞ−¼K=Í×−¹š˝½š=Þˇ=š×šþš¹łˇ³½š˝½š=ðˇÐ=Þˇ=
₣¹ž³Ðý−×−Ð¸³š½š=̌ ¼½˙=½ˇ=̌ ¹₣š˝ˇ=ğ²=ŠšŠ−ý˚Þˇ=½−¼=¾ˇð˚Ý−¼=Ú−=
¼ÝÐðş=ý−¼K

¿Þ−Ðłýˇ=½−¼=fl¹₣š˝−¼=„łł¹˙¾−¼
?Ú−=¼ÝÐðş=ý−¼?=→=?¿ÝÝˇ=÷łł¹ˇ¾ˇ?
NK ÓÐ˚³½š=d=łÐˇ=Þˇ=šý¾ˇÞÐ³½š˝=ž=Ý˝³½ˇ=ˇ×ş=½žÞ=ð˙¹½ˇ=ýÞ¸ýž²=

ðˇÐ=c=łÐˇ=š×Ð³½¹−¾¸=³½ž=ýÞ¸ýž=½ž²=³¼³ðš¼¸²K

OK „×ÐÝ˚þ½š=½−=ˇ¹₣š˝−=×−¼=š×Ð¦¼ýš˝½šK

Ò¼ýŁ−¼Ý¸
≥ ·Ðˇ=̇ ÝÝˇ=ýšÞ−Ć=š×ÐÝ−łćÞI=Šš˝½š=?Ë−ÐÞ˙=ÍšÞ−Ć=„×ÐÝ−łćÞ?=³½ž=

³šÝ˝Šˇ SUK

Ej=SJQF

=Ej=SJSF



SU Ú−=¼ÝÐðş=ý−¼

Ë−ÐÞ˙=ÍšÞ−Ć=„×ÐÝ−łćÞ
„Þš¹ł−×−˝ž³ž=fl¹₣š˝ğÞ=ýš=Ó¹−³½ˇ³˝ˇ=ÓÞš¼ýˇ½ÐðćÞ=
‚ÐðˇÐğý˙½ğÞ=EaojF
Ì¹Ð³ý˚Þˇ=ˇ¹₣š˝ˇ=šÐðşÞğÞI=¸₣−¼=ðˇÐ=îáÇÉç=Åäáé=ŠÐˇ¦˚½−¼Þ=˚Þˇ=
×¹şł¹ˇýýˇ=Ğž¾Ðˇð¸²=×¹−³½ˇ³˝ˇ²=×Þš¼ýˇ½ÐðćÞ=ŠÐðˇÐğý˙½ğÞI=
½−=−×−˝−=−Þ−ý˙Žš½ˇÐ=aoj=EaáÖáí~ä=oáÖÜíë=j~å~ÖÉãÉåíI=̂ ž¾Ðˇð¸=
‚Ðˇ₣š˝¹Ð³ž=‚ÐðˇÐğý˙½ğÞFK=·Ðˇ=Þˇ=ˇÞ−˝þš½š=½˚½−Ðˇ=ˇ¹₣š˝ˇI=¦ˇ=
×¹˚×šÐ=Þˇ=šÞš¹ł−×−Ð¸³š½š=½žÞ=Ğž¾Ðˇð¸=˙ŠšÐˇK=Úˇ=ˇ¹₣š˝ˇ=×−¼=
×¹−³½ˇ½šĆ−Þ½ˇÐ=ýš=aoj=šý¾ˇÞ˝Ž−Þ½ˇÐ=ýš= K
„×ÐÝ˚þ½š=½žÞ=ðˇ½˙ÝÝžÝž=š×ÐÝ−ł¸K

?Ú−=¼ÝÐðş=ý−¼?=→=?Ùğ½−ł¹ˇ¾˝š²?
?Ú−=¼ÝÐðş=ý−¼?=→=?◊₣−Ð=C=Ë−¼Š−¼Þ˝³ýK?
?Ú−=¼ÝÐðş=ý−¼?=→=?sáÇÉçë?
?Ú−=¼ÝÐðş=ý−¼?=→=?¿ÝÝˇ=÷łł¹ˇ¾ˇ?
NK Íˇ¹ð˙¹š½š=½−=ˇ¹₣š˝−=×−¼=¦˚Ýš½š=Þˇ=šÞš¹ł−×−Ð¸³š½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?„Þš¹ł−×−˝ž³ž?K

Òžýš˝ğ³ž
≥ Ì¹Ð³ý˚Þš²=¾ğ½−ł¹ˇ¾˝š²=ýš=×¹−³½ˇ³˝ˇ=aoj=š˝ÞˇÐ=×Ð¦ˇÞş=Þˇ=

ýžÞ=ý×−¹−ĆÞ=Þˇ=ˇÞ−Ð₣½−ĆÞ=ˇðşýž=ðˇÐ=³½žÞ=×š¹˝×½ğ³ž=×−¼=
š×Ð₣šÐ¹¸³š½š=Þˇ=½Ð²=šÞš¹ł−×−Ð¸³š½šK

fl×−³½−Ý¸=‚šŠ−ý˚ÞğÞ=ˇ×ş=Ú−=¼ÝÐðş=ý−¼
„×ÐÝ˚þ½š=½žÞ=ðˇ½˙ÝÝžÝž=š×ÐÝ−ł¸K
?Ú−=¼ÝÐðş=ý−¼?=→=?Ùğ½−ł¹ˇ¾˝š²?
?Ú−=¼ÝÐðş=ý−¼?=→=?◊₣−Ð=C=Ë−¼Š−¼Þ˝³ýK?
?Ú−=¼ÝÐðş=ý−¼?=→=?sáÇÉçë?
?Ú−=¼ÝÐðş=ý−¼?=→=?¿ÝÝˇ=÷łł¹ˇ¾ˇ?

NK Íˇ¹ð˙¹š½š=½−=ˇ¹₣š˝−=×−¼=š×Ð¦¼ýš˝½šK
OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?fl×−³½−Ý¸?K
PK „×ÐÝ˚þ½š=?˜²=Í¸Þ¼ýˇ?I=?Íš=_äìÉíççíÜ?=¸=?Íš=Û×˚¹¼¦¹š²?K

·Ðˇ=Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½ž=ŠžýÐ−¼¹ł˝ˇ=šÞş²=
ýžÞĆýˇ½−²=Šš˝½š=½žÞ=šÞş½ž½ˇ=?‚žýÐ−¼¹ł˝ˇ=Î˚−¼=
ÍžÞĆýˇ½−²?=³½ž=³šÝ˝Šˇ RMK
·Ðˇ=Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½Ð²=¹¼¦ý˝³šÐ²=ˇ³Ć¹ýˇ½−¼=
_äìÉíççíÜ=Šš˝½š=?_äìÉíççíÜ?=³½ž=³šÝ˝Šˇ NNNK=
·Ðˇ=Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½Ð²=¹¼¦ý˝³šÐ²=¼×˚¹¼¦¹ğÞI=
Šš˝½š=?Û×˚¹¼¦¹š²?=³½ž=³šÝ˝Šˇ NNPK

Òžýš˝ğ³ž
≥ ÌÐ=Ùğ½−ł¹ˇ¾˝š²L◊₣−ÐLsáÇÉç=Åäáéë=×−¼=×¹−³½ˇ½šĆ−Þ½ˇÐ=ˇ×ş=

×Þš¼ýˇ½Ðð˙=ŠÐðˇÐćýˇ½ˇ=ŠšÞ=ý×−¹−ĆÞ=Þˇ=ˇ×−³½ˇÝ−ĆÞ=ğ²=
³¼Þžýý˚Þˇ=³š=˚Þˇ=ý¸Þ¼ýˇI=ýš=šþˇ˝¹š³ž=½ˇ=ˇ¹₣š˝ˇ=₣ğ¹Ð³½¸²=
×ˇ¹˙Š−³ž²K

≥ Ëˇ½˙=½ž=³ĆŽš¼þž=¦ˇ=₣¹šÐˇ³½š˝=Þˇ=šÐ³˙łš½š=˚ÞˇÞ=ðğŠÐðş=ş½ˇÞ=
³¼ÞŠ˚š³½š=łÐˇ=×¹ć½ž=¾−¹˙=ýš=ý˝ˇ=³¼³ðš¼¸=×−¼=ŠÐˇ¦˚½šÐ=
ˇ³Ć¹ýˇ½ž=½š₣Þ−Ý−ł˝ˇ=_äìÉíççíÜK



Ú−=¼ÝÐðş=ý−¼ SV

È¸Ğž=‚šŠ−ý˚ÞğÞ=Ò½−=¼ÝÐðş=ý−¼
⁄½ˇÞ=½−=½žÝ˚¾ğÞ−=ÝˇýŁ˙ÞšÐ=ŠšŠ−ý˚Þˇ=Ò½−=¼ÝÐðş=ý−¼I=
šý¾ˇÞ˝Žš½ˇÐ=³½žÞ=ðˇ½˙³½ˇ³ž=ˇÞˇý−Þ¸²=˚Þˇ=ý¸Þ¼ýˇ=
š×ÐŁšŁˇ˝ğ³ž²K
NK ÓÐ˚³½š=xÎˇÐzK

Úˇ=Ýž¾¦˚Þ½ˇ=ŠšŠ−ý˚Þˇ=ˇ×−¦žðšĆ−Þ½ˇÐ=³½−Þ=ˇÞ½˝³½−Ð₣−=
¾˙ðšÝ−I=Ú−=¼ÝÐðş=ý−¼K

Ò¼ýŁ−¼Ý¸
≥ ·Ðˇ=Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½Ð²=¹¼¦ý˝³šÐ²=¼×˚¹¼¦¹ğÞ=¸=

_äìÉíççíÜI=Šš˝½š=?Ò¼ÞŠš³Ðýş½ž½ˇ?=³½ž=³šÝ˝Šˇ NNNK
ı¹¸³ž=‚šŠ−ý˚ÞğÞ=ˇ×ş=Ú−=¼ÝÐðş=ý−¼
Í×−¹š˝½š=Þˇ=ˇÞ½Ðł¹˙Ğš½šI=Þˇ=ýš½ˇðÐÞ¸³š½šI=Þˇ=½ˇþÐÞ−ý¸³š½šI=
Þˇ=ýš½−Þ−ý˙³š½š=ðˇÐ=Þˇ=ŠÐˇł¹˙Ğš½š=½ˇ=ŠšŠ−ý˚Þˇ=Ò½−=¼ÝÐðş=
ý−¼K

„×ÐÝ˚þ½š=½žÞ=ðˇ½˙ÝÝžÝž=š×ÐÝ−ł¸K

?Ú−=¼ÝÐðş=ý−¼?=→=?Ùğ½−ł¹ˇ¾˝š²?
?Ú−=¼ÝÐðş=ý−¼?=→=?◊₣−Ð=C=Ë−¼Š−¼Þ˝³ýK?
?Ú−=¼ÝÐðş=ý−¼?=→=?sáÇÉçë?
?Ú−=¼ÝÐðş=ý−¼?=→=?¿ÝÝˇ=÷łł¹ˇ¾ˇ?
NK Íˇ¹ð˙¹š½š=½−=ˇ¹₣š˝−=×−¼=š×Ð¦¼ýš˝½šK
OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?„ÐŠÐð˚²?K
PK „×ÐÝ˚þ½š=½žÞ=š×ÐÝ−ł¸=×−¼=š×Ð¦¼ýš˝½šK

?Íš½ˇð˝Þž³ž?W Íš½ˇðÐÞš˝=½ˇ=ˇ¹₣š˝ˇ=³š=˚ÞˇÞ=˙ÝÝ−=
¾˙ðšÝ−K=„×ÐÝ˚þ½š=½−=¾˙ðšÝ−=×¹−²=½−Þ=
−×−˝−=¦˚Ýš½š=Þˇ=ýš½ˇðÐÞ¸³š½šK

?flÞ½Ðł¹ˇ¾¸?W flÞ½Ðł¹˙¾šÐ=½ˇ=ˇ¹₣š˝ˇK=„×ÐÝ˚þ½š=½−=
¾˙ðšÝ−=³½−Þ=−×−˝−=¦˚Ýš½š=Þˇ=
ˇÞ½Ðł¹˙Ğš½šK

?‚žýK=Ùˇð˚Ý−¼?W ‚žýÐ−¼¹łš˝=˚Þˇ=Þ˚−=¾˙ðšÝ−K

?Ó−ÝÝˇ×Ý¸=š×ÐÝ−ł¸?W
„×ÐÝ˚łšÐ=×−ÝÝˇ×Ý˙=ˇ¹₣š˝ˇK

?Ëˇ½˙½ˇþž?W ÚˇþÐÞ−ýš˝=½−=̌ ¹₣š˝−K=„×ÐÝ˚þ½š=½−=̌ ¹₣š˝−=
×−¼=¦˚Ýš½š=Þˇ=½ˇþÐÞ−ý¸³š½šK

Íš½−Þ−ýˇ³˝ˇ=šÞş²=fl¹₣š˝−¼
„×ÐÝ˚þ½š=½žÞ=ðˇ½˙ÝÝžÝž=š×ÐÝ−ł¸K

?Ú−=¼ÝÐðş=ý−¼?=→=?Ùğ½−ł¹ˇ¾˝š²?
?Ú−=¼ÝÐðş=ý−¼?=→=?◊₣−Ð=C=Ë−¼Š−¼Þ˝³ýK?
?Ú−=¼ÝÐðş=ý−¼?=→=?sáÇÉçë?
?Ú−=¼ÝÐðş=ý−¼?=→=?¿ÝÝˇ=÷łł¹ˇ¾ˇ?
NK Íˇ¹ð˙¹š½š=½−=ˇ¹₣š˝−=×−¼=š×Ð¦¼ýš˝½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Íš½−Þ−ýˇ³˝ˇ?K

‚Ðˇł¹ˇ¾¸=šÞş²=fl¹₣š˝−¼
?Ú−=¼ÝÐðş=ý−¼?=→=?Ùğ½−ł¹ˇ¾˝š²?
?Ú−=¼ÝÐðş=ý−¼?=→=?◊₣−Ð=C=Ë−¼Š−¼Þ˝³ýK?
?Ú−=¼ÝÐðş=ý−¼?=→=?sáÇÉçë?
?Ú−=¼ÝÐðş=ý−¼?=→=?¿ÝÝˇ=÷łł¹ˇ¾ˇ?
NK Íˇ¹ð˙¹š½š=½−=ˇ¹₣š˝−=×−¼=š×Ð¦¼ýš˝½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?‚Ðˇł¹ˇ¾¸?K



TM Ú−=¼ÝÐðş=ý−¼

Ó¹−Ł−Ý¸=Èš×½−ýš¹šÐćÞ=ˇ×ş=Ú−=¼ÝÐðş=ý−¼
„×ÐÝ˚þ½š=½žÞ=ðˇ½˙ÝÝžÝž=š×ÐÝ−ł¸K
?Ú−=¼ÝÐðş=ý−¼?=→=?Ùğ½−ł¹ˇ¾˝š²?
?Ú−=¼ÝÐðş=ý−¼?=→=?◊₣−Ð=C=Ë−¼Š−¼Þ˝³ýK?
?Ú−=¼ÝÐðş=ý−¼?=→=?sáÇÉçë?
?Ú−=¼ÝÐðş=ý−¼?=→=?¿ÝÝˇ=÷łł¹ˇ¾ˇ?
NK Íˇ¹ð˙¹š½š=½−=ˇ¹₣š˝−=łÐˇ=½−=−×−˝−=¦˚Ýš½š=Þˇ=Šš˝½š=½Ð²=

Ýš×½−ý˚¹šÐš²K

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Èš×½−ýK?K

Ùş¹½ğ³ž=Eréäç~ÇF=‚šŠ−ý˚ÞğÞ=ˇ×ş=Ú−=¼ÝÐðş=ý−¼
Í×−¹š˝½š==Þˇ=¾−¹½ć³š½š=½ˇ=ˇ¹₣š˝ˇ=šÐðşÞˇ²I=¸₣−¼=¸=½ˇ=ˇ¹₣š˝ˇ=
îáÇÉç=Åäáé=³½−=jjp=mÜçíç=^äÄìãK
?Ú−=¼ÝÐðş=ý−¼?=→=?Ùğ½−ł¹ˇ¾˝š²?
?Ú−=¼ÝÐðş=ý−¼?=→=?◊₣−Ð=C=Ë−¼Š−¼Þ˝³ýK?
?Ú−=¼ÝÐðş=ý−¼?=→=?sáÇÉçë?
NK Íˇ¹ð˙¹š½š=½−=ˇ¹₣š˝−=×−¼=¦˚Ýš½š=Þˇ=¾−¹½ć³š½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?fl×−³½−Ý¸?K

PK „×ÐÝ˚þ½š=?Ò½−=^äÄìã?K

Òžýš˝ğ³ž
≥ Úˇ=ˇ¹₣š˝ˇ=¾ğ½−ł¹ˇ¾ÐćÞI=¸₣−¼=ðˇÐ=½ˇ=îáÇÉç=Åäáé=×−¼=

×¹−³½ˇ½šĆ−Þ½ˇÐ=̌ ×ş=×Þš¼ýˇ½Ðð˙=ŠÐðˇÐćýˇ½ˇ=ŠšÞ=ý×−¹−ĆÞ=Þˇ=
¾−¹½ğ¦−ĆÞI=ýš=šþˇ˝¹š³ž=½ˇ=ˇ¹₣š˝ˇ=ığ¹Ð³½¸²=Óˇ¹˙Š−³ž²K

·Ðˇ=Þˇ=„×ÐÝ˚þš½š=Ó−ÝÝˇ×Ý˙=fl¹₣š˝ˇ
Í×−¹š˝½š=Þˇ=š×ÐÝ˚þš½š=×ˇ¹ˇ×˙Þğ=̌ ×ş=̊ Þˇ=ˇ¹₣š˝−=̌ ×ş=Ú−=¼ÝÐðş=
ý−¼=łÐˇ=ýš½ˇð˝Þž³žI=ˇÞ½Ðł¹ˇ¾¸=¸=ŠÐˇł¹ˇ¾¸K

Òžýš˝ğ³ž
≥ Â=ˇðşÝ−¼¦ž=ŠÐˇŠÐðˇ³˝ˇ=š¾ˇ¹ýşŽš½ˇÐ=ş½ˇÞ=˚₣−¼Þ=

ýˇ¹ðˇ¹Ð³½š˝=ðˇ½ˇ₣ğ¹¸³šÐ²=šð½ş²=ˇ×ş=½Ð²=?È¸Ğž=˙ÝÝğÞ?K
„×ÐÝ˚þ½š=½žÞ=ðˇ½˙ÝÝžÝž=š×ÐÝ−ł¸K
?Ú−=¼ÝÐðş=ý−¼?=→=?Ùğ½−ł¹ˇ¾˝š²?=→=x„×ÐÝKz
?Ú−=¼ÝÐðş=ý−¼?=→=?◊₣−Ð=C=Ë−¼Š−¼Þ˝³ýK?=→=x„×ÐÝKz
?Ú−=¼ÝÐðş=ý−¼?=→=?sáÇÉçë?=→=x„×ÐÝKz
?Ú−=¼ÝÐðş=ý−¼?=→=?¿ÝÝˇ=÷łł¹ˇ¾ˇ?=→=x„×ÐÝKz
NK „×ÐÝ˚þ½š=?„ÐŠÐð˚²?K

OK „×ÐÝ˚þ½š=?Ó−ÝÝˇ×Ý¸=š×ÐÝ−ł¸?K

PK ÓÐ˚³½š= =łÐˇ=Þˇ=šÝ˚łþš½š=½ˇ=−Þşýˇ½ˇ=ˇ¹₣š˝ğÞ=×−¼=
š×Ð¦¼ýš˝½šK

QK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=½žÞ=š×ÐÝ−ł¸=×−¼=š×Ð¦¼ýš˝½šK

Ò¼ýŁ−¼Ý¸
≥ ·Ðˇ=Þˇ=ˇ¾ˇÐ¹˚³š½š=½−=½³šð˙¹Ð³ýˇI=š×ÐÝ˚þ½š=þˇÞ˙=½−=ˇ¹₣š˝−=¸=

š×ÐÝ˚þ½š=?fl×−š×ÐÝ−ł¸?=³½−=Ł¸ýˇ=QK
≥ „˙Þ=¦˚Ýš½š=Þˇ=š×ÐÝ˚þš½š=şÝˇ=½ˇ=ˇ¹₣š˝ˇI=š×ÐÝ˚þ½š=?„×ÐÝ−ł¸=

⁄ÝğÞ?=³½−=Ł¸ýˇ=QK=·Ðˇ=Þˇ=ˇð¼¹ć³š½š=½žÞ=š×ÐÝ−ł¸=şÝğÞ=½ğÞ=
ˇ¹₣š˝ğÞI=š×ÐÝ˚þ½š=?„þˇ˝¹š³ž=şÝğÞ?K



Ú−=¼ÝÐðş=ý−¼ TN

ÓˇÐ₣Þ˝ŠÐˇ=C=„¾ˇ¹ý−ł˚²
·Ðˇ=Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=šÐŠÐð˚²=š¾ˇ¹ý−ł˚²=½ž²=sçÇ~ÑçåÉI=
Šš˝½š=?ÓˇÐ₣Þ˝ŠÐˇ=C=„¾ˇ¹ý−ł˚²?=³½ž=³šÝ˝Šˇ TOK

Ó¹ş½¼×ˇ=Ëš˝ýšÞˇ
Í×−¹š˝½š=Þˇ=ðˇ½ˇ₣ğ¹¸³š½š=˚ğ²=ðˇÐ=RM=×¹ş½¼×ˇ=ðš˝ýšÞˇ=łÐˇ=Þˇ=
½ˇ=₣¹ž³Ðý−×−Ð¸³š½š=³š=ł¹ˇ×½˙=ýžÞĆýˇ½ˇ=¸=ýžÞĆýˇ½ˇ=
×−Ý¼ý˚³ğÞK=Í×−¹š˝½š=Þˇ=₣¹ž³Ðý−×−Ð¸³š½š=˚ğ²=ðˇÐ=ORS=
₣ˇ¹ˇð½¸¹š²=³š=˚Þˇ=×¹ş½¼×−=ðš˝ýšÞ−K

Ó¹−³¦¸ðž=Ù¹˙³šğÞ=³š=Ó¹ş½¼×ˇ=Ëš˝ýšÞˇ
?Ú−=¼ÝÐðş=ý−¼?=→=?Ó¹ş½¼×ˇ=Ëš˝ýšÞˇ?=→=?Ó¹−³¦K=Î˚−¼=
Ó¹−½Ć×K?
NK „Ð³˙łš½š=½−=ðš˝ýšÞ−=ðˇÐ=×Ð˚³½š= K

„×šþš¹łˇ³˝ˇ=Ó¹−½Ć×ğÞ=ËšÐý˚ÞğÞ
?Ú−=¼ÝÐðş=ý−¼?=→=?Ó¹ş½¼×ˇ=Ëš˝ýšÞˇ?
NK Íˇ¹ð˙¹š½š=½−=×¹ş½¼×−=ðš˝ýšÞ−=×−¼=¦˚Ýš½š=Þˇ=

š×šþš¹łˇ³½š˝½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?„×šþš¹łˇ³˝ˇ?K
·Ðˇ=Þˇ=Šš˝½š=½−=×¹ş½¼×−=ðš˝ýšÞ−I=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=
?Ó¹−Ł−Ý¸?K
·Ðˇ=Þˇ=ŠÐˇł¹˙Ğš½š=½−=×¹ş½¼×−=ðš˝ýšÞ−I=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=
š×ÐÝ˚þ½š=?‚Ðˇł¹ˇ¾¸?K

PK Ú¹−×−×−Ð¸³½š=½−=ðš˝ýšÞ−=ðˇÐ=×Ð˚³½š= K

fl×−³½−Ý¸=Ó¹ş½¼×ğÞ=ËšÐý˚ÞğÞ
?Ú−=¼ÝÐðş=ý−¼?=→=?Ó¹ş½¼×ˇ=Ëš˝ýšÞˇ?
NK Íˇ¹ð˙¹š½š=½−=×¹ş½¼×−=ðš˝ýšÞ−=×−¼=¦˚Ýš½š=Þˇ=³½š˝Ýš½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?fl×−³½−Ý¸=Ó¹−½Ć×−¼?K

Ëˇ½˙³½ˇ³ž=ÍÞ¸ýž²
fl¼½¸=ž=ÝšÐ½−¼¹ł˝ˇ=³ˇ²=Ł−ž¦˙=Þˇ=šÝ˚ł₣š½š=½žÞ=ðˇ½˙³½ˇ³ž=½ž²=
ýÞ¸ýž²=½žÝš¾ćÞ−¼=̧ =½ž²=ð˙¹½ˇ²=ýÞ¸ýž²K=Â=ðˇ½˙³½ˇ³ž=ýÞ¸ýž²=
ðˇÝĆ×½šÐ=½ˇ=šþ¸²K

ÍÞ¸ýž=Ò¼³ðš¼¸²W g~î~∑=„¾ˇ¹ý−ł˚²I=Ùğ½−ł¹ˇ¾˝š²I=
sáÇÉçëI=◊₣−ÐI=¿ÝÝš²I=ÒĆÞ−Ý−=ðˇÐ=„ÝšĆ¦K

Ë˙¹½ˇ=ÍÞ¸ýž²W Ùğ½−ł¹ˇ¾˝š²I=sáÇÉçëI=◊₣−ÐI=¿ÝÝš²I=
ÒĆÞ−Ý−=ðˇÐ=„ÝšĆ¦K

?Ú−=¼ÝÐðş=ý−¼?=→=?Ëˇ½˙³½K=ÍÞ¸ýž²?
NK „×ÐÝ˚þ½š=?ÍÞ¸ýž=Ò¼³ðš¼¸²?=¸=?Ë˙¹½ˇ=ÍÞ¸ýž²?K

=Ej=SJPF

=Ej=SJRF

=Ej=SJTF



TO ‚Ðˇ³ð˚Šˇ³ž

‚Ðˇ³ð˚Šˇ³ž

ÓˇÐ₣Þ˝ŠÐˇ=C=„¾ˇ¹ý−ł˚²
ı¹¸³ž=„¾ˇ¹ý−łćÞ
ÒD=ˇ¼½ş=½−=½žÝ˚¾ğÞ−I=ý×−¹−ĆÞ=Þˇ=₣¹ž³Ðý−×−Ðž¦−ĆÞ=ŠÐ˙¾−¹š²=
š¾ˇ¹ý−ł˚²=½ž²=sçÇ~ÑçåÉK=·Ðˇ=Þˇ=₣¹ž³Ðý−×−Ð¸³š½š=½Ð²=
š¾ˇ¹ý−ł˚²I=¦ˇ=₣¹šÐˇ³½š˝=Þˇ=?ðˇ½šŁ˙³š½š?=½Ð²=š¾ˇ¹ý−ł˚²=ˇ×ş=
½−=ãçÄáäÉ=fåíÉêåÉíK=Ì¹Ð³ý˚Þš²=š¾ˇ¹ý−ł˚²=×¹−³¾˚¹−¼Þ=½ž=
Š¼Þˇ½ş½ž½ˇ=³ĆÞŠš³ž²=³š=ð˙×−Ð−=Š˝ð½¼−=ðˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=šÞş²=
×ˇÐ₣ÞÐŠÐ−Ć=¸=ý˝ˇ²=š¾ˇ¹ý−ł¸²=×−¼=¼×−³½ž¹˝ŽšÐ=ÝšÐ½−¼¹ł˝š²=
ŠÐð½Ć−¼K

Òžýš˝ğ³ž
≥ ÌÐ=š¾ˇ¹ý−ł˚²=šÞŠ˚₣š½ˇÐ=Þˇ=š˝ÞˇÐ=½−×Ðð˚²=E₣ğ¹˝²=

Š¼Þˇ½ş½ž½š²=³ĆÞŠš³ž²F=¸=Þˇ=¼×−³½ž¹˝Ž−¼Þ=ÝšÐ½−¼¹ł˝š²=
ŠÐð½Ć−¼=Eð˙Þ−Þ½ˇ²=₣¹¸³ž=½−¼=ãçÄáäÉ=fåíÉêåÉí=łÐˇ=šÞžý˚¹ğ³ž=
×Ýž¹−¾−¹ÐćÞL×ˇÐ₣Þ˝ŠÐˇFK=Û×˙¹₣šÐ=×š¹˝×½ğ³ž=½−=Š˝ð½¼−=Þˇ=
³ˇ²=₣¹šćÞšÐ=×¹ş³¦š½ˇ=łÐˇ=½ž=₣¹¸³ž=š¾ˇ¹ý−łćÞ=×−¼=
¼×−³½ž¹˝Ž−¼Þ=ÝšÐ½−¼¹ł˝š²=ŠÐð½Ć−¼K=·Ðˇ=×š¹Ð³³ş½š¹š²=
Ýš×½−ý˚¹šÐš²I=×ˇ¹ˇðˇÝ−Ćýš=š×Ðð−ÐÞğÞ¸³½š=ýš=½−Þ=×ˇ¹−₣˚ˇ=
ŠÐð½Ć−¼K

È¸Ğž=„¾ˇ¹ý−łćÞ
?‚Ðˇ³ð˚Šˇ³ž?=→=?ÓˇÐ₣Þ˝ŠÐˇ=C=„¾ˇ¹ý−ł˚²?=
→=?ÓˇÐ₣Þ˝ŠÐˇ=C=„¾ˇ¹ý−ł˚²?=→=?Ùş¹½ğ³ž=˙ÝÝğÞ?
NK „×ÐÝ˚þ½š=½žÞ=š¾ˇ¹ý−ł¸=×−¼=š×Ð¦¼ýš˝½šK

Ó¹ÐÞ=?ðˇ½šŁ˙³š½š?=ý˝ˇ=š¾ˇ¹ý−ł¸I=¦ˇ=³ˇ²=Žž½ž¦š˝=Þˇ=
š×ÐŁšŁˇÐć³š½š=½žÞ=š¾ˇ¹ý−ł¸=×−¼=×¹şðšÐ½ˇÐ=Þˇ=Ý˙Łš½šK=
fl¾−Ć=šÝ˚łþš½š=½Ð²=×Ýž¹−¾−¹˝š²=³½žÞ=−¦şÞž=š×ÐŁšŁˇ˝ğ³ž²I=
ý×−¹š˝½š=Þˇ=?ðˇ½šŁ˙³š½š?=½žÞ=š¾ˇ¹ý−ł¸K

OK ÓÐ˚³½š= =łÐˇ=Þˇ=þšðÐÞ¸³šÐ=ž=Ý¸ĞžK

PK ÓÐ˚³½š= =ş½ˇÞ=½šÝšÐć³š½šK

Òžýš˝ğ³ž
≥ Òš=−¹Ð³ý˚Þš²=−¦şÞš²=×Ýž¹−¾−¹ÐćÞI=š˝ÞˇÐ=×Ð¦ˇÞş=Þˇ=

ˇ×ˇÐ½š˝½ˇÐ=×Ð³½−×−˝ž³ž=₣¹¸³½ž=×¹ÐÞ=½ž=Ý¸Ğž=½ž²=š¾ˇ¹ý−ł¸²K

„ð½˚Ýš³ž=„¾ˇ¹ý−łćÞ
?‚Ðˇ³ð˚Šˇ³ž?=→=?ÓˇÐ₣Þ˝ŠÐˇ=C=„¾ˇ¹ý−ł˚²?=
→=?ÓˇÐ₣Þ˝ŠÐˇ=C=„¾ˇ¹ý−ł˚²?
NK „×ÐÝ˚þ½š=½−Þ=½˝½Ý−=½ž²=š¾ˇ¹ý−ł¸²=×−¼=¦˚Ýš½š=Þˇ=

šð½šÝ˚³š½šK
Â=š×ÐÝšłý˚Þž=š¾ˇ¹ý−ł¸=šð½šÝš˝½ˇÐK=⁄½ˇÞ=₣¹ž³Ðý−×−Ðš˝½š=
š¾ˇ¹ý−ł˚²=×−¼=¼×−³½ž¹˝Ž−¼Þ=³ĆÞŠš³ž=³š=Š˝ð½¼−I=ý×−¹š˝½š=
Þˇ=š×ÐÝ˚þš½š=½ž=³ĆÞŠš³ž=³½−=Š˝ð½¼−K

OK ·Ðˇ=Þˇ=½š¹ýˇ½˝³š½š=½žÞ=š¾ˇ¹ý−ł¸I=×Ð˚³½š=F=ðˇÐ=š×ÐÝ˚þ½š=
?Ú˚Ý−²?K

ÔĆ¦ýÐ³ž=ğ²=pÅêÉÉåë~îÉê=łÐˇ=½žÞ=ËĆ¹Ðˇ=Ì¦şÞž
?‚Ðˇ³ð˚Šˇ³ž?=→=?ÓˇÐ₣Þ˝ŠÐˇ=C=„¾ˇ¹ý−ł˚²?=
→=?ÓˇÐ₣Þ˝ŠÐˇ=C=„¾ˇ¹ý−ł˚²?
NK Íˇ¹ð˙¹š½š=½−=ˇ¹₣š˝−=×−¼=¦˚Ýš½š=Þˇ=₣¹ž³Ðý−×−Ð¸³š½š=ğ²=

ëÅêÉÉåë~îÉêK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ô¼¦ýK=ğ²=pÅêÉÉåë~îÉê?K

=Ej=NF

=Ej=NJNF
=Ej=NJNJNF



‚Ðˇ³ð˚Šˇ³ž TP

ÔĆ¦ýÐ³ž=¿ŠšÐˇ²
Í×−¹š˝½š=Þˇ=−¹˝³š½š=½žÞ=˙ŠšÐˇ=łÐˇ=š×ÐÝšłý˚Þš²=š¾ˇ¹ý−ł˚²=
g~î~∑K
?‚Ðˇ³ð˚Šˇ³ž?=→=?ÓˇÐ₣Þ˝ŠÐˇ=C=„¾ˇ¹ý−ł˚²?=
→=?ÓˇÐ₣Þ˝ŠÐˇ=C=„¾ˇ¹ý−ł˚²?
NK Íˇ¹ð˙¹š½š=½žÞ=š¾ˇ¹ý−ł¸=g~î~∑=×−¼=š×Ð¦¼ýš˝½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?„×˝×šŠ−=fl³¾˙ÝK?K

PK „×ÐÝ˚þ½š=ý˝ˇ=ˇ×ş=½Ð²=×ˇ¹ˇð˙½ğ=š×ÐÝ−ł˚²W
?ËÝ¸³ž=ÚžÝš¾ćÞ−¼?W Ô¼¦ý˝ŽšÐ=½žÞ=˙ŠšÐˇ=łÐˇ=½žÞ=

×¹ˇłýˇ½−×−˝ž³ž=¾ğÞž½ÐðćÞ=
ðÝ¸³šğÞK

?Ó¹ş³ŁK=³½−=‚˝ð½¼−?W Ì¹˝ŽšÐ=½žÞ=˙ŠšÐˇ=łÐˇ=½žÞ=×¹ş³Łˇ³ž=
³½−=Š˝ð½¼−K

?ÍžÞĆýˇ½ˇ?W Ì¹˝ŽšÐ=½žÞ=˙ŠšÐˇ=łÐˇ=½Ð²=ÝšÐ½−¼¹ł˝š²=
ýžÞ¼ý˙½ğÞ=jjp=ðˇÐ=pjpK

?^ìíç=oìå?W Ì¹˝ŽšÐ=½žÞ=˙ŠšÐˇ=łÐˇ=½ž=ÝšÐ½−¼¹ł˝ˇ=
fl¼½şýˇ½ž²=„ð½˚Ýš³ž²K

?Ú−×Ðð¸=ÒĆÞŠš³ž?W Ì¹˝ŽšÐ=½žÞ=˙ŠšÐˇ=łÐˇ=½ž=³ĆÞŠš³ž=³š=
½−×Ðð˚²=³¼³ðš¼˚²K

?flÞ˙łÞğ³ž=‚šŠ−ýK?W Ì¹˝ŽšÐ=½žÞ=˙ŠšÐˇ=ˇÞ˙łÞğ³ž²=½ğÞ=
ŠšŠ−ý˚ÞğÞ=₣¹¸³½žI=ş×ğ²=½ğÞ=
ðˇ½ˇ₣ğ¹¸³šğÞ=È˝³½ˇ²=š×ˇ¾ćÞI=½ž²=
¦¼¹˝Šˇ²=ˇÝÝžÝ−ł¹ˇ¾˝ˇ²=
E„Ð³š¹₣şýšÞˇF=ðˇÐ=½ğÞ=ŠšŠ−ý˚ÞğÞ=
×−¼=×š¹Ð˚₣−Þ½ˇÐ=³½−=ÛÝÐðş=Í−¼K

?„łł¹K=‚šŠK=ı¹¸³½K?W Ì¹˝ŽšÐ=½žÞ=˙ŠšÐˇ=łÐˇ=½žÞ=šłł¹ˇ¾¸=
ðˇ½ˇ₣ğ¹¸³šğÞ=³½−=½žÝ˚¾ğÞş=³ˇ²=
ş×ğ²=ðˇ½ˇ₣ğ¹¸³šÐ²=È˝³½ˇ²I=„×ˇ¾ćÞ=
ýžÞĆýˇ½ˇ=E„Ð³š¹₣şýšÞˇF=ðˇÐ=³½−Ð₣š˝ˇ=
ˇ×ş=Ú−=ÛÝÐðş=ý−¼K

?ı¹¸³ž=Ó−Ý¼ý˚³ğÞ?W Ì¹˝ŽšÐ=½žÞ=˙ŠšÐˇ=₣¹¸³ž²=½ž²=
šłł¹ˇ¾¸²=×−Ý¼ý˚³ğÞK

?Ó¹ş³Łˇ³ž=Ú−×−¦K?W Ì¹˝ŽšÐ=½žÞ=̇ ŠšÐˇ=łÐˇ=½ž=šÞžý˚¹ğ³ž=½ž²=
ÝšÐ½−¼¹ł˝ˇ²=×¹−³ŠÐ−¹Ð³ý−Ć=¦˚³ž²K

QK „×ÐÝ˚þ½š=ý˝ˇ=ˇ×ş=½Ð²=×ˇ¹ˇð˙½ğ=š×ÐÝ−ł˚²W
?ÒĆÞ−Š−²?W Ú−=ý¸Þ¼ýˇ=š×ÐŁšŁˇ˝ğ³ž²=ŠšÞ=

šý¾ˇÞ˝Žš½ˇÐ=ý˚₣¹Ð=Þˇ=½š¹ýˇ½˝³š½š=
½žÞ=š¾ˇ¹ý−ł¸I=ş½ˇÞ=ž=šð½˚Ýš³ž=½−¼=
^mf=½ž²=³¼łðšð¹Ðý˚Þž²=−ý˙Šˇ²=
ÝšÐ½−¼¹łÐćÞ=˚₣šÐ=šłð¹Ð¦š˝K

?ÍÐˇ=¾−¹˙?W Ú−=ý¸Þ¼ýˇ=š×ÐŁšŁˇ˝ğ³ž²=
šý¾ˇÞ˝Žš½ˇÐ=ð˙¦š=¾−¹˙=×−¼=
šð½šÝš˝½ˇÐ=½−=^mf=½ž²=³¼łðšð¹Ðý˚Þžë=
−ý˙Šˇ²=ÝšÐ½−¼¹łÐćÞK

?Ó¹ć½ž=¾−¹˙?W Ú−=ý¸Þ¼ýˇ=š×ÐŁšŁˇ˝ğ³ž²=ŠšÞ=
šý¾ˇÞ˝Žš½ˇÐ=ý˚₣¹Ð=Þˇ=ŠÐˇł¹ˇ¾š˝=ž=
š¾ˇ¹ý−ł¸=¸=ý˚₣¹Ð=Þˇ=ˇÝÝ˙þš½š=½Ð²=
¹¼¦ý˝³šÐ²I=ş½ˇÞ=ž=šð½˚Ýš³ž=½−¼=^mf=
½ž²=³¼łðšð¹Ðý˚Þž²=−ý˙Šˇ²=
ÝšÐ½−¼¹łÐćÞ=˚₣šÐ=šłð¹Ð¦š˝K

?⁄₣Ð?W ‚šÞ=š×Ð½¹˚×š½ˇÐ=ž=šð½˚Ýš³ž=½−¼=^mf=
½ž²=³¼łðšð¹Ðý˚Þž²=−ý˙Šˇ²=
ÝšÐ½−¼¹łÐćÞK

Òžýš˝ğ³ž
≥ ·Ðˇ=½žÞ=ŠÐˇł¹ˇ¾¸=şÝğÞ=½ğÞ=¹¼¦ý˝³šğÞ=˙ŠšÐˇ²I=š×ÐÝ˚þš½š=

?„×ˇÞˇ¾−¹˙?=³½−=Ł¸ýˇ=PK
≥ ⁄Ýš²=−Ð=˙ŠšÐš²=ŠšÞ=š˝ÞˇÐ=ŠÐˇ¦˚³Ðýš²=łÐˇ=şÝš²=½Ð²=š¾ˇ¹ý−ł˚²=

g~î~∑K



TQ ‚Ðˇ³ð˚Šˇ³ž

Ó¹−Ł−Ý¸=ÓÝž¹−¾−¹ÐćÞ=„¾ˇ¹ý−ł¸²
Í×−¹š˝½š=Þˇ=šÝ˚łþš½š=½Ð²=×Ýž¹−¾−¹˝š²=½ğÞ=š¾ˇ¹ý−łćÞ=g~î~∑K
?‚Ðˇ³ð˚Šˇ³ž?=→=?ÓˇÐ₣Þ˝ŠÐˇ=C=„¾ˇ¹ý−ł˚²?=
→=?ÓˇÐ₣Þ˝ŠÐˇ=C=„¾ˇ¹ý−ł˚²?
NK Íˇ¹ð˙¹š½š=½žÞ=š¾ˇ¹ý−ł¸=g~î~∑=×−¼=š×Ð¦¼ýš˝½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?ÓÝž¹−¾−¹˝š²?K

‚Ðˇł¹ˇ¾¸=ý˝ˇ²=„¾ˇ¹ý−ł¸²
Í×−¹š˝½š=Þˇ=ŠÐˇł¹˙Ğš½š=ý˝ˇ=š¾ˇ¹ý−ł¸=ˇ×ş=½ž=ýÞ¸ýž=½ž²=
³¼³ðš¼¸²K

?‚Ðˇ³ð˚Šˇ³ž?=→=?ÓˇÐ₣Þ˝ŠÐˇ=C=„¾ˇ¹ý−ł˚²?=
→=?ÓˇÐ₣Þ˝ŠÐˇ=C=„¾ˇ¹ý−ł˚²?
NK Íˇ¹ð˙¹š½š=½žÞ=š¾ˇ¹ý−ł¸=g~î~∑=×−¼=š×Ð¦¼ýš˝½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?‚Ðˇł¹ˇ¾¸?K

Ô¼¦ý˝³šÐ²
÷Þ½ˇ³ž=◊₣−¼=„¾ˇ¹ý−ł¸²
Í×−¹š˝½š=Þˇ=¹¼¦ý˝³š½š=½žÞ=˚Þ½ˇ³ž=½−¼=¸₣−¼=½ž²=š¾ˇ¹ý−ł¸²I=
ş×ğ²=×K₣K=̊ Þˇ=ž₣ž½Ððş=š¾¾˚I=³š=̊ Þˇ=̌ ×ş=½ˇ=×˚Þ½š=š×˝×šŠˇ=̧ =³½−=
³Ðğ×žÝşK=⁄½ˇÞ=½−=×¹−¾˝Ý=˚₣šÐ=¹¼¦ýÐ³½š˝=³½−=?ÒÐğ×žÝş?I=ž=
¹Ć¦ýÐ³ž=?·šÞÐð¸=˚Þ½ˇ³ž=¾ğÞ¸²?=E³šÝK VPF=˚₣šÐ=×¹−½š¹ˇÐş½ž½ˇK

?‚Ðˇ³ð˚Šˇ³ž?=→=?ÓˇÐ₣Þ˝ŠÐˇ=C=„¾ˇ¹ý−ł˚²?=→=?Ô¼¦ý˝³šÐ²?=→=
?÷Þ½ˇ³ž=„¾ˇ¹ý−ł¸²?
NK ÓÐ˚³½š=a=E¸=dF=łÐˇ=Þˇ=̌ ¼þ¸³š½š=½žÞ=̊ Þ½ˇ³ž=̧ =×Ð˚³½š=b=E¸=

cF=łÐˇ=Þˇ=ýšÐć³š½š=½žÞ=˚Þ½ˇ³ž=ðˇÐ=³½ž=³¼Þ˚₣šÐˇ=×Ð˚³½š=
K

Ùğ½Ð³ýş²
?‚Ðˇ³ð˚Šˇ³ž?=→=?ÓˇÐ₣Þ˝ŠÐˇ=C=„¾ˇ¹ý−ł˚²?=→=?Ô¼¦ý˝³šÐ²?=→=
?Ùğ½Ð³ýş²?=→=?„Þš¹łKLfl×šÞš¹łK?
NK „×ÐÝ˚þ½š=?Ó˙Þ½ˇ=ˇÞ−Ðð½ş²?I=?Ó˙Þ½ˇ=ðÝšÐ³½ş²?=¸=?ËˇÞ−ÞK=

Ô¼¦ýK?K
?Ó˙Þ½ˇ=ˇÞ−Ðð½ş²?W Íš=¾ğ½Ð³ýş=ðˇ½˙=½žÞ=šð½˚Ýš³ž=½ž²=

š¾ˇ¹ý−ł¸²K
?Ó˙Þ½ˇ=ðÝšÐ³½ş²?W ığ¹˝²=¾ğ½Ð³ýş=ðˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=

šð½˚Ýš³ž²=½ž²=š¾ˇ¹ý−ł¸²=ˇðşýž=ðˇÐ=
š˙Þ=×Ðš³½š˝=ð˙×−Ð−=×Ý¸ð½¹−K

?ËˇÞ−ÞK=Ô¼¦ýK?W ÈšÐ½−¼¹ł˝ˇ=ýš=½žÞ=ðĆ¹Ðˇ=¹Ć¦ýÐ³ž=
¾ğ½Ð³ý−Ć=E³šÝK VVFK

„Þš¹ł−×−˝ž³ž=½ž²=ÈšÐ½−¼¹ł˝ˇ²=‚Ðˇðšð−ýý˚Þ−¼=Ùğ½Ð³ý−Ć
Íš=ˇ¼½¸=½ž=¹Ć¦ýÐ³žI=ž=šÞš¹ł−×−˝ž³ž=½−¼=¾ğ½Ð³ý−Ć=šÝ˚ł₣š½ˇÐ=
ˇ×ş=½žÞ=š¾ˇ¹ý−ł¸K=„˙Þ=−¹Ð³½š˝=³š=?Íž=šÞš¹łş?I=½ş½š=−=
¾ğ½Ð³ýş²=ŠšÞ=ý×−¹š˝=Þˇ=šÞš¹ł−×−Ðž¦š˝=ˇ×ş=½žÞ=š¾ˇ¹ý−ł¸K
?‚Ðˇ³ð˚Šˇ³ž?=→=?ÓˇÐ₣Þ˝ŠÐˇ=C=„¾ˇ¹ý−ł˚²?=→=?Ô¼¦ý˝³šÐ²?=→=
?Ùğ½Ð³ýş²?=→=?Ú¹šýş×ˇÐłýˇ?
NK „×ÐÝ˚þ½š=?„Þš¹łş?=¸=?Íž=šÞš¹łş?K

=Ej=NJNJOF



‚Ðˇ³ð˚Šˇ³ž TR

‚şÞž³ž
⁄½ˇÞ=ž=š¾ˇ¹ý−ł¸=×š¹ÐÝˇýŁ˙ÞšÐ=ÝšÐ½−¼¹ł˝ˇ=ŠşÞž³ž²I=ý×−¹š˝½š=
Þˇ=š×ÐÝ˚þš½š=š˙Þ=ˇ¼½¸=ž=ÝšÐ½−¼¹ł˝ˇ=¦ˇ=š˝ÞˇÐ=šÞš¹ł−×−Ðžý˚Þž=¸=
ˇ×šÞš¹ł−×−Ðžý˚ÞžK
?‚Ðˇ³ð˚Šˇ³ž?=→=?ÓˇÐ₣Þ˝ŠÐˇ=C=„¾ˇ¹ý−ł˚²?=→=?Ô¼¦ý˝³šÐ²?=→=
?‚şÞž³ž?
NK „×ÐÝ˚þ½š=?„Þš¹łş?=¸=?Íž=šÞš¹łş?K

ËÝ¸³šÐ²=C=Ï¼×Þž½¸¹Ðˇ
Í×−¹š˝½š=Þˇ=−¹˝³š½š=½žÞ=×¹−½š¹ˇÐş½ž½ˇ=łÐˇ=½Ð²=šÐ³š¹₣şýšÞš²=
ðÝ¸³šÐ²=ðˇÐ=½−=þ¼×Þž½¸¹Ð=ðˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=šð½˚Ýš³ž²=ý˝ˇ²=
š¾ˇ¹ý−ł¸²K
?‚Ðˇ³ð˚Šˇ³ž?=→=?ÓˇÐ₣Þ˝ŠÐˇ=C=„¾ˇ¹ý−ł˚²?=→=?Ô¼¦ý˝³šÐ²?=
→=?ËÝ¸³šÐ²=C=Ï¼×Þž½K?
NK „×ÐÝ˚þ½š=?ËÝ¸³ž=ÙğÞ¸²?I=?ËÝ¸³ž=sáÇÉç?I=?„Ð³š¹₣şýšÞ−=

Í¸Þ¼ýˇ?=¸=?Ï¼×Þž½¸¹Ð?K
OK „×ÐÝ˚þ½š=½−=×¹−¾˝Ý=×−¼=š×Ð¦¼ýš˝½šK
≥ ?Ó¹−½š¹K=ËÝ¸³ž²?I=?Ó¹−½š¹K=ÍžÞĆýˇ½−²?=¸=?Ó¹−½š¹K=

Ï¼×Þž½K?W
Â=š¾ˇ¹ý−ł¸=½˝¦š½ˇÐ=ˇ¼½şýˇ½ˇ=³š=ˇÞˇý−Þ¸=ðˇÐ=ý×−¹š˝½š=Þˇ=
ˇ×ˇÞ½¸³š½š=³š=ý˝ˇ=ðÝ¸³ž=¸=˚Þˇ=ý¸Þ¼ýˇI=¸=¦ˇ=ˇð−¼³½š˝=½−=
þ¼×Þž½¸¹ÐI=̌ Þ½˝³½−Ð₣ˇK=fl¾−Ć=½š¹ýˇ½Ð³½š˝=ž=ðÝ¸³žI=½−=ý¸Þ¼ýˇ=
¸=½−=þ¼×Þž½¸¹ÐI=šý¾ˇÞ˝Žš½ˇÐ=½−=šÐð−Þ˝ŠÐ−=ˇÞˇý−Þ¸²=E F=łÐˇ=
Þˇ=łÞğ¹˝Žš½š=ş½Ð=˚₣šÐ=½š¦š˝=³š=ˇÞˇý−Þ¸=ý˝ˇ=š¾ˇ¹ý−ł¸K

≥ ?„ÐŠ−×K=ËÝ¸³ž²?I=?„ÐŠ−×K=ÍžÞĆýˇ½−²?=¸=?„ÐŠ−×K=Ï¼×Þž½K?W
Ò½žÞ=×¹ć½ž=ł¹ˇýý¸=½ž²=−¦şÞž²=šý¾ˇÞ˝Žš½ˇÐ=ýÐˇ=?ýˇ¹ð˝Žˇ?=
Eð¼ÝÐşýšÞ−Ð=₣ˇ¹ˇð½¸¹š²F=šÞć=³¼Þš₣˝Žš½ˇÐ=ž=šð½˚Ýš³ž=½ž²=
š¾ˇ¹ý−ł¸²K=„˙Þ=×Ð˚³š½š=DI=ž=š¾ˇ¹ý−ł¸=½˝¦š½ˇÐ=³š=̌ Þˇý−Þ¸=
ðˇÐ=ý×−¹š˝½š=Þˇ=Šš₣½š˝½š=ýÐˇ=šÐ³š¹₣şýšÞž=ðÝ¸³ž=¸=˚Þˇ=
ý¸Þ¼ýˇK=fl¾−Ć=½š¹ýˇ½Ð³½š˝=ž=ðÝ¸³ž=̧ =½−=ý¸Þ¼ýˇI=šý¾ˇÞ˝Žš½ˇÐ=
½−=šÐð−Þ˝ŠÐ−=̌ Þˇý−Þ¸²=E F=łÐˇ=Þˇ=łÞğ¹˝Žš½š=ş½Ð=̊ ₣šÐ=½š¦š˝=³š=
ˇÞˇý−Þ¸=ý˝ˇ=š¾ˇ¹ý−ł¸K

pÅêÉÉåë~îÉêë
Í×−¹š˝½š=Þˇ=ðˇ½šŁ˙³š½š=š¾ˇ¹ý−ł˚²=ëÅêÉÉåë~îÉê=łÐˇ=½žÞ=−¦şÞž=
ˇÞˇý−Þ¸²=ðˇÐ=Þˇ=−¹˝³š½š=½ž=₣¹−ÞÐð¸=×š¹˝−Š−=šÞš¹ł−×−˝ž³ž²=
½−¼=ëÅêÉÉåë~îÉêK
?‚Ðˇ³ð˚Šˇ³ž?=→=?ÓˇÐ₣Þ˝ŠÐˇ=C=„¾ˇ¹ý−ł˚²?=→=?Ô¼¦ý˝³šÐ²? →=
?pÅêÉÉåë~îÉêë?=→=?„Þš¹łKLfl×šÞš¹łK?
NK „×ÐÝ˚þ½š=?„Þš¹łş?=¸=?Íž=šÞš¹łş?K

·Ðˇ=×š¹Ð³³ş½š¹š²=ŠÐˇŠÐðˇ³˝š²I=Šš˝½š=?ÔĆ¦ýÐ³ž=ğ²=
pÅêÉÉåë~îÉê=łÐˇ=½žÞ=ËĆ¹Ðˇ=Ì¦şÞž?=³½ž=³šÝ˝Šˇ TOK

ÔĆ¦ýÐ³ž=½−¼=ı¹şÞ−¼=„Þš¹ł−×−˝ž³ž²
?‚Ðˇ³ð˚Šˇ³ž?=→=?ÓˇÐ₣Þ˝ŠÐˇ=C=„¾ˇ¹ý−ł˚²?=→=?Ô¼¦ý˝³šÐ²?=→=
?pÅêÉÉåë~îÉêë?=→=?ı¹şÞ−²=„Þš¹ł−×K?
NK „Ð³˙łš½š=½−=₣¹şÞ−=šÞš¹ł−×−˝ž³ž²=ýš=ŠĆ−=Ğž¾˝ˇ=

₣¹ž³Ðý−×−ÐćÞ½ˇ²=½−=×Ýžð½¹−ÝşłÐ−K

ÔĆ¦ýÐ³ž=½−¼=ı¹şÞ−¼=‚Ðˇð−×¸²
?‚Ðˇ³ð˚Šˇ³ž?=→=?ÓˇÐ₣Þ˝ŠÐˇ=C=„¾ˇ¹ý−ł˚²?=→=?Ô¼¦ý˝³šÐ²?=→=
?pÅêÉÉåë~îÉêë?=→=?ı¹şÞ−²=‚Ðˇð−×¸²?
NK Ì¹˝³½š=½ž=₣¹−ÞÐð¸=×š¹˝−Š−=×−¼=š×Ð¦¼ýš˝½š=ˇ×ş=?³š=NR=Ýš×K?=

?³š=S=ć¹š²?K



TS ‚Ðˇ³ð˚Šˇ³ž

ÔĆ¦ýÐ³ž=½−¼=◊₣−¼=pìêêçìåÇ
?‚Ðˇ³ð˚Šˇ³ž?=→=?ÓˇÐ₣Þ˝ŠÐˇ=C=„¾ˇ¹ý−ł˚²?=→=?Ô¼¦ý˝³šÐ²?=→=
?pìêêçìåÇ?
NK „×ÐÝ˚þ½š=?„Þš¹łş?=¸=?Íž=šÞš¹łş?K

Ó¹−š×ÐÝšłý˚Þš²=Ô¼¦ý˝³šÐ²
Í×−¹š˝=Þˇ=ł˝ÞšÐ=š×ˇÞˇ¾−¹˙=şÝğÞ=½ğÞ=¹¼¦ý˝³šğÞ=łÐˇ=½ˇ=
?ÓˇÐ₣Þ˝ŠÐˇ=C=„¾ˇ¹ý−ł˚²?K

?‚Ðˇ³ð˚Šˇ³ž?=→=?ÓˇÐ₣Þ˝ŠÐˇ=C=„¾ˇ¹ý−ł˚²?=→=?Ô¼¦ý˝³šÐ²?=→=
?Ô¼¦ýK=ğ²=Ó¹−š×K?
NK „Ð³˙łš½š=½−Þ=ðğŠÐðş=½ž²=³¼³ðš¼¸²=³ˇ²K

‚Ðˇł¹ˇ¾¸=⁄Ýž²=½ž²=ÍÞ¸ýž²
Í×−¹š˝=Þˇ=ł˝ÞšÐ=š×ˇÞˇ¾−¹˙=½ğÞ=š¾ˇ¹ý−łćÞ=g~î~∑=×−¼=
¼×˙¹₣−¼Þ=³½ž=ýÞ¸ýž=½ž²=³¼³ðš¼¸²K

?‚Ðˇ³ð˚Šˇ³ž?=→=?ÓˇÐ₣Þ˝ŠÐˇ=C=„¾ˇ¹ý−ł˚²?=→=?Ô¼¦ý˝³šÐ²?=→=
?‚Ðˇł¹K=½ž²=ÍÞ¸ýž²?
NK „Ð³˙łš½š=½−Þ=ðğŠÐðş=½ž²=³¼³ðš¼¸²=³ˇ²K

ÓÝž¹−¾−¹˝ˇ=g~î~∑
?‚Ðˇ³ð˚Šˇ³ž?=→=?ÓˇÐ₣Þ˝ŠÐˇ=C=„¾ˇ¹ý−ł˚²?=→=?ÓÝž¹−¾K=
g~î~∑?
Ó¹−Ł˙ÝÝ−Þ½ˇÐ=−Ð=×Ýž¹−¾−¹˝š²=³₣š½Ðð˙=ýš=½Ð²=˙ŠšÐš²=₣¹¸³ž²=
½−¼=g~î~∑K

qs=C=sáÇÉç
flÞˇ×ˇ¹ˇłğł¸=fl¹₣š˝ğÞ=sáÇÉç=`äáé
?‚Ðˇ³ð˚Šˇ³ž?=→=?qs=C=sáÇÉç?=→=?Úˇ=sáÇÉçë=ý−¼?
NK „×ÐÝ˚þ½š=?ÍÞ¸ýž=Ò¼³ðš¼¸²?=¸=?Ë˙¹½ˇ=ÍÞ¸ýž²?K

OK „×ÐÝ˚þ½š=½−=ˇ¹₣š˝−=×−¼=š×Ð¦¼ýš˝½šK
·Ðˇ=Þˇ=ŠÐˇðşĞš½š=×¹−³ğ¹ÐÞ˙=½žÞ=ˇÞˇ×ˇ¹ˇłğł¸I=×Ð˚³½š= K
·Ðˇ=Þˇ=³½ˇýˇ½¸³š½š=šÞ½šÝć²=½žÞ=ˇÞˇ×ˇ¹ˇłğł¸I=×Ð˚³½š=
xÓ˝³ğzK

Ò¼ýŁ−¼Ý¸
≥ Í×−¹š˝½š=Þˇ=šÝ˚ł₣š½š=½žÞ=flÞˇ×ˇ¹ˇłğł¸=sáÇÉç=
₣¹ž³Ðý−×−ÐćÞ½ˇ²=½ˇ=×ˇ¹ˇð˙½ğ=×Ý¸ð½¹ˇW
aLbW=fl¼þ˙ÞšÐ=¸=ýšÐćÞšÐ=½žÞ=˚Þ½ˇ³žK

b=E×Ð˚³½š=ðˇÐ=ð¹ˇ½¸³½š=×Ðš³ý˚Þ−FW=Ò˝łˇ³žK

dW=Íš½˙Łˇ³ž=³½−=š×şýšÞ−=ˇ¹₣š˝−K
cW=„×Ð³½¹˚¾šÐ=³½žÞ=ˇ¹₣¸=½−¼=½¹˚₣−Þ½−²=ˇ¹₣š˝−¼K

d=E×Ð˚³½š=ðˇÐ=ð¹ˇ½¸³½š=×Ðš³ý˚Þ−FW=·¹¸ł−¹ž=×¹−ć¦ž³žK

c=E×Ð˚³½š=ðˇÐ=ð¹ˇ½¸³½š=×Ðš³ý˚Þ−FW=„×Ð³½¹−¾¸K

flÞˇŽ¸½ž³ž=šÞş²=fl¹₣š˝−¼=·Ðˇ=flÞˇ×ˇ¹ˇłğł¸
?‚Ðˇ³ð˚Šˇ³ž?=→=?qs=C=sáÇÉç?=→=?Úˇ=sáÇÉçë=ý−¼?
NK „×ÐÝ˚þ½š=?ÍÞ¸ýž=Ò¼³ðš¼¸²?=¸=?Ë˙¹½ˇ=ÍÞ¸ýž²?K

OK „×ÐÝ˚þ½š=?⁄Ýˇ=½ˇ=sáÇÉç?=¸=½ž=Ý˝³½ˇ=ˇÞˇ×ˇ¹ˇłğł¸²=×−¼=
š×Ð¦¼ýš˝½šK

PK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?flÞˇŽ¸½ž³ž?K

QK „Ð³˙łš½š=½ˇ=×¹ć½ˇ=ł¹˙ýýˇ½ˇ=½−¼=½˝½Ý−¼K
Úˇ=ˇ×−½šÝ˚³ýˇ½ˇ=½ž²=ˇÞˇŽ¸½ž³ž²=šý¾ˇÞ˝Ž−Þ½ˇÐ=ýš=
ˇÝ¾ˇŁž½Ðð¸=³šÐ¹˙=ðˇÐ=½−=ˇ¹₣š˝−=×−¼=³¼ý×˝×½šÐ=ýˇ¹ð˙¹š½ˇÐK

=Ej=NJNJPF

=Ej=NJOF
=Ej=NJOJQF



‚Ðˇ³ð˚Šˇ³ž TT

Ó¹−³¦¸ðž=fl¹₣š˝−¼=³½ž=È˝³½ˇ=flÞˇ×ˇ¹ˇłğł¸²
Í×−¹š˝½š=Þˇ=ŠžýÐ−¼¹ł¸³š½š=ý˝ˇ=Ý˝³½ˇ=ˇÞˇ×ˇ¹ˇłğł¸²=
ðˇ½ˇ₣ğ¹ćÞ½ˇ²=³D=ˇ¼½¸=½ˇ=ˇ¹₣š˝ˇ=×−¼=š×Ð¦¼ýš˝½šK
?‚Ðˇ³ð˚Šˇ³ž?=→=?qs=C=sáÇÉç?=→=?Úˇ=sáÇÉçë=ý−¼?
NK „×ÐÝ˚þ½š=?ÍÞ¸ýž=Ò¼³ðš¼¸²?=¸=?Ë˙¹½ˇ=ÍÞ¸ýž²?K

OK „×ÐÝ˚þ½š=?⁄Ýˇ=½ˇ=sáÇÉç?=¸=½ž=Ý˝³½ˇ=ˇÞˇ×ˇ¹ˇłğł¸²=×−¼=
š×Ð¦¼ýš˝½šK

PK Íˇ¹ð˙¹š½š=½−=ˇ¹₣š˝−=×−¼=¦˚Ýš½š=Þˇ=×¹−³¦˚³š½š=³½ž=Ý˝³½ˇ=
ˇÞˇ×ˇ¹ˇłğł¸²K

QK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ó¹−³¦K=È˝³½K=flÞˇ×?K
„ý¾ˇÞ˝Ž−Þ½ˇÐ=−Ð=Ý˝³½š²=ˇÞˇ×ˇ¹ˇłğł¸²K=·Ðˇ=Ýš×½−ý˚¹šÐš²=
³₣š½Ðð˙=ýš=½ž=ŠžýÐ−¼¹ł˝ˇ=ý˝ˇ²=Ý˝³½ˇ²=ˇÞˇ×ˇ¹ˇłğł¸²=Šš˝½š=
?Ó¹−³¦¸ðž=ý˝ˇ²=Î˚ˇ²=È˝³½ˇ²=flÞˇ×ˇ¹ˇłğł¸²?K

RK „×ÐÝ˚þ½š=½−=¾˙ðšÝ−=×−¼=š×Ð¦¼ýš˝½šK
Ú−=ˇ¹₣š˝−=×−¼=˚₣š½š=ýˇ¹ð˙¹šÐ=³½−=Ł¸ýˇ=P=ˇ×−¦žðšĆš½ˇÐK
·Ðˇ=Þˇ=ŠÐˇł¹˙Ğš½š=ˇ¹₣š˝ˇ=ˇ×ş=½ž=Ý˝³½ˇ=ˇÞˇ×ˇ¹ˇłğł¸²I=
ýˇ¹ð˙¹š½š=½−=ˇ¹₣š˝−=ðˇÐ=×Ð˚³½š=x„×ÐÝKzK=Ò½ž=³¼Þ˚₣šÐˇI=
š×ÐÝ˚þ½š=?‚Ðˇł¹K=ˇ×ş=È˝³½ˇ?K

Ó¹−³¦¸ðž=ý˝ˇ²=Î˚ˇ²=È˝³½ˇ²=flÞˇ×ˇ¹ˇłğł¸²
?‚Ðˇ³ð˚Šˇ³ž?=→=?qs=C=sáÇÉç?=→=?Úˇ=sáÇÉçë=ý−¼?
NK „×ÐÝ˚þ½š=?ÍÞ¸ýž=Ò¼³ðš¼¸²?=¸=?Ë˙¹½ˇ=ÍÞ¸ýž²?K

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ó¹−³¦K=Î˚ˇ²=È˝³½K?K

PK „Ð³˙łš½š=½−=şÞ−ýˇ=×−¼=š×Ð¦¼ýš˝½š=łÐˇ=½ž=Ý˝³½ˇ=
ˇÞˇ×ˇ¹ˇłğł¸²K

QK ÓÐ˚³½š= K

Òžýš˝ğ³ž
≥ ·Ðˇ=Þˇ=ŠÐˇł¹˙Ğš½š=½ž=Ý˝³½ˇ=ˇÞˇ×ˇ¹ˇłğł¸²I=ýˇ¹ð˙¹š½š=½ž=

Ý˝³½ˇ=ˇÞˇ×ˇ¹ˇłğł¸²=ðˇÐ=×Ð˚³½š=x„×ÐÝKzK=Ò½ž=³¼Þ˚₣šÐˇ=
š×ÐÝ˚þ½š=?‚Ðˇł¹ˇ¾¸=È˝³½ˇ²?K

„×šþš¹łˇ³˝ˇ=šÞş²=fl¹₣š˝−¼=sáÇÉç=`äáé
?‚Ðˇ³ð˚Šˇ³ž?=→=?qs=C=sáÇÉç?=→=?Úˇ=sáÇÉçë=ý−¼?
NK „×ÐÝ˚þ½š=?ÍÞ¸ýž=Ò¼³ðš¼¸²?=¸=?Ë˙¹½ˇ=ÍÞ¸ýž²?K

OK „×ÐÝ˚þ½š=?⁄Ýˇ=½ˇ=sáÇÉç?=¸=½ž=Ý˝³½ˇ=ˇÞˇ×ˇ¹ˇłğł¸²=×−¼=
š×Ð¦¼ýš˝½šK

PK „×ÐÝ˚þ½š=½−=ˇ¹₣š˝−=×−¼=¦˚Ýš½š=Þˇ=š×šþš¹łˇ³½š˝½šK

QK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?„×šþš¹łˇ³˝ˇ?K

RK „×ÐÝ˚þ½š=½žÞ=š×ÐÝ−ł¸=×−¼=š×Ð¦¼ýš˝½šK
?ËşĞÐý−?W= „×ÐÝ˚łšÐ=½žÞ=×š¹Ð−₣¸=×−¼=¦˚Ýš½š=Þˇ=

ˇ×−ðşĞš½šK
?Û×ş½Ð½Ý−²?W= ‚žýÐ−¼¹łš˝=˚ÞˇÞ=¼×ş½Ð½Ý−=łÐˇ=Þˇ=×¹−³½š¦š˝=

³½−=ˇ¹₣š˝−K



TU ‚Ðˇ³ð˚Šˇ³ž

Ô¼¦ý˝³šÐ²
Í×−¹š˝½š=Þˇ=š×ÐÝ˚þš½š=ý˝ˇ=ÝšÐ½−¼¹ł˝ˇ=ˇÞˇ×ˇ¹ˇłğł¸²=łÐˇ=
?Í−½˝Ł−=flÞˇ×ˇ¹K?I=?Ùğ½Ð³ýş²?=ðˇÐ=?Í˚łš¦−²=Ì¦şÞž²?=ş½ˇÞ=
ˇÞˇ×ˇ¹˙łš½š=ˇ¹₣š˝ˇ=îáÇÉç=ÅäáéK
?‚Ðˇ³ð˚Šˇ³ž?=→=?qs=C=sáÇÉç?=→=?Úˇ=sáÇÉçë=ý−¼?
NK „×ÐÝ˚þ½š=?ÍÞ¸ýž=Ò¼³ðš¼¸²?=¸=?Ë˙¹½ˇ=ÍÞ¸ýž²?K

OK „×ÐÝ˚þ½š=?⁄Ýˇ=½ˇ=sáÇÉç?=¸=½ž=Ý˝³½ˇ=ˇÞˇ×ˇ¹ˇłğł¸²=×−¼=
š×Ð¦¼ýš˝½šK

PK „×ÐÝ˚þ½š=½−=ˇ¹₣š˝−=łÐˇ=½−=−×−˝−=¦˚Ýš½š=Þˇ=×¹−³ˇ¹ýş³š½š=
½ž=ÝšÐ½−¼¹ł˝ˇ=ˇÞˇ×ˇ¹ˇłğł¸²K

QK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ô¼¦ý˝³šÐ²?K

RK „×ÐÝ˚þ½š=ˇ×ş=?Í−½˝Ł−=flÞˇ×ˇ¹K?I=?Ùğ½Ð³ýş²?=¸=?Í˚łš¦−²=
Ì¦şÞž²?K

SK „×ÐÝ˚þ½š=ˇ×ş=½ˇ=šþ¸²W
≥ ?Í−½˝Ł−=flÞˇ×ˇ¹K?

?ËˇÞ−ÞÐðş?W flÞˇ×ˇ¹˙ł−Þ½ˇÐ=şÝˇ=½ˇ=̌ ¹₣š˝ˇ=šÞş²=
š×ÐÝšłý˚Þ−¼=¾ˇð˚Ý−¼=ý˝ˇ=¾−¹˙=ðˇÐ=
³½ž=³¼Þ˚₣šÐˇ=ž=ˇÞˇ×ˇ¹ˇłğł¸=
³½ˇýˇ½˙K

?„×ˇÞ˙ÝžĞž?W= Ò¼Þš₣˝ŽšÐ=½žÞ=ˇÞˇ×ˇ¹ˇłğł¸=³½−=
š×ÐÝšłý˚Þ−=¾˙ðšÝ−K

?„×ˇÞ˙ÝžĞž=⁄ÝğÞ?W flÞˇ×ˇ¹˙ł−Þ½ˇÐ=şÝˇ=½ˇ=̌ ¹₣š˝ˇ=šÞş²=
š×ÐÝšłý˚Þ−¼=¾ˇð˚Ý−¼K

?Ú¼₣ˇ˝−?W flÞˇ×ˇ¹˙ł−Þ½ˇÐ=½ˇ=ˇ¹₣š˝ˇ=šÞş²=
š×ÐÝšłý˚Þ−¼=¾ˇð˚Ý−¼=ýš=½¼₣ˇ˝ˇ=
³šÐ¹˙K

≥ ?Ùğ½Ð³ýş²?
?Ó˙Þ½ˇ=ˇÞ−Ðð½ş²?W= Íš=¾ğ½Ð³ýş²=ðˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=

ˇÞˇ×ˇ¹ˇłğł¸²=½−¼=ˇ¹₣š˝−¼K

?Ó˙Þ½ˇ=ðÝšÐ³½ş²?W ığ¹˝²=¾ğ½Ð³ýş=ðˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=
ˇÞˇ×ˇ¹ˇłğł¸²=½−¼=̌ ¹₣š˝−¼I=̌ ðşýž=
ðˇÐ=š˙Þ=×Ðš³½š˝=ð˙×−Ð−=×Ý¸ð½¹−K

?ËˇÞ−ÞK=Ô¼¦ýK?W ÈšÐ½−¼¹łš˝=ýš=½žÞ=ðĆ¹Ðˇ=¹Ć¦ýÐ³ž=
¾ğ½Ð³ý−Ć=E³šÝK VVFK

≥ ?Í˚łš¦−²=Ì¦şÞž²?
?fl¹₣Ððş=Í˚łš¦−²?W „ý¾ˇÞ˝ŽšÐ=½−=̌ ¹₣š˝−=³½−=̌ ¹₣Ððş=½−¼=

ý˚łš¦−²K
?Íšł˚¦¼Þ³ž?W „ý¾ˇÞ˝ŽšÐ=½−=̌ ¹₣š˝−=³š=ýšłˇÝĆ½š¹−=

ý˚łš¦−²K
?ÓÝ¸¹ž²=−¦şÞž?W „ý¾ˇÞ˝ŽšÐ=½−=ˇ¹₣š˝−=³š=×Ý¸¹ž=

×¹−Ł−Ý¸K
pa=sfabl
Úˇ=îáÇÉç=Åäáéë=×−¼=˚₣š½š=½¹ˇŁ¸þšÐ=ýš=½ž=ŁÐÞ½š−ð˙ýš¹ˇ=¸=×−¼=
˚₣š½š=ðˇ½šŁ˙³šÐ=ˇ×ş=Ð³½−³šÝ˝Šš²=½−¼=ãçÄáäÉ=fåíÉêåÉí=ý×−¹−ĆÞ=
Þˇ=ŠÐˇ₣šÐ¹Ð³½−ĆÞ=ýš=½−=pa=sfablK
?‚Ðˇ³ð˚Šˇ³ž?=→=?qs=C=sáÇÉç?=→=?pa=sfabl?
NK „×ÐÝ˚þ½š=½−=ˇ¹₣š˝−=×−¼=š×Ð¦¼ýš˝½šK

·Ðˇ=Þˇ=ŠÐˇðşĞš½š=×¹−³ğ¹ÐÞ˙=½žÞ=ˇÞˇ×ˇ¹ˇłğł¸I=×Ð˚³½š= K
·Ðˇ=Þˇ=³½ˇýˇ½¸³š½š=šÞ½šÝć²=½žÞ=ˇÞˇ×ˇ¹ˇłğł¸I=×Ð˚³½š=CK
·Ðˇ=Þˇ=ŠÐˇł¹˙Ğš½š=ˇ¹₣š˝ˇ=ˇ×ş=½ž=Ý˝³½ˇ=ˇÞˇ×ˇ¹ˇłğł¸²I=
ýˇ¹ð˙¹š½š=½ž=Ý˝³½ˇ=ˇÞˇ×ˇ¹ˇłğł¸²I=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=
š×ÐÝ˚þ½š=?‚Ðˇł¹ˇ¾¸?K

È¸Ğž=fl¹₣š˝ğÞ=sáÇÉç=`äáé
?‚Ðˇ³ð˚Šˇ³ž?=→=?qs=C=sáÇÉç?=→=?È˙Łš½š=Î˚ˇ=sáÇÉçë?
„ý¾ˇÞ˝Žš½ˇÐ=ž=³šÝ˝Šˇ=Ý¸Ğž²=ˇ¹₣š˝ğÞ=îáÇÉç=ÅäáéK

flÞˇ×ˇ¹ˇłğł¸=ˇ¹₣š˝ğÞ=sáÇÉç=`äáé

flÞˇ×ˇ¹ˇłğł¸=ÚšÝš¼½ˇ˝−¼=fl¹₣š˝−¼
?‚Ðˇ³ð˚Šˇ³ž?=→=?qs=C=sáÇÉç?=→=?ÚšÝš¼½ˇ˝−=sáÇÉç?

=Ej=NJOJRF

=Ej=NJOJPF

=Ej=NJOJNF



‚Ðˇ³ð˚Šˇ³ž TV

Ô−¸=EpíêÉ~ãáåÖF
Í×−¹š˝½š=Þˇ=̌ Þˇ×ˇ¹˙łš½š=̌ ¹₣š˝ˇ=îáÇÉç=Åäáé=šÞć=½ˇ=ðˇ½šŁ˙Žš½š=
ˇ×ş=½−=Š˝ð½¼−K
Í×−¹š˝½š=š×˝³ž²=Þˇ=ˇ×−¦žðšĆ³š½š=½ž=ŠÐšĆ¦¼Þ³ž=½ž²=
Ð³½−³šÝ˝Šˇ²=ğ²=³šÝÐŠ−Šš˝ð½žK

?‚Ðˇ³ð˚Šˇ³ž?=→=?qs=C=sáÇÉç?=→=?píêÉ~ãáåÖ?
NK „×ÐÝ˚þ½š=?ÚšÝš¼½ˇ˝ˇ=Ô−¸=‚šŠ−ýK?I=?„Ð³˙łš½š=roi?I=

?flłˇ×žý˚Þ−?I=?fl¹₣š˝−=Ó¹ş³Łˇ³ž²?=¸==?Í˚łš¦−²=Ì¦şÞž²?K
?ÚšÝš¼½ˇ˝ˇ=Ô−¸=‚šŠ−ýK?W

„ý¾ˇÞ˝ŽšÐ=½−=½šÝš¼½ˇ˝−=ˇ¹₣š˝−=ëíêÉ~ãáåÖK
?„Ð³˙łš½š=roi?W „Ð³˙łš½š=½ž=ŠÐšĆ¦¼Þ³ž=½ž²=Ð³½−³šÝ˝Šˇ²=

×−¼=š×Ð¦¼ýš˝½šK=Ì=ÄêçïëÉê=ˇÞ−˝łšÐ=ðˇÐ=
þšðÐÞ˙=½ˇ¼½ş₣¹−Þˇ=½ž=Ý¸Ğž=ðˇÐ=½žÞ=
ˇÞˇ×ˇ¹ˇłğł¸K

?flłˇ×žý˚Þ−?W= Ëˇ½ˇ₣ğ¹š˝½ˇÐ=ž=ŠÐšĆ¦¼Þ³ž=½ž²=
Ð³½−³šÝ˝Šˇ²K

?fl¹₣š˝−=Ó¹ş³Łˇ³ž²?W=
„ý¾ˇÞ˝ŽšÐ=½ˇ=ˇ¹₣š˝ˇ=ðˇ½ˇł¹ˇ¾¸²=½ğÞ=
Ð³½−³šÝ˝ŠğÞ=×−¼=×¹−³×šÝ˙³ˇ½šK=fl×ş=½−=
ˇ¹₣š˝−=ý×−¹š˝½š=Þˇ=þšðÐÞ¸³š½š=½ž=¹−¸K

?Í˚łš¦−²=Ì¦şÞž²?W
„×ÐÝ˚þ½š=?fl¹₣Ððş=Í˚łš¦−²?I=
?Íšł˚¦¼Þ³ž?=¸=?ÓÝ¸¹ž²=−¦şÞž?K

=Ej=NJOJOF



UM fl½Ž˚Þ½ˇ=C=„¹łˇÝš˝ˇ

fl½Ž˚Þ½ˇ=C=„¹łˇÝš˝ˇ

Âýš¹−ÝşłÐ−
Ú−=Âýš¹−ÝşłÐ−=³˙²=š×Ð½¹˚×šÐ=Þˇ=×¹−ł¹ˇýýˇ½˝³š½š=
³¼ÞˇÞ½¸³šÐ²=¸=³¼ýŁ˙Þ½ˇ=łÐˇ=−×−ÐˇŠ¸×−½š=žýš¹−ýžÞ˝ˇ=¸=ć¹ˇK

Í×−¹š˝½š=Þˇ=³½š˝Ýš½š=ˇ¼½˚²=½Ð²=ðˇ½ˇ₣ğ¹¸³šÐ²=ý˚³ğ=
¼×˚¹¼¦¹ğÞ=¸=ˇ³Ć¹ýˇ½ž²=½š₣Þ−Ý−ł˝ˇ²=_äìÉíççíÜ=³š=˚ÞˇÞ=
¼×−Ý−łÐ³½¸=łÐˇ=Þˇ=ŠÐˇý−Ð¹ˇ³½š˝½š=½ˇ=˝ŠÐˇ=₣¹−Þ−ŠÐˇł¹˙ýýˇ½ˇK=
⁄½ˇÞ=ˇÞ½ˇÝÝ˙³³š½š=ðˇ½ˇ₣ğ¹¸³šÐ²=ýš=˙ÝÝš²=³¼³ðš¼˚²I=ž=
žýš¹−ýžÞ˝ˇ=ðˇÐ=ž=ć¹ˇ=×−¼=šý¾ˇÞ˝Ž−Þ½ˇÐ=šÞŠ˚₣š½ˇÐ=Þˇ=
ŠÐˇ¾˚¹−¼Þ=ˇ×ş=½Ð²=×¹ˇłýˇ½Ðð˚²=ˇÞ˙Ý−łˇ=ýš=½−Þ=½Ć×−=
ŠšŠ−ý˚ÞğÞ=½ž²=³¼³ðš¼¸²=Ý¸Ğž²K

‚žýÐ−¼¹ł˝ˇ=ý˝ˇ²=Î˚ˇ²=Ëˇ½ˇ₣ć¹ž³ž²
?fl½Ž˚Þ½ˇ=C=„¹łˇÝš˝ˇ?=→=?Âýš¹−ÝşłÐ−?
NK „×ÐÝ˚þ½š=½žÞ=žý˚¹ˇ=³½žÞ=−×−˝ˇ=¦˚Ýš½š=Þˇ=×¹−³¦˚³š½š=˚Þˇ=

³¼ýŁ˙ÞK

OK „×ÐÝ˚þ½š=?Ó¹−³¦K=Ëˇ½ˇ₣ć¹K?K

PK „Ð³˙łš½š=½−=¦˚ýˇK

QK „Ð³˙łš½š=½žÞ=½−×−¦š³˝ˇK

RK „×ÐÝ˚þ½š=½žÞ=ðˇ½žł−¹˝ˇ=×−¼=š×Ð¦¼ýš˝½šK

SK „Ð³˙łš½š=½žÞ=žýš¹−ýžÞ˝ˇ=˚Þˇ¹þž²=ðˇÐI=ðˇ½ş×ÐÞI=šÐ³˙łš½š=
½žÞ=ć¹ˇ=˚Þˇ¹þž²K

TK „×ÐÝ˚þ½š=½ž=ŠÐ˙¹ðšÐˇK
„˙Þ=š×ÐÝ˚þš½š=?¿ÝÝš²?I=šÐ³˙łš½š=½žÞ=ć¹ˇ=ðˇÐ=½žÞ=
žýš¹−ýžÞ˝ˇ=×−¼=¦˚Ýš½šK

UK „×ÐÝ˚þ½š=½žÞ=ć¹ˇ=¼×šÞ¦ĆýÐ³ž²K
„˙Þ=š×ÐÝ˚þš½š=?¿ÝÝš²?I=šÐ³˙łš½š=½žÞ=ć¹ˇ=ðˇÐ=½žÞ=
žýš¹−ýžÞ˝ˇ=¼×šÞ¦ĆýÐ³ž²=×−¼=¦˚Ýš½šK

VK ÓÐ˚³½š=xfl×−¦¸ðKzK

Òžýš˝ğ³ž
≥ „˙Þ=−Ð=¹¼¦ý˝³šÐ²=žýš¹−ýžÞ˝ˇ²=ðˇÐ=ć¹ˇ²=ŠšÞ=˚₣−¼Þ=šÐ³ˇ₣¦š˝=

ˇðşýžI=¦ˇ=šý¾ˇÞÐ³½š˝=ž=−¦şÞž=šÐ³ˇłğł¸²=žýš¹−ýžÞ˝ˇ²=ðˇÐ=
ć¹ˇ²=E³šÝK NMMFK

≥ Â=¼×šÞ¦ĆýÐ³ž=ŠšÞ=šÞš¹ł−×−Ðš˝½ˇÐ=ş½ˇÞ=ž=?·šÞÐð¸=˚Þ½ˇ³ž=
¾ğÞ¸²?=E³šÝK VPF=¹¼¦ýÐ³½š˝=³š=?ÒÐğ×žÝş?K

flÝÝˇł¸=ÚĆ×−¼=◊₣−¼=„ÐŠ−×−Ð¸³šğÞ=¸=½−¼=sáÇÉç
NK Ò½žÞ=−¦şÞž=Î˚ˇ²=Ëˇ½ˇ₣ć¹ž³ž²I=š×ÐÝ˚þ½š=?Û×šÞ¦ĆýÐ³ž?K

OK „×ÐÝ˚þ½š=?flÞ½Ð³½K=ÚşÞ−¼LsáÇÉç?K

PK „×ÐÝ˚þ½š=?flÞ½Ð³½−˝₣K=ÚşÞ−¼?=ðˇÐ=ýš½˙=?Ó¹−¹¼¦ýÐ³ýK=◊₣−Ð?=¸=
?ÌÐ=◊₣−Ð=j−¼?=¸=š×ÐÝ˚þš½š=?flÞ½Ð³½−˝₣K=sáÇÉç?K

QK „×ÐÝ˚þ½š=½−=ˇ¹₣š˝−=¸₣−¼=¸=îáÇÉç=Åäáé=×−¼=š×Ð¦¼ýš˝½šK
·Ðˇ=Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½žÞ=š×ÐÝ−ł¸=šÞş²=¸₣−¼I=Šš˝½š=
?flÞ½Ð³½−˝₣ž³ž=šÞş²=◊₣−¼=Ë−¼Š−¼Þ˝³ýˇ½−²?=³½ž=³šÝ˝Šˇ VQK

=Ej=TF

=Ej=TJNF



fl½Ž˚Þ½ˇ=C=„¹łˇÝš˝ˇ UN

flÝÝˇł¸=‚Ð˙¹ðšÐˇ²=◊₣−¼=„ÐŠ−×−Ð¸³šğÞ=¸=sáÇÉç
NK Ò½žÞ=−¦şÞž=Î˚ˇ²=Ëˇ½ˇ₣ć¹ž³ž²I=š×ÐÝ˚þ½š=?Û×šÞ¦ĆýÐ³ž?K

OK „×ÐÝ˚þ½š=?‚Ð˙¹ðšÐˇ?K

PK „×ÐÝ˚þ½š=½ž=₣¹−ÞÐð¸=×š¹˝−Š−K
⁄½ˇÞ=š×ÐÝ˚łš½š=?¿ÝÝš²?I=ý×−¹š˝½š=Þˇ=šÐ³˙łš½š=½−=₣¹şÞ−=
×−¼=š×Ð¦¼ýš˝½š=ýš=ŠĆ−=Ğž¾˝ˇ=₣¹ž³Ðý−×−ÐćÞ½ˇ²=½−=
×Ýžð½¹−ÝşłÐ−K

flÝÝˇł¸=½ž²=„×ÐÝ−ł¸²=„×ˇÞ˙ÝžĞž²=½ž²=Û×šÞ¦ĆýÐ³ž²
NK Ò½žÞ=−¦şÞž=Î˚ˇ²=Ëˇ½ˇ₣ć¹ž³ž²I=š×ÐÝ˚þ½š=?„×ˇÞ˙ÝžĞž?K

OK „×ÐÝ˚þ½š=½žÞ=š×ÐÝ−ł¸=š×ˇÞ˙ÝžĞž²=×−¼=¦˚Ýš½šK

„Ð³ˇłğł¸=Óš¹Ðł¹ˇ¾¸²
NK Ò½žÞ=−¦şÞž=Î˚ˇ²=Ëˇ½ˇ₣ć¹ž³ž²I=š×ÐÝ˚þ½š=?Óš¹Ðł¹ˇ¾¸?K

OK „Ð³˙łš½š=ý˝ˇ=³žýš˝ğ³ž=łÐˇ=½žÞ=ðˇ½ˇ₣ć¹ž³ž=
₣¹−Þ−ŠÐˇł¹˙ýýˇ½−²K

Íš½ˇ½¹−×¸=Ëˇ½ˇ₣ć¹ž³ž²=³š=fl×ş¹¹ž½ž
NK Ò½žÞ=−¦şÞž=Î˚ˇ²=Ëˇ½ˇ₣ć¹ž³ž²I=š×ÐÝ˚þ½š=?Í¼³½Ððş?K

OK „×ÐÝ˚þ½š=?„Þš¹łş?=łÐˇ=Þˇ=ýš½ˇ½¹˚Ğš½š=½ˇ=ŠšŠ−ý˚Þˇ=³š=
ˇ×ş¹¹ž½ˇ=¸=š×ÐÝ˚þ½š=?Íž=šÞš¹łş?=łÐˇ=Þˇ=ýžÞ=½ˇ=ˇÝÝ˙þš½šK

Ó¹−Ł−Ý¸=ý˝ˇ²=Ëˇ½ˇ₣ć¹ž³ž²=ı¹−Þ−ŠÐˇł¹˙ýýˇ½−²
?fl½Ž˚Þ½ˇ=C=„¹łˇÝš˝ˇ?=→=?Âýš¹−ÝşłÐ−?
NK „×ÐÝ˚þ½š=½žÞ=žý˚¹ˇ=×−¼=¦˚Ýš½š=Þˇ=×¹−Ł˙Ýš½šK

flÞˇŽ¸½ž³ž=Ëˇ½˙=Âýš¹−ýžÞ˝ˇ
NK Òš=−×−ÐˇŠ¸×−½š=×¹−Ł−Ý¸I=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=

?Íš½˙Łˇ³ž?K

OK „×ÐÝ˚þ½š=?Ò¸ýš¹ˇ?=łÐˇ=Þˇ=šý¾ˇÞ˝³š½š=½ž=³žýš¹ÐÞ¸=žý˚¹ˇ=¸=
?„Ð³ˇłK=žýš¹−ýK?=łÐˇ=Þˇ=šÐ³˙łš½š=½žÞ=žýš¹−ýžÞ˝ˇ=×−¼=
š×Ð¦¼ýš˝½šK

Ò¼ýŁ−¼Ý¸
≥ Ò½žÞ=ýžÞÐˇ˝ˇ=¸=šŁŠ−ýˇŠÐˇ˝ˇ=×¹−Ł−Ý¸I=ý×−¹š˝½š=Þˇ=šÝ˚ł₣š½š=

½žÞ=×¹−Ł−Ý¸=₣¹ž³Ðý−×−ÐćÞ½ˇ²=½ˇ=šþ¸²W
ÍžÞÐˇ˝ˇ=×¹−Ł−Ý¸
PW „ý¾ˇÞ˝ŽšÐ=½−Þ=×¹−žł−ĆýšÞ−=ý¸ÞˇK
RW „ý¾ˇÞ˝ŽšÐ=½−Þ=š×şýšÞ−=ý¸ÞˇK
QW „ý¾ˇÞ˝ŽšÐ=½žÞ=šŁŠ−ýˇŠÐˇ˝ˇ=×¹−Ł−Ý¸K
KW Íš½ˇðÐÞš˝=½−=Š¹−ý˚ˇ=³½ž=³žýš¹ÐÞ¸=žý˚¹ˇK
cLdW Íš½ˇðÐÞš˝=½−=Š¹−ý˚ˇ=×¹−²=½ˇ=ˇ¹Ð³½š¹˙=

E×¹−žł−ĆýšÞž=žý˚¹ˇF=¸=×¹−²=½ˇ=ŠšþÐ˙=Eš×şýšÞž=
žý˚¹ˇFK

aLbW Íš½ˇðÐÞš˝=½−=Š¹−ý˚ˇ=×¹−²=½ˇ=š×˙Þğ=E½šÝš¼½ˇ˝ˇ=
šŁŠ−ý˙ŠˇF=¸=×¹−²=½ˇ=ð˙½ğ=Eš×şýšÞž=šŁŠ−ý˙ŠˇFK

„ŁŠ−ýˇŠÐˇ˝ˇ=×¹−Ł−Ý¸
PW „ý¾ˇÞ˝ŽšÐ=½žÞ=×¹−žł−ĆýšÞž=šŁŠ−ý˙ŠˇK
RW „ý¾ˇÞ˝ŽšÐ=½žÞ=š×şýšÞž=šŁŠ−ý˙ŠˇK
QW „ý¾ˇÞ˝ŽšÐ=½ž=ýžÞÐˇ˝ˇ=×¹−Ł−Ý¸K
KW Íš½ˇðÐÞš˝=½−=Š¹−ý˚ˇ=³½ž=³žýš¹ÐÞ¸=žý˚¹ˇK
cLdW Íš½ˇðÐÞš˝=½−=Š¹−ý˚ˇ=×¹−²=½ˇ=ˇ¹Ð³½š¹˙=

E×¹−žł−ĆýšÞž=žý˚¹ˇF=¸=×¹−²=½ˇ=ŠšþÐ˙=Eš×şýšÞž=
žý˚¹ˇFK

aLbW Íš½ˇðÐÞš˝=½žÞ=šŁŠ−ýˇŠÐˇ˝ˇ=×¹−Ł−Ý¸=×¹−²=½ˇ=
š×˙Þğ=¸=×¹−²=½ˇ=ð˙½ğ=E×¹−žł−ĆýšÞž=¸=š×şýšÞž=
ć¹ˇFK



UO fl½Ž˚Þ½ˇ=C=„¹łˇÝš˝ˇ

„×šþš¹łˇ³˝ˇ=ý˝ˇ²=Ëˇ½ˇ₣ć¹ž³ž²=ı¹−Þ−ŠÐˇł¹˙ýýˇ½−²
?fl½Ž˚Þ½ˇ=C=„¹łˇÝš˝ˇ?=→=?Âýš¹−ÝşłÐ−?
NK „×ÐÝ˚þš½š=½žÞ=žý˚¹ˇ=ðˇÐ=½žÞ=š×Ð¦¼ýž½¸=ðˇ½ˇ₣ć¹ž³ž=×−¼=

¦˚Ýš½š=Þˇ=š×šþš¹łˇ³½š˝½šK
OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?„×šþš¹łˇ³˝ˇ?K
PK „×ÐÝ˚þ½š=½−=³½−Ð₣š˝−=×−¼=¦˚Ýš½š=ðˇÐ=½¹−×−×−Ð¸³½š=½žÞ=

ðˇ½ˇ₣ć¹ž³žK
QK ÓÐ˚³½š=xfl×−¦¸ðKzK
‚Ðˇł¹ˇ¾¸=Ëˇ½ˇ₣ğ¹¸³šğÞ=ı¹−Þ−ŠÐˇł¹˙ýýˇ½−²
NK Òš=−×−ÐˇŠ¸×−½š=×¹−Ł−Ý¸I=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=

?‚Ðˇł¹ˇ¾¸?K
OK „×ÐÝ˚þ½š=½žÞ=š×ÐÝ−ł¸=×−¼=š×Ð¦¼ýš˝½šK

?fl¼½ş=½−=ı¹−Þ−ŠK?=E×¹−Ł−Ý¸=žý˚¹ˇ²FW
‚Ðˇł¹˙¾šÐ=½žÞ=š×ÐÝšłý˚Þž=ðˇ½ˇ₣ć¹ž³žK

?lÝşðÝK=Âý˚¹ˇ²?W ‚Ðˇł¹˙¾šÐ=şÝš²=½Ð²=ðˇ½ˇ₣ğ¹¸³šÐ²=½ž²=
š×ÐÝšłý˚Þž²=žý˚¹ˇ²K

?⁄Ýˇ=½ž²=šŁŠ−ý˙Šˇ²?=EšŁŠ−ýˇŠÐˇ˝ˇ=×¹−Ł−Ý¸FW
‚Ðˇł¹˙¾šÐ=şÝš²=½Ð²=ðˇ½ˇ₣ğ¹¸³šÐ²=½ž²=
š×ÐÝšłý˚Þž²=šŁŠ−ý˙Šˇ²K

?÷ğ²=½šÝš¼½K=šŁŠ−ý˙Šˇ?=EšŁŠ−ýˇŠÐˇ˝ˇ=×¹−Ł−Ý¸FW
‚Ðˇł¹˙¾šÐ=şÝš²=½Ð²=ðˇ½ˇ₣ğ¹¸³šÐ²=×¹ÐÞ=
ˇ×ş=ˇ¼½¸=½žÞ=šŁŠ−ý˙ŠˇK

?⁄Ýˇ=½−¼=Í¸Þˇ?=EýžÞÐˇ˝ˇ=×¹−Ł−Ý¸FW
‚Ðˇł¹˙¾šÐ=şÝš²=½Ð²=ðˇ½ˇ₣ğ¹¸³šÐ²=½−¼=
š×ÐÝšłý˚Þ−¼=ý¸ÞˇK

?÷ğ²=ÚšÝš¼½=Í¸Þˇ?=EýžÞÐˇ˝ˇ=×¹−Ł−Ý¸FW
‚Ðˇł¹˙¾šÐ=şÝš²=½Ð²=ðˇ½ˇ₣ğ¹¸³šÐ²=×¹ÐÞ=
ˇ×ş=ˇ¼½şÞ=½−=ý¸ÞˇK

?⁄Ýš²=−Ð=Ò¼ÞˇÞ½K?=EšŁŠ−ýˇŠÐˇ˝ˇ=ðˇÐ=ýžÞÐˇ˝ˇ=×¹−Ł−Ý¸FW
‚Ðˇł¹˙¾šÐ=şÝš²=½Ð²=ðˇ½ˇ₣ğ¹¸³šÐ²=
ˇ¼½¸²=½ž²=š¾ˇ¹ý−ł¸²K

fl×−³½−Ý¸=ý˝ˇ²=Ëˇ½ˇ₣ć¹ž³ž²=ı¹−Þ−ŠÐˇł¹˙ýýˇ½−²
?fl½Ž˚Þ½ˇ=C=„¹łˇÝš˝ˇ?=→=?Âýš¹−ÝşłÐ−?
NK „×ÐÝ˚þ½š=½žÞ=žý˚¹ˇ=ðˇÐ=½žÞ=š×Ð¦¼ýž½¸=ðˇ½ˇ₣ć¹ž³ž=

³¼ý×š¹ÐÝˇýŁˇÞ−ý˚ÞğÞ=ðˇÐ=½ğÞ=ðˇ½ˇ₣ğ¹¸³šğÞ=
₣¹−Þ−ŠÐˇł¹˙ýýˇ½−²=×−¼=¦˚Ýš½š=Þˇ=ˇ×−³½š˝Ýš½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?fl×−³½−Ý¸?K

PK „×ÐÝ˚þ½š=?˜²=Í¸Þ¼ýˇ?I=?Íš=_äìÉíççíÜ?=¸=?Íš=Û×˚¹¼¦¹š²?K
·Ðˇ=Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½ž=ŠžýÐ−¼¹ł˝ˇ=šÞş²=
ýžÞĆýˇ½−²=Šš˝½š=?‚žýÐ−¼¹ł˝ˇ=Î˚−¼=ÍžÞĆýˇ½−²?=³½ž=
³šÝ˝Šˇ RMK
·Ðˇ=Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½Ð²=¹¼¦ý˝³šÐ²=ˇ³Ć¹ýˇ½−¼=
_äìÉíççíÜ=Šš˝½š=?_äìÉíççíÜ?=³½ž=³šÝ˝Šˇ NNNK=
·Ðˇ=Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½Ð²=¹¼¦ý˝³šÐ²=Û×š¹Ć¦¹ğÞ=
Šš˝½š=?Û×˚¹¼¦¹š²?=³½ž=³šÝ˝Šˇ NNPK

Òžýš˝ğ³ž
≥ Ëˇ½˙=½ž=³ĆŽš¼þž=¦ˇ=₣¹šÐˇ³½š˝=Þˇ=šÐ³˙łš½š=˚ÞˇÞ=ðğŠÐðş=ş½ˇÞ=

³¼ÞŠ˚š³½š=łÐˇ=×¹ć½ž=¾−¹˙=ýš=ý˝ˇ=³¼³ðš¼¸=×−¼=ŠÐˇ¦˚½šÐ=
ˇ³Ć¹ýˇ½ž=½š₣Þ−Ý−ł˝ˇ=_äìÉíççíÜK

È¸Ğž=ý˝ˇ²=Ëˇ½ˇ₣ć¹ž³ž²=ı¹−Þ−ŠÐˇł¹˙ýýˇ½−²
⁄½ˇÞ=½−=½žÝ˚¾ğÞ−=ÝˇýŁ˙ÞšÐ=ý˝ˇ=ðˇ½ˇ₣ć¹ž³ž=
₣¹−Þ−ŠÐˇł¹˙ýýˇ½−²I=šý¾ˇÞ˝Žš½ˇÐ=˚Þˇ=ý¸Þ¼ýˇ=š×ÐŁšŁˇ˝ğ³ž²=
³½žÞ=ðˇ½˙³½ˇ³ž=ˇÞˇý−Þ¸²K
NK ÓÐ˚³½š=xÎˇÐzK

Â=Ýž¾¦š˝³ˇ=ðˇ½ˇ₣ć¹ž³ž=ˇ×−¦žðšĆš½ˇÐ=³½−=Âýš¹−ÝşłÐ−K
ÓÐ˚³½š=x⁄₣Ðz=łÐˇ=ˇ×ş¹¹ÐĞžK

Ò¼ýŁ−¼Ý¸
≥ ·Ðˇ=Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½žÞ=šÐ³ˇłğł¸=¹¼¦ý˝³šğÞ=

¼×˚¹¼¦¹ğÞ=¸=ˇ³Ć¹ýˇ½ž²=³ĆÞŠš³ž²=_äìÉíççíÜI=Šš˝½š=
?Ò¼ÞŠš³Ðýş½ž½ˇ?=³½ž=³šÝ˝Šˇ=NNNK



fl½Ž˚Þ½ˇ=C=„¹łˇÝš˝ˇ UP

Ó¹−Ł−Ý¸=½ž²=Ëˇ½˙³½ˇ³ž²=ÍÞ¸ýž²
NK Òš=−×−ÐˇŠ¸×−½š=×¹−Ł−Ý¸I=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=

?Ëˇ½˙³½ˇ³ž=ÍÞ¸ýž²?K

Ï¼×Þž½¸¹Ðˇ
ÔĆ¦ýÐ³ž=½ğÞ=Ï¼×Þž½ž¹ÐćÞ
Ú−=þ¼×Þž½¸¹Ð=³ˇ²=šÐŠ−×−Ðš˝=ý˝ˇ=³¼łðšð¹Ðý˚Þž=ć¹ˇ=×−¼=˚₣š½š=
−¹˝³šÐK

ÒžýšÐć³½š=ş½Ð=×¹˚×šÐ=Þˇ=¹¼¦ý˝³š½š=½žÞ=½¹˚₣−¼³ˇ=žýš¹−ýžÞ˝ˇ=
ðˇÐ=ć¹ˇ=Jš¾ş³−Þ=ŠšÞ=½−=˚₣š½š=ð˙ÞšÐ=¸ŠžJ=×¹ÐÞ=¹¼¦ý˝³š½š=½−=
þ¼×Þž½¸¹ÐK
?fl½Ž˚Þ½ˇ=C=„¹łˇÝš˝ˇ?=→=?Ï¼×Þž½¸¹Ðˇ?
NK „×ÐÝ˚þ½š=½žÞ=ðšÞ¸=¹Ć¦ýÐ³žK
OK „Ð³˙łš½š=½žÞ=ć¹ˇ=×−¼=š×Ð¦¼ýš˝½šK
PK ÓÐ˚³½š=xfl×−¦¸ðKzK

flÝÝˇł¸=½−¼=ÚĆ×−¼=½ž²=„×ÐÝ−ł¸²=„×ˇÞ˙ÝžĞž²
NK Ò½žÞ=−¦şÞž=ÔĆ¦ýÐ³ž=Ï¼×Þž½ž¹Ð−ĆI=š×ÐÝ˚þ½š=?„×ˇÞ˙ÝžĞž?K

OK „×ÐÝ˚þ½š=ˇ×ş=?Í˝ˇ=Ù−¹˙=ÍşÞ−?I=?Ë˙¦š=Í˚¹ˇ?=¸=?„×ÐÝšłýK=
Í˚¹š²?K
?Í˝ˇ=Ù−¹˙=ÍşÞ−?W Ú−=þ¼×Þž½¸¹Ð=₣½¼×˙=ý˝ˇ=¾−¹˙K
?Ë˙¦š=Í˚¹ˇ?W Ú−=þ¼×Þž½¸¹Ð=₣½¼×˙=ð˙¦š=ý˚¹ˇ=³½žÞ=

×¹−ðˇ¦−¹Ð³ý˚Þž=ć¹ˇK=
?„×ÐÝšłýK=Í˚¹š²?W Ú−=þ¼×Þž½¸¹Ð=₣½¼×˙=½žÞ=š×ÐÝšłý˚Þž=

žý˚¹ˇ=½ž²=šŁŠ−ý˙Šˇ²=½ž=³¼łðšð¹Ðý˚Þž=
ć¹ˇK

flÝÝˇł¸=½−¼=ÚĆ×−¼=½−¼=◊₣−¼=Ï¼×Þž½ž¹Ð−Ć=̧ =½−¼=̌ ¹₣š˝−¼=sáÇÉç=
`äáé
NK Ò½žÞ=−¦şÞž=ÔĆ¦ýÐ³ž=Ï¼×Þž½ž¹Ð−ĆI=š×ÐÝ˚þ½š=?flÞ½Ð³½K=ÚşÞ−¼L

sáÇÉç?K

OK „×ÐÝ˚þ½š=?flÞ½Ð³½K=ÚşÞ−¼=Ï¼×ÞK?=ðˇÐ=ýš½˙=?Ó¹−¹¼¦ýÐ³ýK=◊₣−Ð?=
¸=?ÌÐ=◊₣−Ð=j−¼?=¸=š×ÐÝ˚þš½š=?flÞ½Ð³½K=sáÇÉç=Ï¼×ÞK?K

PK „×ÐÝ˚þ½š=½−Þ=¸₣−=¸=½−=ˇ¹₣š˝−=îáÇÉç=Åäáé=×−¼=¦˚Ýš½šK
·Ðˇ=Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½žÞ=š×ÐÝ−ł¸=šÞş²=¸₣−¼I=Šš˝½š=
?flÞ½Ð³½−˝₣ž³ž=šÞş²=◊₣−¼=Ë−¼Š−¼Þ˝³ýˇ½−²?=³½ž=³šÝ˝Šˇ VQK

flÝÝˇł¸=½ž²=„×ˇÞ˙ÝžĞž²=½−¼=◊₣−¼=Ï¼×Þž½ž¹Ð−Ć
NK Ò½žÞ=−¦şÞž=ÔĆ¦ýÐ³ž=Ï¼×Þž½ž¹Ð−ĆI=š×ÐÝ˚þ½š=?flÞˇŁ−Ý¸?K

OK „×ÐÝ˚þ½š=½žÞ=š×ÐÝ−ł¸=š×ˇÞ˙ÝžĞž²=×−¼=š×Ð¦¼ýš˝½šK

flÝÝˇł¸=÷Þ½ˇ³ž²=½−¼=Ï¼×Þž½ž¹Ð−Ć
NK Ò½žÞ=−¦şÞž=ÔĆ¦ýÐ³ž=Ï¼×Þž½ž¹Ð−ĆI=š×ÐÝ˚þ½š=?÷Þ½ˇ³ž=

Ï¼×Þž½ž¹K?K

OK ÓÐ˚³½š=a=E¸=dF=łÐˇ=Þˇ=̌ ¼þ¸³š½š=½žÞ=̊ Þ½ˇ³ž=̧ =×Ð˚³½š=b=E¸=
cF=łÐˇ=Þˇ=ýšÐć³š½š=½žÞ=˚Þ½ˇ³žK

Òžýš˝ğ³ž
≥ Ú−=þ¼×Þž½¸¹Ð=ŠšÞ=¦ˇ=ð½¼×¸³šÐ=ş½ˇÞ=ž=?÷Þ½ˇ³ž=Ï¼×Þž½¸¹K?=

˚₣šÐ=¹¼¦ýÐ³½š˝=³½−=?ÒÐğ×žÝş?K=⁄½ˇÞ=½−=×¹−¾˝Ý=̊ ₣šÐ=¹¼¦ýÐ³½š˝=
³½−=?ÒÐğ×žÝş?I=ž=¹Ć¦ýÐ³ž=?·šÞÐð¸=˚Þ½ˇ³ž=¾ğÞ¸²?=E³šÝK VPF=
˚₣šÐ=×¹−½š¹ˇÐş½ž½ˇK

=Ej=TJOF



UQ fl½Ž˚Þ½ˇ=C=„¹łˇÝš˝ˇ

flÝÝˇł¸=½ž²=‚şÞž³ž²=łÐˇ=½−Þ=◊₣−=Ï¼×Þž½ž¹Ð−Ć
NK Ò½žÞ=−¦şÞž=ÔĆ¦ýÐ³ž=Ï¼×Þž½ž¹Ð−ĆI=š×ÐÝ˚þ½š=?‚şÞž³ž?K

OK „×ÐÝ˚þ½š=?„Þš¹łş?I=?Ò¼ÞŠšŠK=ýš=◊₣−?=¸=?Íž=šÞš¹łş?K
·Ðˇ=Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½žÞ=š×ÐÝ−ł¸=ŠşÞž³ž²I=Šš˝½š=
?‚şÞž³ž?=³½ž=³šÝ˝Šˇ VSK

flÝÝˇł¸=½ž²=‚Ð˙¹ðšÐˇ²=½−¼=◊₣−¼=Ï¼×Þž½ž¹Ð−Ć
NK Ò½žÞ=−¦şÞž=ÔĆ¦ýÐ³ž=Ï¼×Þž½ž¹Ð−ĆI=š×ÐÝ˚þ½š=?‚Ð˙¹ðšÐˇ?K

OK „×ÐÝ˚þ½š=½žÞ=š×Ð¦¼ýž½¸=ŠÐ˙¹ðšÐˇK

„×ˇÞˇ¾−¹˙=ýÐˇ²=ÔĆ¦ýÐ³ž²=Ï¼×Þž½ž¹Ð−Ć
?fl½Ž˚Þ½ˇ=C=„¹łˇÝš˝ˇ?=→=?Ï¼×Þž½¸¹Ðˇ?
NK Íˇ¹ð˙¹š½š=½−=þ¼×Þž½¸¹Ð=×−¼=¦˚Ýš½š=Þˇ=š×ˇÞˇ¾˚¹š½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?„×ˇÞˇ¾K=Ï¼×Þž½K?K

„×ˇÞˇ¾−¹˙=½ğÞ=Ô¼¦ý˝³šğÞ=⁄ÝğÞ=½ğÞ=Ï¼×Þž½ž¹ÐćÞ
?fl½Ž˚Þ½ˇ=C=„¹łˇÝš˝ˇ?=→=?Ï¼×Þž½¸¹Ðˇ?
NK „×ÐÝ˚þ½š=?‚Ðˇł¹ˇ¾¸=⁄ÝğÞ?K

fl¹Ð¦ý−ýž₣ˇÞ¸
Íš=½žÞ=ˇ¹Ð¦ý−ýž₣ˇÞ¸I=ý×−¹š˝½š=Þˇ=×¹ˇłýˇ½−×−Ð¸³š½š=½Ð²=Q=
ˇ¹Ð¦ýž½Ðð˚²=×¹˙þšÐ²=₣¹ž³Ðý−×−ÐćÞ½ˇ²=˚ğ²=ðˇÐ=NO=Ğž¾˝ˇK

?fl½Ž˚Þ½ˇ=C=„¹łˇÝš˝ˇ?=→=?fl¹Ð¦ý−ýž₣ˇÞ¸?
ÌÐ=ÝšÐ½−¼¹ł˝š²=½ğÞ=×Ý¸ð½¹ğÞ=łÐˇ=½Ð²=̌ ¹Ð¦ýž½Ðð˚²=×¹˙þšÐ²=̊ ₣−¼Þ=
ğ²=šþ¸²W

·Ðˇ=Þˇ=šÐ³˙łš½š=ý˝ˇ=¼×−ŠÐˇ³½−Ý¸=×Ð˚³½š=PK
·Ðˇ=Þˇ=ŠÐˇł¹˙Ğš½š=½−Þ=ˇ¹Ð¦ýş=¸=½žÞ=ˇ¹Ð¦ýž½Ðð¸=×¹˙þž=×−¼=
˚₣š½š=šÐ³˙łšÐ=×Ð˚³½š=UK
·Ðˇ=Þˇ=×¹ˇłýˇ½−×−Ð¸³š½š=½−¼²=¼×−Ý−łÐ³ý−Ć²=×Ð˚³½š= K
·Ðˇ=Þˇ=þšðÐÞ¸³š½š=˚ÞˇÞ=Þ˚−=¼×−Ý−łÐ³ýş=×Ð˚³½š=UK

Íš½ˇ½¹−×¸=k−ýÐ³ý˙½ğÞ
Í×−¹š˝½šI=š×˝³ž²I=Þˇ=₣¹ž³Ðý−×−Ð¸³š½š=½žÞ=ˇ¹Ð¦ý−ýž₣ˇÞ¸=ğ²=
ýš½ˇ½¹−×˚ˇ=Þ−ýÐ³ý˙½ğÞ=₣¹ž³Ðý−×−ÐćÞ½ˇ²=ý˝ˇ=Ð³−½Ðý˝ˇ=×−¼=
šÐ³˙łš½šK

=Ej=TJPF



fl½Ž˚Þ½ˇ=C=„¹łˇÝš˝ˇ UR

Ì¹Ð³ýş²=ýÐˇ²=Á³−½Ðý˝ˇ²=Î−ý˝³ýˇ½−²
?fl½Ž˚Þ½ˇ=C=„¹łˇÝš˝ˇ?=→=?fl¹Ð¦ý−ýž₣ˇÞ¸?=→=x„×ÐÝKz=→=
?Íš½ˇ½¹K=Î−ý˝³ýˇ½K?=→=?Á³−½Ðý˝ˇ?
NK „×ÐÝ˚þ½š=?Ú−×Ððş?=¸=?Ï˚Þ−?K

OK „Ð³˙łš½š=½žÞ=Ð³−½Ðý˝ˇ=Þ−ý˝³ýˇ½−²K

Íš½ˇ½¹−×¸=ý˝ˇ²=ÚÐý¸²
?fl½Ž˚Þ½ˇ=C=„¹łˇÝš˝ˇ?=→=?fl¹Ð¦ý−ýž₣ˇÞ¸?
NK „Ð³˙łš½š=½žÞ=½Ðý¸=×−¼=¦˚Ýš½š=Þˇ=ýš½ˇ½¹˚Ğš½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Íš½ˇ½¹K=Î−ý˝³ýˇ½K?K

PK „×ÐÝ˚þ½š=?Íš½ˇ½¹K=³š=½−×Ððş?=¸=?Íš½ˇ½¹K=³š=þ˚Þ−?K

Â₣−ł¹˙¾ž³ž=ÙğÞ¸²
fl¼½¸=ž=ÝšÐ½−¼¹ł˝ˇ=³˙²=š×Ð½¹˚×šÐ=Þˇ=ž₣−ł¹ˇ¾¸³š½š=˚Þˇ=
¾ğÞž½Ððş=ˇ×ş³×ˇ³ýˇI=½−=−×−˝−=ý×−¹š˝½š=Þˇ=₣¹ž³Ðý−×−Ð¸³š½š=
ğ²=¼×šÞ¦ĆýÐ³ž=łÐˇ=ðˇ½ˇ₣ğ¹¸³šÐ²=½−¼=₣¹−Þ−ŠÐˇł¹˙ýýˇ½−²=̧ =Þˇ=
³½š˝Ýš½š=ýš=˚Þˇ=ý¸Þ¼ýˇ=×−Ý¼ý˚³ğÞ=EjjpFK=Ú−=ž₣−ł¹ˇ¾žý˚Þ−=
¾ğÞž½Ððş=ˇ×ş³×ˇ³ýˇ=ˇ×−¦žðšĆš½ˇÐ=³½−¼²=fl×−¦žðš¼ý˚Þ−¼²=
◊₣−¼²K=Úˇ=¾ğÞž½Ðð˙=ˇ×−³×˙³ýˇ½ˇ=ˇ×−¦žðšĆ−Þ½ˇÐ=ýš=ý−¹¾¸=
^joK

„łł¹ˇ¾¸=šÞş²=ÙğÞž½Ðð−Ć=fl×−³×˙³ýˇ½−²
?fl½Ž˚Þ½ˇ=C=„¹łˇÝš˝ˇ?=→=?Â₣−ł¹˙¾ž³ž=ÙğÞ¸²?
NK ÓÐ˚³½š= =łÐˇ=Þˇ=þšðÐÞ¸³šÐ=ž=ž₣−ł¹˙¾ž³žK

·Ðˇ=Þˇ=³½ˇýˇ½¸³š½š=½žÞ=šłł¹ˇ¾¸=×¹ÐÞ=½šÝšÐć³šÐ=−=₣¹şÞ−²=
šłł¹ˇ¾¸²=×Ð˚³½š= K

OK „×ÐÝ˚þ½š=?fl×−¦¸ðš¼³ž?=łÐˇ=Þˇ=ˇ×−¦žðšĆ³š½š=½−=¾ğÞž½Ððş=
ˇ×ş³×ˇ³ýˇK

Òžýš˝ğ³ž
≥ ÓÐ˚³½š=a=E¸=VF=¸=b=E¸=WF=łÐˇ=Þˇ=¹¼¦ý˝³š½š=½žÞ=˚Þ½ˇ³ž=½−¼=

¸₣−¼=ðˇ½˙=½žÞ=ˇÞˇ×ˇ¹ˇłğł¸=½−¼=ž₣−ł¹ˇ¾žý˚Þ−¼=ˇ¹₣š˝−¼K

fl×−³½−Ý¸=ÙğÞž½ÐðćÞ=fl×−³×ˇ³ý˙½ğÞ
?fl½Ž˚Þ½ˇ=C=„¹łˇÝš˝ˇ?=→=?Â₣−ł¹˙¾ž³ž=ÙğÞ¸²?
NK ÓÐ˚³½š= =łÐˇ=Þˇ=þšðÐÞ¸³šÐ=ž=ž₣−ł¹˙¾ž³žK

OK ÓÐ˚³½š= =łÐˇ=Þˇ=³½ˇýˇ½¸³šÐ=ž=ž₣−ł¹˙¾ž³žK

PK „×ÐÝ˚þ½š=?fl×−¦¸ðK=C=fl×−³½−Ý¸?K

QK „×ÐÝ˚þ½š=?˜²=Í¸Þ¼ýˇ?K
·Ðˇ=×š¹Ð³³ş½š¹š²=×Ýž¹−¾−¹˝š²=³₣š½Ðð˙=ýš=½ž=ŠžýÐ−¼¹ł˝ˇ=
šÞş²=ýžÞĆýˇ½−²I=Šš˝½š=?‚žýÐ−¼¹ł˝ˇ=Î˚−¼=ÍžÞĆýˇ½−²?=³½ž=
³šÝ˝Šˇ RMK

„×ÐÝ−ł¸=½−¼=ı¹şÞ−¼=„łł¹ˇ¾¸²
?fl½Ž˚Þ½ˇ=C=„¹łˇÝš˝ˇ?=→=?Â₣−ł¹˙¾ž³ž=ÙğÞ¸²?=→=x„×ÐÝKz=
→=?ı¹şÞ−²=„łł¹ˇ¾¸²?
NK „×ÐÝ˚þ½š=?·Ðˇ=fl×−³½K=ÍžÞ?=¸=?ÍšłK=ŠÐ˙¹ðšÐˇ²?K

⁄½ˇÞ=š×ÐÝ˚łš½š=?ÍšłK=ŠÐ˙¹ðšÐˇ²?I=½ˇ=¾ğÞž½Ðð˙=
ˇ×−³×˙³ýˇ½ˇ=ˇ×−¦žðšĆ−Þ½ˇÐ=ˇ¼½şýˇ½ˇ=³½žÞ=ð˙¹½ˇ=
ýÞ¸ýž²K

„×ÐÝ−ł¸=Ê˚³ž²=fl×−¦¸ðš¼³ž²
?fl½Ž˚Þ½ˇ=C=„¹łˇÝš˝ˇ?=→=?Â₣−ł¹˙¾ž³ž=ÙğÞ¸²?=→=x„×ÐÝKz=
→=?fl×K=Þ˚ğÞ=¸₣K=³š?
NK „×ÐÝ˚þ½š=½ž=¦˚³ž=×−¼=š×Ð¦¼ýš˝½šK

⁄½ˇÞ=š×ÐÝ˚þš½š=?„×ÐÝK=×¹−=½ž²=ˇ×−¦K?I=ý×−¹š˝½š=Þˇ=
š×ÐÝ˚þš½š=½ž=¦˚³ž=ˇ×−¦¸ðš¼³ž²=šÞş²=¾ğÞž½Ðð−Ć=
ˇ×−³×˙³ýˇ½−²K

=Ej=TJQF



US fl½Ž˚Þ½ˇ=C=„¹łˇÝš˝ˇ

Òˇ¹ğ½¸²
Íš=½žÞ=šÞ³ğýˇ½ğý˚Þž=Ğž¾Ðˇð¸=¾ğ½−ł¹ˇ¾Ðð¸=ýž₣ˇÞ¸I=
ý×−¹š˝½š=Þˇ=³ˇ¹ć³š½š=ðš˝ýšÞˇ=ðˇÐ=ł¹ˇýýÐð−Ć²=ðćŠÐðš²=³š=
ý−¹¾¸=g~å=ðˇÐ=no=ðğŠÐð−Ć²I=ˇÝÝ˙=ðˇÐ=Þˇ=ŠžýÐ−¼¹ł¸³š½š=
ðğŠÐð−Ć²=noK=Úˇ=³ˇ¹ğý˚Þˇ=ŠšŠ−ý˚Þˇ=ý×−¹−ĆÞ=Þˇ=
ˇ×−¦žðš¼½−ĆÞ=ğ²=ðˇ½ˇ₣ć¹ž³ž=³½ž=È˝³½ˇ=„×ˇ¾ćÞI=ğ²=roiI=ğ²=
ŠÐšĆ¦¼Þ³ž=bã~áä=ðˇÐ=ğ²=ðš˝ýšÞ−K

Òžýš˝ğ³ž
≥ „˙Þ=ž=³˙¹ğ³ž=ˇ×−½Ć₣šÐI=˝³ğ²=Þˇ=−¾š˝Ýš½ˇÐ=³½−¼²=×ˇ¹ˇð˙½ğ=

Ýşł−¼²W=½Ć×−²=¸=ý˚łš¦−²=½−¼=ł¹ˇýýÐð−Ć=ðćŠÐðˇI=
ł¹ˇ½³−¼ÞÐ˚²I=³ðşÞžI=¾¦−¹˙I=×−Ðş½ž½ˇ=šð½Ć×ğ³ž²I=
ˇÞ½ˇÞ˙ðÝˇ³ž=½−¼=¾ğ½ş²=ðÝ×K

flÞ˙łÞğ³ž=ł¹ˇýýÐðćÞ=ðğŠÐðćÞ=EÄ~êÅçÇÉëF
?fl½Ž˚Þ½ˇ=C=„¹łˇÝš˝ˇ?=→=?Òˇ¹ğ½¸²?=→=?Ò˙¹ğ³ž=_~êÅçÇÉ?
NK Ó¹−Ł−Ý¸=½−¼=ł¹ˇýýÐð−Ć=ðćŠÐðˇ=ýš=½ž=₣¹¸³ž=½ž²=

šþğ½š¹Ðð¸²=¾ğ½−ł¹ˇ¾Ðð¸²=ýž₣ˇÞ¸²K

OK ÓÐ˚³½š= K

PK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=ð˙Þ½š=½žÞ=š×ÐÝ−ł¸=×−¼=¦˚Ýš½šK
ÌÐ=š×ÐÝ−ł˚²=ŠÐˇ¾˚¹−¼Þ=ˇÞ˙Ý−łˇ=ýš=½ˇ=ŠšŠ−ý˚Þˇ=³˙¹ğ³ž²K
?¿Þ−Ðłýˇ=iáåâ?W Ú−=×¹şł¹ˇýýˇ=×š¹Ð¸łž³ž²=ˇÞ−˝łšÐ=½−=

roiK
?flÞ½Ðł¹ˇ¾¸=roi?W Ú−=roi=ˇÞ½Ðł¹˙¾š½ˇÐK
?fl×−³½−Ý¸=Í¼Þ¸ýˇ½K?W

Ú−=ˇ×−½˚Ýš³ýˇ=ˇ×−³½˚ÝÝš½ˇÐ=ğ²=
ý¸Þ¼ýˇ=pjp=¸=jjpK

?flÞ½Ðł¹ˇ¾¸?W Ú−=ˇ×−½˚Ýš³ýˇ=ˇÞ½Ðł¹˙¾š½ˇÐK

ı¹¸³ž=³¼Þš₣şýšÞž²=³˙¹ğ³ž²
NK Ò½ž=ÝšÐ½−¼¹ł˝ˇ=³˙¹ğ³ž²I=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=

?Ò¼Þš₣¸²=Ò˙¹ğ³ž?K

OK „×ÐÝ˚þ½š=?„Þš¹łş?=¸=?Íž=šÞš¹łş?K

¿Þ−Ðłýˇ=šÐðşÞˇ²=ł¹ˇýýÐð−Ć=ðćŠÐðˇ
?fl½Ž˚Þ½ˇ=C=„¹łˇÝš˝ˇ?=→=?Òˇ¹ğ½¸²?=→=?¿Þ−Ðłýˇ=_~êÅçÇÉ?
NK „×ÐÝ˚þ½š=½ˇ=ŠšŠ−ý˚Þˇ=šÐðşÞˇ²=łÐˇ=½−=ł¹ˇýýÐðş=ðćŠÐðˇ=×−¼=

¦˚Ýš½šK

Ó¹−Ł−Ý¸=ŠšŠ−ý˚ÞğÞ=³˙¹ğ³ž²
?fl½Ž˚Þ½ˇ=C=„¹łˇÝš˝ˇ?=→=?Òˇ¹ğ½¸²?=→=?fl×−½šÝK=Ò˙¹ğ³ž²?
NK Íˇ¹ð˙¹š½š=½ˇ=ŠšŠ−ý˚Þˇ=×−¼=¦˚Ýš½š=Þˇ=×¹−Ł˙ÝÝš½šI=ýš½˙=

×Ð˚³½š= K

‚žýÐ−¼¹ł˝ˇ=ðğŠÐðćÞ=no
?fl½Ž˚Þ½ˇ=C=„¹łˇÝš˝ˇ?=→=?Òˇ¹ğ½¸²?=→=?‚žýK=ËğŠÐð−Ć=no?
NK „×ÐÝ˚þš½š=½žÞ=š×ÐÝ−ł¸=×−¼=š×Ð¦¼ýš˝½šK

?„Ð³ˇłK=ËšÐý˚Þ−¼?W ‚žýÐ−¼¹ł¸³½š=˚ÞˇÞ=ðğŠÐðş=no=
₣¹ž³Ðý−×−ÐćÞ½ˇ²=½−=ðš˝ýšÞ−=×−¼=
šÐ³˙łˇ½šK

?Ú−=¼ÝÐðş=ý−¼?W ‚žýÐ−¼¹ł¸³½š=˚ÞˇÞ=ðğŠÐðş=no=
₣¹ž³Ðý−×−ÐćÞ½ˇ²=ŠšŠ−ý˚Þˇ=ˇ×ş=Ú−=
¼ÝÐðş=ý−¼K

OK „Ð³˙łš½š=½−=ðš˝ýšÞ−=×−¼=¦˚Ýš½š=¸=š×ÐÝ˚þ½š=½ˇ=ŠšŠ−ý˚ÞˇI=
³½ž=³¼Þ˚₣šÐˇ=×Ð˚³½š= K

PK ÓÐ˚³½š= =łÐˇ=ˇ×−¦¸ðš¼³žK

Ò¼ýŁ−¼Ý¸
≥ Ì=ðğŠÐðş²=no=ˇ×−¦žðšĆš½ˇÐ=³š=ˇ¹₣š˝−=ý−¹¾¸²=mkdK

=Ej=TJRF



fl½Ž˚Þ½ˇ=C=„¹łˇÝš˝ˇ UT

Ò˙¹ğ³ž=ðšÐý˚Þ−¼
?fl½Ž˚Þ½ˇ=C=„¹łˇÝš˝ˇ?=→=?Òˇ¹ğ½¸²?=→=?Ò˙¹ğ³ž=ËšÐý˚Þ−¼?
NK „ý¾˙ÞÐ³ž=ðšÐý˚Þ−¼=ýš=½ž=₣¹¸³ž=½ž²=¾ğ½−ł¹ˇ¾Ðð¸²=

ýž₣ˇÞ¸²K
OK ⁄½ˇÞ=ž=ý×˙¹ˇ=ð˙½ğ=ˇ×ş=½−=³ˇ¹ğý˚Þ−=ðš˝ýšÞ−=š˝ÞˇÐ=ý×ÝšI=

×Ð˚³½š= K
PK ÓÐ˚³½š=a=̧ =b=łÐˇ=Þˇ=š×ÐÝ˚þš½š=½−=š×Ð¦¼ýž½ş=ðš˝ýšÞ−I=ýš½˙=

×Ð˚³½š= K
QK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=½žÞ=š×ÐÝ−ł¸=×−¼=¦˚Ýš½šK

?lh?W Ú−=ˇ×−½˚Ýš³ýˇ=³˙¹ğ³ž²=šý¾ˇÞ˝Žš½ˇÐ=
³½žÞ=−¦şÞž=šÐ³ˇłğł¸²=ðšÐý˚Þ−¼K

?„×ÐÝ−ł¸Lb×šþš¹łK?W Ú−=ˇ×−½˚Ýš³ýˇ=½ž²=³˙¹ğ³ž²=ý×−¹š˝=
Þˇ=½¹−×−×−Ðž¦š˝K

?flÝÝˇł¸=ÈšÐ½−¼¹łK?W Ú−=ˇ×−½˚Ýš³ýˇ=½ž²=³˙¹ğ³ž²=ý×−¹š˝=
Þˇ=ýš½ˇ½¹ˇ×š˝=³š=ŠÐšĆ¦¼Þ³ž=
Ð³½−³šÝ˝Šˇ²I=ŠÐšĆ¦¼Þ³ž=
ˇÝÝžÝ−ł¹ˇ¾˝ˇ²I=ˇ¹Ð¦ýş=½žÝš¾ćÞ−¼=¸=
ðš˝ýšÞ−=ýš=Ýˇ½ÐÞÐð−Ć²=₣ˇ¹ˇð½¸¹š²K

ı¹¸³ž=ˇÞ½š³½¹ˇýý˚Þ−¼=ðšÐý˚Þ−¼
NK Ò½ž=ÝšÐ½−¼¹ł˝ˇ=³˙¹ğ³ž²I=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=

?flÞ˙×−Š−=Ëš˝ýšÞ−?K
OK „×ÐÝ˚þ½š=½žÞ=š×ÐÝ−ł¸=×−¼=¦˚Ýš½š=ˇ×ş=?fl¼½şýˇ½−?I=

?ËˇÞ−ÞÐðş?=¸=?flÞ½š³½¹ˇýý˚Þ−?K

bJ_ççâ
fl¼½¸=ž=ÝšÐ½−¼¹ł˝ˇ=³˙²=š×Ð½¹˚×šÐ=Þˇ=Šš˝½š=½ˇ=ˇ¹₣š˝ˇ=
žÝšð½¹−ÞÐðćÞ=ŁÐŁÝ˝ğÞ=Eujac=¸=ˇ¹₣š˝ˇ=ðšÐý˚Þ−¼F=×−¼=˚₣−¼Þ=
ˇ×−¦žðš¼½š˝=³š=ý˝ˇ=ð˙¹½ˇ=ýÞ¸ýž²K
?fl½Ž˚Þ½ˇ=C=„¹łˇÝš˝ˇ?=→=?bJ_ççâ?
NK „×ÐÝ˚þ½š=½−=ˇ¹₣š˝−=×−¼=š×Ð¦¼ýš˝½šK

·Ðˇ=Þˇ=ð¼Ý¸³š½š=½žÞ=−¦şÞž=š×˙Þğ=ðˇÐ=ð˙½ğ=E³½žÞ=×¹−žł−ĆýšÞž=
¸=³½žÞ=š×şýšÞž=ł¹ˇýý¸FI=×Ð˚³½š=a=̧ =bK=·Ðˇ=Þˇ=ýš½ˇŁš˝½š=³½žÞ=
×¹−žł−ĆýšÞž=¸=³½Ð²=š×şýšÞš²=³šÝ˝Šš²=×Ð˚³½š=c=¸=dK

OK ÓÐ˚³½š=F=ş½ˇÞ=−Ý−ðÝž¹ć³š½š=½ž=ŠÐˇŠÐðˇ³˝ˇK

Ò¼ýŁ−¼Ý¸
≥ ⁄½ˇÞ=Ý˙Łš½š=ý˝ˇ=ðÝ¸³ž=šÞć=š˝³½š=³š=ðˇ½˙³½ˇ³ž=×¹−Ł−Ý¸²=¸=
ş½ˇÞ=ðÝš˝Þš½š=˚Þˇ=žÝšð½¹−ÞÐðş=ŁÐŁÝ˝−=EÉJÄççâFI=×¹−³½˝¦š½ˇÐ=
ˇ¼½şýˇ½ˇ=³½žÞ=½šÝš¼½ˇ˝ˇ=³šÝ˝Šˇ=×−¼=×¹−Ł˙ÝÝˇ½š=−=?fl¼½şýK=
ÒšÝÐŠ−Šš˝ð½ž²N?K=Â=³šÝ˝Šˇ=ýš=½−=³šÝÐŠ−Šš˝ð½ž=ˇÞ−˝łšÐ=
ˇ¼½şýˇ½ˇ=ş½ˇÞ=š×ÐÝ˚þš½š=½žÞ=š×şýšÞž=¾−¹˙=ˇ¼½ş=½−=ˇ¹₣š˝−K=
Ì=Þ˚−²=³šÝÐŠ−Šš˝ð½ž²=š˝ÞˇÐ=½ć¹ˇ=−=?fl¼½şýK=ÒšÝÐŠ−Šš˝ð½ž²N?I=
ðˇÐ=ˇÝÝ˙ŽšÐ=½−Þ=×¹−žł−ĆýšÞ−=³šÝÐŠ−Šš˝ð½ž=³š=?fl¼½şýK=
ÒšÝÐŠ−Šš˝ð½ž²O?K

Ó¹−³¦¸ðž=šÞş²=ÒšÝÐŠ−Šš˝ð½ž
Í×−¹š˝½š=Þˇ=šÐ³˙łš½š=˚ğ²=ðˇÐ=ŠĆ−=³šÝÐŠ−Šš˝ð½š²=³š=ð˙¦š=
ˇ¹₣š˝−=bJ_ççâK
?fl½Ž˚Þ½ˇ=C=„¹łˇÝš˝ˇ?=→=?bJ_ççâ?
NK „×ÐÝ˚þ½š=½−=ˇ¹₣š˝−=×−¼=š×Ð¦¼ýš˝½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?ÒšÝÐŠ−Šš˝ð½ž²?K

PK „×ÐÝ˚þ½š=?ÒšÝÐŠ−Šš˝ð½ž²N?=¸=?ÒšÝÐŠ−Šš˝ð½ž²O?K

Òžýš˝ğ³ž
≥ Úˇ=ˇ¹₣š˝ˇ=bJ_ççâ=ŠšÞ=ý×−¹−ĆÞ=Þˇ=×¹−ŁÝž¦−ĆÞ=ş½ˇÞ=
₣¹ž³Ðý−×−Ðš˝½ˇÐ=ž=?Í−¼³Ðð¸?=¸=½ˇ=?ÓˇÐ₣Þ˝ŠÐˇ=C=„¾ˇ¹ý−ł˚²?K

≥ „˙Þ=ˇ¾ˇÐ¹˚³š½š=½žÞ=ð˙¹½ˇ=ýÞ¸ýž²=šÞć=₣¹ž³Ðý−×−Ðš˝½š=½−=
bJ_ççâI=¦ˇ=šý¾ˇÞÐ³½š˝=˚Þˇ=ý¸Þ¼ýˇ=š×ÐŁšŁˇ˝ğ³ž²=ðˇÐ=½−=
½žÝ˚¾ğÞş=³ˇ²=¦ˇ=š×Ð³½¹˚ĞšÐ=³½žÞ=ðˇ½˙³½ˇ³ž=ˇÞˇý−Þ¸²K

=Ej=TJSF



UU fl½Ž˚Þ½ˇ=C=„¹łˇÝš˝ˇ

ı¹−Þşýš½¹−
Í×−¹š˝½š=Þˇ=ˇ×−¦žðšĆ³š½š=˚ğ²=ðˇÐ=Q=₣¹şÞ−¼²=łĆ¹−¼=š˙Þ=
₣¹ž³Ðý−×−Ð¸³š½š=½ž=ÝšÐ½−¼¹ł˝ˇ=₣¹−Þ−ý˚½¹−¼K

?fl½Ž˚Þ½ˇ=C=„¹łˇÝš˝ˇ?=→=?ı¹−Þşýš½¹−?
NK ÓÐ˚³½š= =łÐˇ=½žÞ=˚Þˇ¹þžK

ÓÐ˚³½š=xi^mz=łÐˇ=Þˇ=Šš˝½š=½−=₣¹şÞ−=½−¼=łĆ¹−¼=×¹ÐÞ=
³½ˇýˇ½¸³šÐ=½−=₣¹−Þşýš½¹−K=fl×−¦žðšĆ−Þ½ˇÐ=−Ð=₣¹şÞ−Ð=½ğÞ=Q=
½šÝš¼½ˇ˝ğÞ=łĆ¹ğÞK

OK ÓÐ˚³½š= =łÐˇ=×ˇĆ³žK

Ò¼ýŁ−¼Ý¸
≥ Í×−¹š˝½š=Þˇ=̌ ×−¦žðšĆ³š½š=½−=¹šðş¹=šÞş²=₣¹şÞ−¼=łĆ¹−¼=ðˇÐ=

½ž=₣¹−Þ−ý˚½¹ž³ž=³½ˇ=Ó¹ş½¼×ˇ=Ëš˝ýšÞˇ=×Ð˚Ž−Þ½ˇ²=x„×ÐÝKz=ðˇÐ=
š×ÐÝ˚ł−Þ½ˇ²=?fl×−¦K=³½ˇ=Ó¹ş½¼×K?K

ÍžŠšÞÐ³ýş²=₣¹şÞ−¼
NK Íš½˙=½žÞ=×ˇĆ³ž=½−¼=₣¹−Þ−ý˚½¹−¼I=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=

š×ÐÝ˚þ½š=?„×ˇÞˇ¾−¹˙?K

„¹łˇ³˝š²
Í×−¹š˝½š=Þˇ=ðˇ½ˇ₣ğ¹¸³š½š=½−=₣¹−Þ−ŠÐ˙ł¹ˇýýˇ=ğ²=
ðˇ½ˇ₣ğ¹¸³šÐ²=š¹łˇ³ÐćÞ=łÐˇ=ý˝ˇ=ŠšŠ−ý˚Þž=žýš¹−ýžÞ˝ˇ=¸=ć¹ˇK

‚žýÐ−¼¹ł˝ˇ=ý˝ˇ²=Î˚ˇ²=Ëˇ½ˇ₣ć¹ž³ž²
?fl½Ž˚Þ½ˇ=C=„¹łˇÝš˝ˇ?=→=?„¹łˇ³˝š²?
NK „×ÐÝ˚þ½š=?Ó¹−³¦K=Ëˇ½ˇ₣ć¹K?K

OK „Ð³˙łš½š=½−=¦˚ýˇK

PK „Ð³˙łš½š=½žÞ=žýš¹−ýžÞ˝ˇ=ðˇÐ=½žÞ=ć¹ˇ=½ž²=×¹−¦š³ý˝ˇ²K

QK „×ÐÝ˚þ½š=½žÞ=ć¹ˇ=¼×šÞ¦ĆýÐ³ž²K
„˙Þ=š×ÐÝ˚þš½š=?¿ÝÝš²?I=šÐ³˙łš½š=½žÞ=ć¹ˇ=ðˇÐ=½žÞ=
žýš¹−ýžÞ˝ˇ=¼×šÞ¦ĆýÐ³ž²=×−¼=¦˚Ýš½šK

RK ÓÐ˚³½š=xfl×−¦¸ðKzK

Òžýš˝ğ³ž
≥ „˙Þ=−Ð=¹¼¦ý˝³šÐ²=žýš¹−ýžÞ˝ˇ²=ðˇÐ=ć¹ˇ²=ŠšÞ=˚₣−¼Þ=šÐ³ˇ₣¦š˝=

ˇðşýžI=¦ˇ=šý¾ˇÞÐ³½š˝=ž=−¦şÞž=šÐ³ˇłğł¸²=žýš¹−ýžÞ˝ˇ²=ðˇÐ=
ć¹ˇ²=E³šÝK NMMFK

flÝÝˇł¸=½−¼=ÚĆ×−¼=½−¼=◊₣−¼=Ï¼×Þž½ž¹Ð−Ć=̧ =½−¼=̌ ¹₣š˝−¼=sáÇÉç=
`äáé
NK Ò½žÞ=−¦şÞž=Î˚ˇ²=Ëˇ½ˇ₣ć¹ž³ž²I=š×ÐÝ˚þ½š==?Û×šÞ¦ĆýÐ³ž=?K

OK „×ÐÝ˚þ½š==?flÞ½Ð³½K=ÚşÞ−¼LsáÇÉç=?K

PK „×ÐÝ˚þ½š=?flÞ½Ð³½−˝₣K=ÚşÞ−¼?=ðˇÐ=ýš½˙=?Ó¹−¹¼¦ýÐ³ýK=◊₣−Ð?=¸=
?ÌÐ=◊₣−Ð=j−¼?=¸=š×ÐÝ˚þš½š=?flÞ½Ð³½−˝₣K=sáÇÉç?K

QK „×ÐÝ˚þ½š=½−Þ=¸₣−=¸=½−=ˇ¹₣š˝−=îáÇÉç=Åäáé=×−¼=¦˚Ýš½šK
·Ðˇ=Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½žÞ=š×ÐÝ−ł¸=šÞş²=¸₣−¼I=Šš˝½š=
?flÞ½Ð³½−˝₣ž³ž=šÞş²=◊₣−¼=Ë−¼Š−¼Þ˝³ýˇ½−²?=³½ž=³šÝ˝Šˇ=VQK

=Ej=TJTF

=Ej=TJUF



fl½Ž˚Þ½ˇ=C=„¹łˇÝš˝ˇ UV

flÝÝˇł¸=½ž²=‚Ð˙¹ðšÐˇ²=½−¼=◊₣−¼=Ï¼×Þž½ž¹Ð−Ć=¸=½−¼=sáÇÉç
NK =Ò½žÞ=−¦şÞž=Î˚ˇ²=Ëˇ½ˇ₣ć¹ž³ž²I=š×ÐÝ˚þ½š=?Û×šÞ¦ĆýÐ³ž?K

OK „×ÐÝ˚þ½š=?‚Ð˙¹ðšÐˇ?K

PK „×ÐÝ˚þ½š=½ž=₣¹−ÞÐð¸=×š¹˝−Š−K
⁄½ˇÞ=š×ÐÝ˚þš½š=?¿ÝÝš²?I=ý×−¹š˝½š=Þˇ=šÐ³˙łš½š=½−=₣¹şÞ−=
×−¼=š×Ð¦¼ýš˝½š=ýš=ŠĆ−=Ğž¾˝ˇ=₣¹ž³Ðý−×−ÐćÞ½ˇ²=½−=
×Ýžð½¹−ÝşłÐ−K

flÝÝˇł¸=Óš¹Ðł¹ˇ¾¸²
NK Ò½žÞ=−¦şÞž=Î˚ˇ²=Ëˇ½ˇ₣ć¹ž³ž²I=š×ÐÝ˚þ½š=?Óš¹Ðł¹ˇ¾¸?K

OK „Ð³˙łš½š=ý˝ˇ=³žýš˝ğ³ž=łÐˇ=½žÞ=ðˇ½ˇ₣ć¹ž³ž=š¹łˇ³˝ˇ²K

Íš½ˇ½¹−×¸=Ëˇ½ˇ₣ć¹ž³ž²=³š=fl×ş¹¹ž½ž
NK Ò½žÞ=−¦şÞž=Î˚ˇ²=Ëˇ½ˇ₣ć¹ž³ž²I=š×ÐÝ˚þ½š=?Í¼³½Ððş?K

OK „×ÐÝ˚þ½š=?„Þš¹łş?=łÐˇ=Þˇ=ýš½ˇ½¹˚Ğš½š=½ˇ=ŠšŠ−ý˚Þˇ=³š=
ˇ×ş¹¹ž½ˇ=¸=š×ÐÝ˚þ½š=?Íž=šÞš¹łş?=łÐˇ=Þˇ=ýžÞ=½ˇ=ˇÝÝ˙þš½šK

·Ðˇ=Þˇ=Íˇ¹ð˙¹š½š=Í˝ˇ=Ëˇ½ˇ₣ć¹ž³ž=ğ²=ÌÝ−ðÝž¹ğý˚Þž=¸=Íž=
ÌÝ−ðÝž¹ğý˚Þž
?fl½Ž˚Þ½ˇ=C=„¹łˇÝš˝ˇ?=→=?„¹łˇ³˝š²?
NK Íˇ¹ð˙¹š½š=½žÞ=ðˇ½ˇ₣ć¹ž³ž=×−¼=š×Ð¦¼ýš˝½šK

OK ÓÐ˚³½š= K

PK Ò½žÞ=−¦şÞž=×¹−Ł−Ý¸²I=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=
?÷Ýšł₣−²?K
·Ðˇ=Þˇ=ýˇ¹ð˙¹š½š=½žÞ=ðˇ½ˇ₣ć¹ž³ž=ğ²=ýž=−Ý−ðÝž¹ğý˚ÞžI=
š×ÐÝ˚þ½š=?Ïšýˇ¹ð˙¹Ð³ýˇ?K

fl×−³½−Ý¸=ý˝ˇ²=Ëˇ½ˇ₣ć¹ž³ž²=„¹łˇ³˝ˇ²
?fl½Ž˚Þ½ˇ=C=„¹łˇÝš˝ˇ?=→=?„¹łˇ³˝š²?
NK Íˇ¹ð˙¹š½š=½−=ˇ¹₣š˝−=×−¼=¦˚Ýš½š=Þˇ=³½š˝Ýš½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?fl×−³½−Ý¸?K

PK „×ÐÝ˚þ½š=?˜²=Í¸Þ¼ýˇ?I=?Íš=_äìÉíççíÜ?=¸=?Íš=Û×˚¹¼¦¹š²?K
·Ðˇ=Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½ž=ŠžýÐ−¼¹ł˝ˇ=šÞş²=
ýžÞĆýˇ½−²=Šš˝½š=?‚žýÐ−¼¹ł˝ˇ=Î˚−¼=ÍžÞĆýˇ½−²?=³½ž=
³šÝ˝Šˇ RMK
·Ðˇ=Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½Ð²=¹¼¦ý˝³šÐ²=ˇ³Ć¹ýˇ½−¼=
_äìÉíççíÜ=Šš˝½š=?_äìÉíççíÜ?=³½ž=³šÝ˝Šˇ NNNK=
·Ðˇ=Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½Ð²=¹¼¦ý˝³šÐ²=Û×š¹Ć¦¹ğÞ=
Šš˝½š=?Û×˚¹¼¦¹š²?=³½ž=³šÝ˝Šˇ NNPK

Òžýš˝ğ³ž
≥ Ëˇ½˙=½ž=³ĆŽš¼þž=¦ˇ=₣¹šÐˇ³½š˝=Þˇ=šÐ³˙łš½š=˚ÞˇÞ=ðğŠÐðş=ş½ˇÞ=

³¼ÞŠ˚š³½š=łÐˇ=×¹ć½ž=¾−¹˙=ýš=ý˝ˇ=³¼³ðš¼¸=×−¼=ŠÐˇ¦˚½šÐ=
ˇ³Ć¹ýˇ½ž=½š₣Þ−Ý−ł˝ˇ=_äìÉíççíÜK

Ó¹−Ł−Ý¸=½ž²=Ëˇ½˙³½ˇ³ž²=ÍÞ¸ýž²
?fl½Ž˚Þ½ˇ=C=„¹łˇÝš˝ˇ?=→=?„¹łˇ³˝š²?
NK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ëˇ½˙³½ˇ³ž=ÍÞ¸ýž²?K

‚Ðˇł¹ˇ¾¸=Ëˇ½ˇ₣ğ¹¸³šğÞ
?fl½Ž˚Þ½ˇ=C=„¹łˇÝš˝ˇ?=→=?„¹łˇ³˝š²?=→=x„×ÐÝKz=→=?‚Ðˇł¹ˇ¾¸?
NK „×ÐÝ˚þ½š=½žÞ=š×ÐÝ−ł¸=×−¼=š×Ð¦¼ýš˝½šK

?fl¼½¸=ž=„¹łˇ³˝ˇ?W ‚Ðˇł¹˙¾šÐ=½žÞ=š×ÐÝšłý˚Þž=
ðˇ½ˇ₣ć¹ž³žK

?ÌÐ=ÌÝ−ðÝK=„¹łˇ³˝š²?W ‚Ðˇł¹˙¾šÐ=şÝš²=½Ð²=ýˇ¹ðˇ¹Ð³ý˚Þš²=
ðˇ½ˇ₣ğ¹¸³šÐ²K

?⁄Ýš²=−Ð=„¹łˇ³˝š²?W ‚Ðˇł¹˙¾šÐ=şÝš²=½Ð²=ðˇ½ˇ₣ğ¹¸³šÐ²K



VM fl½Ž˚Þ½ˇ=C=„¹łˇÝš˝ˇ

Óˇłðş³ýÐˇ=›¹ˇ
ÔĆ¦ýÐ³ž=½ž²=‰ćÞž²=›¹ˇ²
?fl½Ž˚Þ½ˇ=C=„¹łˇÝš˝ˇ?=→=?Óˇłðş³ýÐˇ=›¹ˇ?
NK ÓÐ˚³½š=x„×šþKz=ðˇÐ=š×ÐÝ˚þ½š=?ÔĆ¦ýK=‰ćÞž²=›¹ˇ²?K

Â=½¹˚₣−¼³ˇ=ŽćÞž=ć¹ˇ²=š×Ð³žýˇ˝Þš½ˇÐ=³½−Þ=×ˇłðş³ýÐ−=
₣˙¹½ž=ýš=ý˝ˇ=ðşððÐÞž=ł¹ˇýý¸K

OK ÓÐ˚³½š=c=¸=d=łÐˇ=Þˇ=ˇÝÝ˙þš½š=½ž=ŽćÞž=ć¹ˇ²K

PK ÓÐ˚³½š= K

ÔĆ¦ýÐ³ž=Ó¹−³ğ×Ðð¸²=‰ćÞž²=›¹ˇ²
?fl½Ž˚Þ½ˇ=C=„¹łˇÝš˝ˇ?=→=?Óˇłðş³ýÐˇ=›¹ˇ?
NK ÓÐ˚³½š=x„×šþKz=ðˇÐ=š×ÐÝ˚þ½š=?ÔĆ¦ýK=‰ćÞž²=›¹ˇ²?K

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ô¼¦ýK=‰ćÞž²?K

PK „Ð³˙łš½š=½−=şÞ−ýˇ=×şÝž²=×−¼=š×Ð¦¼ýš˝½š=ðˇÐ=½žÞ=ć¹ˇK

ÔĆ¦ýÐ³ž=Êš¹ÐÞ¸²=›¹ˇ²
?fl½Ž˚Þ½ˇ=C=„¹łˇÝš˝ˇ?=→=?Óˇłðş³ýÐˇ=›¹ˇ?
NK ÓÐ˚³½š=x„×šþKz=ðˇÐ=š×ÐÝ˚þ½š=?Êš¹ÐÞ¸=›¹ˇ?K

OK „×ÐÝ˚þ½š=?„Þš¹łş?=¸=?Íž=šÞš¹łş?K

flÞ½˝³½¹−¾ž=Í˚½¹ž³ž
?fl½Ž˚Þ½ˇ=C=„¹łˇÝš˝ˇ?=→=?flÞ½˝³½¹K=Íš½¹ž½K?
NK „Ð³˙łš½š=½žÞ=ć¹ˇ=łÐˇ=½ž=ý˚½¹ž³žK

Í×−¹š˝½š=Þˇ=š×ÐÝ˚þš½š=½žÞ=ć¹ˇ=̌ ×ş=N=Šš¼½š¹şÝš×½−=̊ ğ²=SM=
Ýš×½˙K

OK ÓÐ˚³½š= =łÐˇ=½žÞ=˚Þˇ¹þž=½ž²=ý˚½¹ž³ž²K

PK ÓÐ˚³½š= =łÐˇ=×ˇĆ³žK
ÓÐ˚³½š=×˙ÝÐ= =łÐˇ=½ž=³¼Þ˚₣šÐˇ=½ž²=ý˚½¹ž³ž²K

QK ⁄½ˇÞ=½šÝšÐć³šÐ=ž=ˇÞ½˝³½¹−¾ž=ý˚½¹ž³žI=×Ð˚³½š=xflðĆ¹ğ³žz=
ðˇÐ=³½ž=³¼Þ˚₣šÐˇ=×Ð˚³½š= =łÐˇ=Þˇ=½žÞ=þšðÐÞ¸³š½š=×˙ÝÐK

„×šþš¹łˇ³˝ˇ=½−¼=ı¹şÞ−¼=flÞ½˝³½¹−¾ž²=Í˚½¹ž³ž²
NK Ò½žÞ=−¦şÞž=˚Þˇ¹þž²=½ž²=ˇÞ½˝³½¹−¾ž²=ý˚½¹ž³ž²=×Ð˚³½š=

x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?„×šþš¹łˇ³˝ˇ?K

OK Ú¹−×−×−Ð¸³½š=½žÞ=ć¹ˇ=×−¼=š×Ð¦¼ýš˝½šK

Òžýš˝ğ³ž=„þşŠğÞ
Í×−¹š˝½š=Þˇ=ðˇ½ˇł¹˙Ğš½š=ý˝ˇ=³žýš˝ğ³ž=šþşŠğÞ=ýš=
×¹−š×ÐÝšłý˚Þš²=¸=š×šþš¹łˇ³ý˚Þš²=ðˇ½žł−¹˝š²K

Ëˇ½ˇł¹ˇ¾¸=³½ž=Òžýš˝ğ³ž=„þşŠğÞ
?fl½Ž˚Þ½ˇ=C=„¹łˇÝš˝ˇ?=→=?Òžýš˝ğ³ž=„þşŠğÞ?=→=?Ó¹−³¦K=
Î˚−¼=÷þ−Š−¼?
NK „Ð³˙łš½š=½ˇ=˚þ−Šˇ=₣¹ž³Ðý−×−ÐćÞ½ˇ²=½ˇ=ˇ¹Ð¦ýž½Ðð˙=

×Ý¸ð½¹ˇK

OK „×ÐÝ˚þ½š=½žÞ=ðˇ½žł−¹˝ˇ=×−¼=š×Ð¦¼ýš˝½šK
Â=³žýš˝ğ³ž=šþşŠğÞ=ðˇ½ˇ₣ğ¹š˝½ˇÐK

=Ej=TJVF

=Ej=TJNMF

=Ej=TJNNF

=Ej=TJNNJNF



fl½Ž˚Þ½ˇ=C=„¹łˇÝš˝ˇ VN

Ó¹−Ł−Ý¸=Ò¼ÞşÝğÞ
?fl½Ž˚Þ½ˇ=C=„¹łˇÝš˝ˇ?=→=?Òžýš˝ğ³ž=„þşŠğÞ?=→=?ÌÝÐðş?
Ò½žÞ=−¦şÞž=šý¾ˇÞ˝Ž−Þ½ˇÐ=½ˇ=ðˇ½ˇ₣ğ¹žý˚Þˇ=˚þ−ŠˇK

flÝÝˇł¸=Ó−³−Ć
NK Ò½ž=łšÞÐð¸=×¹−Ł−Ý¸I=š×ÐÝ˚þ½š=½−=³½−Ð₣š˝−=×−¼=š×Ð¦¼ýš˝½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?flÝÝˇł¸=Ó−³−Ć?K

PK „Ð³˙łš½š=½−=×−³ş=×−¼=š×Ð¦¼ýš˝½š=₣¹ž³Ðý−×−ÐćÞ½ˇ²=½ˇ=
ˇ¹Ð¦ýž½Ðð˙=×Ý¸ð½¹ˇK

‚Ðˇł¹ˇ¾¸=Ëˇ½ˇ₣ğ¹žý˚Þ−¼=Ò½−Ð₣š˝−¼=¸=⁄ÝğÞ=½ğÞ=Ò½−Ð₣š˝ğÞ
NK Ò½ž=łšÞÐð¸=×¹−Ł−Ý¸I=š×ÐÝ˚þ½š=½−=³½−Ð₣š˝−=×−¼=š×Ð¦¼ýš˝½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?‚Ðˇł¹K=flÞ½ÐðšÐýK?=¸=?‚Ðˇł¹ˇ¾¸=
⁄ÝğÞ?K

„×šþš¹łˇ³˝ˇ=½−¼=ÌÞşýˇ½−²=Ëˇ½žł−¹˝ˇ²
?fl½Ž˚Þ½ˇ=C=„¹łˇÝš˝ˇ?=→=?Òžýš˝ğ³ž=„þşŠğÞ?=→=?„×šþK=
Ëˇ½žł−¹˝ˇ²?
NK „×ÐÝ˚þ½š=½−=şÞ−ýˇ=ðˇ½žł−¹˝ˇ²=×−¼=š×Ð¦¼ýš˝½šK

OK flÝÝ˙þ½š=½−=şÞ−ýˇK

‡−¸¦šÐˇ=ÚžÝš¾ćÞ−¼
Í×−¹š˝½š=Þˇ=×¹−Ł˙ÝÝš½š=½ž=Ý˝³½ˇ=Ł−¸¦šÐˇ²=ðˇÐ=Þˇ=½ž=
₣¹ž³Ðý−×−Ð¸³š½š=ğ²=−Šžłş=łÐˇ=½Ð²=ÝšÐ½−¼¹ł˝š²=½−¼=½žÝš¾ćÞ−¼K

?fl½Ž˚Þ½ˇ=C=„¹łˇÝš˝ˇ?=→=?‡−¸¦šÐˇ=ÚžÝš¾ćÞ−¼?
NK ÓÐ˚³½š=a=¸=bK

=Ej=TJNNJOF

=Ej=TJNNJPF

=Ej=TJNOF



VO „¾ˇ¹ý−ł˚²=pfj

„¾ˇ¹ý−ł˚²=pfj
Í×−¹š˝½š=Þˇ=ˇÞˇ½¹˚þš½š=³½Ð²=×Ýž¹−¾−¹˝š²=×−¼=×š¹Ð˚₣−Þ½ˇÐ=
³½žÞ=ð˙¹½ˇ=pfjLrpfjK=„×Ðð−ÐÞğÞ¸³½š=ýš=½−=¾−¹˚ˇ=¼×ž¹š³ÐćÞ=
³ˇ²=łÐˇ=×š¹Ð³³ş½š¹š²=×Ýž¹−¾−¹˝š²K

=Ej=NNF



Ô¼¦ý˝³šÐ² VP

Ô¼¦ý˝³šÐ²

Ó¹−¾˝Ý
ÌÐ=¹¼¦ý˝³šÐ²=¸₣−¼=ð−¼Š−¼Þ˝³ýˇ½−²I=¸₣−¼I=ŠşÞž³ž²=ðˇÐ=¾ğ½ş²=
łÐˇ=½−=ð˙¦š=×¹−¾˝Ý=ý×−¹−ĆÞ=Þˇ=ŠÐˇý−¹¾ğ¦−ĆÞ=ˇÞ˙Ý−łˇ=ýš=½−=
×š¹ÐŁ˙ÝÝ−Þ=³½−=−×−˝−=Ł¹˝³ðš³½šK

Û×˙¹₣−¼Þ=S=×¹−¾˝ÝW=?ËˇÞ−ÞÐðş?I=?Ò¼Þ˙Þ½ž³ž?I=
?‚¹ˇ³½ž¹Ðş½ž½ˇ?I=?fl¼½−ð˝Þž½−?I=?flð−¼³½Ððş?=ðˇÐ=?ÒÐğ×žÝş?K

„Þš¹ł−×−˝ž³ž=šÞş²=Ó¹−¾˝Ý
?Ô¼¦ý˝³šÐ²?=→=?Ó¹−¾˝Ý?
NK „×ÐÝ˚þ½š=½−=×¹−¾˝Ý=×−¼=š×Ð¦¼ýš˝½šK

Òžýš˝ğ³ž
≥ ⁄½ˇÞ=−¹Ð³½š˝=ð˙×−Ð−=×¹−¾˝ÝI=½ş½š=ž=ˇÞ½˝³½−Ð₣ž=˚ÞŠšÐþž=×−¼=

×š¹Ðł¹˙¾š½ˇÐ=³½ž=³šÝ˝Šˇ NTI=šý¾ˇÞ˝Žš½ˇÐ=³½žÞ=ðˇ½˙³½ˇ³ž=
ˇÞˇý−Þ¸²K=

Ò¼ýŁ−¼Ý¸
≥ Ò½žÞ=ðˇ½˙³½ˇ³ž=ˇÞˇý−Þ¸²I=×Ð˚³½š=ðˇÐ=ð¹ˇ½¸³½š=×Ðš³ý˚Þ−=½−=
R=łÐˇ=Þˇ=ˇÝÝ˙þš½š=ýš½ˇþĆ=½−¼=Ó¹−¾˝Ý=ÒÐğ×žÝş=ðˇÐ=½−¼=
×¹−¾˝Ý=×−¼=šÞš¹ł−×−Ð¸¦žðš=×Ð−=×¹ş³¾ˇ½ˇK

„×ˇÞˇ¾−¹˙=Ô¼¦ý˝³šğÞ=½ğÞ=Ó¹−¾˝Ý
?Ô¼¦ý˝³šÐ²?=→=?Ó¹−¾˝Ý?
NK Íˇ¹ð˙¹š½š=½−=×¹−¾˝Ý=×−¼=¦˚Ýš½š=Þˇ=š×ˇÞˇ¾˚¹š½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ô¼¦ýK=ğ²=Ó¹−š×K?K

PK „Ð³˙łš½š=½−Þ=ðğŠÐðş=³¼³ðš¼¸²K
Ì=×¹−š×ÐÝšłý˚Þ−²=ðğŠÐðş²=³¼³ðš¼¸²=š˝ÞˇÐ=?VVVV?K=·Ðˇ=
Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½žÞ=ˇÝÝˇł¸=½−¼=ðğŠÐð−Ć=
³¼³ðš¼¸²I=Šš˝½š=?flÝÝˇł¸=ËğŠÐð−Ć=Ò¼³ðš¼¸²?=³½ž=
³šÝ˝Šˇ NMUK

÷Þ½ˇ³ž
Í×−¹š˝½š=Þˇ=¹¼¦ý˝³š½š=½žÞ=˚Þ½ˇ³ž=½ğÞ=šÐ³š¹₣şýšÞğÞ=
¾ğÞž½ÐðćÞ=ðÝ¸³šğÞI=½ğÞ=ýžÞ¼ý˙½ğÞ=pjpLjjpLbã~áä=ðˇÐ=½ğÞ=
˙ÝÝğÞ=¸₣ğÞ=E?·šÞÐð¸=˚Þ½ˇ³ž=¾ğÞ¸²?F=³š=˚Þˇ=ˇ×ş=½ˇ=˚þÐ=
š×˝×šŠˇI=¸=Þˇ=¹¼¦ý˝³š½š=ýÐˇ=ˇ¼þˇÞşýšÞž=˚Þ½ˇ³ž=łÐˇ=şÝˇ=ˇ¼½˙=
šð½ş²=ˇ×ş=½ž=?·šÞÐð¸=˚Þ½ˇ³ž=¾ğÞ¸²?K
?Ô¼¦ý˝³šÐ²?=→=?Ó¹−¾˝Ý?
NK Íˇ¹ð˙¹š½š=½−=×¹−¾˝Ý=×−¼=¦˚Ýš½š=Þˇ=×¹−³ˇ¹ýş³š½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ó¹−³ˇ¹ý−ł¸?K

PK „×ÐÝ˚þ½š=?÷Þ½ˇ³ž?K

QK „×ÐÝ˚þ½š=?·Ðˇ=šÐ³š¹₣şýšÞž=ðÝ¸³ž?I=?·Ðˇ=Î˚−=Í¸Þ¼ýˇ?=¸=
?·šÞÐð¸=˚Þ½ˇ³ž=¾ğÞ¸²?K

RK ÓÐ˚³½š=a=E¸=dF=łÐˇ=Þˇ=ˇ¼þ¸³š½š=½žÞ=˚Þ½ˇ³ž=½−¼=
ð−¼Š−¼ÞÐ−Ć=¸=×Ð˚³½š=b=E¸=cF=łÐˇ=Þˇ=ýšÐć³š½š=½žÞ=˚Þ½ˇ³ž=
½−¼=ð−¼Š−¼ÞÐ−Ć=ðˇÐ=³½ž=³¼Þ˚₣šÐˇ=×Ð˚³½š= K
·Ðˇ=Þˇ=š×ÐÝ˚þš½š=?fl¼þˇÞşýšÞž=÷Þ½ˇ³ž?I=×Ð˚³½š=a=E¸=dF=
³½−=š×˝×šŠ−=RK
·Ðˇ=Þˇ=š×ÐÝ˚þš½š=?ÒÐğ×žÝş?I=×Ð˚³½š=b=E¸=cF=³½−=š×˝×šŠ−=NK

Ò¼ýŁ−¼Ý¸
≥ Í×−¹š˝½š=Þˇ=š×ÐÝ˚þš½š=˚Þˇ=ˇ×ş=½ˇ=ŠĆ−=š×˝×šŠˇ=¸=½žÞ=

ˇ¼þˇÞşýšÞž=˚Þ½ˇ³žI=ş½ˇÞ=š×ÐÝ˚łš½š=½−=×¹−¾˝Ý=?ÒÐğ×žÝş?K

=Ej=NOF

=Ej=NOJNF



VQ Ô¼¦ý˝³šÐ²

flÞ½Ð³½−˝₣ž³ž=šÞş²=◊₣−¼=Ë−¼Š−¼Þ˝³ýˇ½−²
˜²=¸₣−=ð−¼Š−¼Þ˝³ýˇ½−²=ý×−¹š˝½š=Þˇ=š×ÐÝ˚þš½š=˚ÞˇÞ=ˇ×ş=½−¼²=
OU=¸₣−¼²I=³½−¼²=−×−˝−¼²=×š¹ÐÝˇýŁ˙Þ−Þ½ˇÐ=ðˇÐ=R=ý−½˝ŁˇI=NP=
ž₣ž½Ðð˙=š¾¾˚=ðˇÐ=NM=ýšÝğŠ˝š²K=Í×−¹š˝½šI=š×˝³ž²=Þˇ=š×ÐÝ˚þš½š=
˚ÞˇÞ=̧ ₣−=̌ ×ş=½−¼²=fl×−¦žðš¼ý˚Þ−¼²=◊₣−¼²=ğ²=×¹−š×ÐÝšłý˚Þ−=
¸₣−=ð−¼Š−¼Þ˝³ýˇ½−²I=šð½ş²=ˇ×ş=½−¼²=¸₣−¼²=ýš=¾−¹ý˙=^joK
?Ô¼¦ý˝³šÐ²?=→=?Ó¹−¾˝Ý?
NK Íˇ¹ð˙¹š½š=½−=×¹−¾˝Ý=×−¼=¦˚Ýš½š=Þˇ=×¹−³ˇ¹ýş³š½šK
OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ó¹−³ˇ¹ý−ł¸?K
PK „×ÐÝ˚þ½š=?Ë−¼ŠKLË−¼ŠK=sáÇÉç?K
QK „×ÐÝ˚þ½š=?·Ðˇ=ËÝ¸³ž=ÙğÞ¸²?=¸=?·Ðˇ=ËÝ¸³ž=sáÇÉç?K
RK „×ÐÝ˚þ½š=?flÞ½Ð³½−˝₣K=ÚşÞ−¼?K
SK „×ÐÝ˚þ½š=?Ó¹−¹¼¦ýÐ³ýK=◊₣−Ð?=¸=?ÌÐ=◊₣−Ð=j−¼?K
TK Íˇ¹ð˙¹š½š=½−Þ=¸₣−=ð−¼Š−¼Þ˝³ýˇ½−²=×−¼=¦˚Ýš½š=Þˇ=

₣¹ž³Ðý−×−Ð¸³š½šK
·Ðˇ=Þˇ=ˇð−Ć³š½š=½−=Šš˝łýˇI=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=
?flÞˇ×ˇ¹ˇłğł¸?K

UK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þš½š=?flÞ½Ð³½−˝₣ž³ž?=łÐˇ=
?Ó¹−¹¼¦ýÐ³ýK=◊₣−Ð?=¸=?„×ÐÝ−ł¸?=łÐˇ=?ÌÐ=◊₣−Ð=j−¼?K

Òžýš˝ğ³ž
≥ flðşýž=ðÐ=ˇÞ=ŠÐˇł¹˙Ğš½š=˚ÞˇÞ=¸₣−=ð−¼Š−¼Þ˝³ýˇ½−²=×−¼=
₣¹ž³Ðý−×−Ðš˝=˚ÞˇÞ=¸₣−=ˇ×ş=½−=◊₣−Ð=C=Ë−¼Š−ĆÞÐ³ýˇI=ž=
¹Ć¦ýÐ³ž=×ˇ¹ˇý˚ÞšÐ=ğ²=˚₣šÐ=ðˇÐ=¦ˇ=ž₣š˝=−=×¹−š×ÐÝšłý˚Þ−²=
¸₣−²=ð−¼Š−¼Þ˝³ýˇ½−²K=„˙Þ=ŠÐˇł¹˙Ğš½š=˚ÞˇÞ=¸₣−=
ð−¼Š−¼Þ˝³ýˇ½−²=×−¼=˚₣šÐ=−¹Ð³½š˝=łÐˇ=½−=ð−¼Š−ĆÞÐ³ýˇI=¦ˇ=
šÞš¹ł−×−Ðž¦š˝=×˙ÝÐ=−=×¹−š×ÐÝšłý˚Þ−²=¸₣−²=
ð−¼Š−¼Þ˝³ýˇ½−²K

flÞ½Ð³½−˝₣ž³ž=šÞş²=fl¹₣š˝−¼=sáÇÉç=`äáé=Ë−¼Š−¼Þ˝³ýˇ½−²
Í×−¹š˝½š=Þˇ=š×ÐÝ˚þš½š=˚Þˇ=ˇ¹₣š˝−=îáÇÉç=Åäáé=ˇ×ş=½ˇ=
fl×−¦žðš¼ý˚Þˇ=sáÇÉç=ğ²=×¹−š×ÐÝšłý˚Þ−=ˇ¹₣š˝−=îáÇÉç=Åäáé=łÐˇ=
½−=ð−¼Š−ĆÞÐ³ýˇK
?Ô¼¦ý˝³šÐ²?=→=?Ó¹−¾˝Ý?
NK Íˇ¹ð˙¹š½š=½−=×¹−¾˝Ý=×−¼=¦˚Ýš½š=Þˇ=×¹−³ˇ¹ýş³š½šK
OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ó¹−³ˇ¹ý−ł¸?K
PK „×ÐÝ˚þ½š=?Ë−¼ŠKLË−¼ŠK=sáÇÉç?K
QK „×ÐÝ˚þ½š=?·Ðˇ=ËÝ¸³ž=ÙğÞ¸²?=¸=?·Ðˇ=ËÝ¸³ž=sáÇÉç?K
RK „×ÐÝ˚þ½š=?flÞ½Ð³½−˝₣K=sáÇÉç?K
SK Íˇ¹ð˙¹š½š=½−=ˇ¹₣š˝−=îáÇÉç=Åäáé=ð−¼Š−¼Þ˝³ýˇ½−²=×−¼=

¦˚Ýš½š=Þˇ=₣¹ž³Ðý−×−Ð¸³š½šK
·Ðˇ=Þˇ=ð˙Þš½š=×¹−š×Ð³ðş×ž³ž=ˇ¼½−Ć=½−¼=ˇ¹₣š˝−¼I=×Ð˚³½š=
x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?flÞˇ×ˇ¹ˇłğł¸?K

TK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?„×ÐÝ−ł¸?K



Ô¼¦ý˝³šÐ² VR

„ÐŠ−×−˝ž³ž=ÍžÞĆýˇ½−²
⁄½ˇÞ=ÝˇýŁ˙Þš½š=ýžÞĆýˇ½ˇI=½−=½žÝ˚¾ğÞş=³ˇ²=¦ˇ=³˙²=šÐŠ−×−Ðš˝=
łÐˇ=½žÞ=˙¾Ðþ¸=½−¼²=ýš=½−Þ=¸₣−=¸=½−=îáÇÉç=ð−¼Š−¼Þ˝³ýˇ½−²=×−¼=
˚₣š½š=−¹˝³šÐK
?Ô¼¦ý˝³šÐ²?=→=?Ó¹−¾˝Ý?
NK Íˇ¹ð˙¹š½š=½−=×¹−¾˝Ý=×−¼=¦˚Ýš½š=Þˇ=×¹−³ˇ¹ýş³š½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ó¹−³ˇ¹ý−ł¸?K

PK „×ÐÝ˚þ½š=?Ë−¼ŠKLË−¼ŠK=sáÇÉç?K

QK „×ÐÝ˚þ½š=?·Ðˇ=Î˚−=Í¸Þ¼ýˇ?K

RK „×ÐÝ˚þ½š=?flÞ½Ð³½−˝₣K=ÚşÞ−¼?=¸=?flÞ½Ð³½−˝₣K=sáÇÉç?K
„˙Þ=š×ÐÝ˚þš½š=?flÞ½Ð³½−˝₣K=ÚşÞ−¼?I=š×ÐÝ˚þ½š=?Ó¹−¹¼¦ýÐ³ýK=
◊₣−Ð?=¸=?ÌÐ=◊₣−Ð=Í−¼?K

SK Íˇ¹ð˙¹š½š=½−Þ=¸₣−=¸=½−=îáÇÉç=Åäáé=ð−¼Š−¼Þ˝³ýˇ½−²=×−¼=
¦˚Ýš½šK
·Ðˇ=Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½žÞ=š×ÐÝ−ł¸=¸₣−¼=
ð−¼Š−¼Þ˝³ýˇ½−²=̧ =ð−¼Š−ĆÞÐ³ýˇ=îáÇÉçI=Šš˝½š=?flÞ½Ð³½−˝₣ž³ž=
šÞş²=◊₣−¼=Ë−¼Š−¼Þ˝³ýˇ½−²?=¸=?flÞ½Ð³½−˝₣ž³ž=šÞş²=
fl¹₣š˝−¼=sáÇÉç=`äáé=Ë−¼Š−¼Þ˝³ýˇ½−²?=³½ž=³šÝ˝Šˇ VQK

TK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?flÞ½Ð³½−˝₣ž³ž?=łÐˇ=?Ó¹−¹¼¦ýÐ³ýK=
◊₣−Ð?=¸=?„×ÐÝ−ł¸?K

UK „×ÐÝ˚þ½š=?·Ðˇ=Î˚−=Í¸Þ¼ýˇ?=ðˇÐ=š×ÐÝ˚þ½š=?‚Ð˙¹ðšÐˇ?K

VK „Ð³˙łš½š=½ž=ŠÐ˙¹ðšÐˇ=×−¼=š×Ð¦¼ýš˝½šK

ÚşÞ−Ð=ÓÝžð½¹−Ý−ł˝−¼
⁄½ˇÞ=−Ð=½şÞ−Ð=×Ýžð½¹−Ý−ł˝−¼=š˝ÞˇÐ=šÞš¹ł−×−Ðžý˚Þ−ÐI=¦ˇ=̌ ð−Ć½š=
˚ÞˇÞ=¸₣−=š×ÐŁšŁˇ˝ğ³ž²=ð˙¦š=¾−¹˙=×−¼=¦ˇ=×Ð˚Žš½š=˚Þˇ=
ˇ¹Ð¦ýž½Ððş=×Ý¸ð½¹−K
?Ô¼¦ý˝³šÐ²?=→=?Ó¹−¾˝Ý?
NK Íˇ¹ð˙¹š½š=½−=×¹−¾˝Ý=×−¼=¦˚Ýš½š=Þˇ=×¹−³ˇ¹ýş³š½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ó¹−³ˇ¹ý−ł¸?K

PK „×ÐÝ˚þ½š=?◊₣−Ð=Ò¼³½¸ýˇ½−²?K

QK „×ÐÝ˚þ½š=?ÚşÞ−Ð=ÓÝžð½¹K?K

RK Íˇ¹ð˙¹š½š=½−=ý−½˝Ł−=½şÞ−¼=×−¼=š×Ð¦¼ýš˝½šK

SK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?flÞ½Ð³½−˝₣ž³ž?K

ÚşÞ−²=Ó¹−šÐŠ−×−˝ž³ž²
Ú−=½žÝ˚¾ğÞ−=šð×˚ý×šÐ=˚Þˇ=×¹−šÐŠ−×−Ðž½Ððş=½şÞ−=ş½ˇÞ=³¼ýŁš˝=
ð˙×−Ð−=Ý˙¦−²K

?Ô¼¦ý˝³šÐ²?=→=?Ó¹−¾˝Ý?
NK Íˇ¹ð˙¹š½š=½−=×¹−¾˝Ý=×−¼=¦˚Ýš½š=Þˇ=×¹−³ˇ¹ýş³š½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ó¹−³ˇ¹ý−ł¸?K

PK „×ÐÝ˚þ½š=?◊₣−Ð=Ò¼³½¸ýˇ½−²?K

QK „×ÐÝ˚þ½š=?ÚşÞ−²=Ó¹−šÐŠ−×K?K

RK „×ÐÝ˚þ½š=?ÚşÞ−²?=¸=?‚Ð˙¹ðšÐˇ?K
·Ðˇ=?ÚşÞ−²?I=š×ÐÝ˚þ½š=?Íž=šÞš¹łş?I=?Ó¹−¹¼¦ýÐ³ýK=◊₣−Ð?=¸=
?ÌÐ=◊₣−Ð=j−¼?K
·Ðˇ=?‚Ð˙¹ðšÐˇ?I=š×ÐÝ˚þ½š=½−Þ=š×Ð¦¼ýž½ş=₣¹şÞ−=̌ Þ˙ýš³ˇ=³½ˇ=
MIR=ðˇÐ=³½ˇ=O=Šš¼½š¹şÝš×½ˇK



VS Ô¼¦ý˝³šÐ²

◊₣−²=„Þš¹ł−×−˝ž³ž²Lfl×šÞš¹ł−×−˝ž³ž²
Ú−=½žÝ˚¾ğÞ−=ý×−¹š˝=Þˇ=¹¼¦ýÐ³½š˝=ć³½š=Þˇ=šð×˚ý×šÐ=˚Þˇ=¸₣−=
ðˇ½˙=½žÞ=šÞš¹ł−×−˝ž³ž=¸=½žÞ=ˇ×šÞš¹ł−×−˝ž³žK=Í×−¹š˝½š=Þˇ=
¹¼¦ý˝³š½š=½žÞ=ŠÐ˙¹ðšÐˇ=ðˇÐ=½ž=ýšÝğŠ˝ˇ=½−¼=¸₣−¼K
?Ô¼¦ý˝³šÐ²?=→=?Ó¹−¾˝Ý?
NK Íˇ¹ð˙¹š½š=½−=×¹−¾˝Ý=×−¼=¦˚Ýš½š=Þˇ=×¹−³ˇ¹ýş³š½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ó¹−³ˇ¹ý−ł¸?K

PK „×ÐÝ˚þ½š=?◊₣−Ð=Ò¼³½¸ýˇ½−²?K

QK „×ÐÝ˚þš½š=?◊₣−²=„Þš¹ł−×K?=¸=?◊₣−²=fl×šÞš¹ł−×K?K

RK „×ÐÝ˚þ½š=?ÍšÝğŠ˝ˇ?=¸=?‚Ð˙¹ðšÐˇ?K
·Ðˇ=?ÍšÝğŠ˝ˇ?I=š×ÐÝ˚þ½š=?Íž=šÞš¹łş?I=?Ó¹−¹¼¦ýÐ³ýK=◊₣−Ð?=
¸=?ÌÐ=◊₣−Ð=j−¼?K

‚şÞž³ž
?Ô¼¦ý˝³šÐ²?=→=?Ó¹−¾˝Ý?
NK Íˇ¹ð˙¹š½š=½−=×¹−¾˝Ý=×−¼=¦˚Ýš½š=Þˇ=×¹−³ˇ¹ýş³š½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ó¹−³ˇ¹ý−ł¸?K

PK „×ÐÝ˚þ½š=?‚şÞž³ž?K

QK „×ÐÝ˚þ½š=?„Þš¹łş?I=?Ò¼ÞŠšŠK=ýš=◊₣−?=¸=?Íž=šÞš¹łş?K

Ò¼ýŁ−¼Ý¸
≥ „˙Þ=̊ ₣š½š=š×ÐÝ˚þšÐ=½−=?Ò¼ÞŠšŠK=ýš=◊₣−?=³½−=Ł¸ýˇ=QI=ž=ŠşÞž³ž=

³¼ł₣¹−Þ˝Žš½ˇÐ=ýš=½žÞ=š×ÐÝšłý˚Þž=ýšÝğŠ˝ˇK=Óˇ¹ˇðˇÝć=
Ý˙Łš½š=¼×şĞž=ş½Ð=ŠšÞ=¼×−³½ž¹˝Ž−¼Þ=şÝš²=−Ð=ýšÝğŠ˝š²=½žÞ=
š×ÐÝ−ł¸=?Ò¼ÞŠšŠK=ýš=◊₣−?K

≥ ⁄½ˇÞ=š×ÐÝ˚łš½š=?„Þš¹łş?=¸=?Ò¼ÞŠšŠK=ýš=◊₣−?=³½−=Ł¸ýˇ=QI=
šý¾ˇÞ˝Žš½ˇÐ=½−=? ?=³½žÞ=ðˇ½˙³½ˇ³ž=ˇÞˇý−Þ¸²K

Ùğ²=Ò¼ýŁ˙Þ½−²
⁄½ˇÞ=ž=š×ÐÝ−ł¸=¾ğ½Ð³ý−Ć=š˝ÞˇÐ=šÞš¹ł−×−Ðžý˚ÞžI=½−=¾ğ²=½−¼=
ðÐÞž½−Ć=ˇÞˇŁ−³Ł¸ÞšÐ=ş½ˇÞ=½−=½žÝ˚¾ğÞ−=Ý˙ŁšÐ=ýÐˇ=ðÝ¸³ž=¸=˚Þˇ=
ý¸Þ¼ýˇK
?Ô¼¦ý˝³šÐ²?=→=?Ó¹−¾˝Ý?
NK Íˇ¹ð˙¹š½š=½−=×¹−¾˝Ý=×−¼=¦˚Ýš½š=Þˇ=×¹−³ˇ¹ýş³š½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ó¹−³ˇ¹ý−ł¸?K

PK „×ÐÝ˚þ½š=?Ùğ²=³¼ýŁ˙Þ½−²?K

QK „×ÐÝ˚þ½š=?·Ðˇ=ËÝ¸³ž=ÙğÞ¸²?I=?·Ðˇ=ËÝ¸³ž=sáÇÉç?=¸=?·Ðˇ=Î˚−=
Í¸Þ¼ýˇ?K

RK „×ÐÝ˚þ½š=?„Þš¹łKLfl×šÞš¹łK?K

SK „×ÐÝ˚þ½š=?„Þš¹łş?=¸=?Íž=šÞš¹łş?K

flÝÝˇł¸=ı¹ćýˇ½−²=Ùğ½Ð³ý−Ć
Í×−¹š˝½š=Þˇ=š×ÐÝ˚þš½š=̌ Þ˙ýš³ˇ=̌ ×ş=T=₣¹ćýˇ½ˇ=ðˇÐ=N=³₣˚ŠÐ−=łÐˇ=
½−=ð˙¦š=×¹−¾˝ÝK
NK Ò½−=Ł¸ýˇ=R=³½−=?Ùğ²=³¼ýŁ˙Þ½−²?I=š×ÐÝ˚þ½š=?ı¹ćýˇ=

Ùğ½Ð³ý−Ć?K=

OK „×ÐÝ˚þš½š=½−=₣¹ćýˇ=×−¼=š×Ð¦¼ýš˝½šK

Ò¼ýŁ−¼Ý¸
≥ „˙Þ=š×ÐÝ˚þš½š=?aáëÅç?=³½−=Ł¸ýˇ=OI=şÝˇ=½ˇ=T=₣¹ćýˇ½ˇ=¦ˇ=

šÞˇÝÝ˙³³−Þ½ˇÐ=ŠÐˇŠ−₣Ðð˙K



Ô¼¦ý˝³šÐ² VT

Ùğ²=Ëˇ½˙³½ˇ³ž²
⁄½ˇÞ=ž=š×ÐÝ−ł¸=¾ğ½Ð³ý−Ć=š˝ÞˇÐ=šÞš¹ł−×−Ðžý˚ÞžI=½−=¾ğ²=½−¼=
ðÐÞž½−Ć=̧ =½−=ýÐð¹ş=¾ğ²=̌ ÞˇŁ−³Ł¸ÞšÐ=łÐˇ=Þˇ=³ˇ²=šÞžýš¹ć³šÐ=ş½Ð=
˚₣š½š=ˇÞˇ×˙Þ½ž½š²=ðÝ¸³šÐ²=¸=ðˇÐÞ−Ć¹łÐˇ=ýžÞĆýˇ½ˇK
?Ô¼¦ý˝³šÐ²?=→=?Ó¹−¾˝Ý?
NK Íˇ¹ð˙¹š½š=½−=×¹−¾˝Ý=×−¼=¦˚Ýš½š=Þˇ=×¹−³ˇ¹ýş³š½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ó¹−³ˇ¹ý−ł¸?K

PK „×ÐÝ˚þ½š=?Ùğ²=ðˇ½˙³½ˇ³ž²?K

QK „×ÐÝ˚þ½š=?·Ðˇ=ˇÞˇ×˙Þ½ž½ž=ðÝ¸³ž?I=?·Ðˇ=Î˚−=Í¸Þ¼ýˇ?K

RK „×ÐÝ˚þ½š=?„Þš¹łKLfl×šÞš¹łK?K

SK „×ÐÝ˚þ½š=?„Þš¹łşEÙğ²=ËÐÞž½−ĆF?I=?„Þš¹łşEÍÐð¹ş=¾ğ²F?=¸=
?Íž=šÞš¹łş?K

flÝÝˇł¸=ı¹ćýˇ½−²=Ùğ½Ð³ý−Ć
Í×−¹š˝½š=Þˇ=š×ÐÝ˚þš½š=ˇÞ˙ýš³ˇ=ˇ×ş=T=₣¹ćýˇ½ˇ=ş½ˇÞ=½−=?Ùğ²=
ðˇ½˙³½ˇ³ž²?=š˝ÞˇÐ=¹¼¦ýÐ³ý˚Þ−=³½−=?„Þš¹łş=EÙğ²=ËÐÞž½−ĆF?K
NK Ò½−=Ł¸ýˇ=R=³½−=?Ùğ²=ðˇ½˙³½ˇ³ž²?I=š×ÐÝ˚þ½š=?ı¹ćýˇ=

¾ğ½Ð³ý−Ć=ðÐÞž½−Ć?K=

OK „×ÐÝ˚þš½š=½−=₣¹ćýˇ=×−¼=š×Ð¦¼ýš˝½šK

fl×˙Þ½ž³ž=ýš=Ë˙¦š=ÓÝ¸ð½¹−
Í×−¹š˝½š=Þˇ=ˇ×ˇÞ½¸³š½š=³š=ý˝ˇ=ðÝ¸³ž=×Ð˚Ž−Þ½ˇ²=−×−Ð−Š¸×−½š=
×Ý¸ð½¹−=šð½ş²=̌ ×ş=½ˇ=FI=U=ðˇÐ=xfl×ˇ³₣KzK=·Ðˇ=Ýš×½−ý˚¹šÐš²I=
Šš˝½š=?fl×˙Þ½ž³ž=ý˝ˇ²=ÙğÞž½Ðð¸²=ËÝ¸³ž²?=³½ž=³šÝ˝Šˇ ONK

?Ô¼¦ý˝³šÐ²?=→=?Ó¹−¾˝Ý?
NK Íˇ¹ð˙¹š½š=½−=×¹−¾˝Ý=×−¼=¦˚Ýš½š=Þˇ=×¹−³ˇ¹ýş³š½šK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Ó¹−³ˇ¹ý−ł¸?K

PK „×ÐÝ˚þ½š=?fl×˙Þ½K=ð˙¦š=ÓÝ¸ð½K?K

QK „×ÐÝ˚þ½š=?„Þš¹łş?=¸=?Íž=šÞš¹łş?K

ÔĆ¦ýÐ³ž=½ž²=Ì¦şÞž²
Í×−¹š˝½š=Þˇ=ˇÝÝ˙þš½š=½Ð²=¹¼¦ý˝³šÐ²=½ž²=−¦şÞž²K

ÔĆ¦ýÐ³ž=½−¼=ÙşÞ½−¼
·Ðˇ=½žÞ=−¦şÞž=ˇÞˇý−Þ¸²=×ˇ¹˚₣−Þ½ˇÐ=R=¾ğ½−ł¹ˇ¾˝š²K
˜²=¾şÞ½−=ý×−¹−ĆÞ=Þˇ=₣¹ž³Ðý−×−Ðž¦−ĆÞ=ðˇÐ=¾ğ½−ł¹ˇ¾˝š²=×−¼=
˚₣š½š=Łł˙ÝšÐ=ýš=½žÞ=Ğž¾Ðˇð¸=¾ğ½−ł¹ˇ¾Ðð¸=ýž₣ˇÞ¸=¸=šÐðşÞš²=
×−¼=˚₣š½š=?ðˇ½šŁ˙³šÐ?=ˇ×ş=³šÝ˝Šš²=t^mK

ÔĆ¦ýÐ³ž=ˇ×ş=½−=¾˙ðšÝ−=ÌÐ=Ùğ½−ł¹ˇ¾˝š²=Í−¼
?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ý˝³šÐ²=Ì¦şÞž²?=→=?ÙşÞ½−?
NK „×ÐÝ˚þ½š=?ÌÐ=Ùğ½−ł¹K=Í−¼?K

OK „×ÐÝ˚þ½š=½ž=¾ğ½−ł¹ˇ¾˝ˇ=×−¼=š×Ð¦¼ýš˝½šK

PK Íš½˙=½žÞ=šý¾˙ÞÐ³ž=½ž²=¾ğ½−ł¹ˇ¾˝ˇ²=×Ð˚³½š= K

Òžýš˝ğ³ž
≥ Ì¹Ð³ý˚Þš²=¾ğ½−ł¹ˇ¾˝š²=ŠšÞ=ý×−¹−ĆÞ=Þˇ=₣¹ž³Ðý−×−Ðž¦−ĆÞI=

šþˇÐ½˝ˇ²=½−¼=½Ć×−¼=½−¼²=ðˇÐ=½−¼=½Ć×−¼=ŠšŠ−ý˚ÞğÞ=½−¼²K
≥ „˙Þ=ž=¾ğ½−ł¹ˇ¾˝ˇ=ˇ×ş=½−=ýšÞ−Ć=?ÌÐ=Ùğ½−ł¹K=Í−¼?=˚₣šÐ=¸Šž=
−¹Ð³½š˝I=šý¾ˇÞ˝Žš½ˇÐ=³½−=Ł¸ýˇ=NK=ÓÐ˚³½š=xflÝÝˇł¸z=ðˇÐ=
š×ÐÝ˚þ½š=½žÞ=š×Ð¦¼ýž½¸=¾ğ½−ł¹ˇ¾˝ˇK

=Ej=NOJOF

=Ej=NOJOJNF



VU Ô¼¦ý˝³šÐ²

·¹ˇ¾Ðð˙=Ò¼³½¸ýˇ½−²
Ú−=½žÝ˚¾ğÞ−=ý×−¹š˝=Þˇ=šý¾ˇÞ˝ŽšÐ=¾ğ½−ł¹ˇ¾˝š²=ðˇ½˙=½žÞ=
šÞš¹ł−×−˝ž³žLˇ×šÞš¹ł−×−˝ž³¸=½−¼I=ş½ˇÞ=Š˚₣š³½š=ý˝ˇ=
šÐ³š¹₣şýšÞž=ðÝ¸³ž=¸=ş½ˇÞ=šÞš¹ł−×−Ðš˝½ˇÐ=½−=þ¼×Þž½¸¹ÐK
Í×−¹−ĆÞ=Þˇ=₣¹ž³Ðý−×−Ðž¦−ĆÞ=ðˇÐ=¾ğ½−ł¹ˇ¾˝š²=×−¼=˚₣š½š=
Łł˙ÝšÐ=ýš=½žÞ=Ğž¾Ðˇð¸=¾ğ½−ł¹ˇ¾Ðð¸=ýž₣ˇÞ¸=¸=šÐðşÞš²=×−¼=
˚₣š½š=?ðˇ½šŁ˙³šÐ?=ˇ×ş=³šÝ˝Šš²=t^mK

·Ðˇ=½ž=₣¹¸³ž=½ž²=¹Ć¦ýÐ³ž²=Ó¹−ðˇ¦K=^åáã~íáçåLÒ₣˚ŠÐ−
?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ý˝³šÐ²=Ì¦şÞž²?=→=?·¹ˇ¾Ðð˙=
Ò¼³½¸ýˇ½−²?
NK „×ÐÝ˚þ½š=½žÞ=š×Ð¦¼ýž½¸=³ðžÞ¸=łÐˇ=Þˇ=½−×−¦š½¸³š½š=½ž=

¾ğ½−ł¹ˇ¾˝ˇK

OK „×ÐÝ˚þ½š=?Ó¹−ðˇ¦K=^åáã~íáçå?=š˙Þ=š×ÐÝ˚þš½š=
?„Þš¹ł−×−˝ž³ž?=¸=?fl×šÞš¹ł−×−˝ž³ž?=³½−=Ł¸ýˇ=NK
„×ÐÝ˚þ½š=?Ò₣˚ŠÐ−=N?I=?Ò₣˚ŠÐ−=O?=¸=?Ò₣˚ŠÐ−=P?=š˙Þ=š×ÐÝ˚þš½š=
?„Ð³š¹₣şýšÞž?=¸=?Ï¼×Þž½¸¹Ð?=³½−=Ł¸ýˇ=NK

ÔĆ¦ýÐ³ž=ˇ×ş=½−=¾˙ðšÝ−=ÌÐ=Ùğ½−ł¹ˇ¾˝š²=Í−¼
?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ý˝³šÐ²=Ì¦şÞž²?=→=?·¹ˇ¾Ðð˙=
Ò¼³½¸ýˇ½−²?
NK „×ÐÝ˚þ½š=½žÞ=š×Ð¦¼ýž½¸=³ðžÞ¸=łÐˇ=Þˇ=½−×−¦š½¸³š½š=½ž=

¾ğ½−ł¹ˇ¾˝ˇK
OK „×ÐÝ˚þ½š=?ÌÐ=Ùğ½−ł¹K=Í−¼?K
PK „×ÐÝ˚þ½š=½ž=¾ğ½−ł¹ˇ¾˝ˇ=×−¼=š×Ð¦¼ýš˝½šK
QK Íš½˙=½žÞ=šý¾˙ÞÐ³ž=½ž²=¾ğ½−ł¹ˇ¾˝ˇ²=×Ð˚³½š= K
RK Ëˇ¦−¹˝³½š=½žÞ=×š¹Ð−₣¸=×−¼=¦˚Ýš½š=Þˇ=šý¾ˇÞ˝Žš½ˇÐ=

₣¹ž³Ðý−×−ÐćÞ½ˇ²=½ˇ=×Ý¸ð½¹ˇ=×Ý−¸łž³ž²K

Òžýš˝ğ³ž
≥ Ì¹Ð³ý˚Þš²=¾ğ½−ł¹ˇ¾˝š²=ŠšÞ=ý×−¹−ĆÞ=Þˇ=₣¹ž³Ðý−×−Ðž¦−ĆÞI=

šþˇÐ½˝ˇ²=½−¼=½Ć×−¼=½−¼²=ðˇÐ=½−¼=½Ć×−¼=ŠšŠ−ý˚ÞğÞ=½−¼²K
≥ „˙Þ=ž=¾ğ½−ł¹ˇ¾˝ˇ=ˇ×ş=½−=ýšÞ−Ć=?ÌÐ=Ùğ½−ł¹K=Í−¼?=˚₣šÐ=¸Šž=
−¹Ð³½š˝I=šý¾ˇÞ˝Žš½ˇÐ=³½−=Ł¸ýˇ=OK=ÓÐ˚³½š=xflÝÝˇł¸z=ðˇÐ=
š×ÐÝ˚þ½š=½žÞ=š×Ð¦¼ýž½¸=¾ğ½−ł¹ˇ¾˝ˇK

ÔĆ¦ýÐ³ž=Ó˙₣−¼²=·¹ˇýýˇ½−³šÐ¹˙²
?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ý˝³šÐ²=Ì¦şÞž²?=→=?Ô¼¦ý˝³K=·¹ˇýýˇ½−³K?
NK „×ÐÝ˚þ½š=?Èš×½ş?I=?ËˇÞ−ÞÐðş?I=?÷Þ½−Þ−?=¸=?ÓÐ−=˚Þ½−Þ−?K

Â=šÐðşÞˇ=×¹−š×Ð³ðş×ž³ž²=šý¾ˇÞ˝Žš½ˇÐ=³½−=š×ÐÝšłý˚Þ−=
×˙₣−²K

Ëˇ¦−¹Ð³ýş²=½−¼=ÍžÞĆýˇ½−²=ıˇÐ¹š½Ð³ý−Ć
Í×−¹š˝½š=Þˇ=−¹˝³š½š=̊ Þˇ=ý¸Þ¼ýˇ=½−=−×−˝−=¦ˇ=šý¾ˇÞ˝Žš½ˇÐ=³½žÞ=
−¦şÞž=ş½ˇÞ=šÞš¹ł−×−Ðš˝½š=½−=½žÝ˚¾ğÞ−K
?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ý˝³šÐ²=Ì¦şÞž²?=→=?Í¸Þ¼ýK=ıˇÐ¹š½Ð³ý−Ć?=
→=?„Þš¹łKLfl×šÞš¹łK?
NK „×ÐÝ˚þ½š=?„Þš¹łş?=¸=?Íž=šÞš¹łş?K
OK „×ÐÝ˚þ½š=?„×šþK=ÍžÞĆýˇ½−²?=ðˇÐ=šÐ³˙łš½š=½−=ý¸Þ¼ýˇ=E˚ğ²=

ðˇÐ=NM=₣ˇ¹ˇð½¸¹š²FK

=Ej=NOJOJOF

=Ej=NOJOJPF

=Ej=NOJOJQF



Ô¼¦ý˝³šÐ² VV

Ùğ½Ð³ýş²
Ì=¾ğ½Ð³ýş²=ˇ×šÞš¹ł−×−Ðš˝½ˇÐ=š˙Þ=ŠšÞ=×Ð˚³š½š=½−=
×Ýžð½¹−ÝşłÐ−=łÐˇ=ð˙×−Ð−=³¼łðšð¹Ðý˚Þ−=₣¹−ÞÐðş=ŠÐ˙³½žýˇK=
Í×−¹š˝½š=Þˇ=−¹˝³š½š=˚Þˇ=³¼łðšð¹Ðý˚Þ−=₣¹−ÞÐðş=ŠÐ˙³½žýˇ=×−¼=
¦ˇ=×š¹˙³šÐ=×¹ÐÞ=ˇ×šÞš¹ł−×−Ðž¦š˝=−=¾ğ½Ð³ýş²I=ć³½š=Þˇ=
ýšÐć³š½š=½žÞ=ðˇ½ˇÞ˙Ýğ³ž=½ž²=ý×ˇ½ˇ¹˝ˇ²K

Ò¼ýŁ−¼Ý¸
≥ Ò½−=½žÝ˚¾ğÞ−=ˇ¼½şI=−=Ùğ½Ð³ýş²=˚₣šÐ=¹¼¦ýÐ³½š˝=ˇ×ş=½−=

š¹ł−³½˙³Ð−=Þˇ=ˇ×šÞš¹ł−×−Ðš˝½ˇÐ=ýš½˙=ˇ×ş=NR=Šš¼½š¹şÝš×½ˇK

„×ÐÝ−ł¸=‚Ð˙¹ðšÐˇ²=½−¼=Ùğ½Ð³ý−Ć
?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ý˝³šÐ²=Ì¦şÞž²?=→=?Ùğ½Ð³ýş²?=
→=?È¸þž=ı¹şÞ−¼?
NK „×ÐÝ˚þ½š=½žÞ=ć¹ˇ=×−¼=š×Ð¦¼ýš˝½šK

„×ÐÝ˚þ½š=?Íž=šÞš¹łş?=łÐˇ=Þˇ=½−=ˇ×šÞš¹ł−×−Ð¸³š½šK

ÔĆ¦ýÐ³ž=½ž²=÷Þ½ˇ³ž²=½−¼=Ùğ½Ð³ý−Ć
?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ý˝³šÐ²=Ì¦şÞž²?=→=?Ùğ½Ð³ýş²?=→=
?Ùğ½šÐÞş½ž½ˇ?
NK ÓÐ˚³½š=a=ðˇÐ=b=łÐˇ=šÞˇÝÝˇł¸=ýš½ˇþĆ=Q=š×Ð×˚ŠğÞ=

ðˇ¦ˇ¹ş½ž½ˇ²K
OK ÓÐ˚³½š= K

ÔĆ¦ýÐ³ž=½ž²=Ó¹−³½ˇ³˝ˇ²=Ì¦şÞž²
Â=−¦şÞž=ˇ¼½−Ć=½−¼=½žÝš¾ćÞ−¼=ˇ×šÞš¹ł−×−Ðš˝½ˇÐ=ˇ¼½şýˇ½ˇ=
ýš½˙=ˇ×ş=˚Þˇ=³¼łðšð¹Ðý˚Þ−=₣¹−ÞÐðş=ŠÐ˙³½žýˇK=Í×−¹š˝½š=Þˇ=
ˇÝÝ˙þš½š=½−=₣¹şÞ−=ýš½˙=½−Þ=−×−˝−=¦ˇ=šÞš¹ł−×−Ðš˝½ˇÐ=ž=
Ó¹−³½ˇ³˝ˇ=Ì¦şÞž²I=×¹˙łýˇ=×−¼=³¼ýŁ˙ÝÝšÐ=³½ž=ŠÐˇ½¸¹ž³ž=½ž²=
ŠÐ˙¹ðšÐˇ²=Žğ¸²=½ž²=ý×ˇ½ˇ¹˝ˇ²K

?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ý˝³šÐ²=Ì¦şÞž²?=→=?Ó¹−³½ˇ³˝ˇ=Ì¦şÞž²?
NK „×ÐÝ˚þ½š=½žÞ=ć¹ˇ=×−¼=š×Ð¦¼ýš˝½šK

Ò½−=½žÝ˚¾ğÞ−=ˇ¼½şI=ž=Ó¹−³½ˇ³˝ˇ=Ì¦şÞž²=˚₣šÐ=¹¼¦ýÐ³½š˝=
ˇ×ş=½−=š¹ł−³½˙³Ð−=Þˇ=šÞš¹ł−×−Ðš˝½ˇÐ=ýš½˙=ˇ×ş=O=Ýš×½˙K

Òžýš˝ğ³ž
≥ Â=Ó¹−³½ˇ³˝ˇ=Ì¦şÞž²=ŠšÞ=ÝšÐ½−¼¹łš˝=ş½ˇÞ=×¹ˇłýˇ½−×−Ðš˝½š=

ðÝ¸³šÐ²I=₣¹ž³Ðý−×−Ðš˝½š=½−=t^m=¸=šð½šÝš˝½š=ý˝ˇ=š¾ˇ¹ý−ł¸K
≥ flðĆ¹ğ³ž=½ž²=ÈšÐ½−¼¹ł˝ˇ²=Ó¹−³½ˇ³˝ˇ²=Ì¦şÞž²W=Â=×¹−³½ˇ³˝ˇ=
−¦şÞž²=×ˇ¹ˇý˚ÞšÐ=šÞš¹ł¸=ý˚₣¹Ð=Þˇ=×Ð˚³š½š=ð˙×−Ð−=×Ý¸ð½¹−=
¸=ý˚₣¹Ð=Þˇ=Šš₣¦š˝½š=ý˝ˇ=šÐ³š¹₣şýšÞž=šÐŠ−×−˝ž³žK=ÓÐ˚Ž−Þ½ˇ²=
˚Þˇ=×Ý¸ð½¹−=łÐˇ=×¹ć½ž=¾−¹˙I=ˇ×Ýć²=ˇð¼¹ćÞš½š=ˇ¼½¸=½ž=
ÝšÐ½−¼¹ł˝ˇK=Êˇ=×¹˚×šÐ=Þˇ=×Ð˚³š½š=þˇÞ˙=ð˙×−Ð−=×Ý¸ð½¹−=š˙Þ=
¦˚Ýš½š=Þˇ=šÐ³˙łš½š=˚Þˇ=ˇ¹Ð¦ýž½Ððş=Ğž¾˝−=¸=˚Þˇ=₣ˇ¹ˇð½¸¹ˇK

ÔĆ¦ýÐ³ž=šþşŠ−¼=½−¼=îáÇÉç
Íš=½−=×¹−ˇÐ¹š½Ððş=ðˇÝćŠÐ−=ý×−¹š˝½š=Þˇ=³¼ÞŠ˚³š½š=½−=
½žÝ˚¾ğÞş=³ˇ²=³š=ý˝ˇ=˙ÝÝž=³¼³ðš¼¸=ş×ğ²=×K₣K=³š=½žÝšş¹ˇ³ž=¸=
îáÇÉç=³¼ÞŠšŠšý˚Þˇ=³½žÞ=˚þ−Š−I=ðˇÐ=Þˇ=×¹−Ł˙ÝÝš½š=
¾ğ½−ł¹ˇ¾˝š²=¸=îáÇÉç=Åäáéë=×−¼=˚₣−¼Þ=ˇ×−¦žðš¼½š˝=³½−=
½žÝ˚¾ğÞş=³ˇ²K=flðşýˇI=š˝ÞˇÐ=Š¼Þˇ½¸=ž=˚þ−Š−²=ðˇÐ=ž=×¹−Ł−Ý¸=
ŠšŠ−ý˚ÞğÞ=×−¼=š˝ÞˇÐ=ˇ×−¦žðš¼ý˚Þˇ=³½žÞ=ð˙¹½ˇ=ýÞ¸ýž²K

„Þš¹ł−×−˝ž³ž=ÝšÐ½−¼¹ł˝ˇ²=šþşŠ−¼
Êˇ=₣¹šÐˇ³½š˝=Þˇ=³¼ÞŠ˚³š½š=×¹−žł−¼ý˚Þğ²=½−=½žÝ˚¾ğÞş=³ˇ²=
³½žÞ=˙ÝÝž=³¼³ðš¼¸=ýš=½−=×¹−ˇÐ¹š½Ððş=ðˇÝćŠÐ−K

?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ý˝³šÐ²=Ì¦şÞž²?=→=?÷þ−Š−²=sáÇÉç?=→=
?„Þš¹łKLfl×šÞš¹łK?
NK „×ÐÝ˚þ½š=?„Þš¹łş?K

„×ÐÝ˚þ½š=?Íž=šÞš¹łş?=³½žÞ=−¦şÞž=šþşŠ−¼=ş½ˇÞ=
−Ý−ðÝž¹ć³š½š=½ž=ŠÐˇŠÐðˇ³˝ˇK

Òžýš˝ğ³ž
≥ „˙Þ=ðÝš˝³š½š=½−=½žÝ˚¾ğÞş=³ˇ²=ŠšÞ=¦ˇ=ý×−¹š˝½š=Þˇ=

ýš½ˇ¾˚¹š½š=½ˇ=ŠšŠ−ý˚Þˇ=³½ž=³¼ÞŠšŠšý˚Þž=³¼³ðš¼¸K
≥ ‚šÞ=š˝ÞˇÐ=Š¼Þˇ½¸=ž=˚þ−Š−²=−¹Ð³ý˚ÞğÞ=¾ğ½−ł¹ˇ¾ÐćÞ=¸=îáÇÉç=

ÅäáéëK

=Ej=NOJOJRF

=Ej=NOJOJSF

=Ej=NOJOJTF



NMM Ô¼¦ý˝³šÐ²

„×ÐÝ−ł¸=ýšł˚¦−¼²=−¦şÞž²
Í×−¹š˝½š=Þˇ=×¹−Ł˙ÝÝš½š=šÐðşÞš²=³š=ýšł˙Ý−=ý˚łš¦−²K
?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ý˝³šÐ²=Ì¦şÞž²?=→=?÷þ−Š−²=sáÇÉç?=→=
?Í˚łš¦−²=Ì¦şÞž²?
NK „×ÐÝ˚þ½š=?Íšł˚¦¼Þ³ž?K

·Ðˇ=Þˇ=×¹−Ł˙ÝÝš½š=½−=ˇ¹₣Ððş=ý˚łš¦−²I=š×ÐÝ˚þ½š=?fl¹₣Ððş=
Í˚łš¦−²?K

Óš¹Ð³½¹−¾¸=šÐðşÞˇ²
?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ý˝³šÐ²=Ì¦şÞž²?=→=?÷þ−Š−²=sáÇÉç?=→=
?ÔĆ¦ýÐ³ž=×š¹Ð³½¹−¾¸²?
NK „×ÐÝ˚þ½š=½−=³½−Ð₣š˝−=×−¼=š×Ð¦¼ýš˝½šK

Â=šÐðşÞˇ=×−¼=×¹−Ł˙ÝÝš½ˇÐ=³½ž=³¼³ðš¼¸=¦ˇ=×š¹Ð³½¹ˇ¾š˝=
ý˚₣¹Ð=½ž=łğÞ˝ˇ=×−¼=˚₣š½š=−¹˝³šÐK

„×ÐÝ−ł¸=³¼³½¸ýˇ½−²=qs
Êˇ=₣¹šÐˇ³½š˝=Þˇ=š×ÐÝ˚þš½š=½−=ðˇ½˙ÝÝžÝ−=³Ć³½žýˇ=qsK=
flÞˇ½¹˚þ½š=³½−=šł₣šÐ¹˝ŠÐ−=−ŠžłÐćÞ=½ž²=³¼ÞŠšý˚Þž²=³¼³ðš¼¸²=
łÐˇ=Þˇ=š×ÐŁšŁˇÐć³š½š=½−=³Ć³½žýˇ=qsK

?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ý˝³šÐ²=Ì¦şÞž²?=→=?÷þ−Š−²=sáÇÉç?=→=
?ÒĆ³½žýˇ=qs?
NK „×ÐÝ˚þ½š=½−=³½−Ð₣š˝−=×−¼=š×Ð¦¼ýš˝½šK

Ô¼¦ý˝³šÐ²=◊₣−¼
Í×−¹š˝½š=Þˇ=₣¹ž³Ðý−×−Ð¸³š½š=̌ ¼½ş=½−=ýšÞ−Ć=łÐˇ=Þˇ=šÝ˚łþš½š=̧ =
Þˇ=š×šþš¹łˇ³½š˝½š=½Ð²=½¹˚₣−¼³š²=¹¼¦ý˝³šÐ²=½−¼=×¹−¾˝Ý=Ešð½ş²=
ˇ×ş=½žÞ=š×ÐÝ−ł¸=?fl×˙Þ½K=ð˙¦š=ÓÝ¸ð½K?FK

ÔĆ¦ýÐ³ž=½−¼=Óš¹ÐŁ˙ÝÝğÞ=◊₣−¼
?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ý˝³šÐ²=◊₣−¼?=→=?pìêêçìåÇ?
NK „×ÐÝ˚þ½š=?„Þš¹łş?I=?Ò¼ÞŠšŠK=ýš=◊₣−?=¸=?Íž=šÞš¹łş?K

Âýš¹−ýžÞ˝ˇ=C=›¹ˇ
·Ðˇ=Þˇ=šþˇ³¾ˇÝÐ³½š˝=ž=³ğ³½¸=ÝšÐ½−¼¹ł˝ˇ=½ğÞ=ŠÐ˙¾−¹ğÞ=
ÝšÐ½−¼¹łÐćÞ=½−¼=½žÝš¾ćÞ−¼=³ˇ²=×−¼=Łˇ³˝Ž−Þ½ˇÐ=³½žÞ=ć¹ˇI=¦ˇ=
₣¹šÐˇ³½š˝=Þˇ=¹¼¦ý˝³š½š=½ž=³ğ³½¸=ć¹ˇ=ðˇÐ=žýš¹−ýžÞ˝ˇK

?Ô¼¦ý˝³šÐ²?=→=?ÂýLÞÐˇ=C=›¹ˇ?=→=?ÔĆ¦ýKÂýš¹−ýKL›¹ˇ²?
NK „Ð³˙łš½š=½žÞ=žý˚¹ˇI=½−=ý¸Þˇ=ðˇÐ=½−=₣¹şÞ−=₣¹ž³Ðý−×−ÐćÞ½ˇ²=

½ˇ=ˇ¹Ð¦ýž½Ðð˙=×Ý¸ð½¹ˇK

OK „Ð³˙łš½š=½žÞ=ć¹ˇ=₣¹ž³Ðý−×−ÐćÞ½ˇ²=½ˇ=ˇ¹Ð¦ýž½Ðð˙=×Ý¸ð½¹ˇK

Ò¼ýŁ−¼Ý¸
≥ ⁄½ˇÞ=šÐ³˙łš½š=½žÞ=ć¹ˇ=³š=NOJğ¹ž=ý−¹¾¸=×Ð˚³½š=a=¸=b=łÐˇ=

šÞˇÝÝˇł¸=ýš½ˇþĆ=×ý=ðˇÐ=ýýK=Â=³šÐ¹˙=ýš=½žÞ=−×−˝ˇ=
šý¾ˇÞ˝Ž−Þ½ˇÐ=ž=žýš¹−ýžÞ˝ˇ=ðˇÐ=ž=ć¹ˇ=šþˇ¹½˙½ˇÐ=ˇ×ş=½ž=
¹Ć¦ýÐ³ž=½ž²=ý−¹¾¸²=½−¼²K

ÔĆ¦ýÐ³ž=Êš¹ÐÞ¸²=›¹ˇ²
?Ô¼¦ý˝³šÐ²?=→=?ÂýLÞÐˇ=C=›¹ˇ?=→=?Êš¹ÐÞ¸=›¹ˇ?
NK „×ÐÝ˚þ½š=?„Þš¹łş?=¸=?Íž=šÞš¹łş?K

ÔĆ¦ýÐ³ž=½ž²=‰ćÞž²=›¹ˇ²
?Ô¼¦ý˝³šÐ²?=→=?ÂýLÞÐˇ=C=›¹ˇ?=→=?ÔĆ¦ýK=‰ćÞž²=›¹ˇ²?
NK ÓÐ˚³½š=c=¸=d=łÐˇ=Þˇ=š×ÐÝ˚þš½š=½žÞ=×şÝž=×−¼=¦˚Ýš½š=Þˇ=

¹¼¦ý˝³š½šK

OK ÓÐ˚³½š= K=Ej=NOJPF

=Ej=NOJQF

=Ej=NOJQJOF

=Ej=NOJQJPF



Ô¼¦ý˝³šÐ² NMN

Ó¹−³ˇ¹ý−ł¸=½ž²=‰ćÞž²=›¹ˇ²
?Ô¼¦ý˝³šÐ²?=→=?ÂýLÞÐˇ=C=›¹ˇ?=→=?ÔĆ¦ýK=‰ćÞž²=›¹ˇ²?=→=
x„×ÐÝKz=→=?Ô¼¦ýK=‰ćÞž²?
NK „Ð³˙łš½š=½−=şÞ−ýˇ=½ž²=×şÝž²K

OK „Ð³˙łš½š=½ž=ŠÐˇ¾−¹˙=ŽğÞćÞ=ć¹ˇ²=₣¹ž³Ðý−×−ÐćÞ½ˇ²=½ˇ=
ˇ¹Ð¦ýž½Ðð˙=×Ý¸ð½¹ˇK
ÓÐ˚³½š=a=¸=b=łÐˇ=šÞˇÝÝˇł¸=ýš½ˇþĆ=−=ðˇÐ=+K

PK ÓÐ˚³½š= K

Ó¹−Ł−Ý¸=Âýš¹−ýžÞ˝ˇ²=C=›¹ˇ²
Í×−¹š˝½š=Þˇ=šý¾ˇÞ˝³š½š=½−=žýš¹−ÝşłÐ−=¸=½žÞ=½¹˚₣−¼³ˇ=
žýš¹−ýžÞ˝ˇ=¸LðˇÐ=½žÞ=ć¹ˇ=³½žÞ=ðˇ½˙³½ˇ³ž=ˇÞˇý−Þ¸²K

ÔĆ¦ýÐ³ž=½ž²=„ý¾˙ÞÐ³ž²=½−¼=Ô−Ý−łÐ−Ć
?Ô¼¦ý˝³šÐ²?=→=?ÂýLÞÐˇ=C=›¹ˇ?=→=?„ý¾˙ÞÐ³ž=žýš¹−ýK=C=ć¹ˇ²?=
→=?„ý¾˙ÞÐ³ž=Ô−Ý−łÐ−Ć?
NK „×ÐÝ˚þ½š=½−Þ=½Ć×−=¹−Ý−łÐ−Ć=×−¼=š×Ð¦¼ýš˝½š=¸=?Íž=šÞš¹łş?=

łÐˇ=Þˇ=ˇ×šÞš¹ł−×−Ð¸³š½š=½žÞ=−¦şÞž=½−¼=¹−Ý−łÐ−ĆK

ÔĆ¦ýÐ³ž=½ž²=„ý¾˙ÞÐ³ž²=½−¼=Âýš¹−Ý−ł˝−¼
?Ô¼¦ý˝³šÐ²?=→=?ÂýLÞÐˇ=C=›¹ˇ?=→=?„ý¾˙ÞÐ³ž=žýš¹−ýK=C=ć¹ˇ²?=
→=?„ý¾˙ÞÐ³ž=žýš¹−Ý−ł˝−¼?
NK „×ÐÝ˚þ½š=½−Þ=½Ć×−=žýš¹−Ý−ł˝−¼=×−¼=š×Ð¦¼ýš˝½š=¸=?Íž=

šÞš¹łş?=łÐˇ=Þˇ=ˇ×šÞš¹ł−×−Ð¸³š½š=½žÞ=−¦şÞž=½−¼=
žýš¹−Ý−ł˝−¼K

Óˇłðş³ýÐ−=Ô−ÝşÐ
·Ðˇ=Ýš×½−ý˚¹šÐš²I=Šš˝½š=?Óˇłðş³ýÐˇ=›¹ˇ?=³½ž=³šÝ˝Šˇ VMK

„×ÐÝ−ł¸=½ž²=Í−¹¾¸²=›¹ˇ²
?Ô¼¦ý˝³šÐ²?=→=?ÂýLÞÐˇ=C=›¹ˇ?=→=?Í−¹¾¸=›¹ˇ²?
NK „×ÐÝ˚þ½š=?OQ=ć¹š²?=¸=?NO=ć¹š²?K

„×ÐÝ−ł¸=½ž²=Í−¹¾¸²=Âýš¹−ýžÞ˝ˇ²
?Ô¼¦ý˝³šÐ²?=→=?ÂýLÞÐˇ=C=›¹ˇ?=→=?Í−¹¾¸=Âýš¹−ýžÞ˝ˇ²?
NK „×ÐÝ˚þ½š=?ÂKjK„?I=?ÍJÂJ„?=¸=?„LÍLÂ?K

ÔĆ¦ýÐ³ž=Í−¹¾¸²=Âýš¹−Ý−ł˝−¼
?Ô¼¦ý˝³šÐ²?=→=?ÂýLÞÐˇ=C=›¹ˇ?=→=?Í−¹¾¸=Âýš¹−Ý−ł˝−¼?
NK „×ÐÝ˚þ½š=?Ë¼¹Ðˇð¸JÒ˙ŁŁˇ½−?=¸=?‚š¼½˚¹ˇJË¼¹Ðˇð¸?K

ÔĆ¦ýÐ³ž=·Ýć³³ˇ²
Í×−¹š˝½š=Þˇ=ˇÝÝ˙þš½š=½ž=łÝć³³ˇ=×−¼=šý¾ˇÞ˝Žš½ˇÐ=³½−=
½žÝ˚¾ğÞ−K

?Ô¼¦ý˝³šÐ²?=→=?·Ýć³³ˇ?
NK „×ÐÝ˚þ½š=½ž=łÝć³³ˇ=×−¼=š×Ð¦¼ýš˝½šK

Òžýš˝ğ³ž
≥ „˙Þ=š×ÐÝ˚þš½š=?fl¼½şýˇ½−?=³½−=Ł¸ýˇ=NI=š×ÐÝ˚łš½ˇÐ=ž=

×¹−¹¹¼¦ýÐ³ý˚Þž=łÝć³³ˇ=½ž²=ð˙¹½ˇ²=pfjLrpfjK
≥ „˙Þ=ŠšÞ=¼×−³½ž¹˝Žš½ˇÐ=ž=×¹−¹¹¼¦ýÐ³ý˚Þž=łÝć³³ˇ=½ž²=

ð˙¹½ˇ²=pfjLrpfjI=½ş½š=š×ÐÝ˚łš½ˇÐ=ž=×¹−š×ÐÝšłý˚Þž=łÝć³³ˇ=
½−¼=½žÝš¾ćÞ−¼K

Ò¼ýŁ−¼Ý¸
≥ Í×−¹š˝½š=š×˝³ž²=Þˇ=ˇÝÝ˙þš½š=½ž=łÝć³³ˇ=šÐ³ˇłğł¸²=³½žÞ=
−¦şÞž=šÐ³ˇłğł¸²=ðšÐý˚Þ−¼=E³šÝK PMFK

=Ej=NOJQJQF

=Ej=NOJQJRF

=Ej=NOJQJSF

=Ej=NOJQJTF

=Ej=NOJQJUF

=Ej=NOJRF



NMO Ô¼¦ý˝³šÐ²

Ô¼¦ý˝³šÐ²=ËÝ¸³šğÞ
ÚžÝš¾ğÞž½¸²=C=„ð½¹−×˚²
fl¼½¸=ž=¼×ž¹š³˝ˇ=ý×−¹š˝=Þˇ=₣¹ž³Ðý−×−Ðž¦š˝=łÐˇ=½žÞ=šð½¹−×¸=
½ğÞ=ðÝ¸³šğÞI=½Ð²=−×−˝š²=ŠšÞ=ý×−¹š˝½š=Þˇ=ˇ×ˇÞ½¸³š½šK=ÌÐ=
ðÝ¸³šÐ²=ý×−¹−ĆÞ=Þˇ=šð½¹ˇ×−ĆÞ=³š=˚Þˇ=˙ÝÝ−=½žÝš¾ğÞÐðş=
ˇ¹Ð¦ýş=¸=³½−=³Ć³½žýˇ=½−¼=½žÝš¾ğÞž½¸=³ˇ²K

Òžýš˝ğ³ž
≥ fl¼½¸=ž=¼×ž¹š³˝ˇ=šÞŠ˚₣š½ˇÐ=Þˇ=ýžÞ=š˝ÞˇÐ=ŠÐˇ¦˚³Ðýž=³š=şÝˇ=½ˇ=

Š˝ð½¼ˇ=ðÐÞž½¸²=½žÝš¾ğÞ˝ˇ²K=·Ðˇ=×š¹Ð³³ş½š¹š²=×Ýž¹−¾−¹˝š²I=
š×Ðð−ÐÞğÞ¸³½š=ýš=½−Þ=×ˇ¹−₣˚ˇ=¼×ž¹š³ÐćÞK

ÔĆ¦ýÐ³ž=fl¹Ð¦ýćÞ=ÚžÝš¾ğÞž½¸
Í×−¹š˝½š=Þˇ=šð½¹˚×š½š=½Ð²=ðÝ¸³šÐ²=³½−=ð˚Þ½¹−=¼×ž¹š³˝ˇ²=
½žÝš¾ğÞž½¸=½−¼=ŠÐð½Ć−¼K=flÞ˙Ý−łˇ=ýš=½−=š˙Þ=Ł¹˝³ðš³½š=šÞ½ş²=
¸=šð½ş²=šýŁ˚ÝšÐˇ²=ŠÐð½Ć−¼I=ý×−¹š˝½š=Þˇ=−¹˝³š½š=ŠĆ−=ˇ¹Ð¦ý−Ć²=
½žÝš¾ğÞž½¸I=˚ÞˇÞ=ˇ¹Ð¦ýş=łÐˇ=½−=−Ððš˝−=Š˝ð½¼−=ðˇÐ=˚ÞˇÞ=ˇ¹Ð¦ýş=
łÐˇ=ý˝ˇ=×š¹Ð−₣¸=×š¹Ðˇłğł¸²K

Òžýš˝ğ³ž
≥ fl¼½¸=ž=¼×ž¹š³˝ˇ=šþˇ¹½˙½ˇÐ=ˇ×ş=½žÞ=ð˙¹½ˇ=pfjK=

„×Ðð−ÐÞğÞ¸³½š=ýš=½−Þ=×¹−ýž¦š¼½¸=½ž²=ð˙¹½ˇ²=pfj=łÐˇ=
×š¹Ð³³ş½š¹š²=×Ýž¹−¾−¹˝š²K=

?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ýK=ËÝ¸³šğÞ?=→=?ÚžÝš¾ğÞž½¸²=C=
„ð½¹−×˚²?=→=?ÚžÝš¾ğÞž½¸²?=→=?Ô¼¦ý˝³šÐ²?=→=
?fl¹Ð¦ý−˝=flLÚ?
NK „×ÐÝ˚þ½š=?ËšÞ½¹K=Ê¼¹˝Šˇ?=¸=?Óš¹ÐˇłK=Ê¼¹˝Šˇ²?K

OK „Ð³˙łš½š=½−Þ=ˇ¹Ð¦ýş=½žÝš¾ćÞ−¼=×−¼=š×Ð¦¼ýš˝½šK

Ó¹ş³Łˇ³ž=³½−=Ë˚Þ½¹−=ÚžÝš¾ğÞž½¸K
NK ÓÐ˚³½š=ðˇÐ=ð¹ˇ½¸³½š=½−=G=³½žÞ=ðˇ½˙³½ˇ³ž=ˇÞˇý−Þ¸²K

„Þš¹ł−×−˝ž³ž=Û×ž¹š³˝ˇ²=ÚžÝš¾ğÞž½¸
?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ýK=ËÝ¸³šğÞ?=→=?ÚžÝš¾ğÞž½¸²=C=
„ð½¹−×˚²?=→=?ÚžÝš¾ğÞž½¸²?=→=?„Þš¹ł−×−˝ž³ž?
NK „×ÐÝ˚þ½š=ý˝ˇ=ˇ×ş=½Ð²=×ˇ¹ˇð˙½ğ=š×ÐÝ−ł˚²W

?Ó˙Þ½ˇ?W „ð½¹˚×šÐ=şÝš²=½Ð²=ðÝ¸³šÐ²=₣ğ¹˝²=
ð−¼Š−ĆÞÐ³ýˇK

?⁄½ˇÞ=š˝ÞˇÐ=ðˇ½K?W „ð½¹˚×šÐ=½Ð²=šÐ³š¹₣şýšÞš²=ðÝ¸³šÐ²=šÞć=
ýÐÝ˙½š=³½−=½žÝ˚¾ğÞ−K

?‚šÞ=fl×ˇÞ½˙?W „ð½¹˚×šÐ=½Ð²=šÐ³š¹₣şýšÞš²=ðÝ¸³šÐ²=š˙Þ=
ŠšÞ=ˇ×ˇÞ½¸³š½š=šÞ½ş²=šÞş²=
³¼łðšð¹Ðý˚Þ−¼=₣¹−ÞÐð−Ć=ŠÐˇ³½¸ýˇ½−²K

?„ð½ş²=‚Ðð½Ć−¼?W „ð½¹˚×šÐ=½Ð²=šÐ³š¹₣şýšÞš²=ðÝ¸³šÐ²=
ş½ˇÞ=½−=½žÝ˚¾ğÞş=³ˇ²=Ł¹˝³ðš½ˇÐ=šð½ş²=
½ž²=×š¹Ð−₣¸²=ð˙Ý¼Ğž²=½−¼=ŠÐð½Ć−¼=¸=
ş½ˇÞ=š˝ÞˇÐ=ˇ×šÞš¹ł−×−Ðžý˚Þ−K

„˙Þ=š×ÐÝ˚þš½š=?‚šÞ=fl×ˇÞ½˙?I=š×ÐÝ˚þ½š=½ž=₣¹−ÞÐð¸=×š¹˝−Š−=
ýš½ˇþĆ=S=š×Ð×˚ŠğÞ=EMR=˚ğ²=PM=Šš¼½š¹şÝš×½ˇFK

OK ÓÐ˚³½š= K

=Ej=NOJSF
=Ej=NOJSJNF



Ô¼¦ý˝³šÐ² NMP

„Þš¹ł−×−˝ž³ž=Û×ž¹š³˝ˇ²=„ð½¹−×ćÞ
„×ÐÝ˚þ½š=½žÞ=ðˇ½˙ÝÝžÝž=š×ÐÝ−ł¸K
?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ýK=ËÝ¸³šğÞ?=→=?ÚžÝš¾ğÞž½¸²=C=
„ð½¹−×˚²?=→=?„ð½¹−×˚²?
NK „×ÐÝ˚þ½š=?„Þš¹ł−×−˝ž³ž?=¸=?flÞ˙=Û×ž¹š³˝ˇ?K

„˙Þ=š×ÐÝ˚þš½š=?flÞ˙=Û×ž¹š³˝ˇ?I=ý×−¹š˝½š=Þˇ=š×ÐÝ˚þš½š=
×¹ş³¦š½š²=Š¼Þˇ½ş½ž½š²=šð½¹−×¸²K

OK „×ÐÝ˚þ½š=?Ó˙Þ½ˇ?I=?⁄½ˇÞ=š˝ÞˇÐ=ðˇ½K?I=?‚šÞ=fl×ˇÞ½˙?=¸=?„ð½ş²=
‚Ðð½Ć−¼?K
„˙Þ=š×ÐÝ˚þš½š=?‚šÞ=fl×ˇÞ½˙?I=š×ÐÝ˚þ½š=½ž=₣¹−ÞÐð¸=×š¹˝−Š−=
ýš½ˇþĆ=S=š×Ð×˚ŠğÞ=EMR=˚ğ²=PM=Šš¼½š¹şÝš×½ˇFK

PK „Ð³˙łš½š=̊ ÞˇÞ=̌ ¹Ð¦ýş=½žÝš¾ćÞ−¼=×¹−²=½−Þ=−×−˝−=¦˚Ýš½š=Þˇ=
šð½¹˚×−Þ½ˇÐ=−Ð=ðÝ¸³šÐ²=¸=ˇÞˇŽž½¸³½š=½−Þ=³½ž=È˝³½ˇ=
„×ˇ¾ćÞ=E³šÝK PRFK

QK ÓÐ˚³½š= K

Òžýš˝ğ³ž
≥ ⁄½ˇÞ=−Ð=šð½¹−×˚²=łÐˇ=½Ð²=?ÙğÞž½K=ËÝ¸³šÐ²?=̊ ₣−¼Þ=−¹Ð³½š˝=³½−=

?Ó˙Þ½ˇ?I=½−=? ?šý¾ˇÞ˝Žš½ˇÐ=³½žÞ=ðˇ½˙³½ˇ³ž=ˇÞˇý−Þ¸²K

÷Ýšł₣−²=½ž²=Ëˇ½˙³½ˇ³ž²=„ð½¹−×ćÞ
?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ýK=ËÝ¸³šğÞ?=→=?ÚžÝš¾ğÞž½¸²=C=
„ð½¹−×˚²?=→==?Ëˇ½˙³½ˇ³ž?
NK „×ÐÝ˚þ½š=½žÞ=š×ÐÝ−ł¸=šð½¹−×ćÞ=×−¼=¦˚Ýš½š=Þˇ=šÝ˚łþš½šK

fl×šÞš¹ł−×−˝ž³ž=„ð½¹−×ćÞLÛ×ž¹š³˝ˇ²=ÚžÝš¾ğÞž½¸
?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ýK=ËÝ¸³šğÞ?=→=?ÚžÝš¾ğÞž½¸²=C=
„ð½¹−×˚²?=→=?fl×šÞš¹ł−×−˝ž³ž?
NK „×ÐÝ˚þ½š=½ž=¹Ć¦ýÐ³ž=×−¼=š×Ð¦¼ýš˝½šK

flðĆ¹ğ³ž=„ð½¹−×ćÞ=ðˇÐ=Û×ž¹š³˝ˇ²=ÚžÝš¾ğÞž½¸
⁄½ˇÞ=ˇÝÝ˙þš½š=½Ð²=¹¼¦ý˝³šÐ²=šð½¹−×¸²I=ý×−¹š˝½š=ýD=ˇ¼½¸=½žÞ=
¼×ž¹š³˝ˇ=Þˇ=½Ð²=ˇð¼¹ć³š½šK
?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ýK=ËÝ¸³šğÞ?=→=?ÚžÝš¾ğÞž½¸²=C=
„ð½¹−×˚²?=→=?flðĆ¹ğ³ž=⁄ÝğÞ?

flÞˇý−Þ¸=ËÝ¸³ž²

Òžýš˝ğ³ž
≥ fl¼½¸=ž=¼×ž¹š³˝ˇ=šÞŠ˚₣š½ˇÐ=Þˇ=ýžÞ=š˝ÞˇÐ=ŠÐˇ¦˚³Ðýž=³š=şÝˇ=½ˇ=

Š˝ð½¼ˇ=ðÐÞž½¸²=½žÝš¾ğÞ˝ˇ²K=·Ðˇ=×š¹Ð³³ş½š¹š²=×Ýž¹−¾−¹˝š²I=
š×Ðð−ÐÞğÞ¸³½š=ýš=½−Þ=×ˇ¹−₣˚ˇ=¼×ž¹š³ÐćÞK

„˙Þ=¦˚Ýš½š=Þˇ=Š˚₣š³½š=ý˝ˇ=ŠšĆ½š¹ž=šÐ³š¹₣şýšÞž=ðÝ¸³ž=šÞć=
˚₣š½š=¸Šž=³š=šþ˚ÝÐþž=ý˝ˇ=˙ÝÝž=ðÝ¸³žI=¦ˇ=×¹˚×šÐ=Þˇ=
šÞš¹ł−×−Ð¸³š½š=½žÞ=¼×ž¹š³˝ˇ=flÞˇý−Þ¸²=ËÝ¸³ž²K
?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ýK=ËÝ¸³šğÞ?=→=?flÞˇý−Þ¸=ËÝ¸³K?
NK „×ÐÝ˚þ½š=?„Þš¹łş?I=?Íž=šÞš¹łş?=¸=?Ëˇ½˙³½ˇ³ž?K

„ý¾˙ÞÐ³ž=½−¼=fl¹Ð¦ý−Ć=ÚžÝš¾ćÞ−¼=Òˇ²
fl¼½¸=ž=ÝšÐ½−¼¹ł˝ˇ=³˙²=š×Ð½¹˚×šÐ=Þˇ=šý¾ˇÞ˝Žš½š=¸=ş₣Ð=½−Þ=
ˇ¹Ð¦ýş=½žÝš¾ćÞ−¼=³ˇ²=ş½ˇÞ=ðˇÝš˝½š=˙ÝÝˇ=˙½−ýˇK

?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ýK=ËÝ¸³šğÞ?=→=?„ý¾K=fl¹Ð¦ý−Ć=³ˇ²?
NK „×ÐÝ˚þ½š=?„Þš¹łş?I=?Íž=šÞš¹łş?=¸=?Ëˇ½˙³½ˇ³ž?K

Òžýš˝ğ³ž
≥ Ì¹Ð³ý˚Þˇ=Š˝ð½¼ˇ=ŠšÞ=¼×−³½ž¹˝Ž−¼Þ=ˇ¼½¸=½žÞ=¼×ž¹š³˝ˇK=

Óˇ¹ˇðˇÝ−ĆýšI=š×Ðð−ÐÞğÞ¸³½š=ýš=½−Þ=×ˇ¹−₣˚ˇ=¼×ž¹š³ÐćÞ=
³ˇ²=łÐˇ=Þˇ=šÝ˚łþš½š=š˙Þ=š˝ÞˇÐ=ŠÐˇ¦˚³Ðýž=ž=¼×ž¹š³˝ˇK

=Ej=NOJSJOF

=Ej=NOJSJPF



NMQ Ô¼¦ý˝³šÐ²

Óš¹Ð−¹Ð³ýş²=ËÝ¸³šğÞ
fl¼½¸=ž=ÝšÐ½−¼¹ł˝ˇ=³˙²=š×Ð½¹˚×šÐ=Þˇ=−¹˝³š½š=×š¹Ð−¹Ð³ý−Ć²=łÐˇ=
½Ð²=šÐ³š¹₣şýšÞš²=ðˇÐ=šþš¹₣şýšÞš²=ðÝ¸³šÐ²K=·Ðˇ=Þˇ=
šÞš¹ł−×−Ð¸³š½š=ˇ¼½¸=½ž=ÝšÐ½−¼¹ł˝ˇ=¦ˇ=₣¹šÐˇ³½š˝½š=½−Þ=
ˇÞ½˝³½−Ð₣−=ðğŠÐðşI=½−Þ=−×−˝−=³ˇ²=Š˝ÞšÐ=−=×ˇ¹−₣˚ˇ²=¼×ž¹š³ÐćÞK
?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ýK=ËÝ¸³šğÞ?=→=?Óš¹Ð−¹Ð³ýş²=ËÝ¸³K?
NK „×ÐÝ˚þ½š=?„þš¹₣şýK=ËÝ¸³šÐ²?=¸=?„Ð³š¹₣şýšÞž?K

?„þš¹₣şýK=ËÝ¸³šÐ²?W fl×ˇł−¹šĆšÐ=½Ð²=šþš¹₣şýšÞš²=
ðÝ¸³šÐ²K

?„Ð³š¹₣şýšÞž?W fl×ˇł−¹šĆšÐ=½Ð²=šÐ³š¹₣şýšÞš²=
ðÝ¸³šÐ²K

OK „×ÐÝ˚þ½š=ý˝ˇ=ˇ×ş=½Ð²=×ˇ¹ˇð˙½ğ=š×ÐÝ−ł˚²W
E·Ðˇ=?„þš¹₣şýK=ËÝ¸³šÐ²?F

?Ù¹ˇł¸=⁄ÝğÞ=„þš¹₣K?W fl×ˇł−¹šĆšÐ=şÝš²=½Ð²=šþš¹₣şýšÞš²=
ðÝ¸³šÐ²=šð½ş²=ˇ×ş=½Ð²=ðÝ¸³šÐ²=
˚ð½ˇð½ž²=ˇÞ˙łðž²K

?Ù¹ˇł¸=‚Ðš¦ÞK=ËÝ¸³K?W Óš¹Ð−¹˝ŽšÐ=şÝš²=½Ð²=šþš¹₣şýšÞš²=
ŠÐš¦Þš˝²=ðÝ¸³šÐ²K

?ÍşÞ−=Ú−×Ðð˙=C=Ò×˝½Ð?W fl×ˇł−¹šĆšÐ=şÝš²=½Ð²=šþš¹₣şýšÞš²=
ŠÐš¦Þš˝²=ðÝ¸³šÐ²=šð½ş²=̌ ¼½˚²=×¹−²=
½ž=₣ć¹ˇ=³ˇ²K

EÒ½ž=?„Ð³š¹₣şýšÞž?F

?Ù¹ˇł¸=⁄ÝğÞ=„Ð³š¹₣K?W fl×ˇł−¹šĆšÐ=şÝš²=½Ð²=šÐ³š¹₣şýšÞš²=
ðÝ¸³šÐ²K

?Ù¹ˇł¸=š˙Þ=³½−=„þğ½K?W=Óš¹Ð−¹˝ŽšÐ=şÝš²=½Ð²=šÐ³š¹₣şýšÞš²=
ðÝ¸³šÐ²=ş½ˇÞ=Ł¹˝³ðš³½š=˚þğ=ˇ×ş=
½žÞ=×š¹Ð−₣¸=ð˙Ý¼Ğž²=½−¼=
ðˇ½ˇ₣ğ¹žý˚Þ−¼=×ˇ¹−₣˚ˇ=
¼×ž¹š³˝ˇ²K

PK „×ÐÝ˚þ½š=ý˝ˇ=ˇ×ş=½Ð²=×ˇ¹ˇð˙½ğ=š×ÐÝ−ł˚²W
?⁄Ýš²=−Ð=Û×ž¹K?W= fl×ˇł−¹šĆšÐ=şÝš²=½Ð²=¼×ž¹š³˝š²K
?ÙğÞž½K=ËÝ¸³šÐ²?W= fl×ˇł−¹šĆšÐ=şÝš²=½Ð²=¾ğÞž½Ðð˚²=

ðÝ¸³šÐ²K
?ËÝ¸³šÐ²=sáÇÉç?W fl×ˇł−¹šĆšÐ=şÝš²=½Ð²=ðÝ¸³šÐ²=îáÇÉçK
?c~ñ?W= fl×ˇł−¹šĆšÐ=şÝš²=½Ð²=ðÝ¸³šÐ²=Ñ~ñK
?ÍžÞĆýˇ½ˇ?W= fl×ˇł−¹šĆšÐ=şÝˇ=½ˇ=ýžÞĆýˇ½ˇK

QK „×ÐÝ˚þ½š=?„Þš¹łş?I=?Íž=šÞš¹łş?=¸=?Ëˇ½˙³½ˇ³ž?K

RK „Ð³˙łš½š=½−Þ=ðğŠÐðş=ŠÐð½Ć−¼K

flðĆ¹ğ³ž=Ô¼¦ý˝³šğÞ
?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ýK=ËÝ¸³šğÞ?=→=?Óš¹Ð−¹Ð³ýş²=ËÝ¸³K?
NK „×ÐÝ˚þ½š=?„þš¹₣şýK=ËÝ¸³šÐ²?=¸=?„Ð³š¹₣şýšÞž?K

OK „×ÐÝ˚þ½š=?flðĆ¹ğ³ž=⁄ÝğÞ?K

PK „Ð³˙łš½š=½−Þ=ðğŠÐðş=ŠÐð½Ć−¼K

fl×ş¹¹ÐĞž=„Ð³š¹₣şýšÞž²=ËÝ¸³ž²
Í×−¹š˝½š=Þˇ=ðˇ½ˇ₣ğ¹¸³š½š=ˇ¹Ð¦ý−Ć²=½žÝš¾ćÞ−¼I=³½−¼²=
−×−˝−¼²=Šš=¦˚Ýš½š=Þˇ=ˇ×ˇÞ½˙½šK

fl×ş¹¹ÐĞž=½−¼=Ëˇ½ˇ₣ğ¹žý˚Þ−¼=fl¹Ð¦ý−Ć
?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ýK=ËÝ¸³šğÞ?=→=?Óš¹Ð−¹Ð³ýş²=ËÝ¸³K?=→=
?fl×−¹¹Ð¾¦K=fl¹Ð¦ý−˝?=→=?„Þ˚¹łKLfl×šÞš¹łK?
NK „×ÐÝ˚þ½š=?„Þš¹łş?=¸=?Íž=šÞš¹łş?K

Ëˇ½ˇ₣ć¹ž³ž=fl×−¹¹Ð¾¦˚Þ½−²=fl¹Ð¦ý−Ć
?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ýK=ËÝ¸³šğÞ?=→=?Óš¹Ð−¹Ð³ýş²=ËÝ¸³K?=→=
?fl×−¹¹Ð¾¦K=fl¹Ð¦ý−˝?=→=?ÔĆ¦ýK=fl×ş¹¹K=fl¹Ð¦ýK?
NK „×ÐÝ˚þ½š=˚Þˇ=ðšÞş=×šŠ˝−K

OK „Ð³˙łš½š=½−Þ=ˇ¹Ð¦ýş=×−¼=š×Ð¦¼ýš˝½šK

=Ej=NOJSJQF



Ô¼¦ý˝³šÐ² NMR

Óš¹Ð−¹Ð³ý˚Þž=ËÝ¸³ž
„˙Þ=˚₣šÐ=¹¼¦ýÐ³½š˝=½−=?Óš¹Ð−¹Ð³ý˚Þž=ËÝ¸³ž?I=šÐ³š¹₣şýšÞš²=
ðÝ¸³šÐ²=₣ğ¹˝²=½−=`if=E`~ääáåÖ=iáåÉ=fÇÉåíáÑáÅ~íáçåJflÞˇłÞć¹Ð³ž=
ËˇÝ−Ć³ˇ²=·¹ˇýý¸²F=ˇ×−¹¹˝×½−Þ½ˇÐK
?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ýK=ËÝ¸³šğÞ?=→=?Óš¹Ð−¹Ð³ýş²=ËÝ¸³K?=→=
?Óš¹Ð−¹Ð³ý˚Þž=ËÝ¸³ž?
NK „×ÐÝ˚þ½š=?„Þš¹łş?=¸=?Íž=šÞš¹łş?K

flÝÝˇł¸=½−¼=ËğŠÐð−Ć=Ó¹ş³Łˇ³ž²=³½−=‚˝ð½¼−
?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ýK=ËÝ¸³šğÞ?=→=?Óš¹Ð−¹Ð³ýş²=ËÝ¸³K?=→=
?flÝÝˇł¸=ËğŠK=‚Ðð½Ć−¼?
NK „Ð³˙łš½š=½−Þ=×ˇÝÐş=ðğŠÐðş=ŠÐð½Ć−¼K

OK „Ð³˙łš½š=˚Þˇ=Þ˚−=ðğŠÐðş=ŠÐð½Ć−¼K

PK „Ð³˙łš½š=×˙ÝÐ=½−=Þ˚−=ðğŠÐðş=ŠÐð½Ć−¼K
„˙Þ=šÐ³˙łš½š=˚Þˇ=ÝˇÞ¦ˇ³ý˚Þ−=ðğŠÐðş=¦ˇ=³ˇ²=Žž½ž¦š˝=Þˇ=
šÐ³˙łš½š=×˙ÝÐ=½−Þ=ðğŠÐðş=×¹ş³Łˇ³ž²K

QK ÓÐ˚³½š= K

fl¹Ð¦ýş²=Ò½ˇ¦š¹¸²=ËÝ¸³ž²
⁄½ˇÞ=šÞš¹ł−×−Ðž¦š˝=ž=ÝšÐ½−¼¹ł˝ˇ=fl¹Ð¦ýş²=Ò½ˇ¦š¹¸²=ËÝ¸³ž²I=
ý×−¹š˝½š=Þˇ=ðˇÝš˝½š=ýşÞ−Þ=×¹−ðˇ½ˇ₣ğ¹žý˚Þ−¼²=ˇ¹Ð¦ý−Ć²K

„Þš¹ł−×−˝ž³ž=½−¼=fl¹Ð¦ý−Ć=Ò½ˇ¦š¹¸²=ËÝ¸³ž²
?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ýK=ËÝ¸³šğÞ?=→=?Óš¹Ð−¹Ð³ýş²=ËÝ¸³K?=→=
?fl¹Ð¦ýK=Ò½ˇ¦K=ËÝK?=→=?„Þ˚¹łKLfl×šÞš¹łK?
NK „×ÐÝ˚þ½š=?„Þš¹łş?=łÐˇ=Þˇ=šÞš¹ł−×−Ð¸³š½š=ˇ¼½¸=½ž=

ÝšÐ½−¼¹ł˝ˇK

Ó¹−³¦¸ðž=Î˚−¼=ÌÞşýˇ½−²
?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ýK=ËÝ¸³šğÞ?=→=?Óš¹Ð−¹Ð³ýş²=ËÝ¸³K?=→=
?fl¹Ð¦ýK=Ò½ˇ¦K=ËÝK?=→=?„×šþK=È˝³½K=ËÝ¸³šğÞ?
NK Íˇ¹ð˙¹š½š=½žÞ=ðšÞ¸=ðˇ½ˇ₣ć¹ž³žI=×Ð˚³½š=x„×ÐÝKzK=ðˇÐ=

š×ÐÝ˚þ½š=?Ó¹−³¦K=Î˚ˇ²=ËÝK?K

OK „Ð³˙łš½š=½−Þ=ðğŠÐðş=mfkOK

PK Ó¹−³¦˚³½š=˚Þˇ=şÞ−ýˇ=ðˇÐ=˚ÞˇÞ=ˇ¹Ð¦ýş=½žÝš¾ćÞ−¼K
·Ðˇ=Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½žÞ=×¹−³¦¸ðž=−Þşýˇ½−²=ðˇÐ=
ˇ¹Ð¦ý−Ć=½žÝš¾ćÞ−¼I=Šš˝½š=?Ó¹−³¦¸ðž=Î˚ˇ²=„×ˇ¾¸²?=³½ž=
³šÝ˝Šˇ PRK

QK ÓÐ˚³½š=xfl×−¦¸ðKzK

Û×šÞ¦ĆýÐ³ž=Èš×½ćÞ
Â=ÝšÐ½−¼¹ł˝ˇ=Û×šÞ¦ĆýÐ³ž²=Èš×½ćÞ=³˙²=šÞžýš¹ćÞšÐ=łÐˇ=½−=
₣¹şÞ−=³¼Þ−ýÐÝ˝ˇ²=ýš=˚ÞˇÞ=¸₣−=ð˙¦š=Ýš×½şK
?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ýK=ËÝ¸³šğÞ?=→=?Û×šÞ¦K=Èš×½ćÞ?
NK „×ÐÝ˚þ½š=?„Þš¹łş?=¸=?Íž=šÞš¹łş?K

„ý¾˙ÞÐ³ž=Íš½¹ž½¸=ËÝ¸³ž²
?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ýK=ËÝ¸³šğÞ?=→=?„ý¾˙ÞK=Íš½¹K=ËÝ¸³K?
NK „×ÐÝ˚þ½š=?„Þš¹łş?=¸=?Íž=šÞš¹łş?K

„ý¾˙ÞÐ³ž=Ëş³½−¼²=ËÝ¸³šğÞ
?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ýK=ËÝ¸³šğÞ?=→=?Ó¹−Ł−Ý¸=ðş³½−¼²=
ðÝ¸³ž²?
NK „×ÐÝ˚þ½š=?„Þš¹łş?=¸=?Íž=šÞš¹łş?K

=Ej=NOJSJRF

=Ej=NOJSJSF

=Ej=NOJSJTF



NMS Ô¼¦ý˝³šÐ²

fl¼½şýˇ½ž=„×ˇÞ˙ðÝž³ž
?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ýK=ËÝ¸³šğÞ?=→=?fl¼½K=„×ˇÞ˙ðÝK?
NK „×ÐÝ˚þ½š=?„Þš¹łş?=¸=?Íž=šÞš¹łş?K

Ô¼¦ý˝³šÐ²=ËÝ¸³šğÞ=sáÇÉç
Ô¼¦ý˝ŽšÐ=½−¼²=ŠÐ˙¾−¹−¼²=½Ć×−¼²=ÝšÐ½−¼¹łÐćÞ=ðˇÐ=¼×ž¹š³ÐćÞ=
łÐˇ=½Ð²=ðÝ¸³šÐ²=îáÇÉçK

„×ÐÝ−ł¸=½ž²=Ùğ½−ł¹ˇ¾˝ˇ²=ˇ×ş=½ž=Ùğ½−ł¹ˇ¾Ðð¸=Íž₣ˇÞ¸=

Í×−¹š˝½š=Þˇ=š×ÐÝ˚þš½š=½žÞ=šÐðşÞˇ=×−¼=šý¾ˇÞ˝Žš½ˇÐ=³½−Þ=
ðˇÝ−ĆÞ½ˇ=ýš½ˇþĆ=½ž²=šÐðşÞˇ²=½ž²=Ł−ž¦ž½Ðð¸²=¾ğ½−ł¹ˇ¾Ðð¸²=
ýž₣ˇÞ¸²=ðˇÐ=ýÐˇ²=šÞˇÝÝˇð½Ðð¸²=šÐðşÞˇ²K

?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ýK=ËÝ¸³ž²=sáÇÉç?=→=?Ùğ½−K=ˇ×ş=Ùğ½−K=
jž₣K?
NK „×ÐÝ˚þ½š=?Ó¹−š×ÐÝšłýK=„ÐðşÞˇ?K

OK „×ÐÝ˚þ½š=?„³ğ½K=Ùğ½K=Íž₣?=¸=?„ÞˇÝÝˇð½Ðð¸=„ÐðşÞˇ?K

„×ÐÝ−ł¸=½ž²=Ùğ½−ł¹ˇ¾˝ˇ²=łÐˇ=½žÞ=„ÞˇÝÝˇð½Ðð¸=„ÐðşÞˇ
fl¼½¸=ž=ÝšÐ½−¼¹ł˝ˇ=š˝ÞˇÐ=ŠÐˇ¦˚³Ðýž=ýşÞ−=ş½ˇÞ=˚₣šÐ=š×ÐÝšłš˝=ž=
?„ÞˇÝÝˇð½Ðð¸=„ÐðşÞˇ?=³½ž=?Ó¹−š×ÐÝšłýK=„ÐðşÞˇ?K

?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ýK=ËÝ¸³ž²=sáÇÉç?=→=?Ùğ½−K=ˇ×ş=Ùğ½−K=
jž₣K?
NK „×ÐÝ˚þ½š=?„ÞˇÝÝˇð½Ðð¸=„ÐðşÞˇ?K

OK „×ÐÝ˚þ½š=?Ó¹−¹¼¦K=Ùğ½−ł¹K?=¸=?ÌÐ=Ùğ½−ł¹K=Í−¼?K

PK „×ÐÝ˚þ½š=½ž=¾ğ½−ł¹ˇ¾˝ˇ=×−¼=š×Ð¦¼ýš˝½šK

„Þš¹ł−×−˝ž³ž=¸=ˇ×šÞš¹ł−×−˝ž³ž=½ğÞ=ž₣š˝ğÞ
?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ýK=ËÝ¸³ž²=sáÇÉç?=→=?Íšł˙¾ğÞ−?

NK „×ÐÝ˚þ½š=?„Þš¹łş?=łÐˇ=Þˇ=šÞš¹ł−×−Ð¸³š½š=½ˇ=ýšł˙¾ğÞˇ=³½Ð²=
×Ýš¼¹˚²=½−¼=½žÝš¾ćÞ−¼=³ˇ²I=̧ =š×ÐÝ˚þ½š=?Íž=šÞš¹łş?=łÐˇ=Þˇ=
½ˇ=ˇ×šÞš¹ł−×−Ð¸³š½šK

„×ÐÝ−ł¸=½ž²=Ó−Ðş½ž½ˇ²=Ùğ½−ł¹ˇ¾˝ˇ²
„×ÐÝ˚þ½š=½−=¾−¹ý˙=šÐ³š¹₣−ý˚ÞğÞ=ŠšŠ−ý˚ÞğÞ=×−¼=š×Ð¦¼ýš˝½š=
łÐˇ=½−=×š¹ÐŁ˙ÝÝ−Þ=³ˇ²K

?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ýK=ËÝ¸³ž²=sáÇÉç?=→=?Ó−Ðş½ž½ˇ=šÐ³š¹₣K=
¾ğ½−ł¹K?
?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ýK=ËÝ¸³ž²=sáÇÉç?=→=?Ó−Ðş½ž½ˇ=šþš¹₣K=
¾ğ½−ł¹K?
NK „×ÐÝ˚þ½š=ˇ×ş=?ËˇÞ−ÞÐð¸?I=?Ó−Ðş½ž½ˇ=„ÐðşÞK?=¸=?·¹¸ł−¹ˇ=

Ëˇ¹˚?K
„×ÐÝ˚þ½š=?·¹¸ł−¹ˇ=Ëˇ¹˚?=łÐˇ=Þˇ=šþˇ³¾ˇÝ˝³š½š=½ˇ₣Ć½š¹ž=
š×Ðð−ÐÞğÞ˝ˇK

Ùğ½Ð³ýş²
⁄½ˇÞ=ˇ¼½¸=ž=ÝšÐ½−¼¹ł˝ˇ=š˝ÞˇÐ=¹¼¦ýÐ³ý˚Þž=³š=?„Þš¹łş?I=−=
¾ğ½Ð³ýş²=½−¼=½žÝš¾ćÞ−¼=šÞš¹ł−×−Ðš˝½ˇÐ=ş½ˇÞ=
×¹ˇłýˇ½−×−Ðš˝½š=ý˝ˇ=ðÝ¸³ž=îáÇÉçK

?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ýK=ËÝ¸³ž²=sáÇÉç?=→=?Ùğ½Ð³ýş²?
NK „×ÐÝ˚þ½š=ˇ×ş=?Ó˙Þ½ˇ=ˇÞ−Ðð½ş²?I=?Ó˙Þ½ˇ=ðÝšÐ³½ş²?=¸=?˜²=

ËˇÞ−ÞK=ÔĆ¦ýK?K
Â=š×ÐÝ−ł¸=?˜²=ËˇÞ−ÞK=ÔĆ¦ýK?=šþˇ¹½˙½ˇÐ=̌ ×ş=½ž=¹Ć¦ýÐ³ž=½−¼=
¾ğ½Ð³ý−Ć=½ž²=ðĆ¹Ðˇ²=−¦şÞž²=E³šÝK VVFK

Ò˝łˇ³ž
Í×−¹š˝½š=Þˇ=ˇ×šÞš¹ł−×−Ð¸³š½š=½−=ýÐð¹ş¾ğÞ−=ðˇ½˙=½ž=
ŠÐ˙¹ðšÐˇ=ý˝ˇ²=ðÝ¸³ž²=îáÇÉçK

?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ýK=ËÝ¸³ž²=sáÇÉç?=→=?ÍÐð¹ş¾K=ËÝšÐ³½ş?
NK „×ÐÝ˚þ½š=?„Þš¹łş?=¸=?Íž=šÞš¹łş?K

=Ej=NOJSJUF

=Ej=NOJTF

Ej=NOJTJNF

=Ej=NOJTJOF

=Ej=NOJTJPF=Ej=NOJTJQF

=Ej=NOJTJRF

=Ej=NOJTJSF



Ô¼¦ý˝³šÐ² NMT

flÞ½Ð³½−˝₣ž³ž=Ùğ½−ł¹ˇ¾˝ˇ²=Ëˇ¦−Š¸łž³ž²=flÞˇý−Þ¸²=

Í×−¹š˝½š=Þˇ=×¹−Ł˙Ýš½š=³½žÞ=ðĆ¹Ðˇ=−¦şÞž=³ˇ²=ýÐˇ=šÐðşÞˇ=×−¼=
Ł¹˝³ðš½ˇÐ=ˇ×−¦žðš¼ý˚Þž=³½−=½žÝ˚¾ğÞş=³ˇ²I=Ł˙Ž−Þ½ˇ²=ýÐˇ=
ðÝ¸³ž=³š=ˇÞˇý−Þ¸K
?Ô¼¦ý˝³šÐ²?=→=?Ô¼¦ýK=ËÝ¸³ž²=sáÇÉç?=→=?Ùğ½−ł¹K=flÞˇý−Þ¸²?
NK „×ÐÝ˚þ½š=?Ó¹−¹¼¦ýK=Ùğ½−ł¹K?=¸=?ÌÐ=Ùğ½−ł¹K=Í−¼?K

OK „×ÐÝ˚þ½š=½ž=¾ğ½−ł¹ˇ¾˝ˇ=×−¼=š×Ð¦¼ýš˝½šK

fl³¾˙ÝšÐˇ
„Þš¹ł−×−˝ž³žLfl×šÞš¹ł−×−˝ž³ž=½−¼=ËğŠÐð−Ć=mfk
„˙Þ=˚₣š½š=šÞš¹ł−×−Ð¸³šÐ=½−Þ=ðğŠÐðş=ÔÁÎI=½−=½žÝ˚¾ğÞ−=³ˇ²=
Žž½˙=Þˇ=½−Þ=šÐ³˙łš½š=ð˙¦š=¾−¹˙=×−¼=½−=¦˚½š½š=³š=ÝšÐ½−¼¹ł˝ˇK=
Ì=ðğŠÐðş²=mfk=š˝ÞˇÐ=ðˇ½ˇ₣ğ¹žý˚Þ−²=³½žÞ=ð˙¹½ˇ=pfjLrpfj=ðˇÐ=
½−Þ=ýˇ¦ˇ˝Þš½š=ðˇ½˙=½žÞ=ˇ×şð½ž³ž=½ž²=ð˙¹½ˇ²=³ˇ²=pfjLrpfjK=
„×Ðð−ÐÞğÞ¸³½š=ýš=½−=¾−¹˚ˇ=¼×ž¹š³ÐćÞ=³ˇ²=łÐˇ=×š¹Ð³³ş½š¹š²=
×Ýž¹−¾−¹˝š²K

?Ô¼¦ý˝³šÐ²?=→=?fl³¾˙ÝšÐˇ?=→=?„Ð³ˇłğł¸=mfk?=→=?„Þš¹łKL
fl×šÞš¹łK?
NK „×ÐÝ˚þ½š=?„Þš¹łş?=łÐˇ=Þˇ=šÞš¹ł−×−Ð¸³š½š=½−Þ=ðğŠÐðş=mfk=¸=

?Íž=šÞš¹łş?=łÐˇ=Þˇ=½−Þ=ˇ×šÞš¹ł−×−Ð¸³š½šK

OK „Ð³˙łš½š=½−Þ=ðğŠÐðş=ÔÁÎK

Òžýš˝ğ³ž
≥ „˙Þ=×Ýžð½¹−Ý−ł¸³š½š=½¹šÐ²=¾−¹˚²=ÝˇÞ¦ˇ³ý˚Þ−=ðğŠÐðş=ÔÁÎ=

³½−=Ł¸ýˇ=OI=ž=ð˙¹½ˇ=pfjLrpfj=ðÝšÐŠćÞš½ˇÐK=„×Ðð−ÐÞğÞ¸³½š=
ýš=½−Þ=×ˇ¹−₣˚ˇ=¼×ž¹š³ÐćÞL½ž²=ð˙¹½ˇ²=pfjLrpfjI=łÐˇ=Þˇ=
þšðÝšÐŠć³š½š=½žÞ=ð˙¹½ˇK

flÝÝˇł¸=½−¼=ËğŠÐð−Ć=mfk
fl¼½ş=³ˇ²=š×Ð½¹˚×šÐ=Þˇ=ˇÝÝ˙þš½š=½−Þ=ðğŠÐðş=mfk=×−¼=˚₣šÐ=
ðˇ½ˇ₣ğ¹ž¦š˝=³½žÞ=ð˙¹½ˇ=pfjLrpfjK=Ó¹ÐÞ=ˇÝÝ˙þš½š=½−Þ=ðğŠÐðş=
mfkI=š×ÐÝ˚þ½š=?„Þš¹łş?=³½−=Ł¸ýˇ=N=³½−=?„Þš¹ł−×−˝ž³žL
fl×šÞš¹ł−×−˝ž³ž=½−¼=ËğŠÐð−Ć=mfk?K
?Ô¼¦ý˝³šÐ²?=→=?fl³¾˙ÝšÐˇ?=→=?„Ð³ˇłğł¸=mfk?=→=?flÝÝˇł¸=
mfk?
NK „Ð³˙łš½š=½−Þ=ðğŠÐðş=mfkK

OK „Ð³˙łš½š=˚Þˇ=Þ˚−=ðğŠÐðş=ÔÁÎK

PK „Ð³˙łš½š=×˙ÝÐ=½−=Þ˚−=ðğŠÐðş=ÔÁÎK

flÝÝˇł¸=½−¼=ËğŠÐð−Ć=mfkO
Ì=ðğŠÐðş²=mfkO=₣¹ž³Ðý−×−Ðš˝½ˇÐ=łÐˇ=½žÞ=×¹−³½ˇ³˝ˇ=
³¼łðšð¹Ðý˚ÞğÞ=ÝšÐ½−¼¹łÐćÞ=½−¼=½žÝš¾ćÞ−¼=ş×ğ²=×K₣K=š˝ÞˇÐ=−=
fl¹Ð¦ýş²=Ò½ˇ¦š¹¸²=ËÝ¸³ž²=¸=½ˇ=ş¹Ðˇ=ðş³½−¼²=ðÝ¸³šğÞK=
Óˇ¹ˇð˙½ğI=×ˇ¹−¼³Ð˙Žš½ˇÐ=−=½¹ş×−²=̌ ÝÝˇł¸²=½−¼=ðğŠÐð−Ć=mfkOK

?Ô¼¦ý˝³šÐ²?=→=?fl³¾˙ÝšÐˇ?=→=?flÝÝˇł¸=mfkO?
NK „Ð³˙łš½š=½−Þ=ðğŠÐðş=mfkOK

OK „Ð³˙łš½š=˚Þˇ=Þ˚−=ðğŠÐðş=ÔÁÎOK

PK „Ð³˙łš½š=×˙ÝÐ=½−=Þ˚−=ðğŠÐðş=ÔÁÎOK

ËÝš˝Šğýˇ=Ò¼³ðš¼¸²
Ú−=ËÝš˝Šğýˇ=Ò¼³ðš¼¸²=š˝ÞˇÐ=ýÐˇ=×¹ş³¦š½ž=ÝšÐ½−¼¹ł˝ˇ=
ˇ³¾ˇÝš˝ˇ²=×−¼=ˇ×−½¹˚×šÐ=½ž=ýž=šþ−¼³Ð−Š−½žý˚Þž=₣¹¸³ž=½−¼=
½žÝš¾ćÞ−¼=¸=³¼łðšð¹Ðý˚ÞğÞ=ÝšÐ½−¼¹łÐćÞ=½−¼K
?Ô¼¦ý˝³šÐ²?=→=?fl³¾˙ÝšÐˇ?=→=?ËÝš˝Šğýˇ=Ò¼³ðK?
NK „×ÐÝ˚þ½š=?„Þš¹łş?=¸=?Íž=šÞš¹łş?K

OK „Ð³˙łš½š=½−Þ=ðğŠÐðş=³¼³ðš¼¸²K

Ej=NOJTJTF

=Ej=NOJUF
=Ej=NOJUJNF =Ej=NOJUJOF

=Ej=NOJUJPF



NMU Ô¼¦ý˝³šÐ²

ËÝš˝Šğýˇ=ÚžÝš¾ćÞ−¼
„Þš¹ł−×−ÐćÞ½ˇ²=ˇ¼½¸=½ž=¹Ć¦ýÐ³žI=½−=½žÝ˚¾ğÞş=³ˇ²=¦ˇ=
ðÝšÐŠć³šÐ=ˇ¼½şýˇ½ˇ=şÝš²=½Ð²=ÝšÐ½−¼¹ł˝š²=ý˚₣¹Ð=Þˇ=šÐ³˙łš½š=½−=
³ğ³½ş=ðğŠÐðş=³¼³ðš¼¸²K
?Ô¼¦ý˝³šÐ²?=→=?fl³¾˙ÝšÐˇ?=→=?ËÝš˝Šğýˇ=ÚžÝš¾ćÞK?
NK „Ð³˙łš½š=½−Þ=ðğŠÐðş=³¼³ðš¼¸²K

Ì=×¹−š×ÐÝšłý˚Þ−²=ðğŠÐðş²=³¼³ðš¼¸²=š˝ÞˇÐ=?VVVV?K=·Ðˇ=
Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½žÞ=ˇÝÝˇł¸=ðğŠÐð−Ć=³¼³ðš¼¸²I=
Šš˝½š=½−=?flÝÝˇł¸=ËğŠÐð−Ć=Ò¼³ðš¼¸²?K

fl×šÞš¹ł−×−˝ž³ž=ËÝšÐŠćýˇ½−²=ÚžÝš¾ćÞ−¼
Â=ÝšÐ½−¼¹ł˝ˇ=ËÝš˝Šğýˇ=„×ˇ¾ćÞ=ˇ×−½¹˚×šÐ=½ž=ýž=
šþ−¼³Ð−Š−½žý˚Þž=×¹ş³Łˇ³ž=³½ž=È˝³½ˇ=„×ˇ¾ćÞK

ËÝš˝Šğýˇ=„×ˇ¾ćÞ
Â=ÝšÐ½−¼¹ł˝ˇ=ËÝš˝Šğýˇ=„×ˇ¾ćÞ=ˇ×−½¹˚×šÐ=½ž=ýž=
šþ−¼³Ð−Š−½žý˚Þž=×¹ş³Łˇ³ž=³½Ð²=š×ˇ¾˚²=³ˇ²K

?Ô¼¦ý˝³šÐ²?=→=?fl³¾˙ÝšÐˇ?=→=?ËÝš˝Šğýˇ=„×ˇ¾ćÞ?
NK „×ÐÝ˚þ½š=?„Þš¹łş?=łÐˇ=ðÝš˝Šğýˇ=¸=?Íž=šÞš¹łş?=łÐˇ=

þšðÝš˝ŠğýˇK

OK „Ð³˙łš½š=½−Þ=ðğŠÐðş=³¼³ðš¼¸²K

„ý¾˙ÞÐ³ž=fl×−¹¹¸½ğÞ=Ò½−Ð₣š˝ğÞ
„Þš¹ł−×−ÐćÞ½ˇ²=ˇ¼½¸=½žÞ=š×ÐÝ−ł¸I=¦ˇ=šý¾ˇÞ˝Ž−Þ½ˇÐ=½ˇ=
ˇ×ş¹¹ž½ˇ=ŠšŠ−ý˚ÞˇK

?Ô¼¦ý˝³šÐ²?=→=?fl³¾˙ÝšÐˇ?=→=?„ý¾˙ÞK=Í¼³½K=‚šŠ−ýK?
NK „×ÐÝ˚þ½š=?„Þš¹łş?=łÐˇ=šý¾˙ÞÐ³ž=¸=?Íž=šÞš¹łş?=łÐˇ=

ˇ×şð¹¼ĞžK

OK „Ð³˙łš½š=½−Þ=ðğŠÐðş=³¼³ðš¼¸²=š˙Þ=š×ÐÝ˚þš½š=?„Þš¹łş?K

flÝÝˇł¸=ËğŠÐð−Ć=Ò¼³ðš¼¸²
Ì=×¹−š×ÐÝšłý˚Þ−²=ðğŠÐðş²=³¼³ðš¼¸²=š˝ÞˇÐ=?VVVV?K
?Ô¼¦ý˝³šÐ²?=→=?fl³¾˙ÝšÐˇ?=→=?flÝÝK=ËğŠK=Ò¼³ðš¼¸²?
NK „Ð³˙łš½š=½−Þ=×ˇÝÐş=ðğŠÐðş=³¼³ðš¼¸²K

OK „Ð³˙łš½š=˚Þˇ=Þ˚−=ðğŠÐðş=³¼³ðš¼¸²K

PK „Ð³˙łš½š=×˙ÝÐ=˚Þˇ=Þ˚−=ðğŠÐðş=³¼³ðš¼¸²K

„×ˇÞˇ¾−¹˙=Ô¼¦ý˝³šğÞ
„×ˇÞˇ¾−¹˙=Ô¼¦ý˝³šğÞ=ˇ×ş=½−=jN=³½−=jNO
?Ô¼¦ý˝³šÐ²?=→=?„×ˇÞˇ¾K=Ô¼¦ýK?=→=?„×ˇÞˇ¾K=Ô¼¦ý˝³šğÞ?
NK „Ð³˙łš½š=½−Þ=ðğŠÐðş=³¼³ðš¼¸²K

Ì=×¹−š×ÐÝšłý˚Þ−²=ðğŠÐðş²=³¼³ðš¼¸²=š˝ÞˇÐ=?VVVV?K=·Ðˇ=
Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½žÞ=ˇÝÝˇł¸=ðğŠÐð−Ć=³¼³ðš¼¸²I=
Šš˝½š=½−=?flÝÝˇł¸=ËğŠÐð−Ć=Ò¼³ðš¼¸²?K

Òžýš˝ğ³ž
≥ ‚šÞ=˚łÐÞš=š×ˇÞˇ¾−¹˙=şÝğÞ=½ğÞ=¹¼¦ý˝³šğÞK

„×ˇÞˇ¾−¹˙=⁄ÝğÞ=½ğÞ=Ô¼¦ý˝³šğÞ=ˇ×ş=½−=jN=˚ğ²=½−=jNO=ðˇÐ=
⁄ÝğÞ=½ğÞ=‚žýÐ−¼¹łžý˚ÞğÞ=‚šŠ−ý˚ÞğÞ=
?Ô¼¦ý˝³šÐ²?=→=?„×ˇÞˇ¾K=Ô¼¦ýK?=→=?ÍžŠšÞÐ³ýş²=⁄ÝğÞ?
NK „Ð³˙łš½š=½−Þ=ðğŠÐðş=³¼³ðš¼¸²K

·Ðˇ=Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½−Þ=ðğŠÐðş=½ž²=³¼³ðš¼¸²I=
Šš˝½š=?flÝÝˇł¸=ËğŠÐð−Ć=Ò¼³ðš¼¸²?K

=Ej=NOJUJQF

=Ej=NOJUJRF

=Ej=NOJUJSF

=Ej=NOJUJTF

=Ej=NOJVF
=Ej=NOJVJNF

Ej=NOJVJOF



fl¹₣š˝−=ËÝ¸³šğÞ NMV

fl¹₣š˝−=ËÝ¸³šğÞ
Ú−=½žÝ˚¾ğÞ−=ðˇ½ˇł¹˙¾šÐ=½Ð²=½šÝš¼½ˇ˝š²=PM=ˇÞˇ×˙Þ½ž½š²I=
šÐ³š¹₣şýšÞš²=ðˇÐ=šþš¹₣şýšÞš²=ðÝ¸³šÐ²K

Ó¹−Ł−Ý¸=½−¼=fl¹₣š˝−¼=ËÝ¸³šğÞ
?fl¹₣š˝−=ðÝ¸³šğÞ?
NK „×ÐÝ˚þ½š=ˇ×ş=?⁄Ýš²=−Ð=ËÝ¸³šÐ²?I=?ËÝž¦˚Þ½š²=fl¹Ð¦ý−˝?I=

?flÞˇ×˙Þ½K=ËÝ¸³šÐ²?=¸=?„Ð³š¹₣şýšÞš²?K
„ý¾ˇÞ˝Žš½ˇÐ=ž=š×ÐÝšłý˚Þž=Ý˝³½ˇ=½−¼=ˇ¹₣š˝−¼=ðÝ¸³šğÞK
·Ðˇ=šÞˇÝÝˇł¸=ýš½ˇþĆ=½ğÞ=ˇ¹₣š˝ğÞI=×Ð˚³½š=c=¸=dK

OK „×ÐÝ˚þ½š=½−Þ=ˇ¹Ð¦ýş=½žÝš¾ćÞ−¼=×−¼=¦˚Ýš½š=Þˇ=×¹−Ł˙Ýš½šK
„˙Þ=¦˚Ýš½š=Þˇ=ðˇÝ˚³š½š=½−Þ=ˇ¹Ð¦ýşI=×Ð˚³½š= K

Ò¼ýŁ−¼Ý¸
≥ Í×−¹š˝½šI=š×˝³ž²I=Þˇ=š×ÐŁšŁˇÐć³š½š=½ˇ=ˇ¹₣š˝ˇ=ðÝ¸³šğÞ=

×Ð˚Ž−Þ½ˇ²=D=³½žÞ=ðˇ½˙³½ˇ³ž=ˇÞˇý−Þ¸²K

fl×−³½−Ý¸=ÍžÞ¼ý˙½ğÞ
NK Ò½ž=Ý˝³½ˇ=ˇ¹₣š˝−¼=ðÝ¸³šğÞ=ýˇ¹ð˙¹š½š=½−Þ=ˇ¹Ð¦ýş=

½žÝš¾ćÞ−¼=¸=½−=şÞ−ýˇ=³½−=−×−˝−=¦˚Ýš½š=Þˇ=³½š˝Ýš½š=˚Þˇ=
ý¸Þ¼ýˇK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?‚žýK=ÍžÞĆýˇ½−²?K
·Ðˇ=×š¹Ð³³ş½š¹š²=×Ýž¹−¾−¹˝š²=³₣š½Ðð˙=ýš=½ž=ŠžýÐ−¼¹ł˝ˇ=
šÞş²=ýžÞĆýˇ½−²I=Šš˝½š=?‚žýÐ−¼¹ł˝ˇ=Î˚−¼=ÍžÞĆýˇ½−²?=³½ž=
³šÝ˝Šˇ RMK

‚Ðˇł¹ˇ¾¸=fl¹₣š˝−¼=ËÝ¸³šğÞ
NK Ò½ž=Ý˝³½ˇ=ˇ¹₣š˝−¼=ðÝ¸³šğÞ=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=

?‚Ðˇł¹ˇ¾¸?=¸=?‚Ðˇł¹ˇ¾¸=⁄ÝğÞ?K

Íš½¹ž½˚²=ËÝ¸³šğÞ
fl¼½¸=ž=ÝšÐ½−¼¹ł˝ˇ=³ˇ²=š×Ð½¹˚×šÐ=Þˇ=šÝ˚łþš½š=½ž=ŠÐ˙¹ðšÐˇ=½ğÞ=
ðÝ¸³šćÞ=³ˇ²K

÷Ýšł₣−²=½ž²=‚Ð˙¹ðšÐˇ²=½ž²=ÚšÝš¼½ˇ˝ˇ²=ËÝ¸³ž²=ðˇÐ=⁄ÝğÞ=½ğÞ=
ËÝ¸³šğÞ
?fl¹₣š˝−=ðÝ¸³šğÞ?=→=?Íš½¹ž½˚²=ËÝ¸³K?
NK „×ÐÝ˚þ½š=?„Ð³š¹₣şýšÞš²?=¸=?„þš¹₣şýšÞš²?K

ÍžŠšÞÐ³ýş²=Íš½¹ž½ćÞ=ËÝ¸³šğÞ
?fl¹₣š˝−=ðÝ¸³šğÞ?=→=?Íš½¹ž½˚²=ËÝ¸³K?=→=?ÍžŠšÞÐ³ýK=
Íš½¹ž½ćÞ?
NK „Ð³˙łš½š=½−Þ=ðğŠÐðş=³¼³ðš¼¸²K

Ì=×¹−š×ÐÝšłý˚Þ−²=ðğŠÐðş²=³¼³ðš¼¸²=š˝ÞˇÐ=?VVVV?K=·Ðˇ=
Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½žÞ=ˇÝÝˇł¸=½−¼=ðğŠÐð−Ć=
³¼³ðš¼¸²I=Šš˝½š=?flÝÝˇł¸=ËğŠÐð−Ć=Ò¼³ðš¼¸²?=³½ž=
³šÝ˝Šˇ NMUK

Íš½¹ž½¸²=‚šŠ−ý˚ÞğÞ
Í×−¹š˝½š=Þˇ=š×ÐŁšŁˇÐć³š½š=½−Þ=ˇ¹Ð¦ýş=½ğÞ=ÄóíÉë=łÐˇ=½Ð²=
ýš½ˇŠş³šÐ²=Pd=ðˇÐ=dpjK

?fl¹₣š˝−=ðÝ¸³šğÞ?=→=?Íš½¹ž½¸²=‚šŠ−ýK?
NK „×ÐÝ˚þ½š=ˇ×ş=?ÚšÝš¼½K=‚šŠ−ý˚Þˇ?=¸=?⁄Ýˇ=½ˇ=‚šŠ−ýK?K

„×ˇÞˇ¾−¹˙=şÝğÞ=½ğÞ=Íš½¹ž½ćÞ=‚šŠ−ý˚ÞğÞ
?fl¹₣š˝−=ðÝ¸³šğÞ?=→=?Íš½¹ž½¸²=‚šŠ−ýK?=→=?ÍžŠšÞÐ³ýK=
Íš½¹ž½¸?

=Ej=VF =Ej=VJRF

=Ej=VJRJPF

=Ej=VJSF

=Ej=VJSJPF



NNM fl¹₣š˝−=ËÝ¸³šğÞ

Ëş³½−²=ËÝ¸³šğÞ
fl¼½¸=ž=ÝšÐ½−¼¹ł˝ˇ=³˙²=š×Ð½¹˚×šÐ=Þˇ=šÝ˚ł₣š½š=½Ð²=₣¹šć³šÐ²=½ğÞ=
ðÝ¸³šćÞ=³ˇ²K=Â=Û×ž¹š³˝ˇ=ı¹šć³šğÞ=ŠšÞ=¼×−³½ž¹˝Žš½ˇÐ=ˇ×ş=
şÝˇ=½ˇ=Š˝ð½¼ˇK=Óˇ¹ˇðˇÝ−ĆýšI=š×Ðð−ÐÞğÞ¸³½š=ýš=½−Þ=×ˇ¹−₣˚ˇ=
¼×ž¹š³ÐćÞ=³ˇ²=łÐˇ=Þˇ=šÝ˚łþš½š=š˙Þ=š˝ÞˇÐ=ŠÐˇ¦˚³Ðýž=ž=¼×ž¹š³˝ˇK

÷Ýšł₣−²=½−¼=Ëş³½−¼²=½ž²=ÚšÝš¼½ˇ˝ˇ²=ËÝ¸³ž²
?fl¹₣š˝−=ðÝ¸³šğÞ?=→=?Ëş³½−²=ËÝ¸³šğÞ?=→=?ÚšÝš¼½K=ËÝ¸³ž?

÷Ýšł₣−²=½−¼=Ò¼Þ−ÝÐð−Ć=Ëş³½−¼²=½ğÞ=ËÝ¸³šğÞ
?fl¹₣š˝−=ðÝ¸³šğÞ?=→=?Ëş³½−²=ËÝ¸³šğÞ?=→=?⁄Ýš²=−Ð=ËÝ¸³šÐ²?

ÔĆ¦ýÐ³ž=½ž²=ı¹˚ğ³ž²
Ô¼¦ý˝³½š=½ž=₣¹˚ğ³ž=łÐˇ=Þˇ=¼×−Ý−ł˝³š½š=½−=ðş³½−²=ðÝ¸³ž²=ðˇÐ=
−¹˝³½š=½−=ˇÞć½ˇ½−=ş¹Ð−=½−¼=ðş³½−¼²=ðÝ¸³ž²K

?fl¹₣š˝−=ðÝ¸³šğÞ?=→=?Ëş³½−²=ËÝ¸³šğÞ?=→=?Í−Þ˙Šš²=
Ëş³½−¼²?=→=?ÔĆ¦ýÐ³ž=Í−Þ˙ŠğÞ?
NK „Ð³˙łš½š=½−Þ=ðğŠÐðş=mfkOK

OK „Ð³˙łš½š=ý˝ˇ=ý−Þ˙Šˇ=Þ−ý˝³ýˇ½−²=E˚ğ²=P=₣ˇ¹ˇð½¸¹š²FK

PK „Ð³˙łš½š=½−=ðş³½−²=ˇÞ˙=ý−Þ˙ŠˇK
·Ðˇ=Þˇ=šÐ³˙łš½š=¼×−ŠÐˇ³½−Ý¸I=×Ð˚³½š=PK

ÔĆ¦ýÐ³ž=½−¼=Ì¹˝−¼=ı¹˚ğ³ž²
fl¼½¸=ž=ÝšÐ½−¼¹ł˝ˇ=ˇ×−ŠšÐðÞĆš½ˇÐ=₣¹¸³Ðýž=š˙Þ=¦˚Ýš½š=Þˇ=
ŁšŁˇÐğ¦š˝½š=ş½Ð=ŠšÞ=˚₣š½š=¼×š¹Łš˝=˚Þˇ=³¼łðšð¹Ðý˚Þ−=ş¹Ð−=
₣¹˚ğ³ž²K
?fl¹₣š˝−=ðÝ¸³šğÞ?=→=?Ëş³½−²=ËÝ¸³šğÞ?=→=?ÍšłK=Ëş³½−²?=→=
?ÔĆ¦ýÐ³ž=−¹˝−¼?
NK „Ð³˙łš½š=½−Þ=ðğŠÐðş=mfkOK

OK „Ð³˙łš½š=ý˝ˇ=½Ðý¸K

÷Ýšł₣−²=½−¼=Û×şÝ−Ð×−¼=ÓÐ³½ğ½Ðð−Ć=Ì¹˝−¼
?fl¹₣š˝−=ðÝ¸³šğÞ?=→=?Ëş³½−²=ËÝ¸³šğÞ?=→=?Û×−ÝK=ÓÐ³½K=
Ì¹˝−¼?

ÍžŠšÞÐ³ýş²=½−¼=Ëş³½−¼²=⁄ÝğÞ=½ğÞ=ËÝ¸³šğÞ
?fl¹₣š˝−=ðÝ¸³šğÞ?=→=?Ëş³½−²=ËÝ¸³šğÞ?=→=?‚Ðˇł¹K=Ëş³½−¼²?
NK „Ð³˙łš½š=½−Þ=ðğŠÐðş=mfkOK

=Ej=VJTF

=Ej=VJTJNF

=Ej=VJTJOF

=Ej=VJTJRF

=Ej=VJTJSF

=Ej=VJTJPF

=Ej=VJTJQF



Ò¼ÞŠš³Ðýş½ž½ˇ NNN

Ò¼ÞŠš³Ðýş½ž½ˇ
‚Ðˇý−¹¾ćÞ−Þ½ˇ²=½Ð²=¹¼¦ý˝³šÐ²=³D=ˇ¼½ş=½−=ýšÞ−ĆI=ý×−¹š˝½š=Þˇ=
³¼ÞŠš¦š˝½š=ýš=³¼³ðš¼¸²=×−¼=ŠÐˇ¦˚½−¼Þ=ˇ³Ć¹ýˇ½ž=½š₣Þ−Ý−ł˝ˇ=
_äìÉíççíÜ=¸=¼×˚¹¼¦¹š²I=ðˇ¦ć²=ðˇÐ=ýš=˚ÞˇÞ=¼×−Ý−łÐ³½¸=ý˚³ğ=
½ž²=ˇ³Ć¹ýˇ½ž²=½š₣Þ−Ý−ł˝ˇ²=_äìÉíççíÜ=¸=½ğÞ=¼×˚¹¼¦¹ğÞK

_äìÉíççíÜ
·Ðˇ=½ž=₣¹¸³ž=½ž²=ˇ³Ć¹ýˇ½ž²=ÝšÐ½−¼¹ł˝ˇ²=_äìÉíççíÜI=₣¹šÐ˙Žš½ˇÐ=
Þˇ=ˇÞˇŽž½¸³š½š=˙ÝÝš²=³¼³ðš¼˚²=ýš=ˇ³Ć¹ýˇ½ž=½š₣Þ−Ý−ł˝ˇ=
_äìÉíççíÜ=×¹−ðšÐý˚Þ−¼=Þˇ=š×Ðð−ÐÞğÞ¸³−¼Þ=ýš=½−=½žÝ˚¾ğÞş=
³ˇ²K=Ë¹ˇ½¸³½š=½−=½žÝ˚¾ğÞş=³ˇ²=³š=ˇ×ş³½ˇ³ž=˚ğ²=NM=ý˚½¹ˇ=
ˇ×ş=½Ð²=³¼³ðš¼˚²=×¹ÐÞ=½žÞ=ˇÞˇŽ¸½ž³žK

ı¹¸³ž=½ž²=fl³Ć¹ýˇ½ž²=ÈšÐ½−¼¹ł˝ˇ²=_äìÉíççíÜ

„Þš¹ł−×−˝ž³ž=¸=fl×šÞš¹ł−×−˝ž³ž
?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?_äìÉíççíÜ?=→=?„Þš¹łKLfl×šÞš¹łK?
NK „×ÐÝ˚þ½š=?„Þš¹łş?=¸=?Íž=šÞš¹łş?K

Â=ˇ³Ć¹ýˇ½ž=¹Ć¦ýÐ³ž=_äìÉíççíÜ=š˝ÞˇÐ=šÞš¹ł¸I=½−=?„Þš¹łş?=
š˝ÞˇÐ=š×ÐÝšłý˚Þ−=ðˇÐ=½−=? ?=šý¾ˇÞ˝Žš½ˇÐK

„ý¾˙ÞÐ³ž=¸=fl×şð¹¼Ğž=½−¼=ÚžÝš¾ćÞ−¼=Òˇ²
?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?_äìÉíççíÜ?=→=?„ý¾˙ÞÐ³ž?
NK „×ÐÝ˚þ½š=½Ð²=¹¼¦ý˝³šÐ²=šý¾˙ÞÐ³ž²=×−¼=š×Ð¦¼ýš˝½šK

?flÞÐ₣ÞšĆ³Ðý−?W „×Ð½¹˚×šÐ=³š=˙ÝÝš²=³¼³ðš¼˚²=Þˇ=
ˇÞˇłÞğ¹˝Ž−¼Þ=½−=½žÝ˚¾ğÞş=³ˇ²K

?Íž=flÞÐ₣ÞšĆ³Ðý−?W fl×−ð¹Ć×½šÐ=½−=½žÝ˚¾ğÞş=³ˇ²=ˇ×ş=
˙ÝÝš²=³¼³ðš¼˚²K

flÞˇŽ¸½ž³ž=Ò¼³ðš¼ćÞ=łÐˇ=ÒĆÞŠš³ž
Í×−¹−ĆÞ=Þˇ=ˇÞˇŽž½ž¦−ĆÞ=˚ğ²=ðˇÐ=NS=³¼³ðš¼˚²K
?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?_äìÉíççíÜ?=→=?flÞˇŽ¸½K=Ò¼³ðš¼ćÞ?
NK „×ÐÝ˚þ½š=½ž=³¼³ðš¼¸=×−¼=š×Ð¦¼ýš˝½š=łÐˇ=³ĆÞŠš³žK

OK „Ð³˙łš½š=½−Þ=ðğŠÐðş=½ž²=³¼³ðš¼¸²K

Òžýš˝ğ³ž
≥ „˙Þ=ž=ˇ³Ć¹ýˇ½ž=ÝšÐ½−¼¹ł˝ˇ=_äìÉíççíÜ=š˝ÞˇÐ=

ˇ×šÞš¹ł−×−Ðžý˚Þž=×¹ÐÞ=½žÞ=ˇÞˇŽ¸½ž³žI=½−=½žÝ˚¾ğÞ−=
šÞš¹ł−×−Ðš˝=ˇ¼½şýˇ½ˇ=½žÞ=ˇ³Ć¹ýˇ½ž=ÝšÐ½−¼¹ł˝ˇ=_äìÉíççíÜ=
ðˇÐ=þšðÐÞ˙=½žÞ=ˇÞˇŽ¸½ž³žK

≥ Í×−¹š˝½š=Þˇ=š×ÐÝ˚þš½š=ýşÞ−Þ=ý˝ˇ=³¼³ðš¼¸=łÐˇ=³ĆÞŠš³žK=·Ðˇ=
Þˇ=ˇÝÝ˙þš½š=½ž=³¼ÞŠšŠšý˚Þž=³¼³ðš¼¸I=Šš˝½š=?„Þš¹ł−×−˝ž³ž=
Ò¼ÞŠšŠšý˚Þž²=Ò¼³ðš¼¸²?=³½ž=³šÝ˝Šˇ NNOK

Ò¼ýŁ−¼Ý¸
≥ Í×−¹š˝½š=Þˇ=ýšÐć³š½š=½žÞ=ðˇ½ˇÞ˙Ýğ³ž=½ž²=ý×ˇ½ˇ¹˝ˇ²=š˙Þ=

ˇ×šÞš¹ł−×−Ð¸³š½š=½žÞ=ˇ³Ć¹ýˇ½ž=ÝšÐ½−¼¹ł˝ˇ=_äìÉíççíÜ=ş½ˇÞ=
ŠšÞ=½žÞ=₣¹ž³Ðý−×−Ðš˝½šK=fl×šÞš¹ł−×−Ð¸³½š=½žÞ=ˇ³Ć¹ýˇ½ž=
ÝšÐ½−¼¹ł˝ˇ=_äìÉíççíÜ=³½žÞ=?„Þš¹ł−×−˝ž³ž=¸=
fl×šÞš¹ł−×−˝ž³ž?=³š=ˇ¼½¸=½ž=³šÝ˝Šˇ=¸=³½žÞ=?fl¼½şýˇ½ž=
fl×šÞš¹ł−×−˝ž³ž?=³½ž=³šÝ˝Šˇ NNPK

≥ Ëˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=ý˝ˇ²=ðÝ¸³ž²=ý×−¹š˝½š=Þˇ=šð½¹˚Ğš½š=
¾ğÞž½Ðð˚²=ðÝ¸³šÐ²=³š=³¼ÞŠšŠšý˚Þž=e~åÇëÑêÉÉ=³¼³ðš¼¸K=
ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Íš½ˇ¾−¹˙=¸₣−¼?=ðˇÐ=³½ž=
³¼Þ˚₣šÐˇ=?Òš=_äìÉíççíÜ?=¸=?Ò½ž=³¼³ðš¼¸?K

=Ej=NMF

=Ej=NMJNF

=Ej=NMJNJNF

=Ej=NMJNJOF

=Ej=NMJNJPF



NNO Ò¼ÞŠš³Ðýş½ž½ˇ

„Þš¹ł−×−˝ž³ž=Ò¼ÞŠšŠšý˚Þž²=Ò¼³ðš¼¸²
ÌÐ=³¼ÞŠšŠšý˚Þš²=³¼³ðš¼˚²=šý¾ˇÞ˝Ž−Þ½ˇÐ=³š=ðˇ¹½˚Ýš²=łÐˇ=şÝš²=
½Ð²=³¼³ðš¼˚²=ðˇÐ=łÐˇ=³¼³ðš¼˚²=Ü~åÇëÑêÉÉK
?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?_äìÉíççíÜ?=→=?Ò¼ÞŠšŠšýK=Ò¼³ðš¼˚²?
NK ÓÐ˚³½š=d=łÐˇ=ýš½˙Łˇ³ž=³½ž=Ý˝³½ˇ=³¼³ðš¼ćÞ=Ü~åÇëÑêÉÉK=

OK „×ÐÝ˚þ½š=½ž=³¼³ðš¼¸=×−¼=¦˚Ýš½š=Þˇ=šÞš¹ł−×−Ð¸³š½šK

Íˇ¹ð˙¹Ð³ýˇ=ðˇÐ=½−=Ïšýˇ¹ð˙¹Ð³ýˇ=½ğÞ=Ò¼ÞŠšŠšý˚ÞğÞ=
Ò¼³ðš¼ćÞ=e~åÇëÑêÉÉ
?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?_äìÉíççíÜ?=→=?Ò¼ÞŠšŠšýK=Ò¼³ðš¼˚²?
NK „×ÐÝ˚þš½š=½ž=Ý˝³½ˇ=³¼³ðš¼ćÞ=Ü~åÇëÑêÉÉK

OK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?Íˇ¹ð˙¹Ð³ýˇ?=¸=?Ïšýˇ¹ð˙¹Ð³ýˇ?K

Íš½−Þ−ýˇ³˝ˇ=¸=‚Ðˇł¹ˇ¾¸=Ò¼ÞŠšŠšý˚ÞğÞ=Ò¼³ðš¼ćÞ
?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?_äìÉíççíÜ?=→=?Ò¼ÞŠšŠšýK=Ò¼³ðš¼˚²?
NK ÓÐ˚³½š=c=¸=d=łÐˇ=šÞˇÝÝˇł¸=ýš½ˇþĆ=şÝğÞ=½ğÞ=³¼³ðš¼ćÞ=

ðˇÐ=½ğÞ=³¼³ðš¼ćÞ=Ü~åÇëÑêÉÉK=

OK Íˇ¹ð˙¹š½š=½ž=³¼³ðš¼¸=×−¼=š×Ð¦¼ýš˝½šK

PK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?flÝÝˇł¸=ÌÞşýˇ½−²?=¸=
?‚Ðˇł¹ˇ¾¸?K

fl×−³½−Ý¸=⁄ÝğÞ=½ğÞ=‚šŠ−ý˚ÞğÞ=³š=¿ÝÝš²=Ò¼³ðš¼˚²
Í×−¹š˝½š=Þˇ=³½š˝Ýš½š=şÝˇ=½ˇ=ŠšŠ−ý˚Þˇ=š¾ˇ¹ý−łćÞ=ş×ğ²=ž=
È˝³½ˇ=š×ˇ¾ćÞI=½−=Âýš¹−ÝşłÐ−I=−Ð=„¹łˇ³˝š²=ðÝ×K=³š=š×ÐÝšłý˚Þš²=
³¼³ðš¼˚²K

?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?_äìÉíççíÜ?=→=?fl×−³½−Ý¸=⁄Ýˇ?
NK „×ÐÝ˚þ½š=½ž=³¼³ðš¼¸=×−¼=š×Ð¦¼ýš˝½šK

„˙Þ=ŠšÞ=−¹Ð³½š˝=ð˙×−Ðˇ=³¼³ðš¼¸=½ş½š=ž=ˇÞˇŽ¸½ž³ž=þšðÐÞ˙=
ˇ¼½şýˇ½ˇK

OK „Ð³˙łš½š=½−Þ=ðğŠÐðş=³¼³ðš¼¸²K
Ì=×¹−š×ÐÝšłý˚Þ−²=ðğŠÐðş²=³¼³ðš¼¸²=š˝ÞˇÐ=?VVVV?K=·Ðˇ=
Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½žÞ=ˇÝÝˇł¸=½−¼=ðğŠÐð−Ć=
³¼³ðš¼¸²I=Šš˝½š=?flÝÝˇł¸=ËğŠÐð−Ć=Ò¼³ðš¼¸²?=³½ž=
³šÝ˝Šˇ NMUK

PK „×ÐÝ˚þ½š=½ˇ=ŠšŠ−ý˚Þˇ=×−¼=¦˚Ýš½š=Þˇ=³½š˝Ýš½šK

QK „Ð³˙łš½š=½−Þ=ðğŠÐðş=½ž²=³¼³ðš¼¸²=łÐˇ=ýž=³¼ÞŠšŠšý˚Þš²=
³¼³ðš¼˚²K

Òžýš˝ğ³ž
≥ „˙Þ=˚₣šÐ=³¼ÞŠš¦š˝=ý˝ˇ=³¼³ðš¼¸=¾−¹ž½ćÞ=ˇð−¼³½ÐðćÞI=¦ˇ=

šý¾ˇÞÐ³½š˝=ž=−¦şÞž=š×ÐŁšŁˇ˝ğ³ž²=łÐˇ=½žÞ=ˇ×šÞš¹ł−×−˝ž³ž=
½ž²=ÝšÐ½−¼¹ł˝ˇ²=½ğÞ=ˇð−¼³½ÐðćÞK=ÓÐ˚³½š=xÎˇÐz=łÐˇ=Þˇ=
ˇ×šÞš¹ł−×−Ð¸³š½šK

Ô¼¦ý˝³šÐ²=fl³Ć¹ýˇ½ž²=Úš₣Þ−Ý−ł˝ˇ²=_äìÉíççíÜ
Íš=ˇ¼½¸=½ž=¹Ć¦ýÐ³ž=ý×−¹š˝½š=Þˇ=ýš½−Þ−ý˙³š½š=½−=½žÝ˚¾ğÞş=
³ˇ²I=Þˇ=ˇ×−½¹˚Ğš½š=³š=˙ÝÝˇ=½žÝ˚¾ğÞˇ=Þˇ=ˇÞˇłÞğ¹˝³−¼Þ=½−=
ŠÐðş=³ˇ²I=Þˇ=ˇ×šÞš¹ł−×−Ð¸³š½š=ˇ¼½şýˇ½ˇ=½žÞ=ˇ³Ć¹ýˇ½ž=
ÝšÐ½−¼¹ł˝ˇ=_äìÉíççíÜ=ˇ¼½şýˇ½ˇ=łÐˇ=Þˇ=ýšÐć³š½š=½žÞ=
ðˇ½ˇÞ˙Ýğ³ž=ý×ˇ½ˇ¹˝ˇ²I=ðÝ×K

Íš½−Þ−ýˇ³˝ˇ=½−¼=ÚžÝš¾ćÞ−¼=Òˇ²
Í×−¹š˝½š=Þˇ=ýš½−Þ−ý˙³š½š=½−=½žÝ˚¾ğÞş=³ˇ²K=Ú−=şÞ−ýˇ=½−¼=
½žÝš¾ćÞ−¼=³ˇ²=šý¾ˇÞ˝Žš½ˇÐ=³š=˙ÝÝš²=³¼³ðš¼˚²=ş½ˇÞ=
ˇÞÐ₣Þš¼¦š˝=ˇ×ş=ˇ¼½˚²K
?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?_äìÉíççíÜ?=→=?Ô¼¦ý˝³šÐ²=_äìÉíççíÜ?=→=
?⁄Þ−ýˇ=Ò¼³ðš¼¸²?
NK „Ð³˙łš½š=½−=Þ˚−=şÞ−ýˇ=³¼³ðš¼¸²K

=Ej=NMJNJQF

=Ej=NMJNJRF

=Ej=NMJNJSF



Ò¼ÞŠš³Ðýş½ž½ˇ NNP

fl¼½şýˇ½ž=fl×šÞš¹ł−×−˝ž³ž
?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?_äìÉíççíÜ?=→=?Ô¼¦ý˝³šÐ²=_äìÉíççíÜ?=→=
?È¸þž=ı¹şÞK=_äìÉíççíÜ?
NK „×ÐÝ˚þ½š=½žÞ=ć¹ˇ=×−¼=š×Ð¦¼ýš˝½šK

Ú−=½žÝ˚¾ğÞş=³ˇ²=ˇ×šÞš¹ł−×−Ðš˝=ˇ¼½şýˇ½ˇ=½ž=ÝšÐ½−¼¹ł˝ˇ=
ýš½˙=½−=₣¹−ÞÐðş=ŠÐ˙³½žýˇ=×−¼=˚₣š½š=−¹˝³šÐK

flÝÝˇł¸=½ğÞ=Ô¼¦ý˝³šğÞ=e~åÇëÑêÉÉ
Í×−¹š˝½š=Þˇ=šÞˇÝÝ˙³³š½š=½ž=ÝšÐ½−¼¹ł˝ˇ=½−¼=ðÐ½=¾−¹ž½ćÞ=
ˇð−¼³½ÐðćÞ=EÜ~åÇëÑêÉÉFI=ýš½ˇþĆ=½ğÞ=šþ¸²=ŠĆ−=½¹ş×ğÞW=−ýÐÝ˝ˇ=
ýš=½−=ðÐ½=¾−¹ž½ćÞ=ˇð−¼³½ÐðćÞ=¸=−ýÐÝ˝ˇ=ýš=½−=½žÝ˚¾ğÞ−K

?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?_äìÉíççíÜ?=→=?Ô¼¦ý˝³šÐ²=_äìÉíççíÜ?=→=
?ÔĆ¦ýÐ³ž=e~åÇëÑêÉÉ?
NK „×ÐÝ˚þ½š=?Ó¹−³ğ×K=ÈšÐ½K?=¸=?ÈšÐ½K=e~åÇëÑêÉÉ?K

?Ó¹−³ğ×K=ÈšÐ½K?W= ·Ðˇ=½ž=³¼Þ−ýÐÝ˝ˇ=ýš=½−=½žÝ˚¾ğÞ−
?ÈšÐ½K=e~åÇëÑêÉÉ?W= ·Ðˇ=−ýÐÝ˝ˇ=ýš=½−=ðÐ½=¾−¹ž½ćÞ=̌ ð−¼³½ÐðćÞ

„Þš¹ł−×−˝ž³ž=¸=fl×šÞš¹ł−×−˝ž³ž=„Ý˚ł₣−¼=„þ−¼³Ð−Šş½ž³ž²
Í×−¹š˝½š=Þˇ=Žž½¸³š½š=ˇ×ş=½−Þ=ˇ×−³½−Ý˚ˇ=¸=×ˇ¹ˇÝ¸×½ž=½ğÞ=
ŠšŠ−ý˚ÞğÞ=l_bu=Þˇ=š×ÐŁšŁˇÐć³šÐ=½−Þ=ðğŠÐðş=EˇÞ½ˇÝÝˇł¸=
ðğŠÐð−ĆF=×¹ÐÞ=ˇ×ş=½ž=³ĆÞŠš³ž=½ğÞ=³¼³ðš¼ćÞK

?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?_äìÉíççíÜ?=→=?Ô¼¦ý˝³šÐ²=_äìÉíççíÜ?=→=
?„þ−¼³Ð−Šş½ž³ž?
NK „×ÐÝ˚þ½š=?„Þš¹łş?=¸=?Íž=šÞš¹łş?K

Òžýš˝ğ³ž
≥ ‚šÞ=ˇ×ˇÐ½š˝½ˇÐ=˚Ýšł₣−²=½ˇ¼½ş½ž½ˇ²=łÐˇ=½Ð²=³¼ÞŠšŠšý˚Þš²=

³¼³ðš¼˚²K=
≥ flðşýž=ðˇÐ=š˙Þ=š×ÐÝ˚þš½š=?Íž=šÞš¹łş?I=ý×−¹š˝½š=Þˇ=

š×ÐŁšŁˇÐć³š½š=½−Þ=ðğŠÐðş=š˙Þ=³ˇ²=½−=Žž½¸³šÐ=−=ˇ×−³½−Ý˚ˇ²K

Ó¹−Ł−Ý¸=Èš×½−ýš¹šÐćÞ=ÚžÝš¾ćÞ−¼
?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?_äìÉíççíÜ?=→=?Ô¼¦ý˝³šÐ²=_äìÉíççíÜ?=→=
?Ò½−Ð₣š˝ˇ=½−¼=½žÝš¾K=ý−¼?

Û×˚¹¼¦¹š²
·Ðˇ=Þˇ=₣¹ž³Ðý−×−Ð¸³š½š=½ž=ÝšÐ½−¼¹ł˝ˇ=¼×˚¹¼¦¹ğÞI=¦ˇ=
₣¹šÐˇ³½š˝=Þˇ=ˇÞˇŽž½¸³š½š=³¼³ðš¼˚²=ýš=½ž=ÝšÐ½−¼¹ł˝ˇ=
¼×˚¹¼¦¹ğÞ=šÞš¹ł−×−Ðžý˚Þž=łÐˇ=Þˇ=×¹ˇłýˇ½−×−Ðž¦š˝=ž=
³ĆÞŠš³ž=ýš=½−=½žÝ˚¾ğÞş=³ˇ²K=Ë¹ˇ½¸³½š=½−=½žÝ˚¾ğÞş=³ˇ²=³š=
ˇ×ş³½ˇ³ž=˚ğ²=OM=šðˇ½−³½˙=ˇ×ş=½−=˙ÝÝ−=½žÝ˚¾ğÞ−=×¹ÐÞ=½žÞ=
ˇÞˇŽ¸½ž³žK=Â=¹Ć¦ýÐ³ž=½ğÞ=¼×˚¹¼¦¹ğÞ=¦ˇ=š×Ð³½¹˚ĞšÐ=³½žÞ=
ˇÞšÞš¹ł¸=ðˇ½˙³½ˇ³ž=š˙Þ=ŠšÞ=ł˝Þš½ˇÐ=ýš½˙Š−³žLÝ¸Ğž=
ŠšŠ−ý˚ÞğÞ=ý˚³ğ=¼×˚¹¼¦¹ž²=š×Ðð−ÐÞğÞ˝ˇ²K

„Þš¹ł−×−˝ž³ž=¸=fl×šÞš¹ł−×−˝ž³ž
?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?Û×˚¹¼¦¹š²?=→=?„Þš¹łKLfl×šÞš¹łK?
NK „×ÐÝ˚þ½š=?„Þš¹łş?=¸=?Íž=šÞš¹łş?K

ÌÐ=¼×˚¹¼¦¹š²=š˝ÞˇÐ=šÞš¹ł−×−Ðžý˚Þš²=ðˇÐ=šý¾ˇÞ˝Žš½ˇÐ=? ?K

fl×−³½−Ý¸=⁄ÝğÞ=½ğÞ=‚šŠ−ý˚ÞğÞ=³š=¿ÝÝš²=Ò¼³ðš¼˚²

?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?Û×˚¹¼¦¹š²?=→=?fl×−³½−Ý¸=⁄Ýˇ?
NK „Ð³˙łš½š=½−Þ=ðğŠÐðş=³¼³ðš¼¸²K

Ì=×¹−š×ÐÝšłý˚Þ−²=ðğŠÐðş²=³¼³ðš¼¸²=š˝ÞˇÐ=?VVVV?K=·Ðˇ=
Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½žÞ=ˇÝÝˇł¸=½−¼=ðğŠÐð−Ć=
³¼³ðš¼¸²I=Šš˝½š=?flÝÝˇł¸=ËğŠÐð−Ć=Ò¼³ðš¼¸²?=³½ž=
³šÝ˝Šˇ NMUK

OK „×ÐÝ˚þ½š=½ˇ=ŠšŠ−ý˚Þˇ=×−¼=¦˚Ýš½š=Þˇ=³½š˝Ýš½šK

PK „Ð³˙łš½š=½−Þ=ðğŠÐðş=šþ−¼³Ð−Šş½ž³ž²K

=Ej=NMJOF

=Ej=NMJOJNF

Ej=NMJOJOF



NNQ Ò¼ÞŠš³Ðýş½ž½ˇ

Ô¼¦ý˝³šÐ²=‚Ðð½Ć−¼
fl¼½şýˇ½ž=„×ÐÝ−ł¸=ýÐˇ²=Û×ž¹š³˝ˇ²
Ë˙¦š=¾−¹˙=½−¼=šÞš¹ł−×−Ðš˝½ˇÐ=½−=½žÝ˚¾ğÞ−=ˇ¼½ş=š×ÐÝ˚łšÐ=ýÐˇ=
¼×ž¹š³˝ˇ=ˇ¼½şýˇ½ˇK
?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?Ô¼¦ý˝³šÐ²=‚Ðð½Ć−¼?=→=?„×ÐÝ−ł¸=
¼×ž¹š³˝ˇ²?
NK „×ÐÝ˚þ½š=?fl¼½şýˇ½−?K

Íž=fl¼½şýˇ½ž=„×ÐÝ−ł¸=ýÐˇ²=Û×ž¹š³˝ˇ²
?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?Ô¼¦ý˝³šÐ²=‚Ðð½Ć−¼?=→=?„×ÐÝ−ł¸=
¼×ž¹š³˝ˇ²?
NK „×ÐÝ˚þ½š=?dpj?K

fl¼½şýˇ½ž=„×ÐÝ−ł¸=šÞş²=‚Ðð½Ć−¼
Ë˙¦š=¾−¹˙=×−¼=šÞš¹ł−×−Ðš˝½š=½−=½žÝ˚¾ğÞ−I=ˇ¼½ş=×˙Þ½−½š=
×¹−³×ˇ¦š˝=Þˇ=³¼ÞŠš¦š˝=ýš=½−=×¹−½ÐýćýšÞ−=Š˝ð½¼−K

„˙Þ=½−=½žÝ˚¾ğÞş=³ˇ²=Šš=³¼ÞŠš¦š˝=ýš=½−=Š˝ð½¼−I=ý×−¹š˝½š=
˙ýš³ˇ=Þˇ=×¹ˇłýˇ½−×−Ð¸³š½š=½ˇ=̌ ðşÝ−¼¦ˇ=łÐˇ=Þˇ=³¼ÞŠš¦š˝½š=ýš=
½−=×¹−½ÐýćýšÞ−=Š˝ð½¼−K

?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?Ô¼¦ý˝³šÐ²=‚Ðð½Ć−¼?=→=?„×ÐÝ−ł¸=
‚Ðð½Ć−¼?=→=?fl¼½şýˇ½−?

ıšÐ¹−ð˝Þž½ž=ÔĆ¦ýÐ³ž=½−¼=‚Ðð½Ć−¼
?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?Ô¼¦ý˝³šÐ²=‚Ðð½Ć−¼?=→=?„×ÐÝ−ł¸=
‚Ðð½Ć−¼?=→=?ıšÐ¹−ð˝Þž½−?
NK „×ÐÝ˚þ½š=½−=Š˝ð½¼−=×−¼=š×Ð¦¼ýš˝½šK

Ó¹−³¦¸ðž=Î˚−¼=‚Ðð½Ć−¼
?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?Ô¼¦ý˝³šÐ²=‚Ðð½Ć−¼?=→=?„×ÐÝ−ł¸=
‚Ðð½Ć−¼?=→=?Ó¹−³¦¸ðž=‚Ðð½K?
„˙Þ=ŠšÞ=¼×˙¹₣−¼Þ=ðˇ½ˇ₣ğ¹¸³šÐ²=×Ð˚³½š= =ðˇÐ=ýš½ˇŁš˝½š=³½−=
Ł¸ýˇ=OK

„˙Þ=¼×˙¹₣šÐ=ý˝ˇ=ðˇ½ˇ₣ć¹ž³ž=×Ð˚³½š= =ðˇÐ=šð½šÝ˚³½š=½ˇ=
×ˇ¹ˇð˙½ğ=Ł¸ýˇ½ˇK

NK „×ÐÝ˚þ½š=?Ó¹−³¦¸ðž?K

OK „Ð³˙łš½š=½−Þ=ðğŠÐðş=₣ć¹ˇ²=E˚ğ²=ðˇÐ=P=Ğž¾˝ˇFK

PK „Ð³˙łš½š=½−Þ=ðğŠÐðş=ŠÐð½Ć−¼=E˚ğ²=ðˇÐ=P=Ğž¾˝ˇFK

QK „Ð³˙łš½š=˚Þˇ=Þ˚−=şÞ−ýˇ=ŠÐð½Ć−¼=E˚ğ²=OR=₣ˇ¹ˇð½¸¹š²FK

RK „×ÐÝ˚þ½š=?„×ÐÝK=½Ć×−=ŠÐð½Ć−¼?K

SK „×ÐÝ˚þ½š=½−=Š˝ð½¼−=×−¼=š×Ð¦¼ýš˝½šK

„×šþš¹łˇ³˝ˇ=È˝³½ˇ²=Ó¹−½ÐýćýšÞğÞ
?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?Ô¼¦ý˝³šÐ²=‚Ðð½Ć−¼?=→ ?„×ÐÝ−ł¸=
‚Ðð½Ć−¼?=→=?Ô¼¦ýK=Ó¹−½ÐýK?
NK „×ÐÝ˚þ½š=½−=şÞ−ýˇ=½−¼=ŠÐð½Ć−¼=×−¼=¦˚Ýš½š=Þˇ=

š×šþš¹łˇ³½š˝½šK

OK „×ÐÝ˚þ½š=?„Ð³ˇłğł¸?=łÐˇ=Þˇ=šÐ³˙łš½š=³½žÞ=š×ÐÝšłý˚Þž=¦˚³ž=
¸=?Ó¹−³¦K=³½−=½˚Ý−²?=łÐˇ=Þˇ=šÐ³˙łš½š=³½−=½˚Ý−²=¸=
?‚Ðˇł¹ˇ¾¸?=łÐˇ=Þˇ=ŠÐˇł¹˙Ğš½šK

Ó¹−Ł−Ý¸=ÓÝž¹−¾−¹ÐćÞ=‚Ðð½Ć−¼
?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?Ô¼¦ý˝³šÐ²=‚Ðð½Ć−¼?=→=?ÓÝž¹−¾K=
ŠÐð½Ć−¼?
„ý¾ˇÞ˝Ž−Þ½ˇÐ=×Ýž¹−¾−¹˝š²=³₣š½Ðð˙=ýš=½−=şÞ−ýˇ=½−¼=¾−¹˚ˇ=
ŠÐð½Ć−¼I=½ˇ=×ˇð˚½ˇ=ŠšŠ−ý˚ÞğÞ=ðˇÐ=½Ð²=¼×ž¹š³˝š²K

=Ej=NMJPF

=Ej=NMJPJPF



Ò¼ÞŠš³Ðýş½ž½ˇ NNR

ÈšÐ½−¼¹ł˝ˇ=³š=×½¸³ž
⁄½ˇÞ=ž=ÈšÐ½−¼¹ł˝ˇ=³š=×½¸³ž=š˝ÞˇÐ=¹¼¦ýÐ³ý˚Þž=³½−=?„Þš¹łş?I=½−=
½žÝ˚¾ğÞ−=ŠÐˇðş×½šÐ=½ž=³ĆÞŠš³ž=ýš=½−=Š˝ð½¼−=ðˇÐ=³½ˇýˇ½˙=Þˇ=
ˇÞˇŽž½˙=ŠÐˇ¦˚³Ðýˇ=Š˝ð½¼ˇ=łÐˇ=³ĆÞŠš³žK=Íš=ˇ¼½¸=½ž=ÝšÐ½−¼¹ł˝ˇ=
ý×−¹š˝½š=Þˇ=×ˇ˝þš½š=×ˇÐ₣Þ˝ŠÐˇ=̧ =Þˇ=̌ ð−Ć³š½š=ý−¼³Ðð¸=̌ ðşýˇ=ðˇÐ=
ðˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=½ž²=×½¸³ž²K

?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?ÈšÐ½−¼¹ł˝ˇ=³š=×½¸³ž?
NK „×ÐÝ˚þ½š=?„Þš¹łş?=¸=?Íž=šÞš¹łş?K

Ô¼¦ý˝³šÐ²=fåíÉêåÉí
Òžýš˝ğ³ž
≥ ·Ðˇ=½žÞ=ðˇÞ−ÞÐð¸=ÝšÐ½−¼¹ł˝ˇI=ŠšÞ=₣¹šÐ˙Žš½ˇÐ=Þˇ=

½¹−×−×−Ð¸³š½š=ˇ¼½˚²=½Ð²=¹¼¦ý˝³šÐ²K
≥ ÌÐ=¹¼¦ý˝³šÐ²=½−¼=fåíÉêåÉí=˚₣−¼Þ=¸Šž=ðˇ½ˇ₣ğ¹ž¦š˝=³½−=

½žÝ˚¾ğÞş=³ˇ²I=ˇÞ˙Ý−łˇ=ýš=½−Þ=×ˇ¹−₣˚ˇ=¼×ž¹š³ÐćÞK=ÿ³ğ²=
˚₣−¼Þ=½š¦š˝=×š¹Ð−¹Ð³ý−˝=³½žÞ=×¹−Ł−Ý¸I=ŠÐˇł¹ˇ¾¸I=
ˇÞ½Ðł¹ˇ¾¸=¸=½¹−×−×−˝ž³ž=ˇ¼½ćÞ=½ğÞ=¹¼¦ý˝³šğÞK=
„×Ðð−ÐÞğÞ¸³½š=ýš=½−Þ=×ˇ¹−₣˚ˇ=¼×ž¹š³ÐćÞ=³ˇ²=łÐˇ=
×Ýž¹−¾−¹˝š²K

Ô¼¦ý˝³šÐ²=t^m
?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?Ô¼¦ý˝³šÐ²=fåíÉêåÉí?=→=?Ô¼¦ý˝³šÐ²=t^m?=
→=?‚žýÐ−¼¹ł˝ˇ=Î˚−¼?
?⁄Þ−ýˇ=Ó¹−¾˝Ý?W= ⁄Þ−ýˇ=×¹−¾˝Ý=t^m=EÍ−ÞˇŠÐðş=

şÞ−ýˇF
?ÓÝž¹šþ−Ć³Ð−?W= ÔĆ¦ýÐ³ž=éêçñó=łÐˇ=½−=t^m=E⁄½ˇÞ=½−=

?ı¹¸³ž=ÓÝž¹šþ−Ć³Ð−?=š˝ÞˇÐ=
šÞš¹łşF

?Òžýš˝−=Ó¹ş³Łˇ³ž²?W Òžýš˝−=×¹ş³Łˇ³ž²=łÐˇ=t^m=E⁄½ˇÞ=
½−=?ı¹¸³ž=ÓÝž¹šþ−Ć³Ð−?=š˝ÞˇÐ=
ˇÞšÞš¹łşF

?ı¹¸³ž=ÓÝž¹šþ−Ć³Ð−?W= ÔĆ¦ýÐ³ž=łÐˇ=½ž=³ĆÞŠš³ž=¸=ş₣Ð=ýš=
mêçñó

?fl¹₣Ðð¸?W fl¹₣Ðð¸=³šÝ˝Šˇ=roi=E⁄½ˇÞ=½−=?ı¹¸³ž=
ÓÝž¹šþ−Ć³Ð−?=š˝ÞˇÐ=ˇÞšÞš¹łşF

Ô¼¦ý˝³šÐ²=píêÉ~ãáåÖ
?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?Ô¼¦ý˝³šÐ²=fåíÉêåÉí?=→=?Ô¼¦ý˝³šÐ²=
píêÉ~ãáåÖ?=→=?‚žýÐ−¼¹ł˝ˇ=Î˚−¼?
?⁄Þ−ýˇ=Ó¹−¾˝Ý?W ⁄Þ−ýˇ=×¹−¾˝Ý=łÐˇ=½ž=¹−¸=

ŠšŠ−ý˚ÞğÞ=EÍ−ÞˇŠÐðş=şÞ−ýˇF
?‚ÐšĆ¦¼Þ³ž=ÓÝž¹šþ−Ć³Ð−?W ‚ÐšĆ¦¼Þ³ž=éêçñó

?fl¹Ð¦ýK=ÊĆ¹ˇ²=ÓÝž¹šþ−Ć³Ð−?W
fl¹Ð¦ýş²=¦Ć¹ˇ²=ENJSRRPRF

?Òžýš˝−=Ó¹ş³Łˇ³ž²?W Òžýš˝−=×¹ş³Łˇ³ž²
Ô¼¦ý˝³šÐ²=mêçñó
?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?Ô¼¦ý˝³šÐ²=fåíÉêåÉí?=→=?Ô¼¦ý˝³šÐ²=
ÓÝž¹šþ−Ć³Ð−?=→=?‚žýÐ−¼¹ł˝ˇ=Î˚−¼?
?⁄Þ−ýˇ=ÓÝž¹šþ−Ć³Ð−?W= ⁄Þ−ýˇ=éêçñó=EÍ−ÞˇŠÐðş=şÞ−ýˇF

?‚ÐšĆ¦¼Þ³ž=ÓÝž¹šþ−Ć³Ð−?W ‚ÐšĆ¦¼Þ³ž=fm
?Òžýš˝−=Ó¹ş³Łˇ³ž²?W Òžýš˝−=×¹ş³Łˇ³ž²

?fl¹₣Ðð¸?W roi=ˇ¹₣Ðð¸²=³šÝ˝Šˇ²

?fl¹Ð¦ýş²=¦Ć¹ˇ²?W fl¹Ð¦ýş²=¦Ć¹ˇ²=ENJSRRPRF
?ÚĆ×−²=Úˇ¼½−×−˝ž³ž²?W ÚĆ×−²=Úˇ¼½−×−˝ž³ž²=

E?eqqmJ_^pf`?=¸=?eqqmJafdbpq?F

?⁄Þ−ýˇ=ı¹¸³½ž?W Ú−=şÞ−ýˇ=½−¼=₣¹¸³½ž=łÐˇ=
½ˇ¼½−×−˝ž³ž

?ËğŠK=Ó¹ş³Łˇ³ž²?W ËğŠÐðş²=×¹ş³Łˇ³ž²=łÐˇ=
½ˇ¼½−×−˝ž³ž

=Ej=NMJQF

=Ej=NMJRF

=Ej=NMJRJNF

=Ej=NMJRJOF

=Ej=NMJRJPF



NNS Ò¼ÞŠš³Ðýş½ž½ˇ

Ô¼¦ý˝³šÐ²=Òžýš˝−¼=Ó¹ş³Łˇ³ž²
?Ò¼ÞŠš³Ðýş½ž½ˇ?=→ ?Ô¼¦ý˝³šÐ²=fåíÉêåÉí?=→ ?Ô¼¦ý˝³šÐ²=̂ mk?=
→=?‚žýÐ−¼¹ł˝ˇ=Î˚−¼?
?⁄Þ−ýˇ=ÒžýK=Ó¹ş³ŁK?W ⁄Þ−ýˇ=³žýš˝−¼=×¹ş³Łˇ³ž²=

EÍ−ÞˇŠÐðş=şÞ−ýˇF

?^mk?W ÔĆ¦ýÐ³ž=^mk

?ÚĆ×−²=Úˇ¼½−×−˝ž³ž²?W ÚĆ×−²=šÝ˚ł₣−¼=½ˇ¼½ş½ž½ˇ²=
E?ËˇÞ˚Þˇ?I=?m^m?=¸=?`e^m?F

?⁄Þ−ýˇ=ı¹¸³½ž?W ⁄Þ−ýˇ=₣¹¸³½ž=łÐˇ=½−=³žýš˝−=
×¹ş³Łˇ³ž²

?ËğŠK=Ó¹ş³Łˇ³ž²?W ËğŠÐðş²=×¹ş³Łˇ³ž²=łÐˇ=½−=³žýš˝−=
×¹ş³Łˇ³ž²

?akp?W akp=EÒĆ³½žýˇ=ÌÞ−ýˇ³˝ˇ²=
‚Ðð½¼ˇð−Ć=Úş×−¼F

?ı¹şÞ−²=Û³½˚¹ž³ž²?W ı¹şÞ−²=Û³½˚¹ž³ž²=ENJVVVVV=
Šš¼½š¹KF

fl¼½şýˇ½š²=J¹¼¦ý˝³šÐ²
?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?Ô¼¦ý˝³šÐ²=fåíÉêåÉí?=→=?„×ˇÞK=ˇ¼½şýK=
¹¼¦ý˝³K?=→=?flÞˇý−Þ¸=„ð½˚Ýš³ž²?

‚Ðˇł¹ˇ¾¸=akp=`~ÅÜÉ
?Ò¼ÞŠš³Ðýş½ž½ˇ?=→ ?Ô¼¦ý˝³šÐ²=fåíÉêåÉí?=→ ?‚Ðˇł¹ˇ¾¸=akp=
`~ÅÜÉ?

Èš¼ð¸=È˝³½ˇ
?Ò¼ÞŠš³Ðýş½ž½ˇ?=→ ?Ô¼¦ý˝³šÐ²=fåíÉêåÉí?=→ ?Èš¼ð¸=È˝³½ˇ?=
→=?‚žýÐ−¼¹ł˝ˇ=Î˚−¼?
?‚ÐšĆ¦¼Þ³ž=pjp`?W ‚ÐšĆ¦¼Þ³ž=pjp`

?fl¹₣Ðð¸=‚ÐšĆ¦K=pj?W ‚ÐšĆ¦¼Þ³ž=×¹−−¹Ð³ý−Ć=pj

„Þš¹ł−×−˝ž³ž=½−¼=×¹−¾˝Ý=t^mLpíêÉ~ãáåÖ
?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?Ô¼¦ý˝³šÐ²=fåíÉêåÉí?
NK „×ÐÝ˚þ½š=?Ô¼¦ý˝³šÐ²=t^m?=¸=?Ô¼¦ý˝³šÐ²=píêÉ~ãáåÖ?K

OK „×ÐÝ˚þ½š=½−=×¹−¾˝Ý=×−¼=¦˚Ýš½š=Þˇ=šÞš¹ł−×−Ð¸³š½šK

„×šþš¹łˇ³˝ˇLflÞ½Ðł¹ˇ¾¸L‚Ðˇł¹ˇ¾¸=½−¼=Ó¹−¾˝Ý=t^mLpíêÉ~ãáåÖ
?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?Ô¼¦ý˝³šÐ²=fåíÉêåÉí?
NK „×ÐÝ˚þ½š=?Ô¼¦ý˝³šÐ²=t^m?=¸=?Ô¼¦ý˝³šÐ²=píêÉ~ãáåÖ?K

OK Íˇ¹ð˙¹š½š=½−=×¹−¾˝Ý=×−¼=š×Ð¦¼ýš˝½šK

PK ÓÐ˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=½žÞ=š×ÐÝ−ł¸=×−¼=¦˚Ýš½šK
?„×šþK?W „×šþš¹łˇ³½š˝½š=½−=³½−Ð₣š˝−=×−¼=

š×Ð¦¼ýš˝½šK
?flÞ½Ðł¹ˇ¾¸?W „Ð³˙łš½š=½−=Þ˚−=şÞ−ýˇ=ˇ¹₣š˝−¼K
?‚Ðˇł¹ˇ¾¸?W ÓÐ˚³½š=xÎˇÐz=łÐˇ=ŠÐˇł¹ˇ¾¸K

Ë˙¹½ˇ=ÍÞ¸ýž²
Íš=ýÐˇ=ð˙¹½ˇ=ýÞ¸ýž²=½−×−¦š½žý˚Þž=³½−=½žÝ˚¾ğÞş=³ˇ²I=
ý×−¹š˝½š=Þˇ=ŠžýÐ−¼¹ł¸³š½š=ˇÞ½˝ł¹ˇ¾ˇ=ˇ³¾ˇÝš˝ˇ²=łÐˇ=½−¼²=
ÒšÝÐŠ−Šš˝ð½š²I=½ˇ=Ëš˝ýšÞˇI=½Ð²=„×ˇ¾˚²I=½−=Âýš¹−ÝşłÐ−=ðˇÐ=½Ð²=
„¹łˇ³˝š²=ˇ×ş=½ž=ýÞ¸ýž=½ž²=³¼³ðš¼¸²=³½žÞ=ð˙¹½ˇ=ýÞ¸ýž²K=
Í×−¹š˝½šI=š×˝³ž²I=Þˇ=š×ˇÞˇ¾˚¹š½š=½ˇ=ˇÞ½˝ł¹ˇ¾ˇ=ˇ³¾ˇÝš˝ˇ²=
ˇ×ş=½žÞ=ð˙¹½ˇ=ýÞ¸ýž²K

=Ej=NMJRJQF

=Ej=NMJRJRF

=Ej=NMJRJSF

=Ej=NMJRJTF

=Ej=NMJSF



Ò¼ÞŠš³Ðýş½ž½ˇ NNT

‚žýÐ−¼¹ł˝ˇ=flÞ½Ðł¹˙¾−¼=fl³¾ˇÝš˝ˇ²=³½žÞ=Ë˙¹½ˇ=ÍÞ¸ýž²
?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?Ë˙¹½ˇ=ÍÞ¸ýž²?=→=?flÞ½˝ł¹ˇ¾−L
flÞ˙ð½ž³ž?=→=?flÞ½˝ł¹ˇ¾−?
NK „Ð³˙łš½š=½−Þ=ðğŠÐðş=³¼³ðš¼¸²K

Ì=×¹−š×ÐÝšłý˚Þ−²=ðğŠÐðş²=³¼³ðš¼¸²=š˝ÞˇÐ=?VVVV?K=·Ðˇ=
Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½žÞ=ˇÝÝˇł¸=½−¼=ðğŠÐð−Ć=
³¼³ðš¼¸²I=Šš˝½š=?flÝÝˇł¸=ËğŠÐð−Ć=Ò¼³ðš¼¸²?=³½ž=
³šÝ˝Šˇ NMUK

OK „×ÐÝ˚þ½š=½−=³½−Ð₣š˝−=łÐˇ=½−=−×−˝−=¦˚Ýš½š=Þˇ=ŠžýÐ−¼¹ł¸³š½š=
ˇÞ½˝ł¹ˇ¾−=ˇ³¾ˇÝš˝ˇ²=¸=?„×ÐÝ−ł¸=⁄ÝğÞ?=łÐˇ=Þˇ=
ŠžýÐ−¼¹ł¸³š½š=ˇÞ½˝ł¹ˇ¾ˇ=ˇ³¾ˇÝš˝ˇ²=łÐˇ=şÝˇ=½ˇ=ˇ¹₣š˝ˇK

„×ˇÞˇ¾−¹˙=šÞş²=flÞ½Ðł¹˙¾−¼=fl³¾ˇÝš˝ˇ²
?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?Ë˙¹½ˇ=ÍÞ¸ýž²?=→=?flÞ½˝ł¹ˇ¾−L
flÞ˙ð½ž³ž?=→=?„×ˇÞˇ¾−¹˙?
NK „Ð³˙łš½š=½−Þ=ðğŠÐðş=³¼³ðš¼¸²K

OK „×ÐÝ˚þ½š=½−=³½−Ð₣š˝−=×−¼=¦˚Ýš½š=Þˇ=š×ˇÞˇ¾˚¹š½š=¸=
?„×ÐÝ−ł¸=⁄ÝğÞ?=łÐˇ=Þˇ=š×ˇÞˇ¾˚¹š½š=şÝˇ=½ˇ=ˇ¹₣š˝ˇK

PK „×ÐÝ˚þ½š=½−=ˇ¹₣š˝−=×−¼=¦˚Ýš½š=Þˇ=š×ˇÞˇ¾˚¹š½šK
„ý¾ˇÞ˝Žš½ˇÐ=˚Þˇ=ý¸Þ¼ýˇ=š×ÐŁšŁˇ˝ğ³ž²=×−¼=š×Ð³žýˇ˝ÞšÐ=½ž=
ŠÐˇł¹ˇ¾¸=ˇ×ş=½ž=ýÞ¸ýž=½ž²=³¼³ðš¼¸²K

QK ÓÐ˚³½š=xÎˇÐzK

Òžýš˝ğ³ž
≥ ·Ðˇ=Þˇ=ŠÐˇł¹˙Ğš½š=˚Þˇ=ˇÞ½˝ł¹ˇ¾−=ˇ³¾ˇÝš˝ˇ²I=ýˇ¹ð˙¹š½š=½−=

³½−Ð₣š˝−=×−¼=¦˚Ýš½šI=×Ð˚³½š=x„×ÐÝKz=ðˇÐ=š×ÐÝ˚þ½š=?‚Ðˇł¹ˇ¾¸?=
ˇ¾−Ć=šð½šÝ˚³š½š=½ˇ=Ł¸ýˇ½ˇ=N=˚ğ²=PK

‚Ðˇýş¹¾ğ³ž=Ë˙¹½ˇ²=ÍÞ¸ýž²
?Ò¼ÞŠš³Ðýş½ž½ˇ?=→=?Ë˙¹½ˇ=ÍÞ¸ýž²?=→=?Í−¹¾−×−˝ž³ž=
Ë˙¹½ˇ²?
NK „Ð³˙łš½š=½−Þ=ðğŠÐðş=³¼³ðš¼¸²K

Ì=×¹−š×ÐÝšłý˚Þ−²=ðğŠÐðş²=³¼³ðš¼¸²=š˝ÞˇÐ=?VVVV?K=·Ðˇ=
Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½žÞ=ˇÝÝˇł¸=½−¼=ðğŠÐð−Ć=
³¼³ðš¼¸²I=Šš˝½š=?flÝÝˇł¸=ËğŠÐð−Ć=Ò¼³ðš¼¸²?=³½ž=
³šÝ˝Šˇ NMUK

OK ÓÐ˚³½š=xÎˇÐz=łÐˇ=Þˇ=þšðÐÞ¸³šÐ=ž=ŠÐˇýş¹¾ğ³žK

=Ej=NMJSJOF



NNU ÒĆÞŠš³ž=½−¼=VMPpe=ýš=½−Þ=Û×−Ý−łÐ³½¸=Òˇ²

ÒĆÞŠš³ž=½−¼=VMPpe=ýš=½−Þ=Û×−Ý−łÐ³½¸=
Òˇ²
Í×−¹š˝½š=Þˇ=₣¹ž³Ðý−×−Ð¸³š½š=½Ð²=×ˇ¹ˇð˙½ğ=ÝšÐ½−¼¹ł˝š²=
³¼ÞŠ˚−Þ½ˇ²=½−=VMPpe=³½−Þ=¼×−Ý−łÐ³½¸=³ˇ²=ý˚³ğ=¼×˚¹¼¦¹ğÞI=
ý˚³ğ=¦Ć¹ˇ²=rp_=*=¸=½ž²=¦Ć¹ˇ²=ˇ³Ć¹ýˇ½ž²=½š₣Þ−Ý−ł˝ˇ²=
_äìÉíççíÜW

≥ ÍşÞ½šý=PdLdpj
≥ e~åÇëÉí=j~å~ÖÉê=łÐˇ=½−=VMPpe
* fl×ˇÐ½š˝½ˇÐ=˚Þˇ=×¹−ˇÐ¹š½Ððş=ðˇÝćŠÐ−=ýš½ˇ¾−¹˙²=ŠšŠ−ý˚ÞğÞ=

rp_=ukJNa`PM=łÐˇ=³ĆÞŠš³ž=ý˚³ğ=¦Ć¹ˇ²=rp_K

fl×ˇÐ½¸³šÐ²=Ò¼³½¸ýˇ½−²
ÈšÐ½−¼¹łÐðş=ÒĆ³½žýˇW

táåÇçïë=VU*I=táåÇçïë=jÉI=táåÇçïë=OMMM**I=
táåÇçïë=um***

* táåÇçïë=VU=pÉÅçåÇ=bÇáíáçå
** pÉêîáÅÉ=m~Åâ=Q=¸=ýš½ˇłšÞ˚³½š¹−
*** pÉêîáÅÉ=m~Åâ=O=¸=ýš½ˇłšÞ˚³½š¹−

Û×−³½ž¹ÐŽşýšÞ−=È−łÐ³ýÐðşW

jáÅêçëçÑí=lìíäççâLlìíäççâ=bñéêÉëë

‚Ðˇ³ĆÞŠš³žW
ÊĆ¹ˇ=¼×˚¹¼¦¹ğÞI=¦Ć¹ˇ=rp_=̧ =¦Ć¹ˇ=̌ ³Ć¹ýˇ½ž²=³ĆÞŠš³ž²=
_äìÉíççíÜ=

ÌŠžłş²=`aJolj

ÍşÞ½šý=PdLdpj
Í×−¹š˝½š=Þˇ=₣¹ž³Ðý−×−Ð¸³š½š=½−=VMPpe=ğ²=ýşÞ½šý=PdLdpj=łÐˇ=
Þˇ=˚₣š½š=×¹ş³Łˇ³ž=³½−=fåíÉêåÉí=ˇ×ş=½−Þ=¼×−Ý−łÐ³½¸=³ˇ²K=
Ò¼ÞŠ˚³½š=½−=½žÝ˚¾ğÞş=³ˇ²=³½−Þ=¼×−Ý−łÐ³½¸=ý˚³ğ=½ž²=
ˇ³Ć¹ýˇ½ž²=½š₣Þ−Ý−ł˝ˇ²=_äìÉíççíÜ=¸=ý˚³ğ=¦Ć¹ˇ²=rp_K=
fl×ˇÐ½š˝½ˇÐ=ž=šłðˇ½˙³½ˇ³ž=Ý−łÐ³ýÐð−Ć=³½−Þ=žÝšð½¹−ÞÐðş=
¼×−Ý−łÐ³½¸=³ˇ²K=·Ðˇ=×š¹Ð³³ş½š¹š²=Ýš×½−ý˚¹šÐš²I=Šš˝½š=
?„łðˇ½˙³½ˇ³ž=È−łÐ³ýÐð−Ć?=³½ž=³šÝ˝Šˇ NNVK

ÍşÞ½šý=ý˚³ğ=ËˇÝğŠ˝−¼=rp_
·Ðˇ=Þˇ=₣¹ž³Ðý−×−Ð¸³š½š=½ž=ÝšÐ½−¼¹ł˝ˇ=ýşÞ½šý=ý˚³ğ=ðˇÝğŠ˝−¼=
rp_=¦ˇ=×¹˚×šÐ=Þˇ=₣¹ž³Ðý−×−Ð¸³š½š=½−=×¹−ˇÞˇ¾š¹şýšÞ−=
ðˇÝćŠÐ−=ðˇÐ=Þˇ=Šš˝½š=½Ð²=−Šžł˝š²=×−¼=½−=³¼Þ−ŠšĆ−¼ÞK

ÍşÞ½šý=ý˚³ğ=³ĆÞŠš³ž²=_äìÉíççíÜ
·Ðˇ=Þˇ=₣¹ž³Ðý−×−Ð¸³š½š=½ž=ÝšÐ½−¼¹ł˝ˇ=ýşÞ½šý=ý˚³ğ=½ž²=¦Ć¹ˇ²=
ˇ³Ć¹ýˇ½ž²=½š₣Þ−Ý−ł˝ˇ²=_äìÉíççíÜI=Šš˝½š=?ı¹¸³ž=½ž²=
fl³Ć¹ýˇ½ž²=ÈšÐ½−¼¹ł˝ˇ²=_äìÉíççíÜ?=³½ž=³šÝ˝Šˇ NNN=ðˇÐ=
šÞš¹ł−×−Ð¸³½š=½ž=ÝšÐ½−¼¹ł˝ˇ=ýşÞ½šýK

·Ðˇ=×š¹Ð³³ş½š¹š²=Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½žÞ=¼×−³½¸¹Ðþž=
Ý−łÐ³ýÐð−ĆI=š×Ð³ðš¾¦š˝½š=½žÞ=ˇðşÝ−¼¦ž=Ð³½−³šÝ˝ŠˇW

ÜííéWLLïïïKëÜ~êéJãçÄáäÉKÅçã

Òžýš˝ğ³ž
≥ Â=š×Ðð−ÐÞğÞ˝ˇ=ý˚³ğ=ýşÞ½šý=ŠšÞ=š˝ÞˇÐ=š¾Ðð½¸=ðˇ½˙=½ž=

ŠÐ˙¹ðšÐˇ=š×Ðð−ÐÞğÞ˝ˇ²=ýš=½−=e~åÇëÉí=j~å~ÖÉê=ý˚³ğ=½ž²=
ˇ³Ć¹ýˇ½ž²=½š₣Þ−Ý−ł˝ˇ²=_äìÉíççíÜI=ý˚³ğ=¼×˚¹¼¦¹ğÞ=̧ =ý˚³ğ=
¦Ć¹ˇ²=rp_K

≥ Ú−=½žÝ˚¾ğÞ−=ðˇ½ˇÞˇÝćÞšÐ=šÞ˚¹łšÐˇ=ˇ×ş=½žÞ=ý×ˇ½ˇ¹˝ˇ=ş½ˇÞ=
š˝ÞˇÐ=³¼ÞŠšý˚Þ−=ýš=˚ÞˇÞ=¼×−Ý−łÐ³½¸I=ˇðşýž=ðˇÐ=ş½ˇÞ=ŠšÞ=
š×Ðð−ÐÞğÞš˝=ýD=ˇ¼½şÞK



ÒĆÞŠš³ž=½−¼=VMPpe=ýš=½−Þ=Û×−Ý−łÐ³½¸=Òˇ² NNV

e~åÇëÉí=j~å~ÖÉê
Í×−¹š˝½š=Þˇ=ˇÞ½ˇÝÝ˙³³š½š=½ˇ=×ˇ¹ˇð˙½ğ=³½−Ð₣š˝ˇ=ýš½ˇþĆ=½−¼=
½žÝš¾ćÞ−¼=ðˇÐ=½−¼=¼×−Ý−łÐ³½¸I=ý×−¹š˝½š=ˇðşýž=Þˇ=
₣¹ž³Ðý−×−Ð¸³š½š=½Ð²=ðˇ½ˇ₣ğ¹¸³šÐ²=½ž²=È˝³½ˇ²=„×ˇ¾ćÞ=³½−Þ=
¼×−Ý−łÐ³½¸W

≥ fl¹₣š˝ˇ=ˇ×ş=Ú−=¼ÝÐðş=ý−¼=EŠšŠ−ý˚Þˇ=ˇ×ş=¾ğ½−ł¹ˇ¾˝š²L
¸₣−¼²LîáÇÉç=ÅäáéëL¿ÝÝˇ=÷łł¹ˇ¾ˇF

≥ Ëˇ½ˇ₣ğ¹¸³šÐ²=È˝³½ˇ²=„×ˇ¾ćÞ
≥ Ëˇ½ˇ₣ğ¹¸³šÐ²=₣¹−Þ−ŠÐˇł¹˙ýýˇ½−²
·Ðˇ=×š¹Ð³³ş½š¹š²=Ýš×½−ý˚¹šÐš²=³₣š½Ðð˙=ýš=½žÞ=¼×−³½¸¹Ðþž=
Ý−łÐ³ýÐð−ĆI=š×Ð³ðš¾¦š˝½š=½žÞ=ˇðşÝ−¼¦ž=Ð³½−³šÝ˝ŠˇW

ÜííéWLLïïïKëÜ~êéJãçÄáäÉKÅçã

„łðˇ½˙³½ˇ³ž=È−łÐ³ýÐð−Ć
NK „Ð³˙łš½š=½−=³¼Þ−Šš¼½Ððş=`aJolj=³½−Þ=−Šžłş=`aJoljK

„ý¾ˇÞ˝Žš½ˇÐ=ž=−¦şÞž=`aJolj=½−¼=VMPpeK
„˙Þ=ŠšÞ=šý¾ˇÞÐ³½š˝=ž=−¦şÞž=`aJolj=½−¼=VMPpeI=ð˙Þ½š=
ŠÐ×Ýş=ðÝÐð=³½−=xi~ìåÅÜÉêKÉñÉz=³½−=`aJolj=³ˇ²K

OK ÓÐ˚³½š=½−=ð−¼ý×˝=×−¼=¦˚Ýš½šK
PK flð−Ý−¼¦¸³½š=½Ð²=−Šžł˝š²=³½žÞ=−¦şÞž=łÐˇ=Þˇ=−Ý−ðÝž¹ć³š½š=

½žÞ=šłðˇ½˙³½ˇ³žK

Òžýš˝ğ³ž
≥ Ú−=½žÝ˚¾ğÞ−=šÞŠ˚₣š½ˇÐ=Þˇ=ýžÞ=ˇÞˇłÞğ¹˝³šÐ=½−=ðˇÝćŠÐ−=

ýš½ˇ¾−¹˙²=ŠšŠ−ý˚ÞğÞ=rp_=š˙Þ=ˇ¼½ş=˚₣šÐ=³¼ÞŠš¦š˝=šÞć=
šð½šÝš˝½ˇÐ=ý˝ˇ=š¾ˇ¹ý−ł¸=EÙğ½−ł¹ˇ¾K=Íž₣ˇÞ¸I=Ú−=¼ÝÐðş=ý−¼=
ðÝ×KFK=Ò¼ÞŠ˚³½š=½−=ðˇÝćŠÐ−=ýš½ˇ¾−¹˙²=ŠšŠ−ý˚ÞğÞ=rp_=³½žÞ=
ðˇ½˙³½ˇ³ž=ˇÞˇý−Þ¸²K

„×Ðð−ÐÞğÞ˝ˇ=¼×˚¹¼¦¹ğÞ
≥ ÌÐ=¦Ć¹š²=¼×˚¹¼¦¹ğÞ=×¹˚×šÐ=Þˇ=š˝ÞˇÐ=š¼¦¼ł¹ˇýýÐ³ý˚Þš²=

ýš½ˇþĆ=½−¼²K
≥ ÌÐ=¦Ć¹š²=¼×˚¹¼¦¹ğÞ=×¹˚×šÐ=Þˇ=š˝ÞˇÐ=½−×−¦š½žý˚Þš²=³š=

ˇ×ş³½ˇ³ž=ý˚₣¹Ð=ðˇÐ=OM=Åã=ž=ý˝ˇ=ˇ×ş=½žÞ=˙ÝÝž=ðˇÐ=³š=łğÞ˝ˇ=
ý˚₣¹Ð=PM=°K

ÍşÞ½šý=PdLdpj
≥ Òˇ²=³¼ÞÐ³½−Ćýš=Þˇ=ˇ×−¾šĆłš½š=Þˇ=×¹ˇłýˇ½−×−Ðš˝½š=¸=Þˇ=

ˇ×ˇÞ½˙½š=³š=ðÝ¸³šÐ²=šÞć=₣¹ž³Ðý−×−Ðš˝½š=½−=VMPpe=ğ²=
ýşÞ½šý=PdLdpjK=Â=ÝšÐ½−¼¹ł˝ˇ=ý×−¹š˝=Þˇ=ŠÐˇð−×š˝K

e~åÇëÉí=j~å~ÖÉê
≥ Ì¹Ð³ý˚Þˇ=ýšł˙Ýˇ=ˇ¹₣š˝ˇ=ý×−¹š˝=Þˇ=ýžÞ=š˝ÞˇÐ=Š¼Þˇ½ş=Þˇ=

ýš½ˇ¾š¹¦−ĆÞ=ˇ×ş=½−Þ=¼×−Ý−łÐ³½¸=³½−=½žÝ˚¾ğÞ−K
≥ ÌÐ=š¾ˇ¹ý−ł˚²=EÙğ½−ł¹ˇ¾K=Íž₣ˇÞ¸I=Ú−=¼ÝÐðş=ý−¼I=ðÝ×KF=Šš=

ÝšÐ½−¼¹ł−ĆÞ=ş½ˇÞ=½−=½žÝ˚¾ğÞ−=š˝ÞˇÐ=³¼ÞŠšý˚Þ−=ýš=½−Þ=
¼×−Ý−łÐ³½¸=ý˚³ğ=¦Ć¹ˇ²=ˇ³Ć¹ýˇ½ž²=½š₣Þ−Ý−ł˝ˇ²=_äìÉíççíÜI=
ý˚³ğ=¦Ć¹ˇ²=¼×˚¹¼¦¹ğÞ=¸=ý˚³ğ=ðˇÝğŠ˝−¼=ýš½ˇ¾−¹˙²=
ŠšŠ−ý˚ÞğÞ=rp_K



NOM flÞ½Ðýš½ć×Ð³ž=Ó¹−ŁÝžý˙½ğÞ

flÞ½Ðýš½ć×Ð³ž=Ó¹−ŁÝžý˙½ğÞ

Ó¹şŁÝžýˇ ÈĆ³ž

Ú−=½žÝ˚¾ğÞ−=ŠšÞ=
šÞš¹ł−×−Ðš˝½ˇÐK

≥ ‡šŁˇÐğ¦š˝½š=ş½Ð=ž=ý×ˇ½ˇ¹˝ˇ=˚₣šÐ=
½−×−¦š½ž¦š˝=³ğ³½˙=ðˇÐ=ş½Ð=š˝ÞˇÐ=
¾−¹½Ð³ý˚ÞžK

ÌÐ=ðğŠÐð−˝=mfk=¸=mfkO=
ˇ×−¹¹˝×½−Þ½ˇÐK

≥ ‡šŁˇÐğ¦š˝½š=ş½Ð=×Ýžð½¹−Ý−ł¸³ˇ½š=
½−=³ğ³½ş=ðğŠÐðş=EQ=˚ğ²=U=Ğž¾˝ğÞFK

≥ Â=ð˙¹½ˇ=pfjLrpfjL−Ð=
×¹−³½ˇ½š¼şýšÞš²=ÝšÐ½−¼¹ł˝š²=³ˇ²=
ðÝšÐŠćÞ−Þ½ˇÐ=ýš½˙=ˇ×ş=½¹šÐ²=
ˇÞš×Ð½¼₣š˝²=×¹−³×˙¦šÐš²K

≥ „×Ðð−ÐÞğÞ¸³½š=ýš=½−Þ=×ˇ¹−₣˚ˇ=½ž²=
ð˙¹½ˇ²=pfjLrpfj=š˙Þ=ŠšÞ=ŠÐˇ¦˚½š½š=
½−=³ğ³½ş=ðğŠÐðş=mfkK

Â=ð˙¹½ˇ=pfjLrpfj=˚₣šÐ=
ðÝšÐŠğ¦š˝K

≥ „Ð³˙łš½š=½−Þ=ðğŠÐðş=mrh=EU=Ğž¾˝ˇF=
×−¼=³ˇ²=˚₣šÐ=Šć³šÐ=−=×ˇ¹−₣˚ˇ²=
¼×ž¹š³ÐćÞ=Eš˙Þ=¼×−³½ž¹˝Žš½ˇÐFK

≥ „˙Þ=ž=×¹−³×˙¦šÐˇ=¸½ˇÞ=š×Ð½¼₣¸²I=
šÐ³˙łš½š=˚Þˇ=Þ˚−=ðğŠÐðş=mfk=ðˇÐ=
š×ÐŁšŁˇÐć³½š=ş½Ð=½−=½žÝ˚¾ğÞş=³ˇ²=
ÝšÐ½−¼¹łš˝=ş×ğ²=×¹ÐÞK=Òš=
ŠÐˇ¾−¹š½Ðð¸=×š¹˝×½ğ³žI=
š×Ðð−ÐÞğÞ¸³½š=ýš=½−Þ=šý×−¹Ððş=
ˇÞ½Ð×¹ş³ğ×−K

‚¼³ð−Ý˝ˇ=³½žÞ=ˇÞ˙łÞğ³ž=
½ž²=−¦şÞž²K

≥ Ô¼¦ý˝³½š=½ž=¾ğ½šÐÞş½ž½ˇ=½−¼=
¾ğ½Ð³ý−Ć=½ž²=−¦şÞž²K

ÌÐ=ÝšÐ½−¼¹ł˝š²=½−¼=
½žÝš¾ćÞ−¼=ŠšÞ=ý×−¹−ĆÞ=
Þˇ=₣¹ž³Ðý−×−Ðž¦−ĆÞ=ş½ˇÞ=
ˇ¼½ş=šÞš¹ł−×−Ðš˝½ˇÐK

≥ „Ý˚łþ½š=½žÞ=Ð³₣Ć=½−¼=³¸ýˇ½−²=Ý¸Ğž²I=
ðˇ¦ć²=šÞŠ˚₣š½ˇÐ=Þˇ=Ł¹˝³ðš³½š=šð½ş²=
šýŁ˚ÝšÐˇ²=½−¼=ŠÐð½Ć−¼K

≥ „Ý˚łþ½š=š˙Þ=šý¾ˇÞ˝Žš½ˇÐ=³½žÞ=−¦şÞž=
ð˙×−Ð−=ý¸Þ¼ýˇ=³¾˙Ýýˇ½−²=ş½ˇÞ=
šÞš¹ł−×−Ðš˝½š=½−=½žÝ˚¾ğÞ−K=„˙Þ=
³¼ýŁˇ˝ÞšÐ=ˇ¼½şI=š×Ðð−ÐÞğÞ¸³½š=ýš=
½−Þ=šý×−¹Ððş=³ˇ²=ˇÞ½Ð×¹ş³ğ×−K

≥ ‡šŁˇÐğ¦š˝½š=ş½Ð=ž=ð˙¹½ˇ=pfjLrpfj=
˚₣šÐ=½−×−¦š½ž¦š˝=³ğ³½˙K

‚šÞ=ý×−¹š˝½š=Þˇ=
×¹ˇłýˇ½−×−Ð¸³š½š=¸=Þˇ=
Šš₣¦š˝½š=ðÝ¸³šÐ²K

≥ „˙Þ=šý¾ˇÞÐ³½š˝=½−=ý¸Þ¼ýˇ=
?„Ð³ˇłğł¸=pfj?=ðˇ½˙=½žÞ=
šÞš¹ł−×−˝ž³ž=½−¼=½žÝš¾ćÞ−¼I=½ş½š=
ŠšÞ=ý×−¹š˝½š=Þˇ=₣¹ž³Ðý−×−Ð¸³š½š=½ž=
³¼łðšð¹Ðý˚Þž=ð˙¹½ˇ=pfjLrpfj=¸=ž=
ð˙¹½ˇ=pfjLrpfj=˚₣šÐ=¼×−³½š˝=ŽžýÐ˙K=
„×Ðð−ÐÞğÞ¸³½š=ýš=½−Þ=šý×−¹Ððş=
ˇÞ½Ð×¹ş³ğ×−=̧ =½−Þ=×ˇ¹−₣˚ˇ=ŠÐð½Ć−¼K

≥ „Ý˚łþ½š=½Ð²=¾¹ˇł˚²=ðÝ¸³šğÞI=½Ð²=
¹¼¦ý˝³šÐ²=ˇ¹Ð¦ýćÞ=³½ˇ¦š¹¸²=
ðÝ¸³ž²I=½žÞ=¼×−ÝšÐ×şýšÞž=¾ş¹½Ð³ž=
½ž²=ý×ˇ½ˇ¹˝ˇ²=ðˇÐ=½Ð²=¹¼¦ý˝³šÐ²=
×¹−ć¦ž³ž²=ðÝ¸³ž²K

≥ „Ý˚łþ½š=š˙Þ=½−=½žÝ˚¾ğÞş=³ˇ²=
×¹ˇłýˇ½−×−Ðš˝=ˇ¼½¸=½ž=³½Ðłý¸=
ýš½ˇ¾−¹˙=ŠšŠ−ý˚ÞğÞ=ý˚³ğ=
¼×˚¹¼¦¹ğÞ=Efêa^FI=ý˚³ğ=¦Ć¹ˇ²=
ˇ³Ć¹ýˇ½ž²=½š₣Þ−Ý−ł˝ˇ²=_äìÉíççíÜ=¸=
ý˚³ğ=ðˇÝğŠ˝−¼=ýš½ˇ¾−¹˙²=
ŠšŠ−ý˚ÞğÞ=rp_K

≥ „Ý˚łþ½š=½−=ŠÐˇ¦˚³Ðý−=¼×şÝ−Ð×−=š˙Þ=
₣¹ž³Ðý−×−Ðš˝½š=ý˝ˇ=×¹−J×Ýž¹ğý˚Þž=
ð˙¹½ˇ=pfjLrpfjK

Ó¹şŁÝžýˇ ÈĆ³ž



flÞ½Ðýš½ć×Ð³ž=Ó¹−ŁÝžý˙½ğÞ NON

Â=×−Ðş½ž½ˇ=³¼Þ−ýÐÝ˝ˇ²=
š˝ÞˇÐ=₣ˇýžÝ¸K

≥ Â=½−×−¦š³˝ˇ=×−¼=Ł¹˝³ðš³½š=ˇ¼½¸=½ž=
³½Ðłý¸=ŠšÞ=×¹−³¾˚¹šÐ=ðˇÝ¸=×−Ðş½ž½ˇ=
³¼Þ−ýÐÝ˝ˇ²=E×K₣K=ý˚³ˇ=³š=ˇ¼½−ð˝Þž½−=
¸=½¹˚Þ−FK=Íš½ˇðÐÞž¦š˝½š=³š=˚Þˇ=
³žýš˝−=ş×−¼=½−=³¸ýˇ=Ý¸Ğž²=š˝ÞˇÐ=
Ð³₣¼¹ş½š¹−K

‚šÞ=ý×−¹š˝½š=Þˇ=
ˇ×−ð½¸³š½š=×¹ş³Łˇ³ž=³½Ð²=
¼×ž¹š³˝š²=ŠÐð½Ć−¼K

≥ „Ý˚łþ½š=š˙Þ=−=Ý−łˇ¹Ðˇ³ýş²=
³ĆÞŠš³¸²=³ˇ²=˚₣šÐ=šłł¹ˇ¾š˝=łÐˇ=½Ð²=
¼×ž¹š³˝š²=ðˇÐ=š˙Þ=ˇ¼½˚²=š˝ÞˇÐ=
ŠÐˇ¦˚³Ðýš²K

‚šÞ=ý×−¹š˝½š=Þˇ=³½š˝Ýš½š=̧ =
Þˇ=Ý˙Łš½š=ł¹ˇ×½˙=
ýžÞĆýˇ½ˇK

≥ ‡šŁˇÐğ¦š˝½š=ş½Ð=˚₣š½š=šłł¹ˇ¾š˝=
³ğ³½˙=³½žÞ=¼×ž¹š³˝ˇ=pjpI=ş½Ð=½−=
Š˝ð½¼ş=³ˇ²=¼×−³½ž¹˝ŽšÐ=ˇ¼½¸=½žÞ=
¼×ž¹š³˝ˇ=ðˇÐ=ş½Ð=˚₣š½š=ðˇ½ˇ₣ğ¹¸³šÐ=
½−=³ğ³½ş=ˇ¹Ð¦ýş=½−¼=ð˚Þ½¹−¼=
¼×ž¹š³ÐćÞK=„˙Þ=ş₣ÐI=š×Ðð−ÐÞğÞ¸³½š=
ýš=½−Þ=×ˇ¹−₣˚ˇ=ŠÐð½Ć−¼K

‚šÞ=ý×−¹š˝½š=Þˇ=
³¼ÞŠš¦š˝½š=ýš=½−Þ=
×ˇ¹−₣˚ˇ=¼×ž¹š³ÐćÞ=
ÍžÞ¼ý˙½ğÞ=Ó−Ý¼ý˚³ğÞK

≥ ÌÐ=¹¼¦ý˝³šÐ²=ðˇÐ=ž=ŠÐˇýş¹¾ğ³ž=jjp=
ý×−¹š˝=Þˇ=ýžÞ=š˝ÞˇÐ=šłðˇ½š³½žý˚Þš²=
¸=Þˇ=š˝ÞˇÐ=š³¾ˇÝý˚Þš²=¸=ž=¼×ž¹š³˝ˇ=
Þˇ=ýžÞ=¼×−³½ž¹˝Žš½ˇÐ=ˇ×ş=½−=Š˝ð½¼−K=
„Ý˚łþ½š=½−Þ=ˇ¹Ð¦ýş=³žýš˝−¼=
×¹ş³Łˇ³ž²=½−¼=×ˇ¹−₣˚ˇ=¼×ž¹š³ÐćÞK
„×Ðð−ÐÞğÞ¸³½š=ýš=½−Þ=×ˇ¹−₣˚ˇ=
¼×ž¹š³ÐćÞ=łÐˇ=Þˇ=š×ÐŁšŁˇÐć³š½š=½Ð²=
³ğ³½˚²=¹¼¦ý˝³šÐ²K

Óš¹Ð−¹Ð³ý˚Þž=ŠÐˇ¦˚³Ðýž=
ýÞ¸ýžK

≥ ‚Ðˇł¹˙Ğ½š=ŠšŠ−ý˚Þˇ=×−¼=ŠšÞ=
₣¹šÐ˙Žš³½š=×Ý˚−ÞK

Ó¹şŁÝžýˇ ÈĆ³ž

Â=ðÝ¸³ž=½š¹ýˇ½˝Žš½ˇÐ=
ˇ×¹ş³ýšÞˇK

≥ ÍˇłÞž½Ð³ý˚Þˇ=ˇÞ½Ððš˝ýšÞˇI=ş×ğ²=
¦š¹ˇ×š¼½Ðð˙=×š¹ÐÝˇ˝ýÐˇI=×−¼=
Ł¹˝³ð−Þ½ˇÐ=ð−Þ½˙=³½−=½žÝ˚¾ğÞ−=
šÞŠ˚₣š½ˇÐ=Þˇ=˚₣−¼Þ=ğ²=³¼Þ˚×šÐˇ=½−Þ=
½š¹ýˇ½Ð³ýş=ýÐˇ²=ðÝ¸³ž²K=Ù¼Ý˙þ½š=½−=
½žÝ˚¾ğÞ−=ýˇð¹Ð˙=ˇ×ş=½˚½−Ðˇ=
ˇÞ½Ððš˝ýšÞˇK

Ëˇý˝ˇ=ðˇ½ˇ₣ć¹ž³ž=ŠšÞ=
šý¾ˇÞ˝Žš½ˇÐ=³½ž=È˝³½ˇ=
„×ˇ¾ćÞK

≥ „×ÐŁšŁˇÐć³½š=ş½Ð=ž=¹Ć¦ýÐ³ž=Ê˚³šğÞ=
„×ˇ¾ćÞ=EÒ¼³ðš¼¸=¸=pfjLrpfjF=š˝ÞˇÐ=
³ğ³½¸K

fl×−½¼₣˝ˇ=ýš½˙Š−³ž²=Ñ~ñK

≥ Ó¹ÐÞ=½ž=ýš½˙Š−³ž=ŠšŠ−ý˚ÞğÞ=Ñ~ñI=
ŠÐˇý−¹¾ć³½š=½−=Ý−łÐ³ýÐðş=Ñ~ñ=˚½³Ð=
ć³½š=Þˇ=₣¹ž³Ðý−×−Ðš˝=˚Ýšł₣−=¹−¸²=
ˇ×ş=½−=Ý−łÐ³ýÐðşK

≥ Òˇ²=³¼ÞÐ³½−Ćýš=Þˇ=₣¹ž³Ðý−×−Ðš˝½š=
½−=×¹−ˇÐ¹š½Ððş=ðˇÝćŠÐ−=ýš½ˇ¾−¹˙²=
ŠšŠ−ý˚ÞğÞ=łÐˇ=½ž=ýš½˙Š−³ž=
ŠšŠ−ý˚ÞğÞ=Ñ~ñK

‚šÞ=š˝ÞˇÐ=Š¼Þˇ½¸=ž=Ý¸Ğž=
ŠšŠ−ý˚ÞğÞ=l_buK

≥ Úˇ=ŠšŠ−ý˚Þˇ=l_bu=ý×−¹−ĆÞ=Þˇ=
Ýž¾¦−ĆÞ=ýşÞ−Þ=³½žÞ=ðˇ½˙³½ˇ³ž=
ˇÞˇý−Þ¸²K

Ó¹şŁÝžýˇ ÈĆ³ž



NOO Û×−Šš˝þšÐ²=fl³¾ˇÝš˝ˇ²=ðˇÐ=⁄¹−Ð=ı¹¸³ž²

Û×−Šš˝þšÐ²=fl³¾ˇÝš˝ˇ²=ðˇÐ=⁄¹−Ð=ı¹¸³ž²
Ú−=½žÝ˚¾ğÞş=³ˇ²=×Ýž¹−˝=½−¼²=ŠÐš¦Þš˝²=ðˇÞ−ÞÐ³ý−Ć²=š¾D=ş³−Þ=
₣¹ž³Ðý−×−Ðš˝½ˇÐ=¼×ş=¾¼³Ð−Ý−łÐð˚²=³¼Þ¦¸ðš²=ðˇÐ=³Ćý¾ğÞˇ=ýš=
½Ð²=−Šžł˝š²=×−¼=ˇð−Ý−¼¦−ĆÞK

ÌÔÌÁ=ıÔÂÒÂÒ
ÂÝšð½¹−ýˇłÞž½Ðð¸=ˇð½ÐÞ−Ł−Ý˝ˇ
≥ ÍžÞ=šÞš¹ł−×−Ðš˝½š=½−=½žÝ˚¾ğÞş=³ˇ²=ş½ˇÞ=Ł¹˝³ðš³½š=ý˚³ˇ=

³š=̌ š¹−³ð˙¾ž=E½−=½žÝ˚¾ğÞş=³ˇ²=šÞŠ˚₣š½ˇÐ=Þˇ=ŠžýÐ−¼¹ł¸³šÐ=
×ˇ¹šýŁ−Ý˚²=³½ˇ=žÝšð½¹−ÞÐð˙=³¼³½¸ýˇ½ˇ=½−¼=̌ š¹−³ð˙¾−¼²FK=
Â=Ð³₣Ć−¼³ˇ=Þ−ý−¦š³˝ˇ=ˇ×ˇł−¹šĆšÐ=ˇ¼½¸=½ž=₣¹¸³ž=ðˇÐ=ð˙¦š=
×ˇ¹˙Łˇ³ž=ŠÐćðš½ˇÐ=×−ÐÞÐð˙K

≥ ÍžÞ=šÞš¹ł−×−Ðš˝½š=½−=½žÝ˚¾ğÞş=³ˇ²=ý˚³ˇ=³š=Þ−³−ð−ýš˝ˇK=
„þˇÐ¹−ĆÞ½ˇÐ=−Ð=₣ć¹−Ð=×−¼=˚₣−¼Þ=³žýˇÞ¦š˝=ðˇ½˙ÝÝžÝˇK

≥ Ú−=ðÐÞž½ş=³ˇ²=½žÝ˚¾ğÞ−=˚₣šÐ=šÝšł₣¦š˝=ðˇÐ=³¼ýý−¹¾ćÞš½ˇÐ=
ýš=½−¼²=ðˇÞ−ÞÐ³ý−Ć²=˚ð¦š³ž²=¹ˇŠÐ−³¼₣Þ−½¸½ğÞ=EocF=
³₣š½Ðð˙=ýš=½Ð²=³ğýˇ½Ðð˚²=ŁÝ˙Łš²I=ş½ˇÞ=₣¹ž³Ðý−×−Ðš˝½ˇÐ=ýš=
˚Þˇ=ˇþš³−¼˙¹=×−¼=ŠšÞ=×š¹Ð˚₣šÐ=ý˚½ˇÝÝ−=ðˇÐ=ž=³¼³ðš¼¸=
½žÝš¾ćÞ−¼=š˝ÞˇÐ=½−×−¦š½žý˚Þž=³š=̌ ×ş³½ˇ³ž=½−¼Ý˙₣Ð³½−Þ=NR=
ãã=ˇ×ş=½−=³ćýˇK=Â=₣¹¸³ž=ýš=˙ÝÝˇ=ˇþš³−¼˙¹=ý×−¹š˝=Þˇ=ýž=
³¼ýý−¹¾ćÞš½ˇÐ=ýš=½Ð²=−Šžł˝š²=˚ð¦š³ž²=ocK

≥ Â=₣¹¸³ž=½−¼=½žÝš¾ćÞ−¼=ý×−¹š˝=Þˇ=š×ž¹š˙³šÐ=½ž=ÝšÐ½−¼¹ł˝ˇ=
žÝšð½¹−ÞÐðćÞ=Ðˇ½¹ÐðćÞ=ýž₣ˇÞžý˙½ğÞ=EŁžýˇ½−Šş½š²I=
ˇð−¼³½Ðð˙=Łˇ¹žð−fiˇ²I=ˇÞ½Ý˝š²=ÐÞ³−¼Ý˝Þž²=ðÝ×KFK=⁄½ˇÞ=½−=
½žÝ˚¾ğÞ−=š˝ÞˇÐ=šÞš¹ł−×−Ðžý˚Þ−I=ýžÞ=×Ýž³Ð˙Žš½š=ð−Þ½˙=³š=
Ðˇ½¹Ððş=šþ−×ÝÐ³ýş=̧ =³š=×š¹Ð−₣˚²=×−¼=₣¹ž³Ðý−×−Ðš˝½ˇÐ=Ðˇ½¹Ððş²=
šþ−×ÝÐ³ýş²K=„˙Þ=₣¹ž³Ðý−×−Ðš˝½š=ˇð−¼³½Ððş=Łˇ¹žð−fiˇ²=¸=
Łžýˇ½−Šş½žI=₣¹ž³Ðý−×−Ð¸³½š=½−=½žÝ˚¾ğÞ−=³½žÞ=̇ ÝÝž=×Ýš¼¹˙=
½−¼=³ćýˇ½ş²=³ˇ²=̌ ×ş=̌ ¼½¸=×−¼=¼×˙¹₣šÐ=½−=̌ Þ½˝³½−Ð₣−=Ðˇ½¹Ððş=
Ł−¸¦žýˇK=Ú−=½žÝ˚¾ğÞ−=¦ˇ=×¹˚×šÐ=Þˇ=ŠÐˇ½ž¹š˝½ˇÐ=³š=̌ ×ş³½ˇ³ž=
½−¼Ý˙₣Ð³½−Þ=NRIOQ=Åã=ˇ×ş=½−=Łžýˇ½−Šş½ž=ÓflÎÚÌÚ„I=ş½ˇÞ=½−=
½žÝ˚¾ğÞ−=š˝ÞˇÐ=šÞš¹ł−×−Ðžý˚Þ−K

≥ ÍžÞ=šÞš¹ł−×−Ðš˝½š=½−=½žÝ˚¾ğÞş=³ˇ²=ð−Þ½˙=³š=ˇ˚¹Ðˇ=¸=
šĆ¾Ýšð½ˇ=¼ÝÐð˙K

≥ Úž¹š˝½š=½−¼²=ðˇÞ−ÞÐ³ý−Ć²=łÐˇ=½ž=₣¹¸³ž=ðÐÞž½ćÞ=½žÝš¾ćÞğÞ=
³š=×¹ˇ½¸¹Ðˇ=ðˇ¼³˝ýğÞI=₣žýÐð˙=š¹ł−³½˙³Ðˇ=ðˇÐ=³š=şÝš²=½Ð²=
×š¹Ð−₣˚²=ýš=ˇ¼þžý˚Þ−=ð˝ÞŠ¼Þ−=šð¹¸þšğÞK

Ù¹−Þ½˝Šˇ=½−¼=½žÝš¾ćÞ−¼=³ˇ²
≥ ÍžÞ=š×Ð½¹˚×š½š=³½ˇ=×ˇÐŠÐ˙=Þˇ=₣¹ž³Ðý−×−Ð−ĆÞ=½−=½žÝ˚¾ğÞş=

³ˇ²=₣ğ¹˝²=š×−×½š˝ˇK
≥ ÍžÞ=ˇÞ−˝łš½š=ðˇÐ=ýžÞ=×¹−³×ˇ¦š˝½š=Þˇ=š×Ð³ðš¼˙³š½š=ýşÞ−Ð=

³ˇ²=½−=½žÝ˚¾ğÞ−K=Ú−=×¹−İşÞ=ý×−¹š˝=Þˇ=š×Ð³ðš¼ˇ³½š˝=ýşÞ−Þ=
ˇ×ş=šþ−¼³Ð−Š−½žý˚Þ−=×¹−³ğ×Ððş=³˚¹ŁÐ²K

≥ ÍžÞ=ˇ¾¸Þš½š=½−=½žÝ˚¾ğÞ−=Þˇ=×˚³šÐ=ð˙½ğ=ðˇÐ=ýžÞ=½−=
¼×−Ł˙Ýš½š=³š=Ð³₣¼¹˙=₣½¼×¸ýˇ½ˇK=Ú−=×˙½žýˇ=½ž²=−¦şÞž²=̧ =½ğÞ=
×Ý¸ð½¹ğÞ=ýš=ýšł˙Ýž=ŠĆÞˇýž=ðˇÐ=ž=ð˙ýĞž=½−¼=×š¹ÐŁÝ¸ýˇ½−²=
ý×−¹š˝=Þˇ=×¹−ðˇÝ˚³−¼Þ=³žýˇÞ½Ðð˚²=ŁÝ˙Łš²=³½−=½žÝ˚¾ğÞ−K

≥ Íž=₣¹ž³Ðý−×−Ðš˝½š=ŠÐˇÝ¼½Ðð˙=łÐˇ=Þˇ=ðˇ¦ˇ¹˝³š½š=½−=½žÝ˚¾ğÞş=
³ˇ²K=ı¹ž³Ðý−×−Ð¸³½š=ýşÞ−Þ=˚Þˇ=ýˇÝˇðşI=³½šłÞş=×ˇÞ˝K

≥ Íž=ýš½ˇ¾˚¹š½š=½−=½žÝ˚¾ğÞş=³ˇ²=³½žÞ=×˝³ğ=½³˚×ž=½−¼=
×ˇÞ½šÝ−ÞÐ−ĆI=ðˇ¦ć²=ˇ¼½ş=ý×−¹š˝=Þˇ=¼×−³½š˝=ŽžýÐ˚²=š˙Þ=
ðˇ¦˝³š½šK=Â=−¦şÞž=š˝ÞˇÐ=ðˇ½ˇ³ðš¼ˇ³ý˚Þž=ˇ×ş=ł¼ˇÝ˝=ðˇÐ=š˝ÞˇÐ=
ÐŠÐˇ˝½š¹ˇ=šĆ¦¹ˇ¼³½žK

≥ fl×−¾Ćłš½š=½žÞ=š×ˇ¾¸=ýš=½žÞ=šþğ½š¹Ðð¸=¼×−Š−₣¸=³ĆÞŠš³ž²=
³½−=ð˙½ğ=ý˚¹−²=½−¼=½žÝš¾ćÞ−¼I=ðˇ¦ć²=¼×˙¹₣šÐ=×Ð¦ˇÞş½ž½ˇ=
Þˇ=×¹−ðˇÝ˚³š½š=ŽžýÐ˙=³½ˇ=š¼ˇ˝³¦ž½ˇ=š³ğ½š¹Ðð˙=šþˇ¹½¸ýˇ½ˇ=
Ýşłğ=³½ˇ½Ðð−Ć=žÝšð½¹Ð³ý−ĆK

Í×ˇ½ˇ¹˝ˇ
≥ ı¹ž³Ðý−×−Ðš˝½š=½−=½žÝ˚¾ğÞş=³ˇ²=ýşÞ−Þ=ýš=½Ð²=ý×ˇ½ˇ¹˝š²I=

½−¼²=¾−¹½Ð³½˚²=ðˇÐ=½ˇ=ˇþš³−¼˙¹=×−¼=×¹−½š˝ÞšÐ=−=
ðˇ½ˇ³ðš¼ˇ³½¸²K=Ì=ðˇ½ˇ³ðš¼ˇ³½¸²=Šš=¾˚¹šÐ=ðˇý˝ˇ=š¼¦ĆÞž=
łÐˇ=¾¦−¹˚²=¸=ŁÝ˙Łš²=×−¼=¦ˇ=×¹−ðÝž¦−ĆÞ=ˇ×ş=½ž=₣¹¸³ž=
˙ÝÝğÞ=¾−¹½Ð³½ćÞI=ý×ˇ½ˇ¹ÐćÞ=¸=ˇþš³−¼˙¹K



Û×−Šš˝þšÐ²=fl³¾ˇÝš˝ˇ²=ðˇÐ=⁄¹−Ð=ı¹¸³ž² NOP

≥ Â=ŠÐˇýş¹¾ğ³ž=½−¼=ŠÐð½Ć−¼=ðˇÐ=ž=³¼₣Þş½ž½ˇ=₣¹¸³ž²=½−¼=
½žÝš¾ćÞ−¼=š×ž¹š˙Ž−¼Þ=½−=₣¹şÞ−=−ýÐÝ˝ˇ²=ðˇÐ=½−=₣¹şÞ−=
ˇÞˇý−Þ¸²K
Â=₣¹¸³ž=½ğÞ=×ˇÐ₣ÞÐŠÐćÞ=¸=½ž²=¾ğ½−ł¹ˇ¾Ðð¸²=ýž₣ˇÞ¸²=
ˇ¼þ˙ÞšÐ=³žýˇÞ½Ðð˙=½žÞ=ðˇ½ˇÞ˙Ýğ³ž=½ž²=ý×ˇ½ˇ¹˝ˇ²K

≥ Ù−¹½˝³½š=½žÞ=ý×ˇ½ˇ¹˝ˇ=½−=³¼Þ½−ýş½š¹−=Š¼Þˇ½şÞI=ş½ˇÞ=
šý¾ˇÞÐ³½š˝=³½žÞ=−¦şÞž=ž=×¹−šÐŠ−×−˝ž³ž=¾ş¹½Ð³ž²=½ž²=
ý×ˇ½ˇ¹˝ˇ²K=„˙Þ=³¼Þš₣˝³š½š=Þˇ=½−=₣¹ž³Ðý−×−Ðš˝½š=̌ łÞ−ćÞ½ˇ²=
½ž=³₣š½Ðð¸=×¹−šÐŠ−×−˝ž³žI=½−=½žÝ˚¾ğÞ−=ˇÞ˙=×˙³ˇ=³½Ðłý¸=
ý×−¹š˝=Þˇ=³½ˇýˇ½¸³šÐ=Þˇ=ÝšÐ½−¼¹łš˝=ðˇÐ=Þˇ=₣ˇ¦−ĆÞ=şÝˇ=½ˇ=
ŠšŠ−ý˚Þˇ=¸=−Ð=¹¼¦ý˝³šÐ²=×−¼=˚₣š½š=ˇ×−¦žðšĆ³šÐ=³š=ˇ¼½şK

≥ Ó¹ÐÞ=ˇ¾ˇÐ¹˚³š½š=½žÞ=ý×ˇ½ˇ¹˝ˇ=ˇ×ş=½−=½žÝ˚¾ğÞ−I=
ŁšŁˇÐğ¦š˝½š=ş½Ð=½−=˚₣š½š=ˇ×šÞš¹ł−×−Ð¸³šÐK

≥ flÞ½Ððˇ½ˇ³½¸³½š=ðˇÐ=¾−¹½˝³½š=½ž=Þ˚ˇ=ý×ˇ½ˇ¹˝ˇ=½−=
³¼Þ½−ýş½š¹−=Š¼Þˇ½şÞ=ýš½˙=½žÞ=ˇ¾ˇ˝¹š³ž=½ž²=×ˇÝÐ˙²=
ý×ˇ½ˇ¹˝ˇ²K

≥ ÍžÞ=ˇð−¼ý×˙½š=½−¼²=ˇð¹−Š˚ð½š²=½ž²=ý×ˇ½ˇ¹˝ˇ²K=ÌÐ=
ý×ˇ½ˇ¹˝š²=ý×−¹š˝=Þˇ=×¹−ðˇÝ˚³−¼Þ=¼ÝÐð˚²=ŽžýÐ˚²I=
½¹ˇ¼ýˇ½Ð³ýş=¸=šłðˇĆýˇ½ˇI=š˙Þ=ð˙×−Ð−=ˇłćłÐý−=¼ÝÐðş=˚¹¦šÐ=
³š=š×ˇ¾¸=ýš=½−¼²=ˇð¹−Š˚ð½š²K=⁄½ˇÞ=ž=ý×ˇ½ˇ¹˝ˇ=ˇ¾ˇÐ¹š¦š˝=
ˇ×ş=½−=½žÝ˚¾ğÞ−I=₣¹ž³Ðý−×−Ð¸³½š=˚Þˇ=ð˙Ý¼ýýˇ=ˇ×ş=ýž=
ˇłćłÐý−=¼ÝÐðş=łÐˇ=Þˇ=½ž=¾¼Ý˙þš½š=¸=Þˇ=½ž=ýš½ˇ¾˚¹š½š=ýš=
ˇ³¾˙ÝšÐˇK

≥ Â=³¼ÞÐ³½ćýšÞž=¦š¹ý−ð¹ˇ³˝ˇ=łÐˇ=½ž=₣¹¸³ž=ðˇÐ=½ž=¾ĆÝˇþž=½ğÞ=
ý×ˇ½ˇ¹ÐćÞ=š˝ÞˇÐ=×š¹˝×−¼=OMŒ`K

≥ Â=ˇ×şŠ−³ž=½ğÞ=ý×ˇ½ˇ¹ÐćÞ=×š¹Ð−¹˝Žš½ˇÐ=³½Ð²=₣ˇýžÝ˚²=
¦š¹ý−ð¹ˇ³˝š²I=ÐŠÐˇ˝½š¹ˇ=ð˙½ğ=½−¼=MŒ`I=ðˇÐ=½−=½žÝ˚¾ğÞ−=
ý×−¹š˝=Þˇ=ýž=ÝšÐ½−¼¹ł¸³šÐ=×¹−³ğ¹ÐÞ˙I=ˇÞšþ˙¹½ž½ˇ=ˇ×ş=½žÞ=
¼×−ÝšÐ×şýšÞž=šÞ˚¹łšÐˇ=½ž²=ý×ˇ½ˇ¹˝ˇ²K

≥ Â=˚ð¦š³ž=½−¼=½žÝš¾ćÞ−¼=³š=ˇð¹ˇ˝š²=¦š¹ý−ð¹ˇ³˝š²=ýšÐćÞšÐ=
½ž=ŠÐ˙¹ðšÐˇ=Žğ¸²=½ž²=ý×ˇ½ˇ¹˝ˇ²K

≥ Â=ý×ˇ½ˇ¹˝ˇ=ý×−¹š˝=Þˇ=šð¾−¹½Ð³½š˝=ðˇÐ=Þˇ=š×ˇÞˇ¾−¹½Ð³½š˝=
šðˇ½−Þ½˙Šš²=¾−¹˚²=̌ ÝÝ˙=̌ ¼½ş=̊ ₣šÐ=ğ²=³¼Þ˚×šÐˇ=½ž=³½ˇŠÐˇð¸=
ýš˝ğ³ž=½ž²=ˇ×şŠ−³¸²=½ž²K=⁄½ˇÞ=−=₣¹şÞ−²=₣¹¸³ž²=½ž²=
ý×ˇ½ˇ¹˝ˇ²=E₣¹şÞ−²=−ýÐÝ˝ˇ²=ðˇÐ=₣¹şÞ−²=ˇÞˇý−Þ¸²F=ýšÐğ¦š˝=
ˇÐ³¦ž½˙=¦ˇ=₣¹šÐˇ³½š˝=Þˇ=ˇł−¹˙³š½š=ý˝ˇ=Þ˚ˇ=ý×ˇ½ˇ¹˝ˇK

ÓÔÌÒÌıÂ
ËÁÎ‚ÛÎÌÒ=„ËÔÂÏÂÒ=Ò„=Ó„ÔÁÓÚ˜ÒÂ=flÎÚÁËflÚflÒÚflÒÂÒ=ÚÂÒ=ÍÓflÚflÔÁflÒ

flÓÌ=flÈÈÂ=ÍÓflÚflÔÁflI=ÍÂ=„Î‚„‚„Á·Í„ÎÌÛ=ÚÛÓÌÛ
flÓÌÔÔÁˆÚ„=ÚÁÒ=ıÔÂÒÁÍÌÓÌÁÂÍ„Î„Ò=ÍÓflÚflÔÁ„Ò=ÒÛÍÙ˜Îfl=Í„

ÚÁÒ=Òı„ÚÁË„Ò=Ì‚Â·Á„Ò

‚š˝½š=?fl×ş¹¹ÐĞž=½ž²=Í×ˇ½ˇ¹˝ˇ²?=³½ž=³šÝ˝Šˇ NOK
Ë˙¹½ˇ=ÍÞ¸ýž²
≥ ÍžÞ=ˇ¾ˇÐ¹˚³š½š=¸=½−×−¦š½¸³š½š=ýÐˇ=ð˙¹½ˇ=ýÞ¸ýž²=šÞć=

×¹ˇłýˇ½−×−Ðš˝½ˇÐ=š×šþš¹łˇ³˝ˇ=ŠšŠ−ý˚ÞğÞ=½ž²=ð˙¹½ˇ²K=ÍžÞ=
ˇ×šÞš¹ł−×−Ðš˝½š=½−=½žÝ˚¾ğÞ−=¸=½ž=³¼³ðš¼¸=×−¼=×š¹Ð˚₣šÐ=
½žÞ=ð˙¹½ˇ=ýÞ¸ýž²=ş½ˇÞ=ł˝Þš½ˇÐ=š×šþš¹łˇ³˝ˇ=½ğÞ=ŠšŠ−ý˚ÞğÞ=
½ž²=ð˙¹½ˇ²K=fl¼½ş=ý×−¹š˝=Þˇ=˚₣šÐ=ğ²=ˇ×−½˚Ýš³ýˇ=½žÞ=
ðˇ½ˇ³½¹−¾¸=½ğÞ=ŠšŠ−ý˚ÞğÞ=¸=½ž=ŠÐˇð−×¸=½ž²=³ğ³½¸²=
ÝšÐ½−¼¹ł˝ˇ²=½ž²=ð˙¹½ˇ²K

≥ Ò½Ð²=×ˇ¹ˇð˙½ğ=×š¹Ð×½ć³šÐ²=š˝ÞˇÐ=×Ð¦ˇÞşÞ=Þˇ=³žýšÐğ¦š˝=
ˇ×ćÝšÐˇ=ŠšŠ−ý˚ÞğÞW
J „˙Þ=ž=³¼³ðš¼¸=×˚³šÐ=ð˙½ğ=¸=ð−¼Þž¦š˝I=¸=š˙Þ=ˇ³ðž¦š˝=

ýšł˙Ýž=ŠĆÞˇýž=ðˇ½˙=½žÞ=½−×−¦˚½ž³ž=½ž²=ð˙¹½ˇ²=ýÞ¸ýž²K
J „˙Þ=½−=½žÝ˚¾ğÞ−=₣¹ž³Ðý−×−Ðš˝½ˇÐ=³š=×š¹Ð−₣˚²=×−¼=š˝ÞˇÐ=

šð½š¦šÐý˚Þš²=³š=³½ˇ½Ððş=žÝšð½¹Ð³ýş=¸=žÝšð½¹Ðð˙=×šŠ˝ˇK
≥ Ë¹ˇ½¸³½š=š¾šŠ¹Ðð˙=ˇÞ½˝ł¹ˇ¾ˇ=½ğÞ=³žýˇÞ½ÐðćÞ=ŠšŠ−ý˚ÞğÞ=

³ˇ²=łÐˇ=½žÞ=×š¹˝×½ğ³ž=×−¼=₣ˇ¦−ĆÞ=ŠšŠ−ý˚Þˇ=ˇ×ş=½žÞ=ð˙¹½ˇ=
ýÞ¸ýž²=Ýşłğ=š³¾ˇÝý˚Þž²=ÝšÐ½−¼¹ł˝ˇ²K

≥ ÍžÞ=ˇłł˝Žš½š=½−¼²=ýš½ˇÝÝÐð−Ć²=ˇð¹−Š˚ð½š²=ýš=½ˇ=₣˚¹Ðˇ=³ˇ²=
¸=ýš=ýš½ˇÝÝÐð˙=ˇÞ½Ððš˝ýšÞˇK



NOQ Û×−Šš˝þšÐ²=fl³¾ˇÝš˝ˇ²=ðˇÐ=⁄¹−Ð=ı¹¸³ž²

≥ Íž=Ý¼ł˝Žš½š=½žÞ=ð˙¹½ˇ=ýÞ¸ýž²=ðˇÐ=ýžÞ=½žÞ=¼×−Ł˙Ýš½š=³š=
Ð³₣¼¹˙=₣½¼×¸ýˇ½ˇK=Ù¼Ý˙þ½š=½ž=ýˇð¹Ð˙=ˇ×ş=Þš¹ş=ðˇÐ=¼ĞžÝ˚²=
¦š¹ý−ð¹ˇ³˝š²K

≥ Â=pe^om=ŠšÞ=¾˚¹šÐ=ðˇý˝ˇ=š¼¦ĆÞž=łÐˇ=̌ ×ćÝšÐˇ=̧ =ðˇ½ˇ³½¹−¾¸=
ŠšŠ−ý˚ÞğÞ=×−¼=×š¹Ð˚₣−Þ½ˇÐ=³š=ð˙¹½š²=ýÞ¸ýž²K

≥ Ù¼Ý˙þ½š=şÝš²=½Ð²=ð˙¹½š²=ýÞ¸ýž²=ýˇð¹Ð˙=ˇ×ş=ýÐð¹˙=×ˇÐŠÐ˙K
Ù¹−Þ½˝Šˇ=Ëš¹ˇ˝ˇ²
≥ ÍžÞ=ðˇÝĆ×½š½š=½−=š×˙Þğ=ý˚¹−²=½−¼=½žÝš¾ćÞ−¼=E³šÝK UI=̌ ¹K ONF=

ýš=½−=₣˚¹Ð=³ˇ²=ş½ˇÞ=½−=₣¹ž³Ðý−×−Ðš˝½š=łÐˇ½˝=ý×−¹š˝=Þˇ=
š×ž¹š˙³šÐ=½žÞ=ˇ×şŠ−³ž=½ž²=šÞ³ğýˇ½ğý˚Þž²=ðš¹ˇ˝ˇ²K=Â=
×−Ðş½ž½ˇ=³¼Þ−ýÐÝ˝ˇ²=šÞŠ˚₣š½ˇÐ=Þˇ=×š¹Ð−¹Ð³½š˝=ðˇÐ=̌ ¼½ş=¦ˇ=̊ ₣šÐ=
³ˇÞ=ˇ×−½˚Ýš³ýˇ=ýšÐğý˚Þ−¼²=₣¹şÞ−¼²=−ýÐÝ˝ˇ²=ðˇÐ=ˇÞˇý−Þ¸²=
š×šÐŠ¸=½−=ðÐÞž½ş=½žÝ˚¾ğÞ−=šÞŠš₣−ý˚Þğ²=Þˇ=₣¹šÐˇ³½š˝=Þˇ=
ÝšÐ½−¼¹ł¸³šÐ=ýš=×š¹Ð³³ş½š¹ž=Ð³₣Ć=ˇ×ş=½žÞ=ˇ×ˇÐ½−ĆýšÞžK

≥ ı¹ž³Ðý−×−Ð¸³½š=ýşÞ−Þ=½žÞ=ðš¹ˇ˝ˇ=×−¼=×ˇ¹ˇŠ˝Šš½ˇÐ=ýš=½ž=
³¼³ðš¼¸=̧ =ý˝ˇ=ðš¹ˇ˝ˇ=šłðšð¹Ðý˚Þž=̌ ×ş=½ž=pÜ~êé=łÐˇ=½ž=₣¹¸³ž=
ýš=½−=ðÐÞž½ş=³ˇ²=½žÝ˚¾ğÞ−K=Â=₣¹¸³ž=½¹−×−×−Ðžý˚ÞğÞ=¸=ýž=
šłðšð¹Ðý˚ÞğÞ=ðš¹ˇÐćÞ=ý×−¹š˝=Þˇ=×¹−ðˇÝ˚³šÐ=ŁÝ˙Łš²=³½−=
ðÐÞž½ş=³ˇ²=½žÝ˚¾ğÞ−K=„×Ð×¹ş³¦š½ˇI=šÞŠ˚₣š½ˇÐ=Þˇ=
×ˇ¹ˇŁÐˇ³½−ĆÞ=−Ð=Ð³₣Ć−Þ½š²=ðˇÞ−ÞÐ³ý−˝I=Þˇ=ýšÐğ¦š˝=ž=
ˇ×şŠ−³ž=½−¼=ðÐÞž½−Ć=½žÝš¾ćÞ−¼=¸=ˇ¼½ş=Þˇ=¼×š¹Łš˝=½Ð²=
−¹Ðˇð˚²=½Ðý˚²=p^oK

≥ ·Ðˇ=Þˇ=ˇ×−¾Ćłš½š=½ž=ýšÐğý˚Þž=ˇ×şŠ−³žI=ýžÞ=×¹−ðˇÝš˝½š=
ŽžýÐ˚²=³½žÞ=ðš¹ˇ˝ˇ=½−¼=ðÐÞž½−Ć=³ˇ²=½žÝš¾ćÞ−¼K

≥ ⁄½ˇÞ=ýÐÝ˙½š=ˇ×š¼¦š˝ˇ²=³½−=ýÐð¹ş¾ğÞ−I=ð¹ˇ½¸³½š=½−=ðÐÞž½ş=
½žÝ˚¾ğÞ−=̊ ½³Ð=ć³½š=ž=ðš¹ˇ˝ˇ=Þˇ=̊ ₣šÐ=ðˇ½šĆ¦¼Þ³ž=š×˙Þğ=̌ ×ş=
½−Þ=ćý−=³ˇ²K

≥ ·Ðˇ=Þˇ=ˇ×−¾Ćłš½š=½¼₣şÞ=×ˇ¹šýŁ−Ý˚²=³š=₣ć¹−¼²=ş×−¼=
×¹ˇłýˇ½−×−Ð−ĆÞ½ˇÐ=₣šÐ¹Ð³ý−˝=šð¹žð½ÐðćÞ=¸=³š=×š¹Ð−₣˚²=
ş×−¼=¼×˙¹₣šÐ=³¸ýˇÞ³ž=?¼×−₣¹šğ½Ðð¸²=ˇ×šÞš¹ł−×−˝ž³ž²=J
×−ý×−Ššð½ćÞ?=×ˇ¹ˇðˇÝ−Ćýš=ˇ×šÞš¹ł−×−Ð¸³½š=½−=ðÐÞž½ş=
³ˇ²=½žÝ˚¾ğÞ−K

ÈšÐ½−¼¹ł˝ˇ=Ùğ½−ł¹ˇ¾Ðð¸²=Íž₣ˇÞ¸²
≥ Í˙¦š½š=łÐˇ=½žÞ=×−Ðş½ž½ˇ=½ğÞ=¾ğ½−ł¹ˇ¾ÐćÞI=½ˇ=¾−¹ý˙=

ˇ¹₣š˝ğÞ=ðÝ×K
ÌÐ=¾ğ½−ł¹ˇ¾˝š²=×−¼=Ý¸¾¦žðˇÞ=ý×−¹−ĆÞ=Þˇ=ˇ×−¦žðš¼½−ĆÞ=
³š=¾−¹ý˙=gmbdK

≥ Ë¹ˇ½¸³½š=³½ˇ¦š¹ş=½−=₣˚¹Ð=³ˇ²=ş½ˇÞ=¾ğ½−ł¹ˇ¾˝Žš½šK
„˙Þ=½−=½žÝ˚¾ğÞ−=ð−¼Þž¦š˝=ðˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=½ž²=
¾ğ½−ł¹˙¾ž³ž²I=ž=¾ğ½−ł¹ˇ¾˝ˇ=¦ˇ=š˝ÞˇÐ=¦−Ý¸K=⁄½ˇÞ=
¾ğ½−ł¹ˇ¾˝Žš½šI=ð¹ˇ½¸³½š=³½ˇ¦š¹˙=½−=½žÝ˚¾ğÞ−=¸=
₣¹ž³Ðý−×−Ð¸³½š=½−=₣¹−Þ−ŠÐˇðş×½ž=ðˇ¦¼³½˚¹ž³ž²K

≥ Ëˇ¦ˇ¹˝³½š=½−=ð˙Ý¼ýýˇ=½−¼=¾ˇð−Ć=×¹ÐÞ=½¹ˇŁ¸þš½š=ý˝ˇ=
¾ğ½−ł¹ˇ¾˝ˇK
Úˇ=Šˇð½¼ÝÐð˙=ˇ×−½¼×ćýˇ½ˇI=−Ð=ÝÐ×ˇ¹−˝=Ýšð˚Šš²=ðÝ×K=š×˙Þğ=
³½−=ð˙Ý¼ýýˇ=½−¼=¾ˇð−Ć=šý×−Š˝Ž−¼Þ=½ž=³ğ³½¸=š³½˝ˇ³žK=
Ëˇ¦ˇ¹˝³½š=½−=ð˙Ý¼ýýˇ=½−¼=¾ˇð−Ć=ýš=˚Þˇ=ýˇÝˇðş=×ˇÞ˝=×¹ÐÞ=
½¹ˇŁ¸þš½š=ý˝ˇ=¾ğ½−ł¹ˇ¾˝ˇK

‚Ð˙¾−¹ˇ
≥ ⁄×ğ²=³¼ýŁˇ˝ÞšÐ=ðˇÐ=³š=ð˙¦š=žÝšð½¹−ÞÐð¸=³¼³ðš¼¸=

ˇ×−¦¸ðš¼³ž²=ŠšŠ−ý˚ÞğÞ=˚½³Ð=ðˇÐ=šŠćI=¼×˙¹₣šÐ=×š¹˝×½ğ³ž=
Þˇ=₣ˇ¦−ĆÞ=¸=Þˇ=ðˇ½ˇ³½¹ˇ¾−ĆÞ=ŠšŠ−ý˚Þˇ=¼×ş=−¹Ð³ý˚Þš²=
³¼Þ¦¸ðš²K

≥ Ó¹ÐÞ=³¼ÞŠ˚³š½š=½−=½žÝ˚¾ğÞ−=ýš=˚ÞˇÞ=¼×−Ý−łÐ³½¸=¸=ý˝ˇ=
×š¹Ð¾š¹šÐˇð¸=ý−Þ˙ŠˇI=ŠÐˇŁ˙³½š=½Ð²=−Šžł˝š²=ÝšÐ½−¼¹ł˝ˇ²=½ž²=
˙ÝÝž²=³¼³ðš¼¸²K

≥ „˙Þ=ž=ý×ˇ½ˇ¹˝ˇ=ˇ¾ˇÐ¹˚¦žðš=ˇ×ş=½−=½žÝ˚¾ğÞ−=łÐˇ=ˇ¹ðš½ş=
₣¹−ÞÐðş=ŠÐ˙³½žýˇI=¸=š˙Þ=×¹ˇłýˇ½−×−Ð¸¦žðš=š×ˇÞˇ¾−¹˙=½ğÞ=
¹¼¦ý˝³šğÞ=½−¼=½žÝš¾ćÞ−¼=×Ð¦ˇÞşÞ=Þˇ=ˇ×ˇÐ½š˝½ˇÐ=
š×ˇÞˇ¹¹Ć¦ýÐ³ž=½−¼=¹−Ý−łÐ−Ć=ðˇÐ=½−¼=žýš¹−Ý−ł˝−¼K=Òš=̌ ¼½¸=½žÞ=
×š¹˝×½ğ³žI=¦ˇ=×¹˚×šÐ=Þˇ=šÞžýš¹ğ¦š˝=ž=žýš¹−ýžÞ˝ˇ=ðˇÐ=ž=ć¹ˇK

≥ Ú−=½žÝ˚¾ğÞ−=₣¹ž³Ðý−×−Ðš˝=˚ÞˇÞ=ýˇłÞ¸½ž=łÐˇ=Þˇ=
ˇÞˇłÞğ¹˝Žš½ˇÐ=×ş½š=š˝ÞˇÐ=ðÝšÐ³½şK=ÍžÞ=½−×−¦š½š˝½š=
ýˇłÞž½Ðð˚²=ð˙¹½š²=ð−Þ½˙=³½−=½žÝ˚¾ğÞ−=¸=ýžÞ=³½š¹šćÞš½š=
½Ð²=ð˙¹½š²=š×˙Þğ=³½−=½žÝ˚¾ğÞ−=ˇ¾−Ć=ý×−¹š˝=Þˇ=
ðˇ½ˇ³½¹ˇ¾−ĆÞ=½ˇ=ŠšŠ−ý˚Þˇ=½ž²=ð˙¹½ˇ²K



Û×−Šš˝þšÐ²=fl³¾ˇÝš˝ˇ²=ðˇÐ=⁄¹−Ð=ı¹¸³ž² NOR

Ó„ÔÁ‡flÈÈÌÎ
≥ Ù¼Ý˙þ½š=½−=½žÝ˚¾ğÞ−=ýˇð¹Ð˙=ˇ×ş=×žł˚²=˚Þ½−Þž²=

¦š¹ýş½ž½ˇ²K=ÍžÞ=½−=ˇ¾¸Þš½š=³½−=½ˇý×Ýş=ˇ¼½−ðÐÞ¸½−¼=¸=
ð−Þ½˙=³š=˚Þˇ=¦š¹ýˇÞ½Ððş=³ćýˇK=ÍžÞ=½−=ˇ¾¸Þš½š=³š=₣ć¹−¼²=
ýš=¼×š¹Ł−ÝÐð¸=¼ł¹ˇ³˝ˇ=¸=³ðşÞžK

≥ Ú−=×¹−İşÞ=ŠšÞ=š˝ÞˇÐ=ˇŠÐ˙Ł¹−₣−K=·Ðˇ=½−=Ýşł−=ˇ¼½şI=ýžÞ=½−=
₣¹ž³Ðý−×−Ðš˝½š=ðˇÐ=ýžÞ=½−=¾¼Ý˙³³š½š=³š=³žýš˝ˇ=ş×−¼=ý×−¹š˝=
Þˇ=˚¹¦šÐ=³š=š×ˇ¾¸=ýš=¼ł¹˙I=×K₣K=Þˇ=Ł¹ˇ₣š˝=ýš=Þš¹şK=ÌÐ=
³½ˇłşÞš²=Ł¹−₣¸²I=½ˇ=³½ˇł−Þ˝ŠÐˇ=Þš¹−ĆI=−=₣¼ýş²I=−=ðˇ¾˚²I=−Ð=
¼Š¹ˇ½ý−˝I=½ˇ=³×¹˚Ð=ðÝ×K=ý×−¹−ĆÞI=š×˝³ž²I=Þˇ=×¹−ðˇÝ˚³−¼Þ=
Š¼³ÝšÐ½−¼¹ł˝š²=½ž²=³¼³ðš¼¸²K

ÓÔÌÙÛÈflÏ„ÁÒ=Òı„ÚÁËfl=Í„=ÚÂ=ıÔÂÒÂ=Ò„=
ÌıÂÍflÚfl
≥ fl×−½šÝš˝=š¼¦ĆÞž=½−¼=₣¹¸³½ž=Þˇ=šÝ˚łþšÐ=½Ð²=ðˇ½˙=½ş×−¼²=

Þ−ý−¦š³˝š²=×−¼=ŠÐ˚×−¼Þ=½ž=₣¹¸³ž=½−¼=½žÝš¾ćÞ−¼=ý˚³ˇ=³š=
−₣¸ýˇ½ˇK=‚ć³½š=½ž=ý˚łÐ³½ž=×¹−³−₣¸=³½žÞ=−Š¸łž³žK=Ò½ˇýˇ½¸³½š=
³½žÞ=˙ð¹ž=½−¼=Š¹şý−¼I=³½ˇ¦ýšĆ³½š=½−=ş₣žýˇI=³Ł¸³½š=½−Þ=
ðÐÞž½¸¹ˇ=×¹ÐÞ=ˇ×ˇÞ½¸³š½š=¸=×¹ˇłýˇ½−×−Ð¸³š½š=ð˙×−Ðˇ=ðÝ¸³žK

≥ Â=₣¹¸³ž=½−¼=½žÝš¾ćÞ−¼=ý×−¹š˝=Þˇ=×¹−ðˇÝ˚³šÐ=×ˇ¹šýŁ−Ý˚²=
³½ˇ=žÝšð½¹−ÞÐð˙=³¼³½¸ýˇ½ˇ=½−¼=−₣¸ýˇ½−²=ş×ğ²=š˝ÞˇÐ=×K₣K=½−=
³Ć³½žýˇ=^_p=¸=−=ˇš¹ş³ˇð−²K=·Ðˇ=Þˇ=ŁšŁˇÐğ¦š˝½š=ş½Ð=ŠšÞ=¦ˇ=
×ˇ¹−¼³Ðˇ³½š˝=ð˙×−Ð−=×¹şŁÝžýˇI=×ˇ¹ˇðˇÝ−Ćýš=
š×Ðð−ÐÞğÞ¸³½š=ýš=½−Þ=šý×−¹Ððş=ˇÞ½Ð×¹ş³ğ×−=¸=½−Þ=
ðˇ½ˇ³ðš¼ˇ³½¸=½−¼=−₣¸ýˇ½−²=×¹ÐÞ=³¼ÞŠ˚³š½š=½−=½žÝ˚¾ğÞ−K

≥ flÞˇ¦˚³½š=½žÞ=šłðˇ½˙³½ˇ³ž=½ğÞ=̌ þš³−¼˙¹=̌ ¼½−ðÐÞ¸½−¼=ýşÞ−=
³š=šþ−¼³Ð−Š−½žý˚Þ−=ðˇÐ=ðˇ½˙ÝÝžÝˇ=šð×ˇÐŠš¼ý˚Þ−=½š₣ÞÐðş=
×¹−³ğ×ÐðşK

Ì=ðˇ½ˇ³ðš¼ˇ³½¸²=Šš=¾˚¹šÐ=ðˇý˝ˇ=š¼¦ĆÞž=łÐˇ=¾¦−¹˚²=¸=ŁÝ˙Łš²=
×−¼=¦ˇ=×¹−ðÝž¦−ĆÞ=ˇ×ş=½ž=ýž=×¹−ŁÝš×şýšÞž=₣¹¸³ž=¸=½ž=ýž=
½¸¹ž³ž=½ğÞ=¼×−Šš˝þšğÞ=×−¼=̌ Þˇ¾˚¹−Þ½ˇÐ=³½Ð²=×ˇ¹−Ć³š²=−Šžł˝š²K

p^o
Ú−=ðÐÞž½ş=³ˇ²=½žÝ˚¾ğÞ−=š˝ÞˇÐ=˚Þˇ²=×−ý×−Š˚ð½ž²=
¹ˇŠÐ−¾ğÞÐðćÞ=³¼₣Þ−½¸½ğÞK=Ò₣šŠÐ˙³½žðš=ć³½š=Þˇ=ýžÞ=
¼×š¹Łˇ˝ÞšÐ=½ˇ=ş¹Ðˇ=˚ð¦š³ž²=³š=¹ˇŠÐ−¾ğÞÐð˙=ðĆýˇ½ˇ=×−¼=
³¼ÞÐ³½−ĆÞ=−Ð=ŠÐš¦Þš˝²=ðˇÞ−ÞÐ³ý−˝K=fl¼½−˝=−Ð=ðˇÞ−ÞÐ³ý−˝=
¦š³×˝³½žðˇÞ=ˇ×ş=½−Þ=ˇÞšþ˙¹½ž½−=š×Ð³½žý−ÞÐðş=−¹łˇÞÐ³ýş=
f`kfom=ðˇÐ=×š¹ÐÝˇýŁ˙Þ−¼Þ=−¼³Ðˇ³½Ðð˚²=¼×−Šš˝þšÐ²=×−¼=
³₣šŠÐ˙³½žðˇÞ=šÐŠÐð˙=łÐˇ=½žÞ=×¹−³½ˇ³˝ˇ=şÝğÞ=½ğÞ=×¹−³ć×ğÞI=
ˇÞšþ˙¹½ž½ˇ=ˇ×ş=žÝÐð˝ˇ=ðˇÐ=ðˇ½˙³½ˇ³ž=¼łš˝ˇ²K=

ÌÐ=ðˇÞ−ÞÐ³ý−˝=₣¹ž³Ðý−×−Ð−ĆÞ=ý˝ˇ=ý−Þ˙Šˇ=ý˚½¹ž³ž²=łÞğ³½¸=ğ²=
péÉÅáÑáÅ=^Äëçêéíáçå=o~íÉ=¸=p^oK=Ú−=ş¹Ð−=p^o=łÐˇ=³¼³ðš¼˚²=
ðÐÞž½ćÞ=−¹˝Žš½ˇÐ=³½ˇ=O=tLâÖ=ðˇÐ=ž=ý˚łÐ³½ž=½Ðý¸=p^o=łÐD=ˇ¼½¸=½ž=
³¼³ðš¼¸=ş½ˇÞ=Š−ðÐý˙³½žðš=³½−=ˇ¼½˝=¸½ˇÞ=MIRQQ=tLâÖ*K=Ëˇ¦ć²=
−Ð=³¼³ðš¼˚²=ðÐÞž½ćÞ=×¹−³¾˚¹−¼Þ=ý˝ˇ=³šÐ¹˙=ÝšÐ½−¼¹łÐćÞI=
ý×−¹−ĆÞ=Þˇ=₣¹ž³Ðý−×−Ð−ĆÞ½ˇÐ=ðˇÐ=³š=˙ÝÝš²=¦˚³šÐ²I=ş×ğ²=łÐˇ=
×ˇ¹˙ŠšÐłýˇ=³½−=³ćýˇ=³Ćý¾ğÞˇ=ýš=½žÞ=×š¹Ðł¹ˇ¾¸=½−¼=−Šžł−Ć=
₣¹¸³ž²**K=Òš=ˇ¼½¸=½žÞ=×š¹˝×½ğ³žI=ž=ý˚łÐ³½ž=šÝšłý˚Þž=½Ðý¸=
p^o=š˝ÞˇÐ=MIUTS=tLâÖK

fl×ş=½ž=³½Ðłý¸=×−¼=ž=½Ðý¸=p^o=ýš½¹˙½ˇÐ=₣¹ž³Ðý−×−ÐćÞ½ˇ²=½ž=
ý˚łÐ³½ž=šÞ˚¹łšÐˇ=ýš½˙Š−³ž²I=ž=×¹ˇłýˇ½Ðð¸=½Ðý¸=p^o=̌ ¼½¸²=½ž²=
³¼³ðš¼¸²=ðˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=½ž²=ÝšÐ½−¼¹ł˝ˇ²=½ž²=¦ˇ=š˝ÞˇÐ=
ýÐð¹ş½š¹ž=ˇ×ş=ˇ¼½¸=×−¼=¼×−ŠšÐðÞĆš½ˇÐ=×ˇ¹ˇ×˙ÞğK=fl¼½ş=
−¾š˝Ýš½ˇÐ=³½Ð²=ˇ¼½şýˇ½š²=ˇÝÝˇł˚²=³½ž=³½˙¦ýž=½ž²=šÞ˚¹łšÐˇ²=
½ž²=³¼³ðš¼¸²=łÐˇ=Þˇ=šþˇ³¾ˇÝÐ³½š˝=½−=ˇ×ˇÐ½−ĆýšÞ−=ðˇ½ć½ˇ½−=
š×˝×šŠ−=šÞ˚¹łšÐˇ²=łÐˇ=×¹ş³Łˇ³ž=³½−=Š˝ð½¼−K=
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Ì=Óˇłðş³ýÐ−²=Ì¹łˇÞÐ³ýş²=Ûłš˝ˇ²=EtçêäÇ=eÉ~äíÜ=lêÖ~åáò~íáçåF=
ˇÞˇ¾˚¹šÐ=ş½Ð=³Ćý¾ğÞˇ=ýš=½Ð²=½šÝš¼½ˇ˝š²=š×Ð³½žý−ÞÐð˚²=
×Ýž¹−¾−¹˝š²=ŠšÞ=₣¹šÐ˙Ž−Þ½ˇÐ=šÐŠÐð˚²=¼×−Šš˝þšÐ²=łÐˇ=½ž=₣¹¸³ž=
ðÐÞž½ćÞ=³¼³ðš¼ćÞK=Ò¼ý×Ýž¹ćÞš½ˇÐ=š×˝³ž²=ş½Ð=š˙Þ=š×Ð¦¼ýš˝½š=
Þˇ=ýšÐć³š½š=½žÞ=˚ð¦š³¸=³ˇ²I=ý×−¹š˝½š=Þˇ=ýšÐć³š½š=½Ð²=ðÝ¸³šÐ²=
¸=Þˇ=₣¹ž³Ðý−×−Ðš˝½š=ý˝ˇ=³¼³ðš¼¸=DÜ~åÇëJÑêÉÉD=łÐˇ=Þˇ=ð¹ˇ½˙½š=½−=
ðÐÞž½ş=³š=ˇ×ş³½ˇ³ž=ˇ×ş=½−=ðš¾˙ÝÐ=ðˇÐ=½−=³ćýˇ=³ˇ²K=

* ÌÐ=˚Ýšł₣−Ð=šð½šÝ−ĆÞ½ˇÐ=³Ćý¾ğÞˇ=ýš=½−¼²=ŠÐš¦Þš˝²=
ðˇÞ−ÞÐ³ý−Ć²=šÝ˚ł₣ğÞK

** Óˇ¹ˇðˇÝ−Ćýš=ˇÞˇ½¹˚þ½š=³½−=½ý¸ýˇ=ÌÔÌÁ=ıÔÂÒÂÒ=³½ž=
³šÝ˝Šˇ NOO=³₣š½Ðð˙=ýš=½Ð²=³ğýˇ½Ðð˚²=ŁÝ˙Łš²K

ÓÈÂÔÌÙÌÔÁ„Ò=Òı„ÚÁËfl=Í„=ÚÂÎ=flÓÌÔÔÁˆÂ=
„ÏÌÓÈÁÒÍÌÛ

^K ÓÝž¹−¾−¹˝š²=³₣š½Ðð˙=ýš=½žÞ=ˇ×ş¹¹ÐĞž=šþ−×ÝÐ³ý−Ć=E−ÐðÐˇð¸=
₣¹¸³žF

NK Ò½žÞ=„¼¹ğ×ˇİð¸=÷Þğ³ž
Ó¹−³−₣¸W flÞ=š×Ð¦¼ýš˝½š=Þˇ=̌ ×−¹¹˝Ğš½š=½−Þ=šþ−×ÝÐ³ýş=̌ ¼½şI=

ýžÞ=₣¹ž³Ðý−×−Ðš˝½š=½−Þ=³¼Þž¦Ð³ý˚Þ−=ð˙Š−=
ˇ×−¹¹Ðýý˙½ğÞ>

Â=š×šþš¹łˇ³˝ˇ=½−¼=₣¹ž³Ðý−×−Ðžý˚Þ−¼=žÝšð½¹Ðð−Ć=ðˇÐ=
žÝšð½¹−ÞÐð−Ć=šþ−×ÝÐ³ý−Ć=×¹˚×šÐ=Þˇ=ł˝Þš½ˇÐ=þš₣ğ¹Ð³½˙=ðˇÐ=³š=
³¼ý¾ğÞ˝ˇ=ýš=½ž=Þ−ý−¦š³˝ˇ=×−¼=ˇ×ˇÐ½š˝=½žÞ=ðˇ½˙ÝÝžÝž=
š×šþš¹łˇ³˝ˇI=ˇ×−ðˇ½˙³½ˇ³ž=ðˇÐ=ˇÞˇðĆðÝğ³ž=½−¼=
₣¹ž³Ðý−×−Ðžý˚Þ−¼=žÝšð½¹Ðð−Ć=ðˇÐ=žÝšð½¹−ÞÐð−Ć=šþ−×ÝÐ³ý−ĆK

÷×šÐ½ˇ=ˇ×ş=³₣š½Ðð¸=š¾ˇ¹ý−ł¸=³š=₣ć¹š²Jý˚ÝžI=−=
₣¹ž³Ðý−×−Ðžý˚Þ−²=žÝšð½¹Ððş²=ðˇÐ=žÝšð½¹−ÞÐðş²=šþ−×ÝÐ³ýş²=
½−¼=ð˙¦š=³×Ð½Ð−Ć=šÞ½ş²=½ž²=„„=ý×−¹š˝=Þˇ=š×Ð³½¹ˇ¾š˝=₣ğ¹˝²=
₣¹˚ğ³ž*=³š=×¹−ðˇ¦−¹Ð³ý˚Þš²=šłðˇ½ˇ³½˙³šÐ²=×š¹Ð³¼ÝÝ−ł¸²K=
Òš=−¹Ð³ý˚Þš²=₣ć¹š²*=š˝ÞˇÐ=Š¼Þˇ½şÞ=Þˇ=š×Ð³½¹˚Ğš½š=½−=×ˇÝÐş=
³ˇ²=×¹−İşÞ=³½−Þ=½−×Ððş=³ˇ²=×¹−ýž¦š¼½¸=₣ğ¹˝²=₣¹˚ğ³žI=ˇÞ=
ˇł−¹˙³š½š=˚Þˇ=×ˇ¹şý−Ð−=ðˇÐÞ−Ć¹łÐ−=×¹−İşÞK

*F ·Ðˇ=×š¹Ð³³ş½š¹š²=×Ýž¹−¾−¹˝š²I=š×Ðð−ÐÞğÞ¸³½š=ýš=½−=¾−¹˚ˇ=
½ž²=×š¹Ð−₣¸²=³ˇ²K

flÞ=−=₣¹ž³Ðý−×−Ðžý˚Þ−²=žÝšð½¹Ððş²=¸=žÝšð½¹−ÞÐðş²=³ˇ²=
šþ−×ÝÐ³ýş²=˚₣šÐ=ý×ˇ½ˇ¹˝š²=¸=³¼³³ğ¹š¼½˚²I=ˇ×−¹¹˝Ğ½š=ˇ¼½˙=
×¹ć½ˇ=þš₣ğ¹Ð³½˙I=³Ćý¾ğÞˇ=ýš=½Ð²=½−×Ðð˚²=ˇ×ˇÐ½¸³šÐ²K

Â=³ğ³½¸=ˇ×ş¹¹ÐĞž=½−¼=×¹−İşÞ½−²=ˇ¼½−Ć=¦ˇ=³ˇ²=Ł−ž¦¸³šÐ=Þˇ=
ŁšŁˇÐğ¦š˝½š=ş½Ð=½ˇ=ˇ×−¹¹˝ýýˇ½ˇ=¼¾˝³½ˇÞ½ˇÐ=½žÞ=ˇ×ˇ¹ˇ˝½ž½ž=
š×šþš¹łˇ³˝ˇI=ˇ×−ðˇ½˙³½ˇ³ž=ðˇÐ=ˇÞˇðĆðÝğ³žI=ˇ×−½¹˚×−Þ½ˇ²=
˚½³Ð=×Ð¦ˇÞ˚²=ˇ¹Þž½Ðð˚²=³¼Þ˚×šÐš²=łÐˇ=½−=×š¹ÐŁ˙ÝÝ−Þ=ðˇÐ=½žÞ=
ˇÞ¦¹ć×ÐÞž=¼łš˝ˇI=−Ð=−×−˝š²=ŠÐˇ¾−¹š½Ðð˙=¦ˇ=ý×−¹−Ć³ˇÞ=Þˇ=
×¹−ðĆĞ−¼Þ=Ýşłğ=½ž²=ˇðˇ½˙ÝÝžÝž²=š×šþš¹łˇ³˝ˇ²=
ˇ×−¹¹Ðýý˙½ğÞK

Ó¹−³−₣¸W Ú−=×¹−İşÞ=³ˇ²=̊ ₣šÐ=³¸ýˇÞ³ž=ýš=̌ ¼½ş=½−=³ĆýŁ−Ý−K=
fl¼½ş=³žýˇ˝ÞšÐ=ş½Ð=½ˇ=₣¹ž³Ðý−×−Ðžý˚Þˇ=žÝšð½¹Ðð˙=
ðˇÐ=žÝšð½¹−ÞÐð˙=×¹−İşÞ½ˇ=ŠšÞ=¦ˇ=×¹˚×šÐ=Þˇ=
ˇÞˇýÐłÞĆ−Þ½ˇÐ=ýš=łšÞÐð˙=−ÐðÐˇð˙=ˇ×−¹¹˝ýýˇ½ˇK=
Û×˙¹₣šÐ=þš₣ğ¹Ð³½ş=³Ć³½žýˇ=×š¹Ð³¼ÝÝ−ł¸²=łÐˇ=½ˇ=
³¼łðšð¹Ðý˚Þˇ=×¹−İşÞ½ˇK
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OK Òš=˙ÝÝš²=₣ć¹š²=šð½ş²=½ž²=„„
flÞ=š×Ð¦¼ýš˝½š=Þˇ=ˇ×−¹¹˝Ğš½š=½−=³¼łðšð¹Ðý˚Þ−=×¹−İşÞI=
š×Ðð−ÐÞğÞ¸³½š=ýš=½−¼²=½−×Ðð−Ć²=³ˇ²=¾−¹š˝²=ðˇÐ=Žž½¸³½š=
×Ýž¹−¾−¹˝š²=łÐˇ=½ž=³ğ³½¸=ý˚¦−Š−=ˇ×ş¹¹ÐĞž²K

_K ÓÝž¹−¾−¹˝š²=³₣š½Ðð˙=ýš=½žÞ=ˇ×ş¹¹ÐĞž=šþ−×ÝÐ³ý−Ć=łÐˇ=
₣¹¸³½š²=³š=š×Ð₣šÐ¹¸³šÐ²K

NK Ò½žÞ=„¼¹ğ×ˇİð¸=÷Þğ³ž
flÞ=½−=×¹−İşÞ=₣¹ž³Ðý−×−Ðš˝½ˇÐ=³š=š×Ð₣šÐ¹¸³šÐ²=ðˇÐ=š×Ð¦¼ýš˝½š=Þˇ=
½−=ˇ×−¹¹˝Ğš½šW

„×Ðð−ÐÞğÞ¸³½š=ýš=½−Þ=×¹−ýž¦š¼½¸=pe^omI=−=−×−˝−²=¦ˇ=³ˇ²=
×Ýž¹−¾−¹¸³šÐ=³₣š½Ðð˙=ýš=½žÞ=š×Ð³½¹−¾¸=½−¼=×¹−İşÞ½−²K=
„ÞŠ˚₣š½ˇÐ=Þˇ=₣¹šğ¦š˝½š=łÐˇ=½−=ðş³½−²=½ž²=š×Ð³½¹−¾¸²=ðˇÐ=½ž²=
ˇÞˇðĆðÝğ³ž²K=Ó¹−İşÞ½ˇ=ýÐð¹−Ć=ýšł˚¦−¼²=EðˇÐ=³š=ýÐð¹˚²=
×−³ş½ž½š²F=šÞŠ˚₣š½ˇÐ=Þˇ=ý×−¹−ĆÞ=Þˇ=š×Ð³½¹ˇ¾−ĆÞ=ˇ×ş=½Ð²=
½−×Ðð˚²=³ˇ²=¼×ž¹š³˝š²=×š¹Ð³¼ÝÝ−ł¸²K

OK Òš=˙ÝÝš²=₣ć¹š²=šð½ş²=½ž²=„„
flÞ=š×Ð¦¼ýš˝½š=Þˇ=ˇ×−¹¹˝Ğš½š=½−=³¼łðšð¹Ðý˚Þ−=×¹−İşÞI=
š×Ðð−ÐÞğÞ¸³½š=ýš=½−¼²=½−×Ðð−Ć²=³ˇ²=¾−¹š˝²=ðˇÐ=Žž½¸³½š=
×Ýž¹−¾−¹˝š²=łÐˇ=½ž=³ğ³½¸=ý˚¦−Š−=ˇ×ş¹¹ÐĞž²K

ÓÔÌÙÛÈflÏ„ÁÒ=·Áfl=ıÔÂÒÂ=ÒÚÁÒ=ÂÓfl
Changes or modifications not expressly approved by the 
manufacturer responsible for compliance could void the user’s 
authority to operate the equipment.

Exposure to Radio Waves

THIS MODEL PHONE MEETS THE GOVERNMENT’S 
REQUIREMENTS FOR EXPOSURE TO RADIO WAVES.
Your wireless phone is a radio transmitter and receiver. It is designed 
and manufactured not to exceed the emission limits for exposure to 
radio frequency (RF) energy set by the Federal Communications 
Commission of the U.S. Government. These limits are part of 
comprehensive guidelines and establish permitted levels of RF 
energy for the general population. The guidelines are based on 
standards that were developed by independent scientific 
organizations through periodic and thorough evaluation of scientific 
studies. The standards include a substantial safety margin designed 
to assure the safety of all persons, regardless of age and health.
The exposure standard for wireless mobile phones employs a unit of 
measurement known as the Specific Absorption Rate, or SAR. The 
SAR limit set by the FCC is 1.6 W/kg.* Tests for SAR are conducted 
using standard operating positions specified by the FCC with the 
phone transmitting at its highest certified power level in all tested 
frequency bands. Although the SAR is determined at the highest 
certified power level, the actual SAR level of the phone while 
operating can be well below the maximum value. This is because the 
phone is designed to operate at multiple power levels so as to use 
only the power required to reach the network. In general, the closer 
you are to a wireless base station antenna, the lower the power 
output.
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Before a phone model is available for sale to the public, it must be 
tested and certified to the FCC that it does not exceed the limit 
established by the government-adopted requirement for safe 
exposure. The tests are performed in positions and locations (e.g., at 
the ear and worn on the body) as required by the FCC for each model. 
The highest SAR value for this model phone when tested for use at 
the ear is 0.355 W/kg and when worn on the body, as described in 
this user guide, is 0.426 W/kg. Body-worn Operation; This device 
was tested for typical body-worn operations with the back of the 
phone kept 1.5 cm from the body. To maintain compliance with FCC 
RF exposure requirements, use accessories that maintain a 1.5 cm 
separation distance between the user’s body and the back of the 
phone. The use of belt-clips, holsters and similar accessories should 
not contain metallic components in its assembly.
The use of accessories that do not satisfy these requirements may 
not comply with FCC RF exposure requirements, and should be 
avoided. While there may be differences between the SAR levels of 
various phones and at various positions, they all meet the government 
requirement for safe exposure.

The FCC has granted an Equipment Authorization for this model 
phone with all reported SAR levels evaluated as in compliance with 
the FCC RF emission guidelines. SAR information on this model 
phone is on file with the FCC and can be found under the Display 
Grant section of http://www.fcc.gov/oet/fccid after searching on FCC 
ID APYHRO00041.
Additional information on Specific Absorption Rates (SAR) can be 
found on the Cellular Telecommunications & Internet Association 
(CTIA) web-site at http://www.phonefacts.net.
* In the United States and Canada, the SAR limit for mobile phones 

used by the public is 1.6 watts/kg (W/kg) averaged over one gram 
of tissue. The standard incorporates a substantial margin of safety 
to give additional protection for the public and to account for any 
variations in measurements.



Úš₣ÞÐð˙=ıˇ¹ˇð½ž¹Ð³½Ðð˙=ðˇÐ=Ó¹−ˇÐ¹š½Ðð˙=ˇþš³−¼˙¹ NOV

Úš₣ÞÐð˙=ıˇ¹ˇð½ž¹Ð³½Ðð˙=ðˇÐ=Ó¹−ˇÐ¹š½Ðð˙=
ˇþš³−¼˙¹

Úš₣ÞÐð˙=ıˇ¹ˇð½ž¹Ð³½Ðð˙
‡˙¹−²W Óš¹˝×−¼=NQU=ł¹K=Eýš=ý×ˇ½ˇ¹˝ˇF

‚Ðˇ³½˙³šÐ²=EÓ=×=Û=×=‡FW Óš¹˝×−¼=RMIM=×=NMUIT=×=OUIR=ãã
Eş½ˇÞ=š˝ÞˇÐ=ðÝšÐ³½şI=₣ğ¹˝²=
×¹−šþ˚₣−Þ½ˇ=ý˚¹žF

Í×ˇ½ˇ¹˝ˇW ÁşÞ½ğÞ=ÈÐ¦˝−¼I=PIT=sI=VMM=ã^Ü

Ó¹−ˇÐ¹š½Ðð˙=ˇþš³−¼˙¹
≥ Í×ˇ½ˇ¹˝ˇ=ÁşÞ½ğÞ=ÈÐ¦˝−¼=EukJN_qTMF
≥ Ù−¹½Ð³½¸²=ˇ¼½−ðÐÞ¸½−¼=EukJN`iPMF
≥ ËˇÝćŠÐ−=ýš½ˇ¾−¹˙²=ŠšŠ−ý˚ÞğÞ=rp_=EukJNa`PMF
≥ Ù−¹½Ð³½¸=šÞˇÝÝˇ³³şýšÞ−¼=¹šĆýˇ½−²=E^`F=EukJNn`PNF
≥ ËˇÝćŠÐ−=„þğ½š¹Ðð¸²=Ëš¹ˇ˝ˇ²=EukJN^qVMF
≥ ÚžÝš₣šÐ¹Ð³½¸¹Ð−=◊₣−¼=EukJN^oVMF
≥ ‡˙³ž=fl¼½−ðÐÞ¸½−¼=EukJN`eVNF
≥ „×Ð½¹ˇ×˚ŽÐˇ=‡˙³ž=EukJNaeVNF
≥ Ò½š¹š−¾ğÞÐðş=flð−¼³½Ððş=EukJNepVMF
≥ Í−Þ˙Šˇ=ÍÐð¹−¾ćÞ−¼=Ù−¹ž½ćÞ=flð−¼³½ÐðćÞ=EukJNerVMF
≥ ËˇÝćŠÐ−=sáÇÉç=EukJNs`VMF
Úˇ=×¹−ˇÞˇ¾š¹şýšÞˇ=ˇþš³−¼˙¹=šÞŠ˚₣š½ˇÐ=Þˇ=ýžÞ=š˝ÞˇÐ=
ŠÐˇ¦˚³Ðýˇ=³š=şÝš²=½Ð²=₣ć¹š²K
·Ðˇ=×š¹Ð³³ş½š¹š²=Ýš×½−ý˚¹šÐš²I=š×Ðð−ÐÞğÞ¸³½š=ýš=½−Þ=
šý×−¹Ððş=³ˇ²=ˇÞ½Ð×¹ş³ğ×−K



NPM „¼¹š½¸¹Ð−

„¼¹š½¸¹Ð−
b
bJ_ççâ UT

p
pÅêÉÉåë~îÉêë TR

s
sáÇÉç=`äáéë ST
sçÇ~ÑçåÉ=äáîÉ> SM

t
t^m=_êçïëÉê SN

fl
¿ÝÝˇ=÷łł¹ˇ¾ˇ ST
flÞˇ×ˇ¹ˇłğł¸=Í−¼³Ðð¸² SP
flÞ½Ðýš½ć×Ð³ž=Ó¹−ŁÝžý˙½ğÞ NOM
flÞ½˝³½¹−¾ž=Í˚½¹ž³ž VM
fl×ş¹¹ž½ˇ=‚šŠ−ý˚Þˇ NMU
fl¹Ð¦ý−ýž₣ˇÞ¸ UQ
fl¹₣š˝−=ËÝ¸³šğÞ NMV
fl³¾˙ÝšÐˇ NMT
fl½Ž˚Þ½ˇ=C=„¹łˇÝš˝ˇ UM

‡
‡−¸¦šÐˇ=ÚžÝš¾ćÞ−¼ VN

‚
‚Ðš¦Þš˝²=ðÝ¸³šÐ² OM

„
„ð×−ý×¸=Ë¼Ğ˚Ýž² RU
÷ÞŠšÐþž=³½˙¦ýž²=¾ş¹½Ð³ž²=
ý×ˇ½ˇ¹˝ˇ² NP

„Þš¹ł−×−˝ž³ž=ðˇÐ=ˇ×šÞš¹ł−×−˝ž³ž=½−¼=
½žÝš¾ćÞ−¼=³ˇ² NR
÷Þ½ˇ³ž=ˇð−¼³½Ðð−Ć OO
„×ˇÞ˙ðÝž³ž ON
„×ˇÞˇ¾−¹˙=Ô¼¦ý˝³šğÞ NMU
„¹łˇ³˝š² UU
„¾ˇ¹ý−ł˚²=pfj VO

Â
ÂýLÞÐˇ=C=›¹ˇ NMM
Âýš¹−ÝşłÐ− UM
Â₣−ł¹˙¾ž³ž=ÙğÞ¸² UR
◊₣−Ð=C=Ë−¼Š−¼Þ˝³ýˇ½ˇ SS

Ê
Ê˚³ž=−¦şÞž² NT

Ë
Ë˙¹½ˇ=pfj NN
Ë˙¹½ˇ=ýÞ¸ýž² NNS
ËÝš˝Šğýˇ=„×ˇ¾ćÞ NMU
ËÝš˝Šğýˇ=ÓÝžð½¹−Ý−ł˝−¼ NR
ËÝš˝Šğýˇ=Ò¼³ðš¼¸² NMT
ËÝš˝Šğýˇ=ÚžÝš¾ćÞ−¼ NMU
ËÝ¸³šÐ²=÷ð½ˇð½ž²=flÞ˙łðž² OM
Ëş³½−²=ËÝ¸³šğÞ NNM
ËğŠÐðş²=mfk NMT
ËğŠÐðş²=mfkO NMT
ËğŠÐðş²=³¼³ðš¼¸² NMU

È
ÈšÐ½−¼¹ł˝ˇ=_äìÉíççíÜ NNN
ÈšÐ½−¼¹ł˝š²=ÓÝ−¸łž³ž² NV

È˝³½ˇ=„×ˇ¾ćÞ PQ
‚Ðˇ₣š˝¹Ð³ž=Ëˇ½žł−¹˝ˇ² PT
„×ÐÝ−ł¸=½ž²=ýÞ¸ýž²=

ˇ×−¦¸ðš¼³ž² PQ
Ëˇ½˙³½ˇ³ž=ýÞ¸ýž² PV
È˝³½ˇ=Úˇ₣š˝ˇ²=ËÝ¸³ž² PV
Ìý˙Šš²=š×ˇ¾ćÞ PU
Ó¹−Ł−Ý¸=Èš×½−ýš¹šÐćÞ=³½Ð²=„×ˇ¾˚²=

ý−¼ PR
Ò¼ł₣¹−ÞÐ³ýş²=Ëˇ½ˇ₣ğ¹¸³šğÞ=

È˝³½ˇ²=„×ˇ¾ćÞ=ýš=fl¼½˚²=×−¼=
Û×˙¹₣−¼Þ=³½−=fåíÉêåÉí QM

Í
ÍšÞ−Ć=ËÝ¸³šğÞ=EËÝ¸³ž=sáÇÉçF OS

flÝÝˇł¸=½ž²=„ÐðşÞˇ²=Òˇ² OS
„ÞˇÝÝˇł¸=„ÐðşÞğÞ OS
„Þš¹ł−×−˝ž³ž=ðˇÐ=fl×šÞš¹ł−×−˝ž³ž=

½ğÞ=Â₣š˝ğÞ OT
Ô¼¦ý˝³šÐ²=ËÝ¸³šğÞ=sáÇÉç OT
Ò˝łˇ³ž=½−¼=ÍÐð¹−¾ćÞ−¼ OS
ı¹¸³ž=½ž²=ÝšÐ½−¼¹ł˝ˇ²=−×½Ðð−Ć=

òççã OT
ÍšÞ−Ć=ËÝ¸³šğÞ=EÙğÞž½Ðð¸=ËÝ¸³žF OO

„Þš¹ł−×−˝ž³ž=ðˇÐ=fl×šÞš¹ł−×−˝ž³ž=
½ğÞ=Â₣š˝ğÞ OO

Ê˚³ž=ý˝ˇ²=ËÝ¸³ž²=³š=flÞˇý−Þ¸ OP
ËÝ¸³ž=³¼ÞŠÐ˙³ðšĞž² OP
Ó¹ş³Łˇ³ž=½−¼=ýšÞ−Ć=pjpLjjp=

ðˇ½˙=½ž=ŠÐ˙¹ðšÐˇ=ý˝ˇ²=
ðÝ¸³ž² OP



„¼¹š½¸¹Ð− NPN

Ò˝łˇ³ž=½−¼=ÍÐð¹−¾ćÞ−¼ OQ
Íš½¹ž½˚²=ËÝ¸³šğÞ NMV
Íš½¹ž½¸²=‚šŠ−ý˚ÞğÞ NMV
ÍžÞĆýˇ½ˇ=EpjpLjjpLbã~áäF QV

fl×−¦¸ðš¼³ž=½−¼=fl¹Ð¦ý−Ć=
ÚžÝš¾ćÞ−¼ RP

fl×−³½−Ý¸=šÞş²=ÍžÞĆýˇ½−²=
ÙğÞž½Ðð−Ć=fl×−³×˙³ýˇ½−²=¸=
šÞş²=ÍžÞĆýˇ½−²=sáÇÉç=`äáé RO

fl×−³½−Ý¸=ÍžÞĆýˇ½−²=ˇ×ş=½ˇ=
Ó¹ş₣šÐ¹ˇ RO

·šÞÐð˚²=Ô¼¦ý˝³šÐ² RS
ËÝš˝Šğýˇ=¸=ÏšðÝš˝Šğýˇ RR
ËÝ¸³ž=½−¼=fl¹Ð¦ý−Ć=ÚžÝš¾ćÞ−¼ RP
È¸Ğž=EÇçïåäç~ÇáåÖF RP
Ó¹−ć¦ž³ž RQ
Ô¼¦ý˝³šÐ²=bã~áä RU
Ô¼¦ý˝³šÐ²=jjp RT
Ô¼¦ý˝³šÐ²=pjp RT
ı¹¸³ž=½ğÞ=„×ÐÝ−łćÞ=fl×−³½−Ý¸² RN

Í×ˇ½ˇ¹˝ˇ NN

Ï
Ï¼×Þž½¸¹Ðˇ UP

Ó
Óˇłðş³ýÐ−=Ô−ÝşÐ VM
ÓˇÐ₣Þ˝ŠÐˇ=C=„¾ˇ¹ý−ł˚² TO

„Þš¹ł−×−˝ž³ž=¸=fl×šÞš¹ł−×−˝ž³ž=
½−¼=pÅêÉÉåë~îÉê TR

ÓÝž¹−¾−¹˝š²=g~î~∑ TS
Ó¹−Ł−Ý¸=ÓÝž¹−¾−¹ÐćÞ=

„¾ˇ¹ý−ł¸² TQ
ÔĆ¦ýÐ³ž=¿ŠšÐˇ² TP

ÓÝž¹−¾−¹˝ˇ=Ë¼Ğ˚Ýž² RV
Ó¹ş½¼×ˇ TN
Ó¹−¾˝Ý VP

Ô
Ô¼¦ý˝³šÐ² VP
Ô¼¦ý˝³šÐ²=fåíÉêåÉí NNR
Ô¼¦ý˝³šÐ²=‚Ðð½Ć−¼ NNQ
Ô¼¦ý˝³šÐ²=◊₣−¼ NMM
Ô¼¦ý˝³šÐ²=ËÝ¸³šğÞ NMO
Ô¼¦ý˝³šÐ²=ËÝ¸³šğÞ=sáÇÉç OT
ÔĆ¦ýÐ³ž=·Ýć³³ˇ² NMN
ÔĆ¦ýÐ³ž=Ì¦şÞž² VT

Ò
Òˇ¹ğ½¸² US
Òžýš˝ğ³ž=„þşŠğÞ VM
Ò¼ÞŠš³Ðýş½ž½ˇ NNN

_äìÉíççíÜ NNN
ÈšÐ½−¼¹ł˝ˇ=³š=×½¸³ž NNR
Ô¼¦ý˝³šÐ²=fåíÉêåÉí NNR
Ô¼¦ý˝³šÐ²=‚Ðð½Ć−¼ NNQ
Û×˚¹¼¦¹š² NNP

ÒĆÞŠš³ž=ýš=Û×−Ý−łÐ³½¸ NNU

Ú
Úˇ₣š˝ˇ=ËÝ¸³ž ON
Ú−=¼ÝÐðş=ý−¼ SR

Û
Û×−Šš˝þšÐ²=fl³¾˙ÝšÐˇ²=ðˇÐ=⁄¹−Ð=
ı¹¸³ž² NOO

Ù
Ùğ½−ł¹ˇ¾˝š² SR

Ùğ½−ł¹ˇ¾Ðð¸=ýž₣ˇÞ¸=E¾ğ½−ł¹ˇ¾˝ˇL
îáÇÉçF QN

„łł¹ˇ¾¸=sáÇÉç=`äáéë QO
„ÞˇÝÝˇł¸=ýš½ˇþĆ=½ž²=ÈšÐ½−¼¹ł˝ˇ²=

Ùğ½−ł¹ˇ¾Ðð¸²=Íž₣ˇÞ¸²=ðˇÐ=
½ž²=ÈšÐ½−¼¹ł˝ˇ²=sáÇÉç QQ

„×ÐÝ−ł¸=‚Ð˙¹ðšÐˇ²=ðˇÐ=Íšł˚¦−¼²=
„łł¹ˇ¾¸² QT

„×ÐÝ−ł¸=½ž²=Ó−Ðş½ž½ˇ²=
Ùğ½−ł¹ˇ¾˝ˇ² QQ

„×ÐÝ−ł¸=½ž²=³ðžÞ¸² QS
„×ÐÝ−ł¸=½−¼=◊₣−¼=ËÝš˝³½¹−¼ QT
„×ÐÝ−ł¸=½−¼=Íšł˚¦−¼²=

Ùğ½−ł¹ˇ¾˝ˇ² QR
Ë−ÐÞ˙=ÓÝ¸ð½¹ˇ=Ò¼Þ½şýš¼³ž² QR
È¸Ğž=Ùğ½−ł¹ˇ¾ÐćÞ QN
Ó¹−³ˇ¹ý−ł¸=½ž²=÷ð¦š³ž² QP
Ô¼¦ý˝³šÐ²=š³½˝ˇ³ž² QQ
Ò¼Þš₣¸²=È¸Ğž QS

ı
ıˇ¹ˇð½¸¹š² OV

flÝÝˇł¸=Íš¦şŠ−¼=„Ð³ˇłğł¸² PM
ı¹¸³ž=Ó¹−½Ć×ğÞ PN

ı¹−Þşýš½¹− UU



NPO È˝³½ˇ=½ğÞ=ÈšÐ½−¼¹łÐćÞ=ÍšÞ−Ć

È˝³½ˇ=½ğÞ=ÈšÐ½−¼¹łÐćÞ=ÍšÞ−Ć

fl¹K=ÍšÞ−ĆLËĆ¹Ð−=ýšÞ−Ć fl¹K=ÍšÞ−ĆLÛ×−ýšÞ−ĆN

1 ‚Ðˇ³ð˚Šˇ³ž
1 ÓˇÐ₣Þ˝ŠÐˇ=C=„¾ˇ¹ý−ł˚²
2 qs=C=sáÇÉç

2 sçÇ~ÑçåÉ=äáîÉ>

1 sçÇ~ÑçåÉ=äáîÉ>
2 „Ð³˙łš½š=roi
3 ÒšÝÐŠ−Šš˝ð½š²
4 „Ð³š¹₣şýK„ÐŠ−×−Ð¸³K
5 fl×−¦¸ðš¼³ž=ÒšÝ˝ŠğÞ
6 Á³½−¹Ððş
7 Ô¼¦ý˝³šÐ²=_êçïëÉê
8 ÌI½Ð=Î˚−
9 Í−¼³Ðð¸G
10 ÓˇÐ₣Þ˝ŠÐˇ
11 oáåÖíçåÉë
12 t~ääé~éÉêë
13 „Þžý˚¹ğ³ž
14 fl¦Ýž½Ðð˙

3 Í−¼³Ðð¸

1 ÚšÝš¼½K=ý−¼³Ððş=ð−ýý˙½ÐL
Ú¹˚₣−¼³ˇ=ˇÞˇ×ˇ¹ˇłğł¸

2 Â=ý−¼³Ðð¸=ý−¼
3 Óš¹Ð¸łK=³š=ý−¼³K=ðˇ½˙³½KG

4 ÍžÞĆýˇ½ˇ

1 ‚žýÐ−¼¹ł˝ˇ=ýžÞĆýˇ½−²
2 „Ð³š¹₣şýšÞˇ
3 Ó¹ş₣šÐ¹ˇ
4 Ò½ˇÝý˚Þˇ
5 „þš¹₣şýšÞˇ
6 sçÇ~ÑçåÉ=jÉëëÉåÖÉê
7 Ó¹ş½¼×−
8 jjp=mÜçíç=^äÄìãG
9 Ô¼¦ý˝³šÐ²=jžÞ¼ý˙½ğÞ
10 Ëˇ½˙³½ˇ³ž=ÍÞ¸ýž²

Gfl¼½ş=½−=ýšÞ−Ć=ŠšÞ=š˝ÞˇÐ=ŠÐˇ¦˚³Ðý−=ˇ×ş=−¹Ð³ý˚Þ−¼²=×ˇ¹−₣š˝²=¼×ž¹š³ÐćÞK

5 Ùğ½−ł¹ˇ¾K=Íž₣ˇÞ¸

6 Ú−=¼ÝÐðş=ý−¼

1 Ùğ½−ł¹ˇ¾˝š²
2 ◊₣−Ð=C=Ë−¼Š−¼Þ˝³ýK
3 ÓˇÐ₣Þ˝ŠÐˇ=C=„¾ˇ¹ý−ł˚²
4 sáÇÉçë
5 Ó¹ş½¼×ˇ=Ëš˝ýšÞˇ
6 ¿ÝÝˇ=÷łł¹ˇ¾ˇ
7 Ëˇ½˙³½K=ÍÞ¸ýž²

7 fl½Ž˚Þ½ˇ=C=„¹łˇÝš˝ˇ

1 Âýš¹−ÝşłÐ−
2 Ï¼×Þž½¸¹Ðˇ
3 fl¹Ð¦ý−ýž₣ˇÞ¸
4 Â₣−ł¹˙¾ž³ž=ÙğÞ¸²
5 Òˇ¹ğ½¸²
6 bJ_ççâ
7 ı¹−Þşýš½¹−
8 „¹łˇ³˝š²
9 Óˇłðş³ýÐˇ=›¹ˇ
10 flÞ½˝³½¹K=Íš½¹ž½K
11 Òžýš˝ğ³ž=„þşŠğÞ
12 ‡−¸¦šÐˇ=ÚžÝš¾ćÞ−¼

8 „×ˇ¾˚²

1 È˝³½ˇ=„×ˇ¾ćÞ
2 ËÝ¸³ž=ÚžÝš¾ğÞK
3 ‚Ðˇ₣š˝¹K=Ëˇ½žłK
4 È˝³½ˇ=Ú̌ ₣K=ËÝ¸³
5 Ò½−Ð₣K=„×ˇ¾K=Í−¼
6 Ìý˙Šš²=š×ˇ¾ćÞ
7 Ò¼ł₣¹−ÞÐ³ýş²
8 Ô¼¦ý˝³šÐ²
9 ‚Ðˇ₣š˝¹Ð³ž=š×ˇ¾ćÞ

fl¹K=ÍšÞ−ĆLËĆ¹Ð−=ýšÞ−Ć fl¹K=ÍšÞ−ĆLÛ×−ýšÞ−ĆN



È˝³½ˇ=½ğÞ=ÈšÐ½−¼¹łÐćÞ=ÍšÞ−Ć NPP

fl¹K=ÍšÞ−ĆLËĆ¹Ð−=ýšÞ−Ć fl¹K=ÍšÞ−ĆLÛ×−ýšÞ−ĆN

9 fl¹₣š˝−=ðÝ¸³šğÞ

1 ⁄Ýš²=−Ð=ËÝ¸³šÐ²
2 ËÝž¦˚Þ½š²=fl¹Ð¦ý−˝
3 flÞˇ×˙Þ½K=ËÝ¸³šÐ²
4 „Ð³š¹₣şýšÞš²
5 Íš½¹ž½˚²=ËÝ¸³K
6 Íš½¹ž½¸²=‚šŠ−ýK
7 Ëş³½−²=ËÝ¸³šğÞGG

10 Ò¼ÞŠš³Ðýş½ž½ˇ

1 _äìÉíççíÜ
2 Û×˚¹¼¦¹š²
3 Ô¼¦ý˝³šÐ²=‚Ðð½Ć−¼
4 ÈšÐ½−¼¹ł˝ˇ=³š=×½¸³ž
5 Ô¼¦ý˝³šÐ²=fåíÉêåÉí
6 Ë˙¹½ˇ=ÍÞ¸ýž²

11 „¾ˇ¹ý−ł˚²=pfj

12 Ô¼¦ý˝³šÐ²

1 Ó¹−¾˝Ý
2 Ô¼¦ý˝³šÐ²=Ì¦şÞž²
3 Ô¼¦ý˝³šÐ²=◊₣−¼
4 ÂýLÞÐˇ=C=›¹ˇ
5 ·Ýć³³ˇ
6 Ô¼¦ýK=ËÝ¸³šğÞ
7 Ô¼¦ýK=ËÝ¸³ž²=sáÇÉç
8 fl³¾˙ÝšÐˇ
9 „×ˇÞˇ¾K=Ô¼¦ýK

GG„þˇ¹½˙½ˇÐ=ˇ×ş=½ˇ=×š¹Ðš₣şýšÞˇ=½ž²=ð˙¹½ˇ²=pfjK


